198 OakLeaf Surgical Hospital 1000 OakLeaf Way

Altoona, WI 54720

715-831-8130

85 & Over

0.8%

1.0%

Hospital Type: GMS

County: Eau Claire

Analysis Area: 5A-West Central

Inpatient Volume Group: 2

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	384	Average Length of Stay (days):	1.9	Discharge Status	% Discharges
Total Patient Days:	728	Average Charge per Discharge:	\$65,149	Home or Self-Care	78.4%
rotair ation Bayo.	720	Average enarge per Blocharge.	φου, τ το	Other GMS Hospital	0.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	16.9%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0			Hospice	0.0%
Total Newborns:	0			Other Institution Home Health Service	0.0% 3.1%
rotai Newborns:	0				3.1% 0.0%
Psychiatric Utilization				Left Against Medical Advice Expired	0.0%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	1.0%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	0	Percent of All Discharges:	0.0%	Medicare	69.5%
Patient Days:	0	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	4.7%
				Other Government	0.8%
				Commercial or Private Insurance	25.0%
				Self-Pay	0.0%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>			<b>Sex Distribution</b>	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	42.2%	38.2%	Amer.Ind/Alaskan Native	e 0.3%	0.7%
Under 15	0.0%	0.0%	Female	57.8%	61.8%	Asian	0.0%	0.0%
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.3%	0.4%
25 - 34	0.5%	0.7%				White	99.5%	98.9%
35 - 44	4.4%	4.5%				Multiracial	0.0%	0.0%
45 - 54	9.1%	11.3%				Declined	0.0%	0.0%
55 - 64	19.8%	24.2%				Unavailable	0 %	0 %
65 - 74	46.4%	40.0%						
75 - 84	19.0%	18.4%						

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	0	N/A	4.2	N/A	3.0	N/A	4.5	N/A		
139 Pneumonia	0	N/A	3.7	N/A	3.3	N/A	4.0	N/A		
140 Chronic Obstructive Pulmonary Disease	0	N/A	3.5	N/A	3.3	N/A	3.6	N/A		
194 Heart Failure	0	N/A	4.3	N/A	3.4	N/A	4.6	N/A		
201 Heart Abnormal Rhythm and Conduction Disorders	0	N/A	2.8	N/A	2.6	N/A	2.8	N/A		
301 Hip Replacement	113	1.3	2.3	0.57	1.9	0.68	2.3	0.57		
302 Knee Replacement	93	2.0	2.1	0.95	2.1	0.95	2.0	1.00		
383 Cellulitis & other skin infections	0	N/A	3.9	N/A	3.9	N/A	4.0	N/A		
463 Kidney/Urinary Tract Infection	0	N/A	3.1	N/A	3.0	N/A	3.6	N/A		
469 Acute kidney injury	0	N/A	4.4	N/A	2.9	N/A	4.6	N/A		
540 Cesarean Delivery	0	N/A	3.0	N/A	3.1	N/A	3.6	N/A		
560 Vaginal Delivery	0	N/A	2.1	N/A	2.0	N/A	2.2	N/A		
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.0	N/A	2.0	N/A	2.1	N/A		
720 Blood Infection/Septicemia	0	N/A	4.8	N/A	3.6	N/A	5.5	N/A		
862 Other Factors Influencing Health Status	0	N/A	8.7	N/A	l 8.7	N/A	8.7	N/A		

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	N/A	N/A	\$27,159	*	\$19,995	*	\$36,517	*
139 Pneumonia	N/A	N/A	\$19,690	*	\$17,968	*	\$26,154	*
140 Chronic Obstructive Pulmonary Disease	N/A	N/A	\$18,026	*	\$18,011	*	\$23,596	*
194 Heart Failure	N/A	N/A	\$22,734	*	\$16,661	*	\$29,512	*
201 Heart Abnormal Rhythm and Conduction Disorders	N/A	N/A	\$16,241	*	\$13,360	*	\$21,125	*
301 Hip Replacement	\$40,167	\$40,892	\$41,021	1.00	\$39,123	1.05	\$50,854	0.80
302 Knee Replacement	\$45,908	\$47,455	\$38,967	1.22	\$39,600	1.20	\$48,781	0.97
383 Cellulitis & other skin infections	N/A	N/A	\$17,014	*	\$15,690	*	\$21,953	*
463 Kidney/Urinary Tract Infection	N/A	N/A	\$13,865	*	\$12,405	*	\$22,097	*
469 Acute kidney injury	N/A	N/A	\$22,197	*	\$14,450	*	\$29,600	*
540 Cesarean Delivery	N/A	N/A	\$19,747	*	\$20,919	*	\$24,895	*
560 Vaginal Delivery	N/A	N/A	\$9,018	*	\$8,631	*	\$12,167	*
640 Normal Newborn, Birthweight 2500g+	N/A	N/A	\$3,539	*	\$4,326	*	\$4,719	*
720 Blood Infection/Septicemia	N/A	N/A	\$32,245	*	\$20,714	*	\$44,340	*
862 Other Factors Influencing Health Status	N/A	N/A	\$24,090	*	\$15,162	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

001 Amery Regional Medical Center

265 Griffin Street East

Amery, WI 54001

715-268-8000

Hospital Type: GMS
County: Polk

Analysis Area: 5A-West Central

Inpatient Volume Group: 3

Overall Hospital Utilization				Patient Discharge Statu	S
Total Discharges:	1,167	Average Length of Stay (days):	4.0	<u>Discharge Status</u>	% Discharges
Total Patient Days:	4,639	Average Charge per Discharge:	\$16,356	Home or Self-Care	74.6%
Total Fatient Days.	7,000	Average onlying per bisonarge.	ψ10,550	Other GMS Hospital	5.2%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths:	59	Percent of All Childbirths:	64.8%	Skilled Nursing Facility	8.7%
Cesarean Childbirths:	29	Percent of All Childbirths:	31.9%	Intermediate Care Facility	1.7%
Other Childbirths:	3	Percent of All Childbirths:	3.3%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	91			Hospice	0.8%
				Other Institution	0.2%
Total Newborns:	79			Home Health Service	1.1%
Psychiatric Utilization				Left Against Medical Advice	0.6%
r sychiatric othization				Expired	1.4%
Discharges:	264	Percent of All Discharges:	22.6%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	1,710	Percent of All Patient Days:	36.9%	Other	5.7%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	26	Percent of All Discharges:	2.2%	Medicare	52.0%
Patient Days:	125	Percent of All Patient Days:	2.7%	Medicaid/BadgerCare	19.1%
				Other Government	1.5%
				Commercial or Private Insurance	27.2%
				Self-Pay	0.3%
				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	6.8%	3.3%	Male	42.7%	44.6%	Amer.Ind/Alaskan Native	e 1.1%	1.5%
Under 15	0.2%	0.1%	Female	57.3%	55.4%	Asian	0.1%	0.0%
15 - 19	2.1%	2.5%				Black/African Amer.	0.7%	0.5%
20 - 24	5.1%	4.6%				Native Hawaii/Pac.Isl.	0.3%	0.2%
25 - 34	13.5%	13.0%				White	92.8%	89.7%
35 - 44	7.6%	7.8%				Multiracial	0.0%	0.0%
45 - 54	7.5%	9.8%				Declined	2.4%	4.4%
55 - 64	12.5%	13.3%				Unavailable	2.6%	3.6%
65 - 74	17.4%	17.0%						
75 - 84	16.4%	17.9%						
85 & Over	11.0%	10.9%						

	This Facili	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	58	3.2	4.2	0.76	3.2	1.00	4.5	0.71	
139 Pneumonia	21	3.0	3.7	0.81	3.3	0.91	4.0	0.75	
140 Chronic Obstructive Pulmonary Disease	19	2.6	3.5	0.74	2.9	0.90	3.6	0.72	
194 Heart Failure	40	3.8	4.3	0.88	3.4	1.12	4.6	0.83	
201 Heart Abnormal Rhythm and Conduction Disorders	18	1.8	2.8	0.64	2.3	0.78	2.8	0.64	
247 Intestinal Obstruction without Surgery	9	2.1	3.3	0.64	2.7	0.78	3.5	0.60	
301 Hip Replacement	39	2.4	2.3	1.04	2.1	1.14	2.3	1.04	
302 Knee Replacement	80	2.1	2.1	1.00	1.9	1.11	2.0	1.05	
383 Cellulitis & other skin infections	10	3.9	3.9	1.00	3.6	1.08	4.0	0.98	
463 Kidney/Urinary Tract Infection	13	2.5	3.1	0.81	2.9	0.86	3.6	0.69	
469 Acute kidney injury	19	2.4	4.4	0.55	2.8	0.86	4.6	0.52	
540 Cesarean Delivery	29	3.1	3.0	1.03	3.0	1.03	3.6	0.86	
560 Vaginal Delivery	59	1.8	2.1	0.86	1.9	0.95	2.2	0.82	
640 Normal Newborn, Birthweight 2500g+	76	1.9	2.0	0.95	2.0	0.95	2.1	0.90	
720 Blood Infection/Septicemia	90	3.2	4.8	0.67	3.6	0.89	5.5	0.58	

· ·	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	-	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$15,420	\$18,000	\$27,159	0.66	\$22,058	0.82	\$36,517	0.49
139 Pneumonia	\$13,086	\$12,652	\$19,690	0.64	\$18,736	0.68	\$26,154	0.48
140 Chronic Obstructive Pulmonary Disease	\$11,431	\$11,735	\$18,026	0.65	\$16,687	0.70	\$23,596	0.50
194 Heart Failure	\$14,651	\$16,343	\$22,734	0.72	\$18,675	0.88	\$29,512	0.55
201 Heart Abnormal Rhythm and Conduction Disorders	\$8,340	\$8,558	\$16,241	0.53	\$13,920	0.61	\$21,125	0.41
247 Intestinal Obstruction without Surgery	\$9,082	\$9,071	\$14,181	0.64	\$13,214	0.69	\$21,879	0.41
301 Hip Replacement	\$36,409	\$35,003	\$41,021	0.85	\$43,894	0.80	\$50,854	0.69
302 Knee Replacement	\$37,824	\$39,034	\$38,967	1.00	\$45,311	0.86	\$48,781	0.80
383 Cellulitis & other skin infections	\$15,606	\$18,947	\$17,014	1.11	\$16,011	1.18	\$21,953	0.86
463 Kidney/Urinary Tract Infection	\$9,314	\$9,928	\$13,865	0.72	\$13,197	0.75	\$22,097	0.45
469 Acute kidney injury	\$8,555	\$10,361	\$22,197	0.47	\$14,980	0.69	\$29,600	0.35
540 Cesarean Delivery	\$19,443	\$19,619	\$19,747	0.99	\$21,375	0.92	\$24,895	0.79
560 Vaginal Delivery	\$7,029	\$6,833	\$9,018	0.76	\$8,800	0.78	\$12,167	0.56
640 Normal Newborn, Birthweight 2500g+	\$2,899	\$2,979	\$3,539	0.84	\$3,780	0.79	\$4,719	0.63
720 Blood Infection/Septicemia	\$13,891	\$18,340	\$32,245	0.57	\$23,568	0.78	\$44,340	0.41

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

002 Aspirus Langlade Hospital 112 East Fifth Avenue

Antigo, WI 54409

Hospital Type: GMS

County: Langlade

Analysis Area: 6-North Central

715-623-2331				Inpatient Volume Group: 3	
Overall Hospital Utilization				Patient Discharge Statu	<u></u> <u>is</u>
Total Discharges:	1,413	Average Length of Stay (days):	2.9	<u>Discharge Status</u>	% Discharges
Total Patient Days:	4,110	Average Charge per Discharge:	\$17,756	Home or Self-Care Other GMS Hospital	67.2% 5.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges: Patient Days:	171 74 14 259 254	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges: Percent of All Patient Days:	66.0% 28.6% 5.4% 0.1%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	10.8% 2.1% 0.0% 1.8% 0.0% 10.3% 0.4% 1.1% 0.1% 0.3%
r ducin Days.	7	refeelt of Air Fatient Days.	0.170	Expected Pay Source Distril	
AODA Utilization				Primary Payer	% Discharges
Discharges:	5	Percent of All Discharges:	0.4%	Medicare	40.4%
Patient Days:	10	Percent of All Patient Days:	0.2%	Medicaid/BadgerCare	20.6%
				Other Government	2.8%
				Commercial or Private Insurance	36.2%
				Self-Pay	0.0%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>	Ĺ		Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	18.0%	11.1%	Male	38.5%	40.0%	Amer.Ind/Alaskan Native	e 5.7%	4.8%
Under 15	0.5%	0.3%	Female	61.5%	60.0%	Asian	0.0%	0.0%
15 - 19	1.0%	0.9%				Black/African Amer.	0.2%	0.1%
20 - 24	5.7%	4.2%				Native Hawaii/Pac.Isl.	0.2%	0.2%
25 - 34	12.2%	9.0%				White	87.8%	90.7%
35 - 44	4.1%	4.4%				Multiracial	0.7%	0.5%
45 - 54	3.3%	3.2%				Declined	0.0%	0.0%
55 - 64	11.0%	11.5%				Unavailable	5.3%	3.6%
65 - 74	16.4%	20.2%						
75 - 84	16.3%	19.7%						
85 & Over	11.6%	15.7%						

	This Facil	ity	Group Averages					
			Analys	sis Area	Inpatient V	patient Volume Group		<u>ospitals</u>
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	14	4.4	4.1	1.07	3.2	1.38	4.5	0.98
139 Pneumonia	61	3.6	3.8	0.95	3.3	1.09	4.0	0.90
140 Chronic Obstructive Pulmonary Disease	39	2.6	3.4	0.76	2.9	0.90	3.6	0.72
194 Heart Failure	82	3.8	4.2	0.90	3.4	1.12	4.6	0.83
201 Heart Abnormal Rhythm and Conduction Disorders	27	2.6	2.6	1.00	2.3	1.13	2.8	0.93
247 Intestinal Obstruction without Surgery	24	2.4	3.5	0.69	2.7	0.89	3.5	0.69
301 Hip Replacement	21	2.9	2.2	1.32	2.1	1.38	2.3	1.26
302 Knee Replacement	24	1.5	1.7	0.88	1.9	0.79	2.0	0.75
383 Cellulitis & other skin infections	23	4.3	3.6	1.19	3.6	1.19	4.0	1.08
463 Kidney/Urinary Tract Infection	16	3.6	3.4	1.06	2.9	1.24	3.6	1.00
469 Acute kidney injury	38	3.1	4.1	0.76	2.8	1.11	4.6	0.67
540 Cesarean Delivery	74	2.8	3.8	0.74	3.0	0.93	3.6	0.78
560 Vaginal Delivery	171	1.8	2.1	0.86	1.9	0.95	2.2	0.82
640 Normal Newborn, Birthweight 2500g+	246	1.8	2.1	0.86	2.0	0.90	2.1	0.86
720 Blood Infection/Septicemia	98	4.6	5.5	0.84	3.6	1.28	5.5	0.84

•	_	• •	•	•	-	•		
	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$28,434	\$27,443	\$28,209	0.97	\$22,058	1.24	\$36,517	0.75
139 Pneumonia	\$20,906	\$20,870	\$21,418	0.97	\$18,736	1.11	\$26,154	0.80
140 Chronic Obstructive Pulmonary Disease	\$16,953	\$17,626	\$20,180	0.87	\$16,687	1.06	\$23,596	0.75
194 Heart Failure	\$20,607	\$21,066	\$23,893	0.88	\$18,675	1.13	\$29,512	0.71
201 Heart Abnormal Rhythm and Conduction Disorders	\$16,304	\$15,960	\$17,528	0.91	\$13,920	1.15	\$21,125	0.76
247 Intestinal Obstruction without Surgery	\$15,586	\$14,817	\$19,263	0.77	\$13,214	1.12	\$21,879	0.68
301 Hip Replacement	\$42,189	\$43,361	\$44,625	0.97	\$43,894	0.99	\$50,854	0.85
302 Knee Replacement	\$38,743	\$40,329	\$42,608	0.95	\$45,311	0.89	\$48,781	0.83
383 Cellulitis & other skin infections	\$19,575	\$18,046	\$18,077	1.00	\$16,011	1.13	\$21,953	0.82
463 Kidney/Urinary Tract Infection	\$19,548	\$19,869	\$18,556	1.07	\$13,197	1.51	\$22,097	0.90
469 Acute kidney injury	\$18,727	\$20,519	\$24,143	0.85	\$14,980	1.37	\$29,600	0.69
540 Cesarean Delivery	\$19,304	\$20,750	\$24,073	0.86	\$21,375	0.97	\$24,895	0.83
560 Vaginal Delivery	\$8,424	\$8,804	\$10,079	0.87	\$8,800	1.00	\$12,167	0.72
640 Normal Newborn, Birthweight 2500g+	\$4,455	\$4,968	\$5,603	0.89	\$3,780	1.31	\$4,719	1.05
720 Blood Infection/Septicemia	\$27,149	\$31,459	\$34,953	0.90	\$23,568	1.33	\$44,340	0.71

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 004 Ascension NE Wisconsin - St. Elizabeth Campus

1506 South Oneida Street

Appleton, WI 54915

920-738-2000

85 & Over

6.2%

6.8%

Hospital Type: GMS

Inpatient Volume Group: 6

County: Outagamie

Analysis Area: 3-Lake Winnebago

Patient Discharge Status
--------------------------

Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	9,080	Average Length of Stay (days):	4.1	Discharge Status	% Discharges
Total Patient Days:	36,988	Average Charge per Discharge:	\$23,122	Home or Self-Care	74.7%
Total Fatient Bays.	00,000	Average onlarge per Discharge.	ΨΖΟ, 1ΖΖ	Other GMS Hospital	0.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	835	Percent of All Childbirths:	75.4%	Skilled Nursing Facility	9.1%
Cesarean Childbirths:	242	Percent of All Childbirths:	21.9%	Intermediate Care Facility	1.3%
Other Childbirths:	30	Percent of All Childbirths:	2.7%	Inpatient Rehabilitation Facility	0.4%
Total Childbirths:	1,107		2.1 70	Hospice	1.4%
rotal offiliabilities	1,107			Other Institution	0.2%
Total Newborns:	1,137			Home Health Service	7.3%
Psychiatric Utilization				Left Against Medical Advice	1.0%
<u>Psychiatric Othization</u>				Expired	2.1%
Discharges:	1,700	Percent of All Discharges:	18.7%	Discharge/Tran to Court/Law Enforcmnt	0.6%
Patient Days:	7,393	Percent of All Patient Days:	20.0%	Other	1.1%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	423	Percent of All Discharges:	4.7%	Medicare	32.7%
Patient Days:	1,273	Percent of All Patient Days:	3.4%	Medicaid/BadgerCare	25.6%
				Other Government	2.3%
				Commercial or Private Insurance	37.9%
				Self-Pay	1.4%
				Other or Unknown Insurance	0.0%

	Age Distribution	i		Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	12.5%	12.2%	Male	44.5%	46.7%	Amer.Ind/Alaskan Native	1.3%	1.4%
Under 15	6.7%	8.7%	Female	55.5%	53.3%	Asian	2.9%	2.5%
15 - 19	6.9%	7.6%				Black/African Amer.	3.2%	3.3%
20 - 24	4.8%	3.2%				Native Hawaii/Pac.Isl.	0.1%	0.0%
25 - 34	12.5%	8.5%				White	91.2%	91.6%
35 - 44	7.6%	5.7%				Multiracial	0.0%	0.0%
45 - 54	7.1%	7.3%				Declined	1.4%	1.1%
55 - 64	10.6%	12.4%				Unavailable	0 %	0 %
65 - 74	14.0%	15.2%						
75 - 84	11.1%	12.4%						

	Group Averages							
			Analysis Area		Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	128	4.1	3.7	1.11	4.6	0.89	4.2	0.98
133 Respiratory failure	76	4.1	4.0	1.03	4.9	0.84	4.5	0.91
139 Pneumonia	86	3.7	3.5	1.06	4.2	0.88	4.0	0.93
174 Percutaneous coronary intervention w AMI	120	3.4	2.7	1.26	3.0	1.13	3.0	1.13
175 Percutaneous coronary intervention w/o AMI	36	2.9	2.7	1.07	3.1	0.94	3.1	0.94
194 Heart Failure	184	4.2	3.8	1.11	5.0	0.84	4.6	0.91
201 Heart Abnormal Rhythm and Conduction Disorders	88	3.0	2.7	1.11	2.9	1.03	2.8	1.07
301 Hip Replacement	233	2.4	2.2	1.09	2.5	0.96	2.3	1.04
302 Knee Replacement	196	2.2	1.8	1.22	2.1	1.05	2.0	1.10
469 Acute kidney injury	81	4.4	4.0	1.10	5.2	0.85	4.6	0.96
540 Cesarean Delivery	242	3.7	3.2	1.16	4.0	0.93	3.6	1.03
560 Vaginal Delivery	835	2.2	2.0	1.10	2.3	0.96	2.2	1.00
640 Normal Newborn, Birthweight 2500g+	992	2.4	2.2	1.09	2.2	1.09	2.1	1.14
720 Blood Infection/Septicemia	310	5.7	4.9	1.16	6.1	0.93	5.5	1.04
751 Psychoses	978	4.5	4.7	0.96	5.1	0.88	5.1	0.88

	This Fac	Risk Adjusted Group Averages								
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
045 Stroke and Precerebral Occlusion with Infarct	\$26,529	\$24,230	\$24,741	0.98	\$43,048	0.56	\$39,987	0.61		
133 Respiratory failure	\$22,704	\$24,818	\$24,316	1.02	\$39,891	0.62	\$36,517	0.68		
139 Pneumonia	\$15,875	\$14,676	\$17,991	0.82	\$29,201	0.50	\$26,154	0.56		
174 Percutaneous coronary intervention w AMI	\$77,333	\$73,152	\$55,968	1.31	\$73,358	1.00	\$73,175	1.00		
175 Percutaneous coronary intervention w/o AMI	\$68,705	\$74,981	\$76,102	0.99	\$109,236	0.69	\$106,404	0.70		
194 Heart Failure	\$19,061	\$17,644	\$17,633	1.00	\$32,710	0.54	\$29,512	0.60		
201 Heart Abnormal Rhythm and Conduction Disorders	\$14,554	\$13,958	\$15,459	0.90	\$22,164	0.63	\$21,125	0.66		
301 Hip Replacement	\$41,113	\$39,461	\$38,732	1.02	\$53,491	0.74	\$50,854	0.78		
302 Knee Replacement	\$38,189	\$35,760	\$35,838	1.00	\$52,844	0.68	\$48,781	0.73		
469 Acute kidney injury	\$16,710	\$15,455	\$18,337	0.84	\$33,062	0.47	\$29,600	0.52		
540 Cesarean Delivery	\$10,871	\$10,415	\$14,869	0.70	\$25,062	0.42	\$24,895	0.42		
560 Vaginal Delivery	\$4,438	\$4,304	\$5,768	0.75	\$12,661	0.34	\$12,167	0.35		
640 Normal Newborn, Birthweight 2500g+	\$3,446	\$3,016	\$3,376	0.89	\$5,036	0.60	\$4,719	0.64		
720 Blood Infection/Septicemia	\$28,329	\$28,681	\$27,861	1.03	\$50,089	0.57	\$44,340	0.65		
751 Psychoses	\$9,145	#	#	#	#	#	#	#		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

003 ThedaCare Regional Medical Center - Appleton, Inc.

1818 North Meade Street

Appleton, WI 54911 Analysis Area: 3-Lake Winnebago

Hospital Type: GMS

County: Outagamie

**920-731-4101** Inpatient Volume Group: 6

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	9,228	Average Length of Stay (days):	3.6	<u>Discharge Status</u>	% Discharges
Total Patient Days:	32,834	Average Charge per Discharge:	\$24,755	Home or Self-Care	69.6%
•	02,004	Average onlying per bischarge.	Ψ24,700	Other GMS Hospital	1.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	714	Percent of All Childbirths:	72.6%	Skilled Nursing Facility	12.9%
Cesarean Childbirths:	221	Percent of All Childbirths:	22.5%	Intermediate Care Facility	0.0%
Other Childbirths:	49	Percent of All Childbirths:	5.0%	Inpatient Rehabilitation Facility	0.2%
Total Childbirths:	984			Hospice Other Institution	4.2% 0.0%
Total Newborns:	1,001			Home Health Service	8.2%
Total Newborns.	1,001			Left Against Medical Advice	0.3%
Psychiatric Utilization				Expired	1.6%
Discharges:	2	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	4	Percent of All Patient Days:	0.0%	Other	1.0%
				<b>Expected Pay Source Distrik</b>	oution
AODA Utilization				Primary Payer	% Discharges
Discharges:	46	Percent of All Discharges:	0.5%	Medicare	53.4%
Patient Days:	120	Percent of All Patient Days:	0.4%	Medicaid/BadgerCare	8.5%
				Other Government	1.3%
				Commercial or Private Insurance	34.1%
				Self-Pay	2.2%
				Other or Unknown Insurance	0.3%

	Age Distribution			Sex Distribution	<u>1</u>	Race Distribution		
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	10.8%	5.8%	Male	48.5%	51.5%	Amer.Ind/Alaskan Native	e 1.5%	1.7%
Under 15	0.0%	0.0%	Female	51.5%	48.5%	Asian	2.0%	1.3%
15 - 19	0.4%	0.4%				Black/African Amer.	1.2%	1.0%
20 - 24	2.0%	1.3%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	10.1%	6.7%				White	92.7%	93.9%
35 - 44	5.3%	4.9%				Multiracial	0.1%	0.1%
45 - 54	7.1%	7.7%				Declined	0.1%	0.1%
55 - 64	15.3%	18.0%				Unavailable	2.5%	1.9%
65 - 74	22.0%	25.1%						
75 - 84	17.2%	19.7%						
85 & Over	9.5%	10.4%						

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
045 Stroke and Precerebral Occlusion with Infarct	72	3.3	3.7	0.89	4.6	0.72	4.2	0.79	
133 Respiratory failure	138	3.9	4.0	0.98	4.9	0.80	4.5	0.87	
139 Pneumonia	117	3.4	3.5	0.97	4.2	0.81	4.0	0.85	
174 Percutaneous coronary intervention w AMI	271	2.5	2.7	0.93	3.0	0.83	3.0	0.83	
175 Percutaneous coronary intervention w/o AMI	143	3.0	2.7	1.11	3.1	0.97	3.1	0.97	
194 Heart Failure	403	3.8	3.8	1.00	5.0	0.76	4.6	0.83	
201 Heart Abnormal Rhythm and Conduction Disorders	224	2.5	2.7	0.93	2.9	0.86	2.8	0.89	
301 Hip Replacement	212	2.5	2.2	1.14	2.5	1.00	2.3	1.09	
302 Knee Replacement	163	2.5	1.8	1.39	2.1	1.19	2.0	1.25	
469 Acute kidney injury	177	4.2	4.0	1.05	5.2	0.81	4.6	0.91	
540 Cesarean Delivery	221	2.8	3.2	0.88	4.0	0.70	3.6	0.78	
560 Vaginal Delivery	714	1.9	2.0	0.95	2.3	0.83	2.2	0.86	
640 Normal Newborn, Birthweight 2500g+	949	1.9	2.2	0.86	2.2	0.86	2.1	0.90	
720 Blood Infection/Septicemia	767	4.6	4.9	0.94	6.1	0.75	5.5	0.84	
751 Psychoses	*	*	4.7	*	J 5.1	*	5.1	*	

### APR-DRG Specific Data - Average Charge per Discharge (Actual & Risk-Adjusted^)

		This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description		Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
045	Stroke and Precerebral Occlusion with Infarct	\$18,882	\$19,877	\$24,741	0.80	\$43,048	0.46	\$39,987	0.50
133 F	Respiratory failure	\$18,825	\$18,395	\$24,316	0.76	\$39,891	0.46	\$36,517	0.50
139 F	Pneumonia	\$14,262	\$13,585	\$17,991	0.76	\$29,201	0.47	\$26,154	0.52
174 F	Percutaneous coronary intervention w AMI	\$38,700	\$40,500	\$55,968	0.72	\$73,358	0.55	\$73,175	0.55
175 F	Percutaneous coronary intervention w/o AMI	\$71,481	\$68,232	\$76,102	0.90	\$109,236	0.62	\$106,404	0.64
194 H	Heart Failure	\$13,230	\$13,118	\$17,633	0.74	\$32,710	0.40	\$29,512	0.44
201 H	Heart Abnormal Rhythm and Conduction Disorders	\$9,391	\$10,256	\$15,459	0.66	\$22,164	0.46	\$21,125	0.49
301 H	Hip Replacement	\$35,628	\$36,742	\$38,732	0.95	\$53,491	0.69	\$50,854	0.72
302 k	Knee Replacement	\$34,629	\$35,026	\$35,838	0.98	\$52,844	0.66	\$48,781	0.72
469 A	Acute kidney injury	\$16,567	\$15,028	\$18,337	0.82	\$33,062	0.45	\$29,600	0.51
540 (	Cesarean Delivery	\$12,863	\$13,893	\$14,869	0.93	\$25,062	0.55	\$24,895	0.56
560 \	/aginal Delivery	\$4,786	\$5,023	\$5,768	0.87	\$12,661	0.40	\$12,167	0.41
640 N	Normal Newborn, Birthweight 2500g+	\$2,731	\$2,693	\$3,376	0.80	\$5,036	0.53	\$4,719	0.57
720 E	Blood Infection/Septicemia	\$21,676	\$21,934	\$27,861	0.79	\$50,089	0.44	\$44,340	0.49
751 F	Psychoses	*	#	#	*	#	*	#	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

**006 Memorial Medical Center** 

1615 Maple Lane

Ashland, WI 54806

715-685-5500

85 & Over

7.3%

8.1%

Hospital Type: GMS County: Ashland

Inpatient Volume Group: 4

Analysis Area: 7-Western Lake Superior

Patient Discharge Status
--------------------------

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	2,282	Average Length of Stay (days):	3.1	Discharge Status	% Discharges
Total Patient Days:	7,100	Average Charge per Discharge:	\$15,668	Home or Self-Care Other GMS Hospital	76.7% 4.6%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.2%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	132 54 9 195 191	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges:	67.7% 27.7% 4.6%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	8.9% 0.9% 0.7% 1.2% 0.0% 1.9% 1.4% 0.2%
Patient Days:	2,198	Percent of All Patient Days:	31.0%		1.8%
AODA Utilization				Expected Pay Source Distrib Primary Payer	% Discharges
Discharges:	197	Percent of All Discharges:	8.6%	Medicare	44.7%
Patient Days:	811	Percent of All Patient Days:	11.4%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	20.3% 2.3% 29.2% 3.5% 0.0%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Race Distribution		
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	8.4%	6.1%	Male	43.6%	42.5%	Amer.Ind/Alaskan Native	14.7%	16.1%
Under 15	1.2%	0.7%	Female	56.4%	57.5%	Asian	0.1%	0.2%
15 - 19	1.6%	1.5%				Black/African Amer.	0.4%	0.6%
20 - 24	4.2%	5.1%				Native Hawaii/Pac.Isl.	0.2%	0.2%
25 - 34	13.8%	16.4%				White	82.9%	80.8%
35 - 44	7.8%	10.0%				Multiracial	0.7%	1.3%
45 - 54	11.1%	13.9%				Declined	1.0%	0.8%
55 - 64	14.8%	14.8%				Unavailable	0 %	0 %
65 - 74	17.4%	13.2%						
75 - 84	12.5%	10.1%						

	This Facil	ity			Group A	Averages		
			Analysis Area		Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	7	3.7	2.8	1.32	3.6	1.03	4.5	0.82
139 Pneumonia	57	3.2	3.3	0.97	3.5	0.91	4.0	0.80
140 Chronic Obstructive Pulmonary Disease	55	3.3	3.2	1.03	3.2	1.03	3.6	0.92
194 Heart Failure	55	3.0	3.4	0.88	3.6	0.83	4.6	0.65
201 Heart Abnormal Rhythm and Conduction Disorders	42	2.0	2.4	0.83	2.5	0.80	2.8	0.71
301 Hip Replacement	118	1.1	1.3	0.85	1.9	0.58	2.3	0.48
302 Knee Replacement	224	1.1	1.2	0.92	1.7	0.65	2.0	0.55
383 Cellulitis & other skin infections	42	2.9	3.1	0.94	3.5	0.83	4.0	0.73
463 Kidney/Urinary Tract Infection	30	2.7	2.8	0.96	3.1	0.87	3.6	0.75
469 Acute kidney injury	15	3.1	3.3	0.94	3.3	0.94	4.6	0.67
540 Cesarean Delivery	54	3.2	3.2	1.00	2.9	1.10	3.6	0.89
560 Vaginal Delivery	132	2.1	2.0	1.05	2.0	1.05	2.2	0.95
640 Normal Newborn, Birthweight 2500g+	170	2.1	2.1	1.00	1.9	1.11	2.1	1.00
720 Blood Infection/Septicemia	55	3.5	3.2	1.09	4.2	0.83	5.5	0.64
775 Alcohol Abuse/Dependence	138	4.1	3.9	1.05	3.7	1.11	3.7	1.11

	This Fac			Risk Adjusted	Group Averages			
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$15,193	\$17,717	\$15,822	1.12	\$31,273	0.57	\$36,517	0.49
139 Pneumonia	\$13,057	\$15,501	\$15,634	0.99	\$23,233	0.67	\$26,154	0.59
140 Chronic Obstructive Pulmonary Disease	\$14,176	\$15,436	\$15,430	1.00	\$21,959	0.70	\$23,596	0.65
194 Heart Failure	\$11,638	\$14,095	\$15,904	0.89	\$25,091	0.56	\$29,512	0.48
201 Heart Abnormal Rhythm and Conduction Disorders	\$9,213	\$10,575	\$10,785	0.98	\$19,443	0.54	\$21,125	0.50
301 Hip Replacement	\$27,750	\$28,651	\$29,149	0.98	\$45,617	0.63	\$50,854	0.56
302 Knee Replacement	\$31,905	\$33,473	\$33,898	0.99	\$43,239	0.77	\$48,781	0.69
383 Cellulitis & other skin infections	\$10,880	\$11,353	\$11,572	0.98	\$19,644	0.58	\$21,953	0.52
463 Kidney/Urinary Tract Infection	\$10,594	\$10,154	\$10,211	0.99	\$19,748	0.51	\$22,097	0.46
469 Acute kidney injury	\$9,937	\$11,690	\$12,754	0.92	\$23,728	0.49	\$29,600	0.39
540 Cesarean Delivery	\$21,590	\$21,402	\$20,863	1.03	\$24,480	0.87	\$24,895	0.86
560 Vaginal Delivery	\$7,765	\$7,663	\$8,332	0.92	\$11,116	0.69	\$12,167	0.63
640 Normal Newborn, Birthweight 2500g+	\$3,658	\$3,660	\$4,092	0.89	\$4,155	0.88	\$4,719	0.78
720 Blood Infection/Septicemia	\$17,367	\$20,524	\$18,825	1.09	\$33,720	0.61	\$44,340	0.46
775 Alcohol Abuse/Dependence	\$12,166	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

### 007 Western Wisconsin Health

1100 Bergslien St

Baldwin, WI 54002

715-684-3311 Inpatient Volume Group: 2

Hospital Type: GMS

County: Saint Croix

Analysis Area: 5A-West Central

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	684	Average Length of Stay (days):	2.8	Discharge Status	% Discharges
Total Patient Days:	1,924	Average Charge per Discharge:	\$10,476	Home or Self-Care	82.9%
Total Fations Bayo.	1,021	Avoidge charge per Bloomarge.	Ψ10,170	Other GMS Hospital	8.3%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	159	Percent of All Childbirths:	82.4%	Skilled Nursing Facility	3.2%
Cesarean Childbirths:	18	Percent of All Childbirths:	9.3%	Intermediate Care Facility	0.0%
Other Childbirths:	16	Percent of All Childbirths:	8.3%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	193			Hospice	0.1%
				Other Institution	1.0%
Total Newborns:	194			Home Health Service	1.6%
Psychiatric Utilization				Left Against Medical Advice	0.3%
				Expired	0.3%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	2.2%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	4	Percent of All Discharges:	0.6%	Medicare	32.0%
Patient Days:	9	Percent of All Patient Days:	0.5%	Medicaid/BadgerCare	15.1%
				Other Government	1.2%
				Commercial or Private Insurance	49.4%
				Self-Pay	2.3%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>	<u>n</u> <u>Sex Distribution</u>				Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	28.4%	17.3%	Male	34.1%	35.3%	Amer.Ind/Alaskan Native	0.0%	0.0%	
Under 15	0.6%	0.3%	Female	65.9%	64.7%	Asian	0.4%	0.3%	
15 - 19	0.9%	0.7%				Black/African Amer.	0.4%	0.4%	
20 - 24	4.2%	3.3%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	18.7%	13.4%				White	97.7%	97.5%	
35 - 44	8.6%	6.3%				Multiracial	0.7%	1.2%	
45 - 54	2.5%	2.5%				Declined	0.7%	0.6%	
55 - 64	8.9%	15.3%				Unavailable	0 %	0 %	
65 - 74	8.2%	12.1%							
75 - 84	10.8%	17.0%							
85 & Over	8.2%	11.7%							

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	<u>ospitals</u>
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	5	2.4	4.2	0.57	3.0	0.80	4.5	0.53
139 Pneumonia	16	2.8	3.7	0.76	3.3	0.85	4.0	0.70
140 Chronic Obstructive Pulmonary Disease	9	3.7	3.5	1.06	3.3	1.12	3.6	1.03
194 Heart Failure	29	3.1	4.3	0.72	3.4	0.91	4.6	0.67
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.8	*	2.6	*	2.8	*
301 Hip Replacement	*	*	2.3	*	1.9	*	2.3	*
302 Knee Replacement	18	2.3	2.1	1.10	2.1	1.10	2.0	1.15
383 Cellulitis & other skin infections	*	*	3.9	*	3.9	*	4.0	*
463 Kidney/Urinary Tract Infection	*	*	3.1	*	3.0	*	3.6	*
469 Acute kidney injury	7	2.3	4.4	0.52	2.9	0.79	4.6	0.50
540 Cesarean Delivery	18	2.9	3.0	0.97	3.1	0.94	3.6	0.81
560 Vaginal Delivery	159	1.9	2.1	0.90	2.0	0.95	2.2	0.86
640 Normal Newborn, Birthweight 2500g+	186	1.7	2.0	0.85	2.0	0.85	2.1	0.81
720 Blood Infection/Septicemia	49	3.5	4.8	0.73	3.6	0.97	5.5	0.64
862 Other Factors Influencing Health Status	12	15.2	8.7	1.75	8.7	1.75	8.7	1.75

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	-	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$10,472	\$13,970	\$27,159	0.51	\$19,995	0.70	\$36,517	0.38
139 Pneumonia	\$10,528	\$12,724	\$19,690	0.65	\$17,968	0.71	\$26,154	0.49
140 Chronic Obstructive Pulmonary Disease	\$11,189	\$13,657	\$18,026	0.76	\$18,011	0.76	\$23,596	0.58
194 Heart Failure	\$10,974	\$13,866	\$22,734	0.61	\$16,661	0.83	\$29,512	0.47
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	\$16,241	*	\$13,360	*	\$21,125	*
301 Hip Replacement	*	*	\$41,021	*	\$39,123	*	\$50,854	*
302 Knee Replacement	\$42,618	\$45,166	\$38,967	1.16	\$39,600	1.14	\$48,781	0.93
383 Cellulitis & other skin infections	*	*	\$17,014	*	\$15,690	*	\$21,953	*
463 Kidney/Urinary Tract Infection	*	*	\$13,865	*	\$12,405	*	\$22,097	*
469 Acute kidney injury	\$5,256	\$8,316	\$22,197	0.37	\$14,450	0.58	\$29,600	0.28
540 Cesarean Delivery	\$19,049	\$19,618	\$19,747	0.99	\$20,919	0.94	\$24,895	0.79
560 Vaginal Delivery	\$8,012	\$8,288	\$9,018	0.92	\$8,631	0.96	\$12,167	0.68
640 Normal Newborn, Birthweight 2500g+	\$3,191	\$3,509	\$3,539	0.99	\$4,326	0.81	\$4,719	0.74
720 Blood Infection/Septicemia	\$13,064	\$20,490	\$32,245	0.64	\$20,714	0.99	\$44,340	0.46
862 Other Factors Influencing Health Status	\$20,267	\$22,505	\$24,090	0.93	\$15,162	1.48	\$31,132	0.72

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

### 008 SSM Health St. Clare Hospital - Baraboo

707 Fourteenth Street

Baraboo, WI 53913

85 & Over

13.8%

17.4%

Hospital Type: GMS County: Sauk

Other Government

Self-Pay

Commercial or Private Insurance

Other or Unknown Insurance

Analysis Area: 1-Southern

2.6%

19.6%

2.2%

0.0%

608-356-1400				Inpatient Volume Group: 4				
Overall Hospital Utilization			Patient Discharge Status					
Total Discharges:	2,113	Average Length of Stay (days):	2.9	<u>Discharge Status</u>	% Discharges			
Total Patient Days:	6,223	Average Charge per Discharge:	\$24,224	Home or Self-Care Other GMS Hospital	63.4% 6.5%			
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%			
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:	146 40 6 192 189	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	76.0% 20.8% 3.1%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service	16.0% 1.3% 0.0% 3.4% 0.0% 7.4%			
Psychiatric Utilization				Left Against Medical Advice	0.6% 0.6%			
Discharges: Patient Days:	3 13	Percent of All Discharges: Percent of All Patient Days:	0.1% 0.2%	Expired Discharge/Tran to Court/Law Enforcmnt Other	0.8% 0.3% 0.6%			
				Expected Pay Source Distril	<u>bution</u>			
AODA Utilization				Primary Payer	% Discharges			
Discharges: Patient Days:	45 129	Percent of All Discharges: Percent of All Patient Days:	2.1% 2.1%	Medicare  Medicaid/BadgerCare	57.3% 18.3%			

	Age Distribution			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	8.9%	6.5%	Male	42.3%	42.6%	Amer.Ind/Alaskan Native	2.5%	2.7%	
Under 15	1.3%	0.6%	Female	57.7%	57.4%	Asian	0.2%	0.1%	
15 - 19	0.8%	0.6%				Black/African Amer.	1.6%	1.4%	
20 - 24	3.3%	2.6%				Native Hawaii/Pac.Isl.	0.1%	0.1%	
25 - 34	8.4%	6.8%				White	88.0%	89.9%	
35 - 44	5.0%	4.3%				Multiracial	0.1%	0.1%	
45 - 54	6.7%	6.1%				Declined	0.5%	0.5%	
55 - 64	13.0%	13.3%				Unavailable	7.0%	5.3%	
65 - 74	19.2%	19.9%							
75 - 84	19.5%	21.8%							

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	32	3.3	4.1	0.80	3.6	0.92	4.5	0.73
139 Pneumonia	89	3.4	3.7	0.92	3.5	0.97	4.0	0.85
140 Chronic Obstructive Pulmonary Disease	52	2.7	3.6	0.75	3.2	0.84	3.6	0.75
194 Heart Failure	123	3.6	4.5	0.80	3.6	1.00	4.6	0.78
201 Heart Abnormal Rhythm and Conduction Disorders	47	2.0	2.8	0.71	2.5	0.80	2.8	0.71
301 Hip Replacement	56	2.1	2.2	0.95	1.9	1.11	2.3	0.91
302 Knee Replacement	70	1.6	2.0	0.80	1.7	0.94	2.0	0.80
383 Cellulitis & other skin infections	50	3.8	4.0	0.95	3.5	1.09	4.0	0.95
463 Kidney/Urinary Tract Infection	38	2.9	3.4	0.85	3.1	0.94	3.6	0.81
469 Acute kidney injury	39	2.7	4.3	0.63	3.3	0.82	4.6	0.59
540 Cesarean Delivery	40	3.2	3.9	0.82	2.9	1.10	3.6	0.89
560 Vaginal Delivery	146	2.2	2.3	0.96	2.0	1.10	2.2	1.00
640 Normal Newborn, Birthweight 2500g+	201	2.0	2.1	0.95	1.9	1.05	2.1	0.95
720 Blood Infection/Septicemia	169	4.1	5.5	0.75	4.2	0.98	5.5	0.75
775 Alcohol Abuse/Dependence	38	3.1	3.4	0.91	3.7	0.84	3.7	0.84

•	•	• • •	•	•	•	•		
	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$32,552	\$37,297	\$42,179	0.88	\$31,273	1.19	\$36,517	1.02
139 Pneumonia	\$26,994	\$26,904	\$28,774	0.94	\$23,233	1.16	\$26,154	1.03
140 Chronic Obstructive Pulmonary Disease	\$22,953	\$25,504	\$28,251	0.90	\$21,959	1.16	\$23,596	1.08
194 Heart Failure	\$28,972	\$29,020	\$33,598	0.86	\$25,091	1.16	\$29,512	0.98
201 Heart Abnormal Rhythm and Conduction Disorders	\$20,221	\$20,781	\$23,719	0.88	\$19,443	1.07	\$21,125	0.98
301 Hip Replacement	\$37,531	\$39,084	\$49,942	0.78	\$45,617	0.86	\$50,854	0.77
302 Knee Replacement	\$35,448	\$35,682	\$43,613	0.82	\$43,239	0.83	\$48,781	0.73
383 Cellulitis & other skin infections	\$23,031	\$22,500	\$24,297	0.93	\$19,644	1.15	\$21,953	1.02
463 Kidney/Urinary Tract Infection	\$23,922	\$24,524	\$24,396	1.01	\$19,748	1.24	\$22,097	1.11
469 Acute kidney injury	\$21,611	\$25,301	\$32,366	0.78	\$23,728	1.07	\$29,600	0.85
540 Cesarean Delivery	\$20,754	\$22,155	\$28,792	0.77	\$24,480	0.91	\$24,895	0.89
560 Vaginal Delivery	\$11,309	\$11,289	\$13,875	0.81	\$11,116	1.02	\$12,167	0.93
640 Normal Newborn, Birthweight 2500g+	\$3,325	\$3,367	\$5,441	0.62	\$4,155	0.81	\$4,719	0.71
720 Blood Infection/Septicemia	\$35,923	\$37,940	\$52,049	0.73	\$33,720	1.13	\$44,340	0.86
775 Alcohol Abuse/Dependence	\$19,936	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

### 009 Mayo Clinic Health System - Northland in Barron

2,889

76

23

8

107

107

1222 E Woodland Avenue

**Overall Hospital Utilization** 

**Barron, WI 54812** 

Total Discharges:

Total Patient Days:

Normal Childbirths:

Other Childbirths:

Total Childbirths:

Total Newborns:

**Obstetrical Utilization** 

Cesarean Childbirths:

715-537-3186

Hospital Type: GMS County: Barron

Inpatient Volume Group: 3

Other Institution

Home Health Service

Left Against Medical Advice

Analysis Area: 5A-West Central

Patient Discharge Status									
<u>Discharge Status</u>	% Discharges								
Home or Self-Care	70.0%								
Other GMS Hospital	5.6%								
Critical Access Hospital (CAH)	0.0%								
Skilled Nursing Facility	12.0%								
Intermediate Care Facility	0.3%								
Inpatient Rehabilitation Facility	0.0%								
Hospice	1.6%								

0.0%

3.5% 0.5%

## **Psychiatric Utilization**

Psychiatric Utilization				Expired	1.5%
Discharges: Patient Days:	1 10	Percent of All Discharges: Percent of All Patient Days:	0.1% 0.3%	Discharge/Tran to Court/Law Enforcmnt Other	0.1% 5.0%
				Expected Pay Source Distribution	

3.0

71.0%

21.5%

7.5%

\$13,701

Average Length of Stay (days):

Average Charge per Discharge:

Percent of All Childbirths:

Percent of All Childbirths:

Percent of All Childbirths:

#### **AODA Utilization**

85 & Over

15.3%

20.5%

AODA Utilization				Primary Payer	% Discharges
Discharges:	5	Percent of All Discharges:	0.5%	Medicare	60.2%
Patient Days:	15	Percent of All Patient Days:	0.5%	Medicaid/BadgerCare	17.3%
				Other Government	0.5%
				Commercial or Private Insurance	17.3%
				Self-Pay	4.6%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	11.2%	6.7%	Male	38.4%	38.6%	Amer.Ind/Alaskan Native	0.6%	0.8%
Under 15	0.5%	0.4%	Female	61.6%	61.4%	Asian	0.3%	0.1%
15 - 19	1.2%	1.0%				Black/African Amer.	2.7%	1.8%
20 - 24	2.8%	2.2%				Native Hawaii/Pac.Isl.	0.2%	0.2%
25 - 34	8.3%	5.5%				White	93.2%	94.7%
35 - 44	3.0%	2.2%				Multiracial	0.1%	0.1%
45 - 54	6.1%	6.2%				Declined	0.0%	0.0%
55 - 64	12.6%	11.8%				Unavailable	2.9%	2.4%
65 - 74	18.0%	20.0%						
75 - 84	20.9%	23.5%						

	This Facil	ity						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	42	3.2	4.2	0.76	3.2	1.00	4.5	0.71
139 Pneumonia	54	3.9	3.7	1.05	3.3	1.18	4.0	0.98
140 Chronic Obstructive Pulmonary Disease	39	3.1	3.5	0.89	2.9	1.07	3.6	0.86
194 Heart Failure	62	4.2	4.3	0.98	3.4	1.24	4.6	0.91
201 Heart Abnormal Rhythm and Conduction Disorders	12	2.6	2.8	0.93	2.3	1.13	2.8	0.93
247 Intestinal Obstruction without Surgery	19	2.5	3.3	0.76	2.7	0.93	3.5	0.71
301 Hip Replacement	31	1.5	2.3	0.65	2.1	0.71	2.3	0.65
302 Knee Replacement	27	1.4	2.1	0.67	1.9	0.74	2.0	0.70
383 Cellulitis & other skin infections	45	3.4	3.9	0.87	3.6	0.94	4.0	0.85
463 Kidney/Urinary Tract Infection	30	3.1	3.1	1.00	2.9	1.07	3.6	0.86
469 Acute kidney injury	15	2.5	4.4	0.57	2.8	0.89	4.6	0.54
540 Cesarean Delivery	23	2.9	3.0	0.97	3.0	0.97	3.6	0.81
560 Vaginal Delivery	76	1.9	2.1	0.90	1.9	1.00	2.2	0.86
640 Normal Newborn, Birthweight 2500g+	98	1.8	2.0	0.90	2.0	0.90	2.1	0.86
720 Blood Infection/Septicemia	82	4.2	4.8	0.88	3.6	1.17	5.5	0.76

<u> </u>	This Ess	ility	Risk Adjusted Group Averages							
	This Fac	-			KISK Aujusteu	Group Averages				
	Average	Risk Adjusted Average	<u>Analysi</u> Average		Average	olume Group	All GMS Ho Average			
APR-DRG # and Description	Charge	Charge	Charge	Ratio	Charge	Ratio	Charge	Ratio		
133 Respiratory failure	\$14,502	\$17,784	\$27,159	0.65	\$22,058	0.81	\$36,517	0.49		
139 Pneumonia	\$15,429	\$14,991	\$19,690	0.76	\$18,736	0.80	\$26,154	0.57		
140 Chronic Obstructive Pulmonary Disease	\$12,250	\$13,407	\$18,026	0.74	\$16,687	0.80	\$23,596	0.57		
194 Heart Failure	\$15,189	\$14,569	\$22,734	0.64	\$18,675	0.78	\$29,512	0.49		
201 Heart Abnormal Rhythm and Conduction Disorders	\$7,028	\$6,851	\$16,241	0.42	\$13,920	0.49	\$21,125	0.32		
247 Intestinal Obstruction without Surgery	\$8,396	\$9,584	\$14,181	0.68	\$13,214	0.73	\$21,879	0.44		
301 Hip Replacement	\$37,815	\$39,568	\$41,021	0.96	\$43,894	0.90	\$50,854	0.78		
302 Knee Replacement	\$38,293	\$41,228	\$38,967	1.06	\$45,311	0.91	\$48,781	0.85		
383 Cellulitis & other skin infections	\$11,257	\$12,028	\$17,014	0.71	\$16,011	0.75	\$21,953	0.55		
463 Kidney/Urinary Tract Infection	\$9,547	\$9,806	\$13,865	0.71	\$13,197	0.74	\$22,097	0.44		
469 Acute kidney injury	\$6,539	\$7,375	\$22,197	0.33	\$14,980	0.49	\$29,600	0.25		
540 Cesarean Delivery	\$22,495	\$23,271	\$19,747	1.18	\$21,375	1.09	\$24,895	0.93		
560 Vaginal Delivery	\$7,519	\$7,480	\$9,018	0.83	\$8,800	0.85	\$12,167	0.61		
640 Normal Newborn, Birthweight 2500g+	\$2,795	\$2,898	\$3,539	0.82	\$3,780	0.77	\$4,719	0.61		
720 Blood Infection/Septicemia	\$16,707	\$19,538	\$32,245	0.61	\$23,568	0.83	\$44,340	0.44		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

010 Marshfield Medical Center - Beaver Dam

707 South University Avenue

Beaver Dam, WI 53916

920-887-7181

Hospital Type: GMS
County: Dodge
Analysis Area: 1-Southern

Inpatient Volume Group: 4

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,856	Average Length of Stay (days):	2.8	Discharge Status	% Discharges
Total Patient Days:	5,183	Average Charge per Discharge:	\$25,429	Home or Self-Care	63.0%
Total Faticiti Days.	3,103	Average onlarge per bischarge.	Ψ25,425	Other GMS Hospital	4.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	166	Percent of All Childbirths:	65.9%	Skilled Nursing Facility	20.0%
Cesarean Childbirths:	61	Percent of All Childbirths:	24.2%	Intermediate Care Facility	3.8%
Other Childbirths:	25	Percent of All Childbirths:	9.9%	Inpatient Rehabilitation Facility	0.3%
Total Childbirths:	252			Hospice	0.6%
				Other Institution	0.5%
Total Newborns:	236			Home Health Service	5.4%
Psychiatric Utilization				Left Against Medical Advice	0.5%
<u> </u>				Expired	0.7%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	0.4%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	11	Percent of All Discharges:	0.6%	Medicare	54.0%
Patient Days:	24	Percent of All Patient Days:	0.5%	Medicaid/BadgerCare	14.9%
				Other Government	1.5%
				Commercial or Private Insurance	28.1%
				Self-Pay	1.4%
				Other or Unknown Insurance	0.1%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	12.7%	9.7%	Male	41.2%	41.7%	Amer.Ind/Alaskan Native	e 0.3%	0.3%
Under 15	0.2%	0.1%	Female	58.8%	58.3%	Asian	0.3%	0.2%
15 - 19	0.7%	0.5%				Black/African Amer.	0.9%	1.3%
20 - 24	3.9%	3.6%				Native Hawaii/Pac.Isl.	0.2%	0.1%
25 - 34	10.7%	9.5%				White	97.8%	97.7%
35 - 44	4.9%	5.0%				Multiracial	0.0%	0.0%
45 - 54	5.7%	5.3%				Declined	0.5%	0.4%
55 - 64	11.9%	12.2%				Unavailable	0 %	0 %
65 - 74	16.4%	17.4%						
75 - 84	18.1%	20.2%						
85 & Over	14.8%	16.6%						

	This Facil	ity	Group Averages					
			Analys	is Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	32	3.1	4.1	0.76	3.6	0.86	4.5	0.69
139 Pneumonia	85	3.0	3.7	0.81	3.5	0.86	4.0	0.75
140 Chronic Obstructive Pulmonary Disease	47	2.3	3.6	0.64	3.2	0.72	3.6	0.64
194 Heart Failure	107	2.9	4.5	0.64	3.6	0.81	4.6	0.63
201 Heart Abnormal Rhythm and Conduction Disorders	39	2.9	2.8	1.04	2.5	1.16	2.8	1.04
301 Hip Replacement	56	2.2	2.2	1.00	1.9	1.16	2.3	0.96
302 Knee Replacement	72	1.5	2.0	0.75	1.7	0.88	2.0	0.75
383 Cellulitis & other skin infections	33	2.7	4.0	0.68	3.5	0.77	4.0	0.68
463 Kidney/Urinary Tract Infection	19	2.3	3.4	0.68	3.1	0.74	3.6	0.64
469 Acute kidney injury	38	2.9	4.3	0.67	3.3	0.88	4.6	0.63
540 Cesarean Delivery	61	3.2	3.9	0.82	2.9	1.10	3.6	0.89
560 Vaginal Delivery	166	2.2	2.3	0.96	2.0	1.10	2.2	1.00
640 Normal Newborn, Birthweight 2500g+	211	2.1	2.1	1.00	1.9	1.11	2.1	1.00
720 Blood Infection/Septicemia	217	3.6	5.5	0.65	4.2	0.86	5.5	0.65
775 Alcohol Abuse/Dependence	9	2.4	3.4	0.71	3.7	0.65	3.7	0.65

_	• •	•	•	-	•		
This Fac	ility			Risk Adjusted	Group Averages		
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
\$29,593	\$32,807	\$42,179	0.78	\$31,273	1.05	\$36,517	0.90
\$27,146	\$25,977	\$28,774	0.90	\$23,233	1.12	\$26,154	0.99
\$20,841	\$20,792	\$28,251	0.74	\$21,959	0.95	\$23,596	0.88
\$25,931	\$28,437	\$33,598	0.85	\$25,091	1.13	\$29,512	0.96
\$29,452	\$29,089	\$23,719	1.23	\$19,443	1.50	\$21,125	1.38
\$56,493	\$59,188	\$49,942	1.19	\$45,617	1.30	\$50,854	1.16
\$50,933	\$50,540	\$43,613	1.16	\$43,239	1.17	\$48,781	1.04
\$17,664	\$18,263	\$24,297	0.75	\$19,644	0.93	\$21,953	0.83
\$20,940	\$20,097	\$24,396	0.82	\$19,748	1.02	\$22,097	0.91
\$23,094	\$27,004	\$32,366	0.83	\$23,728	1.14	\$29,600	0.91
\$26,386	\$27,948	\$28,792	0.97	\$24,480	1.14	\$24,895	1.12
\$12,406	\$12,451	\$13,875	0.90	\$11,116	1.12	\$12,167	1.02
\$2,721	\$2,545	\$5,441	0.47	\$4,155	0.61	\$4,719	0.54
\$31,416	\$37,493	\$52,049	0.72	\$33,720	1.11	\$44,340	0.85
\$23,490	#	#	#	#	#	#	#
	Average Charge \$29,593 \$27,146 \$20,841 \$25,931 \$29,452 \$56,493 \$50,933 \$17,664 \$20,940 \$23,094 \$26,386 \$12,406 \$2,721 \$31,416	Adjusted Average Charge Charge Charge Charge Charge Charge  \$29,593 \$32,807 \$27,146 \$25,977 \$20,841 \$20,792 \$25,931 \$28,437 \$29,452 \$29,089 \$56,493 \$59,188 \$50,933 \$50,540 \$17,664 \$18,263 \$20,940 \$20,097 \$23,094 \$27,004 \$26,386 \$27,948 \$12,406 \$12,451 \$2,721 \$2,545 \$31,416 \$37,493	Risk Adjusted Average Charge S29,593 \$32,807 \$42,179 \$28,774 \$20,841 \$20,792 \$28,251 \$25,931 \$28,437 \$33,598 \$29,452 \$29,089 \$23,719 \$56,493 \$59,188 \$49,942 \$50,933 \$50,540 \$43,613 \$17,664 \$18,263 \$24,297 \$20,940 \$20,097 \$24,396 \$23,094 \$27,004 \$32,366 \$23,094 \$27,004 \$32,366 \$26,386 \$27,948 \$28,792 \$12,406 \$12,451 \$13,875 \$2,721 \$2,545 \$5,441 \$31,416 \$37,493 \$52,049	Risk Adjusted Average Charge Ratio  \$29,593 \$32,807 \$42,179 0.78 \$27,146 \$25,977 \$28,774 0.90 \$20,841 \$20,792 \$28,251 0.74 \$25,931 \$28,437 \$33,598 0.85 \$29,452 \$29,089 \$23,719 1.23 \$56,493 \$59,188 \$49,942 1.19 \$50,933 \$50,540 \$43,613 1.16 \$17,664 \$18,263 \$24,297 0.75 \$20,940 \$20,097 \$24,396 0.82 \$23,094 \$27,004 \$32,366 0.83 \$26,386 \$27,948 \$28,792 0.97 \$12,406 \$12,451 \$13,875 0.90 \$2,721 \$2,545 \$5,441 0.47 \$31,416 \$37,493 \$52,049 0.72	Risk Adjusted Average Average Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge S29,593 \$32,807 \$42,179 0.78 \$31,273 \$27,146 \$25,977 \$28,774 0.90 \$23,233 \$20,841 \$20,792 \$28,251 0.74 \$21,959 \$25,931 \$28,437 \$33,598 0.85 \$25,091 \$29,452 \$29,089 \$23,719 1.23 \$19,443 \$56,493 \$59,188 \$49,942 1.19 \$45,617 \$50,933 \$50,540 \$43,613 1.16 \$43,239 \$17,664 \$18,263 \$24,297 0.75 \$19,644 \$20,940 \$20,097 \$24,396 0.82 \$19,748 \$23,094 \$27,004 \$32,366 0.83 \$23,728 \$26,386 \$27,948 \$28,792 0.97 \$24,480 \$12,406 \$12,451 \$13,875 0.90 \$11,116 \$2,721 \$2,545 \$5,441 0.47 \$4,155 \$31,416 \$37,493 \$52,049 0.72 \$33,720	Risk Adjusted Average Charge         Analysis Area Average Charge         Inpatient Volume Group Average Charge           \$29,593         \$32,807         \$42,179         0.78         \$31,273         1.05           \$27,146         \$25,977         \$28,774         0.90         \$23,233         1.12           \$20,841         \$20,792         \$28,251         0.74         \$21,959         0.95           \$25,931         \$28,437         \$33,598         0.85         \$25,091         1.13           \$29,452         \$29,089         \$23,719         1.23         \$19,443         1.50           \$56,493         \$59,188         \$49,942         1.19         \$45,617         1.30           \$50,933         \$50,540         \$43,613         1.16         \$43,239         1.17           \$17,664         \$18,263         \$24,297         0.75         \$19,644         0.93           \$20,940         \$20,097         \$24,396         0.82         \$19,748         1.02           \$23,094         \$27,004         \$32,366         0.83         \$23,728         1.14           \$26,386         \$27,948         \$28,792         0.97         \$24,480         1.14           \$12,406         \$12,451         \$13,875	Risk Adjusted Charge         Average Charge         Average Charge         Average Charge         Average Charge         Ratio         Inpatient Volume Group Average Charge         All GMS Howard Average Charge         All GMS Howard Average Charge         Average Charge         All GMS Howard Average Charge         Averag

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

011 Beloit Health System 1969 West Hart Road Beloit, WI 53511 608-324-5011 Hospital Type: GMS County: Rock

Analysis Area: 1-Southern

Inpatient Volume Group: 5

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>is</u>
Total Discharges:	4,396	Average Length of Stay (days):	3.7	<u>Discharge Status</u>	% Discharges
Total Patient Days:	16,437	Average Charge per Discharge:	\$47,772	Home or Self-Care	69.2%
Total Fatient Days.	10,401	Average onlying per bischarge.	Ψ+1,112	Other GMS Hospital	3.1%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	262	Percent of All Childbirths:	66.3%	Skilled Nursing Facility	13.0%
Cesarean Childbirths:	129	Percent of All Childbirths:	32.7%	Intermediate Care Facility	0.0%
Other Childbirths:	4	Percent of All Childbirths:	1.0%	Inpatient Rehabilitation Facility	0.1%
Total Childbirths:	395			Hospice	2.6%
Total Official Co.				Other Institution	0.0%
Total Newborns:	403			Home Health Service	7.1%
Psychiatric Utilization				Left Against Medical Advice	1.8%
PSychiatric Othization				Expired	2.3%
Discharges:	9	Percent of All Discharges:	0.2%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	36	Percent of All Patient Days:	0.2%	Other	0.7%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	44	Percent of All Discharges:	1.0%	Medicare	53.2%
Patient Days:	95	Percent of All Patient Days:	0.6%	Medicaid/BadgerCare	22.8%
				Other Government	1.0%
				Commercial or Private Insurance	20.5%
				Self-Pay	2.4%
				Other or Unknown Insurance	0.1%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	9.2%	5.5%	Male	44.6%	45.9%	Amer.Ind/Alaskan Native	e 0.0%	0.0%
Under 15	0.7%	0.3%	Female	55.4%	54.1%	Asian	0.4%	0.2%
15 - 19	1.4%	1.0%				Black/African Amer.	13.7%	14.3%
20 - 24	3.4%	2.2%				Native Hawaii/Pac.Isl.	0.2%	0.2%
25 - 34	7.8%	4.7%				White	84.0%	84.0%
35 - 44	7.3%	6.2%				Multiracial	1.0%	0.7%
45 - 54	7.8%	6.7%				Declined	0.1%	0.0%
55 - 64	16.2%	16.2%				Unavailable	0.6%	0.5%
65 - 74	19.3%	23.7%						
75 - 84	15.9%	20.5%						
85 & Over	11.1%	13.0%						

	This Facil	ity	Group Averages					
			Analysis Area		Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	90	5.0	4.1	1.22	4.5	1.11	4.5	1.11
139 Pneumonia	120	3.7	3.7	1.00	4.2	0.88	4.0	0.93
140 Chronic Obstructive Pulmonary Disease	143	3.3	3.6	0.92	3.6	0.92	3.6	0.92
174 Percutaneous coronary intervention w AMI	81	4.7	3.1	1.52	3.0	1.57	3.0	1.57
194 Heart Failure	240	4.6	4.5	1.02	4.6	1.00	4.6	1.00
201 Heart Abnormal Rhythm and Conduction Disorders	109	2.8	2.8	1.00	2.9	0.97	2.8	1.00
301 Hip Replacement	88	2.0	2.2	0.91	2.2	0.91	2.3	0.87
302 Knee Replacement	34	1.7	2.0	0.85	2.0	0.85	2.0	0.85
469 Acute kidney injury	85	4.3	4.3	1.00	4.7	0.91	4.6	0.93
540 Cesarean Delivery	129	3.1	3.9	0.79	3.3	0.94	3.6	0.86
560 Vaginal Delivery	262	2.0	2.3	0.87	2.1	0.95	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	370	2.1	2.1	1.00	2.1	1.00	2.1	1.00
720 Blood Infection/Septicemia	150	5.2	5.5	0.95	5.5	0.95	5.5	0.95
751 Psychoses	5	4.2	5.6	0.75	4.7	0.89	5.1	0.82
775 Alcohol Abuse/Dependence	31	2.1	3.4	0.62	3.8	0.55	3.7	0.57

•	•	• • •	•	•	•	•							
	This Facility					Risk Adjusted Group Averages							
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio					
133 Respiratory failure	\$48,663	\$48,574	\$42,179	1.15	\$35,487	1.37	\$36,517	1.33					
139 Pneumonia	\$33,655	\$34,469	\$28,774	1.20	\$27,529	1.25	\$26,154	1.32					
140 Chronic Obstructive Pulmonary Disease	\$27,024	\$29,593	\$28,251	1.05	\$23,968	1.23	\$23,596	1.25					
174 Percutaneous coronary intervention w AMI	\$121,643	\$117,997	\$80,361	1.47	\$72,860	1.62	\$73,175	1.61					
194 Heart Failure	\$36,792	\$39,444	\$33,598	1.17	\$28,982	1.36	\$29,512	1.34					
201 Heart Abnormal Rhythm and Conduction Disorders	\$26,596	\$28,129	\$23,719	1.19	\$21,611	1.30	\$21,125	1.33					
301 Hip Replacement	\$93,408	\$93,086	\$49,942	1.86	\$52,206	1.78	\$50,854	1.83					
302 Knee Replacement	\$109,100	\$114,179	\$43,613	2.62	\$50,848	2.25	\$48,781	2.34					
469 Acute kidney injury	\$41,966	\$41,958	\$32,366	1.30	\$29,340	1.43	\$29,600	1.42					
540 Cesarean Delivery	\$34,225	\$36,789	\$28,792	1.28	\$25,613	1.44	\$24,895	1.48					
560 Vaginal Delivery	\$18,653	\$19,677	\$13,875	1.42	\$12,456	1.58	\$12,167	1.62					
640 Normal Newborn, Birthweight 2500g+	\$5,642	\$5,938	\$5,441	1.09	\$4,463	1.33	\$4,719	1.26					
720 Blood Infection/Septicemia	\$59,314	\$64,625	\$52,049	1.24	\$41,728	1.55	\$44,340	1.46					
751 Psychoses	\$37,547	#	#	#	#	#	#	#					
775 Alcohol Abuse/Dependence	\$23,330	#	#	#	#	#	#	#					

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

013 ThedaCare Medical Center - Berlin, Inc.

225 Memorial Drive

Berlin, WI 54923

920-361-1313 Inpatient Volume Group: 3

Hospital	Type:	GMS
----------	-------	-----

County: Green Lake

Analysis Area: 3-Lake Winnebago

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,107	Average Length of Stay (days):	3.2	Discharge Status	% Discharges
Total Patient Days:	3,543	Average Charge per Discharge:	\$24,436	Home or Self-Care	58.9%
Total Fationt Bayo.	0,010	Average charge per Bloomarge.	Ψ21,100	Other GMS Hospital	7.0%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	58	Percent of All Childbirths:	70.7%	Skilled Nursing Facility	14.1%
Cesarean Childbirths:	18	Percent of All Childbirths:	22.0%	Intermediate Care Facility	1.3%
Other Childbirths:	6	Percent of All Childbirths:	7.3%	Inpatient Rehabilitation Facility	0.2%
Total Childbirths:	82			Hospice	4.2%
T	0.5			Other Institution	0.2%
Total Newborns:	85			Home Health Service	8.9%
Psychiatric Utilization				Left Against Medical Advice	1.1%
<u> </u>	•	D CAN D	0.00/	Expired	0.5%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	1.4%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	2.4%
				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	12	Percent of All Discharges:	1.1%	Medicare	59.2%
Patient Days:	41	Percent of All Patient Days:	1.2%	Medicaid/BadgerCare	11.7%
				Other Government	2.1%
				Commercial or Private Insurance	21.6%
				Self-Pay	3.9%
				Other or Unknown Insurance	1.5%

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Rac	Race Distribution		
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	7.7%	4.5%	Male	47.1%	47.8%	Amer.Ind/Alaskan Native	e 0.1%	0.0%	
Under 15	0.9%	0.6%	Female	52.9%	52.2%	Asian	0.3%	0.2%	
15 - 19	1.6%	1.1%				Black/African Amer.	0.9%	0.6%	
20 - 24	2.2%	1.6%				Native Hawaii/Pac.Isl.	0.4%	0.3%	
25 - 34	5.6%	4.0%				White	90.9%	94.2%	
35 - 44	4.1%	3.9%				Multiracial	0.0%	0.0%	
45 - 54	8.0%	7.7%				Declined	0.0%	0.0%	
55 - 64	15.5%	14.8%				Unavailable	7.5%	4.8%	
65 - 74	21.4%	24.6%							
75 - 84	18.8%	22.0%							
85 & Over	14.2%	15.3%							

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	11	3.6	4.0	0.90	3.2	1.13	4.5	0.80	
139 Pneumonia	41	2.7	3.5	0.77	3.3	0.82	4.0	0.68	
140 Chronic Obstructive Pulmonary Disease	28	2.4	2.9	0.83	2.9	0.83	3.6	0.67	
194 Heart Failure	53	2.4	3.8	0.63	3.4	0.71	4.6	0.52	
201 Heart Abnormal Rhythm and Conduction Disorders	24	3.0	2.7	1.11	2.3	1.30	2.8	1.07	
247 Intestinal Obstruction without Surgery	15	5.3	3.2	1.66	2.7	1.96	3.5	1.51	
301 Hip Replacement	58	2.3	2.2	1.05	2.1	1.10	2.3	1.00	
302 Knee Replacement	15	1.9	1.8	1.06	1.9	1.00	2.0	0.95	
383 Cellulitis & other skin infections	21	3.2	3.6	0.89	3.6	0.89	4.0	0.80	
463 Kidney/Urinary Tract Infection	21	2.9	2.9	1.00	2.9	1.00	3.6	0.81	
469 Acute kidney injury	22	2.9	4.0	0.73	2.8	1.04	4.6	0.63	
540 Cesarean Delivery	18	3.1	3.2	0.97	3.0	1.03	3.6	0.86	
560 Vaginal Delivery	58	2.1	2.0	1.05	1.9	1.11	2.2	0.95	
640 Normal Newborn, Birthweight 2500g+	82	1.8	2.2	0.82	2.0	0.90	2.1	0.86	
720 Blood Infection/Septicemia	75	3.4	4.9	0.69	3.6	0.94	5.5	0.62	

	This Fac	-			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysis Area</u> Average Charge Ratio		Inpatient Vo Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$29,476	\$25,301	\$24,316	1.04	\$22,058	1.15	\$36,517	0.69
139 Pneumonia	\$16,627	\$17,306	\$17,991	0.96	\$18,736	0.92	\$26,154	0.66
140 Chronic Obstructive Pulmonary Disease	\$14,803	\$16,944	\$16,011	1.06	\$16,687	1.02	\$23,596	0.72
194 Heart Failure	\$14,589	\$17,096	\$17,633	0.97	\$18,675	0.92	\$29,512	0.58
201 Heart Abnormal Rhythm and Conduction Disorders	\$17,876	\$16,237	\$15,459	1.05	\$13,920	1.17	\$21,125	0.77
247 Intestinal Obstruction without Surgery	\$21,552	\$24,159	\$13,760	1.76	\$13,214	1.83	\$21,879	1.10
301 Hip Replacement	\$51,340	\$51,800	\$38,732	1.34	\$43,894	1.18	\$50,854	1.02
302 Knee Replacement	\$46,061	\$46,530	\$35,838	1.30	\$45,311	1.03	\$48,781	0.95
383 Cellulitis & other skin infections	\$14,931	\$14,690	\$15,311	0.96	\$16,011	0.92	\$21,953	0.67
463 Kidney/Urinary Tract Infection	\$15,181	\$15,383	\$14,397	1.07	\$13,197	1.17	\$22,097	0.70
469 Acute kidney injury	\$17,539	\$18,183	\$18,337	0.99	\$14,980	1.21	\$29,600	0.61
540 Cesarean Delivery	\$18,031	\$19,868	\$14,869	1.34	\$21,375	0.93	\$24,895	0.80
560 Vaginal Delivery	\$7,632	\$7,990	\$5,768	1.39	\$8,800	0.91	\$12,167	0.66
640 Normal Newborn, Birthweight 2500g+	\$3,783	\$3,961	\$3,376	1.17	\$3,780	1.05	\$4,719	0.84
720 Blood Infection/Septicemia	\$20,678	\$25,783	\$27,861	0.93	\$23,568	1.09	\$44,340	0.58

N/A - Zero Discharges reported

rges reported ^ Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

014 Black River Memorial Hospital

711 West Adams Street

Black River Falls, WI 54615

Hospital Type: GMS

Other or Unknown Insurance

County: Jackson

Analysis Area: 5B-Southwestern

0.0%

715-284-5361				Inpatient Volume Group: 2	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	886	Average Length of Stay (days):	2.8	<u>Discharge Status</u>	% Discharges
Total Patient Days:	2,472	Average Charge per Discharge:	\$15,349	Home or Self-Care Other GMS Hospital	79.9% 4.6%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.2%
Normal Childbirths: Cesarean Childbirths: Other Childbirths:	91 39 12	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	64.1% 27.5% 8.5%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice	8.4% 0.0% 0.1% 1.0%
Total Childbirths:	142			Other Institution	0.0%
Total Newborns:	141			Home Health Service	1.4%
Psychiatric Utilization				Left Against Medical Advice Expired	0.3% 0.8%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.6%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	2.7%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	21	Percent of All Discharges:	2.4%	Medicare	46.2%
Patient Days:	56	Percent of All Patient Days:	2.3%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay	19.9% 1.0% 29.9% 3.0%

	Age Distribution	i		Sex Distribution	<u>n</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days		
Newborn	15.9%	11.3%	Male	36.6%	38.0%	Amer.Ind/Alaskan Native	13.0%	12.8%		
Under 15	0.8%	0.5%	Female	63.4%	62.0%	Asian	0.6%	0.6%		
15 - 19	1.1%	0.8%				Black/African Amer.	0.8%	0.7%		
20 - 24	4.3%	3.7%				Native Hawaii/Pac.Isl.	0.0%	0.0%		
25 - 34	13.0%	10.8%				White	81.7%	83.3%		
35 - 44	5.3%	5.6%				Multiracial	0.0%	0.0%		
45 - 54	6.1%	7.0%				Declined	0.0%	0.0%		
55 - 64	11.6%	12.5%				Unavailable	4.0%	2.6%		
65 - 74	18.7%	18.4%								
75 - 84	13.5%	17.5%								
85 & Over	9.6%	11.9%								

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	24	3.2	4.0	0.80	3.0	1.07	4.5	0.71	
139 Pneumonia	35	4.2	3.8	1.11	3.3	1.27	4.0	1.05	
140 Chronic Obstructive Pulmonary Disease	45	3.3	3.2	1.03	3.3	1.00	3.6	0.92	
194 Heart Failure	42	3.5	4.1	0.85	3.4	1.03	4.6	0.76	
201 Heart Abnormal Rhythm and Conduction Disorders	11	2.4	2.8	0.86	2.6	0.92	2.8	0.86	
301 Hip Replacement	20	1.1	2.3	0.48	1.9	0.58	2.3	0.48	
302 Knee Replacement	32	1.0	1.6	0.63	2.1	0.48	2.0	0.50	
383 Cellulitis & other skin infections	34	3.5	3.8	0.92	3.9	0.90	4.0	0.88	
463 Kidney/Urinary Tract Infection	39	2.9	3.4	0.85	3.0	0.97	3.6	0.81	
469 Acute kidney injury	6	2.0	4.2	0.48	2.9	0.69	4.6	0.43	
540 Cesarean Delivery	39	2.8	3.4	0.82	3.1	0.90	3.6	0.78	
560 Vaginal Delivery	91	2.1	2.2	0.95	2.0	1.05	2.2	0.95	
640 Normal Newborn, Birthweight 2500g+	134	2.0	1.9	1.05	2.0	1.00	2.1	0.95	
720 Blood Infection/Septicemia	7	4.0	5.0	0.80	3.6	1.11	5.5	0.73	
862 Other Factors Influencing Health Status	*	*	8.6	*	8.7	*	8.7	*	

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysis Area</u> Average Charge Ratio		Inpatient Volume Group Average Charge Ratio		All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$16,793	\$21,820	\$25,589	0.85	\$19,995	1.09	\$36,517	0.60
139 Pneumonia	\$23,321	\$27,083	\$20,184	1.34	\$17,968	1.51	\$26,154	1.04
140 Chronic Obstructive Pulmonary Disease	\$17,728	\$19,001	\$18,595	1.02	\$18,011	1.05	\$23,596	0.81
194 Heart Failure	\$17,695	\$21,583	\$21,845	0.99	\$16,661	1.30	\$29,512	0.73
201 Heart Abnormal Rhythm and Conduction Disorders	\$13,693	\$14,351	\$15,454	0.93	\$13,360	1.07	\$21,125	0.68
301 Hip Replacement	\$30,440	\$32,877	\$38,182	0.86	\$39,123	0.84	\$50,854	0.65
302 Knee Replacement	\$26,746	\$29,102	\$38,036	0.77	\$39,600	0.73	\$48,781	0.60
383 Cellulitis & other skin infections	\$16,436	\$18,086	\$16,743	1.08	\$15,690	1.15	\$21,953	0.82
463 Kidney/Urinary Tract Infection	\$14,170	\$15,359	\$15,072	1.02	\$12,405	1.24	\$22,097	0.70
469 Acute kidney injury	\$11,096	\$15,848	\$20,575	0.77	\$14,450	1.10	\$29,600	0.54
540 Cesarean Delivery	\$18,330	\$19,922	\$24,286	0.82	\$20,919	0.95	\$24,895	0.80
560 Vaginal Delivery	\$9,612	\$9,516	\$12,860	0.74	\$8,631	1.10	\$12,167	0.78
640 Normal Newborn, Birthweight 2500g+	\$5,727	\$5,535	\$3,905	1.42	\$4,326	1.28	\$4,719	1.17
720 Blood Infection/Septicemia	\$22,444	\$34,184	\$30,102	1.14	\$20,714	1.65	\$44,340	0.77
862 Other Factors Influencing Health Status	*	*	\$25,250	*	\$15,162	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

015 Mayo Clinic Health System - Chippewa Valley in Bloomer

1501 Thompson Street

Bloomer, WI 54724

Hospital Type: GMS

Other or Unknown Insurance

County: Chippewa

0.0%

Analysis Area: 5A-West Central

715-568-2000				Inpatient Volume Group: 1	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	167	Average Length of Stay (days):	3.5	Discharge Status	% Discharges
Total Patient Days:	578	Average Charge per Discharge:	\$13,197	Home or Self-Care Other GMS Hospital	46.1% 8.4%
<b>Obstetrical Utilization</b>				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	0 0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths: Percent of All Discharges:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt	10.8% 0.6% 0.0% 3.0% 0.0% 0.6% 0.0% 1.8%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	28.7%
				Expected Pay Source Distri	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	1	Percent of All Discharges:	0.6%	Medicare	79.0%
Patient Days:	4	Percent of All Patient Days:	0.7%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay	2.4% 0.6% 16.2% 1.8%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days		
Newborn	0.0%	0.0%	Male	48.5%	49.0%	Amer.Ind/Alaskan Native	e 0.0%	0.0%		
Under 15	0.0%	0.0%	Female	51.5%	51.0%	Asian	0.0%	0.0%		
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%		
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%		
25 - 34	1.8%	1.4%				White	99.4%	99.3%		
35 - 44	4.2%	3.8%				Multiracial	0.0%	0.0%		
45 - 54	6.6%	7.1%				Declined	0.0%	0.0%		
55 - 64	13.2%	12.1%				Unavailable	0.6%	0.7%		
65 - 74	22.2%	24.0%								
75 - 84	27.5%	28.7%								
85 & Over	24.6%	22.8%								

	This Facili	ity	Group Averages							
			Analys	sis Area	Inpatient Volume Group		All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	*	*	4.2	*	2.6	*	4.5	*		
137 Respiratory Infections and Inflammations	6	2.8	5.0	0.56	3.7	0.76	5.6	0.50		
139 Pneumonia	21	3.6	3.7	0.97	3.3	1.09	4.0	0.90		
140 Chronic Obstructive Pulmonary Disease	21	4.4	3.5	1.26	3.2	1.38	3.6	1.22		
194 Heart Failure	20	3.3	4.3	0.77	3.3	1.00	4.6	0.72		
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.8	*	2.5	*	2.8	*		
247 Intestinal Obstruction without Surgery	*	*	3.3	*	2.3	*	3.5	*		
282 Disorders of Pancreas Except Malignancy	*	*	3.5	*	2.7	*	4.0	*		
302 Knee Replacement	0	N/A	2.1	N/A	2.4	N/A	2.0	N/A		
383 Cellulitis & other skin infections	9	3.7	3.9	0.95	3.8	0.97	4.0	0.93		
463 Kidney/Urinary Tract Infection	8	3.5	3.1	1.13	3.3	1.06	3.6	0.97		
469 Acute kidney injury	5	2.8	4.4	0.64	3.2	0.88	4.6	0.61		
720 Blood Infection/Septicemia	23	3.2	4.8	0.67	3.6	0.89	5.5	0.58		
861 Signs & Symptoms	*	*	5.1	*	6.3	*	5.0	*		
862 Other Factors Influencing Health Status	*	*	8.7	*	9.1	*	8.7	*		

### APR-DRG Specific Data - Average Charge per Discharge (Actual & Risk-Adjusted^)

	This Facility			Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
133 Respiratory failure	*	*	\$27,159	*	\$16,434	*	\$36,517	*		
137 Respiratory Infections and Inflammations	\$12,437	\$19,969	\$28,589	0.70	\$18,058	1.11	\$39,518	0.51		
139 Pneumonia	\$14,317	\$15,442	\$19,690	0.78	\$15,907	0.97	\$26,154	0.59		
140 Chronic Obstructive Pulmonary Disease	\$17,077	\$20,432	\$18,026	1.13	\$15,423	1.32	\$23,596	0.87		
194 Heart Failure	\$12,491	\$13,936	\$22,734	0.61	\$15,151	0.92	\$29,512	0.47		
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	\$16,241	*	\$12,073	*	\$21,125	*		
247 Intestinal Obstruction without Surgery	*	*	\$14,181	*	\$10,681	*	\$21,879	*		
282 Disorders of Pancreas Except Malignancy	*	*	\$20,390	*	\$15,867	*	\$28,992	*		
302 Knee Replacement	N/A	N/A	\$38,967	*	\$47,739	*	\$48,781	*		
383 Cellulitis & other skin infections	\$11,961	\$13,450	\$17,014	0.79	\$14,904	0.90	\$21,953	0.61		
463 Kidney/Urinary Tract Infection	\$11,646	\$12,162	\$13,865	0.88	\$12,446	0.98	\$22,097	0.55		
469 Acute kidney injury	\$10,400	\$10,844	\$22,197	0.49	\$13,028	0.83	\$29,600	0.37		
720 Blood Infection/Septicemia	\$11,723	\$16,383	\$32,245	0.51	\$18,335	0.89	\$44,340	0.37		
861 Signs & Symptoms	*	*	\$19,879	*	\$15,939	*	\$28,329	*		
862 Other Factors Influencing Health Status	*	*	\$24,090	*	\$24,133	*	\$31,132	*		

N/A - Zero Discharges reported

 $<sup>^{\</sup>wedge} \ \text{Risk-Adjusted Charges calculated using } 3 \text{M}_{\text{TM}} \ \text{APR DRG Software licensed through } 3 \text{M Health Infomation Systems}.$ 

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

## 016 Gundersen Boscobel Area Hospital and Clinics

205 Parker Street

85 & Over

22.0%

23.8%

Boscobel, WI 53805

608-375-4112 Inpatient Volume Group: 1

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	82	Average Length of Stay (days):	2.9	Discharge Status	% Discharges
Total Patient Days:	235	Average Charge per Discharge:	\$12,457	Home or Self-Care	59.8%
Obstetrical Utilization				Other GMS Hospital Critical Access Hospital (CAH) Skilled Nursing Facility	13.4% 0.0% 12.2%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.0%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Hospice	0.0%
Total Childbirths:	0			Other Institution	0.0%
Total Newborns:	0			Home Health Service	0.0%
B 1				Left Against Medical Advice	0.0%
Psychiatric Utilization				Expired	2.4%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	6.1%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	6.1%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	0	Percent of All Discharges:	0.0%	Medicare	72.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	13.4%
				Other Government	2.4%
				Commercial or Private Insurance	9.8%
				Self-Pay	2.4%
				Other or Unknown Insurance	0.0%

Hospital Type: GMS

County: Grant

Analysis Area: 1-Southern

Age Distribution			Sex Distribution	<u>n</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	52.4%	52.8%	Amer.Ind/Alaskan Native	e 0.0%	0.0%
Under 15	0.0%	0.0%	Female	47.6%	47.2%	Asian	0.0%	0.0%
15 - 19	0.0%	0.0%				Black/African Amer.	4.9%	4.3%
20 - 24	1.2%	1.3%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	4.9%	4.3%				White	93.9%	93.6%
35 - 44	8.5%	8.5%				Multiracial	0.0%	0.0%
45 - 54	7.3%	7.2%				Declined	1.2%	2.1%
55 - 64	12.2%	9.4%				Unavailable	0 %	0 %
65 - 74	14.6%	15.7%						
75 - 84	29.3%	29.8%						

	This Facil	ity	Group Averages							
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	0	N/A	4.1	N/A	2.6	N/A	4.5	N/A		
137 Respiratory Infections and Inflammations	*	*	5.4	*	3.7	*	5.6	*		
139 Pneumonia	10	3.5	3.7	0.95	3.3	1.06	4.0	0.88		
140 Chronic Obstructive Pulmonary Disease	*	*	3.6	*	3.2	*	3.6	*		
194 Heart Failure	8	2.0	4.5	0.44	3.3	0.61	4.6	0.43		
201 Heart Abnormal Rhythm and Conduction Disorders	0	N/A	2.8	N/A	2.5	N/A	2.8	N/A		
247 Intestinal Obstruction without Surgery	7	1.9	3.7	0.51	2.3	0.83	3.5	0.54		
282 Disorders of Pancreas Except Malignancy	*	*	4.3	*	2.7	*	4.0	*		
302 Knee Replacement	0	N/A	2.0	N/A	2.4	N/A	2.0	N/A		
383 Cellulitis & other skin infections	6	4.2	4.0	1.05	3.8	1.11	4.0	1.05		
463 Kidney/Urinary Tract Infection	*	*	3.4	*	3.3	*	3.6	*		
469 Acute kidney injury	*	*	4.3	*	3.2	*	4.6	*		
720 Blood Infection/Septicemia	9	3.2	5.5	0.58	3.6	0.89	5.5	0.58		
861 Signs & Symptoms	*	*	4.4	*	6.3	*	5.0	*		
862 Other Factors Influencing Health Status	0	N/A	6.5	N/A	9.1	N/A	8.7	N/A		

	This Fac	This Facility			Risk Adjusted Group Averages							
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	Analysi Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group	All GMS Ho Average Charge	ospitals Ratio				
133 Respiratory failure	N/A	N/A	\$42,179	*	\$16,434	*	\$36,517	*				
137 Respiratory Infections and Inflammations	*	*	\$43,940	*	\$18,058	*	\$39,518	*				
139 Pneumonia	\$10,754	\$13,902	\$28,774	0.48	\$15,907	0.87	\$26,154	0.53				
140 Chronic Obstructive Pulmonary Disease	*	*	\$28,251	*	\$15,423	*	\$23,596	*				
194 Heart Failure	\$6,328	\$8,350	\$33,598	0.25	\$15,151	0.55	\$29,512	0.28				
201 Heart Abnormal Rhythm and Conduction Disorders	N/A	N/A	\$23,719	*	\$12,073	*	\$21,125	*				
247 Intestinal Obstruction without Surgery	\$8,020	\$9,723	\$24,525	0.40	\$10,681	0.91	\$21,879	0.44				
282 Disorders of Pancreas Except Malignancy	*	*	\$32,566	*	\$15,867	*	\$28,992	*				
302 Knee Replacement	N/A	N/A	\$43,613	*	\$47,739	*	\$48,781	*				
383 Cellulitis & other skin infections	\$12,695	\$13,569	\$24,297	0.56	\$14,904	0.91	\$21,953	0.62				
463 Kidney/Urinary Tract Infection	*	*	\$24,396	*	\$12,446	*	\$22,097	*				
469 Acute kidney injury	*	*	\$32,366	*	\$13,028	*	\$29,600	*				
720 Blood Infection/Septicemia	\$10,766	\$17,530	\$52,049	0.34	\$18,335	0.96	\$44,340	0.40				
861 Signs & Symptoms	*	*	\$24,105	*	\$15,939	*	\$28,329	*				
862 Other Factors Influencing Health Status	N/A	N/A	\$21,737	*	\$24,133	*	\$31,132	*				

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

017 Ascension SE Wisconsin - Elmbrook Campus

19333 West North Avenue

Brookfield, WI 53045

85 & Over

16.7%

18.6%

Hospital Type: GMS

County: Waukesha

Analysis Area: 2A-Southeastern

262-785-2000				Inpatient Volume Group: 5	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	4,243	Average Length of Stay (days):	4.1	<u>Discharge Status</u>	% Discharges
Total Patient Days:	17,533	Average Charge per Discharge:	\$37,842	Home or Self-Care Other GMS Hospital	59.2% 1.2%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	287 107 8 402 407	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths: Percent of All Discharges:	71.4% 26.6% 2.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt	13.6% 0.7% 2.4% 4.2% 0.0% 16.3% 0.3% 1.6% 0.0%
Patient Days:	2	Percent of All Patient Days:	0.0%	Other	0.4%
AODA Utilization  Discharges: Patient Days:	28 93	Percent of All Discharges: Percent of All Patient Days:	0.7% 0.5%	Expected Pay Source Distril  Primary Payer  Medicare  Medicaid/BadgerCare  Other Government  Commercial or Private Insurance  Self-Pay  Other or Unknown Insurance	% Discharges 57.5% 6.4% 0.1% 34.9% 1.1% 0.0%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution		
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	9.6%	6.0%	Male	40.4%	44.3%	Amer.Ind/Alaskan Native	0.1%	0.2%
Under 15	0.0%	0.0%	Female	59.6%	55.7%	Asian	2.7%	2.3%
15 - 19	0.3%	0.3%				Black/African Amer.	7.2%	9.4%
20 - 24	0.7%	0.4%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	8.7%	5.9%				White	88.7%	87.0%
35 - 44	5.6%	4.2%				Multiracial	0.1%	0.1%
45 - 54	6.8%	6.9%				Declined	1.2%	1.0%
55 - 64	13.1%	15.6%				Unavailable	0 %	0 %
65 - 74	18.8%	19.2%						
75 - 84	19.5%	22.7%						

	This Facil	ity						
			Analys	sis Area	Inpatient V	olume Group	All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	53	4.6	4.8	0.96	4.5	1.02	4.5	1.02
139 Pneumonia	59	4.6	4.5	1.02	4.2	1.10	4.0	1.15
140 Chronic Obstructive Pulmonary Disease	22	2.6	3.8	0.68	3.6	0.72	3.6	0.72
174 Percutaneous coronary intervention w AMI	45	2.3	2.9	0.79	3.0	0.77	3.0	0.77
194 Heart Failure	170	4.1	4.6	0.89	4.6	0.89	4.6	0.89
201 Heart Abnormal Rhythm and Conduction Disorders	84	2.7	2.9	0.93	2.9	0.93	2.8	0.96
301 Hip Replacement	244	2.3	2.1	1.10	2.2	1.05	2.3	1.00
302 Knee Replacement	243	2.7	2.0	1.35	2.0	1.35	2.0	1.35
469 Acute kidney injury	59	5.1	4.5	1.13	4.7	1.09	4.6	1.11
540 Cesarean Delivery	107	3.3	3.3	1.00	3.3	1.00	3.6	0.92
560 Vaginal Delivery	287	2.1	2.2	0.95	2.1	1.00	2.2	0.95
640 Normal Newborn, Birthweight 2500g+	380	2.1	2.1	1.00	2.1	1.00	2.1	1.00
720 Blood Infection/Septicemia	183	5.4	5.3	1.02	5.5	0.98	5.5	0.98
751 Psychoses	0	N/A	5.6	N/A	4.7	N/A	5.1	N/A
775 Alcohol Abuse/Dependence	26	3.3	3.8	0.87	3.8	0.87	3.7	0.89

	This Fac	Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$32,617	\$31,039	\$37,003	0.84	\$35,487	0.87	\$36,517	0.85
139 Pneumonia	\$28,365	\$26,671	\$30,437	0.88	\$27,529	0.97	\$26,154	1.02
140 Chronic Obstructive Pulmonary Disease	\$16,103	\$16,528	\$25,288	0.65	\$23,968	0.69	\$23,596	0.70
174 Percutaneous coronary intervention w AMI	\$57,420	\$57,881	\$73,777	0.78	\$72,860	0.79	\$73,175	0.79
194 Heart Failure	\$25,315	\$25,145	\$30,999	0.81	\$28,982	0.87	\$29,512	0.85
201 Heart Abnormal Rhythm and Conduction Disorders	\$18,825	\$19,405	\$23,194	0.84	\$21,611	0.90	\$21,125	0.92
301 Hip Replacement	\$49,894	\$50,641	\$61,253	0.83	\$52,206	0.97	\$50,854	1.00
302 Knee Replacement	\$54,707	\$51,835	\$60,209	0.86	\$50,848	1.02	\$48,781	1.06
469 Acute kidney injury	\$27,632	\$27,396	\$30,548	0.90	\$29,340	0.93	\$29,600	0.93
540 Cesarean Delivery	\$22,920	\$24,460	\$26,513	0.92	\$25,613	0.95	\$24,895	0.98
560 Vaginal Delivery	\$11,552	\$11,999	\$14,321	0.84	\$12,456	0.96	\$12,167	0.99
640 Normal Newborn, Birthweight 2500g+	\$3,736	\$3,974	\$4,851	0.82	\$4,463	0.89	\$4,719	0.84
720 Blood Infection/Septicemia	\$36,467	\$35,782	\$44,089	0.81	\$41,728	0.86	\$44,340	0.81
751 Psychoses	N/A	#	#	*	#	*	#	*
775 Alcohol Abuse/Dependence	\$22,094	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

# 018 Aurora Medical Center Burlington

252 McHenry Street

**Burlington, WI 53105** 

262-767-6000

85 & Over

12.9%

14.0%

Hospital Type: GMS

Inpatient Volume Group: 4

County: Racine

Analysis Area: 2A-Southeastern

	<b>Patient</b>	<b>Discharge</b>	<u>Status</u>
--	----------------	------------------	---------------

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,953	Average Length of Stay (days):	3.7	<u>Discharge Status</u>	% Discharges
Total Patient Days:	7,202	Average Charge per Discharge:	\$39,857	Home or Self-Care	44.9%
Total Patient Days.	7,202	Average Charge per Discharge.	φ39,03 <i>1</i>	Other GMS Hospital	5.2%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	16.9%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	2.3%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	1.5%
	<u> </u>	r creent of All Offidalities.	0.0 /6	Hospice	4.5%
Total Childbirths:	0			Other Institution	0.0%
Total Newborns:	0			Home Health Service	21.4%
<b>-</b>				Left Against Medical Advice	0.9%
Psychiatric Utilization				Expired	1.4%
Discharges:	3	Percent of All Discharges:	0.2%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	5	Percent of All Patient Days:	0.1%	Other	1.0%
				<b>Expected Pay Source Distrib</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	23	Percent of All Discharges:	1.2%	Medicare	69.2%
Patient Days:	115	Percent of All Patient Days:	1.6%	Medicaid/BadgerCare	7.9%
				Other Government	1.6%
				Commercial or Private Insurance	18.6%
				Self-Pay	2.6%
				Other or Unknown Insurance	0.1%

	Age Distribution Sex Distribution				<u>1</u>	Rac	<u> Distribution</u>	<u>1</u>	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	50.2%	52.0%	Amer.Ind/Alaskan Native	0.1%	0.5%	
Under 15	0.0%	0.0%	Female	49.8%	48.0%	Asian	0.2%	0.1%	
15 - 19	0.4%	0.3%				Black/African Amer.	1.3%	1.6%	
20 - 24	0.9%	0.7%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	2.8%	2.0%				White	98.2%	97.6%	
35 - 44	4.4%	3.8%				Multiracial	0.2%	0.1%	
45 - 54	9.8%	9.9%				Declined	0.1%	0.1%	
55 - 64	18.6%	17.7%				Unavailable	0 %	0 %	
65 - 74	23.5%	24.8%							
75 - 84	25.6%	27.9%							

	This Facil	ity						
			Analysis Area		Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	50	4.0	4.8	0.83	3.6	1.11	4.5	0.89
139 Pneumonia	55	3.2	4.5	0.71	3.5	0.91	4.0	0.80
140 Chronic Obstructive Pulmonary Disease	40	3.1	3.8	0.82	3.2	0.97	3.6	0.86
194 Heart Failure	94	3.7	4.6	0.80	3.6	1.03	4.6	0.80
201 Heart Abnormal Rhythm and Conduction Disorders	54	2.7	2.9	0.93	2.5	1.08	2.8	0.96
301 Hip Replacement	73	2.2	2.1	1.05	1.9	1.16	2.3	0.96
302 Knee Replacement	55	1.7	2.0	0.85	1.7	1.00	2.0	0.85
383 Cellulitis & other skin infections	55	3.0	4.1	0.73	3.5	0.86	4.0	0.75
463 Kidney/Urinary Tract Infection	24	3.3	3.6	0.92	3.1	1.06	3.6	0.92
469 Acute kidney injury	54	4.0	4.5	0.89	3.3	1.21	4.6	0.87
540 Cesarean Delivery	0	N/A	3.3	N/A	2.9	N/A	3.6	N/A
560 Vaginal Delivery	0	N/A	2.2	N/A	2.0	N/A	2.2	N/A
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.1	N/A	1.9	N/A	2.1	N/A
720 Blood Infection/Septicemia	293	4.4	5.3	0.83	4.2	1.05	5.5	0.80
775 Alcohol Abuse/Dependence	17	5.8	3.8	1.53	J 3.7	1.57	3.7	1.57

	This Fac	ility		Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
133 Respiratory failure	\$34,592	\$37,273	\$37,003	1.01	\$31,273	1.19	\$36,517	1.02	
<ul><li>139 Pneumonia</li><li>140 Chronic Obstructive Pulmonary Disease</li></ul>	\$24,751 \$24,681	\$22,846 \$22,100	\$30,437 \$25,288	0.75 0.87	\$23,233 \$21,959	0.98 1.01	\$26,154 \$23,596	0.87 0.94	
194 Heart Failure	\$29,229	\$26,858	\$30,999	0.87	\$25,091	1.07	\$29,512	0.91	
201 Heart Abnormal Rhythm and Conduction Disorders	\$27,207	\$24,875	\$23,194	1.07	\$19,443	1.28	\$21,125	1.18	
301 Hip Replacement	\$56,491	\$54,916	\$61,253	0.90	\$45,617	1.20	\$50,854	1.08	
302 Knee Replacement	\$54,820	\$54,553	\$60,209	0.91	\$43,239	1.26	\$48,781	1.12	
383 Cellulitis & other skin infections	\$21,321	\$21,011	\$23,000	0.91	\$19,644	1.07	\$21,953	0.96	
463 Kidney/Urinary Tract Infection	\$28,176	\$25,221	\$23,784	1.06	\$19,748	1.28	\$22,097	1.14	
469 Acute kidney injury	\$35,393	\$30,608	\$30,548	1.00	\$23,728	1.29	\$29,600	1.03	
540 Cesarean Delivery	N/A	N/A	\$26,513	*	\$24,480	*	\$24,895	*	
560 Vaginal Delivery	N/A	N/A	\$14,321	*	\$11,116	*	\$12,167	*	
640 Normal Newborn, Birthweight 2500g+	N/A	N/A	\$4,851	*	\$4,155	*	\$4,719	*	
720 Blood Infection/Septicemia	\$39,128	\$36,723	\$44,089	0.83	\$33,720	1.09	\$44,340	0.83	
775 Alcohol Abuse/Dependence	\$47,348	#	#	#	#	#	#	#	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

019 Ascension Calumet Hospital

**614 Memorial Drive** 

Chilton, WI 53014

920-849-2386

85 & Over

24.1%

18.5%

Hospital Type: GMS

County: Calumet

Analysis Area: 3-Lake Winnebago

Dationt	Discharge	Statue

Inpatient Volume Group: 2

<u>% Discharges</u> 52.8%
10 =0/
12.5%
CAH) 0.0%
11.9%
9.1%
acility 0.0%
1.6%
0.0%
3.8%
ce 0.3%
0.9%
_aw Enforcmnt 0.0%
7.2%
ay Source Distribution
% Discharges
70.6%
3.1%
0.9%
surance 23.8%
1.3%
nce 0.3%
ty -;i

	Age Distribution	i		Sex Distribution	<u>1</u>	<u>Rac</u>	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	49.7%	53.2%	Amer.Ind/Alaskan Native	e 0.3%	0.2%
Under 15	0.0%	0.0%	Female	50.3%	46.8%	Asian	0.0%	0.0%
15 - 19	0.6%	0.4%				Black/African Amer.	1.3%	0.8%
20 - 24	0.6%	0.3%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	0.6%	2.2%				White	98.1%	98.9%
35 - 44	2.2%	1.1%				Multiracial	0.0%	0.0%
45 - 54	6.3%	7.2%				Declined	0.3%	0.1%
55 - 64	12.5%	12.5%				Unavailable	0 %	0 %
65 - 74	24.4%	29.3%						
75 - 84	28.8%	28.5%						

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient V	Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	*	*	4.0	*	3.0	*	4.5	*	
139 Pneumonia	13	2.8	3.5	0.80	3.3	0.85	4.0	0.70	
140 Chronic Obstructive Pulmonary Disease	11	1.9	2.9	0.66	3.3	0.58	3.6	0.53	
194 Heart Failure	17	2.0	3.8	0.53	3.4	0.59	4.6	0.43	
201 Heart Abnormal Rhythm and Conduction Disorders	5	2.2	2.7	0.81	2.6	0.85	2.8	0.79	
301 Hip Replacement	38	1.5	2.2	0.68	1.9	0.79	2.3	0.65	
302 Knee Replacement	8	1.4	1.8	0.78	2.1	0.67	2.0	0.70	
383 Cellulitis & other skin infections	*	*	3.6	*	3.9	*	4.0	*	
463 Kidney/Urinary Tract Infection	11	1.5	2.9	0.52	3.0	0.50	3.6	0.42	
469 Acute kidney injury	*	*	4.0	*	2.9	*	4.6	*	
540 Cesarean Delivery	0	N/A	3.2	N/A	3.1	N/A	3.6	N/A	
560 Vaginal Delivery	0	N/A	2.0	N/A	2.0	N/A	2.2	N/A	
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.2	N/A	2.0	N/A	2.1	N/A	
720 Blood Infection/Septicemia	21	2.0	4.9	0.41	3.6	0.56	5.5	0.36	
862 Other Factors Influencing Health Status	39	11.1	10.2	1.09	8.7	1.28	8.7	1.28	

This Facility					Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
133 Respiratory failure	*	*	\$24,316	*	\$19,995	*	\$36,517	*		
139 Pneumonia	\$9,190	\$9,048	\$17,991	0.50	\$17,968	0.50	\$26,154	0.35		
140 Chronic Obstructive Pulmonary Disease	\$6,483	\$6,671	\$16,011	0.42	\$18,011	0.37	\$23,596	0.28		
194 Heart Failure	\$7,473	\$7,742	\$17,633	0.44	\$16,661	0.46	\$29,512	0.26		
201 Heart Abnormal Rhythm and Conduction Disorders	\$6,688	\$6,291	\$15,459	0.41	\$13,360	0.47	\$21,125	0.30		
301 Hip Replacement	\$27,903	\$28,052	\$38,732	0.72	\$39,123	0.72	\$50,854	0.55		
302 Knee Replacement	\$33,532	\$29,296	\$35,838	0.82	\$39,600	0.74	\$48,781	0.60		
383 Cellulitis & other skin infections	*	*	\$15,311	*	\$15,690	*	\$21,953	*		
463 Kidney/Urinary Tract Infection	\$3,574	\$3,745	\$14,397	0.26	\$12,405	0.30	\$22,097	0.17		
469 Acute kidney injury	*	*	\$18,337	*	\$14,450	*	\$29,600	*		
540 Cesarean Delivery	N/A	N/A	\$14,869	*	\$20,919	*	\$24,895	*		
560 Vaginal Delivery	N/A	N/A	\$5,768	*	\$8,631	*	\$12,167	*		
640 Normal Newborn, Birthweight 2500g+	N/A	N/A	\$3,376	*	\$4,326	*	\$4,719	*		
720 Blood Infection/Septicemia	\$5,713	\$8,187	\$27,861	0.29	\$20,714	0.40	\$44,340	0.18		
862 Other Factors Influencing Health Status	\$14,045	\$14,361	\$23,248	0.62	\$15,162	0.95	\$31,132	0.46		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

020 St Joseph's Hospital 2661 County Highway I Chippewa Falls, WI 54729

6.5%

7.1%

715-717-7200

85 & Over

Hospital Type: GMS

County: Chippewa

Analysis Area: 5A-West Central

Total Patient Days:  8,953 Average Charge per Discharge:  \$14,053 Home or Self-Care Other GMS Hospital 3.39  Obstetrical Utilization  Normal Childhirths: 110 Percent of All Childhirths: 76,4% Skilled Nursing Facility 6.29	Overall Hospital Utilization			Patient Discharge Statu	<u>s</u>
Total Patient Days: 8,953 Average Charge per Discharge: \$14,053 Other GMS Hospital 3.39  Obstetrical Utilization  Normal Childhirths: 110 Percent of All Childhirths: 76.4% Skilled Nursing Facility 6.29	Total Discharges: 2,70	Average Length of Stay (days):	3.3	Discharge Status	% Discharges
Other GMS Hospital 3.39  Obstetrical Utilization  Normal Childhirths: 76.4%  Other GMS Hospital 3.39  Critical Access Hospital (CAH) 0.09  Skilled Nursing Facility 6.29	Total Patient Days: 8 95	Average Charge per Discharge:	\$14.053		77.2%
Normal Childhirths: 110 Percent of All Childhirths: 76.4% Skilled Nursing Facility 6.29	Total Fatient Days. 0,30	Average charge per bischarge.	Ψ14,000	Other GMS Hospital	3.3%
Normal Childhirths: 110 Percent of All Childhirths: 76.4%	Obstetrical Utilization			• • • •	0.0%
Intermediate Care Facility 1 40	Normal Childbirths: 11	) Percent of All Childbirths:	76.4%	•	6.2%
Cesarean Childhirths: 32 Percent of All Childhirths: 22.2%				Intermediate Care Facility	1.4%
Other Childbirths: 2 Percent of All Childbirths: 1.4% Inpatient Rehabilitation Facility 0.79				· · · · · · · · · · · · · · · · · · ·	0.7%
Total Childhirths: 144 Hospice 1.09		_		·	1.0%
Other Institution 0.09					0.0%
	Total Newborns: 14	1			3.4%
Deveniatrie Utilization	Deveniatric Utilization			•	5.2%
Expired 0.57	r sychiatric othization			·	0.5%
	Discharges:	Percent of All Discharges:	0.1%	_	0.3%
Patient Days: 9 Percent of All Patient Days: 0.1% Other 0.9%	Patient Days:	Percent of All Patient Days:	0.1%	Other	0.9%
Expected Pay Source Distribution				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization Primary Payer % Discharge	AODA Utilization			Primary Payer	% Discharges
Discharges: 1,466 Percent of All Discharges: 54.3% Medicare 28.3%	Discharges: 1,46	Percent of All Discharges:	54.3%	Medicare	28.3%
Patient Days: 5,134 Percent of All Patient Days: 57.3% Medicaid/BadgerCare 39.8%	Patient Days: 5,13	Percent of All Patient Days:	57.3%	Medicaid/BadgerCare	39.8%
Other Government 2.8%				Other Government	2.8%
Commercial or Private Insurance 26.0%				Commercial or Private Insurance	26.0%
Self-Pay 3.19				Self-Pay	3.1%
Other or Unknown Insurance 0.0%				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	5.5%	3.3%	Male	51.8%	52.5%	Amer.Ind/Alaskan Native	4.0%	3.8%
Under 15	0.9%	0.5%	Female	48.2%	47.5%	Asian	0.5%	0.5%
15 - 19	1.3%	0.8%				Black/African Amer.	1.3%	1.1%
20 - 24	5.2%	4.5%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	20.5%	19.3%				White	93.0%	92.6%
35 - 44	17.3%	17.3%				Multiracial	0.1%	0.1%
45 - 54	13.5%	14.5%				Declined	1.1%	2.0%
55 - 64	14.4%	16.8%				Unavailable	0 %	0 %
65 - 74	8.3%	9.2%						
75 - 84	6.7%	6.7%						

	This Facil	ity	Group Averages					
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	21	3.7	4.2	0.88	3.6	1.03	4.5	0.82
139 Pneumonia	67	3.4	3.7	0.92	3.5	0.97	4.0	0.85
140 Chronic Obstructive Pulmonary Disease	38	2.8	3.5	0.80	3.2	0.88	3.6	0.78
194 Heart Failure	81	3.5	4.3	0.81	3.6	0.97	4.6	0.76
201 Heart Abnormal Rhythm and Conduction Disorders	33	2.6	2.8	0.93	2.5	1.04	2.8	0.93
301 Hip Replacement	14	3.0	2.3	1.30	1.9	1.58	2.3	1.30
302 Knee Replacement	18	1.8	2.1	0.86	1.7	1.06	2.0	0.90
383 Cellulitis & other skin infections	30	3.7	3.9	0.95	3.5	1.06	4.0	0.93
463 Kidney/Urinary Tract Infection	22	2.5	3.1	0.81	3.1	0.81	3.6	0.69
469 Acute kidney injury	19	3.5	4.4	0.80	3.3	1.06	4.6	0.76
540 Cesarean Delivery	32	3.1	3.0	1.03	2.9	1.07	3.6	0.86
560 Vaginal Delivery	110	2.1	2.1	1.00	2.0	1.05	2.2	0.95
640 Normal Newborn, Birthweight 2500g+	151	2.0	2.0	1.00	1.9	1.05	2.1	0.95
720 Blood Infection/Septicemia	103	4.7	4.8	0.98	4.2	1.12	5.5	0.85
775 Alcohol Abuse/Dependence	826	3.7	3.7	1.00	3.7	1.00	3.7	1.00

<u> </u>	This For	1114			Diala Adia ataut	·		
	This Fac	-			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$22,901	\$23,850	\$27,159	0.88	\$31,273	0.76	\$36,517	0.65
139 Pneumonia	\$20,653	\$20,370	\$19,690	1.03	\$23,233	0.88	\$26,154	0.78
140 Chronic Obstructive Pulmonary Disease	\$18,901	\$17,462	\$18,026	0.97	\$21,959	0.80	\$23,596	0.74
194 Heart Failure	\$21,281	\$19,813	\$22,734	0.87	\$25,091	0.79	\$29,512	0.67
201 Heart Abnormal Rhythm and Conduction Disorders	\$17,803	\$16,669	\$16,241	1.03	\$19,443	0.86	\$21,125	0.79
301 Hip Replacement	\$56,475	\$49,967	\$41,021	1.22	\$45,617	1.10	\$50,854	0.98
302 Knee Replacement	\$46,845	\$45,513	\$38,967	1.17	\$43,239	1.05	\$48,781	0.93
383 Cellulitis & other skin infections	\$19,091	\$19,050	\$17,014	1.12	\$19,644	0.97	\$21,953	0.87
463 Kidney/Urinary Tract Infection	\$16,380	\$17,131	\$13,865	1.24	\$19,748	0.87	\$22,097	0.78
469 Acute kidney injury	\$25,092	\$22,568	\$22,197	1.02	\$23,728	0.95	\$29,600	0.76
540 Cesarean Delivery	\$22,537	\$23,722	\$19,747	1.20	\$24,480	0.97	\$24,895	0.95
560 Vaginal Delivery	\$11,816	\$12,300	\$9,018	1.36	\$11,116	1.11	\$12,167	1.01
640 Normal Newborn, Birthweight 2500g+	\$3,572	\$3,866	\$3,539	1.09	\$4,155	0.93	\$4,719	0.82
720 Blood Infection/Septicemia	\$33,733	\$34,371	\$32,245	1.07	\$33,720	1.02	\$44,340	0.78
775 Alcohol Abuse/Dependence	\$8,799	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

022 Prairie Ridge Health 1515 Park Avenue Columbus, WI 53925

920-623-2200

Hospital Type: GMS

County: Columbia
Analysis Area: 1-Southern

Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	940	Average Length of Stay (days):	2.8	<u>Discharge Status</u>	% Discharges
Total Patient Days:	2,663	Average Charge per Discharge:	\$23,125	Home or Self-Care	78.0%
Total Fatient Days.	2,000	Average charge per bischarge.	Ψ20,120	Other GMS Hospital	4.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths:	56	Percent of All Childbirths:	75.7%	Skilled Nursing Facility	11.3%
Cesarean Childbirths:	18	Percent of All Childbirths:	24.3%	Intermediate Care Facility	1.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	74			Hospice	1.5%
				Other Institution	0.0%
Total Newborns:	78			Home Health Service	0.0%
Psychiatric Utilization				Left Against Medical Advice	0.2%
r sycmatric offization				Expired	1.3%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	1.9%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	3	Percent of All Discharges:	0.3%	Medicare	57.6%
Patient Days:	9	Percent of All Patient Days:	0.3%	Medicaid/BadgerCare	8.9%
				Other Government	2.2%
				Commercial or Private Insurance	28.5%
				Self-Pay	2.8%
				Other or Unknown Insurance	0.0%

	Age Distribution	Ĺ		Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	8.3%	5.6%	Male	43.4%	42.1%	Amer.Ind/Alaskan Native	e 0.0%	0.0%
Under 15	0.2%	0.1%	Female	56.6%	57.9%	Asian	0.0%	0.0%
15 - 19	0.4%	0.5%				Black/African Amer.	0.7%	0.7%
20 - 24	1.5%	1.0%				Native Hawaii/Pac.Isl.	0.1%	0.0%
25 - 34	7.0%	6.3%				White	90.9%	92.1%
35 - 44	3.5%	2.8%				Multiracial	0.0%	0.0%
45 - 54	5.4%	7.1%				Declined	4.5%	3.9%
55 - 64	15.4%	10.7%				Unavailable	3.8%	3.2%
65 - 74	21.8%	19.6%						
75 - 84	21.7%	26.7%						
85 & Over	14.7%	19.7%						

	This Facil	ity			Group A	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	12	3.8	4.1	0.93	3.2	1.19	4.5	0.84
139 Pneumonia	58	4.1	3.7	1.11	3.3	1.24	4.0	1.03
140 Chronic Obstructive Pulmonary Disease	30	3.1	3.6	0.86	2.9	1.07	3.6	0.86
194 Heart Failure	29	3.5	4.5	0.78	3.4	1.03	4.6	0.76
201 Heart Abnormal Rhythm and Conduction Disorders	10	1.8	2.8	0.64	2.3	0.78	2.8	0.64
247 Intestinal Obstruction without Surgery	11	2.6	3.7	0.70	2.7	0.96	3.5	0.74
301 Hip Replacement	74	1.7	2.2	0.77	2.1	0.81	2.3	0.74
302 Knee Replacement	150	1.6	2.0	0.80	1.9	0.84	2.0	0.80
383 Cellulitis & other skin infections	32	3.8	4.0	0.95	3.6	1.06	4.0	0.95
463 Kidney/Urinary Tract Infection	33	3.2	3.4	0.94	2.9	1.10	3.6	0.89
469 Acute kidney injury	*	*	4.3	*	2.8	*	4.6	*
540 Cesarean Delivery	18	2.3	3.9	0.59	3.0	0.77	3.6	0.64
560 Vaginal Delivery	56	2.0	2.3	0.87	1.9	1.05	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	70	2.0	2.1	0.95	2.0	1.00	2.1	0.95
720 Blood Infection/Septicemia	24	4.5	5.5	0.82	3.6	1.25	5.5	0.82

_	• .	_	•	-	•		
This Fac	ility			Risk Adjusted	Group Averages	;	
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	is Area Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
\$24,307	\$36,758	\$42,179	0.87	\$22,058	1.67	\$36,517	1.01
\$21,202	\$29,041	\$28,774	1.01	\$18,736	1.55	\$26,154	1.11
\$17,532	\$24,344	\$28,251	0.86	\$16,687	1.46	\$23,596	1.03
\$20,960	\$32,047	\$33,598	0.95	\$18,675	1.72	\$29,512	1.09
\$13,782	\$16,857	\$23,719	0.71	\$13,920	1.21	\$21,125	0.80
\$13,413	\$15,170	\$24,525	0.62	\$13,214	1.15	\$21,879	0.69
\$36,662	\$37,857	\$49,942	0.76	\$43,894	0.86	\$50,854	0.74
\$37,852	\$38,217	\$43,613	0.88	\$45,311	0.84	\$48,781	0.78
\$16,774	\$20,307	\$24,297	0.84	\$16,011	1.27	\$21,953	0.93
\$14,771	\$17,482	\$24,396	0.72	\$13,197	1.32	\$22,097	0.79
*	*	\$32,366	*	\$14,980	*	\$29,600	*
\$18,235	\$20,093	\$28,792	0.70	\$21,375	0.94	\$24,895	0.81
\$8,933	\$9,234	\$13,875	0.67	\$8,800	1.05	\$12,167	0.76
\$3,805	\$4,291	\$5,441	0.79	\$3,780	1.14	\$4,719	0.91
\$30,591	\$57,466	\$52,049	1.10	\$23,568	2.44	\$44,340	1.30
	Average Charge \$24,307 \$21,202 \$17,532 \$20,960 \$13,782 \$13,413 \$36,662 \$37,852 \$16,774 \$14,771 * \$18,235 \$8,933 \$3,805	Adjusted Average Charge Charge S24,307 \$36,758 \$21,202 \$29,041 \$17,532 \$24,344 \$20,960 \$32,047 \$13,782 \$16,857 \$13,413 \$15,170 \$36,662 \$37,857 \$37,852 \$38,217 \$16,774 \$20,307 \$14,771 \$17,482 * * * \$18,235 \$20,093 \$8,933 \$9,234 \$3,805 \$4,291	Risk Adjusted Average Charge S24,307 \$36,758 \$42,179 \$28,774 \$17,532 \$24,344 \$28,251 \$20,960 \$32,047 \$33,598 \$13,782 \$16,857 \$23,719 \$13,413 \$15,170 \$24,525 \$36,662 \$37,857 \$49,942 \$37,852 \$38,217 \$43,613 \$16,774 \$20,307 \$24,297 \$14,771 \$17,482 \$24,396 \$32,366 \$18,235 \$20,093 \$28,792 \$8,933 \$9,234 \$13,875 \$33,805 \$4,291 \$5,441	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Charge Ratio  \$24,307 \$36,758 \$42,179 0.87 \$21,202 \$29,041 \$28,774 1.01 \$17,532 \$24,344 \$28,251 0.86 \$20,960 \$32,047 \$33,598 0.95 \$13,782 \$16,857 \$23,719 0.71 \$13,413 \$15,170 \$24,525 0.62 \$36,662 \$37,857 \$49,942 0.76 \$37,852 \$38,217 \$43,613 0.88 \$16,774 \$20,307 \$24,297 0.84 \$14,771 \$17,482 \$24,396 0.72 * * * \$32,366 * * \$18,235 \$20,093 \$28,792 0.70 \$8,933 \$9,234 \$13,875 0.67 \$33,805 \$4,291 \$5,441 0.79	Risk Adjusted Average Average Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Seq. 324,307 \$36,758 \$42,179 0.87 \$22,058 \$21,202 \$29,041 \$28,774 1.01 \$18,736 \$17,532 \$24,344 \$28,251 0.86 \$16,687 \$20,960 \$32,047 \$33,598 0.95 \$18,675 \$13,782 \$16,857 \$23,719 0.71 \$13,920 \$13,413 \$15,170 \$24,525 0.62 \$13,214 \$36,662 \$37,857 \$49,942 0.76 \$43,894 \$37,852 \$38,217 \$43,613 0.88 \$45,311 \$16,774 \$20,307 \$24,297 0.84 \$16,011 \$14,771 \$17,482 \$24,396 0.72 \$13,197 \$32,366 * \$14,980 \$18,235 \$20,093 \$28,792 0.70 \$21,375 \$8,933 \$9,234 \$13,875 0.67 \$8,800 \$3,805 \$4,291 \$5,441 0.79 \$3,780	Risk Adjusted Average Charge         Analysis Area Average Charge         Inpatient Volume Group Average Charge           \$24,307         \$36,758         \$42,179         0.87         \$22,058         1.67           \$21,202         \$29,041         \$28,774         1.01         \$18,736         1.55           \$17,532         \$24,344         \$28,251         0.86         \$16,687         1.46           \$20,960         \$32,047         \$33,598         0.95         \$18,675         1.72           \$13,782         \$16,857         \$23,719         0.71         \$13,920         1.21           \$13,413         \$15,170         \$24,525         0.62         \$13,214         1.15           \$36,662         \$37,857         \$49,942         0.76         \$43,894         0.86           \$37,852         \$38,217         \$43,613         0.88         \$45,311         0.84           \$16,774         \$20,307         \$24,297         0.84         \$16,011         1.27           \$14,771         \$17,482         \$24,396         0.72         \$13,197         1.32           *         *         \$32,366         *         \$14,980         *           \$18,235         \$20,093         \$28,792         0.70 <td>  Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Charge Charge Ratio Char</td>	Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Charge Charge Ratio Char

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 182 Aurora St Luke's Medical Center - South Shore

5900 S Lake Dr

**Cudahy, WI 53110** 

414-489-9000

85 & Over

14.7%

16.1%

Hospital Type: GMS

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	4,005	Average Length of Stay (days):	4.8	<u>Discharge Status</u>	% Discharges
Total Patient Days:	19,152	Average Charge per Discharge:	\$45,653	Home or Self-Care	55.0%
Total Fatient Days.	19,132	Average Charge per Discharge.	φ45,055	Other GMS Hospital	0.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	2	Percent of All Childbirths:	100.0%	Skilled Nursing Facility	12.6%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	1.9%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	1.5%
	<u> </u>	r creent of All Offidalities.	0.070	Hospice	3.2%
Total Childbirths:	2			Other Institution	0.0%
Total Newborns:	0			Home Health Service	19.3%
				Left Against Medical Advice	3.9%
Psychiatric Utilization				Expired	1.2%
Discharges:	635	Percent of All Discharges:	15.9%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	2,558	Percent of All Patient Days:	13.4%	Other	0.9%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	411	Percent of All Discharges:	10.3%	Medicare	58.4%
Patient Days:	1,372	Percent of All Patient Days:	7.2%	Medicaid/BadgerCare	19.6%
•	•	·		Other Government	2.1%
				Commercial or Private Insurance	16.9%
				Self-Pay	2.9%
				Other or Unknown Insurance	0.2%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Race	<b>Distribution</b>	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	46.1%	46.8%	Amer.Ind/Alaskan Native	0.4%	0.4%
Under 15	0.0%	0.0%	Female	53.9%	53.2%	Asian	0.3%	0.5%
15 - 19	0.7%	0.5%				Black/African Amer.	6.4%	6.3%
20 - 24	2.6%	1.6%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	7.5%	5.2%				White	92.2%	92.3%
35 - 44	11.3%	8.5%				Multiracial	0.5%	0.3%
45 - 54	13.3%	12.0%				Declined	0.1%	0.2%
55 - 64	17.6%	18.6%				Unavailable	0 %	0 %
65 - 74	16.7%	19.2%						
75 - 84	15.6%	18.3%						

	This Facil	ity	Group Averages					
			Analys	sis Area	Inpatient V	olume Group	All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	93	4.5	5.3	0.85	4.5	1.00	4.5	1.00
139 Pneumonia	130	3.9	4.4	0.89	4.2	0.93	4.0	0.98
140 Chronic Obstructive Pulmonary Disease	111	3.2	3.8	0.84	3.6	0.89	3.6	0.89
174 Percutaneous coronary intervention w AMI	42	3.6	3.7	0.97	3.0	1.20	3.0	1.20
194 Heart Failure	172	5.4	5.6	0.96	4.6	1.17	4.6	1.17
201 Heart Abnormal Rhythm and Conduction Disorders	45	3.8	3.3	1.15	2.9	1.31	2.8	1.36
301 Hip Replacement	59	2.9	3.0	0.97	2.2	1.32	2.3	1.26
302 Knee Replacement	55	2.3	2.2	1.05	2.0	1.15	2.0	1.15
469 Acute kidney injury	54	6.0	6.3	0.95	4.7	1.28	4.6	1.30
540 Cesarean Delivery	0	N/A	4.0	N/A	3.3	N/A	3.6	N/A
560 Vaginal Delivery	*	*	2.3	*	2.1	*	2.2	*
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.2	N/A	2.1	N/A	2.1	N/A
720 Blood Infection/Septicemia	412	5.7	6.8	0.84	5.5	1.04	5.5	1.04
751 Psychoses	103	4.3	4.9	0.88	4.7	0.91	5.1	0.84
775 Alcohol Abuse/Dependence	297	3.5	4.2	0.83	3.8	0.92	3.7	0.95

	This Fac	:11:4			Diale Adicated			
	This Fac	-			RISK Adjusted	Group Averages		
	Average	Risk Adjusted Average	<u>Analysi</u> Average		Average	olume Group	All GMS Ho	
APR-DRG # and Description	Charge	Charge	Charge	Ratio	Charge	Ratio	Charge	Ratio
133 Respiratory failure	\$40,924	\$45,354	\$45,568	1.00	\$35,487	1.28	\$36,517	1.24
139 Pneumonia	\$32,075	\$30,934	\$34,436	0.90	\$27,529	1.12	\$26,154	1.18
140 Chronic Obstructive Pulmonary Disease	\$25,671	\$23,821	\$28,350	0.84	\$23,968	0.99	\$23,596	1.01
174 Percutaneous coronary intervention w AMI	\$109,237	\$110,772	\$95,865	1.16	\$72,860	1.52	\$73,175	1.51
194 Heart Failure	\$41,462	\$38,596	\$39,457	0.98	\$28,982	1.33	\$29,512	1.31
201 Heart Abnormal Rhythm and Conduction Disorders	\$30,321	\$26,557	\$26,831	0.99	\$21,611	1.23	\$21,125	1.26
301 Hip Replacement	\$70,418	\$69,134	\$67,785	1.02	\$52,206	1.32	\$50,854	1.36
302 Knee Replacement	\$68,854	\$68,312	\$60,857	1.12	\$50,848	1.34	\$48,781	1.40
469 Acute kidney injury	\$47,789	\$49,322	\$43,644	1.13	\$29,340	1.68	\$29,600	1.67
540 Cesarean Delivery	N/A	N/A	\$28,127	*	\$25,613	*	\$24,895	*
560 Vaginal Delivery	*	*	\$14,391	*	\$12,456	*	\$12,167	*
640 Normal Newborn, Birthweight 2500g+	N/A	N/A	\$5,018	*	\$4,463	*	\$4,719	*
720 Blood Infection/Septicemia	\$51,121	\$51,699	\$60,389	0.86	\$41,728	1.24	\$44,340	1.17
751 Psychoses	\$19,175	#	#	#	#	#	#	#
775 Alcohol Abuse/Dependence	\$19,967	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

024 Cumberland Healthcare

1110 Seventh Avenue

Cumberland, WI 54829

715-822-2741

85 & Over

21.0%

24.8%

Hospital Type: GMS County: Barron

Analysis Area: 5A-West Central

Patient	Discharge	Status

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>is</u>
Total Discharges:	295	Average Length of Stay (days):	3.8	Discharge Status	% Discharges
Total Patient Days:	1,107	Average Charge per Discharge:	\$16,709	Home or Self-Care	61.4%
Total Fatient Days.	1,107	Average Charge per Discharge.	φ10,709	Other GMS Hospital	5.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.3%
Normal Childbirths:	13	Percent of All Childbirths:	65.0%	Skilled Nursing Facility	5.8%
Cesarean Childbirths:	7	Percent of All Childbirths:	35.0%	Intermediate Care Facility	1.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	20	r crocht or 7th Ormabilting.	0.070	Hospice	1.7%
Total Childbirths.	20			Other Institution	0.0%
Total Newborns:	22			Home Health Service	1.0%
				Left Against Medical Advice	0.3%
Psychiatric Utilization				Expired	1.0%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	21.7%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	6	Percent of All Discharges:	2.0%	Medicare	71.2%
Patient Days:	23	Percent of All Patient Days:	2.1%	Medicaid/BadgerCare	12.2%
·		·		Other Government	0.7%
				Commercial or Private Insurance	13.6%
				Self-Pay	1.7%
				Other or Unknown Insurance	0.7%
					2.1 70

Age Distribution				<b>Sex Distribution</b>	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	7.5%	3.4%	Male	41.7%	40.1%	Amer.Ind/Alaskan Native	3.1%	2.9%	
Under 15	1.0%	0.7%	Female	58.3%	59.9%	Asian	0.0%	0.0%	
15 - 19	0.7%	0.5%				Black/African Amer.	0.3%	0.1%	
20 - 24	1.7%	1.0%				Native Hawaii/Pac.Isl.	0.3%	0.2%	
25 - 34	4.7%	2.5%				White	91.9%	93.9%	
35 - 44	4.1%	3.3%				Multiracial	0.0%	0.0%	
45 - 54	4.4%	2.3%				Declined	4.4%	2.9%	
55 - 64	6.4%	4.9%				Unavailable	0 %	0 %	
65 - 74	20.3%	21.1%							
75 - 84	28.1%	35.3%							

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient Volume Group		All GMS Hospitals			
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	5	5.0	4.2	1.19	2.6	1.92	4.5	1.11		
137 Respiratory Infections and Inflammations	0	N/A	5.0	N/A	3.7	N/A	5.6	N/A		
139 Pneumonia	26	4.2	3.7	1.14	3.3	1.27	4.0	1.05		
140 Chronic Obstructive Pulmonary Disease	14	3.9	3.5	1.11	3.2	1.22	3.6	1.08		
194 Heart Failure	14	2.4	4.3	0.56	3.3	0.73	4.6	0.52		
201 Heart Abnormal Rhythm and Conduction Disorders	8	2.9	2.8	1.04	2.5	1.16	2.8	1.04		
247 Intestinal Obstruction without Surgery	7	2.3	3.3	0.70	2.3	1.00	3.5	0.66		
282 Disorders of Pancreas Except Malignancy	*	*	3.5	*	2.7	*	4.0	*		
302 Knee Replacement	0	N/A	2.1	N/A	2.4	N/A	2.0	N/A		
383 Cellulitis & other skin infections	9	5.2	3.9	1.33	3.8	1.37	4.0	1.30		
463 Kidney/Urinary Tract Infection	15	4.3	3.1	1.39	3.3	1.30	3.6	1.19		
469 Acute kidney injury	*	*	4.4	*	3.2	*	4.6	*		
720 Blood Infection/Septicemia	6	7.5	4.8	1.56	3.6	2.08	5.5	1.36		
861 Signs & Symptoms	6	3.7	5.1	0.73	6.3	0.59	5.0	0.74		
862 Other Factors Influencing Health Status	*	*	8.7	*	9.1	*	8.7	*		

_	• •	•	•							
This Facility			Risk Adjusted Group Averages							
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	<u>Inpatient V</u> Average Charge	olume Group	All GMS Ho Average Charge	ospitals Ratio			
\$37,626	\$45,981	\$27,159	1.69	\$16,434	2.80	\$36,517	1.26			
N/A	N/A	\$28,589	*	\$18,058	*	\$39,518	*			
\$19,333	\$27,224	\$19,690	1.38	\$15,907	1.71	\$26,154	1.04			
\$21,850	\$28,522	\$18,026	1.58	\$15,423	1.85	\$23,596	1.21			
\$10,229	\$12,812	\$22,734	0.56	\$15,151	0.85	\$29,512	0.43			
\$12,034	\$13,639	\$16,241	0.84	\$12,073	1.13	\$21,125	0.65			
\$14,956	\$17,120	\$14,181	1.21	\$10,681	1.60	\$21,879	0.78			
*	*	\$20,390	*	\$15,867	*	\$28,992	*			
N/A	N/A	\$38,967	*	\$47,739	*	\$48,781	*			
\$23,789	\$20,981	\$17,014	1.23	\$14,904	1.41	\$21,953	0.96			
\$18,134	\$20,035	\$13,865	1.45	\$12,446	1.61	\$22,097	0.91			
*	*	\$22,197	*	\$13,028	*	\$29,600	*			
\$31,686	\$52,896	\$32,245	1.64	\$18,335	2.88	\$44,340	1.19			
\$13,196	\$14,145	\$19,879	0.71	\$15,939	0.89	\$28,329	0.50			
*	*	\$24,090	*	\$24,133	*	\$31,132	*			
	Average Charge \$37,626 N/A \$19,333 \$21,850 \$10,229 \$12,034 \$14,956 * N/A \$23,789 \$18,134 *	Risk Adjusted Average Charge S37,626 \$45,981 N/A N/A \$19,333 \$27,224 \$21,850 \$28,522 \$10,229 \$12,812 \$12,034 \$13,639 \$14,956 \$17,120 * * * * * N/A \$23,789 \$20,981 \$18,134 \$20,035 * * \$31,686 \$52,896	Risk Adjusted Average Charge S17,159 S19,690 S19,333 S27,224 S19,690 S21,850 S28,522 S18,026 S10,229 S12,812 S22,734 S12,034 S13,639 S16,241 S12,034 S13,639 S16,241 S14,181 S20,390 S14,181 S20,390 S14,181 S20,390 S13,789 S20,981 S17,014 S18,134 S20,035 S13,865 S22,197 S31,686 S52,896 S32,245 S13,196 S14,145 S19,879	Risk Adjusted Average Charge Ratio  \$37,626 \$45,981 \$27,159 1.69 N/A N/A \$28,589 * \$19,333 \$27,224 \$19,690 1.38 \$21,850 \$28,522 \$18,026 1.58 \$10,229 \$12,812 \$22,734 0.56 \$12,034 \$13,639 \$16,241 0.84 \$14,956 \$17,120 \$14,181 1.21 *  * * * \$20,390 * N/A N/A \$38,967 * \$23,789 \$20,981 \$17,014 1.23 \$18,134 \$20,035 \$13,865 1.45 *  * * \$22,197 * \$31,686 \$52,896 \$32,245 1.64 \$13,196 \$14,145 \$19,879 0.71	Risk Adjusted Average Average Charge Charge Charge Charge Ratio Charge Ratio Charge Charge S37,626 \$45,981 \$27,159 1.69 \$16,434 \$18,058 \$19,333 \$27,224 \$19,690 1.38 \$15,907 \$21,850 \$28,522 \$18,026 1.58 \$15,423 \$10,229 \$12,812 \$22,734 0.56 \$15,151 \$12,034 \$13,639 \$16,241 0.84 \$12,073 \$14,956 \$17,120 \$14,181 1.21 \$10,681 \$ \$20,390 \$ \$15,867 \$ N/A N/A \$38,967 \$ \$47,739 \$23,789 \$20,981 \$17,014 1.23 \$14,904 \$18,134 \$20,035 \$13,865 1.45 \$12,446 \$ \$22,197 \$ \$13,028 \$31,686 \$52,896 \$32,245 1.64 \$18,335 \$13,196 \$14,145 \$19,879 0.71 \$15,939	Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio  \$37,626 \$45,981 \$27,159 1.69 \$16,434 2.80 N/A N/A \$28,589 * \$18,058 * \$19,333 \$27,224 \$19,690 1.38 \$15,907 1.71 \$21,850 \$28,522 \$18,026 1.58 \$15,423 1.85 \$10,229 \$12,812 \$22,734 0.56 \$15,151 0.85 \$12,034 \$13,639 \$16,241 0.84 \$12,073 1.13 \$14,956 \$17,120 \$14,181 1.21 \$10,681 1.60 * \$20,390 * \$15,867 * N/A N/A \$38,967 * \$47,739 * \$23,789 \$20,981 \$17,014 1.23 \$14,904 1.41 \$18,134 \$20,035 \$13,865 1.45 \$12,446 1.61 * \$22,197 * \$13,028 * \$31,686 \$52,896 \$32,245 1.64 \$18,335 2.88 \$13,196 \$14,145 \$19,879 0.71 \$15,939 0.89	Risk Adjusted Charge         Analysis Area Average Charge         Inpatient Volume Group Average Average Charge         All GMS Howard Average Charge         Average Charge         Average Charge         All GMS Howard Average Charge         All GMS Howard Average Charge         All GMS Howard Average Charge         Average Charge         Average Charge         All GMS Howard Average Charge         All GMS Howard Average Charge         Average Charge			

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

025 Memorial Hospital of Lafayette Co.

800 Clay Street

Darlington, WI 53530

Hospital Type: GMS

County: Lafayette

Analysis Area: 1-Southern

608-776-4466				Inpatient Volume Group: 1	
Overall Hospital Utilization				Patient Discharge Statu	<u></u> <u>IS</u>
Total Discharges:	260	Average Length of Stay (days):	4.3	<u>Discharge Status</u>	% Discharges
Total Patient Days:	1,109	Average Charge per Discharge:	\$24,081	Home or Self-Care Other GMS Hospital	65.8% 6.2%
Obstetrical Utilization				Critical Access Hospital (CAH)	1.2%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges: Patient Days:	0 0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges: Percent of All Patient Days:	0.0% 0.0% 0.0% 0.4% 0.3%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	11.5% 0.4% 0.0% 1.2% 0.0% 1.5% 0.0% 1.5% 0.0%
r dione bays.	3	r crock or all rations bays.	0.570	Expected Pay Source Distril	
AODA Utilization				Primary Payer	% Discharges
Discharges:	1	Percent of All Discharges:	0.4%	Medicare	79.2%
Patient Days:	5	Percent of All Patient Days:	0.5%	Medicaid/BadgerCare	1.9%
				Other Government	0.0%
				Commercial or Private Insurance	16.9%
				Self-Pay	1.9%
				Other or Unknown Insurance	0.0%

	Age Distribution Sex Distribution						Race Distribution				
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days			
Newborn	0.0%	0.0%	Male	47.7%	46.9%	Amer.Ind/Alaskan Native	0.0%	0.0%			
Under 15	0.0%	0.0%	Female	52.3%	53.1%	Asian	0.0%	0.0%			
15 - 19	0.0%	0.0%				Black/African Amer.	0.4%	0.3%			
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%			
25 - 34	0.0%	0.0%				White	98.8%	99.3%			
35 - 44	0.0%	0.0%				Multiracial	0.0%	0.0%			
45 - 54	3.1%	2.3%				Declined	0.0%	0.0%			
55 - 64	16.9%	9.1%				Unavailable	0.8%	0.5%			
65 - 74	20.8%	24.1%									
75 - 84	32.3%	34.2%									
85 & Over	26.9%	30.4%									

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient Volume Group		All GMS Hospitals			
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	*	*	4.1	*	2.6	*	4.5	*		
137 Respiratory Infections and Inflammations	5	5.2	5.4	0.96	3.7	1.41	5.6	0.93		
139 Pneumonia	24	3.0	3.7	0.81	3.3	0.91	4.0	0.75		
140 Chronic Obstructive Pulmonary Disease	23	2.7	3.6	0.75	3.2	0.84	3.6	0.75		
194 Heart Failure	14	4.5	4.5	1.00	3.3	1.36	4.6	0.98		
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.8	*	2.5	*	2.8	*		
247 Intestinal Obstruction without Surgery	*	*	3.7	*	2.3	*	3.5	*		
282 Disorders of Pancreas Except Malignancy	0	N/A	4.3	N/A	2.7	N/A	4.0	N/A		
302 Knee Replacement	47	2.5	2.0	1.25	2.4	1.04	2.0	1.25		
383 Cellulitis & other skin infections	*	*	4.0	*	3.8	*	4.0	*		
463 Kidney/Urinary Tract Infection	18	3.6	3.4	1.06	3.3	1.09	3.6	1.00		
469 Acute kidney injury	*	*	4.3	*	3.2	*	4.6	*		
720 Blood Infection/Septicemia	*	*	5.5	*	3.6	*	5.5	*		
861 Signs & Symptoms	22	6.8	4.4	1.55	6.3	1.08	5.0	1.36		
862 Other Factors Influencing Health Status	*	*	6.5	*	J 9.1	*	8.7	*		

_	• .	•	•	-	•					
This Facility			Risk Adjusted Group Averages							
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio			
*	*	\$42,179	*	\$16,434	*	\$36,517	*			
\$15,040	\$24,967	\$43,940	0.57	\$18,058	1.38	\$39,518	0.63			
\$12,396	\$16,063	\$28,774	0.56	\$15,907	1.01	\$26,154	0.61			
\$12,061	\$15,049	\$28,251	0.53	\$15,423	0.98	\$23,596	0.64			
\$12,938	\$18,065	\$33,598	0.54	\$15,151	1.19	\$29,512	0.61			
*	*	\$23,719	*	\$12,073	*	\$21,125	*			
*	*	\$24,525	*	\$10,681	*	\$21,879	*			
N/A	N/A	\$32,566	*	\$15,867	*	\$28,992	*			
\$50,049	\$54,021	\$43,613	1.24	\$47,739	1.13	\$48,781	1.11			
*	*	\$24,297	*	\$14,904	*	\$21,953	*			
\$14,041	\$14,200	\$24,396	0.58	\$12,446	1.14	\$22,097	0.64			
*	*	\$32,366	*	\$13,028	*	\$29,600	*			
*	*	\$52,049	*	\$18,335	*	\$44,340	*			
\$12,883	\$16,147	\$24,105	0.67	\$15,939	1.01	\$28,329	0.57			
*	*	\$21,737	*	\$24,133	*	\$31,132	*			
	* \$15,040 \$12,396 \$12,061 \$12,938  * * * * * * * * * * * * * * * * * *	Risk Adjusted Average Charge	Risk Adjusted Average Charge Statement Charge Statement Charge Ch	Risk Adjusted Average Charge Ratio  *	Risk Adjusted Average Average Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge	Risk Adjusted Average Charge Charge Charge Ratio  * * \$42,179 * \$16,434 * \$15,040 \$24,967 \$43,940 0.57 \$18,058 1.38 \$12,396 \$16,063 \$28,774 0.56 \$15,907 1.01 \$12,061 \$15,049 \$28,251 0.53 \$15,423 0.98 \$12,938 \$18,065 \$33,598 0.54 \$15,151 1.19 * \$23,719 * \$12,073 * \$24,525 * \$10,681 * \$10,681 * \$10,049 \$54,021 \$43,613 1.24 \$47,739 1.13 * \$24,297 * \$14,041 \$14,200 \$24,396 0.58 \$12,446 1.14 \$32,366 * \$13,028 * \$12,883 \$16,147 \$24,105 0.67 \$15,939 1.01	Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Charge Charge Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge R			

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

026 Upland Hills Health Inc 800 Compassion Way, PO Box 800 Dodgeville, WI 53533

608-930-8000

Hospital Type: GMS County: Iowa

Analysis Area: 1-Southern

Overall Hospital Utilization				Patient Discharge Statu	s
Total Discharges:	1,044	Average Length of Stay (days):	3.3	<u>Discharge Status</u>	% Discharges
Total Patient Days:	3,495	Average Charge per Discharge:	\$15,389	Home or Self-Care	80.2%
Total Fatient Bays.	0,400	Average onlinge per bisonarge.	ψ10,000	Other GMS Hospital	4.3%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths:	134	Percent of All Childbirths:	64.1%	Skilled Nursing Facility	8.0%
Cesarean Childbirths:	56	Percent of All Childbirths:	26.8%	Intermediate Care Facility	0.8%
Other Childbirths:	19	Percent of All Childbirths:	9.1%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	209			Hospice	0.2%
<b>-</b>	0.10			Other Institution	0.0%
Total Newborns:	210			Home Health Service	0.0%
Psychiatric Utilization				Left Against Medical Advice	0.0%
	_			Expired	1.7%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	4.7%
				<b>Expected Pay Source Distrib</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	9	Percent of All Discharges:	0.9%	Medicare	44.6%
Patient Days:	31	Percent of All Patient Days:	0.9%	Medicaid/BadgerCare	14.9%
				Other Government	0.7%
				Commercial or Private Insurance	36.3%
				Self-Pay	3.4%
				Other or Unknown Insurance	0.0%

	Age Distribution	<u>.</u>		Sex Distribution	<u>n</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	20.1%	12.2%	Male	38.2%	41.5%	Amer.Ind/Alaskan Native	0.2%	0.1%	
Under 15	0.7%	0.4%	Female	61.8%	58.5%	Asian	0.1%	0.1%	
15 - 19	1.1%	0.6%				Black/African Amer.	0.5%	0.4%	
20 - 24	3.7%	2.7%				Native Hawaii/Pac.Isl.	0.1%	0.0%	
25 - 34	15.9%	11.2%				White	98.7%	99.1%	
35 - 44	4.9%	3.8%				Multiracial	0.3%	0.2%	
45 - 54	4.3%	4.7%				Declined	0.0%	0.0%	
55 - 64	9.1%	11.6%				Unavailable	0.2%	0.1%	
65 - 74	12.5%	14.2%							
75 - 84	14.8%	20.1%							
85 & Over	12.9%	18.5%							

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient Volume Group		All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	8	4.0	4.1	0.98	3.0	1.33	4.5	0.89		
139 Pneumonia	39	3.6	3.7	0.97	3.3	1.09	4.0	0.90		
140 Chronic Obstructive Pulmonary Disease	33	4.5	3.6	1.25	3.3	1.36	3.6	1.25		
194 Heart Failure	36	3.9	4.5	0.87	3.4	1.15	4.6	0.85		
201 Heart Abnormal Rhythm and Conduction Disorders	24	2.8	2.8	1.00	2.6	1.08	2.8	1.00		
301 Hip Replacement	9	3.4	2.2	1.55	1.9	1.79	2.3	1.48		
302 Knee Replacement	18	3.1	2.0	1.55	2.1	1.48	2.0	1.55		
383 Cellulitis & other skin infections	29	4.5	4.0	1.13	3.9	1.15	4.0	1.13		
463 Kidney/Urinary Tract Infection	37	4.0	3.4	1.18	3.0	1.33	3.6	1.11		
469 Acute kidney injury	5	3.0	4.3	0.70	2.9	1.03	4.6	0.65		
540 Cesarean Delivery	56	3.7	3.9	0.95	3.1	1.19	3.6	1.03		
560 Vaginal Delivery	134	1.9	2.3	0.83	2.0	0.95	2.2	0.86		
640 Normal Newborn, Birthweight 2500g+	204	2.0	2.1	0.95	2.0	1.00	2.1	0.95		
720 Blood Infection/Septicemia	27	3.8	5.5	0.69	3.6	1.06	5.5	0.69		
862 Other Factors Influencing Health Status	29	7.2	6.5	1.11	8.7	0.83	8.7	0.83		

_	• .	•	•	-	•			
This Facility			Risk Adjusted Group Averages					
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
\$25,191	\$29,806	\$42,179	0.71	\$19,995	1.49	\$36,517	0.82	
\$17,626	\$20,740	\$28,774	0.72	\$17,968	1.15	\$26,154	0.79	
\$23,593	\$22,683	\$28,251	0.80	\$18,011	1.26	\$23,596	0.96	
\$18,073	\$20,922	\$33,598	0.62	\$16,661	1.26	\$29,512	0.71	
\$16,200	\$16,023	\$23,719	0.68	\$13,360	1.20	\$21,125	0.76	
\$51,794	\$54,226	\$49,942	1.09	\$39,123	1.39	\$50,854	1.07	
\$56,001	\$56,954	\$43,613	1.31	\$39,600	1.44	\$48,781	1.17	
\$18,113	\$19,004	\$24,297	0.78	\$15,690	1.21	\$21,953	0.87	
\$12,576	\$14,138	\$24,396	0.58	\$12,405	1.14	\$22,097	0.64	
\$16,743	\$16,412	\$32,366	0.51	\$14,450	1.14	\$29,600	0.55	
\$21,079	\$22,835	\$28,792	0.79	\$20,919	1.09	\$24,895	0.92	
\$8,208	\$8,796	\$13,875	0.63	\$8,631	1.02	\$12,167	0.72	
\$3,094	\$3,350	\$5,441	0.62	\$4,326	0.77	\$4,719	0.71	
\$19,541	\$24,733	\$52,049	0.48	\$20,714	1.19	\$44,340	0.56	
\$11,398	\$14,727	\$21,737	0.68	\$15,162	0.97	\$31,132	0.47	
	Average Charge \$25,191 \$17,626 \$23,593 \$18,073 \$16,200 \$51,794 \$56,001 \$18,113 \$12,576 \$16,743 \$21,079 \$8,208 \$3,094 \$19,541	Risk Adjusted Average Charge Charge Charge Charge Charge Charge  \$25,191 \$29,806 \$17,626 \$20,740 \$23,593 \$22,683 \$18,073 \$20,922 \$16,200 \$16,023 \$51,794 \$54,226 \$56,001 \$56,954 \$18,113 \$19,004 \$12,576 \$14,138 \$16,743 \$16,743 \$16,412 \$21,079 \$22,835 \$8,208 \$8,796 \$3,094 \$3,350 \$19,541 \$24,733	Risk Adjusted Average Charge S17,626 \$29,740 \$28,774 \$23,593 \$22,683 \$28,251 \$18,073 \$20,922 \$33,598 \$16,200 \$16,023 \$23,719 \$51,794 \$54,226 \$49,942 \$56,001 \$56,954 \$43,613 \$18,113 \$19,004 \$24,297 \$12,576 \$14,138 \$24,396 \$16,743 \$16,412 \$32,366 \$21,079 \$22,835 \$28,792 \$8,208 \$8,796 \$13,875 \$3,094 \$3,350 \$5,441 \$19,541 \$24,733 \$52,049	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Ratio  \$25,191 \$29,806 \$42,179 0.71 \$17,626 \$20,740 \$28,774 0.72 \$23,593 \$22,683 \$28,251 0.80 \$18,073 \$20,922 \$33,598 0.62 \$16,200 \$16,023 \$23,719 0.68 \$51,794 \$54,226 \$49,942 1.09 \$56,001 \$56,954 \$43,613 1.31 \$18,113 \$19,004 \$24,297 0.78 \$12,576 \$14,138 \$24,396 0.58 \$16,743 \$16,412 \$32,366 0.51 \$21,079 \$22,835 \$28,792 0.79 \$8,208 \$8,796 \$13,875 0.63 \$3,094 \$3,350 \$5,441 0.62 \$19,541 \$24,733 \$52,049 0.48	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Charge States Charge Ratio Charge Charge Charge Charge Charge Charge Charge Charge Ratio Charge	Risk Adjusted Average Charge         Average Charge         Average Charge         Average Charge         Inpatient Volume Group Average Average Charge           \$25,191         \$29,806         \$42,179         0.71         \$19,995         1.49           \$17,626         \$20,740         \$28,774         0.72         \$17,968         1.15           \$23,593         \$22,683         \$28,251         0.80         \$18,011         1.26           \$18,073         \$20,922         \$33,598         0.62         \$16,661         1.26           \$16,200         \$16,023         \$23,719         0.68         \$13,360         1.20           \$51,794         \$54,226         \$49,942         1.09         \$39,123         1.39           \$56,001         \$56,954         \$43,613         1.31         \$39,600         1.44           \$18,113         \$19,004         \$24,297         0.78         \$15,690         1.21           \$12,576         \$14,138         \$24,396         0.58         \$12,405         1.14           \$16,743         \$16,412         \$32,366         0.51         \$14,450         1.14           \$21,079         \$22,835         \$28,792         0.79         \$20,919         1.09           \$8,208	Risk Adjusted         Analysis Area         Inpatient Volume Group         All GMS Howard Group           Average Charge         Average Charge         Ratio         Charge Ratio         Charge Ratio           \$25,191         \$29,806         \$42,179         0.71         \$19,995         1.49         \$36,517           \$17,626         \$20,740         \$28,774         0.72         \$17,968         1.15         \$26,154           \$23,593         \$22,683         \$28,251         0.80         \$18,011         1.26         \$23,596           \$18,073         \$20,922         \$33,598         0.62         \$16,661         1.26         \$29,512           \$16,200         \$16,023         \$23,719         0.68         \$13,360         1.20         \$21,125           \$51,794         \$54,226         \$49,942         1.09         \$39,123         1.39         \$50,854           \$56,001         \$56,954         \$43,613         1.31         \$39,600         1.44         \$48,781           \$18,113         \$19,004         \$24,297         0.78         \$15,690         1.21         \$21,953           \$12,576         \$14,138         \$24,396         0.58         \$12,405         1.14         \$22,097           \$16,74	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

027 AdventHealth Durand 1220 Third Avenue, PO Box 224 Durand, WI 54736

715-672-4211

85 & Over

33.1%

31.1%

Hospital Type: GMS County: Pepin

Analysis Area: 5A-West Central

Overall Hospital Utilization			Patient Discharge Status	<u>s</u>
Total Discharges: 13	3 Average Length of Stay (days):	2.9	<u>Discharge Status</u>	% Discharges
Total Patient Days: 39	2 Average Charge per Discharge:	\$16,267	Home or Self-Care	60.2%
Total Fatient Days.	2 Average Charge per Discharge.	φ10,207	Other GMS Hospital	1.5%
Obstetrical Utilization			Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	20.3%
Cesarean Childbirths:	0 Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.0%
Other Childbirths:	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	<u>0</u>	3.373	Hospice	1.5%
Total Officialities			Other Institution	0.0%
Total Newborns:	0		Home Health Service	1.5%
Psychiatric Utilization			Left Against Medical Advice	0.0%
r sychiatric othization			Expired	4.5%
Discharges:	0 Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0 Percent of All Patient Days:	0.0%	Other	10.5%
			<b>Expected Pay Source Distrib</b>	ution
AODA Utilization			Primary Payer	% Discharges
Discharges:	0 Percent of All Discharges:	0.0%	Medicare	91.0%
Patient Days:	0 Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	0.0%
			Other Government	0.0%
			Commercial or Private Insurance	4.5%
			Self-Pay	4.5%
			Other or Unknown Insurance	0.0%

Age Distribution				<b>Sex Distribution</b>	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	43.6%	42.1%	Amer.Ind/Alaskan Native	0.0%	0.0%	
Under 15	0.0%	0.0%	Female	56.4%	57.9%	Asian	0.0%	0.0%	
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%	
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	0.8%	0.3%				White	100.0%	100.0%	
35 - 44	0.8%	0.3%				Multiracial	0.0%	0.0%	
45 - 54	1.5%	2.0%				Declined	0.0%	0.0%	
55 - 64	7.5%	11.2%				Unavailable	0 %	0 %	
65 - 74	19.5%	19.1%							
75 - 84	36.8%	36.0%							

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient V	olume Group	All GMS H	<u>ospitals</u>	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	*	*	4.2	*	2.6	*	4.5	*	
137 Respiratory Infections and Inflammations	*	*	5.0	*	3.7	*	5.6	*	
139 Pneumonia	17	2.4	3.7	0.65	3.3	0.73	4.0	0.60	
140 Chronic Obstructive Pulmonary Disease	7	4.1	3.5	1.17	3.2	1.28	3.6	1.14	
194 Heart Failure	12	2.6	4.3	0.60	3.3	0.79	4.6	0.57	
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.8	*	2.5	*	2.8	*	
247 Intestinal Obstruction without Surgery	0	N/A	3.3	N/A	2.3	N/A	3.5	N/A	
282 Disorders of Pancreas Except Malignancy	0	N/A	3.5	N/A	2.7	N/A	4.0	N/A	
302 Knee Replacement	0	N/A	2.1	N/A	2.4	N/A	2.0	N/A	
383 Cellulitis & other skin infections	5	2.4	3.9	0.62	3.8	0.63	4.0	0.60	
463 Kidney/Urinary Tract Infection	9	2.1	3.1	0.68	3.3	0.64	3.6	0.58	
469 Acute kidney injury	0	N/A	4.4	N/A	3.2	N/A	4.6	N/A	
720 Blood Infection/Septicemia	10	3.5	4.8	0.73	3.6	0.97	5.5	0.64	
861 Signs & Symptoms	*	*	5.1	*	6.3	*	5.0	*	
862 Other Factors Influencing Health Status	*	*	8.7	*	9.1	*	8.7	*	

	This Facility			Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
133 Respiratory failure	*	*	\$27,159	*	\$16,434	*	\$36,517	*		
137 Respiratory Infections and Inflammations	*	*	\$28,589	*	\$18,058	*	\$39,518	*		
139 Pneumonia	\$18,661	\$24,477	\$19,690	1.24	\$15,907	1.54	\$26,154	0.94		
140 Chronic Obstructive Pulmonary Disease	\$19,148	\$22,910	\$18,026	1.27	\$15,423	1.49	\$23,596	0.97		
194 Heart Failure	\$13,276	\$17,547	\$22,734	0.77	\$15,151	1.16	\$29,512	0.59		
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	\$16,241	*	\$12,073	*	\$21,125	*		
247 Intestinal Obstruction without Surgery	N/A	N/A	\$14,181	*	\$10,681	*	\$21,879	*		
282 Disorders of Pancreas Except Malignancy	N/A	N/A	\$20,390	*	\$15,867	*	\$28,992	*		
302 Knee Replacement	N/A	N/A	\$38,967	*	\$47,739	*	\$48,781	*		
383 Cellulitis & other skin infections	\$13,872	\$14,596	\$17,014	0.86	\$14,904	0.98	\$21,953	0.66		
463 Kidney/Urinary Tract Infection	\$13,406	\$16,123	\$13,865	1.16	\$12,446	1.30	\$22,097	0.73		
469 Acute kidney injury	N/A	N/A	\$22,197	*	\$13,028	*	\$29,600	*		
720 Blood Infection/Septicemia	\$19,187	\$34,495	\$32,245	1.07	\$18,335	1.88	\$44,340	0.78		
861 Signs & Symptoms	*	*	\$19,879	*	\$15,939	*	\$28,329	*		
862 Other Factors Influencing Health Status	*	*	\$24,090	*	\$24,133	*	\$31,132	*		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

028 Ascension Eagle River Hospital

201 Hospital Road

Eagle River, WI 54521

715-479-7411

Hospital Type: GMS County: Vilas

Inpatient Volume Group: 1

Analysis Area: 6-North Central

	Patient Discharge Status	
.tc		0/_

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	308	Average Length of Stay (days):	4.8	<u>Discharge Status</u>	% Discharges
Total Patient Days:	1,477	Average Charge per Discharge:	\$15,476	Home or Self-Care	45.1%
Total Fatient Days.	1,411	Average Charge per Discharge.	φ15, <del>4</del> 70	Other GMS Hospital	14.9%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.6%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	11.4%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0	r creent of All Offidalitins.	0.0 /6	Hospice	4.5%
Total Childbirths.	U			Other Institution	0.0%
Total Newborns:	0			Home Health Service	9.7%
<b>5</b>				Left Against Medical Advice	0.3%
Psychiatric Utilization				Expired	3.6%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	9.7%
				<b>Expected Pay Source Distrib</b>	oution
AODA Utilization				Primary Payer	% Discharges
Discharges:	19	Percent of All Discharges:	6.2%	Medicare	75.0%
Patient Days:	82	Percent of All Patient Days:	5.6%	Medicaid/BadgerCare	5.2%
•		·		Other Government	2.6%
				Commercial or Private Insurance	16.2%
				Self-Pay	1.0%
				Other or Unknown Insurance	0.0%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	44.2%	48.5%	Amer.Ind/Alaskan Native	e 1.3%	5.7%	
Under 15	0.0%	0.0%	Female	55.8%	51.5%	Asian	0.0%	0.0%	
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%	
20 - 24	0.6%	0.4%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	0.6%	0.3%				White	98.1%	93.6%	
35 - 44	2.9%	1.9%				Multiracial	0.0%	0.0%	
45 - 54	4.2%	2.6%				Declined	0.0%	0.0%	
55 - 64	10.4%	15.2%				Unavailable	0.6%	0.7%	
65 - 74	19.2%	20.4%							
75 - 84	30.8%	28.4%							
85 & Over	31.2%	30.7%							

	This Facil	ity	Group Averages					
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	7	3.0	4.1	0.73	2.6	1.15	4.5	0.67
137 Respiratory Infections and Inflammations	*	*	5.8	*	3.7	*	5.6	*
139 Pneumonia	25	3.2	3.8	0.84	3.3	0.97	4.0	0.80
140 Chronic Obstructive Pulmonary Disease	20	3.3	3.4	0.97	3.2	1.03	3.6	0.92
194 Heart Failure	16	5.3	4.2	1.26	3.3	1.61	4.6	1.15
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.6	*	2.5	*	2.8	*
247 Intestinal Obstruction without Surgery	0	N/A	3.5	N/A	2.3	N/A	3.5	N/A
282 Disorders of Pancreas Except Malignancy	*	*	3.6	*	2.7	*	4.0	*
302 Knee Replacement	0	N/A	1.7	N/A	2.4	N/A	2.0	N/A
383 Cellulitis & other skin infections	8	4.0	3.6	1.11	3.8	1.05	4.0	1.00
463 Kidney/Urinary Tract Infection	24	4.8	3.4	1.41	3.3	1.45	3.6	1.33
469 Acute kidney injury	9	3.3	4.1	0.80	3.2	1.03	4.6	0.72
720 Blood Infection/Septicemia	37	3.2	5.5	0.58	3.6	0.89	5.5	0.58
861 Signs & Symptoms	861 Signs & Symptoms 19 9.6		5.6	1.71	6.3	1.52	5.0	1.92
862 Other Factors Influencing Health Status		7.4	8.9	0.83	9.1	0.81	8.7	0.85

_	• •	•	•	-	•				
This Facility			Risk Adjusted Group Averages						
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
\$7,226	\$10,173	\$28,209	0.36	\$16,434	0.62	\$36,517	0.28		
*	*	\$32,218	*	\$18,058	*	\$39,518	*		
\$11,379	\$10,061	\$21,418	0.47	\$15,907	0.63	\$26,154	0.38		
\$10,815	\$11,361	\$20,180	0.56	\$15,423	0.74	\$23,596	0.48		
\$17,252	\$17,338	\$23,893	0.73	\$15,151	1.14	\$29,512	0.59		
*	*	\$17,528	*	\$12,073	*	\$21,125	*		
N/A	N/A	\$19,263	*	\$10,681	*	\$21,879	*		
*	*	\$20,756	*	\$15,867	*	\$28,992	*		
N/A	N/A	\$42,608	*	\$47,739	*	\$48,781	*		
\$12,276	\$10,871	\$18,077	0.60	\$14,904	0.73	\$21,953	0.50		
\$15,154	\$15,307	\$18,556	0.82	\$12,446	1.23	\$22,097	0.69		
\$16,464	\$19,164	\$24,143	0.79	\$13,028	1.47	\$29,600	0.65		
\$11,921	\$12,717	\$34,953	0.36	\$18,335	0.69	\$44,340	0.29		
\$17,924	\$18,226	\$24,533	0.74	\$15,939	1.14	\$28,329	0.64		
\$14,009	\$13,490	\$31,087	0.43	\$24,133	0.56	\$31,132	0.43		
	Average Charge \$7,226 * \$11,379 \$10,815 \$17,252 * N/A * N/A \$12,276 \$15,154 \$16,464 \$11,921 \$17,924	Risk Adjusted Average Charge S7,226 \$10,173 * * * * * * * * * * * * * * * * * * *	Risk Adjusted Average Charge S28,209 \$32,218 \$11,379 \$10,061 \$21,418 \$10,815 \$11,361 \$20,180 \$17,252 \$17,338 \$23,893 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$10,871 \$19,263 \$20,756 \$12,276 \$10,871 \$18,077 \$15,154 \$15,307 \$18,556 \$16,464 \$19,164 \$24,143 \$11,921 \$12,717 \$34,953 \$17,924 \$18,226 \$24,533	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Charge Charge Ratio  \$7,226 \$10,173 \$28,209 0.36 \$32,218 \$11,379 \$10,061 \$21,418 0.47 \$10,815 \$11,361 \$20,180 0.56 \$17,252 \$17,338 \$23,893 0.73 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$17,528 \$18,077 0.60 \$15,154 \$15,307 \$18,077 0.60 \$15,154 \$15,307 \$18,077 0.60 \$15,154 \$15,307 \$18,556 0.82 \$16,464 \$19,164 \$24,143 0.79 \$11,921 \$12,717 \$34,953 0.36 \$17,924 \$18,226 \$24,533 0.74	Risk Adjusted Average Average Charge Charge Charge Charge Ratio Charge Ratio Charge S10,173 \$28,209 0.36 \$16,434 \$18,058 \$11,379 \$10,061 \$21,418 0.47 \$15,907 \$10,815 \$11,361 \$20,180 0.56 \$15,423 \$17,252 \$17,338 \$23,893 0.73 \$15,151 \$	Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio  \$7,226 \$10,173 \$28,209 0.36 \$16,434 0.62 \$11,379 \$10,061 \$21,418 0.47 \$15,907 0.63 \$10,815 \$11,361 \$20,180 0.56 \$15,423 0.74 \$17,252 \$17,338 \$23,893 0.73 \$15,151 1.14 \$\$\$\$\$\$N/A N/A \$19,263 \$\$\$\$\$\$\$\$N/A N/A \$42,608 \$	Risk Adjusted Charge         Analysis Area Average Charge         Inpatient Volume Group Average Average Charge         All GMS Howard Average Charge Charge         Analysis Area Average Charge Ratio         Inpatient Volume Group Average Charge Ratio         All GMS Howard Average Charge		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

#### 322 Marshfield Medical Center - Eau Claire

5.7%

7.8%

85 & Over

2310 Craig Rd

Eau Claire, WI 54701

Hospital Type: GMS

County: Eau Claire

Analysis Area: 5A-West Central

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	3,407	Average Length of Stay (days):	3.3	<u>Discharge Status</u>	% Discharges
Total Patient Days:	11,409	Average Charge per Discharge:	\$26,621	Home or Self-Care Other GMS Hospital	83.1% 2.4%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	388	Percent of All Childbirths:	73.6%	Skilled Nursing Facility	6.8% 0.9%
Cesarean Childbirths:	102	Percent of All Childbirths:	19.4%	Intermediate Care Facility	0.9%
Other Childbirths:	37	Percent of All Childbirths:	7.0%	Inpatient Rehabilitation Facility Hospice	1.4%
Total Childbirths:	527			Other Institution	0.0%
Total Newborns:	533			Home Health Service	1.9%
Davahiatria I Itilizatian				Left Against Medical Advice	0.8%
Psychiatric Utilization				Expired	1.7%
Discharges:	4	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.2%
Patient Days:	10	Percent of All Patient Days:	0.1%	Other	0.7%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	16	Percent of All Discharges:	0.5%	Medicare	42.1%
Patient Days:	58	Percent of All Patient Days:	0.5%	Medicaid/BadgerCare	22.4%
				Other Government	3.1%
				Commercial or Private Insurance	26.5%
				Self-Pay	2.4%
				Other or Unknown Insurance	3.5%

	Age Distribution			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	15.6%	9.1%	Male	44.6%	47.5%	Amer.Ind/Alaskan Native	0.9%	0.7%	
Under 15	1.4%	0.7%	Female	55.4%	52.5%	Asian	3.3%	2.3%	
15 - 19	0.9%	0.6%				Black/African Amer.	1.2%	0.8%	
20 - 24	4.0%	2.8%				Native Hawaii/Pac.Isl.	0.3%	0.4%	
25 - 34	12.1%	8.8%				White	90.9%	93.1%	
35 - 44	5.5%	5.0%				Multiracial	0.0%	0.0%	
45 - 54	7.5%	8.5%				Declined	0.6%	0.6%	
55 - 64	14.5%	15.8%				Unavailable	2.8%	2.2%	
65 - 74	19.6%	22.7%							
75 - 84	13.3%	18.2%							

	This Facil	ity	Group Averages						
			Analys	Analysis Area Inpatient Volume			up All GMS Hospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	75	6.0	4.2	1.43	4.5	1.33	4.5	1.33	
139 Pneumonia	78	4.8	3.7	1.30	4.2	1.14	4.0	1.20	
140 Chronic Obstructive Pulmonary Disease	41	4.0	3.5	1.14	3.6	1.11	3.6	1.11	
174 Percutaneous coronary intervention w AMI	67	3.0	2.7	1.11	3.0	1.00	3.0	1.00	
194 Heart Failure	94	4.4	4.3	1.02	4.6	0.96	4.6	0.96	
201 Heart Abnormal Rhythm and Conduction Disorders	96	2.9	2.8	1.04	2.9	1.00	2.8	1.04	
301 Hip Replacement	116	2.3	2.3	1.00	2.2	1.05	2.3	1.00	
302 Knee Replacement	67	2.2	2.1	1.05	2.0	1.10	2.0	1.10	
469 Acute kidney injury	57	4.9	4.4	1.11	4.7	1.04	4.6	1.07	
540 Cesarean Delivery	102	2.7	3.0	0.90	3.3	0.82	3.6	0.75	
560 Vaginal Delivery	388	2.1	2.1	1.00	2.1	1.00	2.2	0.95	
640 Normal Newborn, Birthweight 2500g+	511	1.9	2.0	0.95	2.1	0.90	2.1	0.90	
720 Blood Infection/Septicemia	91	6.2	4.8	1.29	5.5	1.13	5.5	1.13	
751 Psychoses	0	N/A	4.5	N/A	4.7	N/A	5.1	N/A	
775 Alcohol Abuse/Dependence	13	4.0	3.7	1.08	3.8	1.05	3.7	1.08	

•	•	• • •	•	•	•	•		
	This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$38,555	\$38,606	\$27,159	1.42	\$35,487	1.09	\$36,517	1.06
139 Pneumonia	\$25,890	\$25,524	\$19,690	1.30	\$27,529	0.93	\$26,154	0.98
140 Chronic Obstructive Pulmonary Disease	\$20,303	\$21,444	\$18,026	1.19	\$23,968	0.89	\$23,596	0.91
174 Percutaneous coronary intervention w AMI	\$58,771	\$64,449	\$68,843	0.94	\$72,860	0.88	\$73,175	0.88
194 Heart Failure	\$25,512	\$26,981	\$22,734	1.19	\$28,982	0.93	\$29,512	0.91
201 Heart Abnormal Rhythm and Conduction Disorders	\$17,728	\$19,079	\$16,241	1.17	\$21,611	0.88	\$21,125	0.90
301 Hip Replacement	\$44,138	\$44,660	\$41,021	1.09	\$52,206	0.86	\$50,854	0.88
302 Knee Replacement	\$43,664	\$45,062	\$38,967	1.16	\$50,848	0.89	\$48,781	0.92
469 Acute kidney injury	\$26,902	\$29,105	\$22,197	1.31	\$29,340	0.99	\$29,600	0.98
540 Cesarean Delivery	\$15,451	\$16,334	\$19,747	0.83	\$25,613	0.64	\$24,895	0.66
560 Vaginal Delivery	\$7,817	\$8,022	\$9,018	0.89	\$12,456	0.64	\$12,167	0.66
640 Normal Newborn, Birthweight 2500g+	\$3,858	\$4,091	\$3,539	1.16	\$4,463	0.92	\$4,719	0.87
720 Blood Infection/Septicemia	\$41,948	\$37,342	\$32,245	1.16	\$41,728	0.89	\$44,340	0.84
751 Psychoses	N/A	#	#	*	#	*	#	*
775 Alcohol Abuse/Dependence	\$21,364	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

029 Mayo Clinic Health System - Eau Claire 1221 Whipple Street, PO Box 5

Eau Claire, WI 54702

Hospital Type: GMS

County: Eau Claire

Analysis Area: 5A-West Central

715-838-3311				Inpatient Volume Group: 6	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	11,984	Average Length of Stay (days):	4.2	<u>Discharge Status</u>	% Discharges
Total Patient Days:	50,301	Average Charge per Discharge:	\$32,985	Home or Self-Care Other GMS Hospital	74.4% 1.2%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	681 243 48 972 974	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths: Percent of All Discharges:	70.1% 25.0% 4.9%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt	11.8% 0.3% 1.5% 1.5% 0.0% 1.3% 0.6% 1.4% 0.3%
Patient Days:	4,821	Percent of All Patient Days:	9.6%	Other	5.5%
AODA Utilization				Expected Pay Source Distri	bution % Discharges
Discharges:	158	Percent of All Discharges:	1.3%	Medicare	50.8%
Patient Days:	677	Percent of All Patient Days:	1.3%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	14.7% 1.8% 29.7% 3.1% 0.0%

Age Distribution			Sex Distribution	<u>n</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	8.1%	5.4%	Male	48.5%	51.5%	Amer.Ind/Alaskan Native	e 0.5%	0.7%
Under 15	1.0%	0.8%	Female	51.5%	48.5%	Asian	1.3%	1.2%
15 - 19	1.2%	1.0%				Black/African Amer.	1.1%	1.2%
20 - 24	3.4%	2.7%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	11.4%	9.1%				White	93.6%	94.0%
35 - 44	7.3%	6.9%				Multiracial	0.2%	0.2%
45 - 54	8.9%	9.3%				Declined	0.1%	0.0%
55 - 64	14.2%	15.2%				Unavailable	3.2%	2.6%
65 - 74	18.9%	20.6%						
75 - 84	15.9%	18.3%						
85 & Over	9.5%	10.7%						

	This Facil	ity	Group Averages						
			Analys	Analysis Area Inpatient Volume C			up All GMS Hospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
045 Stroke and Precerebral Occlusion with Infarct	153	4.2	4.0	1.05	4.6	0.91	4.2	1.00	
133 Respiratory failure	126	5.1	4.2	1.21	4.9	1.04	4.5	1.13	
139 Pneumonia	165	3.7	3.7	1.00	4.2	0.88	4.0	0.93	
174 Percutaneous coronary intervention w AMI	174	2.9	2.7	1.07	3.0	0.97	3.0	0.97	
175 Percutaneous coronary intervention w/o AMI	87	3.7	3.2	1.16	3.1	1.19	3.1	1.19	
194 Heart Failure	535	5.2	4.3	1.21	5.0	1.04	4.6	1.13	
201 Heart Abnormal Rhythm and Conduction Disorders	287	3.1	2.8	1.11	2.9	1.07	2.8	1.11	
301 Hip Replacement	287	2.5	2.3	1.09	2.5	1.00	2.3	1.09	
302 Knee Replacement	290	1.9	2.1	0.90	2.1	0.90	2.0	0.95	
469 Acute kidney injury	150	5.8	4.4	1.32	5.2	1.12	4.6	1.26	
540 Cesarean Delivery	243	3.4	3.0	1.13	4.0	0.85	3.6	0.94	
560 Vaginal Delivery	681	2.3	2.1	1.10	2.3	1.00	2.2	1.05	
640 Normal Newborn, Birthweight 2500g+	882	2.3	2.0	1.15	2.2	1.05	2.1	1.10	
720 Blood Infection/Septicemia	576	5.7	4.8	1.19	6.1	0.93	5.5	1.04	
751 Psychoses	521	4.0	4.5	0.89	5.1	0.78	5.1	0.78	

		This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # a	and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
045 Stroke a	nd Precerebral Occlusion with Infarct	\$37,301	\$35,047	\$29,606	1.18	\$43,048	0.81	\$39,987	0.88
133 Respirat	ory failure	\$40,006	\$32,274	\$27,159	1.19	\$39,891	0.81	\$36,517	0.88
139 Pneumo	nia	\$21,729	\$21,318	\$19,690	1.08	\$29,201	0.73	\$26,154	0.82
174 Percutai	neous coronary intervention w AMI	\$65,674	\$65,811	\$68,843	0.96	\$73,358	0.90	\$73,175	0.90
175 Percutai	neous coronary intervention w/o AMI	\$85,158	\$81,613	\$81,785	1.00	\$109,236	0.75	\$106,404	0.77
194 Heart Fa	ailure	\$29,154	\$27,570	\$22,734	1.21	\$32,710	0.84	\$29,512	0.93
201 Heart Al	onormal Rhythm and Conduction Disorders	\$19,835	\$19,148	\$16,241	1.18	\$22,164	0.86	\$21,125	0.91
301 Hip Rep	lacement	\$39,819	\$38,596	\$41,021	0.94	\$53,491	0.72	\$50,854	0.76
302 Knee Re	eplacement	\$34,428	\$33,468	\$38,967	0.86	\$52,844	0.63	\$48,781	0.69
469 Acute ki	dney injury	\$32,243	\$26,941	\$22,197	1.21	\$33,062	0.81	\$29,600	0.91
540 Cesarea	n Delivery	\$19,589	\$19,575	\$19,747	0.99	\$25,062	0.78	\$24,895	0.79
560 Vaginal	Delivery	\$9,043	\$8,873	\$9,018	0.98	\$12,661	0.70	\$12,167	0.73
640 Normal	Newborn, Birthweight 2500g+	\$3,898	\$3,621	\$3,539	1.02	\$5,036	0.72	\$4,719	0.77
720 Blood In	fection/Septicemia	\$43,254	\$38,056	\$32,245	1.18	\$50,089	0.76	\$44,340	0.86
751 Psychos	es	\$8,695	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

030 Sacred Heart Hospital 900 West Clairemont Avenue Eau Claire, WI 54701

715-839-4121

Hospital Type: GMS

County: Eau Claire

Analysis Area: 5A-West Central

Overall Hospital Utilization			Patient Discharge Statu	<u>IS</u>
Total Discharges: 7,602	Average Length of Stay (days):	4.5	<u>Discharge Status</u>	% Discharges
Total Patient Days: 34,446	Average Charge per Discharge:	\$32,814	Home or Self-Care	70.6%
Total Fation Days.	Average charge per bischarge.	Ψ02,014	Other GMS Hospital	1.2%
Obstetrical Utilization			Critical Access Hospital (CAH)	0.0%
Normal Childbirths: 395	Percent of All Childbirths:	74.8%	Skilled Nursing Facility	10.7%
Cesarean Childbirths: 120	Percent of All Childbirths:	22.7%	Intermediate Care Facility	2.1%
Other Childbirths: 13	Percent of All Childbirths:	2.5%	Inpatient Rehabilitation Facility	2.4%
Total Childbirths: 528			Hospice	1.3%
			Other Institution	0.1%
Total Newborns: 550			Home Health Service	5.1%
Psychiatric Utilization			Left Against Medical Advice	1.6%
r sycmatric otinzation			Expired	2.8%
Discharges: 1,119	Percent of All Discharges:	14.7%	Discharge/Tran to Court/Law Enforcmnt	0.4%
Patient Days: 5,447	Percent of All Patient Days:	15.8%	Other	1.6%
			<b>Expected Pay Source Distrib</b>	<u>oution</u>
AODA Utilization			Primary Payer	% Discharges
Discharges: 211	Percent of All Discharges:	2.8%	Medicare	47.7%
Patient Days: 893	Percent of All Patient Days:	2.6%	Medicaid/BadgerCare	20.5%
			Other Government	2.8%
			Commercial or Private Insurance	26.2%
			Self-Pay	2.7%
			Other or Unknown Insurance	0.0%

Age Distribution			Sex Distribution	<u>n</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	7.2%	3.3%	Male	47.3%	49.6%	Amer.Ind/Alaskan Native	e 0.5%	0.6%
Under 15	3.5%	3.2%	Female	52.6%	50.4%	Asian	1.1%	0.7%
15 - 19	4.6%	4.3%				Black/African Amer.	1.0%	0.8%
20 - 24	3.5%	2.5%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	10.2%	7.1%				White	94.4%	94.4%
35 - 44	7.5%	7.0%				Multiracial	0.2%	0.1%
45 - 54	8.6%	9.0%				Declined	2.8%	3.4%
55 - 64	13.4%	15.1%				Unavailable	0 %	0.1%
65 - 74	17.6%	20.7%						
75 - 84	14.7%	17.7%						
85 & Over	9.1%	10.1%						

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	69	4.7	4.2	1.12	4.5	1.04	4.5	1.04	
139 Pneumonia	169	4.4	3.7	1.19	4.2	1.05	4.0	1.10	
140 Chronic Obstructive Pulmonary Disease	120	4.1	3.5	1.17	3.6	1.14	3.6	1.14	
174 Percutaneous coronary intervention w AMI	150	2.2	2.7	0.81	3.0	0.73	3.0	0.73	
194 Heart Failure	260	4.8	4.3	1.12	4.6	1.04	4.6	1.04	
201 Heart Abnormal Rhythm and Conduction Disorders	133	2.8	2.8	1.00	2.9	0.97	2.8	1.00	
301 Hip Replacement	117	3.0	2.3	1.30	2.2	1.36	2.3	1.30	
302 Knee Replacement	76	3.2	2.1	1.52	2.0	1.60	2.0	1.60	
469 Acute kidney injury	85	5.7	4.4	1.30	4.7	1.21	4.6	1.24	
540 Cesarean Delivery	120	3.0	3.0	1.00	3.3	0.91	3.6	0.83	
560 Vaginal Delivery	395	2.0	2.1	0.95	2.1	0.95	2.2	0.91	
640 Normal Newborn, Birthweight 2500g+	513	2.0	2.0	1.00	2.1	0.95	2.1	0.95	
720 Blood Infection/Septicemia	356	6.0	4.8	1.25	5.5	1.09	5.5	1.09	
751 Psychoses	364	4.8	4.5	1.07	4.7	1.02	5.1	0.94	
775 Alcohol Abuse/Dependence	131	4.1	3.7	1.11	3.8	1.08	3.7	1.11	

		•						
	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$36,237	\$31,938	\$27,159	1.18	\$35,487	0.90	\$36,517	0.87
139 Pneumonia	\$25,779	\$23,579	\$19,690	1.20	\$27,529	0.86	\$26,154	0.90
140 Chronic Obstructive Pulmonary Disease	\$23,428	\$20,978	\$18,026	1.16	\$23,968	0.88	\$23,596	0.89
174 Percutaneous coronary intervention w AMI	\$72,085	\$74,309	\$68,843	1.08	\$72,860	1.02	\$73,175	1.02
194 Heart Failure	\$28,494	\$25,791	\$22,734	1.13	\$28,982	0.89	\$29,512	0.87
201 Heart Abnormal Rhythm and Conduction Disorders	\$19,710	\$17,662	\$16,241	1.09	\$21,611	0.82	\$21,125	0.84
301 Hip Replacement	\$56,318	\$53,738	\$41,021	1.31	\$52,206	1.03	\$50,854	1.06
302 Knee Replacement	\$64,913	\$57,474	\$38,967	1.47	\$50,848	1.13	\$48,781	1.18
469 Acute kidney injury	\$31,831	\$26,616	\$22,197	1.20	\$29,340	0.91	\$29,600	0.90
540 Cesarean Delivery	\$22,390	\$23,884	\$19,747	1.21	\$25,613	0.93	\$24,895	0.96
560 Vaginal Delivery	\$11,313	\$11,583	\$9,018	1.28	\$12,456	0.93	\$12,167	0.95
640 Normal Newborn, Birthweight 2500g+	\$3,660	\$3,865	\$3,539	1.09	\$4,463	0.87	\$4,719	0.82
720 Blood Infection/Septicemia	\$46,441	\$39,835	\$32,245	1.24	\$41,728	0.95	\$44,340	0.90
751 Psychoses	\$9,704	#	#	#	#	#	#	#
775 Alcohol Abuse/Dependence	\$15,083	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 031 Edgerton Hospital and Health Services

11101 N. Sherman Rd

Edgerton, WI 53534

Hospital Type: GMS County: Rock

Other or Unknown Insurance

Analysis Area: 1-Southern

0.0%

				,, ,	
608-884-3441				Inpatient Volume Group: 1	
Overall Hospital Utilization				Patient Discharge Statu	<u></u> <u>is</u>
Total Discharges:	177	Average Length of Stay (days):	4.6	Discharge Status	% Discharges
Total Patient Days:	809	Average Charge per Discharge:	\$20,364	Home or Self-Care Other GMS Hospital	43.5% 11.9%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.6%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization	0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired	5.6% 0.0% 0.6% 7.9% 0.0% 14.1% 0.6% 1.1%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt Other	0.0% 14.1%
Patient Days:  AODA Utilization	0	Percent of All Patient Days:	0.0%	Expected Pay Source Distril	bution <u>% Discharges</u>
Discharges:	2	Percent of All Discharges:	1.1%	Medicare	76.3%
Patient Days:	5	Percent of All Patient Days:	0.6%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay	5.6% 0.6% 16.4% 1.1%

Age Distribution			Sex Distribution	<u>n</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	44.6%	43.0%	Amer.Ind/Alaskan Native	e 0.6%	0.4%	
Under 15	0.0%	0.0%	Female	55.4%	57.0%	Asian	0.0%	0.0%	
15 - 19	0.0%	0.0%				Black/African Amer.	1.1%	1.1%	
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	2.8%	1.2%				White	94.4%	95.4%	
35 - 44	2.8%	2.8%				Multiracial	0.0%	0.0%	
45 - 54	7.9%	4.1%				Declined	1.7%	1.4%	
55 - 64	17.5%	15.3%				Unavailable	2.3%	1.7%	
65 - 74	23.7%	28.2%							
75 - 84	17.5%	20.1%							
85 & Over	27.7%	28.2%							

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	*	*	4.1	*	2.6	*	4.5	*
137 Respiratory Infections and Inflammations	*	*	5.4	*	3.7	*	5.6	*
139 Pneumonia	7	3.1	3.7	0.84	3.3	0.94	4.0	0.78
140 Chronic Obstructive Pulmonary Disease	14	3.3	3.6	0.92	3.2	1.03	3.6	0.92
194 Heart Failure	7	3.6	4.5	0.80	3.3	1.09	4.6	0.78
201 Heart Abnormal Rhythm and Conduction Disorders	8	1.9	2.8	0.68	2.5	0.76	2.8	0.68
247 Intestinal Obstruction without Surgery	*	*	3.7	*	2.3	*	3.5	*
282 Disorders of Pancreas Except Malignancy	5	2.4	4.3	0.56	2.7	0.89	4.0	0.60
302 Knee Replacement	0	N/A	2.0	N/A	2.4	N/A	2.0	N/A
383 Cellulitis & other skin infections	8	2.4	4.0	0.60	3.8	0.63	4.0	0.60
463 Kidney/Urinary Tract Infection	*	*	3.4	*	3.3	*	3.6	*
469 Acute kidney injury	0	N/A	4.3	N/A	3.2	N/A	4.6	N/A
720 Blood Infection/Septicemia	19	3.1	5.5	0.56	3.6	0.86	5.5	0.56
861 Signs & Symptoms	*	*	4.4	*	6.3	*	5.0	*
862 Other Factors Influencing Health Status	55	8.0	6.5	1.23	9.1	0.88	8.7	0.92

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	<u>Inpatient V</u> Average Charge	olume Group	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	*	*	\$42,179	*	\$16,434	*	\$36,517	*
137 Respiratory Infections and Inflammations	*	*	\$43,940	*	\$18,058	*	\$39,518	*
139 Pneumonia	\$17,308	\$14,310	\$28,774	0.50	\$15,907	0.90	\$26,154	0.55
140 Chronic Obstructive Pulmonary Disease	\$22,787	\$19,074	\$28,251	0.68	\$15,423	1.24	\$23,596	0.81
194 Heart Failure	\$21,991	\$20,745	\$33,598	0.62	\$15,151	1.37	\$29,512	0.70
201 Heart Abnormal Rhythm and Conduction Disorders	\$11,143	\$12,318	\$23,719	0.52	\$12,073	1.02	\$21,125	0.58
247 Intestinal Obstruction without Surgery	*	*	\$24,525	*	\$10,681	*	\$21,879	*
282 Disorders of Pancreas Except Malignancy	\$16,861	\$12,696	\$32,566	0.39	\$15,867	0.80	\$28,992	0.44
302 Knee Replacement	N/A	N/A	\$43,613	*	\$47,739	*	\$48,781	*
383 Cellulitis & other skin infections	\$14,302	\$14,339	\$24,297	0.59	\$14,904	0.96	\$21,953	0.65
463 Kidney/Urinary Tract Infection	*	*	\$24,396	*	\$12,446	*	\$22,097	*
469 Acute kidney injury	N/A	N/A	\$32,366	*	\$13,028	*	\$29,600	*
720 Blood Infection/Septicemia	\$17,708	\$19,267	\$52,049	0.37	\$18,335	1.05	\$44,340	0.43
861 Signs & Symptoms	*	*	\$24,105	*	\$15,939	*	\$28,329	*
862 Other Factors Influencing Health Status	\$25,046	\$26,905	\$21,737	1.24	\$24,133	1.11	\$31,132	0.86

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

#### 032 Aurora Lakeland Medical Center in Elkhorn

W3985 Cty Rd NN

Elkhorn, WI 53121

262-741-2000

Hospital Type: GMS

Inpatient Volume Group: 4

Expired

County: Walworth

Analysis Area: 2A-Southeastern

**Expected Pay Source Distribution** 

1.0%

Overall Hospital Utilization				Patient Discharge State	<u>us</u>
Total Discharges:	3,179	Average Length of Stay (days):	3.1	Discharge Status	% Discharges
Total Patient Days:	9,980	Average Charge per Discharge:	\$24,094	Home or Self-Care Other GMS Hospital	66.7% 4.0%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths:	459 168 31	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	69.8% 25.5% 4.7%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility	10.2% 0.8% 0.9%
Total Childbirths:	658			Hospice Other Institution	2.3% 0.0%
Total Newborns:	673			Home Health Service Left Against Medical Advice	12.8% 0.6%

#### Discharges: Discharge/Tran to Court/Law Enforcmnt 3 Percent of All Discharges: 0.1% 0.1% Patient Days: 20 Percent of All Patient Days: 0.2% 0.5%

#### **AODA Utilization**

85 & Over

11.0%

14.7%

**Psychiatric Utilization** 

AODA Utilization				Primary Payer	% Discharges
Discharges:	52	Percent of All Discharges:	1.6%	Medicare	39.6%
Patient Days:	231	Percent of All Patient Days:	2.3%	Medicaid/BadgerCare	21.3%
				Other Government	1.1%
				Commercial or Private Insurance	31.4%
				Self-Pay	6.4%
				Other or Unknown Insurance	0.2%

	Age Distribution			Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	21.2%	12.3%	Male	36.9%	41.7%	Amer.Ind/Alaskan Native	0.1%	0.1%
Under 15	0.3%	0.1%	Female	63.1%	58.3%	Asian	0.5%	0.4%
15 - 19	0.8%	0.5%				Black/African Amer.	1.4%	1.3%
20 - 24	4.4%	3.1%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	15.8%	10.4%				White	96.0%	97.1%
35 - 44	5.7%	5.0%				Multiracial	0.2%	0.1%
45 - 54	5.3%	6.2%				Declined	1.0%	0.6%
55 - 64	9.7%	13.2%				Unavailable	0.8%	0.4%
65 - 74	12.8%	17.0%						
75 - 84	13.2%	17.4%						

	This Facil	ity			Group /	Averages		
			Analys	is Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	52	4.1	4.8	0.85	3.6	1.14	4.5	0.91
139 Pneumonia	57	3.9	4.5	0.87	3.5	1.11	4.0	0.98
140 Chronic Obstructive Pulmonary Disease	48	3.4	3.8	0.89	3.2	1.06	3.6	0.94
194 Heart Failure	118	3.8	4.6	0.83	3.6	1.06	4.6	0.83
201 Heart Abnormal Rhythm and Conduction Disorders	61	2.8	2.9	0.97	2.5	1.12	2.8	1.00
301 Hip Replacement	52	2.3	2.1	1.10	1.9	1.21	2.3	1.00
302 Knee Replacement	58	1.9	2.0	0.95	1.7	1.12	2.0	0.95
383 Cellulitis & other skin infections	33	3.6	4.1	0.88	3.5	1.03	4.0	0.90
463 Kidney/Urinary Tract Infection	37	3.6	3.6	1.00	3.1	1.16	3.6	1.00
469 Acute kidney injury	44	3.7	4.5	0.82	3.3	1.12	4.6	0.80
540 Cesarean Delivery	168	2.6	3.3	0.79	2.9	0.90	3.6	0.72
560 Vaginal Delivery	459	1.9	2.2	0.86	2.0	0.95	2.2	0.86
640 Normal Newborn, Birthweight 2500g+	634	1.8	2.1	0.86	1.9	0.95	2.1	0.86
720 Blood Infection/Septicemia	289	4.4	5.3	0.83	4.2	1.05	5.5	0.80
775 Alcohol Abuse/Dependence	46	4.0	3.8	1.05	3.7	1.08	3.7	1.08

## APR-DRG Specific Data - Average Charge per Discharge (Actual & Risk-Adjusted^)

<u> </u>	• •		•				
This Fac	ility			Risk Adjusted	Group Averages	;	
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	<u>'olume Group</u> Ratio	All GMS Ho Average Charge	ospitals Ratio
\$34,732	\$35,033	\$37,003	0.95	\$31,273	1.12	\$36,517	0.96
\$27,716	\$24,727	\$30,437	0.81	\$23,233	1.06	\$26,154	0.95
\$24,968	\$22,342	\$25,288	0.88	\$21,959	1.02	\$23,596	0.95
\$27,710	\$27,586	\$30,999	0.89	\$25,091	1.10	\$29,512	0.93
\$23,790	\$19,170	\$23,194	0.83	\$19,443	0.99	\$21,125	0.91
\$56,220	\$53,456	\$61,253	0.87	\$45,617	1.17	\$50,854	1.05
\$57,944	\$56,771	\$60,209	0.94	\$43,239	1.31	\$48,781	1.16
\$21,524	\$20,010	\$23,000	0.87	\$19,644	1.02	\$21,953	0.91
\$23,495	\$23,506	\$23,784	0.99	\$19,748	1.19	\$22,097	1.06
\$25,902	\$21,955	\$30,548	0.72	\$23,728	0.93	\$29,600	0.74
\$23,992	\$25,068	\$26,513	0.95	\$24,480	1.02	\$24,895	1.01
\$12,684	\$13,023	\$14,321	0.91	\$11,116	1.17	\$12,167	1.07
\$3,657	\$4,100	\$4,851	0.85	\$4,155	0.99	\$4,719	0.87
\$36,325	\$35,410	\$44,089	0.80	\$33,720	1.05	\$44,340	0.80
\$29,016	#	#	#	#	#	#	#
	Average Charge \$34,732 \$27,716 \$24,968 \$27,710 \$23,790 \$56,220 \$57,944 \$21,524 \$23,495 \$25,902 \$23,992 \$12,684 \$3,657 \$36,325	Adjusted Average Charge Charge Charge Charge Charge  \$34,732 \$35,033 \$27,716 \$24,727 \$24,968 \$22,342 \$27,710 \$27,586 \$23,790 \$19,170 \$56,220 \$53,456 \$57,944 \$56,771 \$21,524 \$20,010 \$23,495 \$23,902 \$21,955 \$23,992 \$25,068 \$12,684 \$13,023 \$3,657 \$4,100 \$36,325 \$35,410	Risk Adjusted Average Charge S24,732 \$35,033 \$37,003 \$37,003 \$27,716 \$24,727 \$30,437 \$24,968 \$22,342 \$25,288 \$27,710 \$27,586 \$30,999 \$23,790 \$19,170 \$23,194 \$56,220 \$53,456 \$61,253 \$57,944 \$56,771 \$60,209 \$21,524 \$20,010 \$23,000 \$23,495 \$23,506 \$23,784 \$25,902 \$21,955 \$30,548 \$25,902 \$21,955 \$30,548 \$23,992 \$25,068 \$26,513 \$12,684 \$13,023 \$14,321 \$3,657 \$4,100 \$4,851 \$36,325 \$35,410 \$44,089	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Ratio  \$34,732 \$35,033 \$37,003 0.95 \$27,716 \$24,727 \$30,437 0.81 \$24,968 \$22,342 \$25,288 0.88 \$27,710 \$27,586 \$30,999 0.89 \$23,790 \$19,170 \$23,194 0.83 \$56,220 \$53,456 \$61,253 0.87 \$57,944 \$56,771 \$60,209 0.94 \$21,524 \$20,010 \$23,000 0.87 \$23,495 \$23,506 \$23,784 0.99 \$25,902 \$21,955 \$30,548 0.72 \$23,992 \$25,068 \$26,513 0.95 \$12,684 \$13,023 \$14,321 0.91 \$3,657 \$4,100 \$4,851 0.85 \$36,325 \$35,410 \$44,089 0.80	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge R	Risk Adjusted Average Charge         Average Charge         Average Charge         Average Charge Charge         Analysis Area Average Charge Ratio         Inpatient Volume Group Average Charge Ratio           \$34,732         \$35,033         \$37,003         0.95         \$31,273         1.12           \$27,716         \$24,727         \$30,437         0.81         \$23,233         1.06           \$24,968         \$22,342         \$25,288         0.88         \$21,959         1.02           \$27,710         \$27,586         \$30,999         0.89         \$25,091         1.10           \$23,790         \$19,170         \$23,194         0.83         \$19,443         0.99           \$56,220         \$53,456         \$61,253         0.87         \$45,617         1.17           \$57,944         \$56,771         \$60,209         0.94         \$43,239         1.31           \$21,524         \$20,010         \$23,000         0.87         \$19,644         1.02           \$23,495         \$23,506         \$23,784         0.99         \$19,748         1.19           \$25,902         \$21,955         \$30,548         0.72         \$23,728         0.93           \$23,992         \$25,068         \$26,513         0.95         \$24,480	Risk Adjusted Average Charge         Average Charge         Average Charge         Average Charge Charge         Ratio         Inpatient Volume Group Average Charge Ratio         All GMS Howard Average Charge Ratio         All GMS Howard Average Charge Ratio         All GMS Howard Ratio Charge Charge Charge Ratio         All GMS Howard Ratio Charge Ratio Charge Ratio         All GMS Howard Ratio Charge Charge Ratio Charge Charge Charge Ratio         All GMS Howard Ratio Charge Ratio Charge Ratio Charge Charge Charge Charge Ratio         All GMS Howard Ratio Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Ratio Charge Charge Ratio R

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

034 St Agnes Hospital – Fond du Lac 430 E Division, PO Box 385

Fond du Lac, WI 54935

920-929-2300

Hospital Type: GMS

County: Fond du Lac

Analysis Area: 3-Lake Winnebago

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>IS</u>
Total Discharges:	7,265	Average Length of Stay (days):	3.8	Discharge Status	% Discharges
Total Patient Days:	27,552	Average Charge per Discharge:	\$33,489	Home or Self-Care	71.0%
Total Fatient Days.	27,552	Average Charge per Discharge.	φ33, <del>4</del> 09	Other GMS Hospital	1.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths:	477	Percent of All Childbirths:	68.1%	Skilled Nursing Facility	13.2%
Cesarean Childbirths:	208	Percent of All Childbirths:	29.7%	Intermediate Care Facility	1.0%
Other Childbirths:	15	Percent of All Childbirths:	2.1%	Inpatient Rehabilitation Facility	0.9%
Total Childbirths:	700	1 Grootit Gr7 till Grindbirting.	2.170	Hospice	1.9%
Total Childbirths.	700			Other Institution	0.5%
Total Newborns:	717			Home Health Service	4.6%
				Left Against Medical Advice	1.3%
Psychiatric Utilization				Expired	2.2%
Discharges:	460	Percent of All Discharges:	6.3%	Discharge/Tran to Court/Law Enforcmnt	1.2%
Patient Days:	2,367	Percent of All Patient Days:	8.6%	Other	0.7%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	279	Percent of All Discharges:	3.8%	Medicare	49.5%
Patient Days:	940	Percent of All Patient Days:	3.4%	Medicaid/BadgerCare	16.6%
				Other Government	1.0%
				Commercial or Private Insurance	29.0%
				Self-Pay	1.5%
				Other or Unknown Insurance	2.4%

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	9.9%	6.3%	Male	45.6%	47.3%	Amer.Ind/Alaskan Native	0.4%	0.4%
Under 15	0.3%	0.2%	Female	54.4%	52.7%	Asian	0.8%	0.8%
15 - 19	1.0%	1.0%				Black/African Amer.	4.2%	3.5%
20 - 24	4.2%	3.5%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	11.0%	8.7%				White	94.0%	94.8%
35 - 44	6.2%	5.7%				Multiracial	0.3%	0.1%
45 - 54	8.5%	8.8%				Declined	0.1%	0.1%
55 - 64	15.4%	17.1%				Unavailable	0.4%	0.3%
65 - 74	17.8%	20.2%						
75 - 84	16.1%	18.4%						
85 & Over	9.6%	10.2%						

	This Facil	ity			Group A	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	81	4.6	4.0	1.15	4.5	1.02	4.5	1.02
139 Pneumonia	149	4.0	3.5	1.14	4.2	0.95	4.0	1.00
140 Chronic Obstructive Pulmonary Disease	95	2.7	2.9	0.93	3.6	0.75	3.6	0.75
174 Percutaneous coronary intervention w AMI	215	3.1	2.7	1.15	3.0	1.03	3.0	1.03
194 Heart Failure	240	3.5	3.8	0.92	4.6	0.76	4.6	0.76
201 Heart Abnormal Rhythm and Conduction Disorders	113	3.1	2.7	1.15	2.9	1.07	2.8	1.11
301 Hip Replacement	141	2.1	2.2	0.95	2.2	0.95	2.3	0.91
302 Knee Replacement	200	1.3	1.8	0.72	2.0	0.65	2.0	0.65
469 Acute kidney injury	89	4.7	4.0	1.18	4.7	1.00	4.6	1.02
540 Cesarean Delivery	208	3.4	3.2	1.06	3.3	1.03	3.6	0.94
560 Vaginal Delivery	477	2.1	2.0	1.05	2.1	1.00	2.2	0.95
640 Normal Newborn, Birthweight 2500g+	658	2.3	2.2	1.05	2.1	1.10	2.1	1.10
720 Blood Infection/Septicemia	351	5.8	4.9	1.18	5.5	1.05	5.5	1.05
751 Psychoses	213	5.2	4.7	1.11	4.7	1.11	5.1	1.02
775 Alcohol Abuse/Dependence	204	3.6	3.4	1.06	3.8	0.95	3.7	0.97

	This Fac	ility			Risk Adjusted	Group Averages	;	
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$37,239	\$36,008	\$24,316	1.48	\$35,487	1.01	\$36,517	0.99
139 Pneumonia	\$29,147	\$28,932	\$17,991	1.61	\$27,529	1.05	\$26,154	1.11
140 Chronic Obstructive Pulmonary Disease	\$22,635	\$23,195	\$16,011	1.45	\$23,968	0.97	\$23,596	0.98
174 Percutaneous coronary intervention w AMI	\$67,563	\$62,815	\$55,968	1.12	\$72,860	0.86	\$73,175	0.86
194 Heart Failure	\$25,503	\$26,346	\$17,633	1.49	\$28,982	0.91	\$29,512	0.89
201 Heart Abnormal Rhythm and Conduction Disorders	\$25,899	\$26,932	\$15,459	1.74	\$21,611	1.25	\$21,125	1.27
301 Hip Replacement	\$40,027	\$40,940	\$38,732	1.06	\$52,206	0.78	\$50,854	0.81
302 Knee Replacement	\$31,473	\$33,829	\$35,838	0.94	\$50,848	0.67	\$48,781	0.69
469 Acute kidney injury	\$29,725	\$29,969	\$18,337	1.63	\$29,340	1.02	\$29,600	1.01
540 Cesarean Delivery	\$20,568	\$21,605	\$14,869	1.45	\$25,613	0.84	\$24,895	0.87
560 Vaginal Delivery	\$9,156	\$9,472	\$5,768	1.64	\$12,456	0.76	\$12,167	0.78
640 Normal Newborn, Birthweight 2500g+	\$4,101	\$4,117	\$3,376	1.22	\$4,463	0.92	\$4,719	0.87
720 Blood Infection/Septicemia	\$40,997	\$42,432	\$27,861	1.52	\$41,728	1.02	\$44,340	0.96
751 Psychoses	\$13,918	#	#	#	#	#	#	#
775 Alcohol Abuse/Dependence	\$13,714	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

035 Fort HealthCare 611 East Sherman Avenue Fort Atkinson, WI 53538

920-568-5000

85 & Over

9.6%

11.7%

Hospital Type: GMS

County: Jefferson Analysis Area: 1-Southern

Total Patient Days: 4,818 Average Charge per Discharge: \$19,682 Home or Self-Care Other GMS Hospital 5.1%  Obstetrical Utilization  Normal Childhirths: 234 Percent of All Childhirths: 67.2%  Home or Self-Care Other GMS Hospital 5.1%  Critical Access Hospital (CAH) 0.0%  Skilled Nursing Facility 10.2%	Overall Hospital Utilization			Patient Discharge Statu	<u>s</u>
Total Patient Days: 4,818 Average Charge per Discharge: \$19,682 Other GMS Hospital 5.1%  Obstetrical Utilization  Normal Childhirths: 234 Percent of All Childhirths: 67.2% Skilled Nursing Facility 10.2%	Total Discharges: 1,833	Average Length of Stay (days):	2.6	<u>Discharge Status</u>	% Discharges
Other GMS Hospital 5.1%  Obstetrical Utilization  Normal Childhirths: 234 Percent of All Childhirths: 67.2%  Skilled Nursing Facility 10.2%	Total Patient Dave: 4 818	Average Charge per Discharge:	¢10,682	Home or Self-Care	69.6%
Normal Childhirths: 234 Percent of All Childhirths: 67.2% Skilled Nursing Facility 10.2%	Total Fallent Days. 4,010	Average Charge per Discharge.	\$19,002	Other GMS Hospital	5.1%
Normal Childhirths: 234 Percent of All Childhirths: 67.2%	Obstetrical Utilization				0.0%
	Normal Childbirths: 234	Percent of All Childbirths	67.2%	· ·	10.2%
Cesarean Childbirths: 87 Percent of All Childbirths: 25.0% Intermediate Care Facility 5.1%				Intermediate Care Facility	5.1%
Other Childbirths: 27 Percent of All Childbirths: 7.8% Inpatient Rehabilitation Facility 0.9%					0.9%
Total Childhirths: 348 Hospice 3.5%	-		1.676	•	3.5%
Other Institution 0.1%					0.1%
Total Newborns: 353 Home Health Service 4.1%	Total Newborns: 353			Home Health Service	4.1%
Psychiatric Utilization Left Against Medical Advice 0.2%	Psychiatric Utilization			Left Against Medical Advice	0.2%
Expired 0.7 /	Psychiatric Othization			•	0.7%
Discharges: 1 Percent of All Discharges: 0.1% Discharge/Tran to Court/Law Enforcmnt 0.1%	Discharges: 1	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days: 2 Percent of All Patient Days: 0.0% Other 0.4%	Patient Days: 2	Percent of All Patient Days:	0.0%	Other	0.4%
Expected Pay Source Distribution				<b>Expected Pay Source Distrib</b>	<u>oution</u>
AODA Utilization Primary Payer % Discharges	AODA Utilization			Primary Payer	% Discharges
Discharges: 14 Percent of All Discharges: 0.8% Medicare 43.3%	Discharges: 14	Percent of All Discharges:	0.8%	Medicare	43.3%
Patient Days: 43 Percent of All Patient Days: 0.9% Medicaid/BadgerCare 18.7%	Patient Days: 43	Percent of All Patient Days:	0.9%	Medicaid/BadgerCare	18.7%
Other Government 1.1%				Other Government	1.1%
Commercial or Private Insurance 35.3%				Commercial or Private Insurance	35.3%
Self-Pay 1.0%				Self-Pay	1.0%
Other or Unknown Insurance 0.5%				Other or Unknown Insurance	0.5%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	19.3%	15.2%	Male	38.3%	39.5%	Amer.Ind/Alaskan Native	2.9%	2.3%
Under 15	1.4%	1.6%	Female	61.7%	60.5%	Asian	0.1%	0.1%
15 - 19	1.0%	1.0%				Black/African Amer.	1.4%	1.4%
20 - 24	3.9%	3.5%				Native Hawaii/Pac.Isl.	0.3%	0.4%
25 - 34	14.1%	12.3%				White	89.3%	90.1%
35 - 44	5.7%	5.6%				Multiracial	0.4%	0.3%
45 - 54	5.6%	6.2%				Declined	5.7%	5.4%
55 - 64	11.9%	13.0%				Unavailable	0 %	0 %
65 - 74	13.0%	12.8%						
75 - 84	14.5%	17.1%						

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	39	2.9	4.1	0.71	3.6	0.81	4.5	0.64	
139 Pneumonia	44	2.5	3.7	0.68	3.5	0.71	4.0	0.63	
140 Chronic Obstructive Pulmonary Disease	17	3.0	3.6	0.83	3.2	0.94	3.6	0.83	
194 Heart Failure	57	3.0	4.5	0.67	3.6	0.83	4.6	0.65	
201 Heart Abnormal Rhythm and Conduction Disorders	9	2.4	2.8	0.86	2.5	0.96	2.8	0.86	
301 Hip Replacement	115	1.8	2.2	0.82	1.9	0.95	2.3	0.78	
302 Knee Replacement	16	1.6	2.0	0.80	1.7	0.94	2.0	0.80	
383 Cellulitis & other skin infections	18	3.2	4.0	0.80	3.5	0.91	4.0	0.80	
463 Kidney/Urinary Tract Infection	14	1.9	3.4	0.56	3.1	0.61	3.6	0.53	
469 Acute kidney injury	22	3.2	4.3	0.74	3.3	0.97	4.6	0.70	
540 Cesarean Delivery	87	3.3	3.9	0.85	2.9	1.14	3.6	0.92	
560 Vaginal Delivery	234	2.0	2.3	0.87	2.0	1.00	2.2	0.91	
640 Normal Newborn, Birthweight 2500g+	336	2.1	2.1	1.00	1.9	1.11	2.1	1.00	
720 Blood Infection/Septicemia	211	3.1	5.5	0.56	4.2	0.74	5.5	0.56	
775 Alcohol Abuse/Dependence	13	3.2	3.4	0.94	3.7	0.86	3.7	0.86	

<u>-</u>	This Facility				Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	-	olume Group  Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$28,137	\$29,026	\$42,179	0.69	\$31,273	0.93	\$36,517	0.79
139 Pneumonia	\$18,088	\$19,852	\$28,774	0.69	\$23,233	0.85	\$26,154	0.76
140 Chronic Obstructive Pulmonary Disease	\$24,194	\$21,902	\$28,251	0.78	\$21,959	1.00	\$23,596	0.93
194 Heart Failure	\$21,287	\$21,586	\$33,598	0.64	\$25,091	0.86	\$29,512	0.73
201 Heart Abnormal Rhythm and Conduction Disorders	\$22,737	\$18,270	\$23,719	0.77	\$19,443	0.94	\$21,125	0.86
301 Hip Replacement	\$29,819	\$29,679	\$49,942	0.59	\$45,617	0.65	\$50,854	0.58
302 Knee Replacement	\$45,950	\$47,775	\$43,613	1.10	\$43,239	1.10	\$48,781	0.98
383 Cellulitis & other skin infections	\$16,871	\$15,596	\$24,297	0.64	\$19,644	0.79	\$21,953	0.71
463 Kidney/Urinary Tract Infection	\$15,505	\$16,313	\$24,396	0.67	\$19,748	0.83	\$22,097	0.74
469 Acute kidney injury	\$22,633	\$20,483	\$32,366	0.63	\$23,728	0.86	\$29,600	0.69
540 Cesarean Delivery	\$14,378	\$14,956	\$28,792	0.52	\$24,480	0.61	\$24,895	0.60
560 Vaginal Delivery	\$8,806	\$8,808	\$13,875	0.63	\$11,116	0.79	\$12,167	0.72
640 Normal Newborn, Birthweight 2500g+	\$8,646	\$9,047	\$5,441	1.66	\$4,155	2.18	\$4,719	1.92
720 Blood Infection/Septicemia	\$23,750	\$24,703	\$52,049	0.47	\$33,720	0.73	\$44,340	0.56
775 Alcohol Abuse/Dependence	\$25,485	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 311 Ascension SE Wisconsin Hospital - Franklin Campus

10101 S. 27th Street

85 & Over

14.7%

17.2%

Franklin, WI 53132 Analysis Area: 2B-Milwaukee County

Hospital Type: GMS

County: Milwaukee

414-325-4700 Inpatient Volume Group: 5

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	2,911	Average Length of Stay (days):	4.6	<u>Discharge Status</u>	% Discharges
Total Patient Days:	13,392	Average Charge per Discharge:	\$36,451	Home or Self-Care	57.8%
rotar r dilent Bayo.	10,002	Average charge per Bloomarge.	ψου, το τ	Other GMS Hospital	2.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	13.2%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	1.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	2.5%
Total Childbirths:	0			Hospice	3.1%
Total Navibaria	0			Other Institution	0.0%
Total Newborns:	0			Home Health Service	15.1% 0.9%
Psychiatric Utilization				Left Against Medical Advice Expired	2.3%
Discharges:	1	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.4%
Patient Days:	1	Percent of All Patient Days:	0.0%	Other	0.9%
				<b>Expected Pay Source Distrib</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	26	Percent of All Discharges:	0.9%	Medicare	64.8%
Patient Days:	102	Percent of All Patient Days:	0.8%	Medicaid/BadgerCare	6.9%
				Other Government	0.2%
				Commercial or Private Insurance	25.7%
				Self-Pay	2.4%
				Other or Unknown Insurance	0.0%

Age Distribution				Sex Distribution	<u>n</u>	Race Distribution				
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days		
Newborn	0.0%	0.0%	Male	47.6%	48.4%	Amer.Ind/Alaskan Native	0.3%	0.2%		
Under 15	0.0%	0.0%	Female	52.4%	51.6%	Asian	1.7%	1.4%		
15 - 19	0.4%	0.2%				Black/African Amer.	3.0%	3.0%		
20 - 24	1.1%	0.9%				Native Hawaii/Pac.Isl.	0.0%	0.0%		
25 - 34	3.7%	2.9%				White	93.2%	93.0%		
35 - 44	5.3%	4.2%				Multiracial	0.0%	0.0%		
45 - 54	8.9%	7.8%				Declined	1.8%	2.4%		
55 - 64	19.5%	19.2%				Unavailable	0 %	0 %		
65 - 74	23.2%	22.8%								
75 - 84	23.2%	24.8%								

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	93	4.6	5.3	0.87	4.5	1.02	4.5	1.02	
139 Pneumonia	86	4.4	4.4	1.00	4.2	1.05	4.0	1.10	
140 Chronic Obstructive Pulmonary Disease	61	4.0	3.8	1.05	3.6	1.11	3.6	1.11	
174 Percutaneous coronary intervention w AMI	63	3.2	3.7	0.86	3.0	1.07	3.0	1.07	
194 Heart Failure	128	5.9	5.6	1.05	4.6	1.28	4.6	1.28	
201 Heart Abnormal Rhythm and Conduction Disorders	95	3.0	3.3	0.91	2.9	1.03	2.8	1.07	
301 Hip Replacement	50	3.6	3.0	1.20	2.2	1.64	2.3	1.57	
302 Knee Replacement	87	2.7	2.2	1.23	2.0	1.35	2.0	1.35	
469 Acute kidney injury	53	4.6	6.3	0.73	4.7	0.98	4.6	1.00	
540 Cesarean Delivery	0	N/A	4.0	N/A	3.3	N/A	3.6	N/A	
560 Vaginal Delivery	0	N/A	2.3	N/A	2.1	N/A	2.2	N/A	
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.2	N/A	2.1	N/A	2.1	N/A	
720 Blood Infection/Septicemia	340	5.8	6.8	0.85	5.5	1.05	5.5	1.05	
751 Psychoses	0	N/A	4.9	N/A	4.7	N/A	5.1	N/A	
775 Alcohol Abuse/Dependence	18	4.3	4.2	1.02	3.8	1.13	3.7	1.16	

				•	<u>-</u>			
	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$34,523	\$35,931	\$45,568	0.79	\$35,487	1.01	\$36,517	0.98
139 Pneumonia	\$25,255	\$26,284	\$34,436	0.76	\$27,529	0.95	\$26,154	1.00
140 Chronic Obstructive Pulmonary Disease	\$22,868	\$22,578	\$28,350	0.80	\$23,968	0.94	\$23,596	0.96
174 Percutaneous coronary intervention w AMI	\$56,037	\$54,369	\$95,865	0.57	\$72,860	0.75	\$73,175	0.74
194 Heart Failure	\$31,985	\$31,707	\$39,457	0.80	\$28,982	1.09	\$29,512	1.07
201 Heart Abnormal Rhythm and Conduction Disorders	\$19,151	\$18,895	\$26,831	0.70	\$21,611	0.87	\$21,125	0.89
301 Hip Replacement	\$63,024	\$58,391	\$67,785	0.86	\$52,206	1.12	\$50,854	1.15
302 Knee Replacement	\$62,757	\$56,521	\$60,857	0.93	\$50,848	1.11	\$48,781	1.16
469 Acute kidney injury	\$24,547	\$24,397	\$43,644	0.56	\$29,340	0.83	\$29,600	0.82
540 Cesarean Delivery	N/A	N/A	\$28,127	*	\$25,613	*	\$24,895	*
560 Vaginal Delivery	N/A	N/A	\$14,391	*	\$12,456	*	\$12,167	*
640 Normal Newborn, Birthweight 2500g+	N/A	N/A	\$5,018	*	\$4,463	*	\$4,719	*
720 Blood Infection/Septicemia	\$37,434	\$39,928	\$60,389	0.66	\$41,728	0.96	\$44,340	0.90
751 Psychoses	N/A	#	#	*	#	*	#	*
775 Alcohol Abuse/Dependence	\$27,282	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# **313 Midwest Orthopedic Specialty Hospital**

10101 South 27th Street

Franklin, WI 53132

414-817-5800

85 & Over

2.4%

3.4%

Hospital Type: GMS

Inpatient Volume Group: 4

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Patient Discharge Status
--------------------------

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,476	Average Length of Stay (days):	1.9	Discharge Status	% Discharges
Total Patient Days:	2,773	Average Charge per Discharge:	\$53,724	Home or Self-Care Other GMS Hospital	40.9% 0.9%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	11.5% 0.1% 1.0% 0.0% 0.0% 45.4% 0.0% 0.0% 0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%		0.1%
AODA Utilization				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	0	Percent of All Discharges:	0.0%	Medicare	60.1%
Patient Days:	0	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	4.1%
				Other Government	0.3%
				Commercial or Private Insurance	35.6%
				Self-Pay	0.0%
				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	<u>Rac</u>	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	40.9%	36.9%	Amer.Ind/Alaskan Native	e 0.3%	0.2%
Under 15	0.0%	0.0%	Female	59.1%	63.1%	Asian	0.6%	0.7%
15 - 19	0.1%	0.1%				Black/African Amer.	4.5%	5.4%
20 - 24	0.1%	0.1%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	0.6%	0.7%				White	93.2%	92.1%
35 - 44	2.1%	2.3%				Multiracial	0.1%	0.0%
45 - 54	7.8%	8.3%				Declined	1.4%	1.5%
55 - 64	31.7%	30.0%				Unavailable	0 %	0 %
65 - 74	38.6%	36.7%						
75 - 84	16.5%	18.3%						

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	0	N/A	5.3	N/A	3.6	N/A	4.5	N/A	
139 Pneumonia	0	N/A	4.4	N/A	3.5	N/A	4.0	N/A	
140 Chronic Obstructive Pulmonary Disease	0	N/A	3.8	N/A	3.2	N/A	3.6	N/A	
194 Heart Failure	0	N/A	5.6	N/A	3.6	N/A	4.6	N/A	
201 Heart Abnormal Rhythm and Conduction Disorders	0	N/A	3.3	N/A	2.5	N/A	2.8	N/A	
301 Hip Replacement	415	1.7	3.0	0.57	1.9	0.89	2.3	0.74	
302 Knee Replacement	608	1.7	2.2	0.77	1.7	1.00	2.0	0.85	
383 Cellulitis & other skin infections	0	N/A	4.5	N/A	3.5	N/A	4.0	N/A	
463 Kidney/Urinary Tract Infection	0	N/A	4.4	N/A	3.1	N/A	3.6	N/A	
469 Acute kidney injury	0	N/A	6.3	N/A	3.3	N/A	4.6	N/A	
540 Cesarean Delivery	0	N/A	4.0	N/A	2.9	N/A	3.6	N/A	
560 Vaginal Delivery	0	N/A	2.3	N/A	2.0	N/A	2.2	N/A	
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.2	N/A	1.9	N/A	2.1	N/A	
720 Blood Infection/Septicemia	0	N/A	6.8	N/A	4.2	N/A	5.5	N/A	
775 Alcohol Abuse/Dependence	0	N/A	4.2	N/A	3.7	N/A	3.7	N/A	

<u>~</u>			•					
This Fac	ility	Risk Adjusted Group Averages						
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group	All GMS Ho Average Charge	ospitals Ratio	
N/A	N/A	\$45,568	*	\$31,273	*	\$36,517	*	
N/A	N/A	\$34,436	*	\$23,233	*	\$26,154	*	
N/A	N/A	\$28,350	*	\$21,959	*	\$23,596	*	
N/A	N/A	\$39,457	*	\$25,091	*	\$29,512	*	
N/A	N/A	\$26,831	*	\$19,443	*	\$21,125	*	
\$47,785	\$48,950	\$67,785	0.72	\$45,617	1.07	\$50,854	0.96	
\$46,380	\$45,398	\$60,857	0.75	\$43,239	1.05	\$48,781	0.93	
N/A	N/A	\$29,253	*	\$19,644	*	\$21,953	*	
N/A	N/A	\$29,774	*	\$19,748	*	\$22,097	*	
N/A	N/A	\$43,644	*	\$23,728	*	\$29,600	*	
N/A	N/A	\$28,127	*	\$24,480	*	\$24,895	*	
N/A	N/A	\$14,391	*	\$11,116	*	\$12,167	*	
N/A	N/A	\$5,018	*	\$4,155	*	\$4,719	*	
N/A	N/A	\$60,389	*	\$33,720	*	\$44,340	*	
N/A	#	#	*	#	*	#	*	
	Average Charge N/A N/A N/A N/A \$47,785 \$46,380 N/A N/A N/A N/A	Adjusted Average Charge Charge  N/A	Risk Adjusted Average Charge C	Risk Adjusted Average Charge Ratio   N/A N/A N/A S28,350 * N/A N/A N/A N/A S26,831 * \$47,785 \$48,950 \$67,785 0.72 \$46,380 \$45,398 \$60,857 0.75 N/A N/A N/A N/A S29,253 * N/A N/A N/A N/A N/A \$43,644 * N/A N/A N/A N/A N/A S28,127 * N/A N/A N/A N/A N/A N/A S5,018 * N/A N/A N/A N/A N/A N/A S60,389 *	Risk Adjusted Average Average Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge	Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio  N/A N/A N/A \$45,568 * \$31,273 * \$1,074	Risk Adjusted Average Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Charge Ratio Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charg	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 037 Gundersen Moundview Hospital and Clinics

402 W Lake Street, PO Box 40

Friendship, WI 53934

608-339-3331

85 & Over

28.4%

32.4%

Hospital Type: GMS County: Adams

Analysis Area: 6-North Central

Patient Discharge Status	

Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	116	Average Length of Stay (days):	2.4	<u>Discharge Status</u>	% Discharges
Total Patient Days:	278	Average Charge per Discharge:	\$10,436	Home or Self-Care	45.7%
Total Fatient Days.	210	Average Charge per Discharge.	φ10, <del>4</del> 30	Other GMS Hospital	15.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.9%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	14.7%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.9%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.9%
	<u>_</u>	r creent of All Offidalities.	0.070	Hospice	1.7%
Total Childbirths:	0			Other Institution	0.0%
Total Newborns:	0			Home Health Service	2.6%
				Left Against Medical Advice	0.9%
Psychiatric Utilization				Expired	2.6%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	13.8%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	1	Percent of All Discharges:	0.9%	Medicare	82.8%
Patient Days:	3	Percent of All Patient Days:	1.1%	Medicaid/BadgerCare	6.0%
				Other Government	1.7%
				Commercial or Private Insurance	9.5%
				Self-Pay	0.0%
				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	41.4%	45.3%	Amer.Ind/Alaskan Native	0.0%	0.0%
Under 15	0.0%	0.0%	Female	58.6%	54.7%	Asian	1.7%	1.1%
15 - 19	0.9%	1.1%				Black/African Amer.	0.9%	1.1%
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	1.7%	2.2%				White	97.4%	97.8%
35 - 44	0.0%	0.0%				Multiracial	0.0%	0.0%
45 - 54	3.4%	3.6%				Declined	0.0%	0.0%
55 - 64	16.4%	17.3%				Unavailable	0 %	0 %
65 - 74	21.6%	21.6%						
75 - 84	27.6%	21.9%						

	This Facil	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	6	2.3	4.1	0.56	2.6	0.88	4.5	0.51
137 Respiratory Infections and Inflammations	*	*	5.8	*	3.7	*	5.6	*
139 Pneumonia	15	2.5	3.8	0.66	3.3	0.76	4.0	0.63
140 Chronic Obstructive Pulmonary Disease	9	2.2	3.4	0.65	3.2	0.69	3.6	0.61
194 Heart Failure	12	2.7	4.2	0.64	3.3	0.82	4.6	0.59
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.6	*	2.5	*	2.8	*
247 Intestinal Obstruction without Surgery	6	1.3	3.5	0.37	2.3	0.57	3.5	0.37
282 Disorders of Pancreas Except Malignancy	*	*	3.6	*	2.7	*	4.0	*
302 Knee Replacement	0	N/A	1.7	N/A	2.4	N/A	2.0	N/A
383 Cellulitis & other skin infections	5	3.0	3.6	0.83	3.8	0.79	4.0	0.75
463 Kidney/Urinary Tract Infection	8	2.1	3.4	0.62	3.3	0.64	3.6	0.58
469 Acute kidney injury	*	*	4.1	*	3.2	*	4.6	*
720 Blood Infection/Septicemia	0	N/A	5.5	N/A	3.6	N/A	5.5	N/A
861 Signs & Symptoms	*	*	5.6	*	6.3	*	5.0	*
862 Other Factors Influencing Health Status	*	*	8.9	*	9.1	*	8.7	*

	This Fac	Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	-	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$8,348	\$10,649	\$28,209	0.38	\$16,434	0.65	\$36,517	0.29
137 Respiratory Infections and Inflammations	*	*	\$32,218	*	\$18,058	*	\$39,518	*
139 Pneumonia	\$12,922	\$16,806	\$21,418	0.78	\$15,907	1.06	\$26,154	0.64
140 Chronic Obstructive Pulmonary Disease	\$11,617	\$13,468	\$20,180	0.67	\$15,423	0.87	\$23,596	0.57
194 Heart Failure	\$12,174	\$18,459	\$23,893	0.77	\$15,151	1.22	\$29,512	0.63
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	\$17,528	*	\$12,073	*	\$21,125	*
247 Intestinal Obstruction without Surgery	\$3,359	\$4,024	\$19,263	0.21	\$10,681	0.38	\$21,879	0.18
282 Disorders of Pancreas Except Malignancy	*	*	\$20,756	*	\$15,867	*	\$28,992	*
302 Knee Replacement	N/A	N/A	\$42,608	*	\$47,739	*	\$48,781	*
383 Cellulitis & other skin infections	\$14,973	\$13,157	\$18,077	0.73	\$14,904	0.88	\$21,953	0.60
463 Kidney/Urinary Tract Infection	\$9,390	\$9,806	\$18,556	0.53	\$12,446	0.79	\$22,097	0.44
469 Acute kidney injury	*	*	\$24,143	*	\$13,028	*	\$29,600	*
720 Blood Infection/Septicemia	N/A	N/A	\$34,953	*	\$18,335	*	\$44,340	*
861 Signs & Symptoms	*	*	\$24,533	*	\$15,939	*	\$28,329	*
862 Other Factors Influencing Health Status	*	*	\$31,087	*	\$24,133	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 195 Orthopaedic Hospital of Wisconsin

475 West River Woods Parkway

Glendale, WI 53212

414-961-6800

85 & Over

2.1%

2.4%

Hospital Type: GMS

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Inpatient Volume Group: 4

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,576	Average Length of Stay (days):	2.1	<u>Discharge Status</u>	% Discharges
Total Patient Days:	3,375	Average Charge per Discharge:	\$49,626	Home or Self-Care	82.4%
Total Fation Days.	3,373	Average onlarge per bischarge.	Ψ-5,020	Other GMS Hospital	0.4%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	11.5%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0			Hospice	0.0%
	_			Other Institution	0.1%
Total Newborns:	0			Home Health Service	5.6%
Psychiatric Utilization				Left Against Medical Advice	0.0%
	_			Expired	0.0%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	0.0%
				Expected Pay Source Distrik	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	0	Percent of All Discharges:	0.0%	Medicare	54.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	4.0%
				Other Government	0.1%
				Commercial or Private Insurance	41.9%
				Self-Pay	0.0%
				Other or Unknown Insurance	0.0%
					J.070

	<b>Age Distribution</b>	•		Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	42.1%	40.7%	Amer.Ind/Alaskan Native	1.3%	1.4%
Under 15	0.0%	0.0%	Female	57.9%	59.3%	Asian	0.3%	0.4%
15 - 19	0.0%	0.0%				Black/African Amer.	12.8%	13.3%
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	0.8%	0.8%				White	85.3%	84.7%
35 - 44	1.5%	1.5%				Multiracial	0.0%	0.0%
45 - 54	11.2%	10.4%				Declined	0.3%	0.2%
55 - 64	31.1%	30.5%				Unavailable	0 %	0 %
65 - 74	36.9%	37.0%						
75 - 84	16.5%	17.4%						

	This Facil	ity			Group /	Averages		
			<u>Analysis Area</u>		Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	0	N/A	5.3	N/A	3.6	N/A	4.5	N/A
139 Pneumonia	0	N/A	4.4	N/A	3.5	N/A	4.0	N/A
140 Chronic Obstructive Pulmonary Disease	0	N/A	3.8	N/A	3.2	N/A	3.6	N/A
194 Heart Failure	0	N/A	5.6	N/A	3.6	N/A	4.6	N/A
201 Heart Abnormal Rhythm and Conduction Disorders	0	N/A	3.3	N/A	2.5	N/A	2.8	N/A
301 Hip Replacement	474	2.0	3.0	0.67	1.9	1.05	2.3	0.87
302 Knee Replacement	701	2.2	2.2	1.00	1.7	1.29	2.0	1.10
383 Cellulitis & other skin infections	0	N/A	4.5	N/A	3.5	N/A	4.0	N/A
463 Kidney/Urinary Tract Infection	0	N/A	4.4	N/A	3.1	N/A	3.6	N/A
469 Acute kidney injury	0	N/A	6.3	N/A	3.3	N/A	4.6	N/A
540 Cesarean Delivery	0	N/A	4.0	N/A	2.9	N/A	3.6	N/A
560 Vaginal Delivery	0	N/A	2.3	N/A	2.0	N/A	2.2	N/A
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.2	N/A	1.9	N/A	2.1	N/A
720 Blood Infection/Septicemia	0	N/A	6.8	N/A	4.2	N/A	5.5	N/A
775 Alcohol Abuse/Dependence	0	N/A	4.2	N/A	3.7	N/A	3.7	N/A

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	N/A	N/A	\$45,568	*	\$31,273	*	\$36,517	*
139 Pneumonia	N/A	N/A	\$34,436	*	\$23,233	*	\$26,154	*
140 Chronic Obstructive Pulmonary Disease	N/A	N/A	\$28,350	*	\$21,959	*	\$23,596	*
194 Heart Failure	N/A	N/A	\$39,457	*	\$25,091	*	\$29,512	*
201 Heart Abnormal Rhythm and Conduction Disorders	N/A	N/A	\$26,831	*	\$19,443	*	\$21,125	*
301 Hip Replacement	\$48,090	\$48,440	\$67,785	0.71	\$45,617	1.06	\$50,854	0.95
302 Knee Replacement	\$48,239	\$49,580	\$60,857	0.81	\$43,239	1.15	\$48,781	1.02
383 Cellulitis & other skin infections	N/A	N/A	\$29,253	*	\$19,644	*	\$21,953	*
463 Kidney/Urinary Tract Infection	N/A	N/A	\$29,774	*	\$19,748	*	\$22,097	*
469 Acute kidney injury	N/A	N/A	\$43,644	*	\$23,728	*	\$29,600	*
540 Cesarean Delivery	N/A	N/A	\$28,127	*	\$24,480	*	\$24,895	*
560 Vaginal Delivery	N/A	N/A	\$14,391	*	\$11,116	*	\$12,167	*
640 Normal Newborn, Birthweight 2500g+	N/A	N/A	\$5,018	*	\$4,155	*	\$4,719	*
720 Blood Infection/Septicemia	N/A	N/A	\$60,389	*	\$33,720	*	\$44,340	*
775 Alcohol Abuse/Dependence	N/A	#	#	*	#	*	#	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

315 Aurora Medical Center in Grafton

975 Port Washington Road

Grafton, WI 53024

262-392-4321

Hospital Type: GMS

County: Ozaukee
Analysis Area: 2A-Southeastern

Inpatient Volume Group: 6

Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	8,287	Average Length of Stay (days):	3.7	Discharge Status	% Discharges
Total Patient Days:	30,443	Average Charge per Discharge:	\$45,393	Home or Self-Care	64.6%
Total Fatterit Days.	30,443	Average Charge per Discharge.	Ψ40,090	Other GMS Hospital	1.2%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	789	Percent of All Childbirths:	69.9%	Skilled Nursing Facility	9.9%
Cesarean Childbirths:	296	Percent of All Childbirths:	26.2%	Intermediate Care Facility	1.0%
Other Childbirths:	44	Percent of All Childbirths:	3.9%	Inpatient Rehabilitation Facility	0.7%
Total Childbirths:	1,129			Hospice	2.7%
	•			Other Institution	0.0%
Total Newborns:	1,137			Home Health Service	17.9%
Psychiatric Utilization				Left Against Medical Advice	0.6%
				Expired	1.2%
Discharges:	6	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	17	Percent of All Patient Days:	0.1%	Other	0.3%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	40	Percent of All Discharges:	0.5%	Medicare	46.7%
Patient Days:	124	Percent of All Patient Days:	0.4%	Medicaid/BadgerCare	7.3%
				Other Government	1.5%
				Commercial or Private Insurance	41.8%
				Self-Pay	2.8%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	13.7%	10.8%	Male	41.9%	44.6%	Amer.Ind/Alaskan Native	0.3%	0.3%
Under 15	0.2%	0.3%	Female	58.1%	55.4%	Asian	1.9%	1.7%
15 - 19	0.5%	0.5%				Black/African Amer.	8.7%	8.5%
20 - 24	2.2%	1.6%				Native Hawaii/Pac.Isl.	0.1%	0.2%
25 - 34	11.3%	8.0%				White	87.4%	87.7%
35 - 44	6.0%	4.8%				Multiracial	0.7%	0.8%
45 - 54	6.5%	5.9%				Declined	0.4%	0.4%
55 - 64	15.4%	15.2%				Unavailable	0.4%	0.4%
65 - 74	19.2%	21.8%						
75 - 84	15.0%	18.5%						
85 & Over	10.1%	12.5%						

	This Facil	ity			Group /	Averages		
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	127	3.1	3.6	0.86	4.6	0.67	4.2	0.74
133 Respiratory failure	51	4.9	4.8	1.02	4.9	1.00	4.5	1.09
139 Pneumonia	156	4.6	4.5	1.02	4.2	1.10	4.0	1.15
174 Percutaneous coronary intervention w AMI	127	3.2	2.9	1.10	3.0	1.07	3.0	1.07
175 Percutaneous coronary intervention w/o AMI	49	3.4	2.8	1.21	3.1	1.10	3.1	1.10
194 Heart Failure	270	4.7	4.6	1.02	5.0	0.94	4.6	1.02
201 Heart Abnormal Rhythm and Conduction Disorders	154	2.6	2.9	0.90	2.9	0.90	2.8	0.93
301 Hip Replacement	440	1.8	2.1	0.86	2.5	0.72	2.3	0.78
302 Knee Replacement	407	1.7	2.0	0.85	2.1	0.81	2.0	0.85
469 Acute kidney injury	82	4.0	4.5	0.89	5.2	0.77	4.6	0.87
540 Cesarean Delivery	296	3.5	3.3	1.06	4.0	0.88	3.6	0.97
560 Vaginal Delivery	789	2.2	2.2	1.00	2.3	0.96	2.2	1.00
640 Normal Newborn, Birthweight 2500g+	1,035	2.3	2.1	1.10	2.2	1.05	2.1	1.10
720 Blood Infection/Septicemia	452	5.3	5.3	1.00	6.1	0.87	5.5	0.96
751 Psychoses	*	*	5.6	*	5.1	*	5.1	*

		This Fac	ility			Risk Adjusted	Group Averages		
APR	-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysis Area</u> Average Charge Ratio		Inpatient Volume Group Average Charge Ratio		All GMS Ho Average Charge	ospitals Ratio
045	Stroke and Precerebral Occlusion with Infarct	\$38,724	\$42,005	\$39,923	1.05	\$43,048	0.98	\$39,987	1.05
133	Respiratory failure	\$45,327	\$39,856	\$37,003	1.08	\$39,891	1.00	\$36,517	1.09
139	Pneumonia	\$34,754	\$32,392	\$30,437	1.06	\$29,201	1.11	\$26,154	1.24
174	Percutaneous coronary intervention w AMI	\$84,457	\$86,080	\$73,777	1.17	\$73,358	1.17	\$73,175	1.18
175	Percutaneous coronary intervention w/o AMI	\$93,745	\$113,360	\$104,641	1.08	\$109,236	1.04	\$106,404	1.07
194	Heart Failure	\$34,370	\$34,025	\$30,999	1.10	\$32,710	1.04	\$29,512	1.15
201	Heart Abnormal Rhythm and Conduction Disorders	\$23,015	\$23,041	\$23,194	0.99	\$22,164	1.04	\$21,125	1.09
301	Hip Replacement	\$78,737	\$78,074	\$61,253	1.27	\$53,491	1.46	\$50,854	1.54
302	Knee Replacement	\$73,220	\$74,032	\$60,209	1.23	\$52,844	1.40	\$48,781	1.52
469	Acute kidney injury	\$32,743	\$36,966	\$30,548	1.21	\$33,062	1.12	\$29,600	1.25
540	Cesarean Delivery	\$26,481	\$26,741	\$26,513	1.01	\$25,062	1.07	\$24,895	1.07
560	Vaginal Delivery	\$13,670	\$13,616	\$14,321	0.95	\$12,661	1.08	\$12,167	1.12
640	Normal Newborn, Birthweight 2500g+	\$5,424	\$5,429	\$4,851	1.12	\$5,036	1.08	\$4,719	1.15
720	Blood Infection/Septicemia	\$43,545	\$47,542	\$44,089	1.08	\$50,089	0.95	\$44,340	1.07
751	Psychoses	*	#	#	*	#	*	#	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

038 Burnett Medical Center 257 W St George Avenue Grantsburg, WI 54840

715-463-5353

Hospital Type: GMS County: Burnett

Analysis Area: 7-Western Lake Superior

Inpatient Volume Group: 1

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	157	Average Length of Stay (days):	2.6	<u>Discharge Status</u>	% Discharges
Total Patient Days:	411	Average Charge per Discharge:	\$13,522	Home or Self-Care	75.2%
Total Fatient Days.	711	Average onlying per bisonarge.	Ψ10,022	Other GMS Hospital	6.4%
Obstetrical Utilization				Critical Access Hospital (CAH)	2.5%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	8.9%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	1.9%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0			Hospice	0.0%
				Other Institution	0.0%
Total Newborns:	0			Home Health Service	0.0%
Psychiatric Utilization				Left Against Medical Advice	0.0%
r sycmatric othization				Expired	3.2%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	1.9%
				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	9	Percent of All Discharges:	5.7%	Medicare	73.9%
Patient Days:	22	Percent of All Patient Days:	5.4%	Medicaid/BadgerCare	13.4%
				Other Government	1.9%
				Commercial or Private Insurance	6.4%
				Self-Pay	4.5%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Race	<b>Distribution</b>	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	43.3%	40.6%	Amer.Ind/Alaskan Native	0.6%	1.2%
Under 15	0.0%	0.0%	Female	56.7%	59.4%	Asian	0.0%	0.0%
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%
20 - 24	0.6%	0.2%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	3.2%	2.4%				White	98.7%	97.8%
35 - 44	5.1%	5.8%				Multiracial	0.0%	0.0%
45 - 54	11.5%	8.5%				Declined	0.0%	0.0%
55 - 64	8.9%	6.8%				Unavailable	0.6%	1.0%
65 - 74	21.7%	17.0%						
75 - 84	31.2%	40.6%						
85 & Over	17.8%	18.5%						

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	<u>ospitals</u>	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	0	N/A	2.8	N/A	2.6	N/A	4.5	N/A	
137 Respiratory Infections and Inflammations	0	N/A	4.1	N/A	3.7	N/A	5.6	N/A	
139 Pneumonia	18	3.6	3.3	1.09	3.3	1.09	4.0	0.90	
140 Chronic Obstructive Pulmonary Disease	24	2.8	3.2	0.88	3.2	0.88	3.6	0.78	
194 Heart Failure	9	2.6	3.4	0.76	3.3	0.79	4.6	0.57	
201 Heart Abnormal Rhythm and Conduction Disorders	5	2.4	2.4	1.00	2.5	0.96	2.8	0.86	
247 Intestinal Obstruction without Surgery	*	*	2.9	*	2.3	*	3.5	*	
282 Disorders of Pancreas Except Malignancy	5	3.0	3.0	1.00	2.7	1.11	4.0	0.75	
302 Knee Replacement	7	2.3	1.2	1.92	2.4	0.96	2.0	1.15	
383 Cellulitis & other skin infections	7	2.0	3.1	0.65	3.8	0.53	4.0	0.50	
463 Kidney/Urinary Tract Infection	7	1.4	2.8	0.50	3.3	0.42	3.6	0.39	
469 Acute kidney injury	*	*	3.3	*	3.2	*	4.6	*	
720 Blood Infection/Septicemia	0	N/A	3.2	N/A	3.6	N/A	5.5	N/A	
861 Signs & Symptoms	*	*	2.6	*	6.3	*	5.0	*	
862 Other Factors Influencing Health Status	0	N/A	5.0	N/A	9.1	N/A	8.7	N/A	

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Group Average Charge Ratio		All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	N/A	N/A	\$15,822	*	\$16,434	*	\$36,517	*
137 Respiratory Infections and Inflammations	N/A	N/A	\$19,815	*	\$18,058	*	\$39,518	*
139 Pneumonia	\$16,183	\$22,669	\$15,634	1.45	\$15,907	1.43	\$26,154	0.87
140 Chronic Obstructive Pulmonary Disease	\$12,347	\$15,536	\$15,430	1.01	\$15,423	1.01	\$23,596	0.66
194 Heart Failure	\$11,683	\$16,287	\$15,904	1.02	\$15,151	1.07	\$29,512	0.55
201 Heart Abnormal Rhythm and Conduction Disorders	\$14,090	\$17,070	\$10,785	1.58	\$12,073	1.41	\$21,125	0.81
247 Intestinal Obstruction without Surgery	*	*	\$12,100	*	\$10,681	*	\$21,879	*
282 Disorders of Pancreas Except Malignancy	\$15,261	\$21,316	\$16,216	1.31	\$15,867	1.34	\$28,992	0.74
302 Knee Replacement	\$38,692	\$38,783	\$33,898	1.14	\$47,739	0.81	\$48,781	0.80
383 Cellulitis & other skin infections	\$9,505	\$12,264	\$11,572	1.06	\$14,904	0.82	\$21,953	0.56
463 Kidney/Urinary Tract Infection	\$9,372	\$10,309	\$10,211	1.01	\$12,446	0.83	\$22,097	0.47
469 Acute kidney injury	*	*	\$12,754	*	\$13,028	*	\$29,600	*
720 Blood Infection/Septicemia	N/A	N/A	\$18,825	*	\$18,335	*	\$44,340	*
861 Signs & Symptoms	*	*	\$9,460	*	\$15,939	*	\$28,329	*
862 Other Factors Influencing Health Status	N/A	N/A	\$7,770	*	\$24,133	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 197 Aurora BayCare Medical Center in Green Bay

5.1%

5.5%

PO Box 8900, 2845 Greenbrier Drive

Green Bay, WI 54308

920-288-8000

85 & Over

Hospital Type: GMS
County: Brown

Analysis Area: 4-Northeastern

Detient	Diochargo	Status
Patient	Discharge	Status

Inpatient Volume Group: 6

			Patient Discharge Statu	<u>s</u>
1,356	Average Length of Stay (days):	3.9	Discharge Status	% Discharges
4 48Q	Average Charge per Discharge:	\$30.441	Home or Self-Care	69.7%
4,403	Average Charge per Discharge.	Ψ09,441	Other GMS Hospital	1.1%
			Critical Access Hospital (CAH)	0.0%
1 096	Percent of All Childhirths	66 1%	Skilled Nursing Facility	9.3%
•			Intermediate Care Facility	0.6%
			Inpatient Rehabilitation Facility	1.8%
	T Groom of 7 th offinabilities.	3.070	Hospice	2.0%
1,000			Other Institution	0.2%
1,683			Home Health Service	12.4%
			Left Against Medical Advice	0.8%
			Expired	1.5%
17	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.1%
78	Percent of All Patient Days:	0.2%	Other	0.5%
			<b>Expected Pay Source Distrik</b>	<u>oution</u>
			Primary Payer	% Discharges
52	Percent of All Discharges:	0.5%	Medicare	39.1%
249	Percent of All Patient Days:	0.6%	Medicaid/BadgerCare	15.4%
			Other Government	2.9%
			Commercial or Private Insurance	40.2%
			Self-Pay	2.4%
			Other or Unknown Insurance	0.0%
	1,096 469 93 1,658 1,683	Average Charge per Discharge:  1,096 Percent of All Childbirths: 469 Percent of All Childbirths: 93 Percent of All Childbirths: 1,658  1,683  17 Percent of All Discharges: 78 Percent of All Patient Days:  52 Percent of All Discharges:	Average Charge per Discharge: \$39,441  1,096 Percent of All Childbirths: 66.1%	Average Length of Stay (days):  4,489 Average Charge per Discharge:  \$39,441 Home or Self-Care Other GMS Hospital Critical Access Hospital (CAH)  Skilled Nursing Facility Intermediate Care Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution  Home Health Service Left Against Medical Advice Expired  Percent of All Discharges:  78 Percent of All Patient Days:  Discharge Status  Home or Self-Care Other GMS Hospital Critical Access Hospital (CAH)  Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution  Home Health Service Left Against Medical Advice Expired  Discharge/Tran to Court/Law Enforcmnt Other  Expected Pay Source Distrite  Primary Payer  Medicare  Medicare  Other Government Commercial or Private Insurance Self-Pay

Age Distribution				Sex Distribution	<u>1</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days		
Newborn	14.8%	16.2%	Male	44.1%	47.2%	Amer.Ind/Alaskan Native	e 1.6%	1.7%		
Under 15	1.5%	1.2%	Female	55.9%	52.8%	Asian	2.6%	1.9%		
15 - 19	1.1%	0.7%				Black/African Amer.	2.2%	2.2%		
20 - 24	3.3%	2.5%				Native Hawaii/Pac.Isl.	0.2%	0.3%		
25 - 34	13.0%	9.2%				White	92.7%	93.2%		
35 - 44	6.9%	6.2%				Multiracial	0.7%	0.6%		
45 - 54	8.4%	8.2%				Declined	0.1%	0.1%		
55 - 64	16.6%	17.5%				Unavailable	0 %	0 %		
65 - 74	17.5%	19.4%								
75 - 84	11.8%	13.4%								
0= 0 0	= 40/	0/								

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
045 Stroke and Precerebral Occlusion with Infarct	246	4.5	3.5	1.29	4.6	0.98	4.2	1.07	
133 Respiratory failure	82	4.3	4.2	1.02	4.9	0.88	4.5	0.96	
139 Pneumonia	150	3.6	3.7	0.97	4.2	0.86	4.0	0.90	
174 Percutaneous coronary intervention w AMI	119	2.5	2.6	0.96	3.0	0.83	3.0	0.83	
175 Percutaneous coronary intervention w/o AMI	53	2.6	2.7	0.96	3.1	0.84	3.1	0.84	
194 Heart Failure	208	5.0	4.1	1.22	5.0	1.00	4.6	1.09	
201 Heart Abnormal Rhythm and Conduction Disorders	259	2.5	2.6	0.96	2.9	0.86	2.8	0.89	
301 Hip Replacement	280	1.9	1.8	1.06	2.5	0.76	2.3	0.83	
302 Knee Replacement	121	1.5	1.9	0.79	2.1	0.71	2.0	0.75	
469 Acute kidney injury	92	5.1	4.2	1.21	5.2	0.98	4.6	1.11	
540 Cesarean Delivery	469	3.8	3.5	1.09	4.0	0.95	3.6	1.06	
560 Vaginal Delivery	1,096	2.1	2.0	1.05	2.3	0.91	2.2	0.95	
640 Normal Newborn, Birthweight 2500g+	1,533	2.1	2.0	1.05	2.2	0.95	2.1	1.00	
720 Blood Infection/Septicemia	609	5.1	4.9	1.04	6.1	0.84	5.5	0.93	
751 Psychoses	*	*	4.3	*	J 5.1	*	5.1	*	

		This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # and Description		Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
045 Stroke an	d Precerebral Occlusion with Infarct	\$44,312	\$44,787	\$35,676	1.26	\$43,048	1.04	\$39,987	1.12
133 Respirato	ry failure	\$38,000	\$35,188	\$30,641	1.15	\$39,891	0.88	\$36,517	0.96
139 Pneumon	ia	\$24,968	\$23,960	\$22,549	1.06	\$29,201	0.82	\$26,154	0.92
174 Percutane	eous coronary intervention w AMI	\$58,428	\$60,880	\$65,348	0.93	\$73,358	0.83	\$73,175	0.83
175 Percutane	eous coronary intervention w/o AMI	\$72,499	\$90,789	\$80,066	1.13	\$109,236	0.83	\$106,404	0.85
194 Heart Fail	ure	\$32,798	\$30,500	\$23,636	1.29	\$32,710	0.93	\$29,512	1.03
201 Heart Abr	normal Rhythm and Conduction Disorders	\$19,398	\$20,223	\$19,122	1.06	\$22,164	0.91	\$21,125	0.96
301 Hip Repla	cement	\$48,529	\$47,640	\$42,625	1.12	\$53,491	0.89	\$50,854	0.94
302 Knee Rep	placement	\$43,287	\$43,672	\$49,816	0.88	\$52,844	0.83	\$48,781	0.90
469 Acute kidı	ney injury	\$39,112	\$37,259	\$24,682	1.51	\$33,062	1.13	\$29,600	1.26
540 Cesarean	Delivery	\$23,479	\$23,522	\$21,046	1.12	\$25,062	0.94	\$24,895	0.94
560 Vaginal D	elivery	\$8,493	\$8,543	\$9,723	0.88	\$12,661	0.67	\$12,167	0.70
640 Normal N	ewborn, Birthweight 2500g+	\$5,981	\$5,971	\$4,395	1.36	\$5,036	1.19	\$4,719	1.27
720 Blood Infe	ection/Septicemia	\$46,282	\$44,130	\$36,072	1.22	\$50,089	0.88	\$44,340	1.00
751 Psychose	s	*	#	#	*	#	*	#	*

N/A - Zero Discharges reported

 $<sup>^{\</sup>wedge}\,\text{Risk-Adjusted Charges calculated using 3M}\,^{\top}\!\text{M}\,^{}\text{APR DRG Software licensed through 3M Health Infomation Systems}.$ 

<sup>\* 1</sup> through 4 Discharges reported

039 Bellin Hospital 744 S Webster Ave, PO Box 23400 Green Bay, WI 54305

920-433-3500

Hospital Type: GMS
County: Brown

Analysis Area: 4-Northeastern

Inpatient Volume Group: 6

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>s</u>
Total Discharges:	9,195	Average Length of Stay (days):	3.4	<u>Discharge Status</u>	% Discharges
Total Patient Days:	31,627	Average Charge per Discharge:	\$26,804	Home or Self-Care	76.2%
Total Fatient Days.	31,021	Average charge per bischarge.	Ψ20,004	Other GMS Hospital	2.3%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	866	Percent of All Childbirths:	69.4%	Skilled Nursing Facility	11.3%
Cesarean Childbirths:	300	Percent of All Childbirths:	24.0%	Intermediate Care Facility	0.5%
Other Childbirths:	82	Percent of All Childbirths:	6.6%	Inpatient Rehabilitation Facility	0.5%
Total Childbirths:	1,248			Hospice	2.3%
Total Navyde amagy	4.004			Other Institution	0.0%
Total Newborns:	1,334			Home Health Service	4.3%
Psychiatric Utilization				Left Against Medical Advice Expired	0.4% 1.2%
Discharges:	1	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	4	Percent of All Patient Days:	0.0%	Other	0.8%
				Expected Pay Source Distril	oution
AODA Utilization				Primary Payer	% Discharges
Discharges:	38	Percent of All Discharges:	0.4%	Medicare	44.1%
Patient Days:	160	Percent of All Patient Days:	0.5%	Medicaid/BadgerCare	16.0%
				Other Government	3.2%
				Commercial or Private Insurance	34.0%
				Self-Pay	2.2%
				Other or Unknown Insurance	0.5%

Age Distribution				Sex Distribution	<u>n</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	14.5%	9.0%	Male	46.0%	49.0%	Amer.Ind/Alaskan Native	2.0%	1.9%	
Under 15	1.7%	1.2%	Female	54.0%	51.0%	Asian	1.4%	1.2%	
15 - 19	0.9%	0.7%				Black/African Amer.	2.6%	2.2%	
20 - 24	3.1%	2.4%				Native Hawaii/Pac.Isl.	0.1%	0.2%	
25 - 34	10.8%	8.4%				White	88.9%	90.5%	
35 - 44	4.9%	5.1%				Multiracial	0.1%	0.1%	
45 - 54	7.1%	7.5%				Declined	0.2%	0.2%	
55 - 64	15.7%	17.9%				Unavailable	4.9%	3.7%	
65 - 74	19.7%	21.9%							
75 - 84	15.0%	18.3%							
85 & Over	6.6%	7.8%							

This Facility Grou					Group A	Group Averages		
			Analysis Area		Inpatient Volume Group		All GMS H	<u>ospitals</u>
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	125	2.8	3.5	0.80	4.6	0.61	4.2	0.67
133 Respiratory failure	153	4.8	4.2	1.14	4.9	0.98	4.5	1.07
139 Pneumonia	138	4.1	3.7	1.11	4.2	0.98	4.0	1.03
174 Percutaneous coronary intervention w AMI	254	2.5	2.6	0.96	3.0	0.83	3.0	0.83
175 Percutaneous coronary intervention w/o AMI	119	2.9	2.7	1.07	3.1	0.94	3.1	0.94
194 Heart Failure	152	3.9	4.1	0.95	5.0	0.78	4.6	0.85
201 Heart Abnormal Rhythm and Conduction Disorders	84	2.8	2.6	1.08	2.9	0.97	2.8	1.00
301 Hip Replacement	633	1.5	1.8	0.83	2.5	0.60	2.3	0.65
302 Knee Replacement	353	1.5	1.9	0.79	2.1	0.71	2.0	0.75
469 Acute kidney injury	110	4.5	4.2	1.07	5.2	0.87	4.6	0.98
540 Cesarean Delivery	300	3.9	3.5	1.11	4.0	0.98	3.6	1.08
560 Vaginal Delivery	866	2.0	2.0	1.00	2.3	0.87	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	1,195	2.0	2.0	1.00	2.2	0.91	2.1	0.95
720 Blood Infection/Septicemia	316	5.2	4.9	1.06	6.1	0.85	5.5	0.95
751 Psychoses	*	*	4.3	*	5.1	*	5.1	*

		This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description		Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
045 Strol	ke and Precerebral Occlusion with Infarct	\$20,973	\$23,687	\$35,676	0.66	\$43,048	0.55	\$39,987	0.59
133 Res	piratory failure	\$31,275	\$29,775	\$30,641	0.97	\$39,891	0.75	\$36,517	0.82
139 Pnei	umonia	\$22,834	\$21,933	\$22,549	0.97	\$29,201	0.75	\$26,154	0.84
174 Perc	cutaneous coronary intervention w AMI	\$58,173	\$61,790	\$65,348	0.95	\$73,358	0.84	\$73,175	0.84
175 Perc	cutaneous coronary intervention w/o AMI	\$84,785	\$78,966	\$80,066	0.99	\$109,236	0.72	\$106,404	0.74
194 Hear	rt Failure	\$17,758	\$18,446	\$23,636	0.78	\$32,710	0.56	\$29,512	0.63
201 Hear	rt Abnormal Rhythm and Conduction Disorders	\$12,162	\$12,464	\$19,122	0.65	\$22,164	0.56	\$21,125	0.59
301 Hip I	Replacement	\$27,691	\$28,479	\$42,625	0.67	\$53,491	0.53	\$50,854	0.56
302 Knee	e Replacement	\$43,390	\$44,251	\$49,816	0.89	\$52,844	0.84	\$48,781	0.91
469 Acut	te kidney injury	\$19,169	\$20,529	\$24,682	0.83	\$33,062	0.62	\$29,600	0.69
540 Cesa	arean Delivery	\$15,589	\$15,515	\$21,046	0.74	\$25,062	0.62	\$24,895	0.62
560 Vagi	inal Delivery	\$9,548	\$9,528	\$9,723	0.98	\$12,661	0.75	\$12,167	0.78
640 Norr	mal Newborn, Birthweight 2500g+	\$3,172	\$3,219	\$4,395	0.73	\$5,036	0.64	\$4,719	0.68
720 Bloo	od Infection/Septicemia	\$30,136	\$28,792	\$36,072	0.80	\$50,089	0.57	\$44,340	0.65
751 Psyc	choses	*	#	#	*	#	*	#	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 041 St Mary's Hospital Medical Center

1726 Shawano Avenue

Green Bay, WI 54303

920-498-4200

85 & Over

12.5%

15.1%

Hospital Type: GMS County: Brown

Analysis Area: 4-Northeastern

Inpatient Volume Group:	5	

Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	3,652	Average Length of Stay (days):	3.6	<u>Discharge Status</u>	% Discharges
Total Patient Days:	13,000	Average Charge per Discharge:	\$29,254	Home or Self-Care	70.8%
Total Fatient Days.	13,000	Average Charge per Discharge.	φ29,204	Other GMS Hospital	3.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	259	Percent of All Childbirths:	83.5%	Skilled Nursing Facility	10.4%
Cesarean Childbirths:	43	Percent of All Childbirths:	13.9%	Intermediate Care Facility	0.1%
Other Childbirths:	8	Percent of All Childbirths:	2.6%	Inpatient Rehabilitation Facility	0.6%
Total Childbirths:	<u> </u>	r creent of All Offiliabilities.	2.0 /0	Hospice	2.8%
iotai Childbirths.	310			Other Institution	0.0%
Total Newborns:	308			Home Health Service	8.4%
				Left Against Medical Advice	0.7%
Psychiatric Utilization				Expired	1.5%
Discharges:	4	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	15	Percent of All Patient Days:	0.1%	Other	0.9%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	23	Percent of All Discharges:	0.6%	Medicare	53.6%
Patient Days:	64	Percent of All Patient Days:	0.5%	Medicaid/BadgerCare	15.4%
•		•		Other Government	3.2%
				Commercial or Private Insurance	26.2%
				Self-Pay	1.6%
				Other or Unknown Insurance	0.0%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution		
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	8.4%	4.4%	Male	44.3%	45.5%	Amer.Ind/Alaskan Native	e 7.6%	6.9%
Under 15	0.1%	0.0%	Female	55.7%	54.5%	Asian	1.7%	1.2%
15 - 19	0.8%	0.6%				Black/African Amer.	3.5%	2.8%
20 - 24	2.8%	1.9%				Native Hawaii/Pac.Isl.	0.1%	0.1%
25 - 34	9.4%	6.8%				White	85.5%	87.7%
35 - 44	6.4%	5.9%				Multiracial	0.6%	0.4%
45 - 54	8.2%	7.5%				Declined	1.1%	0.9%
55 - 64	14.5%	16.0%				Unavailable	0 %	0 %
65 - 74	19.4%	21.5%						
75 - 84	17.5%	20.2%						

	This Facility				Group A	Group Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	75	5.4	4.2	1.29	4.5	1.20	4.5	1.20
139 Pneumonia	86	4.2	3.7	1.14	4.2	1.00	4.0	1.05
140 Chronic Obstructive Pulmonary Disease	81	3.6	3.5	1.03	3.6	1.00	3.6	1.00
174 Percutaneous coronary intervention w AMI	75	2.6	2.6	1.00	3.0	0.87	3.0	0.87
194 Heart Failure	139	4.2	4.1	1.02	4.6	0.91	4.6	0.91
201 Heart Abnormal Rhythm and Conduction Disorders	80	2.3	2.6	0.88	2.9	0.79	2.8	0.82
301 Hip Replacement	116	1.8	1.8	1.00	2.2	0.82	2.3	0.78
302 Knee Replacement	26	1.9	1.9	1.00	2.0	0.95	2.0	0.95
469 Acute kidney injury	56	3.2	4.2	0.76	4.7	0.68	4.6	0.70
540 Cesarean Delivery	43	3.0	3.5	0.86	3.3	0.91	3.6	0.83
560 Vaginal Delivery	259	2.0	2.0	1.00	2.1	0.95	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	294	1.9	2.0	0.95	2.1	0.90	2.1	0.90
720 Blood Infection/Septicemia	309	5.8	4.9	1.18	5.5	1.05	5.5	1.05
751 Psychoses	*	*	4.3	*	4.7	*	5.1	*
775 Alcohol Abuse/Dependence	20	2.8	3.4	0.82	3.8	0.74	3.7	0.76

	This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$30,367	\$32,767	\$30,641	1.07	\$35,487	0.92	\$36,517	0.90
139 Pneumonia	\$22,368	\$21,707	\$22,549	0.96	\$27,529	0.79	\$26,154	0.83
140 Chronic Obstructive Pulmonary Disease	\$18,801	\$20,098	\$21,356	0.94	\$23,968	0.84	\$23,596	0.85
174 Percutaneous coronary intervention w AMI	\$65,830	\$65,840	\$65,348	1.01	\$72,860	0.90	\$73,175	0.90
194 Heart Failure	\$21,125	\$21,809	\$23,636	0.92	\$28,982	0.75	\$29,512	0.74
201 Heart Abnormal Rhythm and Conduction Disorders	\$13,561	\$15,365	\$19,122	0.80	\$21,611	0.71	\$21,125	0.73
301 Hip Replacement	\$46,620	\$47,294	\$42,625	1.11	\$52,206	0.91	\$50,854	0.93
302 Knee Replacement	\$55,114	\$53,815	\$49,816	1.08	\$50,848	1.06	\$48,781	1.10
469 Acute kidney injury	\$17,643	\$18,601	\$24,682	0.75	\$29,340	0.63	\$29,600	0.63
540 Cesarean Delivery	\$16,659	\$17,295	\$21,046	0.82	\$25,613	0.68	\$24,895	0.69
560 Vaginal Delivery	\$10,038	\$10,292	\$9,723	1.06	\$12,456	0.83	\$12,167	0.85
640 Normal Newborn, Birthweight 2500g+	\$3,341	\$3,423	\$4,395	0.78	\$4,463	0.77	\$4,719	0.73
720 Blood Infection/Septicemia	\$37,299	\$36,759	\$36,072	1.02	\$41,728	0.88	\$44,340	0.83
751 Psychoses	*	#	#	*	#	*	#	*
775 Alcohol Abuse/Dependence	\$21,450	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

042 St Vincent Hospital 835 S Van Buren St, PO Box 13508 Green Bay, WI 54307

920-433-0111

County: Brown

Hospital Type: GMS

Analysis Area: 4-Northeastern

Inpatient Volume Group: 6

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	11,043	Average Length of Stay (days):	4.7	Discharge Status	% Discharges
Total Patient Days:	51,780	Average Charge per Discharge:	\$41,347	Home or Self-Care	69.8%
Total Fations Bayo.	01,700	Avoidge charge per blocharge.	Ψ11,517	Other GMS Hospital	1.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	790	Percent of All Childbirths:	75.5%	Skilled Nursing Facility	11.4%
Cesarean Childbirths:	231	Percent of All Childbirths:	22.1%	Intermediate Care Facility	0.0%
Other Childbirths:	25	Percent of All Childbirths:	2.4%	Inpatient Rehabilitation Facility	2.8%
Total Childbirths:	1,046			Hospice	3.0%
Tatal Names and	4.004			Other Institution	0.2%
Total Newborns:	1,031			Home Health Service	7.6%
Psychiatric Utilization				Left Against Medical Advice	0.7% 2.1%
	13	Percent of All Discharges:	0.1%	Expired Discharge/Tran to Court/Law Enforcmnt	0.1%
Discharges: Patient Days:	35	Percent of All Discharges: Percent of All Patient Days:	0.1%	Other	0.1%
Fallent Days.	33	reicent of All Fatient Days.	0.176		
AODA Utilization				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	41	Percent of All Discharges:	0.4%	Medicare	44.7%
Patient Days:	150	Percent of All Patient Days:	0.3%	Medicaid/BadgerCare	18.2%
				Other Government	2.9%
				Commercial or Private Insurance	32.7%
				Self-Pay	1.5%
				Other or Unknown Insurance	0.0%

Age Distribution			Sex Distribution	<u>1</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	9.3%	7.4%	Male	48.9%	53.1%	Amer.Ind/Alaskan Native	e 5.4%	5.5%	
Under 15	7.4%	8.9%	Female	51.1%	46.9%	Asian	1.5%	1.1%	
15 - 19	2.5%	1.9%				Black/African Amer.	3.0%	2.9%	
20 - 24	2.6%	2.1%				Native Hawaii/Pac.Isl.	0.2%	0.2%	
25 - 34	9.5%	6.6%				White	88.1%	88.4%	
35 - 44	6.0%	5.4%				Multiracial	0.7%	0.8%	
45 - 54	7.1%	7.4%				Declined	1.0%	1.1%	
55 - 64	13.6%	15.1%				Unavailable	0.1%	0.1%	
65 - 74	17.5%	18.7%							
75 - 84	15.7%	17.0%							
85 & Over	8.7%	9.4%							

	Group Averages							
			Analysis Area Inpatient Volume Group				All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	205	3.7	3.5	1.06	4.6	0.80	4.2	0.88
133 Respiratory failure	120	4.9	4.2	1.17	4.9	1.00	4.5	1.09
139 Pneumonia	159	4.5	3.7	1.22	4.2	1.07	4.0	1.13
174 Percutaneous coronary intervention w AMI	150	3.1	2.6	1.19	3.0	1.03	3.0	1.03
175 Percutaneous coronary intervention w/o AMI	173	2.7	2.7	1.00	3.1	0.87	3.1	0.87
194 Heart Failure	220	4.8	4.1	1.17	5.0	0.96	4.6	1.04
201 Heart Abnormal Rhythm and Conduction Disorders	83	3.2	2.6	1.23	2.9	1.10	2.8	1.14
301 Hip Replacement	298	1.8	1.8	1.00	2.5	0.72	2.3	0.78
302 Knee Replacement	36	2.0	1.9	1.05	2.1	0.95	2.0	1.00
469 Acute kidney injury	114	5.5	4.2	1.31	5.2	1.06	4.6	1.20
540 Cesarean Delivery	231	3.6	3.5	1.03	4.0	0.90	3.6	1.00
560 Vaginal Delivery	790	2.3	2.0	1.15	2.3	1.00	2.2	1.05
640 Normal Newborn, Birthweight 2500g+	935	2.1	2.0	1.05	2.2	0.95	2.1	1.00
720 Blood Infection/Septicemia	507	6.6	4.9	1.35	6.1	1.08	5.5	1.20
751 Psychoses	*	*	4.3	*	5.1	*	5.1	*

			, <u> </u>	•				
	This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
045 Stroke and Precerebral Occlusion with Infarct	\$38,481	\$38,856	\$35,676	1.09	\$43,048	0.90	\$39,987	0.97
133 Respiratory failure	\$32,974	\$29,882	\$30,641	0.98	\$39,891	0.75	\$36,517	0.82
139 Pneumonia	\$26,075	\$26,557	\$22,549	1.18	\$29,201	0.91	\$26,154	1.02
174 Percutaneous coronary intervention w AMI	\$76,106	\$72,534	\$65,348	1.11	\$73,358	0.99	\$73,175	0.99
175 Percutaneous coronary intervention w/o AMI	\$83,284	\$77,978	\$80,066	0.97	\$109,236	0.71	\$106,404	0.73
194 Heart Failure	\$24,506	\$24,486	\$23,636	1.04	\$32,710	0.75	\$29,512	0.83
201 Heart Abnormal Rhythm and Conduction Disorders	\$21,524	\$20,704	\$19,122	1.08	\$22,164	0.93	\$21,125	0.98
301 Hip Replacement	\$48,699	\$50,298	\$42,625	1.18	\$53,491	0.94	\$50,854	0.99
302 Knee Replacement	\$58,346	\$53,157	\$49,816	1.07	\$52,844	1.01	\$48,781	1.09
469 Acute kidney injury	\$30,579	\$27,722	\$24,682	1.12	\$33,062	0.84	\$29,600	0.94
540 Cesarean Delivery	\$18,153	\$18,074	\$21,046	0.86	\$25,062	0.72	\$24,895	0.73
560 Vaginal Delivery	\$11,488	\$11,382	\$9,723	1.17	\$12,661	0.90	\$12,167	0.94
640 Normal Newborn, Birthweight 2500g+	\$4,366	\$4,263	\$4,395	0.97	\$5,036	0.85	\$4,719	0.90
720 Blood Infection/Septicemia	\$47,615	\$46,925	\$36,072	1.30	\$50,089	0.94	\$44,340	1.06
751 Psychoses	*	#	#	*	#	*	#	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 043 Aurora Medical Center in Hartford

### 1032 East Sumner Street

Hartford, WI 53027

85 & Over

18.2%

22.1%

Analysis Area: 2A-Southeastern

Hospital Type: GMS

County: Washington

262-673-2300 Inpatient Volume Group: 4

Overall Hospital Utilization				Patient Discharge Statu	<u>ıs</u>
Total Discharges:	1,456	Average Length of Stay (days):	3.3	<u>Discharge Status</u>	% Discharges
Total Patient Days:	4,831	Average Charge per Discharge:	\$38,661	Home or Self-Care	53.2%
Total Fation Bayo.	1,001	Average charge per Bloomarge.	ψου,σο τ	Other GMS Hospital	4.1%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	14.6%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	2.9%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.2%
Total Childbirths:	0			Hospice	4.6%
T CIN I	•			Other Institution	0.0%
Total Newborns:	0			Home Health Service	18.1%
Psychiatric Utilization				Left Against Medical Advice	1.0%
	0	Descript of All Dischauses	0.40/	Expired Discharge/Tran to Court/Law Enforcmnt	0.5%
Discharges:	2	Percent of All Discharges:	0.1%	Other	0.0%
Patient Days:	6	Percent of All Patient Days:	0.1%	Other	0.8%
				Expected Pay Source Distri	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	23	Percent of All Discharges:	1.6%	Medicare	68.1%
Patient Days:	73	Percent of All Patient Days:	1.5%	Medicaid/BadgerCare	4.8%
				Other Government	1.0%
				Commercial or Private Insurance	23.8%
				Self-Pay	2.3%
				Other or Unknown Insurance	0.0%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	44.6%	45.5%	Amer.Ind/Alaskan Native	e 0.3%	0.1%	
Under 15	0.0%	0.0%	Female	55.4%	54.5%	Asian	0.3%	0.2%	
15 - 19	0.3%	0.3%				Black/African Amer.	0.7%	0.4%	
20 - 24	0.9%	0.7%				Native Hawaii/Pac.Isl.	0.1%	0.1%	
25 - 34	2.2%	1.7%				White	98.4%	98.9%	
35 - 44	4.5%	3.2%				Multiracial	0.1%	0.1%	
45 - 54	9.1%	7.8%				Declined	0.1%	0.0%	
55 - 64	20.5%	16.5%				Unavailable	0 %	0 %	
65 - 74	22.2%	22.0%							
75 - 84	22.2%	25.9%							

	This Facil	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	19	3.9	4.8	0.81	3.6	1.08	4.5	0.87
139 Pneumonia	58	4.5	4.5	1.00	3.5	1.29	4.0	1.13
140 Chronic Obstructive Pulmonary Disease	65	4.0	3.8	1.05	3.2	1.25	3.6	1.11
194 Heart Failure	102	4.1	4.6	0.89	3.6	1.14	4.6	0.89
201 Heart Abnormal Rhythm and Conduction Disorders	49	2.8	2.9	0.97	2.5	1.12	2.8	1.00
301 Hip Replacement	94	1.7	2.1	0.81	1.9	0.89	2.3	0.74
302 Knee Replacement	130	1.5	2.0	0.75	1.7	0.88	2.0	0.75
383 Cellulitis & other skin infections	31	5.1	4.1	1.24	3.5	1.46	4.0	1.28
463 Kidney/Urinary Tract Infection	40	3.4	3.6	0.94	3.1	1.10	3.6	0.94
469 Acute kidney injury	16	3.8	4.5	0.84	3.3	1.15	4.6	0.83
540 Cesarean Delivery	0	N/A	3.3	N/A	2.9	N/A	3.6	N/A
560 Vaginal Delivery	0	N/A	2.2	N/A	2.0	N/A	2.2	N/A
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.1	N/A	1.9	N/A	2.1	N/A
720 Blood Infection/Septicemia	102	4.4	5.3	0.83	4.2	1.05	5.5	0.80
775 Alcohol Abuse/Dependence	20	3.4	3.8	0.89	3.7	0.92	3.7	0.92

	• .	_	•	-	•		
This Fac	ility			Risk Adjusted	Group Averages	;	
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	<u>Inpatient V</u> Average Charge	<u>'olume Group</u> Ratio	All GMS Ho Average Charge	ospitals Ratio
\$33,873	\$33,375	\$37,003	0.90	\$31,273	1.07	\$36,517	0.91
\$31,776	\$33,961	\$30,437	1.12	\$23,233	1.46	\$26,154	1.30
\$29,154	\$30,843	\$25,288	1.22	\$21,959	1.40	\$23,596	1.31
\$27,602	\$29,225	\$30,999	0.94	\$25,091	1.16	\$29,512	0.99
\$22,014	\$21,490	\$23,194	0.93	\$19,443	1.11	\$21,125	1.02
\$70,208	\$71,125	\$61,253	1.16	\$45,617	1.56	\$50,854	1.40
\$67,535	\$68,212	\$60,209	1.13	\$43,239	1.58	\$48,781	1.40
\$31,003	\$26,473	\$23,000	1.15	\$19,644	1.35	\$21,953	1.21
\$23,689	\$24,344	\$23,784	1.02	\$19,748	1.23	\$22,097	1.10
\$28,500	\$36,291	\$30,548	1.19	\$23,728	1.53	\$29,600	1.23
N/A	N/A	\$26,513	*	\$24,480	*	\$24,895	*
N/A	N/A	\$14,321	*	\$11,116	*	\$12,167	*
N/A	N/A	\$4,851	*	\$4,155	*	\$4,719	*
\$34,186	\$40,982	\$44,089	0.93	\$33,720	1.22	\$44,340	0.92
\$23,632	#	#	#	#	#	#	#
	Average Charge \$33,873 \$31,776 \$29,154 \$27,602 \$22,014 \$70,208 \$67,535 \$31,003 \$23,689 \$28,500 N/A N/A N/A \$7,4	Adjusted Average Charge Charge S33,873 \$33,375 \$31,776 \$33,961 \$29,154 \$30,843 \$27,602 \$29,225 \$22,014 \$21,490 \$70,208 \$71,125 \$67,535 \$68,212 \$31,003 \$26,473 \$23,689 \$24,344 \$28,500 \$36,291 N/A	Risk Adjusted Average Charge S33,873 \$33,375 \$37,003 \$31,776 \$33,961 \$30,437 \$29,154 \$30,843 \$25,288 \$27,602 \$29,225 \$30,999 \$22,014 \$21,490 \$23,194 \$70,208 \$71,125 \$61,253 \$67,535 \$68,212 \$60,209 \$31,003 \$26,473 \$23,000 \$23,689 \$24,344 \$23,784 \$28,500 \$36,291 \$30,548 N/A N/A N/A \$26,513 N/A N/A N/A \$4,851 \$4,851 \$34,186 \$40,982 \$44,089	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Ratio  \$33,873 \$33,375 \$37,003 0.90 \$31,776 \$33,961 \$30,437 1.12 \$29,154 \$30,843 \$25,288 1.22 \$27,602 \$29,225 \$30,999 0.94 \$22,014 \$21,490 \$23,194 0.93 \$70,208 \$71,125 \$61,253 1.16 \$67,535 \$68,212 \$60,209 1.13 \$31,003 \$26,473 \$23,000 1.15 \$23,689 \$24,344 \$23,784 1.02 \$28,500 \$36,291 \$30,548 1.19 N/A N/A N/A \$26,513 * N/A N/A N/A \$14,321 * N/A N/A N/A \$4,851 * \$34,186 \$40,982 \$44,089 0.93	Risk Adjusted Average Average Charge Charge Charge Ratio Charge Charge Ratio	Risk Adjusted Average Charge Charge Charge Charge Ratio  \$33,873 \$33,375 \$37,003 0.90 \$31,273 1.07 \$31,776 \$33,961 \$30,437 1.12 \$23,233 1.46 \$29,154 \$30,843 \$25,288 1.22 \$21,959 1.40 \$27,602 \$29,225 \$30,999 0.94 \$25,091 1.16 \$22,014 \$21,490 \$23,194 0.93 \$19,443 1.11 \$70,208 \$71,125 \$61,253 1.16 \$45,617 1.56 \$67,535 \$68,212 \$60,209 1.13 \$43,239 1.58 \$31,003 \$26,473 \$23,000 1.15 \$19,644 1.35 \$23,689 \$24,344 \$23,784 1.02 \$19,748 1.23 \$28,500 \$36,291 \$30,548 1.19 \$23,728 1.53 N/A N/A N/A \$26,513 * \$24,480 * N/A N/A N/A \$14,321 * \$11,116 * N/A N/A N/A \$4,851 * \$41,155 * \$33,720 1.22	Risk Adjusted Average Charge         Average Charge         Average Charge         Average Charge         Average Charge         Ratio         Inpatient Volume Group Average Charge         All GMS Howard Average Charge         Average Charge         Average Charge         Average Charge         Ratio         All GMS Howard Charge         Average Charge         Average Charge         Average Charge         Average Charge         Average Charge         Ratio         Charge         Average Charge<

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 044 Hayward Area Memorial Hospital

11040 N State Road 77

Hayward, WI 54843

715-934-4321

85 & Over

14.6%

17.3%

Hospital Type: GMS County: Sawyer

Analysis Area: 7-Western Lake Superior Inpatient Volume Group: 2

710-004-4021				inputiont volume Group. 2	
Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	884	Average Length of Stay (days):	2.9	<u>Discharge Status</u>	% Discharges
Total Patient Days:	2,578	Average Charge per Discharge:	\$13,543	Home or Self-Care	72.5%
•	,		. ,	Other GMS Hospital	5.3%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.6%
Normal Childbirths:	79	Percent of All Childbirths:	64.2%	Skilled Nursing Facility	11.5%
Cesarean Childbirths:	32	Percent of All Childbirths:	26.0%	Intermediate Care Facility	3.2%
Other Childbirths:	12	Percent of All Childbirths:	9.8%	Inpatient Rehabilitation Facility	0.1%
Total Childbirths:	123			Hospice	1.4%
Takal Niasah awasa	400			Other Institution	0.1%
Total Newborns:	122			Home Health Service	1.0%
Psychiatric Utilization				Left Against Medical Advice	0.6%
<u> </u>	4	Demonstrat All Disaberras	0.40/	Expired Discharge/Tran to Court/Law Enforcmnt	1.8%
Discharges:	1	Percent of All Discharges:	0.1%	•	0.0%
Patient Days:	3	Percent of All Patient Days:	0.1%	Other	1.9%
				Expected Pay Source Distril	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	21	Percent of All Discharges:	2.4%	Medicare	48.9%
Patient Days:	58	Percent of All Patient Days:	2.2%	Medicaid/BadgerCare	26.8%
				Other Government	2.9%
				Commercial or Private Insurance	15.5%
				Self-Pay	5.7%
				Other or Unknown Insurance	0.2%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	13.8%	9.8%	Male	42.1%	44.1%	Amer.Ind/Alaskan Native	17.4%	16.9%	
Under 15	0.8%	0.4%	Female	57.9%	55.9%	Asian	0.2%	0.2%	
15 - 19	0.9%	0.7%				Black/African Amer.	0.1%	0.1%	
20 - 24	4.4%	3.3%				Native Hawaii/Pac.Isl.	0.2%	0.2%	
25 - 34	10.0%	7.3%				White	81.1%	82.0%	
35 - 44	4.9%	4.6%				Multiracial	0.5%	0.3%	
45 - 54	5.4%	5.9%				Declined	0.5%	0.5%	
55 - 64	10.3%	9.9%				Unavailable	0 %	0 %	
65 - 74	16.4%	17.8%							
75 - 84	18.6%	22.8%							

	This Facil	ity			Group A	Averages		
			Analysis Area		Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	*	*	2.8	*	3.0	*	4.5	*
139 Pneumonia	75	3.3	3.3	1.00	3.3	1.00	4.0	0.83
140 Chronic Obstructive Pulmonary Disease	32	3.1	3.2	0.97	3.3	0.94	3.6	0.86
194 Heart Failure	39	2.9	3.4	0.85	3.4	0.85	4.6	0.63
201 Heart Abnormal Rhythm and Conduction Disorders	23	2.5	2.4	1.04	2.6	0.96	2.8	0.89
301 Hip Replacement	13	2.7	1.3	2.08	1.9	1.42	2.3	1.17
302 Knee Replacement	21	1.9	1.2	1.58	2.1	0.90	2.0	0.95
383 Cellulitis & other skin infections	21	3.8	3.1	1.23	3.9	0.97	4.0	0.95
463 Kidney/Urinary Tract Infection	30	2.9	2.8	1.04	3.0	0.97	3.6	0.81
469 Acute kidney injury	15	3.2	3.3	0.97	2.9	1.10	4.6	0.70
540 Cesarean Delivery	32	3.1	3.2	0.97	3.1	1.00	3.6	0.86
560 Vaginal Delivery	79	1.8	2.0	0.90	2.0	0.90	2.2	0.82
640 Normal Newborn, Birthweight 2500g+	108	1.9	2.1	0.90	2.0	0.95	2.1	0.90
720 Blood Infection/Septicemia	26	2.6	3.2	0.81	3.6	0.72	5.5	0.47
862 Other Factors Influencing Health Status	*	*	5.0	*	8.7	*	8.7	*

	This Fac	ility			Risk Adjusted	Group Averages	i	
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	*	*	\$15,822	*	\$19,995	*	\$36,517	*
139 Pneumonia	\$13,531	\$16,866	\$15,634	1.08	\$17,968	0.94	\$26,154	0.64
140 Chronic Obstructive Pulmonary Disease	\$12,187	\$15,860	\$15,430	1.03	\$18,011	0.88	\$23,596	0.67
194 Heart Failure	\$10,066	\$13,225	\$15,904	0.83	\$16,661	0.79	\$29,512	0.45
201 Heart Abnormal Rhythm and Conduction Disorders	\$9,792	\$10,394	\$10,785	0.96	\$13,360	0.78	\$21,125	0.49
301 Hip Replacement	\$33,379	\$33,549	\$29,149	1.15	\$39,123	0.86	\$50,854	0.66
302 Knee Replacement	\$34,345	\$36,786	\$33,898	1.09	\$39,600	0.93	\$48,781	0.75
383 Cellulitis & other skin infections	\$13,862	\$14,972	\$11,572	1.29	\$15,690	0.95	\$21,953	0.68
463 Kidney/Urinary Tract Infection	\$10,222	\$11,679	\$10,211	1.14	\$12,405	0.94	\$22,097	0.53
469 Acute kidney injury	\$11,138	\$13,210	\$12,754	1.04	\$14,450	0.91	\$29,600	0.45
540 Cesarean Delivery	\$18,905	\$19,899	\$20,863	0.95	\$20,919	0.95	\$24,895	0.80
560 Vaginal Delivery	\$9,388	\$9,478	\$8,332	1.14	\$8,631	1.10	\$12,167	0.78
640 Normal Newborn, Birthweight 2500g+	\$4,703	\$4,785	\$4,092	1.17	\$4,326	1.11	\$4,719	1.01
720 Blood Infection/Septicemia	\$10,578	\$17,534	\$18,825	0.93	\$20,714	0.85	\$44,340	0.40
862 Other Factors Influencing Health Status	*	*	\$7,770	*	\$15,162	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

# 045 Gundersen St. Joseph's Hospital and Clinics

PO Box 527, 400 Water Avenue

Hillsboro, WI 54634

608-489-8000

85 & Over

21.3%

26.0%

Hospital Type: GMS
County: Vernon

Analysis Area: 5B-Southwestern

Inpatient Volu	ent Volume Group:			1	

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	235	Average Length of Stay (days):	3.0	<u>Discharge Status</u>	% Discharges
Total Patient Days:	695	Average Charge per Discharge:	\$14,572	Home or Self-Care	62.1%
Total Fatient Days.	030	Average onlarge per Disonarge.	Ψ14,572	Other GMS Hospital	8.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	11.1%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0			Hospice	1.7%
Total Official Co.	·			Other Institution	0.0%
Total Newborns:	0			Home Health Service	3.4%
Dovobiotrio Utilization				Left Against Medical Advice	0.4%
Psychiatric Utilization				Expired	1.7%
Discharges:	1	Percent of All Discharges:	0.4%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	2	Percent of All Patient Days:	0.3%	Other	11.1%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	0	Percent of All Discharges:	0.0%	Medicare	78.7%
Patient Days:	0	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	2.6%
				Other Government	1.7%
				Commercial or Private Insurance	16.2%
				Self-Pay	0.4%
				Other or Unknown Insurance	0.4%

	Age Distribution			Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	41.3%	37.4%	Amer.Ind/Alaskan Native	0.0%	0.0%
Under 15	0.4%	0.6%	Female	58.7%	62.6%	Asian	0.0%	0.0%
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	2.6%	2.4%				White	99.6%	99.7%
35 - 44	2.1%	2.0%				Multiracial	0.4%	0.3%
45 - 54	2.6%	1.9%				Declined	0.0%	0.0%
55 - 64	23.0%	19.7%				Unavailable	0 %	0 %
65 - 74	21.3%	20.1%						
75 - 84	26.8%	27.2%						

	This Facil	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	5	3.0	4.0	0.75	2.6	1.15	4.5	0.67
137 Respiratory Infections and Inflammations	5	5.2	4.9	1.06	3.7	1.41	5.6	0.93
139 Pneumonia	24	3.2	3.8	0.84	3.3	0.97	4.0	0.80
140 Chronic Obstructive Pulmonary Disease	20	3.4	3.2	1.06	3.2	1.06	3.6	0.94
194 Heart Failure	20	3.0	4.1	0.73	3.3	0.91	4.6	0.65
201 Heart Abnormal Rhythm and Conduction Disorders	8	2.6	2.8	0.93	2.5	1.04	2.8	0.93
247 Intestinal Obstruction without Surgery	*	*	3.2	*	2.3	*	3.5	*
282 Disorders of Pancreas Except Malignancy	*	*	3.5	*	2.7	*	4.0	*
302 Knee Replacement	22	2.2	1.6	1.38	2.4	0.92	2.0	1.10
383 Cellulitis & other skin infections	7	2.9	3.8	0.76	3.8	0.76	4.0	0.73
463 Kidney/Urinary Tract Infection	10	3.9	3.4	1.15	3.3	1.18	3.6	1.08
469 Acute kidney injury	7	1.9	4.2	0.45	3.2	0.59	4.6	0.41
720 Blood Infection/Septicemia	10	3.5	5.0	0.70	3.6	0.97	5.5	0.64
861 Signs & Symptoms	6	2.5	5.3	0.47	6.3	0.40	5.0	0.50
862 Other Factors Influencing Health Status	0	N/A	8.6	N/A	9.1	N/A	8.7	N/A

# APR-DRG Specific Data - Average Charge per Discharge (Actual & Risk-Adjusted^)

_	• .	•	•	-	•		
This Facility				Risk Adjusted	Group Averages		
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
\$14,204	\$23,202	\$25,589	0.91	\$16,434	1.41	\$36,517	0.64
\$17,703	\$16,133	\$30,031	0.54	\$18,058	0.89	\$39,518	0.41
\$11,420	\$12,088	\$20,184	0.60	\$15,907	0.76	\$26,154	0.46
\$11,662	\$11,937	\$18,595	0.64	\$15,423	0.77	\$23,596	0.51
\$11,274	\$12,703	\$21,845	0.58	\$15,151	0.84	\$29,512	0.43
\$8,362	\$9,793	\$15,454	0.63	\$12,073	0.81	\$21,125	0.46
*	*	\$16,667	*	\$10,681	*	\$21,879	*
*	*	\$19,660	*	\$15,867	*	\$28,992	*
\$36,704	\$38,922	\$38,036	1.02	\$47,739	0.82	\$48,781	0.80
\$12,348	\$13,782	\$16,743	0.82	\$14,904	0.92	\$21,953	0.63
\$13,022	\$12,270	\$15,072	0.81	\$12,446	0.99	\$22,097	0.56
\$5,736	\$7,660	\$20,575	0.37	\$13,028	0.59	\$29,600	0.26
\$12,569	\$10,749	\$30,102	0.36	\$18,335	0.59	\$44,340	0.24
\$11,224	\$13,537	\$18,229	0.74	\$15,939	0.85	\$28,329	0.48
N/A	N/A	\$25,250	*	\$24,133	*	\$31,132	*
	Average Charge \$14,204 \$17,703 \$11,420 \$11,662 \$11,274 \$8,362 * * * \$36,704 \$12,348 \$13,022 \$5,736 \$12,569 \$11,224	Risk Adjusted Average Charge S14,204 \$23,202 \$17,703 \$16,133 \$11,420 \$12,088 \$11,662 \$11,937 \$11,274 \$12,703 \$8,362 \$9,793 \$*  *  *  *  *  \$36,704 \$38,922 \$12,348 \$13,782 \$13,022 \$12,270 \$5,736 \$7,660 \$12,569 \$10,749 \$11,224 \$13,537	Risk Adjusted Average Charge S14,204 \$23,202 \$25,589 \$17,703 \$16,133 \$30,031 \$11,420 \$12,088 \$20,184 \$11,274 \$12,703 \$21,845 \$8,362 \$9,793 \$15,454 \$16,667 \$19,660 \$36,704 \$38,922 \$38,036 \$12,348 \$13,782 \$16,743 \$13,022 \$12,270 \$15,072 \$5,736 \$7,660 \$20,575 \$12,569 \$10,749 \$30,102 \$11,224 \$13,537 \$18,229	Risk Adjusted Average Charge Ratio  \$14,204 \$23,202 \$25,589 0.91 \$17,703 \$16,133 \$30,031 0.54 \$11,420 \$12,088 \$20,184 0.60 \$11,662 \$11,937 \$18,595 0.64 \$11,274 \$12,703 \$21,845 0.58 \$8,362 \$9,793 \$15,454 0.63 * * * \$16,667 * * \$19,660 * * \$36,704 \$38,922 \$38,036 1.02 \$12,348 \$13,782 \$16,743 0.82 \$13,022 \$12,270 \$15,072 0.81 \$5,736 \$7,660 \$20,575 0.37 \$12,569 \$10,749 \$30,102 0.36 \$11,224 \$13,537 \$18,229 0.74	Risk Adjusted Average Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Charge Ratio Ch	Risk Adjusted Average Charge Charge Charge Ratio  \$14,204 \$23,202 \$25,589 0.91 \$16,434 1.41 \$17,703 \$16,133 \$30,031 0.54 \$18,058 0.89 \$11,420 \$12,088 \$20,184 0.60 \$15,907 0.76 \$11,662 \$11,937 \$18,595 0.64 \$15,423 0.77 \$11,274 \$12,703 \$21,845 0.58 \$15,151 0.84 \$8,362 \$9,793 \$15,454 0.63 \$12,073 0.81 \$	Risk Adjusted Average Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Rati

N/A - Zero Discharges reported

reported ^ Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

046 Hudson Hospital & Clinics

405 Stageline Road

Hudson, WI 54016

715-531-6000

85 & Over

7.4%

10.6%

Hospital Type: GMS

Inpatient Volume Group: 3

County: Saint Croix

Analysis Area: 5A-West Central

harge Status	<u>Patient</u>
--------------	----------------

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,800	Average Length of Stay (days):	2.3	Discharge Status	% Discharges
Total Patient Days:	4,072	Average Charge per Discharge:	\$13,036	Home or Self-Care	85.4%
rotar ration Bayo.	1,012	, wordige charge per Bleendige.	ψ10,000	Other GMS Hospital	3.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	376	Percent of All Childbirths:	78.0%	Skilled Nursing Facility	4.7%
Cesarean Childbirths:	96	Percent of All Childbirths:	19.9%	Intermediate Care Facility	0.6%
Other Childbirths:	10	Percent of All Childbirths:	2.1%	Inpatient Rehabilitation Facility	0.1%
Total Childbirths:	482		,	Hospice	1.4%
Total Officialities	102			Other Institution	0.2%
Total Newborns:	450			Home Health Service	1.6%
Develorie Utilization				Left Against Medical Advice	0.2%
Psychiatric Utilization				Expired	0.7%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	1.6%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	22	Percent of All Discharges:	1.2%	Medicare	30.5%
Patient Days:	43	Percent of All Patient Days:	1.1%	Medicaid/BadgerCare	13.9%
				Other Government	1.2%
				Commercial or Private Insurance	54.1%
				Self-Pay	0.1%
				Other or Unknown Insurance	0.2%

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	25.0%	21.8%	Male	33.6%	32.9%	Amer.Ind/Alaskan Native	e 0.2%	0.2%
Under 15	0.2%	0.2%	Female	66.4%	67.1%	Asian	1.3%	1.2%
15 - 19	0.4%	0.5%				Black/African Amer.	1.5%	1.4%
20 - 24	4.8%	5.0%				Native Hawaii/Pac.Isl.	0.1%	0.1%
25 - 34	20.9%	20.7%				White	94.6%	94.8%
35 - 44	6.6%	6.4%				Multiracial	0.0%	0.0%
45 - 54	5.0%	4.4%				Declined	0.6%	0.6%
55 - 64	7.7%	7.7%				Unavailable	1.8%	1.7%
65 - 74	10.8%	10.7%						
75 - 84	11.2%	12.0%						

		This Facil	Group Averages						
				Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description		Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure		22	3.0	4.2	0.71	3.2	0.94	4.5	0.67
139 Pneumonia		24	3.0	3.7	0.81	3.3	0.91	4.0	0.75
140 Chronic Obstructive Pulmonar	y Disease	26	2.6	3.5	0.74	2.9	0.90	3.6	0.72
194 Heart Failure		57	3.0	4.3	0.70	3.4	0.88	4.6	0.65
201 Heart Abnormal Rhythm and C	Conduction Disorders	10	1.2	2.8	0.43	2.3	0.52	2.8	0.43
247 Intestinal Obstruction without S	Surgery	15	2.3	3.3	0.70	2.7	0.85	3.5	0.66
301 Hip Replacement		74	1.9	2.3	0.83	2.1	0.90	2.3	0.83
302 Knee Replacement		93	1.6	2.1	0.76	1.9	0.84	2.0	0.80
383 Cellulitis & other skin infections	3	21	2.4	3.9	0.62	3.6	0.67	4.0	0.60
463 Kidney/Urinary Tract Infection		14	2.5	3.1	0.81	2.9	0.86	3.6	0.69
469 Acute kidney injury		23	2.8	4.4	0.64	2.8	1.00	4.6	0.61
540 Cesarean Delivery		96	3.1	3.0	1.03	3.0	1.03	3.6	0.86
560 Vaginal Delivery		376	2.0	2.1	0.95	1.9	1.05	2.2	0.91
640 Normal Newborn, Birthweight	2500g+	434	2.0	2.0	1.00	2.0	1.00	2.1	0.95
720 Blood Infection/Septicemia		95	3.2	4.8	0.67	3.6	0.89	5.5	0.58

· · · · · · · · · · · · · · · · · · ·	This Fac	ility			Pick Adjusted	Group Averages		_
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysis Area</u> Average Charge Ratio		Inpatient Volume Group Average Charge Ratio		All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$17,615	\$22,470	\$27,159	0.83	\$22,058	1.02	\$36,517	0.62
139 Pneumonia	\$17,091	\$17,234	\$19,690	0.88	\$18,736	0.92	\$26,154	0.66
140 Chronic Obstructive Pulmonary Disease	\$12,339	\$13,459	\$18,026	0.75	\$16,687	0.81	\$23,596	0.57
194 Heart Failure	\$16,819	\$20,299	\$22,734	0.89	\$18,675	1.09	\$29,512	0.69
201 Heart Abnormal Rhythm and Conduction Disorders	\$8,346	\$8,766	\$16,241	0.54	\$13,920	0.63	\$21,125	0.41
247 Intestinal Obstruction without Surgery	\$9,651	\$11,637	\$14,181	0.82	\$13,214	0.88	\$21,879	0.53
301 Hip Replacement	\$31,377	\$32,188	\$41,021	0.78	\$43,894	0.73	\$50,854	0.63
302 Knee Replacement	\$32,567	\$34,284	\$38,967	0.88	\$45,311	0.76	\$48,781	0.70
383 Cellulitis & other skin infections	\$11,918	\$13,458	\$17,014	0.79	\$16,011	0.84	\$21,953	0.61
463 Kidney/Urinary Tract Infection	\$7,853	\$9,148	\$13,865	0.66	\$13,197	0.69	\$22,097	0.41
469 Acute kidney injury	\$13,338	\$15,115	\$22,197	0.68	\$14,980	1.01	\$29,600	0.51
540 Cesarean Delivery	\$20,493	\$21,117	\$19,747	1.07	\$21,375	0.99	\$24,895	0.85
560 Vaginal Delivery	\$9,169	\$9,428	\$9,018	1.05	\$8,800	1.07	\$12,167	0.77
640 Normal Newborn, Birthweight 2500g+	\$3,422	\$3,711	\$3,539	1.05	\$3,780	0.98	\$4,719	0.79
720 Blood Infection/Septicemia	\$17,688	\$23,336	\$32,245	0.72	\$23,568	0.99	\$44,340	0.53

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 048 Mercy Health Hospital and Trauma Center - Janesville

6.8%

8.4%

1000 Mineral Point Ave, PO Box 5003

Janesville, WI 53547

85 & Over

Hospital Type: GMS County: Rock

Analysis Area: 1-Southern

2.3%

0.0%

608-756-6000				Inpatient Volume Group: 5	
Overall Hospital Utilization				Patient Discharge Statu	<u>ıs</u>
Total Discharges:	7,390	Average Length of Stay (days):	4.1	<u>Discharge Status</u>	% Discharges
Total Patient Days:	29,931	Average Charge per Discharge:	\$45,775	Home or Self-Care Other GMS Hospital	74.1% 1.4%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.3%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization	494 177 33 704 713	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	70.2% 25.1% 4.7%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice	8.8% 0.3% 1.7% 1.5% 0.0% 6.6% 1.2%
<del></del>				Expired	2.5%
Discharges: Patient Days:	503 1,826	Percent of All Discharges: Percent of All Patient Days:	6.8% 6.1%	Discharge/Tran to Court/Law Enforcmnt Other	0.3% 1.4%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	208	Percent of All Discharges:	2.8%	Medicare	42.7%
Patient Days:	622	Percent of All Patient Days:	2.1%	Medicaid/BadgerCare Other Government Commercial or Private Insurance	10.3% 1.2% 43.6%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	9.6%	4.3%	Male	44.7%	46.8%	Amer.Ind/Alaskan Native	0.4%	0.4%
Under 15	0.9%	1.0%	Female	55.3%	53.2%	Asian	0.6%	0.5%
15 - 19	1.8%	1.1%				Black/African Amer.	5.1%	4.6%
20 - 24	4.1%	2.6%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	11.7%	8.1%				White	93.3%	93.9%
35 - 44	8.3%	7.7%				Multiracial	0.2%	0.2%
45 - 54	10.4%	10.1%				Declined	0.3%	0.3%
55 - 64	17.0%	19.4%				Unavailable	0.1%	0 %
65 - 74	17.6%	22.3%						
75 - 84	12.0%	15.0%						

Self-Pay

Other or Unknown Insurance

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	153	4.7	4.1	1.15	4.5	1.04	4.5	1.04		
139 Pneumonia	93	4.4	3.7	1.19	4.2	1.05	4.0	1.10		
140 Chronic Obstructive Pulmonary Disease	153	4.5	3.6	1.25	3.6	1.25	3.6	1.25		
174 Percutaneous coronary intervention w AMI	126	3.2	3.1	1.03	3.0	1.07	3.0	1.07		
194 Heart Failure	214	4.9	4.5	1.09	4.6	1.07	4.6	1.07		
201 Heart Abnormal Rhythm and Conduction Disorders	135	2.6	2.8	0.93	2.9	0.90	2.8	0.93		
301 Hip Replacement	159	3.3	2.2	1.50	2.2	1.50	2.3	1.43		
302 Knee Replacement	168	2.5	2.0	1.25	2.0	1.25	2.0	1.25		
469 Acute kidney injury	130	4.5	4.3	1.05	4.7	0.96	4.6	0.98		
540 Cesarean Delivery	177	2.7	3.9	0.69	3.3	0.82	3.6	0.75		
560 Vaginal Delivery	494	1.8	2.3	0.78	2.1	0.86	2.2	0.82		
640 Normal Newborn, Birthweight 2500g+	667	1.8	2.1	0.86	2.1	0.86	2.1	0.86		
720 Blood Infection/Septicemia	298	6.2	5.5	1.13	5.5	1.13	5.5	1.13		
751 Psychoses	195	3.5	5.6	0.63	4.7	0.74	5.1	0.69		
775 Alcohol Abuse/Dependence	133	3.0	3.4	0.88	3.8	0.79	3.7	0.81		

	.1114.			Diels Adiusted	Craum Averages			
	This Fac	-			RISK Adjusted	Group Averages		
ADD DDC # and Departation	Average	Risk Adjusted Average	Analysi Average	s Area Ratio	Average	olume Group	All GMS Ho	ospitals Ratio
APR-DRG # and Description	Charge	Charge	Charge	Ratio	Charge	Ratio	Charge	Ralio
133 Respiratory failure	\$42,492	\$40,147	\$42,179	0.95	\$35,487	1.13	\$36,517	1.10
139 Pneumonia	\$36,832	\$39,730	\$28,774	1.38	\$27,529	1.44	\$26,154	1.52
140 Chronic Obstructive Pulmonary Disease	\$34,455	\$34,615	\$28,251	1.23	\$23,968	1.44	\$23,596	1.47
174 Percutaneous coronary intervention w AMI	\$103,927	\$106,588	\$80,361	1.33	\$72,860	1.46	\$73,175	1.46
194 Heart Failure	\$35,423	\$37,721	\$33,598	1.12	\$28,982	1.30	\$29,512	1.28
201 Heart Abnormal Rhythm and Conduction Disorders	\$23,661	\$25,284	\$23,719	1.07	\$21,611	1.17	\$21,125	1.20
301 Hip Replacement	\$78,521	\$78,824	\$49,942	1.58	\$52,206	1.51	\$50,854	1.55
302 Knee Replacement	\$70,852	\$70,968	\$43,613	1.63	\$50,848	1.40	\$48,781	1.45
469 Acute kidney injury	\$33,108	\$36,709	\$32,366	1.13	\$29,340	1.25	\$29,600	1.24
540 Cesarean Delivery	\$35,794	\$37,588	\$28,792	1.31	\$25,613	1.47	\$24,895	1.51
560 Vaginal Delivery	\$16,530	\$16,242	\$13,875	1.17	\$12,456	1.30	\$12,167	1.33
640 Normal Newborn, Birthweight 2500g+	\$3,681	\$3,880	\$5,441	0.71	\$4,463	0.87	\$4,719	0.82
720 Blood Infection/Septicemia	\$59,318	\$61,873	\$52,049	1.19	\$41,728	1.48	\$44,340	1.40
751 Psychoses	\$8,778	#	#	#	#	#	#	#
775 Alcohol Abuse/Dependence	\$14,701	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

317 St Mary's Janesville Hospital

3400 E. Racine Street

Janesville, WI 53546

608-373-8011

85 & Over

12.4%

15.4%

Hospital Type: GMS County: Rock

Analysis Area: 1-Southern

Inpatient Volume Group: 4

Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	3,070	Average Length of Stay (days):	3.1	<u>Discharge Status</u>	% Discharges
Total Patient Days:	9,431	Average Charge per Discharge:	\$29,341	Home or Self-Care	69.1%
Total Fatient Days.	3,731	Average onlinge per bisonarge.	Ψ23,3+1	Other GMS Hospital	4.3%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	325	Percent of All Childbirths:	74.4%	Skilled Nursing Facility	11.5%
Cesarean Childbirths:	103	Percent of All Childbirths:	23.6%	Intermediate Care Facility	1.7%
Other Childbirths:	9	Percent of All Childbirths:	2.1%	Inpatient Rehabilitation Facility	0.2%
Total Childbirths:	437		,•	Hospice	2.5%
Total Official Control				Other Institution	0.0%
Total Newborns:	447			Home Health Service	8.1%
Psychiatric Utilization				Left Against Medical Advice	0.5%
PSychiatric Othization				Expired	0.4%
Discharges:	2	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	12	Percent of All Patient Days:	0.1%	Other	1.7%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	17	Percent of All Discharges:	0.6%	Medicare	48.8%
Patient Days:	79	Percent of All Patient Days:	0.8%	Medicaid/BadgerCare	17.3%
				Other Government	0.8%
				Commercial or Private Insurance	30.9%
				Self-Pay	2.2%
				Other or Unknown Insurance	0.0%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	14.6%	9.6%	Male	39.2%	41.8%	Amer.Ind/Alaskan Native	0.4%	0.4%	
Under 15	1.1%	0.6%	Female	60.8%	58.2%	Asian	0.6%	0.5%	
15 - 19	1.2%	0.8%				Black/African Amer.	2.1%	1.7%	
20 - 24	4.0%	2.9%				Native Hawaii/Pac.Isl.	0.1%	0.1%	
25 - 34	12.0%	9.1%				White	90.4%	92.9%	
35 - 44	4.7%	3.8%				Multiracial	0.0%	0.0%	
45 - 54	5.8%	6.0%				Declined	1.1%	1.1%	
55 - 64	11.9%	13.6%				Unavailable	5.3%	3.4%	
65 - 74	13.8%	15.4%							
75 - 84	18.4%	22.7%							

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	<u>ospitals</u>		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	28	4.5	4.1	1.10	3.6	1.25	4.5	1.00		
139 Pneumonia	78	3.3	3.7	0.89	3.5	0.94	4.0	0.83		
140 Chronic Obstructive Pulmonary Disease	38	3.2	3.6	0.89	3.2	1.00	3.6	0.89		
194 Heart Failure	141	4.4	4.5	0.98	3.6	1.22	4.6	0.96		
201 Heart Abnormal Rhythm and Conduction Disorders	59	2.3	2.8	0.82	2.5	0.92	2.8	0.82		
301 Hip Replacement	116	2.4	2.2	1.09	1.9	1.26	2.3	1.04		
302 Knee Replacement	105	1.7	2.0	0.85	1.7	1.00	2.0	0.85		
383 Cellulitis & other skin infections	38	3.6	4.0	0.90	3.5	1.03	4.0	0.90		
463 Kidney/Urinary Tract Infection	38	3.4	3.4	1.00	3.1	1.10	3.6	0.94		
469 Acute kidney injury	41	3.4	4.3	0.79	3.3	1.03	4.6	0.74		
540 Cesarean Delivery	103	2.9	3.9	0.74	2.9	1.00	3.6	0.81		
560 Vaginal Delivery	325	2.0	2.3	0.87	2.0	1.00	2.2	0.91		
640 Normal Newborn, Birthweight 2500g+	407	2.0	2.1	0.95	1.9	1.05	2.1	0.95		
720 Blood Infection/Septicemia	274	4.1	5.5	0.75	4.2	0.98	5.5	0.75		
775 Alcohol Abuse/Dependence	16	4.8	3.4	1.41	3.7	1.30	3.7	1.30		

-		-	Pick Adjusted	Croup Averegee				
	This Fac	Risk			Kisk Aujusteu	Group Averages		
		Adjusted	<u>Analysi</u>	s Area	Inpatient V	olume Group	All GMS Ho	ospitals
	Average	Average	Average		Average		Average	
APR-DRG # and Description	Charge	Charge	Charge	Ratio	Charge	Ratio	Charge	Ratio
133 Respiratory failure	\$45,893	\$55,214	\$42,179	1.31	\$31,273	1.77	\$36,517	1.51
139 Pneumonia	\$28,515	\$29,566	\$28,774	1.03	\$23,233	1.27	\$26,154	1.13
140 Chronic Obstructive Pulmonary Disease	\$32,949	\$32,107	\$28,251	1.14	\$21,959	1.46	\$23,596	1.36
194 Heart Failure	\$40,446	\$43,839	\$33,598	1.30	\$25,091	1.75	\$29,512	1.49
201 Heart Abnormal Rhythm and Conduction Disorders	\$29,613	\$30,478	\$23,719	1.28	\$19,443	1.57	\$21,125	1.44
301 Hip Replacement	\$49,464	\$50,200	\$49,942	1.01	\$45,617	1.10	\$50,854	0.99
302 Knee Replacement	\$48,950	\$46,884	\$43,613	1.08	\$43,239	1.08	\$48,781	0.96
383 Cellulitis & other skin infections	\$26,305	\$28,914	\$24,297	1.19	\$19,644	1.47	\$21,953	1.32
463 Kidney/Urinary Tract Infection	\$31,754	\$31,517	\$24,396	1.29	\$19,748	1.60	\$22,097	1.43
469 Acute kidney injury	\$29,309	\$31,852	\$32,366	0.98	\$23,728	1.34	\$29,600	1.08
540 Cesarean Delivery	\$22,893	\$23,287	\$28,792	0.81	\$24,480	0.95	\$24,895	0.94
560 Vaginal Delivery	\$12,396	\$12,388	\$13,875	0.89	\$11,116	1.11	\$12,167	1.02
640 Normal Newborn, Birthweight 2500g+	\$3,989	\$4,027	\$5,441	0.74	\$4,155	0.97	\$4,719	0.85
720 Blood Infection/Septicemia	\$40,066	\$44,345	\$52,049	0.85	\$33,720	1.32	\$44,340	1.00
775 Alcohol Abuse/Dependence	\$42,759	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

189 Aurora Medical Center in Kenosha

8.6%

10.7%

85 & Over

10400 75th Avenue

Kenosha, WI 53142 Analysis Area: 2A-Southeastern

**262-948-5600** Inpatient Volume Group: 5

Overall Hospital Utilization				Patient Discharge Statu	<u>ıs</u>
Total Discharges:	6,477	Average Length of Stay (days):	3.3	<u>Discharge Status</u>	% Discharges
Total Patient Days:	21,346	Average Charge per Discharge:	\$34,281	Home or Self-Care	67.1%
Total Fatient Days.	21,540	Average Charge per Discharge.	ψ04,201	Other GMS Hospital	3.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	547	Percent of All Childbirths:	61.5%	Skilled Nursing Facility	10.9%
Cesarean Childbirths:	327	Percent of All Childbirths:	36.7%	Intermediate Care Facility	0.6%
Other Childbirths:	16	Percent of All Childbirths:	1.8%	Inpatient Rehabilitation Facility	0.5%
Total Childbirths:	890		1.070	Hospice	2.8%
Total Officialitie.	000			Other Institution	0.0%
Total Newborns:	905			Home Health Service	12.7%
Dovobiotrio Utilization				Left Against Medical Advice	0.9%
Psychiatric Utilization				Expired	0.7%
Discharges:	8	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	35	Percent of All Patient Days:	0.2%	Other	0.3%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	54	Percent of All Discharges:	0.8%	Medicare	44.4%
Patient Days:	263	Percent of All Patient Days:	1.2%	Medicaid/BadgerCare	15.9%
				Other Government	2.5%
				Commercial or Private Insurance	34.7%
				Self-Pay	2.5%
				Other or Unknown Insurance	0.1%

Hospital Type: GMS

County: Kenosha

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	14.0%	11.0%	Male	41.2%	43.7%	Amer.Ind/Alaskan Native	e 0.1%	0.1%	
Under 15	1.1%	0.7%	Female	58.8%	56.3%	Asian	0.9%	0.8%	
15 - 19	1.2%	0.9%				Black/African Amer.	9.5%	9.3%	
20 - 24	4.0%	3.0%				Native Hawaii/Pac.Isl.	0.3%	0.4%	
25 - 34	11.4%	8.7%				White	88.0%	88.5%	
35 - 44	6.2%	5.6%				Multiracial	0.9%	0.8%	
45 - 54	7.9%	7.7%				Declined	0.2%	0.2%	
55 - 64	15.4%	16.6%				Unavailable	0 %	0 %	
65 - 74	16.3%	18.0%							
75 - 84	13.9%	17.2%							

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	143	4.2	4.8	0.88	4.5	0.93	4.5	0.93		
139 Pneumonia	136	4.0	4.5	0.89	4.2	0.95	4.0	1.00		
140 Chronic Obstructive Pulmonary Disease	113	3.4	3.8	0.89	3.6	0.94	3.6	0.94		
174 Percutaneous coronary intervention w AMI	12	2.7	2.9	0.93	3.0	0.90	3.0	0.90		
194 Heart Failure	199	4.1	4.6	0.89	4.6	0.89	4.6	0.89		
201 Heart Abnormal Rhythm and Conduction Disorders	168	2.9	2.9	1.00	2.9	1.00	2.8	1.04		
301 Hip Replacement	209	1.8	2.1	0.86	2.2	0.82	2.3	0.78		
302 Knee Replacement	112	1.4	2.0	0.70	2.0	0.70	2.0	0.70		
469 Acute kidney injury	94	4.2	4.5	0.93	4.7	0.89	4.6	0.91		
540 Cesarean Delivery	327	3.0	3.3	0.91	3.3	0.91	3.6	0.83		
560 Vaginal Delivery	547	2.0	2.2	0.91	2.1	0.95	2.2	0.91		
640 Normal Newborn, Birthweight 2500g+	842	2.2	2.1	1.05	2.1	1.05	2.1	1.05		
720 Blood Infection/Septicemia	323	4.8	5.3	0.91	5.5	0.87	5.5	0.87		
751 Psychoses	0	N/A	5.6	N/A	4.7	N/A	5.1	N/A		
775 Alcohol Abuse/Dependence	39	5.3	3.8	1.39	3.8	1.39	3.7	1.43		

						-				
	This Fac	ility	Risk Adjusted Group Averages							
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
133 Respiratory failure	\$38,378	\$38,254	\$37,003	1.03	\$35,487	1.08	\$36,517	1.05		
139 Pneumonia	\$32,561	\$30,666	\$30,437	1.01	\$27,529	1.11	\$26,154	1.17		
140 Chronic Obstructive Pulmonary Disease	\$26,988	\$23,092	\$25,288	0.91	\$23,968	0.96	\$23,596	0.98		
174 Percutaneous coronary intervention w AMI	\$60,365	\$59,492	\$73,777	0.81	\$72,860	0.82	\$73,175	0.81		
194 Heart Failure	\$31,846	\$30,036	\$30,999	0.97	\$28,982	1.04	\$29,512	1.02		
201 Heart Abnormal Rhythm and Conduction Disorders	\$26,770	\$25,286	\$23,194	1.09	\$21,611	1.17	\$21,125	1.20		
301 Hip Replacement	\$71,795	\$72,074	\$61,253	1.18	\$52,206	1.38	\$50,854	1.42		
302 Knee Replacement	\$67,301	\$67,394	\$60,209	1.12	\$50,848	1.33	\$48,781	1.38		
469 Acute kidney injury	\$32,731	\$30,716	\$30,548	1.01	\$29,340	1.05	\$29,600	1.04		
540 Cesarean Delivery	\$24,520	\$24,478	\$26,513	0.92	\$25,613	0.96	\$24,895	0.98		
560 Vaginal Delivery	\$11,489	\$11,318	\$14,321	0.79	\$12,456	0.91	\$12,167	0.93		
640 Normal Newborn, Birthweight 2500g+	\$4,981	\$5,127	\$4,851	1.06	\$4,463	1.15	\$4,719	1.09		
720 Blood Infection/Septicemia	\$45,133	\$43,512	\$44,089	0.99	\$41,728	1.04	\$44,340	0.98		
751 Psychoses	N/A	#	#	*	#	*	#	*		
775 Alcohol Abuse/Dependence	\$41,846	#	#	#	#	#	#	#		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

**305 Froedtert South** 

6308 8th Ave

Kenosha, WI 53143

262-656-3011

Hospital Type: GMS

Inpatient Volume Group: 5

Other Government

Self-Pay

Commercial or Private Insurance

Other or Unknown Insurance

County: Kenosha

Analysis Area: 2A-Southeastern

0.4%

27.5%

1.8%

0.0%

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	8,246	Average Length of Stay (days):	4.7	Discharge Status	% Discharges
Total Patient Days:	38,662	Average Charge per Discharge:	\$37,151	Home or Self-Care Other GMS Hospital	70.0% 1.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths:	617 262 44	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	66.8% 28.4% 4.8%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility	14.8% 0.0% 0.2%
Total Childbirths:	923			Hospice Other Institution	1.4% 0.1%
Total Newborns:	944			Home Health Service	5.9% 1.2%
Psychiatric Utilization				Left Against Medical Advice Expired	3.3%
Discharges:	7	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.4%
Patient Days:	54	Percent of All Patient Days:	0.1%	Other	1.0%
				Expected Pay Source Distrib	oution
AODA Utilization				Primary Payer	% Discharges
Discharges:	120	Percent of All Discharges:	1.5%	Medicare	50.1%
Patient Days:	775	Percent of All Patient Days:	2.0%	Medicaid/BadgerCare	20.2%

Age Distribution				Sex Distribution			Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days		
Newborn	11.4%	5.4%	Male	42.6%	45.6%	Amer.Ind/Alaskan Native	0.2%	0.1%		
Under 15	0.1%	0.1%	Female	57.4%	54.4%	Asian	0.5%	0.4%		
15 - 19	1.1%	0.7%				Black/African Amer.	10.3%	10.5%		
20 - 24	3.4%	2.1%				Native Hawaii/Pac.Isl.	0.1%	0.1%		
25 - 34	9.8%	5.7%				White	88.0%	87.9%		
35 - 44	6.5%	5.9%				Multiracial	0.0%	0.0%		
45 - 54	8.7%	9.8%				Declined	0.4%	0.6%		
55 - 64	16.1%	18.9%				Unavailable	0.6%	0.5%		
65 - 74	17.4%	19.6%								
75 - 84	15.0%	19.0%								
85 & Over	10.4%	12.9%								

	This Facili	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	50	5.6	4.8	1.17	4.5	1.24	4.5	1.24
139 Pneumonia	289	5.6	4.5	1.24	4.2	1.33	4.0	1.40
140 Chronic Obstructive Pulmonary Disease	251	5.2	3.8	1.37	3.6	1.44	3.6	1.44
174 Percutaneous coronary intervention w AMI	87	3.1	2.9	1.07	3.0	1.03	3.0	1.03
194 Heart Failure	298	5.6	4.6	1.22	4.6	1.22	4.6	1.22
201 Heart Abnormal Rhythm and Conduction Disorders	156	4.3	2.9	1.48	2.9	1.48	2.8	1.54
301 Hip Replacement	214	2.7	2.1	1.29	2.2	1.23	2.3	1.17
302 Knee Replacement	225	2.0	2.0	1.00	2.0	1.00	2.0	1.00
469 Acute kidney injury	88	6.2	4.5	1.38	4.7	1.32	4.6	1.35
540 Cesarean Delivery	262	2.9	3.3	0.88	3.3	0.88	3.6	0.81
560 Vaginal Delivery	617	2.0	2.2	0.91	2.1	0.95	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	882	2.0	2.1	0.95	2.1	0.95	2.1	0.95
720 Blood Infection/Septicemia	239	7.3	5.3	1.38	5.5	1.33	5.5	1.33
751 Psychoses	0	N/A	5.6	N/A	4.7	N/A	5.1	N/A
775 Alcohol Abuse/Dependence	95	7.3	3.8	1.92	3.8	1.92	3.7	1.97

	This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$37,941	\$35,256	\$37,003	0.95	\$35,487	0.99	\$36,517	0.97
139 Pneumonia	\$30,628	\$34,697	\$30,437	1.14	\$27,529	1.26	\$26,154	1.33
140 Chronic Obstructive Pulmonary Disease	\$26,026	\$27,762	\$25,288	1.10	\$23,968	1.16	\$23,596	1.18
174 Percutaneous coronary intervention w AMI	\$82,066	\$83,789	\$73,777	1.14	\$72,860	1.15	\$73,175	1.15
194 Heart Failure	\$29,346	\$33,657	\$30,999	1.09	\$28,982	1.16	\$29,512	1.14
201 Heart Abnormal Rhythm and Conduction Disorders	\$24,394	\$25,012	\$23,194	1.08	\$21,611	1.16	\$21,125	1.18
301 Hip Replacement	\$50,681	\$51,615	\$61,253	0.84	\$52,206	0.99	\$50,854	1.01
302 Knee Replacement	\$53,204	\$54,498	\$60,209	0.91	\$50,848	1.07	\$48,781	1.12
469 Acute kidney injury	\$35,135	\$36,206	\$30,548	1.19	\$29,340	1.23	\$29,600	1.22
540 Cesarean Delivery	\$28,720	\$31,545	\$26,513	1.19	\$25,613	1.23	\$24,895	1.27
560 Vaginal Delivery	\$13,139	\$13,899	\$14,321	0.97	\$12,456	1.12	\$12,167	1.14
640 Normal Newborn, Birthweight 2500g+	\$3,797	\$4,258	\$4,851	0.88	\$4,463	0.95	\$4,719	0.90
720 Blood Infection/Septicemia	\$54,116	\$53,425	\$44,089	1.21	\$41,728	1.28	\$44,340	1.20
751 Psychoses	N/A	#	#	*	#	*	#	*
775 Alcohol Abuse/Dependence	\$43,180	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# **056 Gundersen Lutheran Medical Center**

1900 South Avenue

La Crosse, WI 54601

608-782-7300 Inpatient Volume Group: 6

Hospital Type:	GMS
County:	La Crosse

Analysis Area: 5B-Southwestern

				periorite research	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	15,726	Average Length of Stay (days):	4.4	Discharge Status	% Discharges
Total Patient Days:	68,862	Average Charge per Discharge:	\$30,977	Home or Self-Care	77.8%
Total Fation Days.	00,002	Average Charge per Discharge.	ψου,σττ	Other GMS Hospital	0.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	1.153	Percent of All Childbirths:	71.9%	Skilled Nursing Facility	8.6%
Cesarean Childbirths:	374	Percent of All Childbirths:	23.3%	Intermediate Care Facility	2.1%
Other Childbirths:	76	Percent of All Childbirths:	4.7%	Inpatient Rehabilitation Facility	2.4%
Total Childbirths:	1,603	r orderit or 7 th ormaditure.	7.770	Hospice	1.0%
Total Childbirths.	1,003			Other Institution	0.0%
Total Newborns:	1,598			Home Health Service	1.7%
Dovediatela I Itilization				Left Against Medical Advice	0.4%
Psychiatric Utilization				Expired	3.0%
Discharges:	1,288	Percent of All Discharges:	8.2%	Discharge/Tran to Court/Law Enforcmnt	0.5%
Patient Days:	7,629	Percent of All Patient Days:	11.1%	Other	1.8%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	178	Percent of All Discharges:	1.1%	Medicare	42.5%
Patient Days:	717	Percent of All Patient Days:	1.0%	Medicaid/BadgerCare	17.2%
				Other Government	3.3%
				Commercial or Private Insurance	33.7%
				Self-Pay	2.1%
				Other or Unknown Insurance	1.1%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	10.2%	8.1%	Male	47.6%	50.9%	Amer.Ind/Alaskan Native	e 1.0%	1.0%	
Under 15	3.0%	3.1%	Female	52.4%	49.1%	Asian	1.7%	1.4%	
15 - 19	3.2%	3.1%				Black/African Amer.	1.7%	2.1%	
20 - 24	3.5%	3.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	11.6%	9.0%				White	94.6%	94.6%	
35 - 44	7.0%	6.3%				Multiracial	0.8%	0.7%	
45 - 54	8.2%	8.7%				Declined	0.2%	0.2%	
55 - 64	14.8%	16.6%				Unavailable	0 %	0 %	
65 - 74	16.6%	18.0%							
75 - 84	13.7%	15.1%							
85 & Over	8.3%	8.9%							

	This Facil	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	207	4.0	3.8	1.05	4.6	0.87	4.2	0.95
133 Respiratory failure	292	4.0	4.0	1.00	4.9	0.82	4.5	0.89
139 Pneumonia	224	4.1	3.8	1.08	4.2	0.98	4.0	1.03
174 Percutaneous coronary intervention w AMI	200	2.1	2.4	0.88	3.0	0.70	3.0	0.70
175 Percutaneous coronary intervention w/o AMI	116	2.1	2.2	0.95	3.1	0.68	3.1	0.68
194 Heart Failure	437	4.2	4.1	1.02	5.0	0.84	4.6	0.91
201 Heart Abnormal Rhythm and Conduction Disorders	195	2.8	2.8	1.00	2.9	0.97	2.8	1.00
301 Hip Replacement	477	2.7	2.3	1.17	2.5	1.08	2.3	1.17
302 Knee Replacement	170	2.3	1.6	1.44	2.1	1.10	2.0	1.15
469 Acute kidney injury	227	4.4	4.2	1.05	5.2	0.85	4.6	0.96
540 Cesarean Delivery	374	3.7	3.4	1.09	4.0	0.93	3.6	1.03
560 Vaginal Delivery	1,153	2.4	2.2	1.09	2.3	1.04	2.2	1.09
640 Normal Newborn, Birthweight 2500g+	1,399	2.0	1.9	1.05	2.2	0.91	2.1	0.95
720 Blood Infection/Septicemia	559	5.4	5.0	1.08	6.1	0.89	5.5	0.98
751 Psychoses	730	5.5	5.5	1.00	5.1	1.08	5.1	1.08

		This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # and Description		Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
	roke and Precerebral Occlusion with Infarct	\$27,956	\$25,440	\$28,200	0.90	\$43,048	0.59	\$39,987	0.64
133 Re	espiratory failure	\$26,740	\$24,449	\$25,589	0.96	\$39,891	0.61	\$36,517	0.67
139 Pn	eumonia	\$20,901	\$18,509	\$20,184	0.92	\$29,201	0.63	\$26,154	0.71
174 Pei	rcutaneous coronary intervention w AMI	\$44,449	\$44,379	\$49,891	0.89	\$73,358	0.60	\$73,175	0.61
175 Pei	rcutaneous coronary intervention w/o AMI	\$82,585	\$75,789	\$75,000	1.01	\$109,236	0.69	\$106,404	0.71
194 He	eart Failure	\$21,144	\$19,328	\$21,845	0.88	\$32,710	0.59	\$29,512	0.65
201 He	eart Abnormal Rhythm and Conduction Disorders	\$14,566	\$13,393	\$15,454	0.87	\$22,164	0.60	\$21,125	0.63
301 Hip	Replacement	\$36,275	\$35,211	\$38,182	0.92	\$53,491	0.66	\$50,854	0.69
302 Kn	ee Replacement	\$35,062	\$33,234	\$38,036	0.87	\$52,844	0.63	\$48,781	0.68
469 Acı	tute kidney injury	\$20,822	\$19,161	\$20,575	0.93	\$33,062	0.58	\$29,600	0.65
540 Ce	esarean Delivery	\$27,139	\$25,772	\$24,286	1.06	\$25,062	1.03	\$24,895	1.04
560 Va	ginal Delivery	\$15,055	\$14,624	\$12,860	1.14	\$12,661	1.16	\$12,167	1.20
640 No	ormal Newborn, Birthweight 2500g+	\$3,753	\$3,833	\$3,905	0.98	\$5,036	0.76	\$4,719	0.81
720 Blo	ood Infection/Septicemia	\$29,590	\$27,103	\$30,102	0.90	\$50,089	0.54	\$44,340	0.61
751 Psy	ychoses	\$14,269	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

057 Mayo Clinic Health System - Franciscan Healthcare in La Crosse

26 Percent of All Patient Days:

700 West Avenue South

La Crosse, WI 54601

608-785-0940

Patient Days:

85 & Over

9.3%

11.6%

Hospital Type: GMS

Inpatient Volume Group: 5

County: La Crosse

Analysis Area: 5B-Southwestern

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	5,170	Average Length of Stay (days):	3.8	Discharge Status	% Discharges
Total Patient Days:	19,515	Average Charge per Discharge:	\$29,444	Home or Self-Care Other GMS Hospital	78.7% 2.6%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.2%
Normal Childbirths: Cesarean Childbirths: Other Childbirths:	488 142 36	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	73.3% 21.3% 5.4%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility	10.0% 0.3% 0.3%
Total Childbirths:	666			Hospice Other Institution	2.2% 0.0%
Total Newborns:	671			Home Health Service	0.9%
Psychiatric Utilization				Left Against Medical Advice Expired	0.9% 1.5%
Discharges:	3	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%

AODA Utilization				Primary Payer	% Discharges		
Discharges:	64	Percent of All Discharges:	1.2%	Medicare	49.1%		
Patient Days:	206	Percent of All Patient Days:	1.1%	Medicaid/BadgerCare	15.2%		
				Other Government	3.0%		
				Commercial or Private Insurance	29.3%		

0.1%

Commercial or Private Insurance 29.3%
Self-Pay 3.3%
Other or Unknown Insurance 0.0%

**Expected Pay Source Distribution** 

2.6%

Age Distribution			Sex Distribution	<u>1</u>	Race	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	13.0%	9.8%	Male	43.9%	48.0%	Amer.Ind/Alaskan Native	0.2%	0.1%	
Under 15	1.0%	1.5%	Female	56.1%	52.0%	Asian	1.2%	0.8%	
15 - 19	1.0%	0.7%				Black/African Amer.	1.6%	1.6%	
20 - 24	2.9%	1.9%				Native Hawaii/Pac.Isl.	0.1%	0.0%	
25 - 34	10.6%	7.0%				White	90.8%	92.0%	
35 - 44	6.1%	5.3%				Multiracial	0.2%	0.2%	
45 - 54	6.6%	6.2%				Declined	0.0%	0.0%	
55 - 64	14.2%	14.9%				Unavailable	6.0%	5.3%	
65 - 74	18.7%	20.8%							
75 - 84	16.6%	20.2%							

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient V	Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	56	5.0	4.0	1.25	4.5	1.11	4.5	1.11	
139 Pneumonia	80	3.9	3.8	1.03	4.2	0.93	4.0	0.98	
140 Chronic Obstructive Pulmonary Disease	59	2.9	3.2	0.91	3.6	0.81	3.6	0.81	
174 Percutaneous coronary intervention w AMI	89	3.1	2.4	1.29	3.0	1.03	3.0	1.03	
194 Heart Failure	218	4.6	4.1	1.12	4.6	1.00	4.6	1.00	
201 Heart Abnormal Rhythm and Conduction Disorders	86	3.2	2.8	1.14	2.9	1.10	2.8	1.14	
301 Hip Replacement	121	2.3	2.3	1.00	2.2	1.05	2.3	1.00	
302 Knee Replacement	172	1.9	1.6	1.19	2.0	0.95	2.0	0.95	
469 Acute kidney injury	97	4.5	4.2	1.07	4.7	0.96	4.6	0.98	
540 Cesarean Delivery	142	3.1	3.4	0.91	3.3	0.94	3.6	0.86	
560 Vaginal Delivery	488	2.1	2.2	0.95	2.1	1.00	2.2	0.95	
640 Normal Newborn, Birthweight 2500g+	596	1.9	1.9	1.00	2.1	0.90	2.1	0.90	
720 Blood Infection/Septicemia	390	5.1	5.0	1.02	5.5	0.93	5.5	0.93	
751 Psychoses	*	*	5.5	*	4.7	*	5.1	*	
775 Alcohol Abuse/Dependence	57	3.3	3.2	1.03	3.8	0.87	3.7	0.89	

	This Fac	ility	Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
133 Respiratory failure	\$40,831	\$32,857	\$25,589	1.28	\$35,487	0.93	\$36,517	0.90	
139 Pneumonia	\$26,196	\$26,284	\$20,184	1.30	\$27,529	0.95	\$26,154	1.00	
140 Chronic Obstructive Pulmonary Disease	\$23,223	\$22,552	\$18,595	1.21	\$23,968	0.94	\$23,596	0.96	
174 Percutaneous coronary intervention w AMI	\$61,848	\$62,412	\$49,891	1.25	\$72,860	0.86	\$73,175	0.85	
194 Heart Failure	\$30,033	\$28,887	\$21,845	1.32	\$28,982	1.00	\$29,512	0.98	
201 Heart Abnormal Rhythm and Conduction Disorders	\$23,230	\$21,014	\$15,454	1.36	\$21,611	0.97	\$21,125	0.99	
301 Hip Replacement	\$39,670	\$40,706	\$38,182	1.07	\$52,206	0.78	\$50,854	0.80	
302 Knee Replacement	\$34,914	\$32,499	\$38,036	0.85	\$50,848	0.64	\$48,781	0.67	
469 Acute kidney injury	\$27,969	\$25,084	\$20,575	1.22	\$29,340	0.85	\$29,600	0.85	
540 Cesarean Delivery	\$23,473	\$22,634	\$24,286	0.93	\$25,613	0.88	\$24,895	0.91	
560 Vaginal Delivery	\$12,400	\$12,239	\$12,860	0.95	\$12,456	0.98	\$12,167	1.01	
640 Normal Newborn, Birthweight 2500g+	\$3,684	\$3,709	\$3,905	0.95	\$4,463	0.83	\$4,719	0.79	
720 Blood Infection/Septicemia	\$37,871	\$35,820	\$30,102	1.19	\$41,728	0.86	\$44,340	0.81	
751 Psychoses	*	#	#	*	#	*	#	*	
775 Alcohol Abuse/Dependence	\$18,599	#	#	#	#	#	#	#	

N/A - Zero Discharges reported

 $<sup>^{\</sup>wedge}\, Risk\text{-}Adjusted\,\, Charges\,\, calculated\,\, using\,\, 3M_{\text{TM}}\,\, APR\,\, DRG\,\, Software\,\, licensed\,\, through\,\, 3M\,\, Health\,\, Infomation\,\, Systems.$ 

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

058 Marshfield Medical Center - Ladysmith

900 College Avenue West

Ladysmith, WI 54848 Analysis Area: 5A-West Central

Hospital Type: GMS

County: Rusk

715-532-5561 Inpatient Volume Group: 1

Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	285	Average Length of Stay (days):	3.9	<u>Discharge Status</u>	% Discharges
Total Patient Days:	1,105	Average Charge per Discharge:	\$12,159	Home or Self-Care	45.3%
Total Fatient Bays.	1,100	Average charge per bisonarge.	Ψ12,100	Other GMS Hospital	18.9%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	17.9%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	3.2%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.4%
Total Childbirths:	0			Hospice	1.4%
	_			Other Institution	0.0%
Total Newborns:	0			Home Health Service	2.1%
Psychiatric Utilization				Left Against Medical Advice	0.4%
				Expired	3.5%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	7.0%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	1	Percent of All Discharges:	0.4%	Medicare	83.9%
Patient Days:	4	Percent of All Patient Days:	0.4%	Medicaid/BadgerCare	7.0%
				Other Government	1.8%
				Commercial or Private Insurance	6.7%
				Self-Pay	0.7%
				Other or Unknown Insurance	0.0%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	47.7%	47.2%	Amer.Ind/Alaskan Native	e 1.1%	1.9%	
Under 15	0.0%	0.0%	Female	52.3%	52.8%	Asian	0.0%	0.0%	
15 - 19	0.0%	0.0%				Black/African Amer.	0.4%	0.3%	
20 - 24	0.4%	0.1%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	2.1%	2.4%				White	97.9%	97.2%	
35 - 44	3.9%	5.7%				Multiracial	0.0%	0.0%	
45 - 54	5.3%	7.1%				Declined	0.0%	0.0%	
55 - 64	11.9%	10.6%				Unavailable	0.7%	0.6%	
65 - 74	18.9%	17.5%							
75 - 84	26.3%	25.8%							
85 & Over	31.2%	30.8%							

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS Hospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	*	*	4.2	*	2.6	*	4.5	*	
137 Respiratory Infections and Inflammations	7	3.4	5.0	0.68	3.7	0.92	5.6	0.61	
139 Pneumonia	22	3.1	3.7	0.84	3.3	0.94	4.0	0.78	
140 Chronic Obstructive Pulmonary Disease	18	2.1	3.5	0.60	3.2	0.66	3.6	0.58	
194 Heart Failure	18	2.3	4.3	0.53	3.3	0.70	4.6	0.50	
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.8	*	2.5	*	2.8	*	
247 Intestinal Obstruction without Surgery	*	*	3.3	*	2.3	*	3.5	*	
282 Disorders of Pancreas Except Malignancy	*	*	3.5	*	2.7	*	4.0	*	
302 Knee Replacement	0	N/A	2.1	N/A	2.4	N/A	2.0	N/A	
383 Cellulitis & other skin infections	17	4.1	3.9	1.05	3.8	1.08	4.0	1.03	
463 Kidney/Urinary Tract Infection	24	2.8	3.1	0.90	3.3	0.85	3.6	0.78	
469 Acute kidney injury	7	2.3	4.4	0.52	3.2	0.72	4.6	0.50	
720 Blood Infection/Septicemia	29	4.3	4.8	0.90	3.6	1.19	5.5	0.78	
861 Signs & Symptoms	13	7.7	5.1	1.51	6.3	1.22	5.0	1.54	
862 Other Factors Influencing Health Status	7	13.9	8.7	1.60	9.1	1.53	8.7	1.60	

	This Fac	ility	Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
133 Respiratory failure	*	*	\$27,159	*	\$16,434	*	\$36,517	*	
137 Respiratory Infections and Inflammations	\$10,782	\$13,809	\$28,589	0.48	\$18,058	0.76	\$39,518	0.35	
139 Pneumonia	\$13,704	\$16,866	\$19,690	0.86	\$15,907	1.06	\$26,154	0.64	
140 Chronic Obstructive Pulmonary Disease	\$9,626	\$11,676	\$18,026	0.65	\$15,423	0.76	\$23,596	0.49	
194 Heart Failure	\$7,616	\$9,831	\$22,734	0.43	\$15,151	0.65	\$29,512	0.33	
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	\$16,241	*	\$12,073	*	\$21,125	*	
247 Intestinal Obstruction without Surgery	*	*	\$14,181	*	\$10,681	*	\$21,879	*	
282 Disorders of Pancreas Except Malignancy	*	*	\$20,390	*	\$15,867	*	\$28,992	*	
302 Knee Replacement	N/A	N/A	\$38,967	*	\$47,739	*	\$48,781	*	
383 Cellulitis & other skin infections	\$16,392	\$16,356	\$17,014	0.96	\$14,904	1.10	\$21,953	0.75	
463 Kidney/Urinary Tract Infection	\$9,871	\$9,825	\$13,865	0.71	\$12,446	0.79	\$22,097	0.44	
469 Acute kidney injury	\$5,803	\$7,189	\$22,197	0.32	\$13,028	0.55	\$29,600	0.24	
720 Blood Infection/Septicemia	\$12,966	\$19,122	\$32,245	0.59	\$18,335	1.04	\$44,340	0.43	
861 Signs & Symptoms	\$16,620	\$16,756	\$19,879	0.84	\$15,939	1.05	\$28,329	0.59	
862 Other Factors Influencing Health Status	\$27,335	\$29,208	\$24,090	1.21	\$24,133	1.21	\$31,132	0.94	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 309 Mercyhealth Hospital and Medical Center - Walworth

10.2%

12.0%

N 2950 State Road 67

Lake Geneva, WI 53147

262-245-0535

85 & Over

Hospital Type: GMS

Inpatient Volume Group: 3

County: Walworth

Analysis Area: 2A-Southeastern

	<u>Patient</u>	<b>Discharge</b>	<u>Status</u>	
_4				

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,428	Average Length of Stay (days):	2.7	<u>Discharge Status</u>	% Discharges
Total Patient Days:	3,856	Average Charge per Discharge:	\$31,929	Home or Self-Care	75.1%
Total Fatient Days.	0,000	Average onlinge per bischarge.	Ψ01,323	Other GMS Hospital	2.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths:	110	Percent of All Childbirths:	71.4%	Skilled Nursing Facility	10.2%
Cesarean Childbirths:	39	Percent of All Childbirths:	25.3%	Intermediate Care Facility	0.4%
Other Childbirths:	5	Percent of All Childbirths:	3.2%	Inpatient Rehabilitation Facility	3.6%
Total Childbirths:	154		0.270	Hospice	1.1%
Total Official Co.	101			Other Institution	0.0%
Total Newborns:	160			Home Health Service	4.1%
Dovobiatria Utilization				Left Against Medical Advice	0.1%
Psychiatric Utilization				Expired	1.3%
Discharges:	1	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	1	Percent of All Patient Days:	0.0%	Other	1.5%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	17	Percent of All Discharges:	1.2%	Medicare	47.6%
Patient Days:	51	Percent of All Patient Days:	1.3%	Medicaid/BadgerCare	6.2%
				Other Government	1.5%
				Commercial or Private Insurance	42.3%
				Self-Pay	2.5%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	11.2%	6.6%	Male	41.7%	41.7%	Amer.Ind/Alaskan Native	0.2%	0.1%	
Under 15	0.6%	0.2%	Female	58.3%	58.3%	Asian	0.2%	0.2%	
15 - 19	0.8%	0.8%				Black/African Amer.	0.6%	0.5%	
20 - 24	3.6%	2.9%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	8.3%	6.2%				White	98.5%	98.8%	
35 - 44	4.1%	3.7%				Multiracial	0.3%	0.2%	
45 - 54	6.7%	6.5%				Declined	0.2%	0.1%	
55 - 64	17.4%	17.3%				Unavailable	0.1%	0.1%	
65 - 74	19.9%	22.1%							
75 - 84	17.3%	21.7%							

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient Volume Group		All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	14	3.9	4.8	0.81	3.2	1.22	4.5	0.87	
139 Pneumonia	26	3.8	4.5	0.84	3.3	1.15	4.0	0.95	
140 Chronic Obstructive Pulmonary Disease	68	3.3	3.8	0.87	2.9	1.14	3.6	0.92	
194 Heart Failure	54	3.0	4.6	0.65	3.4	0.88	4.6	0.65	
201 Heart Abnormal Rhythm and Conduction Disorders	25	1.8	2.9	0.62	2.3	0.78	2.8	0.64	
247 Intestinal Obstruction without Surgery	19	2.6	3.5	0.74	2.7	0.96	3.5	0.74	
301 Hip Replacement	84	2.0	2.1	0.95	2.1	0.95	2.3	0.87	
302 Knee Replacement	166	2.3	2.0	1.15	1.9	1.21	2.0	1.15	
383 Cellulitis & other skin infections	28	3.1	4.1	0.76	3.6	0.86	4.0	0.78	
463 Kidney/Urinary Tract Infection	19	2.9	3.6	0.81	2.9	1.00	3.6	0.81	
469 Acute kidney injury	25	2.6	4.5	0.58	2.8	0.93	4.6	0.57	
540 Cesarean Delivery	39	2.6	3.3	0.79	3.0	0.87	3.6	0.72	
560 Vaginal Delivery	110	1.8	2.2	0.82	1.9	0.95	2.2	0.82	
640 Normal Newborn, Birthweight 2500g+	152	1.6	2.1	0.76	2.0	0.80	2.1	0.76	
720 Blood Infection/Septicemia	88	3.8	5.3	0.72	3.6	1.06	5.5	0.69	

-	This Facility				Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	-	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio			
133 Respiratory failure	\$21,441	\$30,185	\$37,003	0.82	\$22,058	1.37	\$36,517	0.83			
139 Pneumonia	\$25,655	\$29,157	\$30,437	0.96	\$18,736	1.56	\$26,154	1.11			
140 Chronic Obstructive Pulmonary Disease	\$20,251	\$23,545	\$25,288	0.93	\$16,687	1.41	\$23,596	1.00			
194 Heart Failure	\$17,777	\$23,191	\$30,999	0.75	\$18,675	1.24	\$29,512	0.79			
201 Heart Abnormal Rhythm and Conduction Disorders	\$13,809	\$16,468	\$23,194	0.71	\$13,920	1.18	\$21,125	0.78			
247 Intestinal Obstruction without Surgery	\$14,673	\$16,536	\$25,303	0.65	\$13,214	1.25	\$21,879	0.76			
301 Hip Replacement	\$72,168	\$73,505	\$61,253	1.20	\$43,894	1.67	\$50,854	1.45			
302 Knee Replacement	\$69,673	\$71,779	\$60,209	1.19	\$45,311	1.58	\$48,781	1.47			
383 Cellulitis & other skin infections	\$18,716	\$20,055	\$23,000	0.87	\$16,011	1.25	\$21,953	0.91			
463 Kidney/Urinary Tract Infection	\$18,177	\$18,785	\$23,784	0.79	\$13,197	1.42	\$22,097	0.85			
469 Acute kidney injury	\$16,534	\$22,149	\$30,548	0.73	\$14,980	1.48	\$29,600	0.75			
540 Cesarean Delivery	\$45,381	\$44,285	\$26,513	1.67	\$21,375	2.07	\$24,895	1.78			
560 Vaginal Delivery	\$17,030	\$16,196	\$14,321	1.13	\$8,800	1.84	\$12,167	1.33			
640 Normal Newborn, Birthweight 2500g+	\$3,833	\$4,166	\$4,851	0.86	\$3,780	1.10	\$4,719	0.88			
720 Blood Infection/Septicemia	\$29,652	\$39,071	\$44,089	0.89	\$23,568	1.66	\$44,340	0.88			

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 059 Grant Regional Health Center

**507 South Monroe Street** 

Lancaster, WI 53813

608-723-2143

Hospital Type: GMS
County: Grant
Analysis Area: 1-Southern

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	707	Average Length of Stay (days):	3.3	Discharge Status	% Discharges
Total Patient Days:	2,347	Average Charge per Discharge:	\$13,507	Home or Self-Care	82.0%
Total Fatient Days.	2,041	Average onlying per bisonarge.	Ψ10,501	Other GMS Hospital	2.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.4%
Normal Childbirths:	105	Percent of All Childbirths:	70.9%	Skilled Nursing Facility	4.4%
Cesarean Childbirths:	40	Percent of All Childbirths:	27.0%	Intermediate Care Facility	0.3%
Other Childbirths:	3	Percent of All Childbirths:	2.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	148			Hospice	0.8%
				Other Institution	0.7%
Total Newborns:	130			Home Health Service	0.4%
Psychiatric Utilization				Left Against Medical Advice	0.1%
	_			Expired	2.0%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	6.1%
				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	2	Percent of All Discharges:	0.3%	Medicare	38.6%
Patient Days:	3	Percent of All Patient Days:	0.1%	Medicaid/BadgerCare	11.9%
				Other Government	0.0%
				Commercial or Private Insurance	45.8%
				Self-Pay	3.3%
				Other or Unknown Insurance	0.4%

	Age Distribution	Ĺ		Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	18.4%	10.7%	Male	35.5%	39.7%	Amer.Ind/Alaskan Native	0.7%	0.8%
Under 15	0.6%	0.6%	Female	64.5%	60.3%	Asian	0.1%	0.1%
15 - 19	0.4%	0.4%				Black/African Amer.	0.0%	0.0%
20 - 24	4.2%	2.7%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	15.6%	10.6%				White	95.6%	96.5%
35 - 44	4.2%	3.0%				Multiracial	0.3%	0.6%
45 - 54	3.8%	3.7%				Declined	2.3%	1.5%
55 - 64	10.2%	9.8%				Unavailable	1.0%	0.5%
65 - 74	14.9%	16.1%						
75 - 84	15.7%	24.8%						
85 & Over	12.0%	17.7%						

	This Facil	ity	Group Averages						
			Analys	is Area	Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	12	4.2	4.1	1.02	3.0	1.40	4.5	0.93	
139 Pneumonia	53	4.1	3.7	1.11	3.3	1.24	4.0	1.03	
140 Chronic Obstructive Pulmonary Disease	23	4.6	3.6	1.28	3.3	1.39	3.6	1.28	
194 Heart Failure	23	3.5	4.5	0.78	3.4	1.03	4.6	0.76	
201 Heart Abnormal Rhythm and Conduction Disorders	6	2.5	2.8	0.89	2.6	0.96	2.8	0.89	
301 Hip Replacement	16	2.4	2.2	1.09	1.9	1.26	2.3	1.04	
302 Knee Replacement	39	2.1	2.0	1.05	2.1	1.00	2.0	1.05	
383 Cellulitis & other skin infections	13	4.8	4.0	1.20	3.9	1.23	4.0	1.20	
463 Kidney/Urinary Tract Infection	18	3.1	3.4	0.91	3.0	1.03	3.6	0.86	
469 Acute kidney injury	*	*	4.3	*	2.9	*	4.6	*	
540 Cesarean Delivery	40	2.8	3.9	0.72	3.1	0.90	3.6	0.78	
560 Vaginal Delivery	105	2.0	2.3	0.87	2.0	1.00	2.2	0.91	
640 Normal Newborn, Birthweight 2500g+	126	1.9	2.1	0.90	2.0	0.95	2.1	0.90	
720 Blood Infection/Septicemia	5	3.8	5.5	0.69	3.6	1.06	5.5	0.69	
862 Other Factors Influencing Health Status	27	8.7	6.5	1.34	8.7	1.00	8.7	1.00	

	•	• .	_	•	-	•		
	This Fac	ility			Risk Adjusted	Group Averages	3	
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	Analysi Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$19,962	\$27,470	\$42,179	0.65	\$19,995	1.37	\$36,517	0.75
139 Pneumonia	\$18,385	\$23,114	\$28,774	0.80	\$17,968	1.29	\$26,154	0.88
140 Chronic Obstructive Pulmonary Disease	\$20,861	\$25,770	\$28,251	0.91	\$18,011	1.43	\$23,596	1.09
194 Heart Failure	\$15,854	\$20,193	\$33,598	0.60	\$16,661	1.21	\$29,512	0.68
201 Heart Abnormal Rhythm and Conduction D	Disorders \$10,168	\$13,807	\$23,719	0.58	\$13,360	1.03	\$21,125	0.65
301 Hip Replacement	\$28,128	\$30,049	\$49,942	0.60	\$39,123	0.77	\$50,854	0.59
302 Knee Replacement	\$25,579	\$27,011	\$43,613	0.62	\$39,600	0.68	\$48,781	0.55
383 Cellulitis & other skin infections	\$19,232	\$19,826	\$24,297	0.82	\$15,690	1.26	\$21,953	0.90
463 Kidney/Urinary Tract Infection	\$15,224	\$14,940	\$24,396	0.61	\$12,405	1.20	\$22,097	0.68
469 Acute kidney injury	*	*	\$32,366	*	\$14,450	*	\$29,600	*
540 Cesarean Delivery	\$12,021	\$12,832	\$28,792	0.45	\$20,919	0.61	\$24,895	0.52
560 Vaginal Delivery	\$5,983	\$6,198	\$13,875	0.45	\$8,631	0.72	\$12,167	0.51
640 Normal Newborn, Birthweight 2500g+	\$3,079	\$3,446	\$5,441	0.63	\$4,326	0.80	\$4,719	0.73
720 Blood Infection/Septicemia	\$20,172	\$33,959	\$52,049	0.65	\$20,714	1.64	\$44,340	0.77
862 Other Factors Influencing Health Status	\$12,780	\$16,804	\$21,737	0.77	\$15,162	1.11	\$31,132	0.54

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

063 St Mary's Hospital 700 South Park Street Madison, WI 53715 608-251-6100 Hospital Type: GMS County: Dane

Analysis Area: 1-Southern

Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	20,831	Average Length of Stay (days):	4.7	<u>Discharge Status</u>	% Discharges
Total Patient Days:	97,167	Average Charge per Discharge:	\$45,120	Home or Self-Care	69.7%
Total Fatient Days.	97,107	Average Charge per Discharge.	φ <del>4</del> 5,120	Other GMS Hospital	0.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	1.462	Percent of All Childbirths:	71.5%	Skilled Nursing Facility	11.2%
Cesarean Childbirths:	490	Percent of All Childbirths:	23.9%	Intermediate Care Facility	1.7%
Other Childbirths:	94	Percent of All Childbirths:	4.6%	Inpatient Rehabilitation Facility	0.5%
Total Childbirths:	2,046			Hospice	2.5%
Total Officialities.	2,010			Other Institution	0.1%
Total Newborns:	2,080			Home Health Service	9.9%
Dovobiotrio Utilization				Left Against Medical Advice	0.7%
Psychiatric Utilization				Expired	1.8%
Discharges:	1,031	Percent of All Discharges:	4.9%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	6,200	Percent of All Patient Days:	6.4%	Other	1.4%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	277	Percent of All Discharges:	1.3%	Medicare	46.1%
Patient Days:	1,022	Percent of All Patient Days:	1.1%	Medicaid/BadgerCare	13.9%
				Other Government	3.3%
				Commercial or Private Insurance	35.5%
				Self-Pay	1.3%
				Other or Unknown Insurance	0.0%

	Age Distribution	<u>.</u>		Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	10.0%	9.4%	Male	43.5%	46.5%	Amer.Ind/Alaskan Native	e 0.4%	0.5%
Under 15	1.6%	1.6%	Female	56.5%	53.5%	Asian	1.5%	1.2%
15 - 19	0.9%	0.6%				Black/African Amer.	4.9%	4.8%
20 - 24	2.7%	2.1%				Native Hawaii/Pac.Isl.	0.1%	0.1%
25 - 34	11.0%	8.1%				White	81.8%	81.8%
35 - 44	7.1%	5.7%				Multiracial	0.1%	0.1%
45 - 54	8.1%	8.0%				Declined	1.9%	1.6%
55 - 64	15.1%	15.8%				Unavailable	9.4%	10.0%
65 - 74	17.9%	20.6%						
75 - 84	15.9%	17.7%						
85 & Over	9.7%	10.5%						

	This Facil	ity	Group Averages					
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	349	5.0	4.1	1.22	4.6	1.09	4.2	1.19
133 Respiratory failure	95	4.8	4.1	1.17	4.9	0.98	4.5	1.07
139 Pneumonia	269	4.4	3.7	1.19	4.2	1.05	4.0	1.10
174 Percutaneous coronary intervention w AMI	364	2.9	3.1	0.94	3.0	0.97	3.0	0.97
175 Percutaneous coronary intervention w/o AMI	298	2.9	3.1	0.94	3.1	0.94	3.1	0.94
194 Heart Failure	575	5.0	4.5	1.11	5.0	1.00	4.6	1.09
201 Heart Abnormal Rhythm and Conduction Disorders	299	3.1	2.8	1.11	2.9	1.07	2.8	1.11
301 Hip Replacement	570	2.8	2.2	1.27	2.5	1.12	2.3	1.22
302 Knee Replacement	667	2.2	2.0	1.10	2.1	1.05	2.0	1.10
469 Acute kidney injury	166	5.3	4.3	1.23	5.2	1.02	4.6	1.15
540 Cesarean Delivery	490	4.8	3.9	1.23	4.0	1.20	3.6	1.33
560 Vaginal Delivery	1,462	2.4	2.3	1.04	2.3	1.04	2.2	1.09
640 Normal Newborn, Birthweight 2500g+	1,849	2.3	2.1	1.10	2.2	1.05	2.1	1.10
720 Blood Infection/Septicemia	1,146	6.3	5.5	1.15	6.1	1.03	5.5	1.15
751 Psychoses	371	5.9	5.6	1.05	5.1	1.16	5.1	1.16

		This Fac	ility			Risk Adjusted	Group Averages		
APR-	-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
045	Stroke and Precerebral Occlusion with Infarct	\$50,153	\$49,258	\$44,009	1.12	\$43,048	1.14	\$39,987	1.23
133	Respiratory failure	\$51,156	\$42,884	\$42,179	1.02	\$39,891	1.08	\$36,517	1.17
139	Pneumonia	\$33,978	\$34,658	\$28,774	1.20	\$29,201	1.19	\$26,154	1.33
174	Percutaneous coronary intervention w AMI	\$75,717	\$75,168	\$80,361	0.94	\$73,358	1.02	\$73,175	1.03
175	Percutaneous coronary intervention w/o AMI	\$101,053	\$99,795	\$106,076	0.94	\$109,236	0.91	\$106,404	0.94
194	Heart Failure	\$36,082	\$36,226	\$33,598	1.08	\$32,710	1.11	\$29,512	1.23
201	Heart Abnormal Rhythm and Conduction Disorders	\$25,845	\$25,764	\$23,719	1.09	\$22,164	1.16	\$21,125	1.22
301	Hip Replacement	\$44,144	\$43,437	\$49,942	0.87	\$53,491	0.81	\$50,854	0.85
302	Knee Replacement	\$41,582	\$39,918	\$43,613	0.92	\$52,844	0.76	\$48,781	0.82
469	Acute kidney injury	\$36,696	\$37,124	\$32,366	1.15	\$33,062	1.12	\$29,600	1.25
540	Cesarean Delivery	\$32,194	\$30,159	\$28,792	1.05	\$25,062	1.20	\$24,895	1.21
560	Vaginal Delivery	\$14,937	\$14,585	\$13,875	1.05	\$12,661	1.15	\$12,167	1.20
640	Normal Newborn, Birthweight 2500g+	\$5,939	\$5,541	\$5,441	1.02	\$5,036	1.10	\$4,719	1.17
720	Blood Infection/Septicemia	\$56,582	\$55,951	\$52,049	1.07	\$50,089	1.12	\$44,340	1.26
751	Psychoses	\$18,353	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

061 UnityPoint Health - Meriter 202 South Park Street

Madison, WI 53715

608-417-6000

Hospital Type: GMS County: Dane

Analysis Area: 1-Southern

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	20,501	Average Length of Stay (days):	4.1	Discharge Status	% Discharges
Total Patient Days:	83,206	Average Charge per Discharge:	\$30,581	Home or Self-Care	83.3%
Total Patient Days:	63,200	Average Charge per Discharge:	<b>Ф</b> 30,361	Other GMS Hospital	1.1%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	3,125	Percent of All Childbirths:	66.7%	Skilled Nursing Facility	5.4%
Cesarean Childbirths:	1,270	Percent of All Childbirths:	27.1%	Intermediate Care Facility	0.0%
Other Childbirths:	290	Percent of All Childbirths:	6.2%	Inpatient Rehabilitation Facility	1.1%
Total Childbirths:		r creent of All Offiliabilitis.	0.2 /0	Hospice	1.0%
Total Childbirths.	4,685			Other Institution	0.3%
Total Newborns:	4,812			Home Health Service	5.3%
<b>-</b>				Left Against Medical Advice	0.7%
Psychiatric Utilization				Expired	0.8%
Discharges:	1,355	Percent of All Discharges:	6.6%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	8,051	Percent of All Patient Days:	9.7%	Other	0.9%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	402	Percent of All Discharges:	2.0%	Medicare	26.1%
Patient Days:	1,471	Percent of All Patient Days:	1.8%	Medicaid/BadgerCare	20.6%
•		·		Other Government	0.9%
				Commercial or Private Insurance	50.9%
				Self-Pay	1.5%
				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	23.5%	23.9%	Male	36.2%	39.8%	Amer.Ind/Alaskan Native	0.4%	0.5%	
Under 15	2.3%	3.5%	Female	63.8%	60.2%	Asian	4.7%	4.0%	
15 - 19	2.7%	3.1%				Black/African Amer.	8.8%	9.2%	
20 - 24	4.1%	3.4%				Native Hawaii/Pac.Isl.	0.1%	0.1%	
25 - 34	20.2%	15.7%				White	79.3%	79.4%	
35 - 44	10.2%	8.4%				Multiracial	0.2%	0.2%	
45 - 54	5.8%	6.0%				Declined	0.5%	0.4%	
55 - 64	8.6%	9.2%				Unavailable	6.1%	6.3%	
65 - 74	9.2%	10.9%							
75 - 84	7.9%	9.4%							
85 & Over	5.6%	6.5%							

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	All GMS H	ospitals			
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
045 Stroke and Precerebral Occlusion with Infarct	205	3.2	4.1	0.78	4.6	0.70	4.2	0.76		
133 Respiratory failure	261	4.2	4.1	1.02	4.9	0.86	4.5	0.93		
139 Pneumonia	226	4.1	3.7	1.11	4.2	0.98	4.0	1.03		
174 Percutaneous coronary intervention w AMI	103	2.9	3.1	0.94	3.0	0.97	3.0	0.97		
175 Percutaneous coronary intervention w/o AMI	46	3.2	3.1	1.03	3.1	1.03	3.1	1.03		
194 Heart Failure	521	5.2	4.5	1.16	5.0	1.04	4.6	1.13		
201 Heart Abnormal Rhythm and Conduction Disorders	247	2.9	2.8	1.04	2.9	1.00	2.8	1.04		
301 Hip Replacement	36	5.8	2.2	2.64	2.5	2.32	2.3	2.52		
302 Knee Replacement	5	3.6	2.0	1.80	2.1	1.71	2.0	1.80		
469 Acute kidney injury	206	4.7	4.3	1.09	5.2	0.90	4.6	1.02		
540 Cesarean Delivery	1,270	4.4	3.9	1.13	4.0	1.10	3.6	1.22		
560 Vaginal Delivery	3,125	2.5	2.3	1.09	2.3	1.09	2.2	1.14		
640 Normal Newborn, Birthweight 2500g+	4,226	2.3	2.1	1.10	2.2	1.05	2.1	1.10		
720 Blood Infection/Septicemia	966	5.8	5.5	1.05	6.1	0.95	5.5	1.05		
751 Psychoses	704	5.8	5.6	1.04	5.1	1.14	5.1	1.14		

	•	•	•	•	•					
		This Fac	ility	Risk Adjusted Group Averages						
APR-DRG # and Description		Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group	All GMS Ho Average Charge	ospitals Ratio	
045 Stroke a	and Precerebral Occlusion with Infarct	\$34,424	\$34,139	\$44,009	0.78	\$43,048	0.79	\$39,987	0.85	
133 Respirat	tory failure	\$47,243	\$51,806	\$42,179	1.23	\$39,891	1.30	\$36,517	1.42	
139 Pneumo	onia	\$34,989	\$32,322	\$28,774	1.12	\$29,201	1.11	\$26,154	1.24	
174 Percuta	neous coronary intervention w AMI	\$78,981	\$78,922	\$80,361	0.98	\$73,358	1.08	\$73,175	1.08	
175 Percuta	neous coronary intervention w/o AMI	\$78,012	\$94,970	\$106,076	0.90	\$109,236	0.87	\$106,404	0.89	
194 Heart Fa	ailure	\$39,888	\$37,259	\$33,598	1.11	\$32,710	1.14	\$29,512	1.26	
201 Heart Al	onormal Rhythm and Conduction Disorders	\$22,987	\$22,551	\$23,719	0.95	\$22,164	1.02	\$21,125	1.07	
301 Hip Rep	lacement	\$73,772	\$64,832	\$49,942	1.30	\$53,491	1.21	\$50,854	1.27	
302 Knee Re	eplacement	\$95,666	\$90,701	\$43,613	2.08	\$52,844	1.72	\$48,781	1.86	
469 Acute ki	dney injury	\$33,265	\$34,072	\$32,366	1.05	\$33,062	1.03	\$29,600	1.15	
540 Cesarea	an Delivery	\$30,526	\$29,350	\$28,792	1.02	\$25,062	1.17	\$24,895	1.18	
560 Vaginal	Delivery	\$15,091	\$14,956	\$13,875	1.08	\$12,661	1.18	\$12,167	1.23	
640 Normal	Newborn, Birthweight 2500g+	\$6,441	\$6,372	\$5,441	1.17	\$5,036	1.27	\$4,719	1.35	
720 Blood In	fection/Septicemia	\$60,267	\$57,854	\$52,049	1.11	\$50,089	1.16	\$44,340	1.30	
751 Psychos	ses	\$21,628	#	#	#	#	#	#	#	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 064 UW Hospital and Clinics Authority

600 Highland Avenue

Madison, WI 53792

608-263-6400

Hospital Type: GMS
County: Dane
Analysis Area: 1-Southern

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>IS</u>
Total Discharges:	29,865	Average Length of Stay (days):	5.4	Discharge Status	% Discharges
Total Patient Days:	159,782	Average Charge per Discharge:	\$75,450	Home or Self-Care	68.6%
Total Fatient Days.	159,762	Average Charge per Discharge.	φ <i>1</i> 3,430	Other GMS Hospital	0.5%
<b>Obstetrical Utilization</b>				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	8.8%
Cesarean Childbirths:	1	Percent of All Childbirths:	100.0%	Intermediate Care Facility	1.4%
Other Childbirths:	. 0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	2.7%
Total Childbirths:	1		0.070	Hospice	1.6%
rotal Officialitis.				Other Institution	0.0%
Total Newborns:	1			Home Health Service	9.8%
Dovebietrie Utilization				Left Against Medical Advice	0.6%
Psychiatric Utilization				Expired	2.4%
Discharges:	1,217	Percent of All Discharges:	4.1%	Discharge/Tran to Court/Law Enforcmnt	0.8%
Patient Days:	5,451	Percent of All Patient Days:	3.4%	Other	2.9%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	403	Percent of All Discharges:	1.3%	Medicare	41.9%
Patient Days:	1,351	Percent of All Patient Days:	0.8%	Medicaid/BadgerCare	14.5%
				Other Government	1.8%
				Commercial or Private Insurance	40.2%
				Self-Pay	1.6%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days		
Newborn	0.0%	0.0%	Male	52.3%	55.3%	Amer.Ind/Alaskan Native	e 0.7%	0.8%		
Under 15	9.6%	9.9%	Female	47.7%	44.7%	Asian	1.7%	1.6%		
15 - 19	2.8%	2.2%				Black/African Amer.	5.9%	6.3%		
20 - 24	2.8%	2.5%				Native Hawaii/Pac.Isl.	0.1%	0.1%		
25 - 34	7.0%	6.9%				White	88.9%	88.6%		
35 - 44	9.1%	8.7%				Multiracial	1.0%	0.9%		
45 - 54	12.8%	12.8%				Declined	1.3%	1.5%		
55 - 64	20.5%	20.8%				Unavailable	0.4%	0.3%		
65 - 74	19.6%	20.5%								
75 - 84	11.0%	11.0%								
85 & Over	4.9%	4.6%								

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
045 Stroke and Precerebral Occlusion with Infarct	327	4.8	4.1	1.17	4.6	1.04	4.2	1.14		
133 Respiratory failure	405	4.1	4.1	1.00	4.9	0.84	4.5	0.91		
139 Pneumonia	305	3.7	3.7	1.00	4.2	0.88	4.0	0.93		
174 Percutaneous coronary intervention w AMI	410	3.0	3.1	0.97	3.0	1.00	3.0	1.00		
175 Percutaneous coronary intervention w/o AMI	414	3.0	3.1	0.97	3.1	0.97	3.1	0.97		
194 Heart Failure	587	5.2	4.5	1.16	5.0	1.04	4.6	1.13		
201 Heart Abnormal Rhythm and Conduction Disorders	239	3.1	2.8	1.11	2.9	1.07	2.8	1.11		
301 Hip Replacement	900	1.9	2.2	0.86	2.5	0.76	2.3	0.83		
302 Knee Replacement	371	2.0	2.0	1.00	2.1	0.95	2.0	1.00		
469 Acute kidney injury	299	4.9	4.3	1.14	5.2	0.94	4.6	1.07		
540 Cesarean Delivery	*	*	3.9	*	4.0	*	3.6	*		
560 Vaginal Delivery	0	N/A	2.3	N/A	2.3	N/A	2.2	N/A		
640 Normal Newborn, Birthweight 2500g+	80	1.7	2.1	0.81	2.2	0.77	2.1	0.81		
720 Blood Infection/Septicemia	1,262	6.5	5.5	1.18	6.1	1.07	5.5	1.18		
751 Psychoses	322	4.4	5.6	0.79	5.1	0.86	5.1	0.86		

•	_	• .	•	•	-	•				
	This Fac	ility	Risk Adjusted Group Averages							
DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
Stroke and Precerebral Occlusion with Infarct	\$55,998	\$51,809	\$44,009	1.18	\$43,048	1.20	\$39,987	1.30		
Respiratory failure	\$44,383	\$46,053	\$42,179	1.09	\$39,891	1.15	\$36,517	1.26		
Pneumonia	\$34,140	\$30,906	\$28,774	1.07	\$29,201	1.06	\$26,154	1.18		
Percutaneous coronary intervention w AMI	\$69,895	\$70,585	\$80,361	0.88	\$73,358	0.96	\$73,175	0.96		
Percutaneous coronary intervention w/o AMI	\$116,726	\$102,732	\$106,076	0.97	\$109,236	0.94	\$106,404	0.97		
Heart Failure	\$38,648	\$35,182	\$33,598	1.05	\$32,710	1.08	\$29,512	1.19		
Heart Abnormal Rhythm and Conduction Disorders	\$29,623	\$26,190	\$23,719	1.10	\$22,164	1.18	\$21,125	1.24		
Hip Replacement	\$54,020	\$54,490	\$49,942	1.09	\$53,491	1.02	\$50,854	1.07		
Knee Replacement	\$51,009	\$52,100	\$43,613	1.19	\$52,844	0.99	\$48,781	1.07		
Acute kidney injury	\$35,417	\$34,281	\$32,366	1.06	\$33,062	1.04	\$29,600	1.16		
Cesarean Delivery	*	*	\$28,792	*	\$25,062	*	\$24,895	*		
Vaginal Delivery	N/A	N/A	\$13,875	*	\$12,661	*	\$12,167	*		
Normal Newborn, Birthweight 2500g+	\$12,778	\$9,210	\$5,441	1.69	\$5,036	1.83	\$4,719	1.95		
Blood Infection/Septicemia	\$69,386	\$59,130	\$52,049	1.14	\$50,089	1.18	\$44,340	1.33		
Psychoses	\$15,919	#	#	#	#	#	#	#		
	DRG # and Description  Stroke and Precerebral Occlusion with Infarct Respiratory failure Pneumonia Percutaneous coronary intervention w AMI Percutaneous coronary intervention w/o AMI Heart Failure Heart Abnormal Rhythm and Conduction Disorders Hip Replacement Knee Replacement Acute kidney injury Cesarean Delivery Vaginal Delivery Normal Newborn, Birthweight 2500g+ Blood Infection/Septicemia Psychoses	Average Charge  DRG # and Description  Stroke and Precerebral Occlusion with Infarct  Respiratory failure  Percutaneous coronary intervention w AMI  Percutaneous coronary intervention w/o AMI  Heart Failure  Heart Abnormal Rhythm and Conduction Disorders  Hip Replacement  Knee Replacement  Standon  Knee Replacement  Standon  Standon	Adjusted Average Charge DRG # and Description Charge Charge Charge  Stroke and Precerebral Occlusion with Infarct \$55,998 \$51,809 Respiratory failure \$44,383 \$46,053 Pneumonia \$34,140 \$30,906 Percutaneous coronary intervention w AMI \$69,895 \$70,585 Percutaneous coronary intervention w/o AMI \$116,726 \$102,732 Heart Failure \$38,648 \$35,182 Heart Abnormal Rhythm and Conduction Disorders \$29,623 \$26,190 Hip Replacement \$54,020 \$54,490 Knee Replacement \$51,009 \$52,100 Acute kidney injury \$35,417 \$34,281 Cesarean Delivery \$ * * * Vaginal Delivery N/A N/A Normal Newborn, Birthweight 2500g+ \$12,778 \$9,210 Blood Infection/Septicemia \$69,386 \$59,130	Risk Adjusted Average Average Charge   Average Charge   Average Charge   Average Charge   Average Charge   Average Charge   Cha	Risk Adjusted Average Average Average Charge Charge Charge Charge Charge Charge Charge Charge Ratio	Risk Adjusted Average   Average Charge   Charg	Risk Adjusted Average   Average Charge   Charg	Risk Adjusted Average DRG # and Description		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

178 Holy Family Memorial Inc 2300 Western Ave, PO Box 1450 Manitowoc, WI 54221

920-320-2011

Hospital Type: GMS
County: Manitowoc

Analysis Area: 4-Northeastern

Overall Hospital Utilization			Patient Discharge Statu	<u>s</u>
Total Discharges: 2,6	Average Length of Stay (days):	3.4	Discharge Status	% Discharges
Total Patient Days: 9,0	37 Average Charge per Discharge:	\$32,477	Home or Self-Care	52.7%
otal i atletti bays.	Werage onlinge per bisorialige.	Ψ02,477	Other GMS Hospital	3.5%
Obstetrical Utilization			Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	77 Percent of All Childbirths:	62.6%	Skilled Nursing Facility	22.1%
	Percent of All Childbirths:	33.3%	Intermediate Care Facility	0.2%
Other Childbirths:	5 Percent of All Childbirths:	4.1%	Inpatient Rehabilitation Facility	1.0%
Total Childbirths: 1	<u></u>		Hospice	1.7%
Total Novek amore	14		Other Institution	0.0%
Total Newborns: 1	21		Home Health Service	15.0%
Psychiatric Utilization			Left Against Medical Advice Expired	0.8% 2.1%
Discharges:	5 Percent of All Discharges:	0.2%	Discharge/Tran to Court/Law Enforcmnt	0.2%
· ·	Percent of All Patient Days:	0.4%	Other	0.8%
r diioni bays.	72 Torochi or All Falloni Bays.	0.470		
AODA Utilization			Expected Pay Source Distrib	
			Primary Payer	% Discharges
<b>J</b>	Percent of All Discharges:	1.4%	Medicare	63.9%
Patient Days: 1	Percent of All Patient Days:	1.2%	Medicaid/BadgerCare	11.7%
			Other Government	1.6%
			Commercial or Private Insurance	21.2%
			Self-Pay	1.7%
			Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	4.5%	3.1%	Male	44.4%	45.1%	Amer.Ind/Alaskan Native	0.2%	0.1%	
Under 15	0.4%	0.1%	Female	55.6%	54.9%	Asian	1.8%	1.4%	
15 - 19	0.9%	0.6%				Black/African Amer.	1.9%	1.6%	
20 - 24	2.3%	1.4%				Native Hawaii/Pac.Isl.	0.1%	0.1%	
25 - 34	5.6%	4.2%				White	95.5%	96.3%	
35 - 44	4.8%	3.9%				Multiracial	0.1%	0.0%	
45 - 54	9.4%	8.6%				Declined	0.3%	0.2%	
55 - 64	16.2%	15.5%				Unavailable	0.2%	0.2%	
65 - 74	22.2%	23.9%							
75 - 84	18.9%	21.3%							
85 & Over	14.8%	17.4%							

	This Facility Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	22	3.8	4.2	0.90	4.5	0.84	4.5	0.84
139 Pneumonia	112	3.5	3.7	0.95	4.2	0.83	4.0	0.88
140 Chronic Obstructive Pulmonary Disease	40	3.3	3.5	0.94	3.6	0.92	3.6	0.92
174 Percutaneous coronary intervention w AMI	49	2.0	2.6	0.77	3.0	0.67	3.0	0.67
194 Heart Failure	175	4.1	4.1	1.00	4.6	0.89	4.6	0.89
201 Heart Abnormal Rhythm and Conduction Disorders	54	2.1	2.6	0.81	2.9	0.72	2.8	0.75
301 Hip Replacement	247	2.8	1.8	1.56	2.2	1.27	2.3	1.22
302 Knee Replacement	312	2.6	1.9	1.37	2.0	1.30	2.0	1.30
469 Acute kidney injury	57	3.6	4.2	0.86	4.7	0.77	4.6	0.78
540 Cesarean Delivery	41	3.0	3.5	0.86	3.3	0.91	3.6	0.83
560 Vaginal Delivery	77	2.0	2.0	1.00	2.1	0.95	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	124	2.2	2.0	1.10	2.1	1.05	2.1	1.05
720 Blood Infection/Septicemia	110	4.9	4.9	1.00	5.5	0.89	5.5	0.89
751 Psychoses	*	*	4.3	*	4.7	*	5.1	*
775 Alcohol Abuse/Dependence	26	3.4	3.4	1.00	3.8	0.89	3.7	0.92

				<del>.</del> .				
	This Fac	-			Risk Adjusted	Group Averages		
ADD DDC # and Department	Average	Risk Adjusted Average	Analysi Average	s Area Ratio	Average	olume Group	All GMS Ho	espitals Ratio
APR-DRG # and Description	Charge	Charge	Charge	Ratio	Charge	Ratio	Charge	Ratio
133 Respiratory failure	\$25,462	\$28,870	\$30,641	0.94	\$35,487	0.81	\$36,517	0.79
139 Pneumonia	\$19,276	\$20,999	\$22,549	0.93	\$27,529	0.76	\$26,154	0.80
140 Chronic Obstructive Pulmonary Disease	\$16,461	\$18,933	\$21,356	0.89	\$23,968	0.79	\$23,596	0.80
174 Percutaneous coronary intervention w AMI	\$65,048	\$68,076	\$65,348	1.04	\$72,860	0.93	\$73,175	0.93
194 Heart Failure	\$20,303	\$21,706	\$23,636	0.92	\$28,982	0.75	\$29,512	0.74
201 Heart Abnormal Rhythm and Conduction Disorders	\$16,412	\$18,161	\$19,122	0.95	\$21,611	0.84	\$21,125	0.86
301 Hip Replacement	\$47,119	\$47,256	\$42,625	1.11	\$52,206	0.91	\$50,854	0.93
302 Knee Replacement	\$56,019	\$52,804	\$49,816	1.06	\$50,848	1.04	\$48,781	1.08
469 Acute kidney injury	\$17,308	\$21,048	\$24,682	0.85	\$29,340	0.72	\$29,600	0.71
540 Cesarean Delivery	\$22,096	\$22,906	\$21,046	1.09	\$25,613	0.89	\$24,895	0.92
560 Vaginal Delivery	\$9,520	\$9,849	\$9,723	1.01	\$12,456	0.79	\$12,167	0.81
640 Normal Newborn, Birthweight 2500g+	\$4,061	\$4,600	\$4,395	1.05	\$4,463	1.03	\$4,719	0.97
720 Blood Infection/Septicemia	\$31,646	\$32,034	\$36,072	0.89	\$41,728	0.77	\$44,340	0.72
751 Psychoses	*	#	#	*	#	*	#	*
775 Alcohol Abuse/Dependence	\$26,065	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 067 Aurora Medical Center - Bay Area

**3003 University Drive** 

Marinette, WI 54143

Inpatient Volume Group: 4

Hospital Type: GMS

County: Marinette

Analysis Area: 4-Northeastern

715-735-6621

Overall Hospital Utilization				Patient Discharge Statu	<u>ıs</u>
Total Discharges:	2,957	Average Length of Stay (days):	3.4	<u>Discharge Status</u>	% Discharges
Total Patient Days:	10,040	Average Charge per Discharge:	\$28,535	Home or Self-Care	58.7%
Total Fatient Bays.	10,040	Average onlinge per bisonarge.	Ψ20,000	Other GMS Hospital	6.4%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	127	Percent of All Childbirths:	63.2%	Skilled Nursing Facility	19.4%
Cesarean Childbirths:	67	Percent of All Childbirths:	33.3%	Intermediate Care Facility	0.9%
Other Childbirths:	7	Percent of All Childbirths:	3.5%	Inpatient Rehabilitation Facility	0.1%
Total Childbirths:	201			Hospice	1.9%
				Other Institution	0.0%
Total Newborns:	197			Home Health Service	9.7%
Psychiatric Utilization				Left Against Medical Advice	1.4%
	_			Expired	0.9%
Discharges:	6	Percent of All Discharges:	0.2%	Discharge/Tran to Court/Law Enforcmnt	0.2%
Patient Days:	19	Percent of All Patient Days:	0.2%	Other	0.2%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	46	Percent of All Discharges:	1.6%	Medicare	60.7%
Patient Days:	123	Percent of All Patient Days:	1.2%	Medicaid/BadgerCare	11.1%
				Other Government	4.2%
				Commercial or Private Insurance	18.9%
				Self-Pay	4.9%
				Other or Unknown Insurance	0.1%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	6.7%	5.0%	Male	47.7%	48.5%	Amer.Ind/Alaskan Native	0.8%	1.0%
Under 15	0.9%	0.5%	Female	52.3%	51.5%	Asian	0.2%	0.1%
15 - 19	0.8%	0.5%				Black/African Amer.	0.5%	0.3%
20 - 24	1.9%	1.5%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	6.5%	4.9%				White	96.4%	96.4%
35 - 44	5.3%	3.7%				Multiracial	0.1%	0.1%
45 - 54	7.8%	6.6%				Declined	0.0%	0.0%
55 - 64	14.1%	15.0%				Unavailable	2.0%	2.0%
65 - 74	19.5%	22.1%						
75 - 84	21.5%	23.2%						
85 & Over	14.9%	17.0%						

	This Facil	ity	Group Averages						
			<u>Analysis Area</u>		Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	133	3.8	4.2	0.90	3.6	1.06	4.5	0.84	
139 Pneumonia	156	4.1	3.7	1.11	3.5	1.17	4.0	1.03	
140 Chronic Obstructive Pulmonary Disease	41	2.7	3.5	0.77	3.2	0.84	3.6	0.75	
194 Heart Failure	194	4.3	4.1	1.05	3.6	1.19	4.6	0.93	
201 Heart Abnormal Rhythm and Conduction Disorders	130	3.1	2.6	1.19	2.5	1.24	2.8	1.11	
301 Hip Replacement	30	3.5	1.8	1.94	1.9	1.84	2.3	1.52	
302 Knee Replacement	*	*	1.9	*	1.7	*	2.0	*	
383 Cellulitis & other skin infections	56	3.3	3.6	0.92	3.5	0.94	4.0	0.83	
463 Kidney/Urinary Tract Infection	57	3.1	3.0	1.03	3.1	1.00	3.6	0.86	
469 Acute kidney injury	61	3.3	4.2	0.79	3.3	1.00	4.6	0.72	
540 Cesarean Delivery	67	3.0	3.5	0.86	2.9	1.03	3.6	0.83	
560 Vaginal Delivery	127	2.3	2.0	1.15	2.0	1.15	2.2	1.05	
640 Normal Newborn, Birthweight 2500g+	189	2.4	2.0	1.20	1.9	1.26	2.1	1.14	
720 Blood Infection/Septicemia	433	4.1	4.9	0.84	4.2	0.98	5.5	0.75	
775 Alcohol Abuse/Dependence	41	2.8	3.4	0.82	3.7	0.76	3.7	0.76	

_	• .	•	•	-	•		
This Fac	ility			Risk Adjusted	Group Averages		
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
\$31,277	\$34,363	\$30,641	1.12	\$31,273	1.10	\$36,517	0.94
\$30,834	\$28,649	\$22,549	1.27	\$23,233	1.23	\$26,154	1.10
\$24,294	\$24,589	\$21,356	1.15	\$21,959	1.12	\$23,596	1.04
\$31,279	\$29,576	\$23,636	1.25	\$25,091	1.18	\$29,512	1.00
\$25,704	\$25,098	\$19,122	1.31	\$19,443	1.29	\$21,125	1.19
\$60,813	\$57,566	\$42,625	1.35	\$45,617	1.26	\$50,854	1.13
*	*	\$49,816	*	\$43,239	*	\$48,781	*
\$19,975	\$19,746	\$17,982	1.10	\$19,644	1.01	\$21,953	0.90
\$24,843	\$23,724	\$17,446	1.36	\$19,748	1.20	\$22,097	1.07
\$25,626	\$26,674	\$24,682	1.08	\$23,728	1.12	\$29,600	0.90
\$25,118	\$27,155	\$21,046	1.29	\$24,480	1.11	\$24,895	1.09
\$10,132	\$9,561	\$9,723	0.98	\$11,116	0.86	\$12,167	0.79
\$5,860	\$6,178	\$4,395	1.41	\$4,155	1.49	\$4,719	1.31
\$32,886	\$31,230	\$36,072	0.87	\$33,720	0.93	\$44,340	0.70
\$18,489	#	#	#	#	#	#	#
	Average Charge \$31,277 \$30,834 \$24,294 \$31,279 \$25,704 \$60,813 * \$19,975 \$24,843 \$25,626 \$25,118 \$10,132 \$5,860 \$32,886	Adjusted Average Charge Charge Charge Charge Charge  \$31,277 \$34,363 \$30,834 \$28,649 \$24,294 \$24,589 \$31,279 \$29,576 \$25,704 \$25,098 \$60,813 \$57,566 ** * * \$19,975 \$19,746 \$24,843 \$23,724 \$25,626 \$26,674 \$25,118 \$27,155 \$10,132 \$9,561 \$5,860 \$6,178 \$32,886 \$31,230	Risk Adjusted Average Charge S31,277 \$34,363 \$30,641 \$22,549 \$22,549 \$22,549 \$21,356 \$31,279 \$29,576 \$23,636 \$25,704 \$25,098 \$19,122 \$60,813 \$57,566 \$42,625 \$49,816 \$19,975 \$19,746 \$17,982 \$24,843 \$23,724 \$17,446 \$25,626 \$26,674 \$24,682 \$25,118 \$27,155 \$21,046 \$10,132 \$9,561 \$9,723 \$5,860 \$6,178 \$4,395 \$32,886 \$31,230 \$36,072	Risk Adjusted Average Charge Ratio  \$31,277 \$34,363 \$30,641 1.12 \$30,834 \$28,649 \$22,549 1.27 \$24,294 \$24,589 \$21,356 1.15 \$31,279 \$29,576 \$23,636 1.25 \$25,704 \$25,098 \$19,122 1.31 \$60,813 \$57,566 \$42,625 1.35 * * * \$49,816 * * \$19,975 \$19,746 \$17,982 1.10 \$24,843 \$23,724 \$17,446 1.36 \$25,626 \$26,674 \$24,682 1.08 \$25,118 \$27,155 \$21,046 1.29 \$10,132 \$9,561 \$9,723 0.98 \$5,860 \$6,178 \$4,395 1.41 \$32,886 \$31,230 \$36,072 0.87	Risk Adjusted Average Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Sal, 273 \$30,834 \$28,649 \$22,549 1.27 \$23,233 \$24,294 \$24,589 \$21,356 1.15 \$21,959 \$31,279 \$29,576 \$23,636 1.25 \$25,091 \$25,704 \$25,098 \$19,122 1.31 \$19,443 \$60,813 \$57,566 \$42,625 1.35 \$45,617 * \$49,816 * \$43,239 \$19,975 \$19,746 \$17,982 1.10 \$19,644 \$24,843 \$23,724 \$17,446 1.36 \$19,748 \$25,626 \$26,674 \$24,682 1.08 \$23,728 \$25,118 \$27,155 \$21,046 1.29 \$24,480 \$10,132 \$9,561 \$9,723 0.98 \$11,116 \$5,860 \$6,178 \$4,395 1.41 \$4,155 \$32,886 \$31,230 \$36,072 0.87 \$33,720	Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio  \$31,277 \$34,363 \$30,641 1.12 \$31,273 1.10 \$30,834 \$28,649 \$22,549 1.27 \$23,233 1.23 \$24,294 \$24,589 \$21,356 1.15 \$21,959 1.12 \$31,279 \$29,576 \$23,636 1.25 \$25,091 1.18 \$25,704 \$25,098 \$19,122 1.31 \$19,443 1.29 \$60,813 \$57,566 \$42,625 1.35 \$45,617 1.26 ** * * \$49,816 * \$43,239 * \$19,975 \$19,746 \$17,982 1.10 \$19,644 1.01 \$24,843 \$23,724 \$17,446 1.36 \$19,748 1.20 \$25,626 \$26,674 \$24,682 1.08 \$23,728 1.12 \$25,118 \$27,155 \$21,046 1.29 \$24,480 1.11 \$10,132 \$9,561 \$9,723 0.98 \$11,116 0.86 \$5,860 \$6,178 \$43,395 1.41 \$4,155 1.49 \$32,886 \$31,230 \$36,072 0.87 \$33,720 0.93	Risk Adjusted Charge         Average Charge         Average Charge         Average Charge         Average Charge         Average Charge Charge         Ratio         All GMS Howard Charge Ch

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

### 069 Marshfield Medical Center

611 St Joseph Avenue

Marshfield, WI 54449

715-387-1713

Hospital Type: GMS
County: Wood

Analysis Area: 6-North Central

Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	13,824	Average Length of Stay (days):	5.0	<u>Discharge Status</u>	% Discharges
Total Patient Days:	68,613	Average Charge per Discharge:	\$45,089	Home or Self-Care	73.1%
Total Fatient Days.	00,013	Average onlarge per Discharge.	Ψ+3,003	Other GMS Hospital	0.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	591	Percent of All Childbirths:	63.1%	Skilled Nursing Facility	12.6%
Cesarean Childbirths:	284	Percent of All Childbirths:	30.3%	Intermediate Care Facility	1.7%
Other Childbirths:	62	Percent of All Childbirths:	6.6%	Inpatient Rehabilitation Facility	1.0%
Total Childbirths:	937			Hospice	1.5%
				Other Institution	0.0%
Total Newborns:	979			Home Health Service	5.2%
Psychiatric Utilization				Left Against Medical Advice	0.8%
				Expired	2.7%
Discharges:	40	Percent of All Discharges:	0.3%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	251	Percent of All Patient Days:	0.4%	Other	0.6%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	109	Percent of All Discharges:	0.8%	Medicare	51.3%
Patient Days:	468	Percent of All Patient Days:	0.7%	Medicaid/BadgerCare	17.4%
				Other Government	2.0%
				Commercial or Private Insurance	23.4%
				Self-Pay	1.7%
				Other or Unknown Insurance	4.1%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	7.1%	7.6%	Male	49.8%	53.4%	Amer.Ind/Alaskan Native	e 1.4%	1.4%
Under 15	8.2%	7.3%	Female	50.2%	46.6%	Asian	0.9%	0.8%
15 - 19	2.0%	1.5%				Black/African Amer.	1.0%	1.1%
20 - 24	2.6%	2.2%				Native Hawaii/Pac.Isl.	0.2%	0.4%
25 - 34	6.8%	5.2%				White	91.3%	91.1%
35 - 44	5.4%	4.3%				Multiracial	0.0%	0.0%
45 - 54	6.6%	6.5%				Declined	0.4%	0.4%
55 - 64	14.1%	15.3%				Unavailable	4.8%	4.8%
65 - 74	19.4%	21.7%						
75 - 84	17.9%	18.4%						
85 & Over	9.9%	10.0%						

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
045 Stroke and Precerebral Occlusion with Infarct	205	5.0	4.4	1.14	4.6	1.09	4.2	1.19		
133 Respiratory failure	122	5.5	4.1	1.34	4.9	1.12	4.5	1.22		
139 Pneumonia	188	4.1	3.8	1.08	4.2	0.98	4.0	1.03		
174 Percutaneous coronary intervention w AMI	188	3.4	3.1	1.10	3.0	1.13	3.0	1.13		
175 Percutaneous coronary intervention w/o AMI	210	3.2	3.0	1.07	3.1	1.03	3.1	1.03		
194 Heart Failure	440	4.9	4.2	1.17	5.0	0.98	4.6	1.07		
201 Heart Abnormal Rhythm and Conduction Disorders	318	2.7	2.6	1.04	2.9	0.93	2.8	0.96		
301 Hip Replacement	246	2.6	2.2	1.18	2.5	1.04	2.3	1.13		
302 Knee Replacement	175	1.7	1.7	1.00	2.1	0.81	2.0	0.85		
469 Acute kidney injury	163	4.5	4.1	1.10	5.2	0.87	4.6	0.98		
540 Cesarean Delivery	284	5.4	3.8	1.42	4.0	1.35	3.6	1.50		
560 Vaginal Delivery	591	2.4	2.1	1.14	2.3	1.04	2.2	1.09		
640 Normal Newborn, Birthweight 2500g+	838	2.3	2.1	1.10	2.2	1.05	2.1	1.10		
720 Blood Infection/Septicemia	507	6.6	5.5	1.20	6.1	1.08	5.5	1.20		
751 Psychoses	*	*	4.3	*	5.1	*	5.1	*		

	•	_	• .	•	•	-	•				
This Facility			ility	Risk Adjusted Group Averages							
APR-DRG # and Description		Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
045	Stroke and Precerebral Occlusion with Infarct	\$38,764	\$38,387	\$33,526	1.14	\$43,048	0.89	\$39,987	0.96		
133	Respiratory failure	\$36,117	\$35,401	\$28,209	1.25	\$39,891	0.89	\$36,517	0.97		
139	Pneumonia	\$25,155	\$26,287	\$21,418	1.23	\$29,201	0.90	\$26,154	1.01		
174	Percutaneous coronary intervention w AMI	\$70,388	\$71,464	\$64,564	1.11	\$73,358	0.97	\$73,175	0.98		
175	Percutaneous coronary intervention w/o AMI	\$108,848	\$103,865	\$90,269	1.15	\$109,236	0.95	\$106,404	0.98		
194	Heart Failure	\$26,893	\$29,151	\$23,893	1.22	\$32,710	0.89	\$29,512	0.99		
201	Heart Abnormal Rhythm and Conduction Disorders	\$16,618	\$17,742	\$17,528	1.01	\$22,164	0.80	\$21,125	0.84		
301	Hip Replacement	\$62,070	\$61,190	\$44,625	1.37	\$53,491	1.14	\$50,854	1.20		
302	Knee Replacement	\$53,291	\$53,334	\$42,608	1.25	\$52,844	1.01	\$48,781	1.09		
469	Acute kidney injury	\$28,902	\$31,160	\$24,143	1.29	\$33,062	0.94	\$29,600	1.05		
540	Cesarean Delivery	\$29,040	\$28,200	\$24,073	1.17	\$25,062	1.13	\$24,895	1.13		
560	Vaginal Delivery	\$12,420	\$12,626	\$10,079	1.25	\$12,661	1.00	\$12,167	1.04		
640	Normal Newborn, Birthweight 2500g+	\$7,337	\$7,306	\$5,603	1.30	\$5,036	1.45	\$4,719	1.55		
720	Blood Infection/Septicemia	\$46,429	\$46,435	\$34,953	1.33	\$50,089	0.93	\$44,340	1.05		
751	Psychoses	*	#	#	*	#	*	#	*		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

070 Mile Bluff Medical Center 1050 Division Street

Mauston, WI 53948 608-847-6161 Hospital Type: GMS County: Juneau

Analysis Area: 6-North Central

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	929	Average Length of Stay (days):	2.8	Discharge Status	% Discharges
Total Patient Days:	2,592	Average Charge per Discharge:	\$23,639	Home or Self-Care	70.5%
Total Fatient Days.	2,552	Average onlarge per bischarge.	Ψ20,009	Other GMS Hospital	5.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths:	79	Percent of All Childbirths:	65.8%	Skilled Nursing Facility	19.5%
Cesarean Childbirths:	26	Percent of All Childbirths:	21.7%	Intermediate Care Facility	0.0%
Other Childbirths:	15	Percent of All Childbirths:	12.5%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	120			Hospice	0.5%
				Other Institution	0.0%
Total Newborns:	124			Home Health Service	0.0%
Psychiatric Utilization				Left Against Medical Advice	0.3%
r sycinative offization				Expired	1.1%
Discharges:	2	Percent of All Discharges:	0.2%	Discharge/Tran to Court/Law Enforcmnt	1.8%
Patient Days:	5	Percent of All Patient Days:	0.2%	Other	0.3%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	4	Percent of All Discharges:	0.4%	Medicare	51.6%
Patient Days:	16	Percent of All Patient Days:	0.6%	Medicaid/BadgerCare	23.8%
				Other Government	2.2%
				Commercial or Private Insurance	19.5%
				Self-Pay	3.0%
				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Race	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	13.3%	8.3%	Male	40.9%	42.5%	Amer.Ind/Alaskan Native	0.8%	0.5%
Under 15	0.5%	0.3%	Female	59.1%	57.5%	Asian	0.1%	0.2%
15 - 19	0.8%	0.6%				Black/African Amer.	1.1%	0.9%
20 - 24	5.0%	3.7%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	9.0%	7.3%				White	93.3%	95.2%
35 - 44	3.4%	2.4%				Multiracial	0.1%	0.1%
45 - 54	7.0%	6.7%				Declined	0.0%	0.0%
55 - 64	11.5%	12.7%				Unavailable	4.6%	3.1%
65 - 74	18.1%	20.9%						
75 - 84	18.0%	20.0%						
85 & Over	13.3%	17.0%						

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	23	2.4	4.1	0.59	3.2	0.75	4.5	0.53		
139 Pneumonia	63	2.9	3.8	0.76	3.3	0.88	4.0	0.73		
140 Chronic Obstructive Pulmonary Disease	18	2.5	3.4	0.74	2.9	0.86	3.6	0.69		
194 Heart Failure	33	2.9	4.2	0.69	3.4	0.85	4.6	0.63		
201 Heart Abnormal Rhythm and Conduction Disorders	12	2.8	2.6	1.08	2.3	1.22	2.8	1.00		
247 Intestinal Obstruction without Surgery	12	2.3	3.5	0.66	2.7	0.85	3.5	0.66		
301 Hip Replacement	28	3.0	2.2	1.36	2.1	1.43	2.3	1.30		
302 Knee Replacement	45	2.6	1.7	1.53	1.9	1.37	2.0	1.30		
383 Cellulitis & other skin infections	19	2.7	3.6	0.75	3.6	0.75	4.0	0.68		
463 Kidney/Urinary Tract Infection	26	2.7	3.4	0.79	2.9	0.93	3.6	0.75		
469 Acute kidney injury	8	2.3	4.1	0.56	2.8	0.82	4.6	0.50		
540 Cesarean Delivery	26	2.8	3.8	0.74	3.0	0.93	3.6	0.78		
560 Vaginal Delivery	79	1.8	2.1	0.86	1.9	0.95	2.2	0.82		
640 Normal Newborn, Birthweight 2500g+	116	1.8	2.1	0.86	2.0	0.90	2.1	0.86		
720 Blood Infection/Septicemia	19	3.4	5.5	0.62	3.6	0.94	5.5	0.62		

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Vo Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$24,542	\$30,436	\$28,209	1.08	\$22,058	1.38	\$36,517	0.83
139 Pneumonia	\$24,407	\$29,947	\$21,418	1.40	\$18,736	1.60	\$26,154	1.15
140 Chronic Obstructive Pulmonary Disease	\$22,319	\$24,933	\$20,180	1.24	\$16,687	1.49	\$23,596	1.06
194 Heart Failure	\$23,779	\$27,715	\$23,893	1.16	\$18,675	1.48	\$29,512	0.94
201 Heart Abnormal Rhythm and Conduction Disorders	\$27,080	\$25,555	\$17,528	1.46	\$13,920	1.84	\$21,125	1.21
247 Intestinal Obstruction without Surgery	\$19,040	\$23,203	\$19,263	1.20	\$13,214	1.76	\$21,879	1.06
301 Hip Replacement	\$41,547	\$43,311	\$44,625	0.97	\$43,894	0.99	\$50,854	0.85
302 Knee Replacement	\$40,982	\$42,657	\$42,608	1.00	\$45,311	0.94	\$48,781	0.87
383 Cellulitis & other skin infections	\$23,420	\$24,826	\$18,077	1.37	\$16,011	1.55	\$21,953	1.13
463 Kidney/Urinary Tract Infection	\$20,070	\$21,589	\$18,556	1.16	\$13,197	1.64	\$22,097	0.98
469 Acute kidney injury	\$20,070	\$23,995	\$24,143	0.99	\$14,980	1.60	\$29,600	0.81
540 Cesarean Delivery	\$21,888	\$21,080	\$24,073	0.88	\$21,375	0.99	\$24,895	0.85
560 Vaginal Delivery	\$10,438	\$10,645	\$10,079	1.06	\$8,800	1.21	\$12,167	0.87
640 Normal Newborn, Birthweight 2500g+	\$3,226	\$3,308	\$5,603	0.59	\$3,780	0.88	\$4,719	0.70
720 Blood Infection/Septicemia	\$24,911	\$37,636	\$34,953	1.08	\$23,568	1.60	\$44,340	0.85

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

071 Aspirus Medford Hospital & Clinics, Inc

9.5%

13.4%

85 & Over

135 S Gibson Street

Medford, WI 54451

715-748-8100 Inpatient Volume Group: 2

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>s</u>
Total Discharges:	825	Average Length of Stay (days):	3.1	<u>Discharge Status</u>	% Discharges
Total Patient Days:	2,543	Average Charge per Discharge:	\$15,742	Home or Self-Care	74.2%
Total Fatient Days.	2,040	Average onlarge per Discharge.	Ψ13,7 42	Other GMS Hospital	5.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	110	Percent of All Childbirths:	57.0%	Skilled Nursing Facility	7.5%
Cesarean Childbirths:	57	Percent of All Childbirths:	29.5%	Intermediate Care Facility	0.7%
Other Childbirths:	26	Percent of All Childbirths:	13.5%	Inpatient Rehabilitation Facility	0.2%
Total Childbirths:	193		101070	Hospice	2.4%
rotal offiliabilitie.				Other Institution	0.0%
Total Newborns:	189			Home Health Service	6.7%
Dovobiotrio Iltilization				Left Against Medical Advice	0.2%
Psychiatric Utilization				Expired	0.7%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	1.5%
				Expected Pay Source Distrik	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	2	Percent of All Discharges:	0.2%	Medicare	30.5%
Patient Days:	8	Percent of All Patient Days:	0.3%	Medicaid/BadgerCare	24.0%
				Other Government	2.1%
				Commercial or Private Insurance	43.4%
				Self-Pay	0.0%
				Other or Unknown Insurance	0.0%

Hospital Type: GMS

County: Taylor Analysis Area: 6-North Central

	Age Distribution			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	22.9%	14.9%	Male	39.9%	41.5%	Amer.Ind/Alaskan Native	e 0.2%	0.4%	
Under 15	0.1%	0.1%	Female	60.1%	58.5%	Asian	0.5%	0.4%	
15 - 19	1.0%	1.1%				Black/African Amer.	0.8%	0.9%	
20 - 24	6.7%	5.7%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	17.2%	12.9%				White	98.3%	98.2%	
35 - 44	5.2%	4.4%				Multiracial	0.0%	0.0%	
45 - 54	4.7%	4.0%				Declined	0.1%	0.1%	
55 - 64	10.3%	13.4%				Unavailable	0 %	0 %	
65 - 74	9.5%	12.1%							
75 - 84	13.0%	18.1%							

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	*	*	4.1	*	3.0	*	4.5	*	
139 Pneumonia	29	2.9	3.8	0.76	3.3	0.88	4.0	0.73	
140 Chronic Obstructive Pulmonary Disease	34	3.2	3.4	0.94	3.3	0.97	3.6	0.89	
194 Heart Failure	25	3.1	4.2	0.74	3.4	0.91	4.6	0.67	
201 Heart Abnormal Rhythm and Conduction Disorders	13	3.3	2.6	1.27	2.6	1.27	2.8	1.18	
301 Hip Replacement	0	N/A	2.2	N/A	1.9	N/A	2.3	N/A	
302 Knee Replacement	*	*	1.7	*	2.1	*	2.0	*	
383 Cellulitis & other skin infections	13	7.8	3.6	2.17	3.9	2.00	4.0	1.95	
463 Kidney/Urinary Tract Infection	*	*	3.4	*	3.0	*	3.6	*	
469 Acute kidney injury	16	3.4	4.1	0.83	2.9	1.17	4.6	0.74	
540 Cesarean Delivery	57	3.1	3.8	0.82	3.1	1.00	3.6	0.86	
560 Vaginal Delivery	110	2.2	2.1	1.05	2.0	1.10	2.2	1.00	
640 Normal Newborn, Birthweight 2500g+	183	2.0	2.1	0.95	2.0	1.00	2.1	0.95	
720 Blood Infection/Septicemia	64	3.7	5.5	0.67	3.6	1.03	5.5	0.67	
862 Other Factors Influencing Health Status	*	*	8.9	*	8.7	*	8.7	*	

	This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	*	*	\$28,209	*	\$19,995	*	\$36,517	*
139 Pneumonia	\$18,373	\$19,540	\$21,418	0.91	\$17,968	1.09	\$26,154	0.75
140 Chronic Obstructive Pulmonary Disease	\$19,297	\$21,494	\$20,180	1.07	\$18,011	1.19	\$23,596	0.91
194 Heart Failure	\$17,810	\$19,629	\$23,893	0.82	\$16,661	1.18	\$29,512	0.67
201 Heart Abnormal Rhythm and Conduction Disorders	\$16,066	\$16,601	\$17,528	0.95	\$13,360	1.24	\$21,125	0.79
301 Hip Replacement	N/A	N/A	\$44,625	*	\$39,123	*	\$50,854	*
302 Knee Replacement	*	*	\$42,608	*	\$39,600	*	\$48,781	*
383 Cellulitis & other skin infections	\$33,946	\$31,319	\$18,077	1.73	\$15,690	2.00	\$21,953	1.43
463 Kidney/Urinary Tract Infection	*	*	\$18,556	*	\$12,405	*	\$22,097	*
469 Acute kidney injury	\$14,915	\$17,226	\$24,143	0.71	\$14,450	1.19	\$29,600	0.58
540 Cesarean Delivery	\$22,142	\$23,460	\$24,073	0.97	\$20,919	1.12	\$24,895	0.94
560 Vaginal Delivery	\$9,744	\$10,194	\$10,079	1.01	\$8,631	1.18	\$12,167	0.84
640 Normal Newborn, Birthweight 2500g+	\$4,699	\$5,137	\$5,603	0.92	\$4,326	1.19	\$4,719	1.09
720 Blood Infection/Septicemia	\$20,771	\$25,164	\$34,953	0.72	\$20,714	1.21	\$44,340	0.57
862 Other Factors Influencing Health Status	*	*	\$31,087	*	\$15,162	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

## **072 Froedtert Menomonee Falls Hospital**

W180 N8085 Town Hall Road

Menomonee Falls, WI 53051

262-251-1000

85 & Over

13.5%

16.7%

Hospital Type: GMS

County: Waukesha

Analysis Area: 2A-Southeastern

Inpatient	Vo	lume	Group:	6
-----------	----	------	--------	---

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	10,480	Average Length of Stay (days):	3.8	<u>Discharge Status</u>	% Discharges
Total Patient Days:	39,680	Average Charge per Discharge:	\$37,120	Home or Self-Care	67.4%
Total Fatient Days.	33,000	Average onlarge per bischarge.	Ψ37,120	Other GMS Hospital	1.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	455	Percent of All Childbirths:	67.1%	Skilled Nursing Facility	11.1%
Cesarean Childbirths:	194	Percent of All Childbirths:	28.6%	Intermediate Care Facility	1.4%
Other Childbirths:	29	Percent of All Childbirths:	4.3%	Inpatient Rehabilitation Facility	1.5%
Total Childbirths:	678			Hospice	2.8%
<b>-</b>	20.4			Other Institution	0.1%
Total Newborns:	684			Home Health Service	11.3%
Psychiatric Utilization				Left Against Medical Advice	1.0%
		D	7.00/	Expired	0.8%
Discharges:	755	Percent of All Discharges:	7.2%	Discharge/Tran to Court/Law Enforcmnt	0.3%
Patient Days:	3,503	Percent of All Patient Days:	8.8%	Other	0.5%
				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	440	Percent of All Discharges:	4.2%	Medicare	55.3%
Patient Days:	1,477	Percent of All Patient Days:	3.7%	Medicaid/BadgerCare	11.3%
				Other Government	0.4%
				Commercial or Private Insurance	31.5%
				Self-Pay	1.5%
				Other or Unknown Insurance	0.1%
				Carlot of Charleton modification	0.176

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	6.5%	4.2%	Male	42.1%	43.2%	Amer.Ind/Alaskan Native	e 0.2%	0.2%	
Under 15	0.0%	0.0%	Female	57.9%	56.8%	Asian	2.6%	2.0%	
15 - 19	0.6%	0.5%				Black/African Amer.	13.0%	12.8%	
20 - 24	2.1%	1.7%				Native Hawaii/Pac.Isl.	0.0%	0.1%	
25 - 34	9.6%	7.2%				White	82.5%	83.6%	
35 - 44	6.7%	5.8%				Multiracial	0.0%	0.0%	
45 - 54	8.7%	8.6%				Declined	0.1%	0.1%	
55 - 64	16.4%	15.8%				Unavailable	1.5%	1.3%	
65 - 74	18.8%	19.3%							
75 - 84	17.0%	20.3%							

	This Facil	ity	Group Averages					
			Analysis Area		Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	184	3.3	3.6	0.92	4.6	0.72	4.2	0.79
133 Respiratory failure	214	4.9	4.8	1.02	4.9	1.00	4.5	1.09
139 Pneumonia	117	4.6	4.5	1.02	4.2	1.10	4.0	1.15
174 Percutaneous coronary intervention w AMI	54	2.9	2.9	1.00	3.0	0.97	3.0	0.97
175 Percutaneous coronary intervention w/o AMI	69	2.5	2.8	0.89	3.1	0.81	3.1	0.81
194 Heart Failure	476	4.7	4.6	1.02	5.0	0.94	4.6	1.02
201 Heart Abnormal Rhythm and Conduction Disorders	206	2.8	2.9	0.97	2.9	0.97	2.8	1.00
301 Hip Replacement	548	2.0	2.1	0.95	2.5	0.80	2.3	0.87
302 Knee Replacement	603	1.9	2.0	0.95	2.1	0.90	2.0	0.95
469 Acute kidney injury	91	4.4	4.5	0.98	5.2	0.85	4.6	0.96
540 Cesarean Delivery	194	3.1	3.3	0.94	4.0	0.78	3.6	0.86
560 Vaginal Delivery	455	2.1	2.2	0.95	2.3	0.91	2.2	0.95
640 Normal Newborn, Birthweight 2500g+	640	2.2	2.1	1.05	2.2	1.00	2.1	1.05
720 Blood Infection/Septicemia	743	5.1	5.3	0.96	6.1	0.84	5.5	0.93
751 Psychoses	348	4.9	5.6	0.88	J 5.1	0.96	5.1	0.96

	<del>_</del>						-		
		This Fac	ility	Risk Adjusted Group Averages					
APR	-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
045	Stroke and Precerebral Occlusion with Infarct	\$34,045	\$36,278	\$39,923	0.91	\$43,048	0.84	\$39,987	0.91
133	Respiratory failure	\$39,177	\$38,498	\$37,003	1.04	\$39,891	0.97	\$36,517	1.05
139	Pneumonia	\$33,962	\$30,737	\$30,437	1.01	\$29,201	1.05	\$26,154	1.18
174	Percutaneous coronary intervention w AMI	\$95,150	\$91,735	\$73,777	1.24	\$73,358	1.25	\$73,175	1.25
175	Percutaneous coronary intervention w/o AMI	\$89,523	\$101,060	\$104,641	0.97	\$109,236	0.93	\$106,404	0.95
194	Heart Failure	\$34,163	\$32,547	\$30,999	1.05	\$32,710	1.00	\$29,512	1.10
201	Heart Abnormal Rhythm and Conduction Disorders	\$24,736	\$23,502	\$23,194	1.01	\$22,164	1.06	\$21,125	1.11
301	Hip Replacement	\$56,154	\$55,627	\$61,253	0.91	\$53,491	1.04	\$50,854	1.09
302	Knee Replacement	\$55,445	\$54,690	\$60,209	0.91	\$52,844	1.03	\$48,781	1.12
469	Acute kidney injury	\$36,296	\$33,765	\$30,548	1.11	\$33,062	1.02	\$29,600	1.14
540	Cesarean Delivery	\$23,430	\$24,728	\$26,513	0.93	\$25,062	0.99	\$24,895	0.99
560	Vaginal Delivery	\$16,329	\$16,594	\$14,321	1.16	\$12,661	1.31	\$12,167	1.36
640	Normal Newborn, Birthweight 2500g+	\$3,900	\$3,936	\$4,851	0.81	\$5,036	0.78	\$4,719	0.83
720	Blood Infection/Septicemia	\$46,660	\$46,665	\$44,089	1.06	\$50,089	0.93	\$44,340	1.05
751	Psychoses	\$12,213	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 073 Mayo Clinic Health System - Red Cedar in Menomonie

2321 Stout Road

Menomonie, WI 54751

85 & Over

10.6%

13.0%

Hospital Type: GMS County: Dunn

Other Government

Self-Pay

Commercial or Private Insurance

Other or Unknown Insurance

Analysis Area: 5A-West Central

1.0%

31.2%

6.8%

0.0%

715-235-5531				Inpatient Volume Group: 3	
Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,108	Average Length of Stay (days):	2.9	Discharge Status	% Discharges
Total Patient Days:	3,196	Average Charge per Discharge:	\$11,208	Home or Self-Care Other GMS Hospital	77.3% 5.1%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths: Cesarean Childbirths:	164 56	Percent of All Childbirths: Percent of All Childbirths:	69.8% 23.8%	Skilled Nursing Facility Intermediate Care Facility	11.0% 0.3%
Other Childbirths:	15	Percent of All Childbirths:	6.4%	Inpatient Rehabilitation Facility	0.3%
Total Childbirths:	235			Hospice Other Institution	0.7% 0.2%
Total Newborns:	237			Home Health Service	0.8%
Psychiatric Utilization				Left Against Medical Advice Expired	0.3% 1.0%
Discharges:	2	Percent of All Discharges:	0.2%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	3	Percent of All Patient Days:	0.1%	Other	3.0%
				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	20	Percent of All Discharges:	1.8%	Medicare	42.4%
Patient Days:	74	Percent of All Patient Days:	2.3%	Medicaid/BadgerCare	18.6%

	Age Distribution			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	21.4%	15.3%	Male	37.6%	38.6%	Amer.Ind/Alaskan Native	0.0%	0.0%	
Under 15	0.6%	0.7%	Female	62.4%	61.4%	Asian	3.9%	3.1%	
15 - 19	0.6%	0.6%				Black/African Amer.	0.5%	0.5%	
20 - 24	6.0%	4.7%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	15.3%	12.5%				White	93.7%	95.1%	
35 - 44	5.4%	4.7%				Multiracial	0.0%	0.0%	
45 - 54	3.4%	3.7%				Declined	0.1%	0.1%	
55 - 64	10.2%	12.5%				Unavailable	1.8%	1.3%	
65 - 74	12.8%	15.5%							
75 - 84	13.6%	16.7%							

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	13	3.4	4.2	0.81	3.2	1.06	4.5	0.76
139 Pneumonia	41	3.4	3.7	0.92	3.3	1.03	4.0	0.85
140 Chronic Obstructive Pulmonary Disease	39	3.1	3.5	0.89	2.9	1.07	3.6	0.86
194 Heart Failure	35	3.5	4.3	0.81	3.4	1.03	4.6	0.76
201 Heart Abnormal Rhythm and Conduction Disorders	13	2.4	2.8	0.86	2.3	1.04	2.8	0.86
247 Intestinal Obstruction without Surgery	20	4.0	3.3	1.21	2.7	1.48	3.5	1.14
301 Hip Replacement	16	2.6	2.3	1.13	2.1	1.24	2.3	1.13
302 Knee Replacement	29	2.0	2.1	0.95	1.9	1.05	2.0	1.00
383 Cellulitis & other skin infections	27	3.5	3.9	0.90	3.6	0.97	4.0	0.88
463 Kidney/Urinary Tract Infection	26	3.0	3.1	0.97	2.9	1.03	3.6	0.83
469 Acute kidney injury	31	3.4	4.4	0.77	2.8	1.21	4.6	0.74
540 Cesarean Delivery	56	2.8	3.0	0.93	3.0	0.93	3.6	0.78
560 Vaginal Delivery	164	2.1	2.1	1.00	1.9	1.11	2.2	0.95
640 Normal Newborn, Birthweight 2500g+	217	2.1	2.0	1.05	2.0	1.05	2.1	1.00
720 Blood Infection/Septicemia	68	3.8	4.8	0.79	3.6	1.06	5.5	0.69

	This Fac	:::4.			Diale Adicated			
	This Fac	-			RISK Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$13,144	\$16,489	\$27,159	0.61	\$22,058	0.75	\$36,517	0.45
139 Pneumonia	\$12,481	\$12,979	\$19,690	0.66	\$18,736	0.69	\$26,154	0.50
140 Chronic Obstructive Pulmonary Disease	\$11,468	\$12,541	\$18,026	0.70	\$16,687	0.75	\$23,596	0.53
194 Heart Failure	\$12,720	\$13,096	\$22,734	0.58	\$18,675	0.70	\$29,512	0.44
201 Heart Abnormal Rhythm and Conduction Disorders	\$8,588	\$9,001	\$16,241	0.55	\$13,920	0.65	\$21,125	0.43
247 Intestinal Obstruction without Surgery	\$11,685	\$12,007	\$14,181	0.85	\$13,214	0.91	\$21,879	0.55
301 Hip Replacement	\$33,318	\$34,175	\$41,021	0.83	\$43,894	0.78	\$50,854	0.67
302 Knee Replacement	\$32,275	\$33,514	\$38,967	0.86	\$45,311	0.74	\$48,781	0.69
383 Cellulitis & other skin infections	\$11,351	\$11,640	\$17,014	0.68	\$16,011	0.73	\$21,953	0.53
463 Kidney/Urinary Tract Infection	\$9,955	\$9,552	\$13,865	0.69	\$13,197	0.72	\$22,097	0.43
469 Acute kidney injury	\$11,522	\$12,023	\$22,197	0.54	\$14,980	0.80	\$29,600	0.41
540 Cesarean Delivery	\$19,072	\$19,609	\$19,747	0.99	\$21,375	0.92	\$24,895	0.79
560 Vaginal Delivery	\$8,279	\$8,210	\$9,018	0.91	\$8,800	0.93	\$12,167	0.67
640 Normal Newborn, Birthweight 2500g+	\$3,100	\$2,850	\$3,539	0.81	\$3,780	0.75	\$4,719	0.60
720 Blood Infection/Septicemia	\$13,792	\$16,013	\$32,245	0.50	\$23,568	0.68	\$44,340	0.36

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

## 110 Ascension Columbia St. Mary's Hospital Ozaukee

13111 N Port Washington Rd

Mequon, WI 53097

262-243-7300

Hospital Type: GMS

Inpatient Volume Group: 5

County: Ozaukee

Analysis Area: 2A-Southeastern

	<u>Patient</u>	Disch	arge	<u>Status</u>
tuc				

Overall Hospital Utilization				Patient Discharge Statu	<u>ıs</u>
Total Discharges:	5,085	Average Length of Stay (days):	4.3	Discharge Status	% Discharges
Total Patient Days:	21,945	Average Charge per Discharge:	\$36,677	Home or Self-Care	65.0%
Total Fatient Days.	21,343	Average charge per discharge.	Ψ30,077	Other GMS Hospital	0.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	312	Percent of All Childbirths:	73.9%	Skilled Nursing Facility	15.5%
Cesarean Childbirths:	88	Percent of All Childbirths:	20.9%	Intermediate Care Facility	0.3%
Other Childbirths:	22	Percent of All Childbirths:	5.2%	Inpatient Rehabilitation Facility	1.8%
Total Childbirths:	422			Hospice	3.1%
				Other Institution	1.0%
Total Newborns:	429			Home Health Service	9.2%
Psychiatric Utilization				Left Against Medical Advice	0.5%
				Expired	1.5%
Discharges:	302	Percent of All Discharges:	5.9%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	2,105	Percent of All Patient Days:	9.6%	Other	1.4%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	116	Percent of All Discharges:	2.3%	Medicare	61.1%
Patient Days:	385	Percent of All Patient Days:	1.8%	Medicaid/BadgerCare	9.1%
				Other Government	0.2%
				Commercial or Private Insurance	28.6%
				Self-Pay	1.0%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	8.4%	4.3%	Male	43.0%	43.8%	Amer.Ind/Alaskan Native	e 0.0%	0.1%
Under 15	0.0%	0.0%	Female	57.0%	56.2%	Asian	1.3%	1.2%
15 - 19	0.5%	0.3%				Black/African Amer.	11.3%	13.2%
20 - 24	1.8%	1.4%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	7.8%	5.7%				White	84.3%	83.1%
35 - 44	5.9%	4.5%				Multiracial	0.0%	0.0%
45 - 54	6.2%	6.7%				Declined	2.4%	1.8%
55 - 64	11.9%	11.9%				Unavailable	0.6%	0.6%
65 - 74	18.7%	22.2%						
75 - 84	19.6%	21.9%						
85 & Over	19.0%	21.0%						

	This Facil	ity			Group /	Averages		
			Analysis Area		Inpatient V	Inpatient Volume Group		ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	63	5.0	4.8	1.04	4.5	1.11	4.5	1.11
139 Pneumonia	89	4.6	4.5	1.02	4.2	1.10	4.0	1.15
140 Chronic Obstructive Pulmonary Disease	51	3.0	3.8	0.79	3.6	0.83	3.6	0.83
174 Percutaneous coronary intervention w AMI	56	2.5	2.9	0.86	3.0	0.83	3.0	0.83
194 Heart Failure	319	4.9	4.6	1.07	4.6	1.07	4.6	1.07
201 Heart Abnormal Rhythm and Conduction Disorders	146	2.5	2.9	0.86	2.9	0.86	2.8	0.89
301 Hip Replacement	55	4.5	2.1	2.14	2.2	2.05	2.3	1.96
302 Knee Replacement	23	3.0	2.0	1.50	2.0	1.50	2.0	1.50
469 Acute kidney injury	116	5.1	4.5	1.13	4.7	1.09	4.6	1.11
540 Cesarean Delivery	88	3.8	3.3	1.15	3.3	1.15	3.6	1.06
560 Vaginal Delivery	312	2.3	2.2	1.05	2.1	1.10	2.2	1.05
640 Normal Newborn, Birthweight 2500g+	407	2.2	2.1	1.05	2.1	1.05	2.1	1.05
720 Blood Infection/Septicemia	465	6.2	5.3	1.17	5.5	1.13	5.5	1.13
751 Psychoses	93	8.4	5.6	1.50	4.7	1.79	5.1	1.65
775 Alcohol Abuse/Dependence	96	3.4	3.8	0.89	3.8	0.89	3.7	0.92

•	•	• • •	•	•	•	•		
	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$51,020	\$52,040	\$37,003	1.41	\$35,487	1.47	\$36,517	1.43
139 Pneumonia	\$36,600	\$36,069	\$30,437	1.19	\$27,529	1.31	\$26,154	1.38
140 Chronic Obstructive Pulmonary Disease	\$26,009	\$26,087	\$25,288	1.03	\$23,968	1.09	\$23,596	1.11
174 Percutaneous coronary intervention w AMI	\$78,808	\$79,142	\$73,777	1.07	\$72,860	1.09	\$73,175	1.08
194 Heart Failure	\$33,114	\$32,996	\$30,999	1.06	\$28,982	1.14	\$29,512	1.12
201 Heart Abnormal Rhythm and Conduction Disorders	\$23,174	\$23,770	\$23,194	1.02	\$21,611	1.10	\$21,125	1.13
301 Hip Replacement	\$59,247	\$56,297	\$61,253	0.92	\$52,206	1.08	\$50,854	1.11
302 Knee Replacement	\$53,518	\$50,922	\$60,209	0.85	\$50,848	1.00	\$48,781	1.04
469 Acute kidney injury	\$32,328	\$32,478	\$30,548	1.06	\$29,340	1.11	\$29,600	1.10
540 Cesarean Delivery	\$24,014	\$26,291	\$26,513	0.99	\$25,613	1.03	\$24,895	1.06
560 Vaginal Delivery	\$11,108	\$11,609	\$14,321	0.81	\$12,456	0.93	\$12,167	0.95
640 Normal Newborn, Birthweight 2500g+	\$5,427	\$5,806	\$4,851	1.20	\$4,463	1.30	\$4,719	1.23
720 Blood Infection/Septicemia	\$48,635	\$51,011	\$44,089	1.16	\$41,728	1.22	\$44,340	1.15
751 Psychoses	\$31,866	#	#	#	#	#	#	#
775 Alcohol Abuse/Dependence	\$19,279	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

# 074 Ascension Good Samaritan Hospital

**601 Center Avenue South** 

Merrill, WI 54452

715-536-5511 Inpatient Volume Group: 2

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>s</u>
Total Discharges:	329	Average Length of Stay (days):	2.7	Discharge Status	% Discharges
Total Patient Days:	903	Average Charge per Discharge:	\$8,337	Home or Self-Care	66.9%
Total Latient Days.	300	Average charge per bischarge.	ψ0,337	Other GMS Hospital	10.9%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.3%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	11.9%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	2.1%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	2.1%
Total Childbirths:	0			Hospice	0.9%
	•			Other Institution	0.0%
Total Newborns:	0			Home Health Service	2.4%
Psychiatric Utilization				Left Against Medical Advice	0.6%
PSychiatric Othization				Expired	1.2%
Discharges:	1	Percent of All Discharges:	0.3%	Discharge/Tran to Court/Law Enforcmnt	0.3%
Patient Days:	1	Percent of All Patient Days:	0.1%	Other	0.3%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	3	Percent of All Discharges:	0.9%	Medicare	79.0%
Patient Days:	8	Percent of All Patient Days:	0.9%	Medicaid/BadgerCare	4.9%
				Other Government	0.0%
				Commercial or Private Insurance	13.4%
				Self-Pay	2.7%
				Other or Unknown Insurance	0.0%

Hospital Type: GMS

County: Lincoln
Analysis Area: 6-North Central

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	45.0%	45.1%	Amer.Ind/Alaskan Native	e 0.3%	0.1%
Under 15	0.0%	0.0%	Female	55.0%	54.9%	Asian	0.3%	0.1%
15 - 19	0.9%	0.6%				Black/African Amer.	0.6%	0.7%
20 - 24	0.9%	0.6%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	1.2%	1.1%				White	97.6%	98.1%
35 - 44	3.0%	2.1%				Multiracial	0.0%	0.0%
45 - 54	7.9%	6.4%				Declined	0.0%	0.0%
55 - 64	15.8%	15.4%				Unavailable	1.2%	1.0%
65 - 74	21.6%	21.6%						
75 - 84	20.7%	20.3%						
85 & Over	28.0%	32.0%						

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	18	2.4	4.1	0.59	3.0	0.80	4.5	0.53
139 Pneumonia	13	2.0	3.8	0.53	3.3	0.61	4.0	0.50
140 Chronic Obstructive Pulmonary Disease	25	2.9	3.4	0.85	3.3	0.88	3.6	0.81
194 Heart Failure	39	3.0	4.2	0.71	3.4	0.88	4.6	0.65
201 Heart Abnormal Rhythm and Conduction Disorders	5	2.8	2.6	1.08	2.6	1.08	2.8	1.00
301 Hip Replacement	0	N/A	2.2	N/A	1.9	N/A	2.3	N/A
302 Knee Replacement	0	N/A	1.7	N/A	2.1	N/A	2.0	N/A
383 Cellulitis & other skin infections	12	2.4	3.6	0.67	3.9	0.62	4.0	0.60
463 Kidney/Urinary Tract Infection	18	2.7	3.4	0.79	3.0	0.90	3.6	0.75
469 Acute kidney injury	10	2.9	4.1	0.71	2.9	1.00	4.6	0.63
540 Cesarean Delivery	0	N/A	3.8	N/A	3.1	N/A	3.6	N/A
560 Vaginal Delivery	0	N/A	2.1	N/A	2.0	N/A	2.2	N/A
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.1	N/A	2.0	N/A	2.1	N/A
720 Blood Infection/Septicemia	63	3.2	5.5	0.58	3.6	0.89	5.5	0.58
862 Other Factors Influencing Health Status	*	*	8.9	*	l 8.7	*	8.7	*

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	-	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$8,988	\$10,826	\$28,209	0.38	\$19,995	0.54	\$36,517	0.30
139 Pneumonia	\$8,554	\$7,870	\$21,418	0.37	\$17,968	0.44	\$26,154	0.30
140 Chronic Obstructive Pulmonary Disease	\$11,249	\$10,803	\$20,180	0.54	\$18,011	0.60	\$23,596	0.46
194 Heart Failure	\$7,906	\$7,678	\$23,893	0.32	\$16,661	0.46	\$29,512	0.26
201 Heart Abnormal Rhythm and Conduction Disorders	\$8,816	\$8,926	\$17,528	0.51	\$13,360	0.67	\$21,125	0.42
301 Hip Replacement	N/A	N/A	\$44,625	*	\$39,123	*	\$50,854	*
302 Knee Replacement	N/A	N/A	\$42,608	*	\$39,600	*	\$48,781	*
383 Cellulitis & other skin infections	\$8,087	\$8,480	\$18,077	0.47	\$15,690	0.54	\$21,953	0.39
463 Kidney/Urinary Tract Infection	\$6,483	\$6,420	\$18,556	0.35	\$12,405	0.52	\$22,097	0.29
469 Acute kidney injury	\$6,646	\$7,576	\$24,143	0.31	\$14,450	0.52	\$29,600	0.26
540 Cesarean Delivery	N/A	N/A	\$24,073	*	\$20,919	*	\$24,895	*
560 Vaginal Delivery	N/A	N/A	\$10,079	*	\$8,631	*	\$12,167	*
640 Normal Newborn, Birthweight 2500g+	N/A	N/A	\$5,603	*	\$4,326	*	\$4,719	*
720 Blood Infection/Septicemia	\$9,831	\$10,135	\$34,953	0.29	\$20,714	0.49	\$44,340	0.23
862 Other Factors Influencing Health Status	*	*	\$31,087	*	\$15,162	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

316 Ascension Columbia St. Mary's Hospital Milwaukee

2301 N. Lake Drive

Milwaukee, WI 53201 Analysis Area: 2B-Milwaukee County

Hospital Type: GMS

County: Milwaukee

414-961-3300 Inpatient Volume Group: 6

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	14,332	Average Length of Stay (days):	5.0	Discharge Status	% Discharges
Total Patient Days:	71,247	Average Charge per Discharge:	\$39,227	Home or Self-Care	77.2%
•	,	The construction of the contraction of the contract	¥ 5 - ,== :	Other GMS Hospital	0.3%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	2,052	Percent of All Childbirths:	76.6%	Skilled Nursing Facility	7.7%
Cesarean Childbirths:	583	Percent of All Childbirths:	21.8%	Intermediate Care Facility	0.1%
Other Childbirths:	43	Percent of All Childbirths:	1.6%	Inpatient Rehabilitation Facility	1.2% 1.5%
Total Childbirths:	2,678			Hospice Other Institution	0.4%
Total Newborns:	2,687			Home Health Service	7.2%
Total Newbollie.	2,007			Left Against Medical Advice	1.6%
Psychiatric Utilization				Expired	1.8%
Discharges:	737	Percent of All Discharges:	5.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	3,463	Percent of All Patient Days:	4.9%	Other	1.0%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	244	Percent of All Discharges:	1.7%	Medicare	33.3%
Patient Days:	1,321	Percent of All Patient Days:	1.9%	Medicaid/BadgerCare	38.8%
				Other Government	0.1%
				Commercial or Private Insurance	25.7%
				Self-Pay	2.1%
				Other or Unknown Insurance	0.0%

	Age Distribution	Ĺ		Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	18.7%	15.0%	Male	38.6%	44.8%	Amer.Ind/Alaskan Native	1.0%	1.0%
Under 15	0.2%	0.1%	Female	61.4%	55.2%	Asian	1.8%	1.4%
15 - 19	1.8%	1.1%				Black/African Amer.	42.3%	45.6%
20 - 24	5.8%	3.3%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	15.9%	10.3%				White	49.2%	47.4%
35 - 44	10.0%	7.9%				Multiracial	0.0%	0.0%
45 - 54	9.3%	10.9%				Declined	2.7%	2.4%
55 - 64	12.4%	15.6%				Unavailable	2.9%	2.1%
65 - 74	11.6%	16.2%						
75 - 84	8.2%	11.9%						
85 & Over	6.1%	7.7%						

<sup>\*\*</sup> In 2010, Columbia St Mary's Inc - Columbia Campus, Milwaukee (076) and Columbia St Mary's Inc - Milwaukee Campus, Milwaukee (089) merged to form Columbia St. Mary's Hospital Milwaukee, Milwaukee (316). 2010 data reported under all three facility numbers was combined into the (316) number for this report.

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
045 Stroke and Precerebral Occlusion with Infarct	250	6.9	5.6	1.23	4.6	1.50	4.2	1.64	
133 Respiratory failure	175	5.5	5.3	1.04	4.9	1.12	4.5	1.22	
139 Pneumonia	134	4.3	4.4	0.98	4.2	1.02	4.0	1.08	
174 Percutaneous coronary intervention w AMI	96	3.4	3.7	0.92	3.0	1.13	3.0	1.13	
175 Percutaneous coronary intervention w/o AMI	120	4.1	3.6	1.14	3.1	1.32	3.1	1.32	
194 Heart Failure	401	6.7	5.6	1.20	5.0	1.34	4.6	1.46	
201 Heart Abnormal Rhythm and Conduction Disorders	146	3.4	3.3	1.03	2.9	1.17	2.8	1.21	
301 Hip Replacement	47	6.7	3.0	2.23	2.5	2.68	2.3	2.91	
302 Knee Replacement	*	*	2.2	*	2.1	*	2.0	*	
469 Acute kidney injury	173	8.1	6.3	1.29	5.2	1.56	4.6	1.76	
540 Cesarean Delivery	583	4.1	4.0	1.03	4.0	1.03	3.6	1.14	
560 Vaginal Delivery	2,052	2.2	2.3	0.96	2.3	0.96	2.2	1.00	
640 Normal Newborn, Birthweight 2500g+	2,381	2.2	2.2	1.00	2.2	1.00	2.1	1.05	
720 Blood Infection/Septicemia	776	7.4	6.8	1.09	6.1	1.21	5.5	1.35	
751 Psychoses	233	4.5	4.9	0.92	5.1	0.88	5.1	0.88	

## APR-DRG Specific Data - Average Charge per Discharge (Actual & Risk-Adjusted^)

	• .	•	•	-	•					
This Facility				Risk Adjusted Group Averages						
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	<u>'olume Group</u> Ratio	All GMS Ho Average Charge	ospitals Ratio			
t \$60,078	\$54,469	\$54,536	1.00	\$43,048	1.27	\$39,987	1.36			
\$51,596	\$47,826	\$45,568	1.05	\$39,891	1.20	\$36,517	1.31			
\$33,280	\$31,515	\$34,436	0.92	\$29,201	1.08	\$26,154	1.20			
\$95,207	\$93,053	\$95,865	0.97	\$73,358	1.27	\$73,175	1.27			
\$131,322	\$117,570	\$136,926	0.86	\$109,236	1.08	\$106,404	1.10			
\$42,471	\$39,828	\$39,457	1.01	\$32,710	1.22	\$29,512	1.35			
orders \$28,368	\$27,327	\$26,831	1.02	\$22,164	1.23	\$21,125	1.29			
\$75,356	\$71,173	\$67,785	1.05	\$53,491	1.33	\$50,854	1.40			
*	*	\$60,857	*	\$52,844	*	\$48,781	*			
\$38,888	\$37,988	\$43,644	0.87	\$33,062	1.15	\$29,600	1.28			
\$25,658	\$24,445	\$28,127	0.87	\$25,062	0.98	\$24,895	0.98			
\$9,449	\$9,263	\$14,391	0.64	\$12,661	0.73	\$12,167	0.76			
\$5,980	\$6,145	\$5,018	1.22	\$5,036	1.22	\$4,719	1.30			
\$53,402	\$53,754	\$60,389	0.89	\$50,089	1.07	\$44,340	1.21			
\$15,641	#	#	#	#	#	#	#			
	Average Charge  th \$60,078 \$51,596 \$33,280 \$95,207 \$131,322 \$42,471  orders \$28,368 \$75,356  *  \$38,888 \$25,658 \$9,449 \$5,980 \$53,402	Risk Adjusted Average Charge S1,596 \$47,826 \$33,280 \$31,515 \$95,207 \$93,053 \$131,322 \$117,570 \$42,471 \$39,828 orders \$28,368 \$27,327 \$75,356 \$71,173 **  \$38,888 \$37,988 \$25,658 \$24,445 \$9,449 \$9,263 \$5,980 \$6,145 \$53,402 \$53,754	Risk Adjusted Average Charge State	Risk Adjusted Average Charge Ratio  ***********************************	Risk Adjusted Average Charge Ratio Charge Charge St. \$60,078 \$54,469 \$54,536 1.00 \$43,048 \$51,596 \$47,826 \$45,568 1.05 \$39,891 \$33,280 \$31,515 \$34,436 0.92 \$29,201 \$95,207 \$93,053 \$95,865 0.97 \$73,358 \$131,322 \$117,570 \$136,926 0.86 \$109,236 \$42,471 \$39,828 \$39,457 1.01 \$32,710 orders \$28,368 \$27,327 \$26,831 1.02 \$22,164 \$75,356 \$71,173 \$67,785 1.05 \$53,491 \$75,356 \$71,173 \$67,785 1.05 \$53,491 \$838,888 \$37,988 \$43,644 0.87 \$33,062 \$25,658 \$24,445 \$28,127 0.87 \$25,062 \$9,449 \$9,263 \$14,391 0.64 \$12,661 \$5,980 \$6,145 \$5,018 1.22 \$5,036 \$53,402 \$53,754 \$60,389 0.89 \$50,089	Risk Adjusted Average Charge Charge Charge Ratio  **Text ** \$60,078 ** \$54,469 ** \$54,536 ** \$1.00 ** \$43,048 ** \$1.27 ** \$51,596 ** \$47,826 ** \$45,568 ** \$1.05 ** \$39,891 ** \$1.20 ** \$33,280 ** \$31,515 ** \$34,436 ** 0.92 ** \$29,201 ** \$1.08 ** \$95,207 ** \$93,053 ** \$95,865 ** 0.97 ** \$73,358 ** \$1.27 ** \$131,322 ** \$117,570 ** \$136,926 ** 0.86 ** \$109,236 ** 1.08 ** \$42,471 ** \$39,828 ** \$39,457 ** 1.01 ** \$32,710 ** 1.22 ** \$131,322 ** \$17,570 ** \$136,926 ** 0.86 ** \$109,236 ** 1.08 ** \$42,471 ** \$39,828 ** \$39,457 ** 1.01 ** \$32,710 ** 1.22 ** \$175,356 ** \$71,173 ** \$67,785 ** 1.05 ** \$53,491 ** 1.33 ** ** ** ** ** ** *60,857 ** ** *52,844 ** ** *\$38,888 ** \$37,988 ** \$43,644 ** 0.87 ** \$33,062 ** 1.15 ** \$25,658 ** \$24,445 ** \$28,127 ** 0.87 ** \$25,062 ** 0.98 ** \$9,449 ** \$9,263 ** \$14,391 ** 0.64 ** \$12,661 ** 0.73 ** \$5,980 ** \$6,145 ** \$5,018 ** 1.22 ** \$5,036 ** 1.22 ** \$53,402 ** \$53,754 ** \$60,389 ** 0.89 ** \$50,089 ** 1.07	Risk Adjusted Average Charge Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio			

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 086 Ascension SE Wisconsin Hospital - St. Joseph Campus

**5000 West Chambers Street** 

Milwaukee, WI 53210

414-447-2000

85 & Over

2.1%

3.0%

Hospital Type: GMS

Inpatient Volume Group: 5

County: Milwaukee

Analysis Area: 2B-Milwaukee County

<u>Patient</u>	Discharge	<u>Status</u>

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	6,999	Average Length of Stay (days):	4.4	Discharge Status	% Discharges
Total Patient Days:	30,598	Average Charge per Discharge:	\$25,351	Home or Self-Care Other GMS Hospital	82.4% 1.1%
<b>Obstetrical Utilization</b>				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	1,386 412 55 1,853 1,852	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths: Percent of All Discharges:	74.8% 22.2% 3.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt	3.6% 0.2% 0.8% 1.0% 0.2% 6.0% 2.3% 1.4% 0.0%
Patient Days:	47	Percent of All Patient Days:	0.1%	Other	0.0%
AODA Utilization		·		Expected Pay Source Distrib	wution  M Discharges
Discharges:	65	Percent of All Discharges:	0.9%	Medicare	22.2%
Patient Days:	210	Percent of All Patient Days:	0.7%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	59.3% 0.1% 16.2% 2.3% 0.0%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	26.5%	32.8%	Male	35.4%	41.5%	Amer.Ind/Alaskan Native	0.3%	0.3%	
Under 15	0.2%	0.9%	Female	64.6%	58.5%	Asian	3.4%	3.5%	
15 - 19	2.7%	1.6%				Black/African Amer.	73.7%	71.7%	
20 - 24	7.4%	4.6%				Native Hawaii/Pac.Isl.	0.1%	0.1%	
25 - 34	17.7%	11.1%				White	21.0%	22.5%	
35 - 44	9.3%	7.2%				Multiracial	0.4%	0.7%	
45 - 54	8.9%	9.5%				Declined	1.0%	1.2%	
55 - 64	12.5%	13.1%				Unavailable	0 %	0 %	
65 - 74	8.9%	10.8%							
75 - 84	3.8%	5.4%							

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	262	3.9	5.3	0.74	4.5	0.87	4.5	0.87	
139 Pneumonia	74	4.1	4.4	0.93	4.2	0.98	4.0	1.03	
140 Chronic Obstructive Pulmonary Disease	85	2.8	3.8	0.74	3.6	0.78	3.6	0.78	
174 Percutaneous coronary intervention w AMI	55	2.7	3.7	0.73	3.0	0.90	3.0	0.90	
194 Heart Failure	279	3.8	5.6	0.68	4.6	0.83	4.6	0.83	
201 Heart Abnormal Rhythm and Conduction Disorders	42	3.4	3.3	1.03	2.9	1.17	2.8	1.21	
301 Hip Replacement	25	5.4	3.0	1.80	2.2	2.45	2.3	2.35	
302 Knee Replacement	18	4.1	2.2	1.86	2.0	2.05	2.0	2.05	
469 Acute kidney injury	70	5.1	6.3	0.81	4.7	1.09	4.6	1.11	
540 Cesarean Delivery	412	3.8	4.0	0.95	3.3	1.15	3.6	1.06	
560 Vaginal Delivery	1,386	2.2	2.3	0.96	2.1	1.05	2.2	1.00	
640 Normal Newborn, Birthweight 2500g+	1,525	2.3	2.2	1.05	2.1	1.10	2.1	1.10	
720 Blood Infection/Septicemia	191	6.8	6.8	1.00	5.5	1.24	5.5	1.24	
751 Psychoses	*	*	4.9	*	4.7	*	5.1	*	
775 Alcohol Abuse/Dependence	47	3.4	4.2	0.81	3.8	0.89	3.7	0.92	

-									
	This Fac	ility	Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
133 Respiratory failure	\$30,496	\$30,840	\$45,568	0.68	\$35,487	0.87	\$36,517	0.84	
139 Pneumonia	\$26,841	\$25,932	\$34,436	0.75	\$27,529	0.94	\$26,154	0.99	
140 Chronic Obstructive Pulmonary Disease	\$19,646	\$19,408	\$28,350	0.68	\$23,968	0.81	\$23,596	0.82	
174 Percutaneous coronary intervention w AMI	\$54,711	\$51,863	\$95,865	0.54	\$72,860	0.71	\$73,175	0.71	
194 Heart Failure	\$25,044	\$25,070	\$39,457	0.64	\$28,982	0.87	\$29,512	0.85	
201 Heart Abnormal Rhythm and Conduction Disorders	\$22,251	\$21,668	\$26,831	0.81	\$21,611	1.00	\$21,125	1.03	
301 Hip Replacement	\$65,234	\$62,872	\$67,785	0.93	\$52,206	1.20	\$50,854	1.24	
302 Knee Replacement	\$56,273	\$55,445	\$60,857	0.91	\$50,848	1.09	\$48,781	1.14	
469 Acute kidney injury	\$29,161	\$28,595	\$43,644	0.66	\$29,340	0.97	\$29,600	0.97	
540 Cesarean Delivery	\$24,122	\$23,940	\$28,127	0.85	\$25,613	0.93	\$24,895	0.96	
560 Vaginal Delivery	\$11,883	\$11,572	\$14,391	0.80	\$12,456	0.93	\$12,167	0.95	
640 Normal Newborn, Birthweight 2500g+	\$4,103	\$4,109	\$5,018	0.82	\$4,463	0.92	\$4,719	0.87	
720 Blood Infection/Septicemia	\$48,164	\$42,905	\$60,389	0.71	\$41,728	1.03	\$44,340	0.97	
751 Psychoses	*	#	#	*	#	*	#	*	
775 Alcohol Abuse/Dependence	\$20,185	#	#	#	#	#	#	#	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

085 Ascension St. Francis Hospital

8.2%

10.5%

85 & Over

3237 South 16th Street

Milwaukee, WI 53215

Analysis Area: 2B-Milwaukee County

Hospital Type: GMS

County: Milwaukee

414-647-5000 Inpatient Volume Group: 5

Overall Hospital Utilization				Patient Discharge Statu	S
Total Discharges:	5,690	Average Length of Stay (days):	4.9	Discharge Status	% Discharges
Total Patient Days:	27,673	Average Charge per Discharge:	\$27,887	Home or Self-Care	71.5%
Total Fatient Days.	21,013	Average onlarge per bischarge.	Ψ21,001	Other GMS Hospital	1.0%
<b>Obstetrical Utilization</b>				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	366	Percent of All Childbirths:	72.2%	Skilled Nursing Facility	9.8%
Cesarean Childbirths:	131	Percent of All Childbirths:	25.8%	Intermediate Care Facility	0.6%
Other Childbirths:	10	Percent of All Childbirths:	2.0%	Inpatient Rehabilitation Facility	1.0%
Total Childbirths:	507		2.070	Hospice	1.6%
Total Officialities.	301			Other Institution	0.1%
Total Newborns:	508			Home Health Service	7.4%
Davohistnia Utilination				Left Against Medical Advice	3.4%
Psychiatric Utilization				Expired	1.6%
Discharges:	926	Percent of All Discharges:	16.3%	Discharge/Tran to Court/Law Enforcmnt	0.2%
Patient Days:	4,187	Percent of All Patient Days:	15.1%	Other	1.8%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	285	Percent of All Discharges:	5.0%	Medicare	41.4%
Patient Days:	1,081	Percent of All Patient Days:	3.9%	Medicaid/BadgerCare	41.0%
				Other Government	0.5%
				Commercial or Private Insurance	12.4%
				Self-Pay	4.8%
				Other or Unknown Insurance	0.0%

	Age Distribution	Ĺ		Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	8.9%	5.5%	Male	44.5%	47.9%	Amer.Ind/Alaskan Native	0.8%	0.8%
Under 15	0.0%	0.0%	Female	55.5%	52.1%	Asian	2.8%	2.6%
15 - 19	1.6%	1.1%				Black/African Amer.	13.8%	14.0%
20 - 24	4.9%	2.9%				Native Hawaii/Pac.Isl.	0.2%	0.2%
25 - 34	13.0%	8.6%				White	61.2%	65.1%
35 - 44	11.1%	8.8%				Multiracial	0.1%	0.2%
45 - 54	12.6%	11.3%				Declined	21.0%	17.2%
55 - 64	15.7%	19.4%				Unavailable	0.1%	0 %
65 - 74	12.8%	16.8%						
75 - 84	11.3%	15.2%						

	This Facil	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	95	5.8	5.3	1.09	4.5	1.29	4.5	1.29
139 Pneumonia	89	5.4	4.4	1.23	4.2	1.29	4.0	1.35
140 Chronic Obstructive Pulmonary Disease	93	4.5	3.8	1.18	3.6	1.25	3.6	1.25
174 Percutaneous coronary intervention w AMI	47	4.7	3.7	1.27	3.0	1.57	3.0	1.57
194 Heart Failure	206	6.2	5.6	1.11	4.6	1.35	4.6	1.35
201 Heart Abnormal Rhythm and Conduction Disorders	75	3.2	3.3	0.97	2.9	1.10	2.8	1.14
301 Hip Replacement	14	8.1	3.0	2.70	2.2	3.68	2.3	3.52
302 Knee Replacement	16	2.8	2.2	1.27	2.0	1.40	2.0	1.40
469 Acute kidney injury	97	4.9	6.3	0.78	4.7	1.04	4.6	1.07
540 Cesarean Delivery	131	2.8	4.0	0.70	3.3	0.85	3.6	0.78
560 Vaginal Delivery	366	2.0	2.3	0.87	2.1	0.95	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	455	2.0	2.2	0.91	2.1	0.95	2.1	0.95
720 Blood Infection/Septicemia	356	6.8	6.8	1.00	5.5	1.24	5.5	1.24
751 Psychoses	316	4.8	4.9	0.98	4.7	1.02	5.1	0.94
775 Alcohol Abuse/Dependence	166	4.1	4.2	0.98	3.8	1.08	3.7	1.11

				<u> </u>					
	This Facility			Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
<u> </u>					1		1		
133 Respiratory failure	\$34,568	\$38,551	\$45,568	0.85	\$35,487	1.09	\$36,517	1.06	
139 Pneumonia	\$29,096	\$27,618	\$34,436	0.80	\$27,529	1.00	\$26,154	1.06	
140 Chronic Obstructive Pulmonary Disease	\$24,580	\$24,331	\$28,350	0.86	\$23,968	1.02	\$23,596	1.03	
174 Percutaneous coronary intervention w AMI	\$70,543	\$67,530	\$95,865	0.70	\$72,860	0.93	\$73,175	0.92	
194 Heart Failure	\$31,324	\$30,947	\$39,457	0.78	\$28,982	1.07	\$29,512	1.05	
201 Heart Abnormal Rhythm and Conduction Disorders	\$21,418	\$22,451	\$26,831	0.84	\$21,611	1.04	\$21,125	1.06	
301 Hip Replacement	\$68,726	\$62,080	\$67,785	0.92	\$52,206	1.19	\$50,854	1.22	
302 Knee Replacement	\$53,285	\$53,705	\$60,857	0.88	\$50,848	1.06	\$48,781	1.10	
469 Acute kidney injury	\$23,816	\$25,951	\$43,644	0.59	\$29,340	0.88	\$29,600	0.88	
540 Cesarean Delivery	\$19,178	\$20,110	\$28,127	0.71	\$25,613	0.79	\$24,895	0.81	
560 Vaginal Delivery	\$10,484	\$10,917	\$14,391	0.76	\$12,456	0.88	\$12,167	0.90	
640 Normal Newborn, Birthweight 2500g+	\$3,300	\$3,188	\$5,018	0.64	\$4,463	0.71	\$4,719	0.68	
720 Blood Infection/Septicemia	\$44,197	\$44,524	\$60,389	0.74	\$41,728	1.07	\$44,340	1.00	
751 Psychoses	\$8,512	#	#	#	#	#	#	#	
775 Alcohol Abuse/Dependence	\$13,567	#	#	#	#	#	#	#	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

168 Aurora Sinai Medical Center 945 N 12th Street, PO Box 342

Milwaukee, WI 53233

414-219-2000

85 & Over

1.8%

2.9%

Hospital Type: GMS

County: Milwaukee Analysis Area: 2B-Milwaukee County

Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>	
Total Discharges:	8,742	Average Length of Stay (days):	4.9	<u>Discharge Status</u>	% Discharges	
Total Patient Days:	42,641	Average Charge per Discharge:	\$41,552	Home or Self-Care	83.2%	
Total Fatient Days.	42,041	Average Charge per Discharge.	Ψ41,332	Other GMS Hospital	0.3%	
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%	
Normal Childbirths:	1,495	Percent of All Childbirths:	65.4%	Skilled Nursing Facility	2.8%	
Cesarean Childbirths:	623	Percent of All Childbirths:	27.3%	Intermediate Care Facility	0.4%	
Other Childbirths:	167	Percent of All Childbirths:	7.3%	Inpatient Rehabilitation Facility	0.7%	
Total Childbirths:	2,285		,	Hospice	0.8%	
				Other Institution	0.2%	
Total Newborns:	2,322			Home Health Service	6.6%	
Psychiatric Utilization				Left Against Medical Advice	3.3%	
r sychiatric othization				Expired	0.8%	
Discharges:	182	Percent of All Discharges:	2.1%	Discharge/Tran to Court/Law Enforcmnt	0.4%	
Patient Days:	981	Percent of All Patient Days:	2.3%	Other	0.4%	
				<b>Expected Pay Source Distribution</b>		
AODA Utilization				Primary Payer	% Discharges	
Discharges:	101	Percent of All Discharges:	1.2%	Medicare	18.0%	
Patient Days:	454	Percent of All Patient Days:	1.1%	Medicaid/BadgerCare	53.3%	
				Other Government	1.9%	
				Commercial or Private Insurance	16.1%	
				Self-Pay	10.7%	
				Other or Unknown Insurance	0.0%	

	Age Distribution			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	26.6%	30.9%	Male	34.1%	41.3%	Amer.Ind/Alaskan Native	e 0.3%	0.5%	
Under 15	0.6%	1.7%	Female	65.9%	58.7%	Asian	5.6%	4.4%	
15 - 19	2.7%	1.6%				Black/African Amer.	62.9%	62.5%	
20 - 24	8.9%	5.4%				Native Hawaii/Pac.Isl.	0.5%	0.6%	
25 - 34	20.5%	13.4%				White	28.7%	29.9%	
35 - 44	9.4%	7.6%				Multiracial	0.6%	0.4%	
45 - 54	7.7%	8.8%				Declined	0.4%	0.5%	
55 - 64	11.7%	13.0%				Unavailable	1.0%	1.2%	
65 - 74	6.8%	8.7%							
75 - 84	3.5%	6.1%							

	This Facil	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	99	6.5	5.3	1.23	4.5	1.44	4.5	1.44
139 Pneumonia	88	3.8	4.4	0.86	4.2	0.90	4.0	0.95
140 Chronic Obstructive Pulmonary Disease	54	3.2	3.8	0.84	3.6	0.89	3.6	0.89
174 Percutaneous coronary intervention w AMI	41	3.5	3.7	0.95	3.0	1.17	3.0	1.17
194 Heart Failure	213	6.3	5.6	1.13	4.6	1.37	4.6	1.37
201 Heart Abnormal Rhythm and Conduction Disorders	38	5.4	3.3	1.64	2.9	1.86	2.8	1.93
301 Hip Replacement	173	2.9	3.0	0.97	2.2	1.32	2.3	1.26
302 Knee Replacement	137	2.3	2.2	1.05	2.0	1.15	2.0	1.15
469 Acute kidney injury	70	7.0	6.3	1.11	4.7	1.49	4.6	1.52
540 Cesarean Delivery	623	4.5	4.0	1.13	3.3	1.36	3.6	1.25
560 Vaginal Delivery	1,495	2.5	2.3	1.09	2.1	1.19	2.2	1.14
640 Normal Newborn, Birthweight 2500g+	1,842	2.3	2.2	1.05	2.1	1.10	2.1	1.10
720 Blood Infection/Septicemia	238	6.9	6.8	1.01	5.5	1.25	5.5	1.25
751 Psychoses	28	4.3	4.9	0.88	4.7	0.91	5.1	0.84
775 Alcohol Abuse/Dependence	53	6.3	4.2	1.50	3.8	1.66	3.7	1.70

	This Fac	This Facility		Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
133 Respiratory failure	\$48,607	\$47,959	\$45,568	1.05	\$35,487	1.35	\$36,517	1.31		
139 Pneumonia	\$35,056	\$34,321	\$34,436	1.00	\$27,529	1.25	\$26,154	1.31		
140 Chronic Obstructive Pulmonary Disease	\$30,115	\$28,677	\$28,350	1.01	\$23,968	1.20	\$23,596	1.22		
174 Percutaneous coronary intervention w AMI	\$107,578	\$104,316	\$95,865	1.09	\$72,860	1.43	\$73,175	1.43		
194 Heart Failure	\$46,201	\$45,639	\$39,457	1.16	\$28,982	1.57	\$29,512	1.55		
201 Heart Abnormal Rhythm and Conduction Disorders	\$45,820	\$42,980	\$26,831	1.60	\$21,611	1.99	\$21,125	2.03		
301 Hip Replacement	\$76,898	\$75,490	\$67,785	1.11	\$52,206	1.45	\$50,854	1.48		
302 Knee Replacement	\$77,671	\$76,912	\$60,857	1.26	\$50,848	1.51	\$48,781	1.58		
469 Acute kidney injury	\$57,042	\$53,384	\$43,644	1.22	\$29,340	1.82	\$29,600	1.80		
540 Cesarean Delivery	\$40,285	\$35,079	\$28,127	1.25	\$25,613	1.37	\$24,895	1.41		
560 Vaginal Delivery	\$19,482	\$18,009	\$14,391	1.25	\$12,456	1.45	\$12,167	1.48		
640 Normal Newborn, Birthweight 2500g+	\$5,951	\$5,457	\$5,018	1.09	\$4,463	1.22	\$4,719	1.16		
720 Blood Infection/Septicemia	\$64,979	\$70,736	\$60,389	1.17	\$41,728	1.70	\$44,340	1.60		
751 Psychoses	\$21,990	#	#	#	#	#	#	#		
775 Alcohol Abuse/Dependence	\$29,223	#	#	#	#	#	#	#		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 087 Aurora St Luke's Medical Center

2900 W Oklahoma Avenue

Milwaukee, WI 53215

414-649-6000

85 & Over

10.2%

10.2%

Hospital Type: GMS

County: Milwaukee

Analysis Area: 2B-Milwaukee County

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>IS</u>
Total Discharges:	24,826	Average Length of Stay (days):	6.5	Discharge Status	% Discharges
Total Patient Days:	160,750	Average Charge per Discharge:	\$93,156	Home or Self-Care	52.3%
Iotal Fatient Days.	100,730	Average Charge per Discharge.	φ95,156	Other GMS Hospital	0.6%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	3	Percent of All Childbirths:	100.0%	Skilled Nursing Facility	12.3%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	1.2%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	3.5%
Total Childbirths:	3		0.070	Hospice	2.7%
Total Officialitis.	3			Other Institution	0.0%
Total Newborns:	0			Home Health Service	22.7%
Develoistais Hillimatica				Left Against Medical Advice	1.5%
Psychiatric Utilization				Expired	2.6%
Discharges:	193	Percent of All Discharges:	0.8%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	863	Percent of All Patient Days:	0.5%	Other	0.7%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	206	Percent of All Discharges:	0.8%	Medicare	62.2%
Patient Days:	843	Percent of All Patient Days:	0.5%	Medicaid/BadgerCare	12.7%
				Other Government	1.6%
				Commercial or Private Insurance	21.0%
				Self-Pay	2.5%
				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days		
Newborn	0.0%	0.0%	Male	51.6%	52.6%	Amer.Ind/Alaskan Native	e 0.4%	0.4%		
Under 15	0.0%	0.0%	Female	48.4%	47.4%	Asian	1.7%	1.8%		
15 - 19	0.3%	0.2%				Black/African Amer.	13.8%	15.3%		
20 - 24	0.8%	0.6%				Native Hawaii/Pac.Isl.	0.2%	0.3%		
25 - 34	3.8%	3.1%				White	83.4%	81.8%		
35 - 44	6.1%	5.3%				Multiracial	0.3%	0.2%		
45 - 54	12.4%	11.4%				Declined	0.2%	0.1%		
55 - 64	23.1%	22.7%				Unavailable	0 %	0 %		
65 - 74	24.6%	26.6%								
75 - 84	18.6%	20.0%								

	This Facil	ity	Group Averages					
			<u>Analysis Area</u>		Inpatient V	Inpatient Volume Group		ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	478	5.1	5.6	0.91	4.6	1.11	4.2	1.21
133 Respiratory failure	412	6.2	5.3	1.17	4.9	1.27	4.5	1.38
139 Pneumonia	394	5.1	4.4	1.16	4.2	1.21	4.0	1.28
174 Percutaneous coronary intervention w AMI	501	4.2	3.7	1.14	3.0	1.40	3.0	1.40
175 Percutaneous coronary intervention w/o AMI	709	3.9	3.6	1.08	3.1	1.26	3.1	1.26
194 Heart Failure	1,176	6.1	5.6	1.09	5.0	1.22	4.6	1.33
201 Heart Abnormal Rhythm and Conduction Disorders	555	3.4	3.3	1.03	2.9	1.17	2.8	1.21
301 Hip Replacement	426	2.4	3.0	0.80	2.5	0.96	2.3	1.04
302 Knee Replacement	421	1.9	2.2	0.86	2.1	0.90	2.0	0.95
469 Acute kidney injury	314	7.0	6.3	1.11	5.2	1.35	4.6	1.52
540 Cesarean Delivery	0	N/A	4.0	N/A	4.0	N/A	3.6	N/A
560 Vaginal Delivery	*	*	2.3	*	2.3	*	2.2	*
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.2	N/A	2.2	N/A	2.1	N/A
720 Blood Infection/Septicemia	1,218	7.5	6.8	1.10	6.1	1.23	5.5	1.36
751 Psychoses	27	4.0	4.9	0.82	5.1	0.78	5.1	0.78

•	_	• • •	•	•	•	•		
	This Fac	Risk Adjusted Group Averages						
-DRG # and Description	Average Charge	Risk Adjusted Average Charge	Analysis Area Average Charge Ratio		Inpatient Volume Group Average Charge Ratio		All GMS Ho Average Charge	ospitals Ratio
Stroke and Precerebral Occlusion with Infarct	\$69,263	\$65,146	\$54,536	1.19	\$43,048	1.51	\$39,987	1.63
Respiratory failure	\$59,996	\$54,872	\$45,568	1.20	\$39,891	1.38	\$36,517	1.50
Pneumonia	\$45,868	\$41,299	\$34,436	1.20	\$29,201	1.41	\$26,154	1.58
Percutaneous coronary intervention w AMI	\$110,230	\$107,038	\$95,865	1.12	\$73,358	1.46	\$73,175	1.46
Percutaneous coronary intervention w/o AMI	\$166,493	\$154,098	\$136,926	1.13	\$109,236	1.41	\$106,404	1.45
Heart Failure	\$49,764	\$47,683	\$39,457	1.21	\$32,710	1.46	\$29,512	1.62
Heart Abnormal Rhythm and Conduction Disorders	\$29,490	\$29,619	\$26,831	1.10	\$22,164	1.34	\$21,125	1.40
Hip Replacement	\$82,075	\$79,871	\$67,785	1.18	\$53,491	1.49	\$50,854	1.57
Knee Replacement	\$79,111	\$77,576	\$60,857	1.27	\$52,844	1.47	\$48,781	1.59
Acute kidney injury	\$61,551	\$53,811	\$43,644	1.23	\$33,062	1.63	\$29,600	1.82
Cesarean Delivery	N/A	N/A	\$28,127	*	\$25,062	*	\$24,895	*
Vaginal Delivery	*	*	\$14,391	*	\$12,661	*	\$12,167	*
Normal Newborn, Birthweight 2500g+	N/A	N/A	\$5,018	*	\$5,036	*	\$4,719	*
Blood Infection/Septicemia	\$78,516	\$73,826	\$60,389	1.22	\$50,089	1.47	\$44,340	1.66
Psychoses	\$21,048	#	#	#	#	#	#	#
	Respiratory failure Pneumonia Percutaneous coronary intervention w AMI Percutaneous coronary intervention w/o AMI Heart Failure Heart Abnormal Rhythm and Conduction Disorders Hip Replacement Knee Replacement Acute kidney injury Cesarean Delivery Vaginal Delivery Normal Newborn, Birthweight 2500g+	Average C-DRG # and Description  Stroke and Precerebral Occlusion with Infarct Respiratory failure Pneumonia Percutaneous coronary intervention w AMI Percutaneous coronary intervention w/o AMI Percutaneous coronary intervention w/o AMI Percutaneous coronary intervention w/o AMI S110,230 Percutaneous coronary intervention w/o AMI Heart Failure Heart Abnormal Rhythm and Conduction Disorders Hip Replacement Knee Replacement S82,075 Knee Replacement F79,111 Acute kidney injury Cesarean Delivery N/A Vaginal Delivery Normal Newborn, Birthweight 2500g+ Blood Infection/Septicemia  Average Charge Average S49,263 Respiratory S19,996 Postory S10,230 Postory	Adjusted Average Average Charge Stroke and Precerebral Occlusion with Infarct \$69,263 \$65,146 Respiratory failure \$59,996 \$54,872 Pneumonia \$45,868 \$41,299 Percutaneous coronary intervention w AMI \$110,230 \$107,038 Percutaneous coronary intervention w/o AMI \$166,493 \$154,098 Heart Failure \$49,764 \$47,683 Heart Abnormal Rhythm and Conduction Disorders \$29,490 \$29,619 Hip Replacement \$82,075 \$79,871 Knee Replacement \$79,111 \$77,576 Acute kidney injury \$61,551 \$53,811 Cesarean Delivery N/A N/A N/A Vaginal Delivery Normal Newborn, Birthweight 2500g+ N/A N/A Blood Infection/Septicemia \$73,826	Risk Adjusted Average Charge Stroke and Precerebral Occlusion with Infarct \$69,263 \$65,146 \$54,536 Respiratory failure \$59,996 \$54,872 \$45,568 Pneumonia \$45,868 \$41,299 \$34,436 Percutaneous coronary intervention w AMI \$110,230 \$107,038 \$95,865 Percutaneous coronary intervention w/o AMI \$166,493 \$154,098 \$136,926 Heart Failure \$49,764 \$47,683 \$39,457 Heart Abnormal Rhythm and Conduction Disorders \$29,490 \$29,619 \$26,831 Hip Replacement \$82,075 \$79,871 \$67,785 Knee Replacement \$79,111 \$77,576 \$60,857 Acute kidney injury \$61,551 \$53,811 \$43,644 Cesarean Delivery N/A N/A \$28,127 Vaginal Delivery * * * \$14,391 Normal Newborn, Birthweight 2500g+ N/A N/A \$5,018 Blood Infection/Septicemia \$78,516 \$73,826 \$60,389	Risk Adjusted Average Average Charge Ratio	Risk Adjusted Average   Average Charge   Charg	Risk Adjusted Average Charge Charge Charge Charge Charge Ratio   Ratio Charge Ratio   Ratio   Respiratory failure   S59,996   S54,872   \$45,568   1.20   \$39,891   1.38   Respiratory failure   S45,868   \$41,299   \$34,436   1.20   \$29,201   1.41   Respiratory intervention w AMI   \$110,230   \$107,038   \$95,865   1.12   \$73,358   1.46   Reart Abnormal Rhythm and Conduction Disorders   S29,490   \$29,490   \$29,619   \$26,831   1.10   \$22,164   1.34   Replacement   \$82,075   \$79,871   \$67,785   1.18   \$53,491   1.49   Ratio Replacement   \$79,111   \$77,576   \$60,857   1.27   \$52,844   1.47   Replacement   Rhythm and Conduction Disorders   S29,490   S28,127   * \$25,062   * Vaginal Delivery   N/A N/A   \$28,127   * \$25,062   * \$100   N/A   \$14,391   * \$15,036   * \$100   N/A   \$50,089   1.22   \$50,089   1.47   \$100   \$100   N/A   \$100   \$100   N/A   \$100   \$100   N/A   \$100	Risk Adjusted Average

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 075 Children's Wisconsin-Milwaukee Hospital

9000 W Wisconsin Ave, PO Box 1997

Milwaukee, WI 53201

414-266-2000

Hospital Type: GMS

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Detient	Disabanas	Ctatura
ratient	Discharge	อเสเนร

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	9,416	Average Length of Stay (days):	7.0	Discharge Status	% Discharges
Total Patient Days:	65,974	Average Charge per Discharge:	\$74,126	Home or Self-Care Other GMS Hospital	85.3% 0.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	0 0 0 0 3	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	0.0% 0.0% 0.2% 0.4% 0.2% 11.2% 0.0% 1.0%
Patient Days:	412	Percent of All Patient Days:	0.6%		1.1%
AODA Utilization  Discharges: Patient Days:	6 30	Percent of All Discharges: Percent of All Patient Days:	0.1% 0.0%	Expected Pay Source Distrib Primary Payer Medicare Medicaid/BadgerCare	<u>% Discharges</u> 0.2% 52.1%
. 2	33	. c.ss s sasık baya.	0.070	Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	1.0% 44.8% 1.0% 0.9%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	53.3%	55.5%	Amer.Ind/Alaskan Native	0.4%	0.4%
Under 15	83.4%	86.9%	Female	46.7%	44.5%	Asian	3.5%	4.1%
15 - 19	14.8%	11.3%				Black/African Amer.	24.6%	22.7%
20 - 24	1.3%	1.3%				Native Hawaii/Pac.Isl.	0.2%	0.2%
25 - 34	0.4%	0.3%				White	65.2%	63.0%
35 - 44	0.1%	0.0%				Multiracial	0.0%	0.0%
45 - 54	0.0%	0.0%				Declined	2.2%	1.7%
55 - 64	0.0%	0.0%				Unavailable	3.9%	8.1%
65 - 74	0.0%	0.0%						
75 - 84	0.0%	0.0%						
85 & Over	0.0%	0.0%						

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient Volume Group		All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
045 Stroke and Precerebral Occlusion with Infarct	*	*	5.6	*	4.6	*	4.2	*	
133 Respiratory failure	324	4.7	5.3	0.89	4.9	0.96	4.5	1.04	
139 Pneumonia	233	4.0	4.4	0.91	4.2	0.95	4.0	1.00	
174 Percutaneous coronary intervention w AMI	0	N/A	3.7	N/A	3.0	N/A	3.0	N/A	
175 Percutaneous coronary intervention w/o AMI	11	1.1	3.6	0.31	3.1	0.35	3.1	0.35	
194 Heart Failure	13	7.0	5.6	1.25	5.0	1.40	4.6	1.52	
201 Heart Abnormal Rhythm and Conduction Disorders	28	3.6	3.3	1.09	2.9	1.24	2.8	1.29	
301 Hip Replacement	0	N/A	3.0	N/A	2.5	N/A	2.3	N/A	
302 Knee Replacement	0	N/A	2.2	N/A	2.1	N/A	2.0	N/A	
469 Acute kidney injury	28	6.0	6.3	0.95	5.2	1.15	4.6	1.30	
540 Cesarean Delivery	0	N/A	4.0	N/A	4.0	N/A	3.6	N/A	
560 Vaginal Delivery	0	N/A	2.3	N/A	2.3	N/A	2.2	N/A	
640 Normal Newborn, Birthweight 2500g+	237	1.7	2.2	0.77	2.2	0.77	2.1	0.81	
720 Blood Infection/Septicemia	260	7.5	6.8	1.10	6.1	1.23	5.5	1.36	
751 Psychoses	*	*	4.9	*	J 5.1	*	5.1	*	

		ility	Risk Adjusted Group Averages							
APR-DRG # and Description		Average Charge	Risk Adjusted Average Charge	<u>Analysis Area</u> Average Charge Ratio		Inpatient Volume Group Average Charge Ratio		All GMS Ho Average Charge	ospitals Ratio	
045	Stroke and Precerebral Occlusion with Infarct	*	*	\$54,536	*	\$43,048	*	\$39,987	*	
133	Respiratory failure	\$44,046	\$48,543	\$45,568	1.07	\$39,891	1.22	\$36,517	1.33	
139	Pneumonia	\$31,921	\$37,332	\$34,436	1.08	\$29,201	1.28	\$26,154	1.43	
174	Percutaneous coronary intervention w AMI	N/A	N/A	\$95,865	*	\$73,358	*	\$73,175	*	
175	Percutaneous coronary intervention w/o AMI	\$106,007	\$135,855	\$136,926	0.99	\$109,236	1.24	\$106,404	1.28	
194	Heart Failure	\$58,678	\$51,980	\$39,457	1.32	\$32,710	1.59	\$29,512	1.76	
201	Heart Abnormal Rhythm and Conduction Disorders	\$28,399	\$28,609	\$26,831	1.07	\$22,164	1.29	\$21,125	1.35	
301	Hip Replacement	N/A	N/A	\$67,785	*	\$53,491	*	\$50,854	*	
302	Knee Replacement	N/A	N/A	\$60,857	*	\$52,844	*	\$48,781	*	
469	Acute kidney injury	\$55,295	\$42,346	\$43,644	0.97	\$33,062	1.28	\$29,600	1.43	
540	Cesarean Delivery	N/A	N/A	\$28,127	*	\$25,062	*	\$24,895	*	
560	Vaginal Delivery	N/A	N/A	\$14,391	*	\$12,661	*	\$12,167	*	
640	Normal Newborn, Birthweight 2500g+	\$10,334	\$7,541	\$5,018	1.50	\$5,036	1.50	\$4,719	1.60	
720	Blood Infection/Septicemia	\$75,236	\$71,188	\$60,389	1.18	\$50,089	1.42	\$44,340	1.61	
751	Psychoses	*	#	#	*	#	*	#	*	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

079 Froedtert Hospital 9200 W Wisconsin Ave, PO Box 26099

Milwaukee, WI 53226

414-805-3000

Hospital Type: GMS

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	35,043	Average Length of Stay (days):	5.6	Discharge Status	% Discharges
Total Patient Days:	197,730	Average Charge per Discharge:	\$73,486	Home or Self-Care Other GMS Hospital	65.9% 0.3%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths:	2,018 886 197	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	65.1% 28.6% 6.4%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility	9.1% 0.6% 1.8%
Total Childbirths:	3,101			Hospice Other Institution	2.5% 1.3%
Total Newborns:  Psychiatric Utilization	3,191			Home Health Service Left Against Medical Advice	12.8% 1.1%
	400	Develop of All Discharges	0.5%	Expired Discharge/Tran to Court/Law Enforcmnt	2.3%
Discharges: Patient Days:	182 1,234	Percent of All Discharges: Percent of All Patient Days:	0.6%	Other	0.3% 2.0%
				Expected Pay Source Distrib	oution
AODA Utilization				Primary Payer	% Discharges
Discharges:	203	Percent of All Discharges:	0.6%	Medicare	43.3%
Patient Days:	655	Percent of All Patient Days:	0.3%	Medicaid/BadgerCare	21.1%
				Other Government	1.2%
				Commercial or Private Insurance	31.9%
				Self-Pay	2.3%
				Other or Unknown Insurance	0.1%

Age Distribution				Sex Distribution	<u>n</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days		
Newborn	9.1%	3.3%	Male	45.9%	50.5%	Amer.Ind/Alaskan Native	0.4%	0.4%		
Under 15	0.2%	0.1%	Female	54.1%	49.5%	Asian	1.8%	1.6%		
15 - 19	1.0%	0.8%				Black/African Amer.	27.2%	27.9%		
20 - 24	4.0%	3.2%				Native Hawaii/Pac.Isl.	0.1%	0.1%		
25 - 34	12.8%	9.7%				White	61.4%	64.0%		
35 - 44	9.7%	8.6%				Multiracial	0.0%	0.0%		
45 - 54	11.4%	13.2%				Declined	0.2%	0.1%		
55 - 64	17.8%	22.1%				Unavailable	8.9%	5.9%		
65 - 74	17.4%	21.2%								
75 - 84	10.6%	12.1%								
85 & Over	6.1%	5.8%								

	This Facili	ity	Group Averages					
			Analys	Analysis Area Inpatient Volume Group			All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	502	6.3	5.6	1.13	4.6	1.37	4.2	1.50
133 Respiratory failure	415	5.5	5.3	1.04	4.9	1.12	4.5	1.22
139 Pneumonia	402	4.3	4.4	0.98	4.2	1.02	4.0	1.08
174 Percutaneous coronary intervention w AMI	203	2.9	3.7	0.78	3.0	0.97	3.0	0.97
175 Percutaneous coronary intervention w/o AMI	266	2.5	3.6	0.69	3.1	0.81	3.1	0.81
194 Heart Failure	862	5.2	5.6	0.93	5.0	1.04	4.6	1.13
201 Heart Abnormal Rhythm and Conduction Disorders	352	2.9	3.3	0.88	2.9	1.00	2.8	1.04
301 Hip Replacement	157	8.1	3.0	2.70	2.5	3.24	2.3	3.52
302 Knee Replacement	58	9.0	2.2	4.09	2.1	4.29	2.0	4.50
469 Acute kidney injury	316	5.8	6.3	0.92	5.2	1.12	4.6	1.26
540 Cesarean Delivery	886	4.1	4.0	1.03	4.0	1.03	3.6	1.14
560 Vaginal Delivery	2,018	2.3	2.3	1.00	2.3	1.00	2.2	1.05
640 Normal Newborn, Birthweight 2500g+	2,524	2.1	2.2	0.95	2.2	0.95	2.1	1.00
720 Blood Infection/Septicemia	1,295	7.1	6.8	1.04	6.1	1.16	5.5	1.29
751 Psychoses	19	15.9	4.9	3.24	5.1	3.12	J 5.1	3.12

•	•		_	•	-	•		
	This Fac	ility			Risk Adjusted Group Averages			
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
045 Stroke and Precerebral Occlusion with Infarct	\$53,445	\$49,295	\$54,536	0.90	\$43,048	1.15	\$39,987	1.23
133 Respiratory failure	\$55,027	\$45,490	\$45,568	1.00	\$39,891	1.14	\$36,517	1.25
139 Pneumonia	\$37,059	\$33,943	\$34,436	0.99	\$29,201	1.16	\$26,154	1.30
174 Percutaneous coronary intervention w AMI	\$96,552	\$96,733	\$95,865	1.01	\$73,358	1.32	\$73,175	1.32
175 Percutaneous coronary intervention w/o AMI	\$132,557	\$119,553	\$136,926	0.87	\$109,236	1.09	\$106,404	1.12
194 Heart Failure	\$38,248	\$36,380	\$39,457	0.92	\$32,710	1.11	\$29,512	1.23
201 Heart Abnormal Rhythm and Conduction Disorders	\$25,739	\$24,402	\$26,831	0.91	\$22,164	1.10	\$21,125	1.16
301 Hip Replacement	\$124,700	\$109,279	\$67,785	1.61	\$53,491	2.04	\$50,854	2.15
302 Knee Replacement	\$160,389	\$121,919	\$60,857	2.00	\$52,844	2.31	\$48,781	2.50
469 Acute kidney injury	\$46,914	\$43,787	\$43,644	1.00	\$33,062	1.32	\$29,600	1.48
540 Cesarean Delivery	\$30,929	\$29,740	\$28,127	1.06	\$25,062	1.19	\$24,895	1.19
560 Vaginal Delivery	\$15,911	\$15,655	\$14,391	1.09	\$12,661	1.24	\$12,167	1.29
640 Normal Newborn, Birthweight 2500g+	\$3,912	\$3,534	\$5,018	0.70	\$5,036	0.70	\$4,719	0.75
720 Blood Infection/Septicemia	\$77,918	\$66,786	\$60,389	1.11	\$50,089	1.33	\$44,340	1.51
751 Psychoses	\$33,148	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

091 Monroe Clinic 515 22nd Ave Monroe, WI 53566

608-324-1000

Hospital Type: GMS
County: Green

Analysis Area: 1-Southern

Overall Hospital Utilization			Patient Discharge Statu	<u>IS</u>
Total Discharges: 2,827	Average Length of Stay (days):	3.1	<u>Discharge Status</u>	% Discharges
Total Patient Days: 8,674	Average Charge per Discharge:	\$28,676	Home or Self-Care	71.8%
o,or	Average charge per bischarge.	Ψ20,070	Other GMS Hospital	4.7%
Obstetrical Utilization			Critical Access Hospital (CAH)	0.0%
Normal Childbirths: 282	Percent of All Childbirths:	68.3%	Skilled Nursing Facility	13.8%
Cesarean Childbirths: 114	Percent of All Childbirths:	27.6%	Intermediate Care Facility	1.9%
Other Childbirths: 17	Percent of All Childbirths:	4.1%	Inpatient Rehabilitation Facility	0.1%
Total Childbirths: 413			Hospice Other Institution	1.8% 0.0%
Total Newborns: 387			Home Health Service	3.4%
Total Newborns. 507				3.4% 0.5%
Psychiatric Utilization			Left Against Medical Advice Expired	1.6%
Discharges:	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:		0.1%	Other	0.3%
			<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization			Primary Payer	% Discharges
Discharges: 18	Percent of All Discharges:	0.6%	Medicare	42.7%
Patient Days: 69	Percent of All Patient Days:	0.8%	Medicaid/BadgerCare	14.5%
			Other Government	0.2%
			Commercial or Private Insurance	41.1%
			Self-Pay	1.3%
			Other or Unknown Insurance	0.2%

	Age Distribution			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	13.7%	7.9%	Male	40.6%	43.2%	Amer.Ind/Alaskan Native	0.4%	0.3%	
Under 15	1.3%	0.8%	Female	59.4%	56.8%	Asian	0.2%	0.2%	
15 - 19	0.7%	0.5%				Black/African Amer.	3.3%	2.5%	
20 - 24	3.7%	3.0%				Native Hawaii/Pac.Isl.	0.1%	0.1%	
25 - 34	11.2%	8.4%				White	94.5%	95.9%	
35 - 44	5.3%	5.5%				Multiracial	0.0%	0.0%	
45 - 54	6.5%	7.5%				Declined	1.2%	0.8%	
55 - 64	12.2%	13.3%				Unavailable	0.2%	0.2%	
65 - 74	15.6%	16.3%							
75 - 84	17.2%	21.2%							
85 & Over	12.6%	15.6%							

	This Facil	ity	Group Averages					
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	66	3.6	4.1	0.88	3.6	1.00	4.5	0.80
139 Pneumonia	83	3.0	3.7	0.81	3.5	0.86	4.0	0.75
140 Chronic Obstructive Pulmonary Disease	45	3.0	3.6	0.83	3.2	0.94	3.6	0.83
194 Heart Failure	161	4.0	4.5	0.89	3.6	1.11	4.6	0.87
201 Heart Abnormal Rhythm and Conduction Disorders	43	2.3	2.8	0.82	2.5	0.92	2.8	0.82
301 Hip Replacement	76	1.8	2.2	0.82	1.9	0.95	2.3	0.78
302 Knee Replacement	92	1.4	2.0	0.70	1.7	0.82	2.0	0.70
383 Cellulitis & other skin infections	69	3.6	4.0	0.90	3.5	1.03	4.0	0.90
463 Kidney/Urinary Tract Infection	37	2.9	3.4	0.85	3.1	0.94	3.6	0.81
469 Acute kidney injury	46	3.1	4.3	0.72	3.3	0.94	4.6	0.67
540 Cesarean Delivery	114	3.1	3.9	0.79	2.9	1.07	3.6	0.86
560 Vaginal Delivery	282	1.9	2.3	0.83	2.0	0.95	2.2	0.86
640 Normal Newborn, Birthweight 2500g+	374	1.7	2.1	0.81	1.9	0.89	2.1	0.81
720 Blood Infection/Septicemia	140	5.0	5.5	0.91	4.2	1.19	5.5	0.91
775 Alcohol Abuse/Dependence	16	3.8	3.4	1.12	3.7	1.03	3.7	1.03

	This Fac	ility		Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
133 Respiratory failure	\$30,828	\$32,567	\$42,179	0.77	\$31,273	1.04	\$36,517	0.89	
139 Pneumonia	\$22,744	\$21,971	\$28,774	0.76	\$23,233	0.95	\$26,154	0.84	
140 Chronic Obstructive Pulmonary Disease	\$21,556	\$23,946	\$28,251	0.85	\$21,959	1.09	\$23,596	1.01	
194 Heart Failure	\$27,626	\$26,559	\$33,598	0.79	\$25,091	1.06	\$29,512	0.90	
201 Heart Abnormal Rhythm and Conduction Disorders	\$19,362	\$20,723	\$23,719	0.87	\$19,443	1.07	\$21,125	0.98	
301 Hip Replacement	\$44,497	\$45,648	\$49,942	0.91	\$45,617	1.00	\$50,854	0.90	
302 Knee Replacement	\$42,418	\$44,430	\$43,613	1.02	\$43,239	1.03	\$48,781	0.91	
383 Cellulitis & other skin infections	\$24,839	\$25,913	\$24,297	1.07	\$19,644	1.32	\$21,953	1.18	
463 Kidney/Urinary Tract Infection	\$23,850	\$24,514	\$24,396	1.00	\$19,748	1.24	\$22,097	1.11	
469 Acute kidney injury	\$21,296	\$20,808	\$32,366	0.64	\$23,728	0.88	\$29,600	0.70	
540 Cesarean Delivery	\$33,792	\$37,147	\$28,792	1.29	\$24,480	1.52	\$24,895	1.49	
560 Vaginal Delivery	\$14,061	\$14,860	\$13,875	1.07	\$11,116	1.34	\$12,167	1.22	
640 Normal Newborn, Birthweight 2500g+	\$3,289	\$3,534	\$5,441	0.65	\$4,155	0.85	\$4,719	0.75	
720 Blood Infection/Septicemia	\$43,419	\$40,110	\$52,049	0.77	\$33,720	1.19	\$44,340	0.90	
775 Alcohol Abuse/Dependence	\$28,758	#	#	#	#	#	#	#	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

194 Children's Wisconsin-Fox Valley Hospital

130 Second Street, PO Box 476

Neenah, WI 54956

Hospital Type: GMS

County: Winnebago

Analysis Area: 3-Lake Winnebago

920-969-7900				Inpatient Volume Group: 3	-
Overall Hospital Utilization				Patient Discharge Statu	<u></u>
Total Discharges:	522	Average Length of Stay (days):	10.5	Discharge Status	% Discharges
Total Patient Days:	5,485	Average Charge per Discharge:	\$44,738	Home or Self-Care Other GMS Hospital	87.2% 5.6%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges: Percent of All Patient Days:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	0.0% 0.0% 0.0% 0.0% 3.8% 0.2% 0.0% 0.8% 0.0% 2.5%
Patient Days:	0	reicent of All Fallent Days.	0.0%		
AODA Utilization				Expected Pay Source Distri	<u>% Discharges</u>
Discharges:	0	Percent of All Discharges:	0.0%	Medicare	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	40.0% 1.3% 56.7% 1.9% 0.0%

Age Distribution				Sex Distribution	<u>n</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days		
Newborn	0.0%	0.0%	Male	52.5%	49.4%	Amer.Ind/Alaskan Native	e 1.0%	0.6%		
Under 15	96.2%	99.1%	Female	47.5%	50.6%	Asian	1.5%	2.9%		
15 - 19	3.8%	0.9%				Black/African Amer.	2.9%	2.5%		
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	1.1%	0.2%		
25 - 34	0.0%	0.0%				White	86.4%	91.4%		
35 - 44	0.0%	0.0%				Multiracial	0.0%	0.0%		
45 - 54	0.0%	0.0%				Declined	2.9%	0.6%		
55 - 64	0.0%	0.0%				Unavailable	4.2%	1.9%		
65 - 74	0.0%	0.0%								
75 - 84	0.0%	0.0%								
85 & Over	0.0%	0.0%								

	This Facil	ity	Group Averages							
			Analysis Area		Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	5	4.0	4.0	1.00	3.2	1.25	4.5	0.89		
139 Pneumonia	30	2.2	3.5	0.63	3.3	0.67	4.0	0.55		
140 Chronic Obstructive Pulmonary Disease	0	N/A	2.9	N/A	2.9	N/A	3.6	N/A		
194 Heart Failure	*	*	3.8	*	3.4	*	4.6	*		
201 Heart Abnormal Rhythm and Conduction Disorders	0	N/A	2.7	N/A	2.3	N/A	2.8	N/A		
247 Intestinal Obstruction without Surgery	0	N/A	3.2	N/A	2.7	N/A	3.5	N/A		
301 Hip Replacement	0	N/A	2.2	N/A	2.1	N/A	2.3	N/A		
302 Knee Replacement	0	N/A	1.8	N/A	1.9	N/A	2.0	N/A		
383 Cellulitis & other skin infections	*	*	3.6	*	3.6	*	4.0	*		
463 Kidney/Urinary Tract Infection	10	3.1	2.9	1.07	2.9	1.07	3.6	0.86		
469 Acute kidney injury	0	N/A	4.0	N/A	2.8	N/A	4.6	N/A		
540 Cesarean Delivery	0	N/A	3.2	N/A	3.0	N/A	3.6	N/A		
560 Vaginal Delivery	0	N/A	2.0	N/A	1.9	N/A	2.2	N/A		
640 Normal Newborn, Birthweight 2500g+	68	4.2	2.2	1.91	2.0	2.10	2.1	2.00		
720 Blood Infection/Septicemia	*	*	4.9	*	3.6	*	5.5	*		

					<u> </u>				
This Facility			Risk Adjusted Group Averages						
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
\$13,539	\$13,746	\$24,316	0.57	\$22,058	0.62	\$36,517	0.38		
\$7,031	\$9,545	\$17,991	0.53	\$18,736	0.51	\$26,154	0.36		
N/A	N/A	\$16,011	*	\$16,687	*	\$23,596	*		
*	*	\$17,633	*	\$18,675	*	\$29,512	*		
N/A	N/A	\$15,459	*	\$13,920	*	\$21,125	*		
N/A	N/A	\$13,760	*	\$13,214	*	\$21,879	*		
N/A	N/A	\$38,732	*	\$43,894	*	\$50,854	*		
N/A	N/A	\$35,838	*	\$45,311	*	\$48,781	*		
*	*	\$15,311	*	\$16,011	*	\$21,953	*		
\$8,327	\$9,209	\$14,397	0.64	\$13,197	0.70	\$22,097	0.42		
N/A	N/A	\$18,337	*	\$14,980	*	\$29,600	*		
N/A	N/A	\$14,869	*	\$21,375	*	\$24,895	*		
N/A	N/A	\$5,768	*	\$8,800	*	\$12,167	*		
\$15,858	\$9,511	\$3,376	2.82	\$3,780	2.52	\$4,719	2.02		
*	*	\$27,861	*	\$23,568	*	\$44,340	*		
	Average Charge \$13,539 \$7,031 N/A * N/A N/A N/A N/A N/A N/A N/A N/A	Risk Adjusted Average Charge Charge Charge Charge Charge  \$13,539 \$13,746 \$7,031 \$9,545 N/A	Risk Adjusted Average Charge C	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Charge Ratio  \$13,539 \$13,746 \$24,316 0.57 \$7,031 \$9,545 \$17,991 0.53 N/A N/A N/A \$16,011 * \$17,633 * \$17	Risk Adjusted Average Average Charge Charge Charge Charge Ratio Charge Ratio Charge States States States Charge States Charge Charge Charge Charge Charge Charge Charge Charge States Charge Charge Charge Charge Charge Charge Charge Charge States Charge Charge Charge States Charge Charge Charge Charge States Charge Charge Charge Charge States Charge Charge Charge States Charge Charge Charge States Charge Charge Charge Charge Charge Ratio Charge Charge States States Charge Charge States Charge Charge States Charge States Charge Charge Charge States Charge Charge Charge States Charge Cha	Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio Charge Ratio  \$13,539 \$13,746 \$24,316 0.57 \$22,058 0.62 \$7,031 \$9,545 \$17,991 0.53 \$18,736 0.51 N/A N/A \$16,011 * \$16,687 * \$17,633 * \$18,675 * N/A N/A \$15,459 * \$13,920 * N/A N/A \$13,760 * \$13,214 * N/A N/A \$38,732 * \$43,894 * N/A N/A \$35,838 * \$45,311 * \$16,011 * \$16,011 * \$18,327 \$9,209 \$14,397 0.64 \$13,197 0.70 N/A N/A N/A \$18,337 * \$14,980 * N/A N/A N/A N/A \$14,869 * \$21,375 * N/A N/A N/A N/A \$14,869 * \$21,375 * N/A N/A N/A N/A \$14,869 * \$21,375 * N/A N/A N/A N/A \$5,768 * \$8,800 * \$15,858 \$9,511 \$3,376 2.82 \$3,780 2.52	Risk Adjusted Average Charge Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Ra		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

092 ThedaCare Regional Medical Center - Neenah

130 Second Street, PO Box 2021

Neenah, WI 54956

920-729-3100

Hospital Type: GMS

Inpatient Volume Group: 6

County: Winnebago

Analysis Area: 3-Lake Winnebago

Patient Discharge Status
--------------------------

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	9,705	Average Length of Stay (days):	3.9	<u>Discharge Status</u>	% Discharges
Total Patient Days: 37	7,396	Average Charge per Discharge:	\$22,708	Home or Self-Care Other GMS Hospital	70.8% 3.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
	784 478 85 1,347 1,455	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths: Percent of All Discharges:	58.2% 35.5% 6.3%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt	10.2% 0.0% 1.6% 2.4% 0.0% 7.9% 0.4% 1.0%
_	4,932	Percent of All Patient Days:	13.2%	Other	1.4%
AODA Utilization  Discharges: Patient Days:	295 962	Percent of All Discharges: Percent of All Patient Days:	3.0% 2.6%	Expected Pay Source Distrib Primary Payer Medicare Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	9 Discharges 37.7% 15.3% 1.8% 41.4% 3.2% 0.5%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	15.0%	7.6%	Male	44.1%	48.0%	Amer.Ind/Alaskan Native	e 1.5%	1.9%	
Under 15	0.2%	0.1%	Female	55.9%	52.0%	Asian	1.0%	1.2%	
15 - 19	1.3%	1.2%				Black/African Amer.	1.6%	1.6%	
20 - 24	4.1%	3.5%				Native Hawaii/Pac.Isl.	0.1%	0.1%	
25 - 34	16.0%	13.6%				White	87.0%	88.2%	
35 - 44	9.0%	9.1%				Multiracial	0.3%	0.5%	
45 - 54	9.6%	11.0%				Declined	0.4%	0.4%	
55 - 64	13.8%	17.1%				Unavailable	8.3%	6.5%	
65 - 74	13.9%	16.8%							
75 - 84	10.8%	13.2%							
85 & Over	6.3%	6.9%							

	This Facil	ity	Group Averages					
			Analysis Area Inpatient Volume Group All GM				All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	248	4.1	3.7	1.11	4.6	0.89	4.2	0.98
133 Respiratory failure	64	4.1	4.0	1.03	4.9	0.84	4.5	0.91
139 Pneumonia	77	3.5	3.5	1.00	4.2	0.83	4.0	0.88
174 Percutaneous coronary intervention w AMI	24	2.4	2.7	0.89	3.0	0.80	3.0	0.80
175 Percutaneous coronary intervention w/o AMI	*	*	2.7	*	3.1	*	3.1	*
194 Heart Failure	146	4.3	3.8	1.13	5.0	0.86	4.6	0.93
201 Heart Abnormal Rhythm and Conduction Disorders	58	2.7	2.7	1.00	2.9	0.93	2.8	0.96
301 Hip Replacement	165	3.0	2.2	1.36	2.5	1.20	2.3	1.30
302 Knee Replacement	113	1.5	1.8	0.83	2.1	0.71	2.0	0.75
469 Acute kidney injury	81	3.7	4.0	0.93	5.2	0.71	4.6	0.80
540 Cesarean Delivery	478	3.4	3.2	1.06	4.0	0.85	3.6	0.94
560 Vaginal Delivery	784	2.0	2.0	1.00	2.3	0.87	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	1,195	2.1	2.2	0.95	2.2	0.95	2.1	1.00
720 Blood Infection/Septicemia	444	5.3	4.9	1.08	6.1	0.87	5.5	0.96
751 Psychoses	500	4.6	4.7	0.98	5.1	0.90	J 5.1	0.90

	This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group	All GMS Ho Average Charge	ospitals Ratio
045 Stroke and Precerebral Occlusion with Infarct	\$22,182	\$22,109	\$24,741	0.89	\$43,048	0.51	\$39,987	0.55
133 Respiratory failure	\$21,961	\$19,524	\$24,316	0.80	\$39,891	0.49	\$36,517	0.53
139 Pneumonia	\$13,734	\$13,382	\$17,991	0.74	\$29,201	0.46	\$26,154	0.51
174 Percutaneous coronary intervention w AMI	\$37,453	\$40,769	\$55,968	0.73	\$73,358	0.56	\$73,175	0.56
175 Percutaneous coronary intervention w/o AMI	*	*	\$76,102	*	\$109,236	*	\$106,404	*
194 Heart Failure	\$15,491	\$16,064	\$17,633	0.91	\$32,710	0.49	\$29,512	0.54
201 Heart Abnormal Rhythm and Conduction Disc	rders \$12,731	\$13,079	\$15,459	0.85	\$22,164	0.59	\$21,125	0.62
301 Hip Replacement	\$39,275	\$38,041	\$38,732	0.98	\$53,491	0.71	\$50,854	0.75
302 Knee Replacement	\$34,165	\$34,284	\$35,838	0.96	\$52,844	0.65	\$48,781	0.70
469 Acute kidney injury	\$14,633	\$15,107	\$18,337	0.82	\$33,062	0.46	\$29,600	0.51
540 Cesarean Delivery	\$15,171	\$15,144	\$14,869	1.02	\$25,062	0.60	\$24,895	0.61
560 Vaginal Delivery	\$5,133	\$5,132	\$5,768	0.89	\$12,661	0.41	\$12,167	0.42
640 Normal Newborn, Birthweight 2500g+	\$2,885	\$2,860	\$3,376	0.85	\$5,036	0.57	\$4,719	0.61
720 Blood Infection/Septicemia	\$24,738	\$25,701	\$27,861	0.92	\$50,089	0.51	\$44,340	0.58
751 Psychoses	\$8,596	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

#### 093 Marshfield Medical Center - Neillsville

216 Sunset Place

Neillsville, WI 54456

715-743-3101 Inpatient Volume Group: 2

Hospital Type: GMS County: Clark

Analysis Area: 5A-West Central

Overall Hospital Utilization				Patient Discharge Statu	IS
Total Discharges:	327	Average Length of Stay (days):	3.7	<u>Discharge Status</u>	% Discharges
Total Patient Days:	1.206	Average Charge per Discharge:	\$17,205	Home or Self-Care	60.2%
•	1,200	, wordgo ondrigo por Bloomargo.	Ψ11,200	Other GMS Hospital	9.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	10.1%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.6%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0			Hospice	0.9%
	_			Other Institution	0.3%
Total Newborns:	0			Home Health Service	10.7%
Psychiatric Utilization				Left Against Medical Advice	0.3%
<del>-</del>	_			Expired	1.2%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.3%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	5.5%
				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	1	Percent of All Discharges:	0.3%	Medicare	67.3%
Patient Days:	2	Percent of All Patient Days:	0.2%	Medicaid/BadgerCare	4.6%
				Other Government	2.1%
				Commercial or Private Insurance	19.0%
				Self-Pay	6.1%
				Other or Unknown Insurance	0.9%

	<b>Age Distribution</b>	•		Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	48.9%	54.0%	Amer.Ind/Alaskan Native	e 0.0%	0.0%
Under 15	0.6%	0.2%	Female	51.1%	46.0%	Asian	0.0%	0.0%
15 - 19	0.6%	0.4%				Black/African Amer.	0.0%	0.0%
20 - 24	0.3%	0.1%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	3.4%	1.9%				White	97.9%	99.2%
35 - 44	4.3%	3.3%				Multiracial	0.0%	0.0%
45 - 54	7.6%	5.2%				Declined	2.1%	0.8%
55 - 64	19.9%	24.3%				Unavailable	0 %	0 %
65 - 74	26.6%	24.5%						
75 - 84	20.2%	27.4%						
85 & Over	16.5%	12.7%						

	This Facil	This Facility Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	*	*	4.2	*	3.0	*	4.5	*
139 Pneumonia	20	2.7	3.7	0.73	3.3	0.82	4.0	0.68
140 Chronic Obstructive Pulmonary Disease	22	2.5	3.5	0.71	3.3	0.76	3.6	0.69
194 Heart Failure	18	2.9	4.3	0.67	3.4	0.85	4.6	0.63
201 Heart Abnormal Rhythm and Conduction Disorders	13	2.8	2.8	1.00	2.6	1.08	2.8	1.00
301 Hip Replacement	14	1.9	2.3	0.83	1.9	1.00	2.3	0.83
302 Knee Replacement	22	2.1	2.1	1.00	2.1	1.00	2.0	1.05
383 Cellulitis & other skin infections	15	2.9	3.9	0.74	3.9	0.74	4.0	0.73
463 Kidney/Urinary Tract Infection	17	3.2	3.1	1.03	3.0	1.07	3.6	0.89
469 Acute kidney injury	*	*	4.4	*	2.9	*	4.6	*
540 Cesarean Delivery	0	N/A	3.0	N/A	3.1	N/A	3.6	N/A
560 Vaginal Delivery	0	N/A	2.1	N/A	2.0	N/A	2.2	N/A
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.0	N/A	2.0	N/A	2.1	N/A
720 Blood Infection/Septicemia	*	*	4.8	*	3.6	*	5.5	*
862 Other Factors Influencing Health Status	7	7.1	8.7	0.82	l 8.7	0.82	8.7	0.82

_	• .	•	•	-	•		
This Fac	ility	Risk Adjusted Group Averages					
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	<u>All GMS Ho</u> Average Charge	ospitals Ratio
*	*	\$27,159	*	\$19,995	*	\$36,517	*
\$13,418	\$18,037	\$19,690	0.92	\$17,968	1.00	\$26,154	0.69
\$11,907	\$14,473	\$18,026	0.80	\$18,011	0.80	\$23,596	0.61
\$11,646	\$13,245	\$22,734	0.58	\$16,661	0.79	\$29,512	0.45
\$10,230	\$10,722	\$16,241	0.66	\$13,360	0.80	\$21,125	0.51
\$37,101	\$39,108	\$41,021	0.95	\$39,123	1.00	\$50,854	0.77
\$33,929	\$35,345	\$38,967	0.91	\$39,600	0.89	\$48,781	0.72
\$10,985	\$12,100	\$17,014	0.71	\$15,690	0.77	\$21,953	0.55
\$13,012	\$13,051	\$13,865	0.94	\$12,405	1.05	\$22,097	0.59
*	*	\$22,197	*	\$14,450	*	\$29,600	*
N/A	N/A	\$19,747	*	\$20,919	*	\$24,895	*
N/A	N/A	\$9,018	*	\$8,631	*	\$12,167	*
N/A	N/A	\$3,539	*	\$4,326	*	\$4,719	*
*	*	\$32,245	*	\$20,714	*	\$44,340	*
\$12,971	\$16,551	\$24,090	0.69	\$15,162	1.09	\$31,132	0.53
	* \$13,418 \$11,907 \$11,646 \$10,230 \$37,101 \$33,929 \$10,985 \$13,012  * N/A N/A N/A *	Adjusted Average Charge Charge  * * * * * * * * * * * * * * * * * * *	Risk Adjusted Average Charge S13,418 \$18,037 \$19,690 \$11,046 \$13,024 \$22,734 \$10,230 \$10,722 \$16,241 \$37,101 \$39,108 \$41,021 \$33,929 \$35,345 \$38,967 \$10,985 \$12,100 \$17,014 \$13,012 \$13,051 \$13,865 \$22,197 N/A N/A N/A \$19,747 N/A N/A N/A \$9,018 N/A N/A N/A \$9,018 \$3,539 \$32,245	Risk Adjusted Average Charge Ratio  *	Risk Adjusted Average Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Ratio Charge Service Charge Charge Charge Charge Charge Charge Charge Charge Charge Ratio Charge Service Charge Charge Charge Charge Ratio Charge Service Charge Service Charge Charge Ratio Charge Service Charge Service Charge Service Charge Service Charge Service Charge Service Charge Ratio Charge Service Charge Service Charge Service Charge Ratio Charge Service Charge Service Charge Service Charge Ratio Charge Service Cha	Risk Adjusted Average Charge Charge Charge Ratio  * * \$27,159 * \$19,995 * \$13,418 \$18,037 \$19,690 0.92 \$17,968 1.00 \$11,907 \$14,473 \$18,026 0.80 \$18,011 0.80 \$11,646 \$13,245 \$22,734 0.58 \$16,661 0.79 \$10,230 \$10,722 \$16,241 0.66 \$13,360 0.80 \$37,101 \$39,108 \$41,021 0.95 \$39,123 1.00 \$33,929 \$35,345 \$38,967 0.91 \$39,600 0.89 \$10,985 \$12,100 \$17,014 0.71 \$15,690 0.77 \$13,012 \$13,051 \$13,865 0.94 \$12,405 1.05 *  * * * \$22,197 * \$14,450 *  N/A N/A N/A \$19,747 * \$20,919 *  N/A N/A N/A \$9,018 * \$8,631 *  N/A N/A N/A \$3,539 * \$4,326 *  * * \$32,245 * \$20,714 *	Risk Adjusted Average Charge Charge Ratio Charge Charge Charge Ratio

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

094 ThedaCare Medical Center - New London 1405 Mill Street, PO Box 307

New London, WI 54961

Hospital Type: GMS

County: Outagamie

Analysis Area: 3-Lake Winnebago

920-982-5330				Inpatient Volume Group: 2	-
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	772	Average Length of Stay (days):	2.7	<u>Discharge Status</u>	% Discharges
Total Patient Days:	2,069	Average Charge per Discharge:	\$14,085	Home or Self-Care Other GMS Hospital	65.8% 7.4%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges: Patient Days:	43 22 2 67 65	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges: Percent of All Patient Days:	64.2% 32.8% 3.0% 0.1%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	11.7% 0.3% 0.0% 3.0% 0.0% 8.9% 1.0% 0.5% 0.0%
r allent Days.	3	referred Air attent Days.	0.176	Expected Pay Source Distril	
AODA Utilization  Discharges: Patient Days:	5 11	Percent of All Discharges: Percent of All Patient Days:	0.6% 0.5%	Primary Payer Medicare Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	% Discharges 56.2% 13.0% 1.0% 26.7% 3.0% 0.1%

Age Distribution			Sex Distribution	<u>n</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	8.4%	7.2%	Male	44.7%	44.6%	Amer.Ind/Alaskan Native	0.5%	0.5%
Under 15	0.3%	0.3%	Female	55.3%	55.4%	Asian	0.4%	0.3%
15 - 19	0.6%	0.5%				Black/African Amer.	0.6%	0.5%
20 - 24	3.5%	3.3%				Native Hawaii/Pac.Isl.	0.1%	0.0%
25 - 34	8.2%	7.2%				White	96.8%	97.1%
35 - 44	4.1%	3.7%				Multiracial	0.0%	0.0%
45 - 54	6.9%	6.4%				Declined	0.0%	0.0%
55 - 64	16.3%	14.0%				Unavailable	1.6%	1.5%
65 - 74	17.6%	16.8%						
75 - 84	21.5%	24.9%						
85 & Over	12.6%	15.6%						

	This Facil	ity	Group Averages					
			Analysis Area Inpatient Volume Group			All GMS H	All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	12	2.3	4.0	0.58	3.0	0.77	4.5	0.51
139 Pneumonia	34	3.3	3.5	0.94	3.3	1.00	4.0	0.83
140 Chronic Obstructive Pulmonary Disease	23	2.3	2.9	0.79	3.3	0.70	3.6	0.64
194 Heart Failure	52	3.5	3.8	0.92	3.4	1.03	4.6	0.76
201 Heart Abnormal Rhythm and Conduction Disorders	12	2.7	2.7	1.00	2.6	1.04	2.8	0.96
301 Hip Replacement	33	1.3	2.2	0.59	1.9	0.68	2.3	0.57
302 Knee Replacement	58	1.3	1.8	0.72	2.1	0.62	2.0	0.65
383 Cellulitis & other skin infections	20	4.3	3.6	1.19	3.9	1.10	4.0	1.08
463 Kidney/Urinary Tract Infection	11	2.3	2.9	0.79	3.0	0.77	3.6	0.64
469 Acute kidney injury	17	2.8	4.0	0.70	2.9	0.97	4.6	0.61
540 Cesarean Delivery	22	3.0	3.2	0.94	3.1	0.97	3.6	0.83
560 Vaginal Delivery	43	2.1	2.0	1.05	2.0	1.05	2.2	0.95
640 Normal Newborn, Birthweight 2500g+	63	2.3	2.2	1.05	2.0	1.15	2.1	1.10
720 Blood Infection/Septicemia	90	3.4	4.9	0.69	3.6	0.94	5.5	0.62
862 Other Factors Influencing Health Status	0	N/A	10.2	N/A	8.7	N/A	8.7	N/A

	This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$11,086	\$13,925	\$24,316	0.57	\$19,995	0.70	\$36,517	0.38
139 Pneumonia	\$10,952	\$10,721	\$17,991	0.60	\$17,968	0.60	\$26,154	0.41
140 Chronic Obstructive Pulmonary Disease	\$8,593	\$8,942	\$16,011	0.56	\$18,011	0.50	\$23,596	0.38
194 Heart Failure	\$13,092	\$12,212	\$17,633	0.69	\$16,661	0.73	\$29,512	0.41
201 Heart Abnormal Rhythm and Conduction Disorders	\$10,497	\$10,741	\$15,459	0.69	\$13,360	0.80	\$21,125	0.51
301 Hip Replacement	\$36,934	\$38,244	\$38,732	0.99	\$39,123	0.98	\$50,854	0.75
302 Knee Replacement	\$31,934	\$32,286	\$35,838	0.90	\$39,600	0.82	\$48,781	0.66
383 Cellulitis & other skin infections	\$10,681	\$10,077	\$15,311	0.66	\$15,690	0.64	\$21,953	0.46
463 Kidney/Urinary Tract Infection	\$9,726	\$8,886	\$14,397	0.62	\$12,405	0.72	\$22,097	0.40
469 Acute kidney injury	\$11,024	\$8,547	\$18,337	0.47	\$14,450	0.59	\$29,600	0.29
540 Cesarean Delivery	\$13,965	\$15,622	\$14,869	1.05	\$20,919	0.75	\$24,895	0.63
560 Vaginal Delivery	\$4,679	\$4,922	\$5,768	0.85	\$8,631	0.57	\$12,167	0.40
640 Normal Newborn, Birthweight 2500g+	\$3,028	\$3,156	\$3,376	0.93	\$4,326	0.73	\$4,719	0.67
720 Blood Infection/Septicemia	\$13,088	\$16,404	\$27,861	0.59	\$20,714	0.79	\$44,340	0.37
862 Other Factors Influencing Health Status	N/A	N/A	\$23,248	*	\$15,162	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

095 Westfields Hospital & Clinic

535 Hospital Road

New Richmond, WI 54017

715-243-2600

Hospital Type: GMS

County: Saint Croix

Analysis Area: 5A-West Central

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	976	Average Length of Stay (days):	2.5	<u>Discharge Status</u>	% Discharges
Total Patient Days:	2,415	Average Charge per Discharge:	\$14,069	Home or Self-Care	74.3%
Total Faticiti Days.	2,410	Average onarge per bischarge.	Ψ14,003	Other GMS Hospital	5.4%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	85	Percent of All Childbirths:	67.5%	Skilled Nursing Facility	10.1%
Cesarean Childbirths:	31	Percent of All Childbirths:	24.6%	Intermediate Care Facility	1.0%
Other Childbirths:	10	Percent of All Childbirths:	7.9%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	126			Hospice	1.6%
				Other Institution	0.1%
Total Newborns:	97			Home Health Service	3.2%
Psychiatric Utilization				Left Against Medical Advice	0.4%
r sycillatric offization				Expired	1.2%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	2.6%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	19	Percent of All Discharges:	1.9%	Medicare	51.6%
Patient Days:	38	Percent of All Patient Days:	1.6%	Medicaid/BadgerCare	9.4%
				Other Government	1.5%
				Commercial or Private Insurance	37.3%
				Self-Pay	0.1%
				Other or Unknown Insurance	0.0%

Age Distribution			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	9.9%	7.2%	Male	42.2%	43.0%	Amer.Ind/Alaskan Native	e 0.1%	0.2%
Under 15	0.2%	0.1%	Female	57.8%	57.0%	Asian	0.5%	0.2%
15 - 19	0.3%	0.3%				Black/African Amer.	0.5%	0.4%
20 - 24	3.3%	3.1%				Native Hawaii/Pac.Isl.	0.1%	0.0%
25 - 34	11.0%	9.1%				White	97.2%	97.6%
35 - 44	5.1%	4.2%				Multiracial	0.0%	0.0%
45 - 54	5.0%	5.3%				Declined	1.1%	1.1%
55 - 64	14.8%	15.2%				Unavailable	0.4%	0.4%
65 - 74	19.2%	18.4%						
75 - 84	15.9%	18.7%						
85 & Over	15.4%	18.4%						

	This Facil	ity			Group /	Averages		
			Analysis Area		Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	30	2.4	4.2	0.57	3.2	0.75	4.5	0.53
139 Pneumonia	27	2.2	3.7	0.59	3.3	0.67	4.0	0.55
140 Chronic Obstructive Pulmonary Disease	19	2.9	3.5	0.83	2.9	1.00	3.6	0.81
194 Heart Failure	53	3.1	4.3	0.72	3.4	0.91	4.6	0.67
201 Heart Abnormal Rhythm and Conduction Disorders	14	2.2	2.8	0.79	2.3	0.96	2.8	0.79
247 Intestinal Obstruction without Surgery	25	2.6	3.3	0.79	2.7	0.96	3.5	0.74
301 Hip Replacement	50	2.4	2.3	1.04	2.1	1.14	2.3	1.04
302 Knee Replacement	68	2.2	2.1	1.05	1.9	1.16	2.0	1.10
383 Cellulitis & other skin infections	12	2.3	3.9	0.59	3.6	0.64	4.0	0.58
463 Kidney/Urinary Tract Infection	23	2.4	3.1	0.77	2.9	0.83	3.6	0.67
469 Acute kidney injury	*	*	4.4	*	2.8	*	4.6	*
540 Cesarean Delivery	31	2.8	3.0	0.93	3.0	0.93	3.6	0.78
560 Vaginal Delivery	85	1.9	2.1	0.90	1.9	1.00	2.2	0.86
640 Normal Newborn, Birthweight 2500g+	92	1.8	2.0	0.90	2.0	0.90	2.1	0.86
720 Blood Infection/Septicemia	95	2.9	4.8	0.60	3.6	0.81	5.5	0.53

·					D: 1 A !: 4 L	· ·		
	This Fac	-			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$9,328	\$11,899	\$27,159	0.44	\$22,058	0.54	\$36,517	0.33
139 Pneumonia	\$9,220	\$10,250	\$19,690	0.52	\$18,736	0.55	\$26,154	0.39
140 Chronic Obstructive Pulmonary Disease	\$10,566	\$10,792	\$18,026	0.60	\$16,687	0.65	\$23,596	0.46
194 Heart Failure	\$10,033	\$12,609	\$22,734	0.55	\$18,675	0.68	\$29,512	0.43
201 Heart Abnormal Rhythm and Conduction Disorders	\$7,555	\$7,983	\$16,241	0.49	\$13,920	0.57	\$21,125	0.38
247 Intestinal Obstruction without Surgery	\$8,929	\$8,952	\$14,181	0.63	\$13,214	0.68	\$21,879	0.41
301 Hip Replacement	\$34,801	\$34,934	\$41,021	0.85	\$43,894	0.80	\$50,854	0.69
302 Knee Replacement	\$36,450	\$37,182	\$38,967	0.95	\$45,311	0.82	\$48,781	0.76
383 Cellulitis & other skin infections	\$7,578	\$6,770	\$17,014	0.40	\$16,011	0.42	\$21,953	0.31
463 Kidney/Urinary Tract Infection	\$7,481	\$7,539	\$13,865	0.54	\$13,197	0.57	\$22,097	0.34
469 Acute kidney injury	*	*	\$22,197	*	\$14,980	*	\$29,600	*
540 Cesarean Delivery	\$19,631	\$21,120	\$19,747	1.07	\$21,375	0.99	\$24,895	0.85
560 Vaginal Delivery	\$8,614	\$8,566	\$9,018	0.95	\$8,800	0.97	\$12,167	0.70
640 Normal Newborn, Birthweight 2500g+	\$2,295	\$2,360	\$3,539	0.67	\$3,780	0.62	\$4,719	0.50
720 Blood Infection/Septicemia	\$11,300	\$15,171	\$32,245	0.47	\$23,568	0.64	\$44,340	0.34

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 098 ProHealth Oconomowoc Memorial Hospital

791 Summit Avenue

Oconomowoc, WI 53066

Hospital Type: GMS

County: Waukesha

Analysis Area: 2A-Southeastern

262-569-9400				Inpatient Volume Group: 5				
Overall Hospital Utilization				Patient Discharge Status				
Total Discharges:	3,284	Average Length of Stay (days):	3.0	Discharge Status	% Discharges			
Total Patient Days:	9,782	Average Charge per Discharge:	\$34,807	Home or Self-Care Other GMS Hospital	69.0% 1.2%			
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%			
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:	222 45 14 281 287	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	79.0% 16.0% 5.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service	10.7% 0.6% 2.9% 2.5% 0.0% 9.9%			
Psychiatric Utilization				Left Against Medical Advice Expired	0.9% 1.3%			
Discharges: Patient Days:	7 8	Percent of All Discharges: Percent of All Patient Days:	0.2% 0.1%	Discharge/Tran to Court/Law Enforcmnt Other	0.0% 0.9%			
AODA Utilization				Expected Pay Source Distri				
Discharges: Patient Days:	57 151	Percent of All Discharges: Percent of All Patient Days:	1.7% 1.5%	Primary Payer Medicare Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	% Discharges 58.7% 7.3% 0.5% 30.6% 1.4%			

Age Distribution				Sex Distribution	<u>n</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	8.7%	7.5%	Male	42.9%	45.3%	Amer.Ind/Alaskan Native	e 0.2%	0.1%	
Under 15	0.5%	0.4%	Female	57.1%	54.7%	Asian	0.2%	0.4%	
15 - 19	0.5%	0.4%				Black/African Amer.	0.6%	0.7%	
20 - 24	2.1%	1.6%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	8.3%	6.6%				White	94.6%	94.5%	
35 - 44	5.1%	4.3%				Multiracial	0.1%	0.1%	
45 - 54	6.5%	5.8%				Declined	0.3%	0.3%	
55 - 64	13.4%	14.3%				Unavailable	4.0%	4.0%	
65 - 74	21.5%	21.2%							
75 - 84	19.5%	20.4%							
85 & Over	14.0%	17.6%							

	This Facil	ity	Group Averages					
			Analysis Area		Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	15	4.8	4.8	1.00	4.5	1.07	4.5	1.07
139 Pneumonia	81	3.7	4.5	0.82	4.2	0.88	4.0	0.93
140 Chronic Obstructive Pulmonary Disease	49	2.8	3.8	0.74	3.6	0.78	3.6	0.78
174 Percutaneous coronary intervention w AMI	31	3.2	2.9	1.10	3.0	1.07	3.0	1.07
194 Heart Failure	130	3.6	4.6	0.78	4.6	0.78	4.6	0.78
201 Heart Abnormal Rhythm and Conduction Disorders	81	2.3	2.9	0.79	2.9	0.79	2.8	0.82
301 Hip Replacement	401	1.4	2.1	0.67	2.2	0.64	2.3	0.61
302 Knee Replacement	45	1.7	2.0	0.85	2.0	0.85	2.0	0.85
469 Acute kidney injury	46	4.0	4.5	0.89	4.7	0.85	4.6	0.87
540 Cesarean Delivery	45	3.4	3.3	1.03	3.3	1.03	3.6	0.94
560 Vaginal Delivery	222	2.3	2.2	1.05	2.1	1.10	2.2	1.05
640 Normal Newborn, Birthweight 2500g+	267	2.2	2.1	1.05	2.1	1.05	2.1	1.05
720 Blood Infection/Septicemia	295	4.4	5.3	0.83	5.5	0.80	5.5	0.80
751 Psychoses	*	*	5.6	*	4.7	*	5.1	*
775 Alcohol Abuse/Dependence	47	2.7	3.8	0.71	3.8	0.71	3.7	0.73

·				<u> </u>				
	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$38,248	\$41,154	\$37,003	1.11	\$35,487	1.16	\$36,517	1.13
139 Pneumonia	\$28,621	\$32,125	\$30,437	1.06	\$27,529	1.17	\$26,154	1.23
140 Chronic Obstructive Pulmonary Disease	\$22,429	\$24,014	\$25,288	0.95	\$23,968	1.00	\$23,596	1.02
174 Percutaneous coronary intervention w AMI	\$75,132	\$72,427	\$73,777	0.98	\$72,860	0.99	\$73,175	0.99
194 Heart Failure	\$25,742	\$29,575	\$30,999	0.95	\$28,982	1.02	\$29,512	1.00
201 Heart Abnormal Rhythm and Conduction Disorders	\$21,495	\$23,627	\$23,194	1.02	\$21,611	1.09	\$21,125	1.12
301 Hip Replacement	\$55,795	\$57,790	\$61,253	0.94	\$52,206	1.11	\$50,854	1.14
302 Knee Replacement	\$80,330	\$78,084	\$60,209	1.30	\$50,848	1.54	\$48,781	1.60
469 Acute kidney injury	\$27,977	\$31,290	\$30,548	1.02	\$29,340	1.07	\$29,600	1.06
540 Cesarean Delivery	\$32,986	\$32,397	\$26,513	1.22	\$25,613	1.26	\$24,895	1.30
560 Vaginal Delivery	\$18,122	\$18,242	\$14,321	1.27	\$12,456	1.46	\$12,167	1.50
640 Normal Newborn, Birthweight 2500g+	\$5,715	\$5,950	\$4,851	1.23	\$4,463	1.33	\$4,719	1.26
720 Blood Infection/Septicemia	\$38,227	\$45,486	\$44,089	1.03	\$41,728	1.09	\$44,340	1.03
751 Psychoses	*	#	#	*	#	*	#	*
775 Alcohol Abuse/Dependence	\$22,256	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

306 Bellin Health Oconto Hospital

820 Arbutus Avenue

Oconto, WI 54153

920-835-1100

Hospital Type: GMS

County: Oconto

Analysis Area: 4-Northeastern Inpatient Volume Group: 1

920-033-1100				inpatient volume Group.	
Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	130	Average Length of Stay (days):	3.3	<u>Discharge Status</u>	% Discharges
Total Patient Days:	435	Average Charge per Discharge:	\$10,378	Home or Self-Care Other GMS Hospital	66.2% 6.2%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.8%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges: Percent of All Discharges:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	14.6% 0.0% 0.8% 4.6% 0.0% 2.3% 0.8% 2.3% 0.8%
Patient Days:	0	Percent of All Patient Days:	0.0%		
AODA Utilization				Expected Pay Source Distril	
				Primary Payer	% Discharges
Discharges:	12	Percent of All Discharges:	9.2%	Medicare	80.0%
Patient Days:	29	Percent of All Patient Days:	6.7%	Medicaid/BadgerCare	4.6%
				Other Government	1.5%
				Commercial or Private Insurance	9.2%
				Self-Pay	2.3%
				Other or Unknown Insurance	2.3%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	46.9%	47.1%	Amer.Ind/Alaskan Native	4.6%	3.7%
Under 15	0.0%	0.0%	Female	53.1%	52.9%	Asian	0.8%	0.2%
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	1.5%	0.9%				White	92.3%	94.5%
35 - 44	3.8%	2.8%				Multiracial	0.0%	0.0%
45 - 54	3.8%	2.3%				Declined	0.0%	0.0%
55 - 64	11.5%	13.8%				Unavailable	2.3%	1.6%
65 - 74	20.0%	20.7%						
75 - 84	37.7%	33.1%						
85 & Over	21.5%	26.4%						

	This Facil	ity			Group /	Averages		
			Analysis Area		Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	6	2.2	4.2	0.52	2.6	0.85	4.5	0.49
137 Respiratory Infections and Inflammations	*	*	5.2	*	3.7	*	5.6	*
139 Pneumonia	12	2.8	3.7	0.76	3.3	0.85	4.0	0.70
140 Chronic Obstructive Pulmonary Disease	8	5.5	3.5	1.57	3.2	1.72	3.6	1.53
194 Heart Failure	7	3.3	4.1	0.80	3.3	1.00	4.6	0.72
201 Heart Abnormal Rhythm and Conduction Disorders	0	N/A	2.6	N/A	2.5	N/A	2.8	N/A
247 Intestinal Obstruction without Surgery	*	*	3.2	*	2.3	*	3.5	*
282 Disorders of Pancreas Except Malignancy	*	*	3.6	*	2.7	*	4.0	*
302 Knee Replacement	0	N/A	1.9	N/A	2.4	N/A	2.0	N/A
383 Cellulitis & other skin infections	6	3.3	3.6	0.92	3.8	0.87	4.0	0.83
463 Kidney/Urinary Tract Infection	9	3.4	3.0	1.13	3.3	1.03	3.6	0.94
469 Acute kidney injury	*	*	4.2	*	3.2	*	4.6	*
720 Blood Infection/Septicemia	8	3.3	4.9	0.67	3.6	0.92	5.5	0.60
861 Signs & Symptoms	*	*	4.4	*	6.3	*	5.0	*
862 Other Factors Influencing Health Status	6	5.2	9.4	0.55	9.1	0.57	8.7	0.60

-	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	-	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$6,934	\$10,358	\$30,641	0.34	\$16,434	0.63	\$36,517	0.28
137 Respiratory Infections and Inflammations	*	*	\$34,241	*	\$18,058	*	\$39,518	*
139 Pneumonia	\$8,027	\$8,096	\$22,549	0.36	\$15,907	0.51	\$26,154	0.31
140 Chronic Obstructive Pulmonary Disease	\$15,426	\$18,328	\$21,356	0.86	\$15,423	1.19	\$23,596	0.78
194 Heart Failure	\$6,974	\$9,875	\$23,636	0.42	\$15,151	0.65	\$29,512	0.33
201 Heart Abnormal Rhythm and Conduction Disorders	N/A	N/A	\$19,122	*	\$12,073	*	\$21,125	*
247 Intestinal Obstruction without Surgery	*	*	\$17,804	*	\$10,681	*	\$21,879	*
282 Disorders of Pancreas Except Malignancy	*	*	\$25,865	*	\$15,867	*	\$28,992	*
302 Knee Replacement	N/A	N/A	\$49,816	*	\$47,739	*	\$48,781	*
383 Cellulitis & other skin infections	\$5,873	\$5,121	\$17,982	0.28	\$14,904	0.34	\$21,953	0.23
463 Kidney/Urinary Tract Infection	\$5,866	\$6,444	\$17,446	0.37	\$12,446	0.52	\$22,097	0.29
469 Acute kidney injury	*	*	\$24,682	*	\$13,028	*	\$29,600	*
720 Blood Infection/Septicemia	\$9,092	\$12,379	\$36,072	0.34	\$18,335	0.68	\$44,340	0.28
861 Signs & Symptoms	*	*	\$25,463	*	\$15,939	*	\$28,329	*
862 Other Factors Influencing Health Status	\$8,184	\$10,731	\$27,042	0.40	\$24,133	0.44	\$31,132	0.34

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

101 St Clare Memorial Hospital

855 South Main Street

Oconto Falls, WI 54154

920-846-3444

85 & Over

19.8%

19.8%

Hospital Type: GMS
County: Oconto

Analysis Area: 4-Northeastern

			Patient Discharge Statu	<u>ıs</u>
268	Average Length of Stay (days):	3.1	Discharge Status	% Discharges
835	Average Charge per Discharge:	¢17.051	Home or Self-Care	58.6%
033	Average Charge per Discharge.	φ17,001	Other GMS Hospital	12.7%
			Critical Access Hospital (CAH)	0.0%
0	Percent of All Childhirths:	0.0%	Skilled Nursing Facility	9.0%
			· · · · · · · · · · · · · · · · · · ·	0.0%
0			Inpatient Rehabilitation Facility	0.7%
	r crocit or all ornidorties.	0.070	Hospice	3.7%
U			Other Institution	0.0%
0			Home Health Service	7.8%
			Left Against Medical Advice	0.4%
			Expired	0.4%
0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
0	Percent of All Patient Days:	0.0%	Other	6.7%
			<b>Expected Pay Source Distril</b>	<u>bution</u>
			Primary Payer	% Discharges
0	Percent of All Discharges:	0.0%	Medicare	80.2%
0	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	6.0%
	•		Other Government	1.1%
			Commercial or Private Insurance	11.9%
			Self-Pay	0.7%
			Other or Unknown Insurance	0.0%
	835 0 0 0 0 0	835 Average Charge per Discharge:  0 Percent of All Childbirths: 0 Percent of All Childbirths: 0 Percent of All Childbirths: 0  0  0 Percent of All Discharges: 0 Percent of All Patient Days:	835 Average Charge per Discharge: \$17,051  O Percent of All Childbirths: 0.0% O Percent of All Childbirths: 0.0% O Percent of All Childbirths: 0.0% O O O O Percent of All Discharges: 0.0% O Percent of All Discharges: 0.0% O Percent of All Discharges: 0.0%	Average Length of Stay (days):  Average Charge per Discharge:  \$17,051  Percent of All Childbirths:  Percent of All Discharges:  Percent of All Discharges:  Percent of All Discharges:  Percent of All Patient Days:  OPercent OF All Pat

	Age Distribution Sex Dis				<u>Pistribution</u> Race Distribution				
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	46.6%	49.6%	Amer.Ind/Alaskan Native	e 0.7%	0.4%	
Under 15	0.0%	0.0%	Female	53.4%	50.4%	Asian	0.0%	0.0%	
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%	
20 - 24	0.7%	0.6%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	3.4%	2.9%				White	98.9%	99.3%	
35 - 44	3.7%	5.7%				Multiracial	0.4%	0.4%	
45 - 54	6.0%	5.7%				Declined	0.0%	0.0%	
55 - 64	13.8%	12.6%				Unavailable	0 %	0 %	
65 - 74	31.3%	31.7%							
75 - 84	21.3%	21.0%							

	This Facil	ity			Group A	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	<u>ospitals</u>
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	8	2.5	4.2	0.60	2.6	0.96	4.5	0.56
137 Respiratory Infections and Inflammations	*	*	5.2	*	3.7	*	5.6	*
139 Pneumonia	19	2.9	3.7	0.78	3.3	0.88	4.0	0.73
140 Chronic Obstructive Pulmonary Disease	12	2.7	3.5	0.77	3.2	0.84	3.6	0.75
194 Heart Failure	24	2.8	4.1	0.68	3.3	0.85	4.6	0.61
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.6	*	2.5	*	2.8	*
247 Intestinal Obstruction without Surgery	10	2.7	3.2	0.84	2.3	1.17	3.5	0.77
282 Disorders of Pancreas Except Malignancy	8	2.3	3.6	0.64	2.7	0.85	4.0	0.58
302 Knee Replacement	0	N/A	1.9	N/A	2.4	N/A	2.0	N/A
383 Cellulitis & other skin infections	18	4.9	3.6	1.36	3.8	1.29	4.0	1.23
463 Kidney/Urinary Tract Infection	6	2.5	3.0	0.83	3.3	0.76	3.6	0.69
469 Acute kidney injury	10	4.3	4.2	1.02	3.2	1.34	4.6	0.93
720 Blood Infection/Septicemia	18	3.1	4.9	0.63	3.6	0.86	5.5	0.56
861 Signs & Symptoms	0	N/A	4.4	N/A	6.3	N/A	5.0	N/A
862 Other Factors Influencing Health Status	0	N/A	9.4	N/A	9.1	N/A	8.7	N/A

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	-	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$13,132	\$12,686	\$30,641	0.41	\$16,434	0.77	\$36,517	0.35
137 Respiratory Infections and Inflammations	*	*	\$34,241	*	\$18,058	*	\$39,518	*
139 Pneumonia	\$9,917	\$9,844	\$22,549	0.44	\$15,907	0.62	\$26,154	0.38
140 Chronic Obstructive Pulmonary Disease	\$11,585	\$12,211	\$21,356	0.57	\$15,423	0.79	\$23,596	0.52
194 Heart Failure	\$10,450	\$10,662	\$23,636	0.45	\$15,151	0.70	\$29,512	0.36
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	\$19,122	*	\$12,073	*	\$21,125	*
247 Intestinal Obstruction without Surgery	\$10,399	\$12,629	\$17,804	0.71	\$10,681	1.18	\$21,879	0.58
282 Disorders of Pancreas Except Malignancy	\$9,016	\$12,048	\$25,865	0.47	\$15,867	0.76	\$28,992	0.42
302 Knee Replacement	N/A	N/A	\$49,816	*	\$47,739	*	\$48,781	*
383 Cellulitis & other skin infections	\$19,466	\$18,696	\$17,982	1.04	\$14,904	1.25	\$21,953	0.85
463 Kidney/Urinary Tract Infection	\$7,263	\$7,681	\$17,446	0.44	\$12,446	0.62	\$22,097	0.35
469 Acute kidney injury	\$12,013	\$10,643	\$24,682	0.43	\$13,028	0.82	\$29,600	0.36
720 Blood Infection/Septicemia	\$11,378	\$16,234	\$36,072	0.45	\$18,335	0.89	\$44,340	0.37
861 Signs & Symptoms	N/A	N/A	\$25,463	*	\$15,939	*	\$28,329	*
862 Other Factors Influencing Health Status	N/A	N/A	\$27,042	*	\$24,133	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

102 Osceola Medical Center 2600 65th Avenue, PO Box 218

Osceola, WI 54020

715-294-2111

85 & Over

13.5%

21.0%

Hospital Type: GMS County: Polk

Analysis Area: 5A-West Central

Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	541	Average Length of Stay (days):	3.2	Discharge Status	% Discharges
Total Patient Days:	1,712	Average Charge per Discharge:	\$16,565	Home or Self-Care	70.4%
Total I attent Days.	1,7 12	Average Charge per Discharge.	φ10,303	Other GMS Hospital	3.3%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.2%
Normal Childbirths:	68	Percent of All Childbirths:	76.4%	Skilled Nursing Facility	8.3%
Cesarean Childbirths:	16	Percent of All Childbirths:	18.0%	Intermediate Care Facility	0.9%
Other Childbirths:	5	Percent of All Childbirths:	5.6%	Inpatient Rehabilitation Facility	0.2%
Total Childbirths:	89		0.070	Hospice	0.6%
Total Officialitis.	00			Other Institution	0.0%
Total Newborns:	88			Home Health Service	4.4%
Developintaio I I tilimetica				Left Against Medical Advice	0.0%
Psychiatric Utilization				Expired	1.3%
Discharges:	1	Percent of All Discharges:	0.2%	Discharge/Tran to Court/Law Enforcmnt	0.2%
Patient Days:	5	Percent of All Patient Days:	0.3%	Other	10.2%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	1	Percent of All Discharges:	0.2%	Medicare	46.0%
Patient Days:	1	Percent of All Patient Days:	0.1%	Medicaid/BadgerCare	17.0%
				Other Government	1.5%
				Commercial or Private Insurance	25.0%
				Self-Pay	9.1%
				Other or Unknown Insurance	1.5%

	<b>Age Distribution</b>			<b>Sex Distribution</b>	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	16.3%	9.5%	Male	41.2%	44.5%	Amer.Ind/Alaskan Native	e 0.0%	0.0%
Under 15	2.6%	1.6%	Female	58.8%	55.5%	Asian	0.0%	0.0%
15 - 19	0.6%	0.4%				Black/African Amer.	0.7%	0.5%
20 - 24	3.5%	2.4%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	12.0%	9.3%				White	92.8%	94.1%
35 - 44	3.3%	2.3%				Multiracial	0.0%	0.0%
45 - 54	3.0%	1.5%				Declined	6.5%	5.4%
55 - 64	11.5%	10.6%				Unavailable	0 %	0 %
65 - 74	18.7%	21.5%						
75 - 84	15.2%	19.9%						

	This Facil	ity			Group A	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	*	*	4.2	*	3.0	*	4.5	*
139 Pneumonia	23	4.6	3.7	1.24	3.3	1.39	4.0	1.15
140 Chronic Obstructive Pulmonary Disease	12	5.2	3.5	1.49	3.3	1.58	3.6	1.44
194 Heart Failure	20	4.5	4.3	1.05	3.4	1.32	4.6	0.98
201 Heart Abnormal Rhythm and Conduction Disorders	11	3.0	2.8	1.07	2.6	1.15	2.8	1.07
301 Hip Replacement	22	3.5	2.3	1.52	1.9	1.84	2.3	1.52
302 Knee Replacement	41	2.8	2.1	1.33	2.1	1.33	2.0	1.40
383 Cellulitis & other skin infections	11	4.5	3.9	1.15	3.9	1.15	4.0	1.13
463 Kidney/Urinary Tract Infection	12	4.3	3.1	1.39	3.0	1.43	3.6	1.19
469 Acute kidney injury	*	*	4.4	*	2.9	*	4.6	*
540 Cesarean Delivery	16	3.0	3.0	1.00	3.1	0.97	3.6	0.83
560 Vaginal Delivery	68	2.1	2.1	1.00	2.0	1.05	2.2	0.95
640 Normal Newborn, Birthweight 2500g+	92	1.9	2.0	0.95	2.0	0.95	2.1	0.90
720 Blood Infection/Septicemia	9	2.9	4.8	0.60	3.6	0.81	5.5	0.53
862 Other Factors Influencing Health Status	10	6.7	8.7	0.77	8.7	0.77	8.7	0.77

_	• •	•	•	-	•		
This Fac	ility			Risk Adjusted	Group Averages		
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
*	*	\$27,159	*	\$19,995	*	\$36,517	*
\$13,758	\$16,330	\$19,690	0.83	\$17,968	0.91	\$26,154	0.62
\$16,971	\$21,354	\$18,026	1.18	\$18,011	1.19	\$23,596	0.90
\$14,717	\$19,591	\$22,734	0.86	\$16,661	1.18	\$29,512	0.66
\$12,627	\$15,132	\$16,241	0.93	\$13,360	1.13	\$21,125	0.72
\$46,965	\$49,306	\$41,021	1.20	\$39,123	1.26	\$50,854	0.97
\$41,897	\$44,584	\$38,967	1.14	\$39,600	1.13	\$48,781	0.91
\$15,985	\$17,319	\$17,014	1.02	\$15,690	1.10	\$21,953	0.79
\$14,261	\$14,082	\$13,865	1.02	\$12,405	1.14	\$22,097	0.64
*	*	\$22,197	*	\$14,450	*	\$29,600	*
\$27,343	\$25,989	\$19,747	1.32	\$20,919	1.24	\$24,895	1.04
\$8,350	\$8,364	\$9,018	0.93	\$8,631	0.97	\$12,167	0.69
\$3,550	\$3,542	\$3,539	1.00	\$4,326	0.82	\$4,719	0.75
\$11,464	\$21,485	\$32,245	0.67	\$20,714	1.04	\$44,340	0.48
\$17,294	\$19,971	\$24,090	0.83	\$15,162	1.32	\$31,132	0.64
	Average Charge  * \$13,758 \$16,971 \$14,717 \$12,627 \$46,965 \$41,897 \$15,985 \$14,261 * \$27,343 \$8,350 \$3,550 \$11,464	Adjusted Average Charge Charge Charge Charge Charge  * * *  \$13,758 \$16,330 \$16,971 \$21,354 \$14,717 \$19,591 \$12,627 \$15,132 \$46,965 \$49,306 \$41,897 \$44,584 \$15,985 \$17,319 \$14,261 \$14,082 *  \$27,343 \$25,989 \$8,350 \$8,364 \$3,550 \$3,542 \$11,464 \$21,485	Risk Adjusted Average Charge S13,758 \$16,330 \$19,690 \$16,971 \$21,354 \$18,026 \$14,717 \$19,591 \$22,734 \$12,627 \$15,132 \$16,241 \$46,965 \$49,306 \$41,021 \$41,897 \$44,584 \$38,967 \$15,985 \$17,319 \$17,014 \$14,261 \$14,082 \$13,865 \$22,197 \$27,343 \$25,989 \$19,747 \$8,350 \$8,364 \$9,018 \$3,550 \$3,542 \$3,539 \$11,464 \$21,485 \$32,245	Risk Adjusted Average Charge Ratio  *	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Charge Charge Charge Ratio Charge Ratio Charge Charge Charge Charge Ratio Charge Charge States States Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge States States Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge States States States States States States Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge States States States States States Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge States States States States Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Charge Ratio	Risk Adjusted Average Charge Charge Charge Ratio  *	Risk Adjusted Average Charge Charge Charge Ratio Charge Charge Charge Ratio

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

103 Ascension NE Wisconsin - Mercy Campus

500 S Oakwood Rd

Oshkosh, WI 54904 Analysis Area: 3-Lake Winnebago

Hospital Type: GMS

County: Winnebago

920-223-0501 Inpatient Volume Group: 5

Overall Hospital Utilization				Patient Discharge Statu	s
Total Discharges:	3,322	Average Length of Stay (days):	3.7	<u>Discharge Status</u>	% Discharges
Total Patient Days:	12,251	Average Charge per Discharge:	\$21,628	Home or Self-Care	59.4%
rotari ationi Bayo.	12,201	Average enarge per Bloomarge.	Ψ21,020	Other GMS Hospital	2.4%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths:	293	Percent of All Childbirths:	74.4%	Skilled Nursing Facility	11.2%
Cesarean Childbirths:	96	Percent of All Childbirths:	24.4%	Intermediate Care Facility	2.0%
Other Childbirths:	5	Percent of All Childbirths:	1.3%	Inpatient Rehabilitation Facility	0.9%
Total Childbirths:	394			Hospice	1.7%
<del>-</del>	200			Other Institution	0.0%
Total Newborns:	393			Home Health Service	14.7%
Psychiatric Utilization				Left Against Medical Advice	0.9%
<del></del>				Expired	2.4%
Discharges:	138	Percent of All Discharges:	4.2%	Discharge/Tran to Court/Law Enforcmnt	2.1%
Patient Days:	1,066	Percent of All Patient Days:	8.7%	Other	2.0%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	59	Percent of All Discharges:	1.8%	Medicare	45.0%
Patient Days:	225	Percent of All Patient Days:	1.8%	Medicaid/BadgerCare	17.7%
				Other Government	1.7%
				Commercial or Private Insurance	34.4%
				Self-Pay	1.1%
				Other or Unknown Insurance	0.1%

	Age Distribution	Ĺ		Sex Distribution	<u>n</u>	Race Distribution				
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days		
Newborn	11.8%	8.2%	Male	45.1%	48.2%	Amer.Ind/Alaskan Native	e 0.2%	0.2%		
Under 15	0.2%	0.4%	Female	54.9%	51.8%	Asian	1.5%	1.5%		
15 - 19	0.8%	0.5%				Black/African Amer.	4.1%	3.4%		
20 - 24	3.1%	2.0%				Native Hawaii/Pac.Isl.	0.2%	0.1%		
25 - 34	9.4%	6.0%				White	93.0%	93.7%		
35 - 44	5.0%	4.2%				Multiracial	0.0%	0.0%		
45 - 54	8.3%	8.6%				Declined	0.9%	1.0%		
55 - 64	15.4%	15.7%				Unavailable	0 %	0 %		
65 - 74	20.0%	23.6%								
75 - 84	16.4%	19.5%								
85 & Over	9.7%	11.3%								

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	44	4.4	4.0	1.10	4.5	0.98	4.5	0.98
139 Pneumonia	44	4.1	3.5	1.17	4.2	0.98	4.0	1.03
140 Chronic Obstructive Pulmonary Disease	37	2.8	2.9	0.97	3.6	0.78	3.6	0.78
174 Percutaneous coronary intervention w AMI	49	2.3	2.7	0.85	3.0	0.77	3.0	0.77
194 Heart Failure	110	3.9	3.8	1.03	4.6	0.85	4.6	0.85
201 Heart Abnormal Rhythm and Conduction Disorders	36	2.6	2.7	0.96	2.9	0.90	2.8	0.93
301 Hip Replacement	203	1.9	2.2	0.86	2.2	0.86	2.3	0.83
302 Knee Replacement	263	1.7	1.8	0.94	2.0	0.85	2.0	0.85
469 Acute kidney injury	41	4.2	4.0	1.05	4.7	0.89	4.6	0.91
540 Cesarean Delivery	96	2.7	3.2	0.84	3.3	0.82	3.6	0.75
560 Vaginal Delivery	293	1.8	2.0	0.90	2.1	0.86	2.2	0.82
640 Normal Newborn, Birthweight 2500g+	340	2.1	2.2	0.95	2.1	1.00	2.1	1.00
720 Blood Infection/Septicemia	219	5.1	4.9	1.04	5.5	0.93	5.5	0.93
751 Psychoses	60	6.9	4.7	1.47	4.7	1.47	5.1	1.35
775 Alcohol Abuse/Dependence	45	4.4	3.4	1.29	3.8	1.16	3.7	1.19

•	•	• • •	•	•	•	•		
	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$23,421	\$21,071	\$24,316	0.87	\$35,487	0.59	\$36,517	0.58
139 Pneumonia	\$17,419	\$15,432	\$17,991	0.86	\$27,529	0.56	\$26,154	0.59
140 Chronic Obstructive Pulmonary Disease	\$16,429	\$18,207	\$16,011	1.14	\$23,968	0.76	\$23,596	0.77
174 Percutaneous coronary intervention w AMI	\$69,285	\$67,393	\$55,968	1.20	\$72,860	0.92	\$73,175	0.92
194 Heart Failure	\$15,855	\$14,935	\$17,633	0.85	\$28,982	0.52	\$29,512	0.51
201 Heart Abnormal Rhythm and Conduction Disorders	\$11,317	\$10,943	\$15,459	0.71	\$21,611	0.51	\$21,125	0.52
301 Hip Replacement	\$31,539	\$31,636	\$38,732	0.82	\$52,206	0.61	\$50,854	0.62
302 Knee Replacement	\$30,185	\$28,710	\$35,838	0.80	\$50,848	0.56	\$48,781	0.59
469 Acute kidney injury	\$16,740	\$17,382	\$18,337	0.95	\$29,340	0.59	\$29,600	0.59
540 Cesarean Delivery	\$9,720	\$9,860	\$14,869	0.66	\$25,613	0.38	\$24,895	0.40
560 Vaginal Delivery	\$4,495	\$4,471	\$5,768	0.78	\$12,456	0.36	\$12,167	0.37
640 Normal Newborn, Birthweight 2500g+	\$3,368	\$2,864	\$3,376	0.85	\$4,463	0.64	\$4,719	0.61
720 Blood Infection/Septicemia	\$22,847	\$22,424	\$27,861	0.80	\$41,728	0.54	\$44,340	0.51
751 Psychoses	\$13,586	#	#	#	#	#	#	#
775 Alcohol Abuse/Dependence	\$13,153	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## **303 Aurora Medical Center in Oshkosh**

855 N Westhaven Drive

Oshkosh, WI 54904

920-456-6000

Hospital Type: GMS

County: Winnebago

Analysis Area: 3-Lake Winnebago

<b>-</b>		<b>.</b>
Dationt	Diechargo	Statue

			·	
			Patient Discharge Statu	<u>ıs</u>
4,508	Average Length of Stay (days):	3.2	Discharge Status	% Discharges
14.274	Average Charge per Discharge:	\$29.253	Home or Self-Care	65.1%
,	r wordge endige per zieendige.	<b>4</b> -0,-00	•	2.8%
				0.0%
458	Percent of All Childhirths	66.3%	· · · · · · · · · · · · · · · · · · ·	11.8%
			Intermediate Care Facility	0.3%
			Inpatient Rehabilitation Facility	0.2%
	r ordent or 7 th ormaditure.	0.070	Hospice	2.0%
091			Other Institution	0.2%
672			Home Health Service	15.4%
			Left Against Medical Advice	0.8%
			Expired	0.9%
3	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.2%
35	Percent of All Patient Days:	0.2%	Other	0.4%
			<b>Expected Pay Source Distril</b>	<u>oution</u>
			Primary Payer	% Discharges
34	Percent of All Discharges:	0.8%	Medicare	40.8%
178	Percent of All Patient Days:	1.2%	Medicaid/BadgerCare	13.8%
	•		Other Government	3.0%
			Commercial or Private Insurance	38.9%
				3.4%
			•	0.1%
	14,274  458 186 47 691 672 3 35	14,274 Average Charge per Discharge:  458 Percent of All Childbirths: 186 Percent of All Childbirths: Percent of All Childbirths: 691 672  3 Percent of All Discharges: Percent of All Patient Days:  34 Percent of All Discharges:	14,274 Average Charge per Discharge: \$29,253  458 Percent of All Childbirths: 66.3% 186 Percent of All Childbirths: 26.9% 47 Percent of All Childbirths: 6.8%  691  672  3 Percent of All Discharges: 0.1% 35 Percent of All Patient Days: 0.2%	4,508 Average Length of Stay (days):  14,274 Average Charge per Discharge:  \$29,253 Home or Self-Care Other GMS Hospital Critical Access Hospital (CAH)  \$458 Percent of All Childbirths:  \$66.3% Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice  \$691 Percent of All Childbirths:  \$68.8% Home or Self-Care Other GMS Hospital (CAH)  \$58

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	14.9%	10.7%	Male	40.7%	43.2%	Amer.Ind/Alaskan Native	0.2%	0.3%	
Under 15	1.2%	1.8%	Female	59.3%	56.8%	Asian	2.5%	1.8%	
15 - 19	1.0%	0.9%				Black/African Amer.	3.1%	3.0%	
20 - 24	3.8%	3.0%				Native Hawaii/Pac.Isl.	0.2%	0.1%	
25 - 34	12.4%	9.2%				White	93.3%	94.1%	
35 - 44	6.4%	6.0%				Multiracial	0.5%	0.5%	
45 - 54	8.2%	8.6%				Declined	0.2%	0.2%	
55 - 64	16.0%	17.6%				Unavailable	0.1%	0 %	
65 - 74	16.2%	17.4%							
75 - 84	11.9%	14.6%							
85 & Over	8.0%	10.2%							

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	77	4.0	4.0	1.00	4.5	0.89	4.5	0.89
139 Pneumonia	78	4.2	3.5	1.20	4.2	1.00	4.0	1.05
140 Chronic Obstructive Pulmonary Disease	56	3.5	2.9	1.21	3.6	0.97	3.6	0.97
174 Percutaneous coronary intervention w AMI	74	1.8	2.7	0.67	3.0	0.60	3.0	0.60
194 Heart Failure	114	4.2	3.8	1.11	4.6	0.91	4.6	0.91
201 Heart Abnormal Rhythm and Conduction Disorders	83	2.9	2.7	1.07	2.9	1.00	2.8	1.04
301 Hip Replacement	214	1.8	2.2	0.82	2.2	0.82	2.3	0.78
302 Knee Replacement	179	1.4	1.8	0.78	2.0	0.70	2.0	0.70
469 Acute kidney injury	63	4.0	4.0	1.00	4.7	0.85	4.6	0.87
540 Cesarean Delivery	186	2.8	3.2	0.88	3.3	0.85	3.6	0.78
560 Vaginal Delivery	458	1.9	2.0	0.95	2.1	0.90	2.2	0.86
640 Normal Newborn, Birthweight 2500g+	644	2.0	2.2	0.91	2.1	0.95	2.1	0.95
720 Blood Infection/Septicemia	395	4.5	4.9	0.92	5.5	0.82	5.5	0.82
751 Psychoses	*	*	4.7	*	4.7	*	5.1	*
775 Alcohol Abuse/Dependence	27	6.0	3.4	1.76	3.8	1.58	3.7	1.62

•	_	• • •	•	•	•	•		
	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$32,136	\$32,316	\$24,316	1.33	\$35,487	0.91	\$36,517	0.88
139 Pneumonia	\$27,753	\$24,973	\$17,991	1.39	\$27,529	0.91	\$26,154	0.95
140 Chronic Obstructive Pulmonary Disease	\$24,717	\$21,229	\$16,011	1.33	\$23,968	0.89	\$23,596	0.90
174 Percutaneous coronary intervention w AMI	\$54,345	\$55,990	\$55,968	1.00	\$72,860	0.77	\$73,175	0.77
194 Heart Failure	\$28,091	\$26,848	\$17,633	1.52	\$28,982	0.93	\$29,512	0.91
201 Heart Abnormal Rhythm and Conduction Disorders	\$21,811	\$20,459	\$15,459	1.32	\$21,611	0.95	\$21,125	0.97
301 Hip Replacement	\$43,816	\$43,213	\$38,732	1.12	\$52,206	0.83	\$50,854	0.85
302 Knee Replacement	\$49,989	\$49,649	\$35,838	1.39	\$50,848	0.98	\$48,781	1.02
469 Acute kidney injury	\$27,747	\$27,081	\$18,337	1.48	\$29,340	0.92	\$29,600	0.91
540 Cesarean Delivery	\$15,746	\$16,206	\$14,869	1.09	\$25,613	0.63	\$24,895	0.65
560 Vaginal Delivery	\$7,900	\$7,770	\$5,768	1.35	\$12,456	0.62	\$12,167	0.64
640 Normal Newborn, Birthweight 2500g+	\$4,704	\$4,490	\$3,376	1.33	\$4,463	1.01	\$4,719	0.95
720 Blood Infection/Septicemia	\$36,185	\$38,379	\$27,861	1.38	\$41,728	0.92	\$44,340	0.87
751 Psychoses	*	#	#	*	#	*	#	*
775 Alcohol Abuse/Dependence	\$34,850	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

104 Mayo Clinic Health System - Oakridge in Osseo

13025 Eighth Street, PO Box 70

Osseo, WI 54758

Hospital Type: GMS

County: Trempealeau

Analysis Area: 5B-Southwestern

715-597-3121				Inpatient Volume Group: 1	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	145	Average Length of Stay (days):	3.2	<u>Discharge Status</u>	% Discharges
Total Patient Days:	464	Average Charge per Discharge:	\$10,936	Home or Self-Care Other GMS Hospital	44.8% 13.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths: Percent of All Discharges:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	15.9% 1.4% 0.0% 5.5% 0.0% 3.4% 1.4% 0.0% 0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Expected Pay Source Distri	
AODA Utilization  Discharges: Patient Days:	0	Percent of All Discharges: Percent of All Patient Days:	0.0% 0.0%	Primary Payer  Medicare  Medicaid/BadgerCare  Other Government  Commercial or Private Insurance  Self-Pay  Other or Unknown Insurance	% Discharges 80.7% 3.4% 1.4% 13.1% 1.4% 0.0%

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	48.3%	49.1%	Amer.Ind/Alaskan Native	e 1.4%	1.7%	
Under 15	0.0%	0.0%	Female	51.7%	50.9%	Asian	0.0%	0.0%	
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%	
20 - 24	0.7%	0.6%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	2.8%	1.7%				White	97.2%	97.2%	
35 - 44	2.1%	1.9%				Multiracial	0.0%	0.0%	
45 - 54	4.8%	4.1%				Declined	0.0%	0.0%	
55 - 64	13.1%	11.9%				Unavailable	1.4%	1.1%	
65 - 74	26.2%	24.8%							
75 - 84	30.3%	31.5%							
85 & Over	20.0%	23.5%							

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	*	*	4.0	*	2.6	*	4.5	*
137 Respiratory Infections and Inflammations	6	2.7	4.9	0.55	3.7	0.73	5.6	0.48
139 Pneumonia	22	3.2	3.8	0.84	3.3	0.97	4.0	0.80
140 Chronic Obstructive Pulmonary Disease	15	3.4	3.2	1.06	3.2	1.06	3.6	0.94
194 Heart Failure	21	3.3	4.1	0.80	3.3	1.00	4.6	0.72
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.8	*	2.5	*	2.8	*
247 Intestinal Obstruction without Surgery	*	*	3.2	*	2.3	*	3.5	*
282 Disorders of Pancreas Except Malignancy	*	*	3.5	*	2.7	*	4.0	*
302 Knee Replacement	0	N/A	1.6	N/A	2.4	N/A	2.0	N/A
383 Cellulitis & other skin infections	*	*	3.8	*	3.8	*	4.0	*
463 Kidney/Urinary Tract Infection	17	3.0	3.4	0.88	3.3	0.91	3.6	0.83
469 Acute kidney injury	5	4.4	4.2	1.05	3.2	1.38	4.6	0.96
720 Blood Infection/Septicemia	16	3.4	5.0	0.68	3.6	0.94	5.5	0.62
861 Signs & Symptoms	*	*	5.3	*	6.3	*	5.0	*
862 Other Factors Influencing Health Status	0	N/A	8.6	N/A	9.1	N/A	8.7	N/A

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	is Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	*	*	\$25,589	*	\$16,434	*	\$36,517	*
137 Respiratory Infections and Inflammations	\$9,302	\$12,066	\$30,031	0.40	\$18,058	0.67	\$39,518	0.31
139 Pneumonia	\$12,162	\$14,231	\$20,184	0.71	\$15,907	0.89	\$26,154	0.54
140 Chronic Obstructive Pulmonary Disease	\$12,987	\$14,241	\$18,595	0.77	\$15,423	0.92	\$23,596	0.60
194 Heart Failure	\$12,060	\$12,801	\$21,845	0.59	\$15,151	0.84	\$29,512	0.43
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	\$15,454	*	\$12,073	*	\$21,125	*
247 Intestinal Obstruction without Surgery	*	*	\$16,667	*	\$10,681	*	\$21,879	*
282 Disorders of Pancreas Except Malignancy	*	*	\$19,660	*	\$15,867	*	\$28,992	*
302 Knee Replacement	N/A	N/A	\$38,036	*	\$47,739	*	\$48,781	*
383 Cellulitis & other skin infections	*	*	\$16,743	*	\$14,904	*	\$21,953	*
463 Kidney/Urinary Tract Infection	\$7,886	\$8,777	\$15,072	0.58	\$12,446	0.71	\$22,097	0.40
469 Acute kidney injury	\$10,691	\$12,663	\$20,575	0.62	\$13,028	0.97	\$29,600	0.43
720 Blood Infection/Septicemia	\$13,104	\$15,590	\$30,102	0.52	\$18,335	0.85	\$44,340	0.35
861 Signs & Symptoms	*	*	\$18,229	*	\$15,939	*	\$28,329	*
862 Other Factors Influencing Health Status	N/A	N/A	\$25,250	*	\$24,133	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

106 Flambeau Hospital 98 Sherry Avenue, PO Box 310 Park Falls, WI 54552

715-762-7505

Hospital Type: GMS County: Price

Analysis Area: 7-Western Lake Superior

Overall Hospital Utilization				Patient Discharge Statu	IS
Total Discharges:	396	Average Length of Stay (days):	3.2	<u>Discharge Status</u>	% Discharges
Total Patient Days:	1,274	Average Charge per Discharge:	\$13,517	Home or Self-Care Other GMS Hospital	41.4% 11.4%
<b>Obstetrical Utilization</b>				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization	0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge (Tree to Court II our Enforcement)	25.5% 3.0% 0.5% 4.0% 0.0% 10.1% 0.5% 2.5%
Discharges: Patient Days:	23	Percent of All Discharges: Percent of All Patient Days:	0.3% 1.8%	Discharge/Tran to Court/Law Enforcmnt Other	0.0% 1.0%
AODA Utilization		·		Expected Pay Source Distrib	bution % Discharges
Discharges:	4	Percent of All Discharges:	1.0%	Medicare Medicaid/BedgerCore	85.9%
Patient Days:	16	Percent of All Patient Days:	1.3%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	3.3% 3.3% 5.3% 0.5% 1.8%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	46.0%	45.0%	Amer.Ind/Alaskan Native	e 0.5%	0.5%	
Under 15	0.3%	0.2%	Female	54.0%	55.0%	Asian	0.5%	0.4%	
15 - 19	0.3%	0.2%				Black/African Amer.	0.3%	0.2%	
20 - 24	0.3%	0.2%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	0.8%	0.8%				White	97.7%	98.3%	
35 - 44	1.5%	1.7%				Multiracial	0.0%	0.0%	
45 - 54	3.8%	3.0%				Declined	0.5%	0.3%	
55 - 64	8.6%	6.9%				Unavailable	0.5%	0.2%	
65 - 74	21.0%	18.8%							
75 - 84	31.6%	35.3%							
85 & Over	32.1%	32.9%							

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	6	3.3	2.8	1.18	3.0	1.10	4.5	0.73
139 Pneumonia	72	3.2	3.3	0.97	3.3	0.97	4.0	0.80
140 Chronic Obstructive Pulmonary Disease	38	3.6	3.2	1.13	3.3	1.09	3.6	1.00
194 Heart Failure	24	3.4	3.4	1.00	3.4	1.00	4.6	0.74
201 Heart Abnormal Rhythm and Conduction Disorders	19	3.2	2.4	1.33	2.6	1.23	2.8	1.14
301 Hip Replacement	0	N/A	1.3	N/A	1.9	N/A	2.3	N/A
302 Knee Replacement	0	N/A	1.2	N/A	2.1	N/A	2.0	N/A
383 Cellulitis & other skin infections	29	2.9	3.1	0.94	3.9	0.74	4.0	0.73
463 Kidney/Urinary Tract Infection	32	3.0	2.8	1.07	3.0	1.00	3.6	0.83
469 Acute kidney injury	*	*	3.3	*	2.9	*	4.6	*
540 Cesarean Delivery	0	N/A	3.2	N/A	3.1	N/A	3.6	N/A
560 Vaginal Delivery	0	N/A	2.0	N/A	2.0	N/A	2.2	N/A
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.1	N/A	2.0	N/A	2.1	N/A
720 Blood Infection/Septicemia	21	2.9	3.2	0.91	3.6	0.81	5.5	0.53
862 Other Factors Influencing Health Status	0	N/A	5.0	N/A	l 8.7	N/A	8.7	N/A

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$15,331	\$16,613	\$15,822	1.05	\$19,995	0.83	\$36,517	0.45
139 Pneumonia	\$13,818	\$15,428	\$15,634	0.99	\$17,968	0.86	\$26,154	0.59
140 Chronic Obstructive Pulmonary Disease	\$16,731	\$19,440	\$15,430	1.26	\$18,011	1.08	\$23,596	0.82
194 Heart Failure	\$14,486	\$19,263	\$15,904	1.21	\$16,661	1.16	\$29,512	0.65
201 Heart Abnormal Rhythm and Conduction Disorders	\$14,955	\$13,647	\$10,785	1.27	\$13,360	1.02	\$21,125	0.65
301 Hip Replacement	N/A	N/A	\$29,149	*	\$39,123	*	\$50,854	*
302 Knee Replacement	N/A	N/A	\$33,898	*	\$39,600	*	\$48,781	*
383 Cellulitis & other skin infections	\$10,905	\$11,620	\$11,572	1.00	\$15,690	0.74	\$21,953	0.53
463 Kidney/Urinary Tract Infection	\$10,600	\$12,248	\$10,211	1.20	\$12,405	0.99	\$22,097	0.55
469 Acute kidney injury	*	*	\$12,754	*	\$14,450	*	\$29,600	*
540 Cesarean Delivery	N/A	N/A	\$20,863	*	\$20,919	*	\$24,895	*
560 Vaginal Delivery	N/A	N/A	\$8,332	*	\$8,631	*	\$12,167	*
640 Normal Newborn, Birthweight 2500g+	N/A	N/A	\$4,092	*	\$4,326	*	\$4,719	*
720 Blood Infection/Septicemia	\$11,900	\$16,469	\$18,825	0.87	\$20,714	0.80	\$44,340	0.37
862 Other Factors Influencing Health Status	N/A	N/A	\$7,770	*	\$15,162	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

108 Southwest Health 1400 East Side Road Platteville, WI 53818

608-348-2331

Hospital Type: GMS County: Grant

Analysis Area: 1-Southern

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,139	Average Length of Stay (days):	3.4	<u>Discharge Status</u>	% Discharges
Total Patient Days:	3,826	Average Charge per Discharge:	\$23,453	Home or Self-Care	80.4%
Total Fatient Days.	0,020	Average charge per bischarge.	Ψ20,400	Other GMS Hospital	3.4%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.2%
Normal Childbirths:	122	Percent of All Childbirths:	70.1%	Skilled Nursing Facility	9.9%
Cesarean Childbirths:	50	Percent of All Childbirths:	28.7%	Intermediate Care Facility	0.6%
Other Childbirths:	2	Percent of All Childbirths:	1.1%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	174			Hospice	0.4%
				Other Institution	0.0%
Total Newborns:	167			Home Health Service	0.1%
Psychiatric Utilization				Left Against Medical Advice	0.0%
r sycmatric offization				Expired	1.1%
Discharges:	67	Percent of All Discharges:	5.9%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	758	Percent of All Patient Days:	19.8%	Other	3.7%
				<b>Expected Pay Source Distrib</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	1	Percent of All Discharges:	0.1%	Medicare	45.9%
Patient Days:	11	Percent of All Patient Days:	0.3%	Medicaid/BadgerCare	11.2%
				Other Government	1.1%
				Commercial or Private Insurance	36.7%
				Self-Pay	5.1%
				Other or Unknown Insurance	0.0%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	14.7%	7.3%	Male	36.0%	35.5%	Amer.Ind/Alaskan Native	0.1%	0.1%	
Under 15	1.0%	0.5%	Female	64.0%	64.5%	Asian	0.3%	0.2%	
15 - 19	0.3%	0.2%				Black/African Amer.	0.4%	0.2%	
20 - 24	3.8%	2.5%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	11.2%	6.0%				White	89.8%	91.4%	
35 - 44	3.7%	2.3%				Multiracial	0.1%	0.1%	
45 - 54	4.8%	2.8%				Declined	0.2%	0.1%	
55 - 64	17.1%	17.7%				Unavailable	9.2%	7.9%	
65 - 74	19.3%	20.6%							
75 - 84	15.6%	23.1%							
85 & Over	8.5%	17.1%							

		This Facility		Group Averages						
				Analysis Area		Inpatient Volume Group		All GMS Hospitals		
APR-DRG # and Description		Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respirato	ry failure	*	*	4.1	*	3.2	*	4.5	*	
139 Pneumon	ia	25	2.3	3.7	0.62	3.3	0.70	4.0	0.58	
140 Chronic C	Obstructive Pulmonary Disease	22	2.0	3.6	0.56	2.9	0.69	3.6	0.56	
194 Heart Fail	ure	16	2.1	4.5	0.47	3.4	0.62	4.6	0.46	
201 Heart Abr	normal Rhythm and Conduction Disorders	7	2.4	2.8	0.86	2.3	1.04	2.8	0.86	
247 Intestinal	Obstruction without Surgery	6	1.3	3.7	0.35	2.7	0.48	3.5	0.37	
301 Hip Repla	cement	116	1.6	2.2	0.73	2.1	0.76	2.3	0.70	
302 Knee Rep	placement	202	1.5	2.0	0.75	1.9	0.79	2.0	0.75	
383 Cellulitis 8	& other skin infections	13	2.8	4.0	0.70	3.6	0.78	4.0	0.70	
463 Kidney/Ur	rinary Tract Infection	9	2.6	3.4	0.76	2.9	0.90	3.6	0.72	
469 Acute kidi	ney injury	5	4.0	4.3	0.93	2.8	1.43	4.6	0.87	
540 Cesarean	Delivery	50	2.5	3.9	0.64	3.0	0.83	3.6	0.69	
560 Vaginal D	elivery	122	1.7	2.3	0.74	1.9	0.89	2.2	0.77	
640 Normal N	ewborn, Birthweight 2500g+	165	1.7	2.1	0.81	2.0	0.85	2.1	0.81	
720 Blood Infe	ection/Septicemia	7	3.4	5.5	0.62	3.6	0.94	5.5	0.62	

This Facility			Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
133 Respiratory failure	*	*	\$42,179	*	\$22,058	*	\$36,517	*	
139 Pneumonia	\$11,928	\$15,475	\$28,774	0.54	\$18,736	0.83	\$26,154	0.59	
140 Chronic Obstructive Pulmonary Disease	\$8,957	\$11,508	\$28,251	0.41	\$16,687	0.69	\$23,596	0.49	
194 Heart Failure	\$11,620	\$18,230	\$33,598	0.54	\$18,675	0.98	\$29,512	0.62	
201 Heart Abnormal Rhythm and Conduction Disorders	\$10,797	\$11,470	\$23,719	0.48	\$13,920	0.82	\$21,125	0.54	
247 Intestinal Obstruction without Surgery	\$6,250	\$7,751	\$24,525	0.32	\$13,214	0.59	\$21,879	0.35	
301 Hip Replacement	\$42,850	\$44,996	\$49,942	0.90	\$43,894	1.03	\$50,854	0.88	
302 Knee Replacement	\$44,020	\$46,780	\$43,613	1.07	\$45,311	1.03	\$48,781	0.96	
383 Cellulitis & other skin infections	\$15,979	\$17,797	\$24,297	0.73	\$16,011	1.11	\$21,953	0.81	
463 Kidney/Urinary Tract Infection	\$11,153	\$12,700	\$24,396	0.52	\$13,197	0.96	\$22,097	0.57	
469 Acute kidney injury	\$16,100	\$19,070	\$32,366	0.59	\$14,980	1.27	\$29,600	0.64	
540 Cesarean Delivery	\$22,041	\$24,838	\$28,792	0.86	\$21,375	1.16	\$24,895	1.00	
560 Vaginal Delivery	\$7,270	\$7,843	\$13,875	0.57	\$8,800	0.89	\$12,167	0.64	
640 Normal Newborn, Birthweight 2500g+	\$2,814	\$3,090	\$5,441	0.57	\$3,780	0.82	\$4,719	0.65	
720 Blood Infection/Septicemia	\$16,700	\$29,964	\$52,049	0.58	\$23,568	1.27	\$44,340	0.68	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

111 Divine Savior Healthcare 2817 New Pinery Road Portage, WI 53901

Portage, WI 53901 Analysis Area: 1-Southern 608-742-4131 Inpatient Volume Group: 4

Overall Hospital Utilization				Patient Discharge Status	<u>s</u>
Total Discharges:	1,865	Average Length of Stay (days):	3.2	<u>Discharge Status</u>	% Discharges
Total Patient Days:	5,929	Average Charge per Discharge:	\$21,511	Home or Self-Care	64.4%
·	-,		+= 1,5 1 1	Other GMS Hospital	7.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	139	Percent of All Childbirths:	69.8%	Skilled Nursing Facility	17.9%
Cesarean Childbirths:	55	Percent of All Childbirths:	27.6%	Intermediate Care Facility	0.0%
Other Childbirths:	5	Percent of All Childbirths:	2.5%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	199		,	Hospice	1.6%
rotal official.				Other Institution	0.2%
Total Newborns:	204			Home Health Service	4.3%
Psychiatric Utilization				Left Against Medical Advice	0.9%
Psychiatric Utilization				Expired	1.2%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.6%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	1.1%
				<b>Expected Pay Source Distrib</b>	<u>ution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	27	Percent of All Discharges:	1.4%	Medicare	54.8%
Patient Days:	90	Percent of All Patient Days:	1.5%	Medicaid/BadgerCare	16.1%
				Other Government	2.6%
				Commercial or Private Insurance	23.6%
				Self-Pay	2.8%
				Other or Unknown Insurance	0.0%

Hospital Type: GMS

County: Columbia

	Age Distribution			Sex Distribution	<u>1</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days		
Newborn	10.9%	6.5%	Male	41.0%	41.2%	Amer.Ind/Alaskan Native	0.4%	0.4%		
Under 15	0.5%	0.3%	Female	59.0%	58.8%	Asian	0.1%	0.2%		
15 - 19	1.3%	0.8%				Black/African Amer.	0.8%	0.8%		
20 - 24	2.9%	2.2%				Native Hawaii/Pac.Isl.	0.1%	0.1%		
25 - 34	8.3%	6.4%				White	98.4%	98.5%		
35 - 44	5.1%	3.4%				Multiracial	0.0%	0.0%		
45 - 54	6.6%	6.7%				Declined	0.0%	0.0%		
55 - 64	14.1%	15.4%				Unavailable	0.2%	0.2%		
65 - 74	16.4%	18.1%								
75 - 84	18.9%	22.1%								
85 & Over	15.0%	17.9%								

Portage, WI 53901

#### APR-DRG Specific Data - Average Length of Stay (ALOS)

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	19	4.3	4.1	1.05	3.6	1.19	4.5	0.96		
139 Pneumonia	84	3.6	3.7	0.97	3.5	1.03	4.0	0.90		
140 Chronic Obstructive Pulmonary Disease	111	4.0	3.6	1.11	3.2	1.25	3.6	1.11		
194 Heart Failure	94	3.8	4.5	0.84	3.6	1.06	4.6	0.83		
201 Heart Abnormal Rhythm and Conduction Disorders	41	2.7	2.8	0.96	2.5	1.08	2.8	0.96		
301 Hip Replacement	27	2.3	2.2	1.05	1.9	1.21	2.3	1.00		
302 Knee Replacement	72	2.1	2.0	1.05	1.7	1.24	2.0	1.05		
383 Cellulitis & other skin infections	43	3.5	4.0	0.88	3.5	1.00	4.0	0.88		
463 Kidney/Urinary Tract Infection	60	3.4	3.4	1.00	3.1	1.10	3.6	0.94		
469 Acute kidney injury	22	3.2	4.3	0.74	3.3	0.97	4.6	0.70		
540 Cesarean Delivery	55	2.7	3.9	0.69	2.9	0.93	3.6	0.75		
560 Vaginal Delivery	139	1.6	2.3	0.70	2.0	0.80	2.2	0.73		
640 Normal Newborn, Birthweight 2500g+	196	1.9	2.1	0.90	1.9	1.00	2.1	0.90		
720 Blood Infection/Septicemia	126	5.0	5.5	0.91	4.2	1.19	5.5	0.91		
775 Alcohol Abuse/Dependence	19	3.5	3.4	1.03	3.7	0.95	3.7	0.95		

	This Ess	.1114.			Dials Adiusted	Craus Averages		
	This Fac	-			RISK Adjusted	Group Averages		
ADD DDC # and Deparintion	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
APR-DRG # and Description	Charge	Charge	Charge	Natio	Charge	Natio	Charge	Natio
133 Respiratory failure	\$29,320	\$31,105	\$42,179	0.74	\$31,273	0.99	\$36,517	0.85
139 Pneumonia	\$21,413	\$20,722	\$28,774	0.72	\$23,233	0.89	\$26,154	0.79
140 Chronic Obstructive Pulmonary Disease	\$25,311	\$21,963	\$28,251	0.78	\$21,959	1.00	\$23,596	0.93
194 Heart Failure	\$21,936	\$24,343	\$33,598	0.72	\$25,091	0.97	\$29,512	0.82
201 Heart Abnormal Rhythm and Conduction Disorders	\$18,271	\$17,849	\$23,719	0.75	\$19,443	0.92	\$21,125	0.84
301 Hip Replacement	\$42,205	\$43,637	\$49,942	0.87	\$45,617	0.96	\$50,854	0.86
302 Knee Replacement	\$36,147	\$37,597	\$43,613	0.86	\$43,239	0.87	\$48,781	0.77
383 Cellulitis & other skin infections	\$17,529	\$18,961	\$24,297	0.78	\$19,644	0.97	\$21,953	0.86
463 Kidney/Urinary Tract Infection	\$18,997	\$19,187	\$24,396	0.79	\$19,748	0.97	\$22,097	0.87
469 Acute kidney injury	\$17,777	\$23,559	\$32,366	0.73	\$23,728	0.99	\$29,600	0.80
540 Cesarean Delivery	\$19,470	\$20,863	\$28,792	0.72	\$24,480	0.85	\$24,895	0.84
560 Vaginal Delivery	\$9,331	\$9,649	\$13,875	0.70	\$11,116	0.87	\$12,167	0.79
640 Normal Newborn, Birthweight 2500g+	\$2,936	\$3,355	\$5,441	0.62	\$4,155	0.81	\$4,719	0.71
720 Blood Infection/Septicemia	\$28,355	\$34,126	\$52,049	0.66	\$33,720	1.01	\$44,340	0.77
775 Alcohol Abuse/Dependence	\$20,162	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

112 Crossing Rivers Health 37868 US Highway 18 Prairie du Chien, WI 53821

608-357-2000

85 & Over

16.9%

20.8%

Hospital Type: GMS
County: Crawford

Analysis Area: 5B-Southwestern

Inpatient Volume Group: 2

				·	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	801	Average Length of Stay (days):	3.2	Discharge Status	% Discharges
Total Patient Days:	2,594	Average Charge per Discharge:	\$19,528	Home or Self-Care	72.9%
Total Fallont Bayo.	2,001	Avoidge charge per Bloomarge.	Ψ10,020	Other GMS Hospital	5.1%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	83	Percent of All Childbirths:	62.9%	Skilled Nursing Facility	9.5%
Cesarean Childbirths:	39	Percent of All Childbirths:	29.5%	Intermediate Care Facility	0.4%
Other Childbirths:	10	Percent of All Childbirths:	7.6%	Inpatient Rehabilitation Facility	0.1%
Total Childbirths:	132	r crocht of 7th offinabilitis.	7.070	Hospice	0.4%
iotai Chiiddirths.	132			Other Institution	0.7%
Total Newborns:	131			Home Health Service	1.2%
				Left Against Medical Advice	0.4%
Psychiatric Utilization				Expired	1.0%
Discharges:	1	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	2	Percent of All Patient Days:	0.1%	Other	8.2%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	1	Percent of All Discharges:	0.1%	Medicare	36.1%
Patient Days:	1	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	10.5%
•		·		Other Government	1.0%
				Commercial or Private Insurance	25.5%
				Self-Pay	26.8%
				Other or Unknown Insurance	0.1%
					3.170

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	16.4%	10.7%	Male	39.3%	38.8%	Amer.Ind/Alaskan Native	0.6%	0.5%	
Under 15	0.1%	0.1%	Female	60.7%	61.2%	Asian	0.5%	0.6%	
15 - 19	0.4%	0.5%				Black/African Amer.	0.9%	0.7%	
20 - 24	4.5%	3.4%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	12.9%	9.5%				White	97.5%	97.7%	
35 - 44	3.4%	2.6%				Multiracial	0.4%	0.3%	
45 - 54	3.7%	3.5%				Declined	0.1%	0.2%	
55 - 64	8.9%	11.1%				Unavailable	0 %	0 %	
65 - 74	14.4%	14.2%							
75 - 84	18.6%	23.6%							

	This Facil	ity	Group Averages							
			Analysis Area		Inpatient Volume Group		All GMS H	<u>ospitals</u>		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	19	3.4	4.0	0.85	3.0	1.13	4.5	0.76		
139 Pneumonia	66	3.5	3.8	0.92	3.3	1.06	4.0	0.88		
140 Chronic Obstructive Pulmonary Disease	38	3.3	3.2	1.03	3.3	1.00	3.6	0.92		
194 Heart Failure	44	3.3	4.1	0.80	3.4	0.97	4.6	0.72		
201 Heart Abnormal Rhythm and Conduction Disorders	20	2.2	2.8	0.79	2.6	0.85	2.8	0.79		
301 Hip Replacement	*	*	2.3	*	1.9	*	2.3	*		
302 Knee Replacement	*	*	1.6	*	2.1	*	2.0	*		
383 Cellulitis & other skin infections	17	4.0	3.8	1.05	3.9	1.03	4.0	1.00		
463 Kidney/Urinary Tract Infection	24	2.9	3.4	0.85	3.0	0.97	3.6	0.81		
469 Acute kidney injury	17	2.5	4.2	0.60	2.9	0.86	4.6	0.54		
540 Cesarean Delivery	39	3.3	3.4	0.97	3.1	1.06	3.6	0.92		
560 Vaginal Delivery	83	2.1	2.2	0.95	2.0	1.05	2.2	0.95		
640 Normal Newborn, Birthweight 2500g+	122	2.2	1.9	1.16	2.0	1.10	2.1	1.05		
720 Blood Infection/Septicemia	37	5.0	5.0	1.00	3.6	1.39	5.5	0.91		
862 Other Factors Influencing Health Status	18	5.6	8.6	0.65	8.7	0.64	8.7	0.64		

	This Facility						Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	-	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio					
133 Respiratory failure	\$27,985	\$34,952	\$25,589	1.37	\$19,995	1.75	\$36,517	0.96					
139 Pneumonia	\$25,770	\$26,328	\$20,184	1.30	\$17,968	1.47	\$26,154	1.01					
140 Chronic Obstructive Pulmonary Disease	\$24,620	\$23,968	\$18,595	1.29	\$18,011	1.33	\$23,596	1.02					
194 Heart Failure	\$25,396	\$25,533	\$21,845	1.17	\$16,661	1.53	\$29,512	0.87					
201 Heart Abnormal Rhythm and Conduction Disorders	\$15,552	\$19,080	\$15,454	1.23	\$13,360	1.43	\$21,125	0.90					
301 Hip Replacement	*	*	\$38,182	*	\$39,123	*	\$50,854	*					
302 Knee Replacement	*	*	\$38,036	*	\$39,600	*	\$48,781	*					
383 Cellulitis & other skin infections	\$19,456	\$23,847	\$16,743	1.42	\$15,690	1.52	\$21,953	1.09					
463 Kidney/Urinary Tract Infection	\$18,389	\$19,337	\$15,072	1.28	\$12,405	1.56	\$22,097	0.88					
469 Acute kidney injury	\$22,009	\$30,632	\$20,575	1.49	\$14,450	2.12	\$29,600	1.03					
540 Cesarean Delivery	\$23,403	\$25,907	\$24,286	1.07	\$20,919	1.24	\$24,895	1.04					
560 Vaginal Delivery	\$9,891	\$10,355	\$12,860	0.81	\$8,631	1.20	\$12,167	0.85					
640 Normal Newborn, Birthweight 2500g+	\$5,858	\$6,147	\$3,905	1.57	\$4,326	1.42	\$4,719	1.30					
720 Blood Infection/Septicemia	\$35,170	\$46,130	\$30,102	1.53	\$20,714	2.23	\$44,340	1.04					
862 Other Factors Influencing Health Status	\$11,211	\$12,493	\$25,250	0.49	\$15,162	0.82	\$31,132	0.40					

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

113 Sauk Prairie Healthcare

260 26th Street

Prairie du Sac, WI 53578

608-643-3311

Hospital Type: GMS County: Sauk

Analysis Area: 1-Southern

Inpatient Volume Group: 4

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>IS</u>
Total Discharges:	2,321	Average Length of Stay (days):	2.0	<u>Discharge Status</u>	% Discharges
Total Patient Days:	4,658	Average Charge per Discharge:	\$20,550	Home or Self-Care	81.8%
Total Fatient Days.	4,000	Average Charge per Discharge.	φ20,330	Other GMS Hospital	2.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	262	Percent of All Childbirths:	76.2%	Skilled Nursing Facility	9.9%
Cesarean Childbirths:	73	Percent of All Childbirths:	21.2%	Intermediate Care Facility	0.6%
Other Childbirths:	9	Percent of All Childbirths:	2.6%	Inpatient Rehabilitation Facility	0.3%
Total Childbirths:	344		,,	Hospice	0.7%
Total Gilliasi inc.				Other Institution	0.1%
Total Newborns:	353			Home Health Service	2.2%
Dovobiotrio Utilization				Left Against Medical Advice	0.1%
Psychiatric Utilization				Expired	0.7%
Discharges:	1	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	3	Percent of All Patient Days:	0.1%	Other	0.7%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	14	Percent of All Discharges:	0.6%	Medicare	45.2%
Patient Days:	45	Percent of All Patient Days:	1.0%	Medicaid/BadgerCare	8.4%
				Other Government	1.0%
				Commercial or Private Insurance	44.9%
				Self-Pay	0.6%
				Other or Unknown Insurance	0.0%

	Age Distribution	<u>l</u>		Sex Distribution	<u>1</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days		
Newborn	15.2%	14.3%	Male	38.1%	37.0%	Amer.Ind/Alaskan Native	e 0.5%	1.0%		
Under 15	0.4%	0.2%	Female	61.9%	63.0%	Asian	0.2%	0.2%		
15 - 19	0.5%	0.6%				Black/African Amer.	0.4%	0.5%		
20 - 24	1.9%	2.1%				Native Hawaii/Pac.Isl.	0.0%	0.0%		
25 - 34	11.8%	11.7%				White	98.6%	98.0%		
35 - 44	4.0%	4.2%				Multiracial	0.0%	0.1%		
45 - 54	4.9%	4.6%				Declined	0.2%	0.1%		
55 - 64	15.5%	13.4%				Unavailable	0 %	0.1%		
65 - 74	23.1%	20.7%								
75 - 84	15.0%	17.4%								
85 & Over	7.7%	10.7%								

	This Facil	ity	Group Averages							
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	6	1.7	4.1	0.41	3.6	0.47	4.5	0.38		
139 Pneumonia	16	2.5	3.7	0.68	3.5	0.71	4.0	0.63		
140 Chronic Obstructive Pulmonary Disease	35	2.8	3.6	0.78	3.2	0.88	3.6	0.78		
194 Heart Failure	42	2.5	4.5	0.56	3.6	0.69	4.6	0.54		
201 Heart Abnormal Rhythm and Conduction Disorders	22	1.8	2.8	0.64	2.5	0.72	2.8	0.64		
301 Hip Replacement	298	1.3	2.2	0.59	1.9	0.68	2.3	0.57		
302 Knee Replacement	571	1.7	2.0	0.85	1.7	1.00	2.0	0.85		
383 Cellulitis & other skin infections	11	2.8	4.0	0.70	3.5	0.80	4.0	0.70		
463 Kidney/Urinary Tract Infection	10	1.7	3.4	0.50	3.1	0.55	3.6	0.47		
469 Acute kidney injury	14	2.2	4.3	0.51	3.3	0.67	4.6	0.48		
540 Cesarean Delivery	73	2.6	3.9	0.67	2.9	0.90	3.6	0.72		
560 Vaginal Delivery	262	1.8	2.3	0.78	2.0	0.90	2.2	0.82		
640 Normal Newborn, Birthweight 2500g+	346	1.9	2.1	0.90	1.9	1.00	2.1	0.90		
720 Blood Infection/Septicemia	128	3.3	5.5	0.60	4.2	0.79	5.5	0.60		
775 Alcohol Abuse/Dependence	13	3.2	3.4	0.94	3.7	0.86	3.7	0.86		

<u> </u>	This Ess	ility			Pick Adjusted	Croup Averegee			
	This Fac	Risk			NISK AUJUSTEU	Group Averages			
		Adjusted			Inpatient Volume Group		All GMS Ho	All GMS Hospitals	
	Average	Average	Average	<u>_</u>	Average		Average		
APR-DRG # and Description	Charge	Charge	Charge	Ratio	Charge	Ratio	Charge	Ratio	
133 Respiratory failure	\$16,112	\$22,172	\$42,179	0.53	\$31,273	0.71	\$36,517	0.61	
139 Pneumonia	\$24,009	\$27,583	\$28,774	0.96	\$23,233	1.19	\$26,154	1.05	
140 Chronic Obstructive Pulmonary Disease	\$25,420	\$22,762	\$28,251	0.81	\$21,959	1.04	\$23,596	0.96	
194 Heart Failure	\$20,110	\$21,200	\$33,598	0.63	\$25,091	0.84	\$29,512	0.72	
201 Heart Abnormal Rhythm and Conduction Disorders	\$14,738	\$15,943	\$23,719	0.67	\$19,443	0.82	\$21,125	0.75	
301 Hip Replacement	\$28,402	\$29,637	\$49,942	0.59	\$45,617	0.65	\$50,854	0.58	
302 Knee Replacement	\$26,236	\$27,748	\$43,613	0.64	\$43,239	0.64	\$48,781	0.57	
383 Cellulitis & other skin infections	\$16,523	\$19,977	\$24,297	0.82	\$19,644	1.02	\$21,953	0.91	
463 Kidney/Urinary Tract Infection	\$16,862	\$18,070	\$24,396	0.74	\$19,748	0.92	\$22,097	0.82	
469 Acute kidney injury	\$16,129	\$18,891	\$32,366	0.58	\$23,728	0.80	\$29,600	0.64	
540 Cesarean Delivery	\$18,219	\$20,470	\$28,792	0.71	\$24,480	0.84	\$24,895	0.82	
560 Vaginal Delivery	\$9,893	\$10,531	\$13,875	0.76	\$11,116	0.95	\$12,167	0.87	
640 Normal Newborn, Birthweight 2500g+	\$3,773	\$4,059	\$5,441	0.75	\$4,155	0.98	\$4,719	0.86	
720 Blood Infection/Septicemia	\$29,577	\$33,949	\$52,049	0.65	\$33,720	1.01	\$44,340	0.77	
775 Alcohol Abuse/Dependence	\$17,886	#	#	#	#	#	#	#	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

**302 Ascension All Saints Hospital** 

3801 Spring Street

Racine, WI 53405

Inpatient Volume Group: 6

Hospital Type: GMS

County: Racine
Analysis Area: 2A-Southeastern

262-687-4011

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	13,472	Average Length of Stay (days):	4.6	Discharge Status	% Discharges
Total Patient Days:	61,920	Average Charge per Discharge:	\$28,019	Home or Self-Care	67.8%
Total Fatient Days.	01,920	Average Charge per Discharge.	φ20,019	Other GMS Hospital	0.9%
<b>Obstetrical Utilization</b>				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	1,019	Percent of All Childbirths:	67.6%	Skilled Nursing Facility	10.7%
Cesarean Childbirths:	468	Percent of All Childbirths:	31.0%	Intermediate Care Facility	1.0%
Other Childbirths:	21	Percent of All Childbirths:	1.4%	Inpatient Rehabilitation Facility	2.8%
Total Childbirths:	1,508		,	Hospice	2.0%
	•			Other Institution	0.1%
Total Newborns:	1,508			Home Health Service	10.5%
Psychiatric Utilization				Left Against Medical Advice	1.1%
r sychiatric othization				Expired	2.0%
Discharges:	940	Percent of All Discharges:	7.0%	Discharge/Tran to Court/Law Enforcmnt	0.5%
Patient Days:	4,799	Percent of All Patient Days:	7.8%	Other	0.6%
				Expected Pay Source Distrik	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	330	Percent of All Discharges:	2.4%	Medicare	45.7%
Patient Days:	1,104	Percent of All Patient Days:	1.8%	Medicaid/BadgerCare	30.0%
				Other Government	1.0%
				Commercial or Private Insurance	21.3%
				Self-Pay	2.0%
				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	11.2%	9.0%	Male	41.4%	44.6%	Amer.Ind/Alaskan Native	e 0.3%	0.4%
Under 15	2.3%	2.3%	Female	58.6%	55.4%	Asian	0.6%	0.5%
15 - 19	2.9%	2.9%				Black/African Amer.	22.2%	21.6%
20 - 24	4.7%	3.1%				Native Hawaii/Pac.Isl.	0.1%	0.1%
25 - 34	10.3%	7.3%				White	74.7%	75.6%
35 - 44	7.0%	5.6%				Multiracial	0.3%	0.2%
45 - 54	8.7%	8.2%				Declined	1.7%	1.5%
55 - 64	15.7%	17.8%				Unavailable	0.1%	0 %
65 - 74	15.8%	18.7%						
75 - 84	12.5%	15.7%						
85 & Over	8.9%	9.5%						

	This Facil	ity			Group /	Averages		
			<u>Analysis Area</u>		Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	198	4.2	3.6	1.17	4.6	0.91	4.2	1.00
133 Respiratory failure	277	5.4	4.8	1.13	4.9	1.10	4.5	1.20
139 Pneumonia	282	4.5	4.5	1.00	4.2	1.07	4.0	1.13
174 Percutaneous coronary intervention w AMI	137	3.5	2.9	1.21	3.0	1.17	3.0	1.17
175 Percutaneous coronary intervention w/o AMI	51	4.1	2.8	1.46	3.1	1.32	3.1	1.32
194 Heart Failure	367	5.4	4.6	1.17	5.0	1.08	4.6	1.17
201 Heart Abnormal Rhythm and Conduction Disorders	205	3.6	2.9	1.24	2.9	1.24	2.8	1.29
301 Hip Replacement	208	3.0	2.1	1.43	2.5	1.20	2.3	1.30
302 Knee Replacement	242	2.7	2.0	1.35	2.1	1.29	2.0	1.35
469 Acute kidney injury	204	4.8	4.5	1.07	5.2	0.92	4.6	1.04
540 Cesarean Delivery	468	3.6	3.3	1.09	4.0	0.90	3.6	1.00
560 Vaginal Delivery	1,019	2.3	2.2	1.05	2.3	1.00	2.2	1.05
640 Normal Newborn, Birthweight 2500g+	1,350	2.2	2.1	1.05	2.2	1.00	2.1	1.05
720 Blood Infection/Septicemia	782	6.5	5.3	1.23	6.1	1.07	5.5	1.18
751 Psychoses	403	5.5	5.6	0.98	J 5.1	1.08	5.1	1.08

-				•				
	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
045 Stroke and Precerebral Occlusion with Infarct	\$36,089	\$37,302	\$39,923	0.93	\$43,048	0.87	\$39,987	0.93
133 Respiratory failure	\$30,409	\$31,004	\$37,003	0.84	\$39,891	0.78	\$36,517	0.85
139 Pneumonia	\$22,751	\$23,383	\$30,437	0.77	\$29,201	0.80	\$26,154	0.89
174 Percutaneous coronary intervention w AMI	\$57,790	\$56,683	\$73,777	0.77	\$73,358	0.77	\$73,175	0.77
175 Percutaneous coronary intervention w/o AMI	\$61,475	\$73,238	\$104,641	0.70	\$109,236	0.67	\$106,404	0.69
194 Heart Failure	\$25,174	\$26,518	\$30,999	0.86	\$32,710	0.81	\$29,512	0.90
201 Heart Abnormal Rhythm and Conduction Disorders	\$21,503	\$21,773	\$23,194	0.94	\$22,164	0.98	\$21,125	1.03
301 Hip Replacement	\$51,273	\$50,618	\$61,253	0.83	\$53,491	0.95	\$50,854	1.00
302 Knee Replacement	\$50,359	\$48,055	\$60,209	0.80	\$52,844	0.91	\$48,781	0.99
469 Acute kidney injury	\$22,451	\$24,390	\$30,548	0.80	\$33,062	0.74	\$29,600	0.82
540 Cesarean Delivery	\$21,391	\$21,527	\$26,513	0.81	\$25,062	0.86	\$24,895	0.86
560 Vaginal Delivery	\$11,900	\$12,092	\$14,321	0.84	\$12,661	0.96	\$12,167	0.99
640 Normal Newborn, Birthweight 2500g+	\$3,685	\$3,792	\$4,851	0.78	\$5,036	0.75	\$4,719	0.80
720 Blood Infection/Septicemia	\$38,576	\$38,615	\$44,089	0.88	\$50,089	0.77	\$44,340	0.87
751 Psychoses	\$8,733	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 117 Reedsburg Area Medical Center

2000 North Dewey Street

Reedsburg, WI 53959

Hospital Type: GMS

Self-Pay

Other or Unknown Insurance

County: Sauk

Analysis Area: 1-Southern

2.7%

0.0%

608-524-6487				Inpatient Volume Group: 3	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	1,128	Average Length of Stay (days):	2.4	Discharge Status	% Discharges
Total Patient Days:	2,735	Average Charge per Discharge:	\$12,817	Home or Self-Care Other GMS Hospital	75.1% 4.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.9%
Normal Childbirths: Cesarean Childbirths: Other Childbirths:	165 48 9	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	74.3% 21.6% 4.1%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility	9.3% 1.2% 0.0%
Total Childbirths:	222		,	Hospice Other Institution	1.4% 0.0%
Total Newborns:	228			Home Health Service	3.7%
Psychiatric Utilization				Left Against Medical Advice Expired	0.4% 1.3%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	2.2%
				<b>Expected Pay Source Distril</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	2	Percent of All Discharges:	0.2%	Medicare	40.8%
Patient Days:	5	Percent of All Patient Days:	0.2%	Medicaid/BadgerCare	21.7%
				Other Government	1.2%
				Commercial or Private Insurance	33.6%

	Age Distribution	Ļ		Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	20.2%	16.3%	Male	39.4%	38.7%	Amer.Ind/Alaskan Native	2.0%	1.5%
Under 15	0.5%	0.4%	Female	60.6%	61.3%	Asian	0.5%	0.5%
15 - 19	1.2%	1.2%				Black/African Amer.	1.2%	1.0%
20 - 24	5.1%	4.5%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	13.5%	12.0%				White	94.1%	95.4%
35 - 44	5.7%	5.8%				Multiracial	0.4%	0.5%
45 - 54	4.8%	4.4%				Declined	0.0%	0.0%
55 - 64	10.4%	9.7%				Unavailable	2.0%	1.3%
65 - 74	12.2%	13.1%						
75 - 84	17.5%	20.5%						
85 & Over	9.0%	12.0%						

	This Fac	ility	Group Averages							
			Analy	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	30	2.6	4.1	0.63	3.2	0.81	4.5	0.58		
139 Pneumonia	51	2.3	3.7	0.62	3.3	0.70	4.0	0.58		
140 Chronic Obstructive Pulmonary Disease	33	2.2	3.6	0.61	2.9	0.76	3.6	0.61		
194 Heart Failure	36	2.6	4.5	0.58	3.4	0.76	4.6	0.57		
201 Heart Abnormal Rhythm and Conduction	Disorders 23	2.1	2.8	0.75	2.3	0.91	2.8	0.75		
247 Intestinal Obstruction without Surgery	20	2.4	3.7	0.65	2.7	0.89	3.5	0.69		
301 Hip Replacement	28	1.5	2.2	0.68	2.1	0.71	2.3	0.65		
302 Knee Replacement	17	1.9	2.0	0.95	1.9	1.00	2.0	0.95		
383 Cellulitis & other skin infections	24	3.3	4.0	0.83	3.6	0.92	4.0	0.83		
463 Kidney/Urinary Tract Infection	18	2.6	3.4	0.76	2.9	0.90	3.6	0.72		
469 Acute kidney injury	12	3.1	4.3	0.72	2.8	1.11	4.6	0.67		
540 Cesarean Delivery	48	3.2	3.9	0.82	3.0	1.07	3.6	0.89		
560 Vaginal Delivery	165	2.0	2.3	0.87	1.9	1.05	2.2	0.91		
640 Normal Newborn, Birthweight 2500g+	219	1.9	2.1	0.90	2.0	0.95	2.1	0.90		
720 Blood Infection/Septicemia	35	2.5	5.5	0.45	3.6	0.69	5.5	0.45		

•	_	• •	•	•	-	•						
	This Facility				Risk Adjusted Group Averages							
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio				
133 Respiratory failure	\$16,420	\$18,548	\$42,179	0.44	\$22,058	0.84	\$36,517	0.51				
139 Pneumonia	\$12,434	\$14,458	\$28,774	0.50	\$18,736	0.77	\$26,154	0.55				
140 Chronic Obstructive Pulmonary Disease	\$13,038	\$13,772	\$28,251	0.49	\$16,687	0.83	\$23,596	0.58				
194 Heart Failure	\$12,001	\$15,342	\$33,598	0.46	\$18,675	0.82	\$29,512	0.52				
201 Heart Abnormal Rhythm and Conduction Disorders	\$10,887	\$10,625	\$23,719	0.45	\$13,920	0.76	\$21,125	0.50				
247 Intestinal Obstruction without Surgery	\$9,600	\$11,781	\$24,525	0.48	\$13,214	0.89	\$21,879	0.54				
301 Hip Replacement	\$41,587	\$43,593	\$49,942	0.87	\$43,894	0.99	\$50,854	0.86				
302 Knee Replacement	\$50,456	\$53,748	\$43,613	1.23	\$45,311	1.19	\$48,781	1.10				
383 Cellulitis & other skin infections	\$14,359	\$14,921	\$24,297	0.61	\$16,011	0.93	\$21,953	0.68				
463 Kidney/Urinary Tract Infection	\$8,877	\$9,162	\$24,396	0.38	\$13,197	0.69	\$22,097	0.41				
469 Acute kidney injury	\$10,028	\$12,114	\$32,366	0.37	\$14,980	0.81	\$29,600	0.41				
540 Cesarean Delivery	\$17,536	\$19,179	\$28,792	0.67	\$21,375	0.90	\$24,895	0.77				
560 Vaginal Delivery	\$8,493	\$8,811	\$13,875	0.64	\$8,800	1.00	\$12,167	0.72				
640 Normal Newborn, Birthweight 2500g+	\$3,035	\$3,369	\$5,441	0.62	\$3,780	0.89	\$4,719	0.71				
720 Blood Infection/Septicemia	\$13,181	\$19,544	\$52,049	0.38	\$23,568	0.83	\$44,340	0.44				

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

118 Ascension St. Mary's Hospital

2251 North Shore Dr

Rhinelander, WI 54501 715-361-2000 Inpatient Volume Group: 4

Hospital Type: GMS County: Oneida

Analysis Area: 6-North Central

				· · · · · · · · · · · · · · · · · · ·	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	2,631	Average Length of Stay (days):	3.6	Discharge Status	% Discharges
Total Patient Days:	9,464	Average Charge per Discharge:	\$23,727	Home or Self-Care	69.9%
Total Fatient Days.	3,707	Average charge per bischarge.	Ψ20,121	Other GMS Hospital	4.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	158	Percent of All Childbirths:	69.3%	Skilled Nursing Facility	10.9%
Cesarean Childbirths:	61	Percent of All Childbirths:	26.8%	Intermediate Care Facility	0.1%
Other Childbirths:	9	Percent of All Childbirths:	3.9%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	228			Hospice	1.4%
				Other Institution	0.0%
Total Newborns:	239			Home Health Service	5.1%
Psychiatric Utilization				Left Against Medical Advice	1.9%
1 Sychiatric Othization				Expired	1.3%
Discharges:	345	Percent of All Discharges:	13.1%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	1,985	Percent of All Patient Days:	21.0%	Other	4.6%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	131	Percent of All Discharges:	5.0%	Medicare	42.0%
Patient Days:	471	Percent of All Patient Days:	5.0%	Medicaid/BadgerCare	22.0%
				Other Government	4.0%
				Commercial or Private Insurance	29.3%
				Self-Pay	2.7%
				Other or Unknown Insurance	0.0%

	Age Distribution	<u>.</u>		Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	9.1%	6.6%	Male	44.0%	43.8%	Amer.Ind/Alaskan Native	4.5%	5.4%
Under 15	0.9%	0.4%	Female	56.0%	56.2%	Asian	0.2%	0.1%
15 - 19	1.3%	1.1%				Black/African Amer.	0.5%	0.3%
20 - 24	4.7%	4.3%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	11.4%	11.0%				White	88.7%	88.2%
35 - 44	7.7%	8.6%				Multiracial	0.0%	0.0%
45 - 54	7.7%	8.3%				Declined	1.4%	1.2%
55 - 64	14.6%	14.9%				Unavailable	4.6%	4.7%
65 - 74	16.0%	15.3%						
75 - 84	15.5%	16.7%						
85 & Over	11.3%	12.8%						

	This Facili	ity			Group A	Averages		
				Analysis Area Inpatient Volume Group				ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	45	3.6	4.1	0.88	3.6	1.00	4.5	0.80
139 Pneumonia	55	4.6	3.8	1.21	3.5	1.31	4.0	1.15
140 Chronic Obstructive Pulmonary Disease	39	3.4	3.4	1.00	3.2	1.06	3.6	0.94
194 Heart Failure	112	3.9	4.2	0.93	3.6	1.08	4.6	0.85
201 Heart Abnormal Rhythm and Conduction Disorders	52	2.2	2.6	0.85	2.5	0.88	2.8	0.79
301 Hip Replacement	115	2.0	2.2	0.91	1.9	1.05	2.3	0.87
302 Knee Replacement	14	2.0	1.7	1.18	1.7	1.18	2.0	1.00
383 Cellulitis & other skin infections	28	3.7	3.6	1.03	3.5	1.06	4.0	0.93
463 Kidney/Urinary Tract Infection	34	3.1	3.4	0.91	3.1	1.00	3.6	0.86
469 Acute kidney injury	49	3.2	4.1	0.78	3.3	0.97	4.6	0.70
540 Cesarean Delivery	61	2.9	3.8	0.76	2.9	1.00	3.6	0.81
560 Vaginal Delivery	158	1.9	2.1	0.90	2.0	0.95	2.2	0.86
640 Normal Newborn, Birthweight 2500g+	232	2.0	2.1	0.95	1.9	1.05	2.1	0.95
720 Blood Infection/Septicemia	162	4.4	5.5	0.80	4.2	1.05	5.5	0.80
775 Alcohol Abuse/Dependence	102	3.7	4.0	0.93	3.7	1.00	3.7	1.00

	This Facility Risk Adjusted Group Ave							
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$26,364	\$32,009	\$28,209	1.13	\$31,273	1.02	\$36,517	0.88
139 Pneumonia	\$32,390	\$29,259	\$21,418	1.37	\$23,233	1.26	\$26,154	1.12
140 Chronic Obstructive Pulmonary Disease	\$23,921	\$25,870	\$20,180	1.28	\$21,959	1.18	\$23,596	1.10
194 Heart Failure	\$26,219	\$24,275	\$23,893	1.02	\$25,091	0.97	\$29,512	0.82
201 Heart Abnormal Rhythm and Conduction Disorders	\$18,094	\$18,545	\$17,528	1.06	\$19,443	0.95	\$21,125	0.88
301 Hip Replacement	\$35,953	\$36,524	\$44,625	0.82	\$45,617	0.80	\$50,854	0.72
302 Knee Replacement	\$34,624	\$31,894	\$42,608	0.75	\$43,239	0.74	\$48,781	0.65
383 Cellulitis & other skin infections	\$21,703	\$21,604	\$18,077	1.20	\$19,644	1.10	\$21,953	0.98
463 Kidney/Urinary Tract Infection	\$21,092	\$20,998	\$18,556	1.13	\$19,748	1.06	\$22,097	0.95
469 Acute kidney injury	\$21,184	\$23,465	\$24,143	0.97	\$23,728	0.99	\$29,600	0.79
540 Cesarean Delivery	\$23,449	\$25,863	\$24,073	1.07	\$24,480	1.06	\$24,895	1.04
560 Vaginal Delivery	\$10,329	\$10,882	\$10,079	1.08	\$11,116	0.98	\$12,167	0.89
640 Normal Newborn, Birthweight 2500g+	\$5,112	\$5,573	\$5,603	0.99	\$4,155	1.34	\$4,719	1.18
720 Blood Infection/Septicemia	\$33,818	\$30,986	\$34,953	0.89	\$33,720	0.92	\$44,340	0.70
775 Alcohol Abuse/Dependence	\$18,751	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

119 Marshfield Medical Center - Rice Lake

1700 West Stout Street

Rice Lake, WI 54868 Analysis Area: 5A-West Central

715-234-1515 Inpatient Volume Group: 4

Overall Hospital Utilization				Patient Discharge Statu	S
Total Discharges:	2,443	Average Length of Stay (days):	2.8	Discharge Status	% Discharges
Total Patient Days:	6,812	Average Charge per Discharge:	\$15,575	Home or Self-Care	74.7%
Total Fatterit Days.	0,012	Average Charge per Discharge.	ψ10,070	Other GMS Hospital	5.6%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	279	Percent of All Childbirths:	66.3%	Skilled Nursing Facility	7.9%
Cesarean Childbirths:	117	Percent of All Childbirths:	27.8%	Intermediate Care Facility	1.7%
Other Childbirths:	25	Percent of All Childbirths:	5.9%	Inpatient Rehabilitation Facility	0.1%
Total Childbirths:	421			Hospice	3.2%
				Other Institution	0.0%
Total Newborns:	428			Home Health Service	4.8%
Psychiatric Utilization				Left Against Medical Advice	0.5%
				Expired	0.9%
Discharges:	1	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	3	Percent of All Patient Days:	0.0%	Other	0.7%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	2	Percent of All Discharges:	0.1%	Medicare	42.5%
Patient Days:	5	Percent of All Patient Days:	0.1%	Medicaid/BadgerCare	23.0%
				Other Government	3.7%
				Commercial or Private Insurance	22.3%
				Self-Pay	4.7%
				Other or Unknown Insurance	3.8%

Hospital Type: GMS

County: Barron

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	17.5%	12.3%	Male	41.0%	42.4%	Amer.Ind/Alaskan Native	e 1.8%	1.8%
Under 15	0.7%	0.5%	Female	59.0%	57.6%	Asian	0.3%	0.3%
15 - 19	1.1%	0.9%				Black/African Amer.	0.7%	0.5%
20 - 24	4.4%	3.5%				Native Hawaii/Pac.Isl.	0.2%	0.3%
25 - 34	12.7%	10.1%				White	95.9%	95.6%
35 - 44	4.7%	4.4%				Multiracial	0.0%	0.0%
45 - 54	4.2%	4.5%				Declined	0.2%	0.4%
55 - 64	11.5%	12.8%				Unavailable	0.9%	1.1%
65 - 74	15.6%	16.7%						
75 - 84	15.4%	18.4%						
85 & Over	12.2%	15.8%						

		This Facil	ity			Group A	Averages		
				Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Descri	ption	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure		35	3.2	4.2	0.76	3.6	0.89	4.5	0.71
139 Pneumonia		95	3.3	3.7	0.89	3.5	0.94	4.0	0.83
140 Chronic Obstructive	e Pulmonary Disease	64	3.5	3.5	1.00	3.2	1.09	3.6	0.97
194 Heart Failure		110	3.4	4.3	0.79	3.6	0.94	4.6	0.74
201 Heart Abnormal Rh	ythm and Conduction Disorders	88	2.1	2.8	0.75	2.5	0.84	2.8	0.75
301 Hip Replacement		44	1.5	2.3	0.65	1.9	0.79	2.3	0.65
302 Knee Replacement		83	1.3	2.1	0.62	1.7	0.76	2.0	0.65
383 Cellulitis & other sk	in infections	38	3.5	3.9	0.90	3.5	1.00	4.0	0.88
463 Kidney/Urinary Trac	ct Infection	18	2.9	3.1	0.94	3.1	0.94	3.6	0.81
469 Acute kidney injury		72	3.2	4.4	0.73	3.3	0.97	4.6	0.70
540 Cesarean Delivery		117	2.6	3.0	0.87	2.9	0.90	3.6	0.72
560 Vaginal Delivery		279	2.0	2.1	0.95	2.0	1.00	2.2	0.91
640 Normal Newborn, E	Birthweight 2500g+	401	2.0	2.0	1.00	1.9	1.05	2.1	0.95
720 Blood Infection/Sep	oticemia	67	4.0	4.8	0.83	4.2	0.95	5.5	0.73
775 Alcohol Abuse/Dep	endence	*	*	3.7	*	3.7	*	3.7	*

•	•	• • •	•	•	•	•		
	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$19,921	\$21,907	\$27,159	0.81	\$31,273	0.70	\$36,517	0.60
139 Pneumonia	\$15,839	\$18,293	\$19,690	0.93	\$23,233	0.79	\$26,154	0.70
140 Chronic Obstructive Pulmonary Disease	\$16,858	\$17,797	\$18,026	0.99	\$21,959	0.81	\$23,596	0.75
194 Heart Failure	\$16,960	\$18,981	\$22,734	0.83	\$25,091	0.76	\$29,512	0.64
201 Heart Abnormal Rhythm and Conduction Disorders	\$8,588	\$9,632	\$16,241	0.59	\$19,443	0.50	\$21,125	0.46
301 Hip Replacement	\$40,975	\$42,314	\$41,021	1.03	\$45,617	0.93	\$50,854	0.83
302 Knee Replacement	\$41,576	\$42,742	\$38,967	1.10	\$43,239	0.99	\$48,781	0.88
383 Cellulitis & other skin infections	\$14,322	\$15,551	\$17,014	0.91	\$19,644	0.79	\$21,953	0.71
463 Kidney/Urinary Tract Infection	\$14,617	\$14,317	\$13,865	1.03	\$19,748	0.72	\$22,097	0.65
469 Acute kidney injury	\$14,365	\$18,136	\$22,197	0.82	\$23,728	0.76	\$29,600	0.61
540 Cesarean Delivery	\$13,832	\$15,503	\$19,747	0.79	\$24,480	0.63	\$24,895	0.62
560 Vaginal Delivery	\$5,708	\$6,019	\$9,018	0.67	\$11,116	0.54	\$12,167	0.49
640 Normal Newborn, Birthweight 2500g+	\$3,095	\$3,153	\$3,539	0.89	\$4,155	0.76	\$4,719	0.67
720 Blood Infection/Septicemia	\$22,205	\$25,446	\$32,245	0.79	\$33,720	0.75	\$44,340	0.57
775 Alcohol Abuse/Dependence	*	#	#	*	#	*	#	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

120 The Richland Hospital Inc 333 East Second Street Richland Center, WI 53581

85 & Over

18.6%

26.6%

Hospital Type: GMS
County: Richland
Analysis Area: 1-Southern

Inpatient Volume Group: 3

608-647-6321

Overall Hospital Utilization				Patient Discharge Statu	S
Total Discharges:	979	Average Length of Stay (days):	3.3	<u>Discharge Status</u>	% Discharges
Total Patient Days:	3,248	Average Charge per Discharge:	\$16,878	Home or Self-Care Other GMS Hospital	65.2% 5.9%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.4%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths:	87 22 12 121	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	71.9% 18.2% 9.9%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution	16.5% 1.7% 0.2% 0.7% 0.4%
Total Newborns:	128			Home Health Service	0.2%
Psychiatric Utilization  Discharges:	1	Percent of All Discharges:	0.1%	Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt	0.3% 1.9% 0.0%
Patient Days:	10	Percent of All Patient Days:	0.3%	Other	6.4%
AODA Utilization				Expected Pay Source Distril Primary Payer	oution % Discharges
Discharges: Patient Days:	10 46	Percent of All Discharges: Percent of All Patient Days:	1.0% 1.4%	Medicare Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	55.5% 17.1% 0.3% 25.6% 1.5% 0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	13.1%	6.7%	Male	42.9%	45.0%	Amer.Ind/Alaskan Native	e 0.1%	0.2%
Under 15	1.2%	0.7%	Female	57.1%	55.0%	Asian	0.5%	0.2%
15 - 19	0.9%	0.5%				Black/African Amer.	1.0%	0.8%
20 - 24	3.5%	1.9%				Native Hawaii/Pac.Isl.	0.2%	0.1%
25 - 34	9.7%	5.8%				White	98.2%	98.7%
35 - 44	4.1%	4.2%				Multiracial	0.0%	0.0%
45 - 54	3.9%	3.4%				Declined	0.0%	0.0%
55 - 64	10.7%	11.2%				Unavailable	0 %	0 %
65 - 74	18.3%	18.3%						
75 - 84	16.0%	20.7%						

	This Facil	ity			Group A	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	<u>ospitals</u>
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	54	3.6	4.1	0.88	3.2	1.13	4.5	0.80
139 Pneumonia	39	3.9	3.7	1.05	3.3	1.18	4.0	0.98
140 Chronic Obstructive Pulmonary Disease	28	3.6	3.6	1.00	2.9	1.24	3.6	1.00
194 Heart Failure	18	4.1	4.5	0.91	3.4	1.21	4.6	0.89
201 Heart Abnormal Rhythm and Conduction Disorders	20	3.0	2.8	1.07	2.3	1.30	2.8	1.07
247 Intestinal Obstruction without Surgery	25	2.3	3.7	0.62	2.7	0.85	3.5	0.66
301 Hip Replacement	11	1.9	2.2	0.86	2.1	0.90	2.3	0.83
302 Knee Replacement	18	1.7	2.0	0.85	1.9	0.89	2.0	0.85
383 Cellulitis & other skin infections	9	3.7	4.0	0.93	3.6	1.03	4.0	0.93
463 Kidney/Urinary Tract Infection	17	4.5	3.4	1.32	2.9	1.55	3.6	1.25
469 Acute kidney injury	22	3.4	4.3	0.79	2.8	1.21	4.6	0.74
540 Cesarean Delivery	22	2.5	3.9	0.64	3.0	0.83	3.6	0.69
560 Vaginal Delivery	87	1.8	2.3	0.78	1.9	0.95	2.2	0.82
640 Normal Newborn, Birthweight 2500g+	124	1.7	2.1	0.81	2.0	0.85	2.1	0.81
720 Blood Infection/Septicemia	72	4.4	5.5	0.80	3.6	1.22	5.5	0.80

	-	_	• .	_	•	-	•		
		This Fac	ility			Risk Adjusted	Group Averages	;	
APR-DRG # and Description		Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure		\$20,072	\$23,284	\$42,179	0.55	\$22,058	1.06	\$36,517	0.64
139 Pneumonia		\$19,293	\$19,560	\$28,774	0.68	\$18,736	1.04	\$26,154	0.75
140 Chronic Obstructive F	Pulmonary Disease	\$20,194	\$22,215	\$28,251	0.79	\$16,687	1.33	\$23,596	0.94
194 Heart Failure		\$19,564	\$20,416	\$33,598	0.61	\$18,675	1.09	\$29,512	0.69
201 Heart Abnormal Rhyt	hm and Conduction Disorders	\$14,848	\$16,640	\$23,719	0.70	\$13,920	1.20	\$21,125	0.79
247 Intestinal Obstruction	without Surgery	\$13,059	\$12,763	\$24,525	0.52	\$13,214	0.97	\$21,879	0.58
301 Hip Replacement		\$49,560	\$52,968	\$49,942	1.06	\$43,894	1.21	\$50,854	1.04
302 Knee Replacement		\$42,688	\$45,856	\$43,613	1.05	\$45,311	1.01	\$48,781	0.94
383 Cellulitis & other skin	infections	\$18,117	\$18,888	\$24,297	0.78	\$16,011	1.18	\$21,953	0.86
463 Kidney/Urinary Tract	Infection	\$16,741	\$16,123	\$24,396	0.66	\$13,197	1.22	\$22,097	0.73
469 Acute kidney injury		\$14,741	\$16,965	\$32,366	0.52	\$14,980	1.13	\$29,600	0.57
540 Cesarean Delivery		\$20,639	\$23,281	\$28,792	0.81	\$21,375	1.09	\$24,895	0.94
560 Vaginal Delivery		\$10,510	\$10,352	\$13,875	0.75	\$8,800	1.18	\$12,167	0.85
640 Normal Newborn, Bir	thweight 2500g+	\$3,964	\$4,591	\$5,441	0.84	\$3,780	1.21	\$4,719	0.97
720 Blood Infection/Seption	cemia	\$23,644	\$29,222	\$52,049	0.56	\$23,568	1.24	\$44,340	0.66

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

121 Ripon Medical Center

845 Parkside Street

Ripon, WI 54971

85 & Over

16.5%

16.8%

920-748-3101 Inpatient Volume Group: 2

Hospital Type: GMS

County: Fond du Lac

Analysis Area: 3-Lake Winnebago

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	478	Average Length of Stay (days):	3.7	Discharge Status	% Discharges
Total Patient Days:	1,789	Average Charge per Discharge:	\$25,320	Home or Self-Care	57.1%
rotar rations bayo.	1,700	Average charge per Bloomarge.	Ψ20,020	Other GMS Hospital	6.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.2%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	18.2%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	3.8%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.6%
Total Childbirths:	0			Hospice	2.5%
T 1 1 N 1	•			Other Institution	0.6%
Total Newborns:	0			Home Health Service	6.1%
Psychiatric Utilization				Left Against Medical Advice	1.0%
	0	Developt of All Discharges	0.0%	Expired Discharge/Tran to Court/Law Enforcmnt	2.3%
Discharges:	0	Percent of All Datient Davis		Other	0.0% 1.0%
Patient Days:	0	Percent of All Patient Days:	0.0%		
AODA HAIII				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	2	Percent of All Discharges:	0.4%	Medicare	69.0%
Patient Days:	9	Percent of All Patient Days:	0.5%	Medicaid/BadgerCare	3.8%
				Other Government	0.2%
				Commercial or Private Insurance	25.5%
				Self-Pay	1.0%
				Other or Unknown Insurance	0.4%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	40.2%	41.0%	Amer.Ind/Alaskan Native	e 0.0%	0.0%
Under 15	0.0%	0.0%	Female	59.8%	59.0%	Asian	0.2%	0.2%
15 - 19	0.2%	0.4%				Black/African Amer.	1.0%	1.1%
20 - 24	1.0%	0.8%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	2.1%	2.1%				White	98.7%	98.7%
35 - 44	3.8%	3.7%				Multiracial	0.0%	0.0%
45 - 54	7.7%	8.2%				Declined	0.0%	0.0%
55 - 64	20.9%	19.4%				Unavailable	0 %	0 %
65 - 74	23.2%	22.1%						
75 - 84	24.5%	26.3%						

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	*	*	4.0	*	3.0	*	4.5	*
139 Pneumonia	17	2.5	3.5	0.71	3.3	0.76	4.0	0.63
140 Chronic Obstructive Pulmonary Disease	17	3.4	2.9	1.17	3.3	1.03	3.6	0.94
194 Heart Failure	29	4.4	3.8	1.16	3.4	1.29	4.6	0.96
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.7	*	2.6	*	2.8	*
301 Hip Replacement	39	3.1	2.2	1.41	1.9	1.63	2.3	1.35
302 Knee Replacement	52	2.9	1.8	1.61	2.1	1.38	2.0	1.45
383 Cellulitis & other skin infections	20	4.9	3.6	1.36	3.9	1.26	4.0	1.23
463 Kidney/Urinary Tract Infection	*	*	2.9	*	3.0	*	3.6	*
469 Acute kidney injury	16	3.3	4.0	0.83	2.9	1.14	4.6	0.72
540 Cesarean Delivery	0	N/A	3.2	N/A	3.1	N/A	3.6	N/A
560 Vaginal Delivery	0	N/A	2.0	N/A	2.0	N/A	2.2	N/A
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.2	N/A	2.0	N/A	2.1	N/A
720 Blood Infection/Septicemia	37	5.8	4.9	1.18	3.6	1.61	5.5	1.05
862 Other Factors Influencing Health Status	*	*	10.2	*	8.7	*	8.7	*

_	• .	•	•	-	•		
This Fac	ility			Risk Adjusted	Group Averages		
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
*	*	\$24,316	*	\$19,995	*	\$36,517	*
\$14,024	\$16,032	\$17,991	0.89	\$17,968	0.89	\$26,154	0.61
\$17,134	\$20,966	\$16,011	1.31	\$18,011	1.16	\$23,596	0.89
\$20,676	\$22,690	\$17,633	1.29	\$16,661	1.36	\$29,512	0.77
*	*	\$15,459	*	\$13,360	*	\$21,125	*
\$43,364	\$43,563	\$38,732	1.12	\$39,123	1.11	\$50,854	0.86
\$40,556	\$41,782	\$35,838	1.17	\$39,600	1.06	\$48,781	0.86
\$18,254	\$19,004	\$15,311	1.24	\$15,690	1.21	\$21,953	0.87
*	*	\$14,397	*	\$12,405	*	\$22,097	*
\$15,412	\$20,852	\$18,337	1.14	\$14,450	1.44	\$29,600	0.70
N/A	N/A	\$14,869	*	\$20,919	*	\$24,895	*
N/A	N/A	\$5,768	*	\$8,631	*	\$12,167	*
N/A	N/A	\$3,376	*	\$4,326	*	\$4,719	*
\$24,139	\$26,937	\$27,861	0.97	\$20,714	1.30	\$44,340	0.61
*	*	\$23,248	*	\$15,162	*	\$31,132	*
	* \$14,024 \$17,134 \$20,676  * \$43,364 \$40,556 \$18,254  * \$15,412 N/A N/A	Adjusted Average Charge Charge  * ** \$14,024 \$16,032 \$17,134 \$20,966 \$22,690 **  \$43,364 \$43,563 \$40,556 \$41,782 \$18,254 \$19,004 **  \$15,412 \$20,852 N/A N/A N/A N/A N/A N/A N/A	Risk Adjusted Average Charge S14,024 \$16,032 \$17,991 \$17,134 \$20,966 \$16,011 \$20,676 \$22,690 \$17,633 \$15,459 \$43,364 \$43,563 \$38,732 \$40,556 \$41,782 \$35,838 \$18,254 \$19,004 \$15,311 \$	Risk Adjusted Average Charge Ratio  * * * \$24,316 * \$24,316 * \$14,024 \$16,032 \$17,991 0.89 \$17,134 \$20,966 \$16,011 1.31 \$20,676 \$22,690 \$17,633 1.29 * \$15,459 * \$15,459 * \$43,364 \$43,563 \$38,732 1.12 \$40,556 \$41,782 \$35,838 1.17 \$18,254 \$19,004 \$15,311 1.24 * * \$14,397 * \$15,412 \$20,852 \$18,337 1.14 N/A N/A N/A \$14,869 * N/A N/A N/A \$5,768 * N/A N/A N/A \$3,376 * \$24,139 \$26,937 \$27,861 0.97	Risk Adjusted Average Average Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Ratio Charge Service Charge Ratio Charge Ratio Charge Service Service Ratio Charge Service Service Service Charge Ratio Charge Service Servic	Risk Adjusted Average Charge Charge Charge Ratio  * * \$24,316 * \$19,995 * \$14,024 \$16,032 \$17,991 0.89 \$17,968 0.89 \$17,134 \$20,966 \$16,011 1.31 \$18,011 1.16 \$20,676 \$22,690 \$17,633 1.29 \$16,661 1.36 * \$15,459 * \$13,360 * \$43,364 \$43,563 \$38,732 1.12 \$39,123 1.11 \$40,556 \$41,782 \$35,838 1.17 \$39,600 1.06 \$18,254 \$19,004 \$15,311 1.24 \$15,690 1.21 * \$15,412 \$20,852 \$18,337 1.14 \$14,450 1.44 N/A N/A N/A \$14,869 * \$20,919 * \$N/A N/A N/A \$3,376 * \$8,631 * \$12,405 * \$22,139 \$26,937 \$27,861 0.97 \$20,714 1.30	Risk Adjusted Average Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

122 River Falls Area Hospital 1629 East Division Street River Falls, WI 54022 715-425-6155 Hospital Type: GMS

County: Saint Croix

Analysis Area: 5A-West Central

Inpatient Volume Group: 3

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	855	Average Length of Stay (days):	2.5	Discharge Status	% Discharges
Total Patient Days:	2,113	Average Charge per Discharge:	\$14,188	Home or Self-Care	66.4%
•	2,110	Average Onlinge per Bischarge.	Ψ14,100	Other GMS Hospital	6.9%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	65	Percent of All Childbirths:	76.5%	Skilled Nursing Facility	11.9%
Cesarean Childbirths:	20	Percent of All Childbirths:	23.5%	Intermediate Care Facility	1.6%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.2%
Total Childbirths:	85			Hospice	3.0%
<b>-</b>	.=			Other Institution	0.4%
Total Newborns:	87			Home Health Service	5.6%
Psychiatric Utilization				Left Against Medical Advice	0.5%
<del></del>	•	D ( (All D)	0.007	Expired	0.9%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	2.5%
				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	16	Percent of All Discharges:	1.9%	Medicare	59.1%
Patient Days:	28	Percent of All Patient Days:	1.3%	Medicaid/BadgerCare	8.3%
				Other Government	1.3%
				Commercial or Private Insurance	28.1%
				Self-Pay	3.3%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>	Ĺ		Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	10.2%	8.0%	Male	44.3%	48.3%	Amer.Ind/Alaskan Native	e 0.4%	0.2%
Under 15	0.4%	0.2%	Female	55.7%	51.7%	Asian	0.4%	0.3%
15 - 19	0.4%	0.1%				Black/African Amer.	0.8%	0.6%
20 - 24	2.8%	1.9%				Native Hawaii/Pac.Isl.	0.2%	0.3%
25 - 34	9.7%	7.1%				White	95.0%	95.9%
35 - 44	5.4%	5.1%				Multiracial	0.8%	0.6%
45 - 54	7.0%	5.4%				Declined	0.5%	0.4%
55 - 64	11.6%	10.9%				Unavailable	2.0%	1.6%
65 - 74	18.7%	20.4%						
75 - 84	17.8%	21.1%						
85 & Over	16.1%	19.7%						

	This Facil	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	16	2.4	4.2	0.57	3.2	0.75	4.5	0.53
139 Pneumonia	19	2.8	3.7	0.76	3.3	0.85	4.0	0.70
140 Chronic Obstructive Pulmonary Disease	34	2.9	3.5	0.83	2.9	1.00	3.6	0.81
194 Heart Failure	30	2.9	4.3	0.67	3.4	0.85	4.6	0.63
201 Heart Abnormal Rhythm and Conduction Disorders	13	1.2	2.8	0.43	2.3	0.52	2.8	0.43
247 Intestinal Obstruction without Surgery	10	2.0	3.3	0.61	2.7	0.74	3.5	0.57
301 Hip Replacement	35	2.2	2.3	0.96	2.1	1.05	2.3	0.96
302 Knee Replacement	48	1.7	2.1	0.81	1.9	0.89	2.0	0.85
383 Cellulitis & other skin infections	7	3.1	3.9	0.79	3.6	0.86	4.0	0.78
463 Kidney/Urinary Tract Infection	13	2.8	3.1	0.90	2.9	0.97	3.6	0.78
469 Acute kidney injury	29	2.4	4.4	0.55	2.8	0.86	4.6	0.52
540 Cesarean Delivery	20	3.1	3.0	1.03	3.0	1.03	3.6	0.86
560 Vaginal Delivery	65	1.6	2.1	0.76	1.9	0.84	2.2	0.73
640 Normal Newborn, Birthweight 2500g+	81	1.9	2.0	0.95	2.0	0.95	2.1	0.90
720 Blood Infection/Septicemia	94	2.8	4.8	0.58	3.6	0.78	J 5.5	0.51

	This Fac	:::4	Risk Adjusted Group Averages							
	This Fac	-			RISK Adjusted	Group Averages				
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
133 Respiratory failure	\$10,572	\$13,865	\$27,159	0.51	\$22,058	0.63	\$36,517	0.38		
139 Pneumonia	\$10,770	\$12,109	\$19,690	0.61	\$18,736	0.65	\$26,154	0.46		
140 Chronic Obstructive Pulmonary Disease	\$11,960	\$12,549	\$18,026	0.70	\$16,687	0.75	\$23,596	0.53		
194 Heart Failure	\$10,943	\$14,447	\$22,734	0.64	\$18,675	0.77	\$29,512	0.49		
201 Heart Abnormal Rhythm and Conduction Disorders	\$8,334	\$9,167	\$16,241	0.56	\$13,920	0.66	\$21,125	0.43		
247 Intestinal Obstruction without Surgery	\$8,301	\$8,428	\$14,181	0.59	\$13,214	0.64	\$21,879	0.39		
301 Hip Replacement	\$34,474	\$34,636	\$41,021	0.84	\$43,894	0.79	\$50,854	0.68		
302 Knee Replacement	\$32,159	\$32,927	\$38,967	0.84	\$45,311	0.73	\$48,781	0.67		
383 Cellulitis & other skin infections	\$13,097	\$15,670	\$17,014	0.92	\$16,011	0.98	\$21,953	0.71		
463 Kidney/Urinary Tract Infection	\$10,049	\$10,598	\$13,865	0.76	\$13,197	0.80	\$22,097	0.48		
469 Acute kidney injury	\$10,377	\$11,983	\$22,197	0.54	\$14,980	0.80	\$29,600	0.40		
540 Cesarean Delivery	\$22,770	\$22,956	\$19,747	1.16	\$21,375	1.07	\$24,895	0.92		
560 Vaginal Delivery	\$14,947	\$15,529	\$9,018	1.72	\$8,800	1.76	\$12,167	1.28		
640 Normal Newborn, Birthweight 2500g+	\$5,108	\$5,673	\$3,539	1.60	\$3,780	1.50	\$4,719	1.20		
720 Blood Infection/Septicemia	\$12,728	\$16,090	\$32,245	0.50	\$23,568	0.68	\$44,340	0.36		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

### 123 ThedaCare Medical Center - Shawano

100 County Road B

Shawano, WI 54166 Analysis Area: 4-Northeastern

715-526-2111 Inpatient Volume Group: 3

	Patient Discharge Statu	<u>s</u>
2.8	<u>Discharge Status</u>	% Discharges
\$11 308	Home or Self-Care	67.0%
Ψ11,330	Other GMS Hospital	7.2%
	Critical Access Hospital (CAH)	0.0%
59.1%	• •	12.5%
	•	0.8%
		0.0%
	•	2.8%
		0.1%
		7.2%
	•	0.7%
	·	0.4%
0.0%	•	0.2%
0.0%	Other	1.2%
	<b>Expected Pay Source Distrib</b>	<u>oution</u>
	Primary Payer	% Discharges
2.1%	Medicare	50.2%
2.6%	Medicaid/BadgerCare	21.3%
	Other Government	1.3%
	Commercial or Private Insurance	21.6%
	Self-Pay	5.2%
	Other or Unknown Insurance	0.3%
	\$11,398 59.1% 33.5% 7.4% 0.0% 0.0%	2.8 Discharge Status Home or Self-Care Other GMS Hospital Critical Access Hospital (CAH) Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired 0.0% Discharge/Tran to Court/Law Enforcmnt 0.0% Other  Expected Pay Source District Primary Payer  2.1% Medicare 2.6% Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay

Hospital Type: GMS

County: Shawano

	Age Distribution			Sex Distribution	<u>1</u>	Race	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	14.1%	10.6%	Male	39.7%	39.8%	Amer.Ind/Alaskan Native	23.6%	22.4%
Under 15	0.6%	0.5%	Female	60.3%	60.2%	Asian	0.0%	0.0%
15 - 19	1.9%	1.8%				Black/African Amer.	0.1%	0.2%
20 - 24	4.0%	3.4%				Native Hawaii/Pac.Isl.	0.2%	0.2%
25 - 34	10.5%	8.7%				White	68.7%	71.1%
35 - 44	4.7%	4.3%				Multiracial	0.1%	0.1%
45 - 54	6.3%	6.5%				Declined	0.1%	0.1%
55 - 64	12.3%	14.1%				Unavailable	7.1%	6.0%
65 - 74	14.3%	14.9%						
75 - 84	18.2%	20.7%						
85 & Over	13.0%	14.5%						

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	26	2.8	4.2	0.67	3.2	0.88	4.5	0.62
139 Pneumonia	64	2.9	3.7	0.78	3.3	0.88	4.0	0.73
140 Chronic Obstructive Pulmonary Disease	64	3.1	3.5	0.89	2.9	1.07	3.6	0.86
194 Heart Failure	102	3.5	4.1	0.85	3.4	1.03	4.6	0.76
201 Heart Abnormal Rhythm and Conduction Disorders	28	1.9	2.6	0.73	2.3	0.83	2.8	0.68
247 Intestinal Obstruction without Surgery	32	2.7	3.2	0.84	2.7	1.00	3.5	0.77
301 Hip Replacement	8	2.5	1.8	1.39	2.1	1.19	2.3	1.09
302 Knee Replacement	15	1.0	1.9	0.53	1.9	0.53	2.0	0.50
383 Cellulitis & other skin infections	33	3.4	3.6	0.94	3.6	0.94	4.0	0.85
463 Kidney/Urinary Tract Infection	33	2.6	3.0	0.87	2.9	0.90	3.6	0.72
469 Acute kidney injury	63	3.1	4.2	0.74	2.8	1.11	4.6	0.67
540 Cesarean Delivery	77	3.2	3.5	0.91	3.0	1.07	3.6	0.89
560 Vaginal Delivery	136	2.0	2.0	1.00	1.9	1.05	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	214	2.2	2.0	1.10	2.0	1.10	2.1	1.05
720 Blood Infection/Septicemia	163	3.6	4.9	0.73	3.6	1.00	5.5	0.65

<del></del>		Risk Adjusted Group Averages						
	This Fac	-			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$11,345	\$14,472	\$30,641	0.47	\$22,058	0.66	\$36,517	0.40
139 Pneumonia	\$11,214	\$12,158	\$22,549	0.54	\$18,736	0.65	\$26,154	0.46
140 Chronic Obstructive Pulmonary Disease	\$11,671	\$13,277	\$21,356	0.62	\$16,687	0.80	\$23,596	0.56
194 Heart Failure	\$12,350	\$13,410	\$23,636	0.57	\$18,675	0.72	\$29,512	0.45
201 Heart Abnormal Rhythm and Conduction Disorders	\$9,256	\$8,964	\$19,122	0.47	\$13,920	0.64	\$21,125	0.42
247 Intestinal Obstruction without Surgery	\$11,205	\$11,769	\$17,804	0.66	\$13,214	0.89	\$21,879	0.54
301 Hip Replacement	\$35,123	\$31,152	\$42,625	0.73	\$43,894	0.71	\$50,854	0.61
302 Knee Replacement	\$31,640	\$34,696	\$49,816	0.70	\$45,311	0.77	\$48,781	0.71
383 Cellulitis & other skin infections	\$10,893	\$11,801	\$17,982	0.66	\$16,011	0.74	\$21,953	0.54
463 Kidney/Urinary Tract Infection	\$11,049	\$11,177	\$17,446	0.64	\$13,197	0.85	\$22,097	0.51
469 Acute kidney injury	\$11,569	\$11,918	\$24,682	0.48	\$14,980	0.80	\$29,600	0.40
540 Cesarean Delivery	\$17,990	\$19,268	\$21,046	0.92	\$21,375	0.90	\$24,895	0.77
560 Vaginal Delivery	\$4,984	\$5,092	\$9,723	0.52	\$8,800	0.58	\$12,167	0.42
640 Normal Newborn, Birthweight 2500g+	\$3,070	\$3,096	\$4,395	0.70	\$3,780	0.82	\$4,719	0.66
720 Blood Infection/Septicemia	\$13,787	\$16,331	\$36,072	0.45	\$23,568	0.69	\$44,340	0.37

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 124 Aurora Sheboygan Memorial Medical Center

2629 North Seventh Street

Sheboygan, WI 53083

920-451-5000

Hospital Type: GMS

Inpatient Volume Group: 5

County: Sheboygan

Analysis Area: 4-Northeastern

				process of the second	
Overall Hospital Utilization				Patient Discharge Statu	<u></u> <u>IS</u>
Total Discharges:	5,876	Average Length of Stay (days):	3.1	Discharge Status	% Discharges
Total Patient Days:	18,260	Average Charge per Discharge:	\$25,094	Home or Self-Care	73.2%
Total Fation Bayo.	10,200	Avorage charge per Bleenarge.	Ψ20,001	Other GMS Hospital	2.2%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	609	Percent of All Childbirths:	70.3%	Skilled Nursing Facility	10.1%
Cesarean Childbirths:	213	Percent of All Childbirths:	24.6%	Intermediate Care Facility	1.5%
Other Childbirths:	44	Percent of All Childbirths:	5.1%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	866		<b>3.1.</b> 70	Hospice	1.8%
rotal ormasitino.				Other Institution	0.1%
Total Newborns:	882			Home Health Service	8.2%
Psychiatric Utilization				Left Against Medical Advice	1.5%
Psychiatric Offization				Expired	0.5%
Discharges:	841	Percent of All Discharges:	14.3%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	3,985	Percent of All Patient Days:	21.8%	Other	0.8%
				<b>Expected Pay Source Distri</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	323	Percent of All Discharges:	5.5%	Medicare	35.1%
Patient Days:	1,056	Percent of All Patient Days:	5.8%	Medicaid/BadgerCare	23.9%
				Other Government	1.5%
				Commercial or Private Insurance	36.6%
				Self-Pay	2.8%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>	1		Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	15.0%	12.5%	Male	44.5%	48.1%	Amer.Ind/Alaskan Native	0.2%	0.3%
Under 15	1.1%	1.7%	Female	55.5%	51.9%	Asian	5.2%	4.0%
15 - 19	1.7%	2.0%				Black/African Amer.	2.5%	2.7%
20 - 24	5.2%	4.7%				Native Hawaii/Pac.Isl.	0.2%	0.1%
25 - 34	14.6%	12.3%				White	91.0%	92.0%
35 - 44	9.8%	10.4%				Multiracial	0.6%	0.4%
45 - 54	9.8%	11.2%				Declined	0.2%	0.1%
55 - 64	14.0%	14.7%				Unavailable	0.1%	0.2%
65 - 74	13.0%	13.6%						
75 - 84	10.2%	10.5%						
85 & Over	5.6%	6.3%						

	This Facil	ity	Group Averages					
			Analysis Area		Inpatient V	olume Group	All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	146	3.7	4.2	0.88	4.5	0.82	4.5	0.82
139 Pneumonia	105	3.2	3.7	0.86	4.2	0.76	4.0	0.80
140 Chronic Obstructive Pulmonary Disease	47	2.6	3.5	0.74	3.6	0.72	3.6	0.72
174 Percutaneous coronary intervention w AMI	9	2.7	2.6	1.04	3.0	0.90	3.0	0.90
194 Heart Failure	124	3.8	4.1	0.93	4.6	0.83	4.6	0.83
201 Heart Abnormal Rhythm and Conduction Disorders	50	2.5	2.6	0.96	2.9	0.86	2.8	0.89
301 Hip Replacement	276	1.4	1.8	0.78	2.2	0.64	2.3	0.61
302 Knee Replacement	195	1.7	1.9	0.89	2.0	0.85	2.0	0.85
469 Acute kidney injury	56	4.9	4.2	1.17	4.7	1.04	4.6	1.07
540 Cesarean Delivery	213	3.2	3.5	0.91	3.3	0.97	3.6	0.89
560 Vaginal Delivery	609	1.7	2.0	0.85	2.1	0.81	2.2	0.77
640 Normal Newborn, Birthweight 2500g+	816	2.0	2.0	1.00	2.1	0.95	2.1	0.95
720 Blood Infection/Septicemia	313	4.0	4.9	0.82	5.5	0.73	5.5	0.73
751 Psychoses	482	4.3	4.3	1.00	4.7	0.91	5.1	0.84
775 Alcohol Abuse/Dependence	239	3.4	3.4	1.00	3.8	0.89	3.7	0.92

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$30,567	\$30,498	\$30,641	1.00	\$35,487	0.86	\$36,517	0.84
139 Pneumonia	\$22,431	\$20,162	\$22,549	0.89	\$27,529	0.73	\$26,154	0.77
140 Chronic Obstructive Pulmonary Disease	\$20,425	\$17,749	\$21,356	0.83	\$23,968	0.74	\$23,596	0.75
174 Percutaneous coronary intervention w AMI	\$74,290	\$72,424	\$65,348	1.11	\$72,860	0.99	\$73,175	0.99
194 Heart Failure	\$27,239	\$24,736	\$23,636	1.05	\$28,982	0.85	\$29,512	0.84
201 Heart Abnormal Rhythm and Conduction Disorders	\$22,633	\$18,537	\$19,122	0.97	\$21,611	0.86	\$21,125	0.88
301 Hip Replacement	\$50,380	\$51,446	\$42,625	1.21	\$52,206	0.99	\$50,854	1.01
302 Knee Replacement	\$54,378	\$55,000	\$49,816	1.10	\$50,848	1.08	\$48,781	1.13
469 Acute kidney injury	\$31,700	\$26,925	\$24,682	1.09	\$29,340	0.92	\$29,600	0.91
540 Cesarean Delivery	\$24,084	\$24,829	\$21,046	1.18	\$25,613	0.97	\$24,895	1.00
560 Vaginal Delivery	\$9,955	\$10,099	\$9,723	1.04	\$12,456	0.81	\$12,167	0.83
640 Normal Newborn, Birthweight 2500g+	\$4,181	\$4,289	\$4,395	0.98	\$4,463	0.96	\$4,719	0.91
720 Blood Infection/Septicemia	\$34,176	\$34,061	\$36,072	0.94	\$41,728	0.82	\$44,340	0.77
751 Psychoses	\$16,343	#	#	#	#	#	#	#
775 Alcohol Abuse/Dependence	\$17,383	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

125 St Nicholas Hospital 3100 Superior Avenue Sheboygan, WI 53081 920-459-8300 Hospital Type: GMS

County: Sheboygan Analysis Area: 4-Northeastern

Inpatient Volume Group: 4

				mpanom rotation ordapi	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	2,211	Average Length of Stay (days):	3.0	<u>Discharge Status</u>	% Discharges
Total Patient Days:	6,731	Average Charge per Discharge:	\$26,325	Home or Self-Care	66.8%
Total Fation Bayo.	0,701	Avoluge charge per Bloomarge.	Ψ20,020	Other GMS Hospital	5.2%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	194	Percent of All Childbirths:	71.9%	Skilled Nursing Facility	15.2%
Cesarean Childbirths:	67	Percent of All Childbirths:	24.8%	Intermediate Care Facility	0.0%
Other Childbirths:	9	Percent of All Childbirths:	3.3%	Inpatient Rehabilitation Facility	0.2%
Total Childbirths:	270		0.070	Hospice	3.5%
Total Officialitis.	210			Other Institution	0.1%
Total Newborns:	260			Home Health Service	7.3%
Dovobiotrio Utilization				Left Against Medical Advice	0.9%
Psychiatric Utilization				Expired	0.8%
Discharges:	2	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	5	Percent of All Patient Days:	0.1%	Other	0.1%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	12	Percent of All Discharges:	0.5%	Medicare	50.7%
Patient Days:	29	Percent of All Patient Days:	0.4%	Medicaid/BadgerCare	12.9%
				Other Government	1.1%
				Commercial or Private Insurance	33.2%
				Self-Pay	2.1%
				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	11.8%	6.9%	Male	42.3%	44.2%	Amer.Ind/Alaskan Native	e 0.1%	0.1%
Under 15	0.6%	0.3%	Female	57.7%	55.8%	Asian	3.6%	2.5%
15 - 19	1.2%	0.7%				Black/African Amer.	1.9%	1.8%
20 - 24	3.8%	2.8%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	10.3%	7.7%				White	90.8%	93.2%
35 - 44	5.5%	5.0%				Multiracial	0.2%	0.1%
45 - 54	6.6%	6.7%				Declined	2.8%	2.0%
55 - 64	13.7%	15.5%				Unavailable	0.5%	0.3%
65 - 74	16.3%	17.9%						
75 - 84	17.5%	20.8%						
85 & Over	12.8%	15.7%						

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	33	4.2	4.2	1.00	3.6	1.17	4.5	0.93		
139 Pneumonia	68	3.3	3.7	0.89	3.5	0.94	4.0	0.83		
140 Chronic Obstructive Pulmonary Disease	55	4.0	3.5	1.14	3.2	1.25	3.6	1.11		
194 Heart Failure	60	3.8	4.1	0.93	3.6	1.06	4.6	0.83		
201 Heart Abnormal Rhythm and Conduction Disorders	37	2.2	2.6	0.85	2.5	0.88	2.8	0.79		
301 Hip Replacement	66	2.3	1.8	1.28	1.9	1.21	2.3	1.00		
302 Knee Replacement	5	1.2	1.9	0.63	1.7	0.71	2.0	0.60		
383 Cellulitis & other skin infections	41	3.6	3.6	1.00	3.5	1.03	4.0	0.90		
463 Kidney/Urinary Tract Infection	38	3.0	3.0	1.00	3.1	0.97	3.6	0.83		
469 Acute kidney injury	38	4.2	4.2	1.00	3.3	1.27	4.6	0.91		
540 Cesarean Delivery	67	2.8	3.5	0.80	2.9	0.97	3.6	0.78		
560 Vaginal Delivery	194	1.9	2.0	0.95	2.0	0.95	2.2	0.86		
640 Normal Newborn, Birthweight 2500g+	243	1.8	2.0	0.90	1.9	0.95	2.1	0.86		
720 Blood Infection/Septicemia	124	4.9	4.9	1.00	4.2	1.17	5.5	0.89		
775 Alcohol Abuse/Dependence	10	2.7	3.4	0.79	3.7	0.73	3.7	0.73		

	This Facility					Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Vo Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$25,630	\$30,309	\$30,641	0.99	\$31,273	0.97	\$36,517	0.83
139 Pneumonia	\$20,779	\$20,176	\$22,549	0.89	\$23,233	0.87	\$26,154	0.77
140 Chronic Obstructive Pulmonary Disease	\$22,492	\$22,785	\$21,356	1.07	\$21,959	1.04	\$23,596	0.97
194 Heart Failure	\$23,795	\$22,900	\$23,636	0.97	\$25,091	0.91	\$29,512	0.78
201 Heart Abnormal Rhythm and Conduction Disorders	\$18,364	\$18,555	\$19,122	0.97	\$19,443	0.95	\$21,125	0.88
301 Hip Replacement	\$47,493	\$46,677	\$42,625	1.10	\$45,617	1.02	\$50,854	0.92
302 Knee Replacement	\$42,914	\$42,780	\$49,816	0.86	\$43,239	0.99	\$48,781	0.88
383 Cellulitis & other skin infections	\$18,118	\$18,369	\$17,982	1.02	\$19,644	0.94	\$21,953	0.84
463 Kidney/Urinary Tract Infection	\$18,141	\$17,873	\$17,446	1.02	\$19,748	0.91	\$22,097	0.81
469 Acute kidney injury	\$27,281	\$31,563	\$24,682	1.28	\$23,728	1.33	\$29,600	1.07
540 Cesarean Delivery	\$23,971	\$24,546	\$21,046	1.17	\$24,480	1.00	\$24,895	0.99
560 Vaginal Delivery	\$10,818	\$10,920	\$9,723	1.12	\$11,116	0.98	\$12,167	0.90
640 Normal Newborn, Birthweight 2500g+	\$3,252	\$3,357	\$4,395	0.76	\$4,155	0.81	\$4,719	0.71
720 Blood Infection/Septicemia	\$34,580	\$34,670	\$36,072	0.96	\$33,720	1.03	\$44,340	0.78
775 Alcohol Abuse/Dependence	\$20,786	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

179 Indianhead Medical Center/Shell Lake

113 Fourth Avenue, PO Box 300

Shell Lake, WI 54871

715-468-7833

Hospital Type: GMS County: Washburn

Inpatient Volume Group: 1

Analysis Area: 7-Western Lake Superior

				parateria resemble	
Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	218	Average Length of Stay (days):	3.6	<u>Discharge Status</u>	% Discharges
Total Patient Days:	782	Average Charge per Discharge:	\$8,328	Home or Self-Care	65.6%
Total Faticiti Days.	702	Average offarge per bischarge.	ψ0,320	Other GMS Hospital	5.0%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	6.0%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0			Hospice	0.0%
	_			Other Institution	1.4%
Total Newborns:	0			Home Health Service	0.0%
Psychiatric Utilization				Left Against Medical Advice	0.0%
-	4	D. CAUD'S I	0.50/	Expired	6.4%
Discharges:	1	Percent of All Discharges:	0.5%	Discharge/Tran to Court/Law Enforcmnt	0.5%
Patient Days:	3	Percent of All Patient Days:	0.4%	Other	15.1%
				Expected Pay Source Distril	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	2	Percent of All Discharges:	0.9%	Medicare	79.8%
Patient Days:	3	Percent of All Patient Days:	0.4%	Medicaid/BadgerCare	7.8%
				Other Government	6.4%
				Commercial or Private Insurance	5.5%
				Self-Pay	0.5%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	45.4%	48.3%	Amer.Ind/Alaskan Native	2.3%	2.2%
Under 15	0.5%	0.1%	Female	54.6%	51.7%	Asian	0.0%	0.0%
15 - 19	1.8%	1.5%				Black/African Amer.	0.0%	0.0%
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	0.5%	0.1%				White	96.3%	96.0%
35 - 44	2.8%	2.0%				Multiracial	0.0%	0.0%
45 - 54	2.3%	1.5%				Declined	0.5%	0.6%
55 - 64	11.9%	11.3%				Unavailable	0.9%	1.2%
65 - 74	18.8%	18.3%						
75 - 84	27.5%	26.9%						
85 & Over	33.9%	38.2%						

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	0	N/A	2.8	N/A	2.6	N/A	4.5	N/A		
137 Respiratory Infections and Inflammations	*	*	4.1	*	3.7	*	5.6	*		
139 Pneumonia	20	4.5	3.3	1.36	3.3	1.36	4.0	1.13		
140 Chronic Obstructive Pulmonary Disease	16	4.1	3.2	1.28	3.2	1.28	3.6	1.14		
194 Heart Failure	21	3.7	3.4	1.09	3.3	1.12	4.6	0.80		
201 Heart Abnormal Rhythm and Conduction Disorders	10	2.5	2.4	1.04	2.5	1.00	2.8	0.89		
247 Intestinal Obstruction without Surgery	0	N/A	2.9	N/A	2.3	N/A	3.5	N/A		
282 Disorders of Pancreas Except Malignancy	*	*	3.0	*	2.7	*	4.0	*		
302 Knee Replacement	0	N/A	1.2	N/A	2.4	N/A	2.0	N/A		
383 Cellulitis & other skin infections	*	*	3.1	*	3.8	*	4.0	*		
463 Kidney/Urinary Tract Infection	5	2.8	2.8	1.00	3.3	0.85	3.6	0.78		
469 Acute kidney injury	9	4.2	3.3	1.27	3.2	1.31	4.6	0.91		
720 Blood Infection/Septicemia	*	*	3.2	*	3.6	*	5.5	*		
861 Signs & Symptoms	*	*	2.6	*	6.3	*	5.0	*		
862 Other Factors Influencing Health Status	*	*	5.0	*	9.1	*	8.7	*		

### APR-DRG Specific Data - Average Charge per Discharge (Actual & Risk-Adjusted^)

		<u> </u>		•	<u>-</u>							
	This Facility				Risk Adjusted Group Averages							
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio				
133 Respiratory failure	N/A	N/A	\$15,822	*	\$16,434	*	\$36,517	*				
137 Respiratory Infections and Inflammations	*	*	\$19,815	*	\$18,058	*	\$39,518	*				
139 Pneumonia	\$9,188	\$13,331	\$15,634	0.85	\$15,907	0.84	\$26,154	0.51				
140 Chronic Obstructive Pulmonary Disease	\$8,617	\$11,089	\$15,430	0.72	\$15,423	0.72	\$23,596	0.47				
194 Heart Failure	\$9,220	\$13,204	\$15,904	0.83	\$15,151	0.87	\$29,512	0.45				
201 Heart Abnormal Rhythm and Conduction Disorders	\$4,318	\$5,593	\$10,785	0.52	\$12,073	0.46	\$21,125	0.26				
247 Intestinal Obstruction without Surgery	N/A	N/A	\$12,100	*	\$10,681	*	\$21,879	*				
282 Disorders of Pancreas Except Malignancy	*	*	\$16,216	*	\$15,867	*	\$28,992	*				
302 Knee Replacement	N/A	N/A	\$33,898	*	\$47,739	*	\$48,781	*				
383 Cellulitis & other skin infections	*	*	\$11,572	*	\$14,904	*	\$21,953	*				
463 Kidney/Urinary Tract Infection	\$4,656	\$5,735	\$10,211	0.56	\$12,446	0.46	\$22,097	0.26				
469 Acute kidney injury	\$9,743	\$12,681	\$12,754	0.99	\$13,028	0.97	\$29,600	0.43				
720 Blood Infection/Septicemia	*	*	\$18,825	*	\$18,335	*	\$44,340	*				
861 Signs & Symptoms	*	*	\$9,460	*	\$15,939	*	\$28,329	*				
862 Other Factors Influencing Health Status	*	*	\$7,770	*	\$24,133	*	\$31,132	*				

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

127 Mayo Clinic Health System - Franciscan Healthcare in Sparta

310 West Main Street

Sparta, WI 54656 Analysis Area: 5B-Southwestern

608-269-2132 Inpatient Volume Group: 1

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	156	Average Length of Stay (days):	4.4	Discharge Status	% Discharges
Total Patient Days:	694	Average Charge per Discharge:	\$16,085	Home or Self-Care	63.5%
Total Fatient Days.	034	Average Charge per Discharge.	Ψ10,000	Other GMS Hospital	5.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	12.8%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.6%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0			Hospice	1.3%
				Other Institution	0.0%
Total Newborns:	0			Home Health Service	0.6%
Psychiatric Utilization				Left Against Medical Advice	1.3%
r sychiatric Othization				Expired	1.9%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	12.2%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	3	Percent of All Discharges:	1.9%	Medicare	76.9%
Patient Days:	30	Percent of All Patient Days:	4.3%	Medicaid/BadgerCare	10.3%
				Other Government	6.4%
				Commercial or Private Insurance	5.8%
				Self-Pay	0.6%
				Other or Unknown Insurance	0.0%

Hospital Type: GMS

County: Monroe

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	45.5%	42.9%	Amer.Ind/Alaskan Native	e 0.0%	0.0%
Under 15	0.0%	0.0%	Female	54.5%	57.1%	Asian	0.0%	0.0%
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	4.5%	2.7%				White	97.4%	98.1%
35 - 44	1.9%	1.4%				Multiracial	0.0%	0.0%
45 - 54	5.8%	4.3%				Declined	0.0%	0.0%
55 - 64	21.8%	21.6%				Unavailable	2.6%	1.9%
65 - 74	19.9%	18.6%						
75 - 84	21.8%	18.3%						
85 & Over	24.4%	33.0%						

	This Facility Group Averages							
			Analys	Analysis Area Inpatient Volume Group			All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	0	N/A	4.0	N/A	2.6	N/A	4.5	N/A
137 Respiratory Infections and Inflammations	*	*	4.9	*	3.7	*	5.6	*
139 Pneumonia	29	4.0	3.8	1.05	3.3	1.21	4.0	1.00
140 Chronic Obstructive Pulmonary Disease	18	3.3	3.2	1.03	3.2	1.03	3.6	0.92
194 Heart Failure	17	4.1	4.1	1.00	3.3	1.24	4.6	0.89
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.8	*	2.5	*	2.8	*
247 Intestinal Obstruction without Surgery	*	*	3.2	*	2.3	*	3.5	*
282 Disorders of Pancreas Except Malignancy	*	*	3.5	*	2.7	*	4.0	*
302 Knee Replacement	0	N/A	1.6	N/A	2.4	N/A	2.0	N/A
383 Cellulitis & other skin infections	14	4.9	3.8	1.29	3.8	1.29	4.0	1.23
463 Kidney/Urinary Tract Infection	*	*	3.4	*	3.3	*	3.6	*
469 Acute kidney injury	8	3.6	4.2	0.86	3.2	1.13	4.6	0.78
720 Blood Infection/Septicemia	24	4.0	5.0	0.80	3.6	1.11	5.5	0.73
861 Signs & Symptoms	0	N/A	5.3	N/A	6.3	N/A	5.0	N/A
862 Other Factors Influencing Health Status	0	N/A	8.6	N/A	9.1	N/A	l 8.7	N/A

	This Fac			Risk Adjusted	Group Averages			
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	N/A	N/A	\$25,589	*	\$16,434	*	\$36,517	*
137 Respiratory Infections and Inflammations	*	*	\$30,031	*	\$18,058	*	\$39,518	*
139 Pneumonia	\$14,664	\$17,022	\$20,184	0.84	\$15,907	1.07	\$26,154	0.65
140 Chronic Obstructive Pulmonary Disease	\$14,860	\$15,553	\$18,595	0.84	\$15,423	1.01	\$23,596	0.66
194 Heart Failure	\$16,408	\$19,183	\$21,845	0.88	\$15,151	1.27	\$29,512	0.65
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	\$15,454	*	\$12,073	*	\$21,125	*
247 Intestinal Obstruction without Surgery	*	*	\$16,667	*	\$10,681	*	\$21,879	*
282 Disorders of Pancreas Except Malignancy	*	*	\$19,660	*	\$15,867	*	\$28,992	*
302 Knee Replacement	N/A	N/A	\$38,036	*	\$47,739	*	\$48,781	*
383 Cellulitis & other skin infections	\$16,372	\$15,879	\$16,743	0.95	\$14,904	1.07	\$21,953	0.72
463 Kidney/Urinary Tract Infection	*	*	\$15,072	*	\$12,446	*	\$22,097	*
469 Acute kidney injury	\$11,105	\$10,591	\$20,575	0.51	\$13,028	0.81	\$29,600	0.36
720 Blood Infection/Septicemia	\$15,348	\$22,018	\$30,102	0.73	\$18,335	1.20	\$44,340	0.50
861 Signs & Symptoms	N/A	N/A	\$18,229	*	\$15,939	*	\$28,329	*
862 Other Factors Influencing Health Status	N/A	N/A	\$25,250	*	\$24,133	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

128 Spooner Health 1280 Chandler Drive Spooner, WI 54801

715-635-2111

85 & Over

26.4%

28.4%

Hospital Type: GMS
County: Washburn

Analysis Area: 7-Western Lake Superior

Inpatient Volume Group: 1

Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	265	Average Length of Stay (days):	3.4	<u>Discharge Status</u>	% Discharges
Total Patient Days:	908	Average Charge per Discharge:	\$14,064	Home or Self-Care	48.7%
Total Fatient Days.	300	Average Charge per Discharge.	ψ1 <del>4</del> ,00 <del>4</del>	Other GMS Hospital	9.4%
Obstetrical Utilization				Critical Access Hospital (CAH)	1.1%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	9.8%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.8%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.4%
Total Childbirths:	0			Hospice Other Institution	2.6% 0.0%
Total Newborns:	0			Home Health Service	0.0% 8.3%
Total Newborns.	U			Left Against Medical Advice	1.1%
Psychiatric Utilization				Expired	3.8%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	14.0%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	2	Percent of All Discharges:	0.8%	Medicare	72.1%
Patient Days:	7	Percent of All Patient Days:	0.8%	Medicaid/BadgerCare	7.2%
				Other Government	1.9%
				Commercial or Private Insurance	14.0%
				Self-Pay	4.9%
				Other or Unknown Insurance	0.0%

Age Distribution				Sex Distribution	<u>1</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days		
Newborn	0.0%	0.0%	Male	46.4%	45.7%	Amer.Ind/Alaskan Native	3.0%	1.5%		
Under 15	0.0%	0.0%	Female	53.6%	54.3%	Asian	0.4%	0.3%		
15 - 19	0.0%	0.0%				Black/African Amer.	0.4%	1.0%		
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%		
25 - 34	1.5%	1.4%				White	96.2%	97.1%		
35 - 44	2.6%	1.9%				Multiracial	0.0%	0.0%		
45 - 54	5.3%	4.7%				Declined	0.0%	0.0%		
55 - 64	16.6%	13.7%				Unavailable	0 %	0 %		
65 - 74	23.4%	25.1%								
75 - 84	24.2%	24.8%								

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	*	*	2.8	*	2.6	*	4.5	*		
137 Respiratory Infections and Inflammations	6	4.5	4.1	1.10	3.7	1.22	5.6	0.80		
139 Pneumonia	38	3.4	3.3	1.03	3.3	1.03	4.0	0.85		
140 Chronic Obstructive Pulmonary Disease	9	3.1	3.2	0.97	3.2	0.97	3.6	0.86		
194 Heart Failure	38	4.5	3.4	1.32	3.3	1.36	4.6	0.98		
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.4	*	2.5	*	2.8	*		
247 Intestinal Obstruction without Surgery	12	2.8	2.9	0.97	2.3	1.22	3.5	0.80		
282 Disorders of Pancreas Except Malignancy	10	3.3	3.0	1.10	2.7	1.22	4.0	0.83		
302 Knee Replacement	0	N/A	1.2	N/A	2.4	N/A	2.0	N/A		
383 Cellulitis & other skin infections	8	4.6	3.1	1.48	3.8	1.21	4.0	1.15		
463 Kidney/Urinary Tract Infection	12	3.4	2.8	1.21	3.3	1.03	3.6	0.94		
469 Acute kidney injury	14	3.4	3.3	1.03	3.2	1.06	4.6	0.74		
720 Blood Infection/Septicemia	24	3.5	3.2	1.09	3.6	0.97	5.5	0.64		
861 Signs & Symptoms	*	*	2.6	*	6.3	*	5.0	*		
862 Other Factors Influencing Health Status	*	*	5.0	*	9.1	*	8.7	*		

	This Facility					Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	Analysis Area Average Charge Ratio		Inpatient Volume Group Average Charge Ratio		All GMS Hospitals Average Charge Ratio	
133 Respiratory failure	*	*	\$15,822	*	\$16,434	*	\$36,517	*
137 Respiratory Infections and Inflammations	\$20,507	\$20,810	\$19,815	1.05	\$18,058	1.15	\$39,518	0.53
139 Pneumonia	\$16,162	\$18,468	\$15,634	1.18	\$15,907	1.16	\$26,154	0.71
140 Chronic Obstructive Pulmonary Disease	\$14,664	\$17,394	\$15,430	1.13	\$15,423	1.13	\$23,596	0.74
194 Heart Failure	\$18,934	\$22,508	\$15,904	1.42	\$15,151	1.49	\$29,512	0.76
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	\$10,785	*	\$12,073	*	\$21,125	*
247 Intestinal Obstruction without Surgery	\$10,467	\$11,642	\$12,100	0.96	\$10,681	1.09	\$21,879	0.53
282 Disorders of Pancreas Except Malignancy	\$15,120	\$20,529	\$16,216	1.27	\$15,867	1.29	\$28,992	0.71
302 Knee Replacement	N/A	N/A	\$33,898	*	\$47,739	*	\$48,781	*
383 Cellulitis & other skin infections	\$16,313	\$17,754	\$11,572	1.53	\$14,904	1.19	\$21,953	0.81
463 Kidney/Urinary Tract Infection	\$11,636	\$13,001	\$10,211	1.27	\$12,446	1.04	\$22,097	0.59
469 Acute kidney injury	\$12,246	\$16,232	\$12,754	1.27	\$13,028	1.25	\$29,600	0.55
720 Blood Infection/Septicemia	\$16,352	\$21,462	\$18,825	1.14	\$18,335	1.17	\$44,340	0.48
861 Signs & Symptoms	*	*	\$9,460	*	\$15,939	*	\$28,329	*
862 Other Factors Influencing Health Status	*	*	\$7,770	*	\$24,133	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

129 St Croix Regional Medical Center

235 State Street

St Croix Falls, WI 54024

715-483-3261

85 & Over

11.2%

13.8%

Hospital Type: GMS
County: Polk

Analysis Area: 5A-West Central

Inpatient Volume Group:	4	

Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	1,633	Average Length of Stay (days):	3.0	Discharge Status	% Discharges
Total Patient Days:	4,890	Average Charge per Discharge:	\$16,577	Home or Self-Care	69.2%
Total Fatient Days.	4,090	Average Charge per Discharge.	\$10,577	Other GMS Hospital	6.6%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	163	Percent of All Childbirths:	76.9%	Skilled Nursing Facility	12.6%
Cesarean Childbirths:	38	Percent of All Childbirths:	17.9%	Intermediate Care Facility	1.6%
Other Childbirths:	11	Percent of All Childbirths:	5.2%	Inpatient Rehabilitation Facility	0.1%
Total Childbirths:	212		0.2,0	Hospice	1.7%
rotal ormasitire.				Other Institution	0.0%
Total Newborns:	221			Home Health Service	5.9%
Dovobiotrio Utilization				Left Against Medical Advice	0.5%
Psychiatric Utilization				Expired	1.2%
Discharges:	2	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	8	Percent of All Patient Days:	0.2%	Other	0.6%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	22	Percent of All Discharges:	1.3%	Medicare	49.0%
Patient Days:	74	Percent of All Patient Days:	1.5%	Medicaid/BadgerCare	8.6%
				Other Government	2.9%
				Commercial or Private Insurance	35.2%
				Self-Pay	3.9%
				Other or Unknown Insurance	0.4%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	13.5%	8.4%	Male	42.4%	45.2%	Amer.Ind/Alaskan Native	1.0%	1.0%	
Under 15	0.7%	0.3%	Female	57.6%	54.8%	Asian	0.2%	0.1%	
15 - 19	0.9%	0.7%				Black/African Amer.	0.1%	0.0%	
20 - 24	3.6%	2.9%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	9.9%	7.9%				White	96.9%	97.3%	
35 - 44	4.5%	3.6%				Multiracial	0.6%	0.5%	
45 - 54	6.9%	7.1%				Declined	1.0%	1.1%	
55 - 64	12.2%	14.5%				Unavailable	0.1%	0 %	
65 - 74	19.1%	21.4%							
75 - 84	17.4%	19.3%							

	This Facil	Group Averages						
			<u>Analysis Area</u>		Inpatient V	Inpatient Volume Group		ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	25	3.6	4.2	0.86	3.6	1.00	4.5	0.80
139 Pneumonia	55	3.5	3.7	0.95	3.5	1.00	4.0	0.88
140 Chronic Obstructive Pulmonary Disease	37	3.2	3.5	0.91	3.2	1.00	3.6	0.89
194 Heart Failure	72	3.8	4.3	0.88	3.6	1.06	4.6	0.83
201 Heart Abnormal Rhythm and Conduction Disorders	37	3.1	2.8	1.11	2.5	1.24	2.8	1.11
301 Hip Replacement	60	2.9	2.3	1.26	1.9	1.53	2.3	1.26
302 Knee Replacement	126	2.7	2.1	1.29	1.7	1.59	2.0	1.35
383 Cellulitis & other skin infections	38	4.1	3.9	1.05	3.5	1.17	4.0	1.03
463 Kidney/Urinary Tract Infection	49	3.3	3.1	1.06	3.1	1.06	3.6	0.92
469 Acute kidney injury	16	3.2	4.4	0.73	3.3	0.97	4.6	0.70
540 Cesarean Delivery	38	2.8	3.0	0.93	2.9	0.97	3.6	0.78
560 Vaginal Delivery	163	2.3	2.1	1.10	2.0	1.15	2.2	1.05
640 Normal Newborn, Birthweight 2500g+	218	1.8	2.0	0.90	1.9	0.95	2.1	0.86
720 Blood Infection/Septicemia	49	4.6	4.8	0.96	4.2	1.10	5.5	0.84
775 Alcohol Abuse/Dependence	20	3.6	3.7	0.97	3.7	0.97	3.7	0.97

<u> </u>	Risk Adjusted Group Averages									
	This Fac	Risk	Nisk Adjusted Group Averages							
	A.,	Adjusted	Analysis Area		Inpatient Volume Group		All GMS Hospitals			
ADD DD0 #	Average	Average	Average	D-4:-	Average	D-4:-	Average	D-#-		
APR-DRG # and Description	Charge	Charge	Charge	Ratio	Charge	Ratio	Charge	Ratio		
133 Respiratory failure	\$15,632	\$17,023	\$27,159	0.63	\$31,273	0.54	\$36,517	0.47		
139 Pneumonia	\$14,344	\$17,303	\$19,690	0.88	\$23,233	0.74	\$26,154	0.66		
140 Chronic Obstructive Pulmonary Disease	\$13,422	\$14,523	\$18,026	0.81	\$21,959	0.66	\$23,596	0.62		
194 Heart Failure	\$14,589	\$16,477	\$22,734	0.72	\$25,091	0.66	\$29,512	0.56		
201 Heart Abnormal Rhythm and Conduction Disorders	\$11,907	\$13,820	\$16,241	0.85	\$19,443	0.71	\$21,125	0.65		
301 Hip Replacement	\$38,561	\$40,231	\$41,021	0.98	\$45,617	0.88	\$50,854	0.79		
302 Knee Replacement	\$31,024	\$31,861	\$38,967	0.82	\$43,239	0.74	\$48,781	0.65		
383 Cellulitis & other skin infections	\$14,172	\$14,557	\$17,014	0.86	\$19,644	0.74	\$21,953	0.66		
463 Kidney/Urinary Tract Infection	\$10,525	\$11,342	\$13,865	0.82	\$19,748	0.57	\$22,097	0.51		
469 Acute kidney injury	\$10,088	\$16,099	\$22,197	0.73	\$23,728	0.68	\$29,600	0.54		
540 Cesarean Delivery	\$15,876	\$16,274	\$19,747	0.82	\$24,480	0.66	\$24,895	0.65		
560 Vaginal Delivery	\$8,886	\$9,014	\$9,018	1.00	\$11,116	0.81	\$12,167	0.74		
640 Normal Newborn, Birthweight 2500g+	\$2,424	\$2,444	\$3,539	0.69	\$4,155	0.59	\$4,719	0.52		
720 Blood Infection/Septicemia	\$18,029	\$23,887	\$32,245	0.74	\$33,720	0.71	\$44,340	0.54		
775 Alcohol Abuse/Dependence	\$14,861	#	#	#	#	#	#	#		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

130 Ascension Our Lady of Victory Hospital

1120 Pine Street

85 & Over

30.0%

31.3%

County: Clark Analysis Area: 5A-West Central Stanley, WI 54768

715-644-5571 Inpatient Volume Group: 1

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	200	Average Length of Stay (days):	5.6	<u>Discharge Status</u>	% Discharges
Total Patient Days:	1,120	Average Charge per Discharge:	\$18,116	Home or Self-Care	65.0%
Total Fatterit Days.	1,120	Average Charge per Discharge.	ψ10,110	Other GMS Hospital	12.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	7.0%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	2.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0			Hospice	2.0%
	_			Other Institution	0.0%
Total Newborns:	0			Home Health Service	8.5%
Psychiatric Utilization				Left Against Medical Advice	0.0%
<del></del>				Expired	0.5%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	2.5%
				<b>Expected Pay Source Distrib</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	0	Percent of All Discharges:	0.0%	Medicare	87.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	5.0%
				Other Government	0.0%
				Commercial or Private Insurance	5.5%
				Self-Pay	2.5%
				Other or Unknown Insurance	0.0%

Hospital Type: GMS

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	47.5%	48.0%	Amer.Ind/Alaskan Native	e 0.0%	0.0%	
Under 15	0.0%	0.0%	Female	52.5%	52.0%	Asian	0.5%	0.1%	
15 - 19	0.5%	0.2%				Black/African Amer.	0.0%	0.0%	
20 - 24	0.5%	0.1%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	2.0%	0.8%				White	98.0%	98.8%	
35 - 44	1.5%	0.7%				Multiracial	0.0%	0.0%	
45 - 54	4.5%	1.4%				Declined	0.0%	0.0%	
55 - 64	8.5%	14.7%				Unavailable	1.5%	1.2%	
65 - 74	22.5%	23.3%							
75 - 84	30.0%	27.4%							

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	5	2.6	4.2	0.62	2.6	1.00	4.5	0.58		
137 Respiratory Infections and Inflammations	*	*	5.0	*	3.7	*	5.6	*		
139 Pneumonia	9	2.9	3.7	0.78	3.3	0.88	4.0	0.73		
140 Chronic Obstructive Pulmonary Disease	8	2.0	3.5	0.57	3.2	0.63	3.6	0.56		
194 Heart Failure	30	2.7	4.3	0.63	3.3	0.82	4.6	0.59		
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.8	*	2.5	*	2.8	*		
247 Intestinal Obstruction without Surgery	*	*	3.3	*	2.3	*	3.5	*		
282 Disorders of Pancreas Except Malignancy	0	N/A	3.5	N/A	2.7	N/A	4.0	N/A		
302 Knee Replacement	0	N/A	2.1	N/A	2.4	N/A	2.0	N/A		
383 Cellulitis & other skin infections	10	4.0	3.9	1.03	3.8	1.05	4.0	1.00		
463 Kidney/Urinary Tract Infection	6	2.2	3.1	0.71	3.3	0.67	3.6	0.61		
469 Acute kidney injury	*	*	4.4	*	3.2	*	4.6	*		
720 Blood Infection/Septicemia	25	3.7	4.8	0.77	3.6	1.03	5.5	0.67		
861 Signs & Symptoms	7	11.4	5.1	2.24	6.3	1.81	5.0	2.28		
862 Other Factors Influencing Health Status	22	14.8	8.7	1.70	9.1	1.63	8.7	1.70		

_	• .	•	•	-	•		
This Facility		Risk Adjusted Group Averages					
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
\$12,151	\$19,849	\$27,159	0.73	\$16,434	1.21	\$36,517	0.54
*	*	\$28,589	*	\$18,058	*	\$39,518	*
\$12,343	\$12,170	\$19,690	0.62	\$15,907	0.77	\$26,154	0.47
\$11,105	\$11,707	\$18,026	0.65	\$15,423	0.76	\$23,596	0.50
\$12,908	\$13,645	\$22,734	0.60	\$15,151	0.90	\$29,512	0.46
*	*	\$16,241	*	\$12,073	*	\$21,125	*
*	*	\$14,181	*	\$10,681	*	\$21,879	*
N/A	N/A	\$20,390	*	\$15,867	*	\$28,992	*
N/A	N/A	\$38,967	*	\$47,739	*	\$48,781	*
\$13,176	\$13,276	\$17,014	0.78	\$14,904	0.89	\$21,953	0.60
\$8,645	\$8,937	\$13,865	0.64	\$12,446	0.72	\$22,097	0.40
*	*	\$22,197	*	\$13,028	*	\$29,600	*
\$18,260	\$19,526	\$32,245	0.61	\$18,335	1.06	\$44,340	0.44
\$27,218	\$28,089	\$19,879	1.41	\$15,939	1.76	\$28,329	0.99
\$33,958	\$32,211	\$24,090	1.34	\$24,133	1.33	\$31,132	1.03
	Average Charge \$12,151 * \$12,343 \$11,105 \$12,908 * * * N/A N/A \$13,176 \$8,645 * \$18,260 \$27,218	Risk Adjusted Average Charge S12,151 \$19,849 \$12,343 \$12,170 \$11,105 \$11,707 \$12,908 \$13,645 \$ * * * * * * * * * * * * * * * * * *	Risk Adjusted Average Charge S12,151 \$19,849 \$27,159 \$28,589 \$112,343 \$12,170 \$19,690 \$11,105 \$11,707 \$18,026 \$12,908 \$13,645 \$22,734 \$16,241 \$ \$14,181 \$14,	Risk Adjusted Average Charge Ratio  \$12,151 \$19,849 \$27,159 0.73 \$28,589 * \$12,343 \$12,170 \$19,690 0.62 \$11,105 \$11,707 \$18,026 0.65 \$12,908 \$13,645 \$22,734 0.60 *  * * * * \$16,241 *  * * * \$14,181 *  N/A N/A N/A \$20,390 *  N/A N/A \$38,967 *  \$13,176 \$13,276 \$17,014 0.78 \$8,645 \$8,937 \$13,865 0.64 \$22,197 *  \$18,260 \$19,526 \$32,245 0.61 \$27,218 \$28,089 \$19,879 1.41	Risk Adjusted Average Average Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Ratio Charge S12,151 \$19,849 \$27,159 0.73 \$16,434 \$28,589 \$12,343 \$12,170 \$19,690 0.62 \$15,907 \$11,105 \$11,707 \$18,026 0.65 \$15,423 \$12,908 \$13,645 \$22,734 0.60 \$15,151 \$12,073 \$14,181 \$10,681 N/A N/A \$20,390 \$114,181 \$10,681 N/A N/A \$38,967 \$47,739 \$13,176 \$13,276 \$17,014 0.78 \$14,904 \$8,645 \$8,937 \$13,865 0.64 \$12,446 \$12,446 \$12,446 \$12,446 \$13,260 \$19,526 \$32,245 0.61 \$18,335 \$27,218 \$28,089 \$19,879 1.41 \$15,939	Risk Adjusted Average Charge Charge Charge Ratio  \$12,151 \$19,849 \$27,159 0.73 \$16,434 1.21 \$28,589 \$11,105 \$11,707 \$18,026 0.65 \$15,423 0.76 \$12,908 \$13,645 \$22,734 0.60 \$15,151 0.90 \$14,181 \$18,058 \$14,181 \$18,058 \$14,181 \$18,058 \$14,181 \$18,058 \$14,181 \$18,058 \$15,423 0.76 \$13,176 \$13,276 \$17,014 0.78 \$15,867 \$13,176 \$13,276 \$17,014 0.78 \$14,904 0.89 \$13,645 \$22,197 \$13,166 \$12,446 0.72 \$22,197 \$13,028 \$13,0	Risk Adjusted Average Charge Charge Charge Ratio

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

# 131 Ascension St. Michael's Hospital

900 Illinois Avenue

Stevens Point, WI 54481

715-346-5000

Hospital Type: GMS
County: Portage

Analysis Area: 6-North Central

Inpatient Volume Group: 5

Overall Hospital Utilization				Patient Discharge Statu	S
Total Discharges:	3,748	Average Length of Stay (days):	3.0	Discharge Status	% Discharges
Total Patient Days:	11,139	Average Charge per Discharge:	\$18,286	Home or Self-Care Other GMS Hospital	72.7% 3.8%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:	258 85 15 358 358	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	72.1% 23.7% 4.2%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice	8.0% 0.6% 0.1% 2.3% 0.0% 7.5% 2.4%
Psychiatric Utilization				Expired	1.5%
Discharges:	347	Percent of All Discharges:	9.3%	Discharge/Tran to Court/Law Enforcmnt Other	0.2% 0.8%
Patient Days:	902	Percent of All Patient Days:	8.1%	Expected Pay Source Distrik	
AODA Utilization				Primary Payer	% Discharges
Discharges:	259	Percent of All Discharges:	6.9%	Medicare	45.8%
Patient Days:	651	Percent of All Patient Days:	5.8%	Medicaid/BadgerCare	17.9%
				Other Government	3.3%
				Commercial or Private Insurance	30.2%
				Self-Pay	2.7%
				Other or Unknown Insurance	0.1%

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	9.6%	6.3%	Male	44.5%	44.0%	Amer.Ind/Alaskan Native	0.5%	0.3%
Under 15	1.8%	1.0%	Female	55.5%	56.0%	Asian	1.9%	1.4%
15 - 19	3.1%	2.3%				Black/African Amer.	1.5%	1.1%
20 - 24	4.6%	3.3%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	11.8%	9.6%				White	94.0%	95.7%
35 - 44	7.2%	6.2%				Multiracial	0.2%	0.1%
45 - 54	8.3%	7.8%				Declined	0.0%	0.0%
55 - 64	12.0%	13.1%				Unavailable	1.9%	1.4%
65 - 74	15.1%	16.9%						
75 - 84	14.4%	18.1%						
85 & Over	12.1%	15.5%						

	This Facil	ity			Group A	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	112	3.2	4.1	0.78	4.5	0.71	4.5	0.71
139 Pneumonia	80	3.5	3.8	0.92	4.2	0.83	4.0	0.88
140 Chronic Obstructive Pulmonary Disease	30	2.3	3.4	0.68	3.6	0.64	3.6	0.64
174 Percutaneous coronary intervention w AMI	0	N/A	3.1	N/A	3.0	N/A	3.0	N/A
194 Heart Failure	101	3.6	4.2	0.86	4.6	0.78	4.6	0.78
201 Heart Abnormal Rhythm and Conduction Disorders	76	2.3	2.6	0.88	2.9	0.79	2.8	0.82
301 Hip Replacement	112	1.7	2.2	0.77	2.2	0.77	2.3	0.74
302 Knee Replacement	38	1.3	1.7	0.76	2.0	0.65	2.0	0.65
469 Acute kidney injury	73	3.3	4.1	0.80	4.7	0.70	4.6	0.72
540 Cesarean Delivery	85	2.7	3.8	0.71	3.3	0.82	3.6	0.75
560 Vaginal Delivery	258	2.0	2.1	0.95	2.1	0.95	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	348	1.9	2.1	0.90	2.1	0.90	2.1	0.90
720 Blood Infection/Septicemia	368	4.5	5.5	0.82	5.5	0.82	5.5	0.82
751 Psychoses	78	2.5	4.3	0.58	4.7	0.53	5.1	0.49
775 Alcohol Abuse/Dependence	185	2.7	4.0	0.68	3.8	0.71	3.7	0.73

<u> </u>								
	This Fac	ility	Risk Adjusted Group Averages					
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$18,287	\$23,592	\$28,209	0.84	\$35,487	0.66	\$36,517	0.65
139 Pneumonia	\$19,712	\$18,741	\$21,418	0.88	\$27,529	0.68	\$26,154	0.72
140 Chronic Obstructive Pulmonary Disease	\$13,125	\$14,020	\$20,180	0.69	\$23,968	0.58	\$23,596	0.59
174 Percutaneous coronary intervention w AMI	N/A	N/A	\$64,564	*	\$72,860	*	\$73,175	*
194 Heart Failure	\$18,267	\$17,921	\$23,893	0.75	\$28,982	0.62	\$29,512	0.61
201 Heart Abnormal Rhythm and Conduction Disorders	\$14,950	\$14,091	\$17,528	0.80	\$21,611	0.65	\$21,125	0.67
301 Hip Replacement	\$31,445	\$32,009	\$44,625	0.72	\$52,206	0.61	\$50,854	0.63
302 Knee Replacement	\$30,953	\$31,173	\$42,608	0.73	\$50,848	0.61	\$48,781	0.64
469 Acute kidney injury	\$16,278	\$16,963	\$24,143	0.70	\$29,340	0.58	\$29,600	0.57
540 Cesarean Delivery	\$18,185	\$19,257	\$24,073	0.80	\$25,613	0.75	\$24,895	0.77
560 Vaginal Delivery	\$7,071	\$7,057	\$10,079	0.70	\$12,456	0.57	\$12,167	0.58
640 Normal Newborn, Birthweight 2500g+	\$3,355	\$3,453	\$5,603	0.62	\$4,463	0.77	\$4,719	0.73
720 Blood Infection/Septicemia	\$26,665	\$26,191	\$34,953	0.75	\$41,728	0.63	\$44,340	0.59
751 Psychoses	\$7,154	#	#	#	#	#	#	#
775 Alcohol Abuse/Dependence	\$11,709	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

132 Stoughton Hospital Association

900 Ridge Street

Stoughton, WI 53589

608-873-6611

85 & Over

24.1%

25.1%

Hospital Type: GMS County: Dane

Inpatient Volume Group: 3

Analysis Area: 1-Southern

<u> </u>	Patient	t Discl	narge	<u>Status</u>	

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	879	Average Length of Stay (days):	6.0	Discharge Status	% Discharges
Total Patient Days:	5,249	Average Charge per Discharge:	\$26,748	Home or Self-Care Other GMS Hospital	60.3% 4.1%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.7%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization Discharges:	0 0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	14.3% 6.3% 0.1% 2.5% 0.0% 3.1% 0.6% 1.6% 0.0%
Patient Days:	942	Percent of All Patient Days:	17.9%		6.5%
AODA Utilization				Expected Pay Source Distrik Primary Payer	oution % Discharges
Discharges:	83	Percent of All Discharges:	9.4%	Medicare	70.5%
Patient Days:	291	Percent of All Patient Days:	5.5%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	6.9% 3.4% 17.6% 1.5% 0.0%

	Age Distribution			Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	44.3%	36.2%	Amer.Ind/Alaskan Native	0.0%	0.0%
Under 15	0.1%	0.0%	Female	55.7%	63.8%	Asian	0.9%	0.3%
15 - 19	0.1%	0.0%				Black/African Amer.	1.0%	0.5%
20 - 24	0.6%	0.2%				Native Hawaii/Pac.Isl.	0.1%	0.0%
25 - 34	2.7%	1.0%				White	96.2%	97.0%
35 - 44	4.2%	1.4%				Multiracial	0.0%	0.0%
45 - 54	6.7%	3.4%				Declined	0.5%	0.7%
55 - 64	12.9%	12.3%				Unavailable	1.3%	1.4%
65 - 74	23.1%	26.1%						
75 - 84	25.5%	30.3%						

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	14	3.4	4.1	0.83	3.2	1.06	4.5	0.76
139 Pneumonia	34	3.7	3.7	1.00	3.3	1.12	4.0	0.93
140 Chronic Obstructive Pulmonary Disease	19	2.3	3.6	0.64	2.9	0.79	3.6	0.64
194 Heart Failure	47	4.0	4.5	0.89	3.4	1.18	4.6	0.87
201 Heart Abnormal Rhythm and Conduction Disorders	16	2.2	2.8	0.79	2.3	0.96	2.8	0.79
247 Intestinal Obstruction without Surgery	14	1.9	3.7	0.51	2.7	0.70	3.5	0.54
301 Hip Replacement	23	2.8	2.2	1.27	2.1	1.33	2.3	1.22
302 Knee Replacement	110	2.2	2.0	1.10	1.9	1.16	2.0	1.10
383 Cellulitis & other skin infections	16	2.8	4.0	0.70	3.6	0.78	4.0	0.70
463 Kidney/Urinary Tract Infection	13	2.8	3.4	0.82	2.9	0.97	3.6	0.78
469 Acute kidney injury	*	*	4.3	*	2.8	*	4.6	*
540 Cesarean Delivery	0	N/A	3.9	N/A	3.0	N/A	3.6	N/A
560 Vaginal Delivery	0	N/A	2.3	N/A	1.9	N/A	2.2	N/A
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.1	N/A	2.0	N/A	2.1	N/A
720 Blood Infection/Septicemia	36	3.7	5.5	0.67	3.6	1.03	5.5	0.67

•	This Foo	1114.	Risk Adjusted Group Averages					
	This Fac	-			RISK Adjusted			
ADD DDC # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	spitals Ratio
APR-DRG # and Description	Charge	Charge	Charge	Natio	Tilaige	Natio	Tilaige	Natio
133 Respiratory failure	\$24,014	\$24,330	\$42,179	0.58	\$22,058	1.10	\$36,517	0.67
139 Pneumonia	\$22,492	\$22,823	\$28,774	0.79	\$18,736	1.22	\$26,154	0.87
140 Chronic Obstructive Pulmonary Disease	\$16,026	\$18,790	\$28,251	0.67	\$16,687	1.13	\$23,596	0.80
194 Heart Failure	\$22,396	\$24,445	\$33,598	0.73	\$18,675	1.31	\$29,512	0.83
201 Heart Abnormal Rhythm and Conduction Disorders	\$14,448	\$13,260	\$23,719	0.56	\$13,920	0.95	\$21,125	0.63
247 Intestinal Obstruction without Surgery	\$7,057	\$8,222	\$24,525	0.34	\$13,214	0.62	\$21,879	0.38
301 Hip Replacement	\$38,023	\$40,059	\$49,942	0.80	\$43,894	0.91	\$50,854	0.79
302 Knee Replacement	\$37,642	\$40,170	\$43,613	0.92	\$45,311	0.89	\$48,781	0.82
383 Cellulitis & other skin infections	\$15,494	\$16,531	\$24,297	0.68	\$16,011	1.03	\$21,953	0.75
463 Kidney/Urinary Tract Infection	\$13,368	\$13,843	\$24,396	0.57	\$13,197	1.05	\$22,097	0.63
469 Acute kidney injury	*	*	\$32,366	*	\$14,980	*	\$29,600	*
540 Cesarean Delivery	N/A	N/A	\$28,792	*	\$21,375	*	\$24,895	*
560 Vaginal Delivery	N/A	N/A	\$13,875	*	\$8,800	*	\$12,167	*
640 Normal Newborn, Birthweight 2500g+	N/A	N/A	\$5,441	*	\$3,780	*	\$4,719	*
720 Blood Infection/Septicemia	\$22,442	\$26,859	\$52,049	0.52	\$23,568	1.14	\$44,340	0.61

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

**133 Door County Medical Center** 

323 South 18th Avenue

Sturgeon Bay, WI 54235

**Overall Hospital Utilization** 

920-743-5566

Total Discharges:

Total Patient Days:

Hospital Type: GMS County: Door

Inpatient Volume Group: 3

Other Institution

Home Health Service

Left Against Medical Advice

Analysis Area: 4-Northeastern

Patient Discharge Status	
<u>Discharge Status</u>	% Discharges
Home or Self-Care	62.7%
Other GMS Hospital	5.6%
Critical Access Hospital (CAH)	0.1%
Skilled Nursing Facility	11.8%

0.0% 8.6%

0.6%

Obstetrical Utilization			Critical Access Hospital (CAH)	0.1%
Normal Childbirths:	86 Percent of All Childbirths:	69.4%	Skilled Nursing Facility	11.8%
Normal Childbirdis.	oo Fercent of All Childbirths.	09.470	Intermediate Care Facility	2.2%
Cesarean Childbirths:	34 Percent of All Childbirths:	27.4%	•	
Other Childbirths:			Inpatient Rehabilitation Facility	0.2%
Other Childbirths.	<u>4</u> Percent of All Childbirths:	3.2%	Hospice	3.4%
Total Childbirths:	124		поѕрісе	3.470
Total Officialitis.	147		O41 1 4:4 4:	0.00/

3.2

\$21,579

1,283 Average Length of Stay (days):

4,168 Average Charge per Discharge:

Total Newborns: 123

20.7%

26.6%

**Psychiatric Utilization** 

Psychiatric Utilization				Expired	2.7%
Discharges: Patient Days:	6 19	Percent of All Discharges: Percent of All Patient Days:	0.5% 0.5%	Discharge/Tran to Court/Law Enforcmnt Other	0.0% 2.2%
				<b>Expected Pay Source Distribution</b>	

**AODA Utilization** 

85 & Over

AODA Utilization				Primary Payer	% Discharges
Discharges:	15	Percent of All Discharges:	1.2%	Medicare	62.1%
Patient Days:	42	Percent of All Patient Days:	1.0%	Medicaid/BadgerCare	10.9%
				Other Government	0.9%
				Commercial or Private Insurance	20.2%
				Self-Pay	1.8%
				Other or Unknown Insurance	4.1%

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	9.6%	6.3%	Male	43.5%	46.2%	Amer.Ind/Alaskan Native	0.2%	0.1%
Under 15	0.6%	0.3%	Female	56.5%	53.8%	Asian	0.2%	0.2%
15 - 19	0.3%	0.2%				Black/African Amer.	0.4%	0.4%
20 - 24	2.1%	1.6%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	7.4%	5.7%				White	98.1%	98.1%
35 - 44	3.9%	3.1%				Multiracial	0.0%	0.0%
45 - 54	3.9%	2.6%				Declined	0.0%	0.0%
55 - 64	10.0%	9.5%				Unavailable	1.1%	1.2%
65 - 74	18.0%	17.7%						
75 - 84	23.5%	26.3%						

•		This Facili	ity	Group Averages					
				<u>Analysis Area</u>		Inpatient V	Inpatient Volume Group		ospitals
APR-DRG # a	nd Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respirato	ory failure	44	3.9	4.2	0.93	3.2	1.22	4.5	0.87
139 Pneumor	iia	48	4.3	3.7	1.16	3.3	1.30	4.0	1.08
140 Chronic (	Obstructive Pulmonary Disease	31	3.1	3.5	0.89	2.9	1.07	3.6	0.86
194 Heart Fai	lure	97	3.9	4.1	0.95	3.4	1.15	4.6	0.85
201 Heart Abi	normal Rhythm and Conduction Disorders	29	2.8	2.6	1.08	2.3	1.22	2.8	1.00
247 Intestinal	Obstruction without Surgery	23	2.4	3.2	0.75	2.7	0.89	3.5	0.69
301 Hip Repla	acement	73	1.9	1.8	1.06	2.1	0.90	2.3	0.83
302 Knee Re	placement	*	*	1.9	*	1.9	*	2.0	*
383 Cellulitis	& other skin infections	26	5.2	3.6	1.44	3.6	1.44	4.0	1.30
463 Kidney/U	rinary Tract Infection	18	2.9	3.0	0.97	2.9	1.00	3.6	0.81
469 Acute kid	ney injury	21	2.6	4.2	0.62	2.8	0.93	4.6	0.57
540 Cesarear	n Delivery	34	3.3	3.5	0.94	3.0	1.10	3.6	0.92
560 Vaginal D	Pelivery	86	2.2	2.0	1.10	1.9	1.16	2.2	1.00
640 Normal N	ewborn, Birthweight 2500g+	119	2.1	2.0	1.05	2.0	1.05	2.1	1.00
720 Blood Inf	ection/Septicemia	102	4.1	4.9	0.84	3.6	1.14	5.5	0.75

	This Fac	ility			Rick Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysis Area</u> Average Charge Ratio		Inpatient Volume Group Average Charge Ratio		All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$30,640	\$35,731	\$30,641	1.17	\$22,058	1.62	\$36,517	0.98
139 Pneumonia	\$27,973	\$29,456	\$22,549	1.31	\$18,736	1.57	\$26,154	1.13
140 Chronic Obstructive Pulmonary Disease	\$21,853	\$23,870	\$21,356	1.12	\$16,687	1.43	\$23,596	1.01
194 Heart Failure	\$21,244	\$26,958	\$23,636	1.14	\$18,675	1.44	\$29,512	0.91
201 Heart Abnormal Rhythm and Conduction Disorders	\$21,939	\$22,693	\$19,122	1.19	\$13,920	1.63	\$21,125	1.07
247 Intestinal Obstruction without Surgery	\$15,270	\$16,534	\$17,804	0.93	\$13,214	1.25	\$21,879	0.76
301 Hip Replacement	\$38,011	\$39,489	\$42,625	0.93	\$43,894	0.90	\$50,854	0.78
302 Knee Replacement	*	*	\$49,816	*	\$45,311	*	\$48,781	*
383 Cellulitis & other skin infections	\$23,401	\$25,602	\$17,982	1.42	\$16,011	1.60	\$21,953	1.17
463 Kidney/Urinary Tract Infection	\$15,720	\$16,652	\$17,446	0.95	\$13,197	1.26	\$22,097	0.75
469 Acute kidney injury	\$15,668	\$21,604	\$24,682	0.88	\$14,980	1.44	\$29,600	0.73
540 Cesarean Delivery	\$15,573	\$15,096	\$21,046	0.72	\$21,375	0.71	\$24,895	0.61
560 Vaginal Delivery	\$6,910	\$6,911	\$9,723	0.71	\$8,800	0.79	\$12,167	0.57
640 Normal Newborn, Birthweight 2500g+	\$3,510	\$3,488	\$4,395	0.79	\$3,780	0.92	\$4,719	0.74
720 Blood Infection/Septicemia	\$28,938	\$35,753	\$36,072	0.99	\$23,568	1.52	\$44,340	0.81

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 314 Auro

36500 Au

Summit,

262-560-6151 Inpatient Volume Group: 5

rora Medical Center in Summit	Hospital Type: GMS
Aurora Drive	County: Waukesha
t, WI 53066	Analysis Area: 2A-Southeastern

Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	4,897	Average Length of Stay (days):	3.6	Discharge Status	% Discharges
Total Patient Days:	17,566	Average Charge per Discharge:	\$33,033	Home or Self-Care	64.1%
Total Fatient Days.	17,500	Average onlinge per bisonarge.	ψ00,000	Other GMS Hospital	1.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	335	Percent of All Childbirths:	70.1%	Skilled Nursing Facility	10.7%
Cesarean Childbirths:	133	Percent of All Childbirths:	27.8%	Intermediate Care Facility	0.9%
Other Childbirths:	10	Percent of All Childbirths:	2.1%	Inpatient Rehabilitation Facility	2.0%
Total Childbirths:	478			Hospice	2.8%
	_			Other Institution	0.1%
Total Newborns:	495			Home Health Service	15.4%
Psychiatric Utilization				Left Against Medical Advice	0.3%
r sycillatific Othization				Expired	1.6%
Discharges:	7	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	46	Percent of All Patient Days:	0.3%	Other	0.7%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	22	Percent of All Discharges:	0.4%	Medicare	49.1%
Patient Days:	67	Percent of All Patient Days:	0.4%	Medicaid/BadgerCare	7.5%
				Other Government	1.4%
				Commercial or Private Insurance	38.9%
				Self-Pay	2.9%
				Other or Unknown Insurance	0.2%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	10.1%	9.3%	Male	46.1%	48.7%	Amer.Ind/Alaskan Native	e 0.1%	0.1%
Under 15	0.3%	1.1%	Female	53.9%	51.3%	Asian	0.4%	0.3%
15 - 19	0.7%	0.6%				Black/African Amer.	1.2%	1.1%
20 - 24	2.0%	1.5%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	10.1%	6.6%				White	97.6%	98.0%
35 - 44	6.2%	4.8%				Multiracial	0.6%	0.4%
45 - 54	8.7%	8.4%				Declined	0.1%	0.0%
55 - 64	15.6%	15.1%				Unavailable	0 %	0 %
65 - 74	18.3%	18.9%						
75 - 84	17.8%	20.9%						
85 & Over	10.2%	13.0%						

	This Facili	ity	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	108	4.2	4.8	0.88	4.5	0.93	4.5	0.93	
139 Pneumonia	57	4.2	4.5	0.93	4.2	1.00	4.0	1.05	
140 Chronic Obstructive Pulmonary Disease	40	3.5	3.8	0.92	3.6	0.97	3.6	0.97	
174 Percutaneous coronary intervention w AMI	122	2.6	2.9	0.90	3.0	0.87	3.0	0.87	
194 Heart Failure	160	4.5	4.6	0.98	4.6	0.98	4.6	0.98	
201 Heart Abnormal Rhythm and Conduction Disorders	75	2.8	2.9	0.97	2.9	0.97	2.8	1.00	
301 Hip Replacement	160	2.5	2.1	1.19	2.2	1.14	2.3	1.09	
302 Knee Replacement	131	1.7	2.0	0.85	2.0	0.85	2.0	0.85	
469 Acute kidney injury	84	4.3	4.5	0.96	4.7	0.91	4.6	0.93	
540 Cesarean Delivery	133	3.0	3.3	0.91	3.3	0.91	3.6	0.83	
560 Vaginal Delivery	335	2.1	2.2	0.95	2.1	1.00	2.2	0.95	
640 Normal Newborn, Birthweight 2500g+	453	2.2	2.1	1.05	2.1	1.05	2.1	1.05	
720 Blood Infection/Septicemia	322	4.7	5.3	0.89	5.5	0.85	5.5	0.85	
751 Psychoses	0	N/A	5.6	N/A	4.7	N/A	5.1	N/A	
775 Alcohol Abuse/Dependence	20	3.2	3.8	0.84	3.8	0.84	3.7	0.86	

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$28,686	\$30,078	\$37,003	0.81	\$35,487	0.85	\$36,517	0.82
139 Pneumonia	\$25,439	\$24,317	\$30,437	0.80	\$27,529	0.88	\$26,154	0.93
140 Chronic Obstructive Pulmonary Disease	\$20,029	\$19,243	\$25,288	0.76	\$23,968	0.80	\$23,596	0.82
174 Percutaneous coronary intervention w AMI	\$68,268	\$68,768	\$73,777	0.93	\$72,860	0.94	\$73,175	0.94
194 Heart Failure	\$24,232	\$22,905	\$30,999	0.74	\$28,982	0.79	\$29,512	0.78
201 Heart Abnormal Rhythm and Conduction Disorders	\$17,893	\$17,810	\$23,194	0.77	\$21,611	0.82	\$21,125	0.84
301 Hip Replacement	\$54,467	\$52,195	\$61,253	0.85	\$52,206	1.00	\$50,854	1.03
302 Knee Replacement	\$56,029	\$54,782	\$60,209	0.91	\$50,848	1.08	\$48,781	1.12
469 Acute kidney injury	\$26,990	\$26,338	\$30,548	0.86	\$29,340	0.90	\$29,600	0.89
540 Cesarean Delivery	\$19,949	\$20,572	\$26,513	0.78	\$25,613	0.80	\$24,895	0.83
560 Vaginal Delivery	\$12,476	\$12,595	\$14,321	0.88	\$12,456	1.01	\$12,167	1.04
640 Normal Newborn, Birthweight 2500g+	\$4,895	\$4,743	\$4,851	0.98	\$4,463	1.06	\$4,719	1.01
720 Blood Infection/Septicemia	\$33,967	\$34,717	\$44,089	0.79	\$41,728	0.83	\$44,340	0.78
751 Psychoses	N/A	#	#	*	#	*	#	*
775 Alcohol Abuse/Dependence	\$21,471	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

134 St Mary's Hospital of Superior

3500 Tower Avenue

85 & Over

19.9%

26.4%

County: Douglas Analysis Area: 7-Western Lake Superior Superior, WI 54880

715-392-8281 Inpatient Volume Group: 2

Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	463	Average Length of Stay (days):	3.0	<u>Discharge Status</u>	% Discharges
Total Patient Days:	1,371	Average Charge per Discharge:	\$9,002	Home or Self-Care Other GMS Hospital	62.9% 6.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.4%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization	0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired	13.2% 3.2% 0.6% 1.3% 0.0% 8.0% 0.6% 1.9%
Discharges: Patient Days:	2 56	Percent of All Discharges: Percent of All Patient Days:	0.4% 4.1%	Discharge/Tran to Court/Law Enforcmnt Other	0.2% 1.1%
AODA Utilization		·		Expected Pay Source Distril	bution <u>% Discharges</u>
Discharges:	15	Percent of All Discharges:	3.2%	Medicare	63.9%
Patient Days:	52	Percent of All Patient Days:	3.8%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	6.9% 4.5% 19.0% 5.6% 0.0%

Hospital Type: GMS

	Age Distribution	Ĺ		Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	54.9%	55.1%	Amer.Ind/Alaskan Native	1.7%	1.3%
Under 15	0.0%	0.0%	Female	45.1%	44.9%	Asian	0.0%	0.0%
15 - 19	0.6%	0.7%				Black/African Amer.	1.9%	1.3%
20 - 24	1.1%	0.7%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	4.5%	3.2%				White	96.3%	97.4%
35 - 44	8.6%	7.5%				Multiracial	0.0%	0.0%
45 - 54	6.7%	5.8%				Declined	0.0%	0.0%
55 - 64	19.0%	17.4%				Unavailable	0 %	0 %
65 - 74	19.0%	17.6%						
75 - 84	20.5%	20.7%						

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	27	2.4	2.8	0.86	3.0	0.80	4.5	0.53	
139 Pneumonia	40	2.4	3.3	0.73	3.3	0.73	4.0	0.60	
140 Chronic Obstructive Pulmonary Disease	19	1.9	3.2	0.59	3.3	0.58	3.6	0.53	
194 Heart Failure	40	3.3	3.4	0.97	3.4	0.97	4.6	0.72	
201 Heart Abnormal Rhythm and Conduction Disorders	9	1.4	2.4	0.58	2.6	0.54	2.8	0.50	
301 Hip Replacement	0	N/A	1.3	N/A	1.9	N/A	2.3	N/A	
302 Knee Replacement	0	N/A	1.2	N/A	2.1	N/A	2.0	N/A	
383 Cellulitis & other skin infections	41	2.8	3.1	0.90	3.9	0.72	4.0	0.70	
463 Kidney/Urinary Tract Infection	35	2.8	2.8	1.00	3.0	0.93	3.6	0.78	
469 Acute kidney injury	23	3.1	3.3	0.94	2.9	1.07	4.6	0.67	
540 Cesarean Delivery	0	N/A	3.2	N/A	3.1	N/A	3.6	N/A	
560 Vaginal Delivery	0	N/A	2.0	N/A	2.0	N/A	2.2	N/A	
640 Normal Newborn, Birthweight 2500g+	0	N/A	2.1	N/A	2.0	N/A	2.1	N/A	
720 Blood Infection/Septicemia	30	3.0	3.2	0.94	3.6	0.83	5.5	0.55	
862 Other Factors Influencing Health Status	*	*	5.0	*	8.7	*	8.7	*	

_	• •	_	•	-	•				
This Facility			Risk Adjusted Group Averages						
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group	All GMS Ho Average Charge	ospitals Ratio		
\$10,109	\$13,808	\$15,822	0.87	\$19,995	0.69	\$36,517	0.38		
\$9,574	\$10,143	\$15,634	0.65	\$17,968	0.56	\$26,154	0.39		
\$7,517	\$8,895	\$15,430	0.58	\$18,011	0.49	\$23,596	0.38		
\$10,426	\$13,539	\$15,904	0.85	\$16,661	0.81	\$29,512	0.46		
\$5,562	\$6,171	\$10,785	0.57	\$13,360	0.46	\$21,125	0.29		
N/A	N/A	\$29,149	*	\$39,123	*	\$50,854	*		
N/A	N/A	\$33,898	*	\$39,600	*	\$48,781	*		
\$8,518	\$9,086	\$11,572	0.79	\$15,690	0.58	\$21,953	0.41		
\$7,227	\$7,201	\$10,211	0.71	\$12,405	0.58	\$22,097	0.33		
\$8,451	\$10,302	\$12,754	0.81	\$14,450	0.71	\$29,600	0.35		
N/A	N/A	\$20,863	*	\$20,919	*	\$24,895	*		
N/A	N/A	\$8,332	*	\$8,631	*	\$12,167	*		
N/A	N/A	\$4,092	*	\$4,326	*	\$4,719	*		
\$10,505	\$14,972	\$18,825	0.80	\$20,714	0.72	\$44,340	0.34		
*	*	\$7,770	*	\$15,162	*	\$31,132	*		
	Average Charge \$10,109 \$9,574 \$7,517 \$10,426 \$5,562 N/A N/A \$8,518 \$7,227 \$8,451 N/A N/A	Risk Adjusted Average Charge Charge Charge Charge Charge  \$10,109 \$13,808 \$9,574 \$10,143 \$7,517 \$8,895 \$10,426 \$13,539 \$5,562 \$6,171 N/A N/A N/A N/A \$8,518 \$9,086 \$7,227 \$7,201 \$8,451 \$10,302 N/A	Risk Adjusted Average Charge S10,409 \$13,808 \$15,822 \$9,574 \$10,426 \$13,539 \$15,430 \$10,426 \$13,539 \$15,904 \$5,562 \$6,171 \$10,785 N/A N/A \$29,149 N/A N/A \$33,898 \$11,572 \$7,227 \$7,201 \$10,211 \$8,451 \$10,302 \$11,572 \$7,227 \$7,201 \$10,211 \$8,451 \$10,302 \$12,754 N/A N/A N/A \$20,863 N/A N/A N/A \$4,092 \$10,505 \$14,972 \$18,825	Risk Adjusted Average Charge Ratio  \$10,109 \$13,808 \$15,822 0.87 \$9,574 \$10,143 \$15,634 0.65 \$7,517 \$8,895 \$15,430 0.58 \$10,426 \$13,539 \$15,904 0.85 \$5,562 \$6,171 \$10,785 0.57 N/A N/A N/A \$29,149 * N/A N/A \$33,898 * \$8,518 \$9,086 \$11,572 0.79 \$7,227 \$7,201 \$10,211 0.71 \$8,451 \$10,302 \$12,754 0.81 N/A N/A N/A \$20,863 * N/A N/A N/A \$8,332 * N/A N/A N/A \$4,092 * \$10,505 \$14,972 \$18,825 0.80	Risk Adjusted Average Average Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Rat	Risk Adjusted Average Charge         Analysis Area Average Charge         Inpatient Volume Group Average Charge           \$10,109         \$13,808         \$15,822         0.87         \$19,995         0.69           \$9,574         \$10,143         \$15,634         0.65         \$17,968         0.56           \$7,517         \$8,895         \$15,430         0.58         \$18,011         0.49           \$10,426         \$13,539         \$15,904         0.85         \$16,661         0.81           \$5,562         \$6,171         \$10,785         0.57         \$13,360         0.46           N/A         N/A         \$29,149         *         \$39,123         *           N/A         N/A         \$33,898         *         \$39,600         *           \$8,518         \$9,086         \$11,572         0.79         \$15,690         0.58           \$7,227         \$7,201         \$10,211         0.71         \$12,405         0.58           \$8,451         \$10,302         \$12,754         0.81         \$14,450         0.71           N/A         N/A         \$8,332         *         \$8,631         *           N/A         N/A         \$4,092         *         \$4,326         *	Risk Adjusted Average Charge         Analysis Area Average Charge         Inpatient Volume Group Average Average Charge         All GMS Ho Average Charge         All GMS Ho Average Average Charge         All GMS Ho Average Charge Ratio         Average Charge Charge Ratio         All GMS Ho Average Charge Ratio         Average Charge Charge Charge Charge Ratio         All GMS Ho Average Charge		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

135 Tomah Health 321 Butts Avenue Tomah, WI 54660

608-372-2181

Hospital Type: GMS
County: Monroe

Analysis Area: 5B-Southwestern

Inpatient Volume Group: 3

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,159	Average Length of Stay (days):	2.7	<u>Discharge Status</u>	% Discharges
Total Patient Days:	3,187	Average Charge per Discharge:	\$14,832	Home or Self-Care	83.1%
Total Lation Days.	0,107	Average offarge per bischarge.	Ψ14,002	Other GMS Hospital	3.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	175	Percent of All Childbirths:	71.4%	Skilled Nursing Facility	7.3%
Cesarean Childbirths:	60	Percent of All Childbirths:	24.5%	Intermediate Care Facility	0.2%
Other Childbirths:	10	Percent of All Childbirths:	4.1%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	245		,	Hospice	1.1%
rotal official and	2.0			Other Institution	0.3%
Total Newborns:	203			Home Health Service	0.4%
Payabiatria Utilization				Left Against Medical Advice	0.5%
Psychiatric Utilization				Expired	0.7%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	2.9%
				Expected Pay Source Distrik	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	1	Percent of All Discharges:	0.1%	Medicare	29.8%
Patient Days:	1	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	21.9%
				Other Government	6.2%
				Commercial or Private Insurance	37.7%
				Self-Pay	3.2%
				Other or Unknown Insurance	1.2%

Age Distribution				Sex Distribution	<u>1</u>	Rac	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days		
Newborn	17.5%	12.3%	Male	36.2%	37.7%	Amer.Ind/Alaskan Native	2.4%	2.3%		
Under 15	1.9%	1.6%	Female	63.8%	62.3%	Asian	0.5%	0.3%		
15 - 19	1.9%	1.7%				Black/African Amer.	1.0%	0.6%		
20 - 24	6.8%	5.5%				Native Hawaii/Pac.Isl.	0.1%	0.1%		
25 - 34	14.3%	12.3%				White	95.1%	96.1%		
35 - 44	4.1%	3.4%				Multiracial	0.5%	0.3%		
45 - 54	5.3%	5.4%				Declined	0.2%	0.2%		
55 - 64	11.8%	13.1%				Unavailable	0.2%	0.1%		
65 - 74	14.8%	16.6%								
75 - 84	12.7%	16.5%								
85 & Over	8.9%	11.6%								

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	8	3.6	4.0	0.90	3.2	1.13	4.5	0.80
139 Pneumonia	50	3.7	3.8	0.97	3.3	1.12	4.0	0.93
140 Chronic Obstructive Pulmonary Disease	25	3.4	3.2	1.06	2.9	1.17	3.6	0.94
194 Heart Failure	55	3.9	4.1	0.95	3.4	1.15	4.6	0.85
201 Heart Abnormal Rhythm and Conduction Disorders	17	2.2	2.8	0.79	2.3	0.96	2.8	0.79
247 Intestinal Obstruction without Surgery	13	3.5	3.2	1.09	2.7	1.30	3.5	1.00
301 Hip Replacement	28	2.5	2.3	1.09	2.1	1.19	2.3	1.09
302 Knee Replacement	42	2.4	1.6	1.50	1.9	1.26	2.0	1.20
383 Cellulitis & other skin infections	28	3.3	3.8	0.87	3.6	0.92	4.0	0.83
463 Kidney/Urinary Tract Infection	30	3.5	3.4	1.03	2.9	1.21	3.6	0.97
469 Acute kidney injury	*	*	4.2	*	2.8	*	4.6	*
540 Cesarean Delivery	60	3.1	3.4	0.91	3.0	1.03	3.6	0.86
560 Vaginal Delivery	175	2.1	2.2	0.95	1.9	1.11	2.2	0.95
640 Normal Newborn, Birthweight 2500g+	191	1.9	1.9	1.00	2.0	0.95	2.1	0.90
720 Blood Infection/Septicemia	61	3.2	5.0	0.64	3.6	0.89	5.5	0.58

•	This Facility				Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	-	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$16,283	\$20,298	\$25,589	0.79	\$22,058	0.92	\$36,517	0.56
139 Pneumonia	\$17,609	\$20,238	\$20,184	1.00	\$18,736	1.08	\$26,154	0.77
140 Chronic Obstructive Pulmonary Disease	\$15,825	\$17,721	\$18,595	0.95	\$16,687	1.06	\$23,596	0.75
194 Heart Failure	\$18,279	\$22,260	\$21,845	1.02	\$18,675	1.19	\$29,512	0.75
201 Heart Abnormal Rhythm and Conduction Disorders	\$13,802	\$15,702	\$15,454	1.02	\$13,920	1.13	\$21,125	0.74
247 Intestinal Obstruction without Surgery	\$18,101	\$19,231	\$16,667	1.15	\$13,214	1.46	\$21,879	0.88
301 Hip Replacement	\$43,344	\$43,999	\$38,182	1.15	\$43,894	1.00	\$50,854	0.87
302 Knee Replacement	\$43,785	\$43,539	\$38,036	1.14	\$45,311	0.96	\$48,781	0.89
383 Cellulitis & other skin infections	\$13,599	\$14,689	\$16,743	0.88	\$16,011	0.92	\$21,953	0.67
463 Kidney/Urinary Tract Infection	\$15,296	\$15,521	\$15,072	1.03	\$13,197	1.18	\$22,097	0.70
469 Acute kidney injury	*	*	\$20,575	*	\$14,980	*	\$29,600	*
540 Cesarean Delivery	\$15,985	\$17,151	\$24,286	0.71	\$21,375	0.80	\$24,895	0.69
560 Vaginal Delivery	\$6,639	\$6,610	\$12,860	0.51	\$8,800	0.75	\$12,167	0.54
640 Normal Newborn, Birthweight 2500g+	\$2,679	\$2,772	\$3,905	0.71	\$3,780	0.73	\$4,719	0.59
720 Blood Infection/Septicemia	\$17,894	\$24,557	\$30,102	0.82	\$23,568	1.04	\$44,340	0.55

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 136 Ascension Sacred Heart Hospital

**401 West Mohawk Drive** 

Tomahawk, WI 54487

715-453-7700

Hospital Type: GMS
County: Lincoln

Analysis Area: 6-North Central

Inpatient Volume Group: 1

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	228	Average Length of Stay (days):	3.0	<u>Discharge Status</u>	% Discharges
Total Patient Days:	687	Average Charge per Discharge:	\$12,918	Home or Self-Care	43.9%
Total Fatterit Days.	007	Average Charge per Discharge.	Ψ12,910	Other GMS Hospital	7.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	25.0%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.0%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0		0.070	Hospice	3.9%
Total Crindontile.	ū			Other Institution	0.0%
Total Newborns:	0			Home Health Service	12.3%
Psychiatric Utilization				Left Against Medical Advice	0.4%
F Sychiatric Othization				Expired	4.8%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	2.2%
				<b>Expected Pay Source Distrib</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	9	Percent of All Discharges:	3.9%	Medicare	57.9%
Patient Days:	32	Percent of All Patient Days:	4.7%	Medicaid/BadgerCare	7.0%
				Other Government	2.6%
				Commercial or Private Insurance	31.1%
				Self-Pay	1.3%
				Other or Unknown Insurance	0.0%

	<b>Age Distribution</b>	<u>ibution</u>			<u>1</u>	Rac	Race Distribution		
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	0.0%	0.0%	Male	46.9%	49.5%	Amer.Ind/Alaskan Native	e 0.0%	0.0%	
Under 15	0.0%	0.0%	Female	53.1%	50.5%	Asian	1.8%	1.2%	
15 - 19	0.4%	0.7%				Black/African Amer.	0.0%	0.0%	
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	0.4%	0.1%				White	96.9%	97.5%	
35 - 44	3.9%	2.9%				Multiracial	0.0%	0.0%	
45 - 54	7.0%	6.1%				Declined	0.0%	0.0%	
55 - 64	11.8%	11.4%				Unavailable	1.3%	1.3%	
65 - 74	19.3%	19.7%							
75 - 84	31.6%	31.3%							
85 & Over	25.4%	27.8%							

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	6	2.2	4.1	0.54	2.6	0.85	4.5	0.49		
137 Respiratory Infections and Inflammations	0	N/A	5.8	N/A	3.7	N/A	5.6	N/A		
139 Pneumonia	27	3.6	3.8	0.95	3.3	1.09	4.0	0.90		
140 Chronic Obstructive Pulmonary Disease	27	3.1	3.4	0.91	3.2	0.97	3.6	0.86		
194 Heart Failure	16	2.7	4.2	0.64	3.3	0.82	4.6	0.59		
201 Heart Abnormal Rhythm and Conduction Disorders	*	*	2.6	*	2.5	*	2.8	*		
247 Intestinal Obstruction without Surgery	8	2.1	3.5	0.60	2.3	0.91	3.5	0.60		
282 Disorders of Pancreas Except Malignancy	*	*	3.6	*	2.7	*	4.0	*		
302 Knee Replacement	0	N/A	1.7	N/A	2.4	N/A	2.0	N/A		
383 Cellulitis & other skin infections	10	2.8	3.6	0.78	3.8	0.74	4.0	0.70		
463 Kidney/Urinary Tract Infection	14	3.1	3.4	0.91	3.3	0.94	3.6	0.86		
469 Acute kidney injury	*	*	4.1	*	3.2	*	4.6	*		
720 Blood Infection/Septicemia	13	2.8	5.5	0.51	3.6	0.78	5.5	0.51		
861 Signs & Symptoms	*	*	5.6	*	6.3	*	5.0	*		
862 Other Factors Influencing Health Status	*	*	8.9	*	9.1	*	8.7	*		

_	• •	•	•	-	•		
This Fac		Risk Adjusted Group Averages					
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
\$10,268	\$11,863	\$28,209	0.42	\$16,434	0.72	\$36,517	0.32
N/A	N/A	\$32,218	*	\$18,058	*	\$39,518	*
\$16,054	\$16,584	\$21,418	0.77	\$15,907	1.04	\$26,154	0.63
\$12,351	\$14,772	\$20,180	0.73	\$15,423	0.96	\$23,596	0.63
\$11,246	\$13,971	\$23,893	0.58	\$15,151	0.92	\$29,512	0.47
*	*	\$17,528	*	\$12,073	*	\$21,125	*
\$10,715	\$11,021	\$19,263	0.57	\$10,681	1.03	\$21,879	0.50
*	*	\$20,756	*	\$15,867	*	\$28,992	*
N/A	N/A	\$42,608	*	\$47,739	*	\$48,781	*
\$13,608	\$16,960	\$18,077	0.94	\$14,904	1.14	\$21,953	0.77
\$10,663	\$11,354	\$18,556	0.61	\$12,446	0.91	\$22,097	0.51
*	*	\$24,143	*	\$13,028	*	\$29,600	*
\$16,394	\$20,966	\$34,953	0.60	\$18,335	1.14	\$44,340	0.47
*	*	\$24,533	*	\$15,939	*	\$28,329	*
*	*	\$31,087	*	\$24,133	*	\$31,132	*
	Average Charge \$10,268 N/A \$16,054 \$12,351 \$11,246 * \$10,715 * N/A \$13,608 \$10,663	Adjusted Average Charge Charge S10,268 \$11,863 N/A N/A \$16,054 \$16,584 \$12,351 \$14,772 \$11,246 \$13,971 ***  N/A N/A N/A \$13,608 \$16,960 \$10,663 \$11,354 **  \$16,394 \$20,966	Risk Adjusted Average Charge C	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Charge Charge Ratio  \$10,268 \$11,863 \$28,209 0.42   N/A N/A \$32,218 * \$16,054 \$16,584 \$21,418 0.77   \$12,351 \$14,772 \$20,180 0.73   \$11,246 \$13,971 \$23,893 0.58   * * * \$17,528 *   \$10,715 \$11,021 \$19,263 0.57   * * * \$20,756 *   N/A N/A \$42,608 *   \$13,608 \$16,960 \$18,077 0.94   \$10,663 \$11,354 \$18,556 0.61   * * * \$24,143 *   \$16,394 \$20,966 \$34,953 0.60   * * \$24,533 *	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Charge Charge Charge Ratio Charge Ratio Charge S10,268 \$11,863 \$28,209 0.42 \$16,434 \$18,058 \$16,054 \$16,584 \$21,418 0.77 \$15,907 \$12,351 \$14,772 \$20,180 0.73 \$15,423 \$11,246 \$13,971 \$23,893 0.58 \$15,151 \$17,528 \$11,021 \$19,263 0.57 \$10,681 \$17,528 \$11,021 \$19,263 0.57 \$10,681 \$13,071 \$13,608 \$16,960 \$18,077 0.94 \$14,904 \$10,663 \$11,354 \$18,556 0.61 \$12,446 \$13,028 \$16,394 \$20,966 \$34,953 0.60 \$18,335 \$15,939	Risk Adjusted Average Charge Charge Charge Ratio  \$10,268 \$11,863 \$28,209 0.42 \$16,434 0.72 N/A N/A \$32,218 * \$18,058 * \$116,054 \$16,584 \$21,418 0.77 \$15,907 1.04 \$12,351 \$14,772 \$20,180 0.73 \$15,423 0.96 \$11,246 \$13,971 \$23,893 0.58 \$15,151 0.92 * \$17,528 * \$12,073 * \$10,715 \$11,021 \$19,263 0.57 \$10,681 1.03 * \$20,756 * \$15,867 * \$13,608 \$16,960 \$18,077 0.94 \$14,904 1.14 \$10,663 \$11,354 \$18,556 0.61 \$12,446 0.91 * \$24,143 * \$13,028 * \$16,394 \$20,966 \$34,953 0.60 \$18,335 1.14 * \$24,533 * \$15,939 *	Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Rat

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

# 137 Aurora Medical Center of Manitowoc County

**5000 Memorial Drive** 

Two Rivers, WI 54241

920-794-5000

Hospital Type: GMS

County: Manitowoc

Analysis Area: 4-Northeastern

Inpatient Volume Group: 4

Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	2,411	Average Length of Stay (days):	2.5	Discharge Status	% Discharges
Total Patient Days:	6,127	Average Charge per Discharge:	\$21,318	Home or Self-Care	62.0%
Total Lattern Bays.	0,127	Average charge per bischarge.	Ψ21,010	Other GMS Hospital	6.1%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	240	Percent of All Childbirths:	62.2%	Skilled Nursing Facility	14.5%
Cesarean Childbirths:	118	Percent of All Childbirths:	30.6%	Intermediate Care Facility	1.9%
Other Childbirths:	28	Percent of All Childbirths:	7.3%	Inpatient Rehabilitation Facility	0.2%
Total Childbirths:	386			Hospice	1.7%
				Other Institution	0.2%
Total Newborns:	389			Home Health Service	11.9%
Psychiatric Utilization				Left Against Medical Advice	0.7%
1 Sychiatric Othization				Expired	0.3%
Discharges:	2	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	6	Percent of All Patient Days:	0.1%	Other	0.4%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	32	Percent of All Discharges:	1.3%	Medicare	44.1%
Patient Days:	105	Percent of All Patient Days:	1.7%	Medicaid/BadgerCare	17.6%
				Other Government	1.4%
				Commercial or Private Insurance	33.9%
				Self-Pay	2.8%
				Other or Unknown Insurance	0.2%

	Age Distribution Sex Distribution Race Distribution							
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	16.1%	11.1%	Male	41.6%	45.5%	Amer.Ind/Alaskan Native	0.6%	0.5%
Under 15	0.6%	0.5%	Female	58.4%	54.5%	Asian	2.7%	2.0%
15 - 19	1.1%	0.9%				Black/African Amer.	2.0%	1.7%
20 - 24	4.1%	3.2%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	13.0%	10.3%				White	93.2%	94.7%
35 - 44	6.3%	5.8%				Multiracial	1.2%	0.8%
45 - 54	7.8%	8.7%				Declined	0.3%	0.2%
55 - 64	13.2%	15.5%				Unavailable	0.1%	0 %
65 - 74	14.5%	16.7%						
75 - 84	13.6%	15.5%						
85 & Over	9.6%	11.8%						

	This Facil	ity	Group Averages							
			Analys	sis Area	Inpatient Volume Group		All GMS Hospitals			
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio		
133 Respiratory failure	32	2.4	4.2	0.57	3.6	0.67	4.5	0.53		
139 Pneumonia	67	2.8	3.7	0.76	3.5	0.80	4.0	0.70		
140 Chronic Obstructive Pulmonary Disease	41	2.5	3.5	0.71	3.2	0.78	3.6	0.69		
194 Heart Failure	107	3.0	4.1	0.73	3.6	0.83	4.6	0.65		
201 Heart Abnormal Rhythm and Conduction Disorders	34	2.4	2.6	0.92	2.5	0.96	2.8	0.86		
301 Hip Replacement	96	1.8	1.8	1.00	1.9	0.95	2.3	0.78		
302 Knee Replacement	30	1.5	1.9	0.79	1.7	0.88	2.0	0.75		
383 Cellulitis & other skin infections	39	3.1	3.6	0.86	3.5	0.89	4.0	0.78		
463 Kidney/Urinary Tract Infection	36	2.5	3.0	0.83	3.1	0.81	3.6	0.69		
469 Acute kidney injury	37	3.6	4.2	0.86	3.3	1.09	4.6	0.78		
540 Cesarean Delivery	118	2.4	3.5	0.69	2.9	0.83	3.6	0.67		
560 Vaginal Delivery	240	1.8	2.0	0.90	2.0	0.90	2.2	0.82		
640 Normal Newborn, Birthweight 2500g+	355	1.7	2.0	0.85	1.9	0.89	2.1	0.81		
720 Blood Infection/Septicemia	218	3.6	4.9	0.73	4.2	0.86	5.5	0.65		
775 Alcohol Abuse/Dependence	27	3.5	3.4	1.03	3.7	0.95	3.7	0.95		

<u> </u>	This Fac	:::4						
	This Fac	-			RISK Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$20,360	\$20,360	\$30,641	0.66	\$31,273	0.65	\$36,517	0.56
139 Pneumonia	\$18,369	\$17,127	\$22,549	0.76	\$23,233	0.74	\$26,154	0.65
140 Chronic Obstructive Pulmonary Disease	\$16,354	\$15,371	\$21,356	0.72	\$21,959	0.70	\$23,596	0.65
194 Heart Failure	\$18,760	\$17,894	\$23,636	0.76	\$25,091	0.71	\$29,512	0.61
201 Heart Abnormal Rhythm and Conduction Disorders	\$15,514	\$15,268	\$19,122	0.80	\$19,443	0.79	\$21,125	0.72
301 Hip Replacement	\$49,061	\$48,593	\$42,625	1.14	\$45,617	1.07	\$50,854	0.96
302 Knee Replacement	\$76,744	\$72,050	\$49,816	1.45	\$43,239	1.67	\$48,781	1.48
383 Cellulitis & other skin infections	\$17,138	\$17,661	\$17,982	0.98	\$19,644	0.90	\$21,953	0.80
463 Kidney/Urinary Tract Infection	\$16,860	\$14,513	\$17,446	0.83	\$19,748	0.73	\$22,097	0.66
469 Acute kidney injury	\$21,369	\$20,707	\$24,682	0.84	\$23,728	0.87	\$29,600	0.70
540 Cesarean Delivery	\$22,153	\$23,035	\$21,046	1.09	\$24,480	0.94	\$24,895	0.93
560 Vaginal Delivery	\$11,284	\$11,414	\$9,723	1.17	\$11,116	1.03	\$12,167	0.94
640 Normal Newborn, Birthweight 2500g+	\$3,895	\$3,693	\$4,395	0.84	\$4,155	0.89	\$4,719	0.78
720 Blood Infection/Septicemia	\$23,438	\$26,087	\$36,072	0.72	\$33,720	0.77	\$44,340	0.59
775 Alcohol Abuse/Dependence	\$23,262	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

138 Vernon Memorial Healthcare

507 S Main Street

Viroqua, WI 54665

Analysis Area: 5B-Southwestern Inpatient Volume Group: 4

Hospital Type: GMS

County: Vernon

608-637-2101

85 & Over

14.9%

23.6%

Overall Hospital Utilization				Patient Discharge Statu	<u>IS</u>
Total Discharges:	1,486	Average Length of Stay (days):	2.3	<u>Discharge Status</u>	% Discharges
Total Patient Days:	3,405	Average Charge per Discharge:	\$23,162	Home or Self-Care	78.8%
Total Latient Days.	3,403	Average Charge per Discharge.	Ψ25, 102	Other GMS Hospital	2.7%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.1%
Normal Childbirths:	99	Percent of All Childbirths:	69.2%	Skilled Nursing Facility	12.8%
Cesarean Childbirths:	35	Percent of All Childbirths:	24.5%	Intermediate Care Facility	0.0%
Other Childbirths:	9	Percent of All Childbirths:	6.3%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	143	r creent of All Officialities.	0.570	Hospice	1.0%
Total Childbirths.	143			Other Institution	0.1%
Total Newborns:	141			Home Health Service	1.1%
B. H. Heller				Left Against Medical Advice	0.1%
Psychiatric Utilization				Expired	0.7%
Discharges:	1	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	1	Percent of All Patient Days:	0.0%	Other	2.7%
				<b>Expected Pay Source Distrib</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	0	Percent of All Discharges:	0.0%	Medicare	57.7%
Patient Days:	0	Percent of All Patient Days:	0.0%	Medicaid/BadgerCare	9.3%
				Other Government	1.4%
				Commercial or Private Insurance	27.1%
				Self-Pay	4.6%
				Other or Unknown Insurance	0.0%

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	9.5%	8.3%	Male	42.0%	41.4%	Amer.Ind/Alaskan Native	0.1%	0.0%	
Under 15	0.3%	0.3%	Female	58.0%	58.6%	Asian	0.1%	0.1%	
15 - 19	0.4%	0.4%				Black/African Amer.	0.2%	0.1%	
20 - 24	2.2%	2.1%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	6.9%	6.1%				White	99.6%	99.7%	
35 - 44	3.6%	2.8%				Multiracial	0.1%	0.1%	
45 - 54	3.8%	3.3%				Declined	0.0%	0.0%	
55 - 64	16.8%	13.5%				Unavailable	0 %	0 %	
65 - 74	26.0%	21.9%							
75 - 84	15.7%	17.7%							

	This Facil	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS H	<u>ospitals</u>
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	17	3.1	4.0	0.78	3.6	0.86	4.5	0.69
139 Pneumonia	84	3.4	3.8	0.89	3.5	0.97	4.0	0.85
140 Chronic Obstructive Pulmonary Disease	28	4.0	3.2	1.25	3.2	1.25	3.6	1.11
194 Heart Failure	51	3.6	4.1	0.88	3.6	1.00	4.6	0.78
201 Heart Abnormal Rhythm and Conduction Disorders	17	2.9	2.8	1.04	2.5	1.16	2.8	1.04
301 Hip Replacement	142	1.3	2.3	0.57	1.9	0.68	2.3	0.57
302 Knee Replacement	402	1.2	1.6	0.75	1.7	0.71	2.0	0.60
383 Cellulitis & other skin infections	30	3.5	3.8	0.92	3.5	1.00	4.0	0.88
463 Kidney/Urinary Tract Infection	44	3.1	3.4	0.91	3.1	1.00	3.6	0.86
469 Acute kidney injury	14	3.6	4.2	0.86	3.3	1.09	4.6	0.78
540 Cesarean Delivery	35	2.7	3.4	0.79	2.9	0.93	3.6	0.75
560 Vaginal Delivery	99	1.8	2.2	0.82	2.0	0.90	2.2	0.82
640 Normal Newborn, Birthweight 2500g+	133	1.9	1.9	1.00	1.9	1.00	2.1	0.90
720 Blood Infection/Septicemia	16	3.6	5.0	0.72	4.2	0.86	5.5	0.65
775 Alcohol Abuse/Dependence	0	N/A	3.2	N/A	3.7	N/A	3.7	N/A

_	• •	•	•	-	•		
This Fac	ility			Risk Adjusted	Group Averages		
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	<u>Inpatient V</u> Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
\$14,604	\$19,378	\$25,589	0.76	\$31,273	0.62	\$36,517	0.53
\$14,101	\$17,635	\$20,184	0.87	\$23,233	0.76	\$26,154	0.67
\$18,312	\$22,345	\$18,595	1.20	\$21,959	1.02	\$23,596	0.95
\$14,847	\$20,737	\$21,845	0.95	\$25,091	0.83	\$29,512	0.70
\$11,889	\$13,551	\$15,454	0.88	\$19,443	0.70	\$21,125	0.64
\$43,504	\$46,172	\$38,182	1.21	\$45,617	1.01	\$50,854	0.91
\$40,235	\$43,039	\$38,036	1.13	\$43,239	1.00	\$48,781	0.88
\$12,326	\$14,243	\$16,743	0.85	\$19,644	0.73	\$21,953	0.65
\$9,949	\$11,687	\$15,072	0.78	\$19,748	0.59	\$22,097	0.53
\$12,955	\$17,172	\$20,575	0.83	\$23,728	0.72	\$29,600	0.58
\$28,209	\$28,882	\$24,286	1.19	\$24,480	1.18	\$24,895	1.16
\$10,968	\$10,996	\$12,860	0.86	\$11,116	0.99	\$12,167	0.90
\$3,121	\$3,397	\$3,905	0.87	\$4,155	0.82	\$4,719	0.72
\$13,847	\$20,288	\$30,102	0.67	\$33,720	0.60	\$44,340	0.46
N/A	#	#	*	#	*	#	*
	Average Charge \$14,604 \$14,101 \$18,312 \$14,847 \$11,889 \$43,504 \$40,235 \$12,326 \$9,949 \$12,955 \$28,209 \$10,968 \$3,121 \$13,847	Adjusted Average Charge Charge Charge Charge Charge  \$14,604 \$19,378 \$14,101 \$17,635 \$18,312 \$22,345 \$14,847 \$20,737 \$11,889 \$13,551 \$43,504 \$46,172 \$40,235 \$43,039 \$12,326 \$14,243 \$9,949 \$11,687 \$12,955 \$17,172 \$28,209 \$28,882 \$10,968 \$10,996 \$3,121 \$3,397 \$13,847 \$20,288	Risk Adjusted Average Charge S14,604 \$19,378 \$25,589 \$14,101 \$17,635 \$20,184 \$18,312 \$22,345 \$18,595 \$14,847 \$20,737 \$21,845 \$11,889 \$13,551 \$15,454 \$43,504 \$46,172 \$38,182 \$40,235 \$43,039 \$38,036 \$12,326 \$14,243 \$16,743 \$9,949 \$11,687 \$15,072 \$12,955 \$17,172 \$20,575 \$28,209 \$28,882 \$24,286 \$10,968 \$10,996 \$12,860 \$3,121 \$3,397 \$3,905 \$13,847 \$20,288 \$30,102	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Charge Ratio  \$14,604 \$19,378 \$25,589 0.76 \$14,101 \$17,635 \$20,184 0.87 \$18,312 \$22,345 \$18,595 1.20 \$14,847 \$20,737 \$21,845 0.95 \$11,889 \$13,551 \$15,454 0.88 \$43,504 \$46,172 \$38,182 1.21 \$40,235 \$43,039 \$38,036 1.13 \$12,326 \$14,243 \$16,743 0.85 \$9,949 \$11,687 \$15,072 0.78 \$12,955 \$17,172 \$20,575 0.83 \$28,209 \$28,882 \$24,286 1.19 \$10,968 \$10,996 \$12,860 0.86 \$3,121 \$3,397 \$3,905 0.87 \$13,847 \$20,288 \$30,102 0.67	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio	Risk Adjusted Average Charge         Average Charge         Average Charge         Average Charge         Inpatient Volume Group Average Charge           \$14,604         \$19,378         \$25,589         0.76         \$31,273         0.62           \$14,101         \$17,635         \$20,184         0.87         \$23,233         0.76           \$18,312         \$22,345         \$18,595         1.20         \$21,959         1.02           \$14,847         \$20,737         \$21,845         0.95         \$25,091         0.83           \$11,889         \$13,551         \$15,454         0.88         \$19,443         0.70           \$43,504         \$46,172         \$38,182         1.21         \$45,617         1.01           \$40,235         \$43,039         \$38,036         1.13         \$43,239         1.00           \$12,326         \$14,243         \$16,743         0.85         \$19,644         0.73           \$9,949         \$11,687         \$15,072         0.78         \$19,748         0.59           \$12,955         \$17,172         \$20,575         0.83         \$23,728         0.72           \$28,209         \$28,882         \$24,286         1.19         \$24,480         1.18           \$10,968	Risk Adjusted Average Charge         Average Charge         Average Charge         Average Charge Charge         Ratio         Inpatient Volume Group Average Charge Ratio         All GMS Howard Ratio Charge Ratio Charge Charge Charge Ratio         All GMS Howard Ratio Charge Ratio Charge Ratio         All GMS Howard Ratio Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio         All GMS Howard Ratio Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 139 Watertown Regional Medical Center

125 Hospital Drive

Watertown, WI 53098

920-261-4210

85 & Over

14.7%

15.7%

Hospital Type: GMS County: Dodge

Inpatient Volume Group: 4

Analysis Area: 1-Southern

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	2,358	Average Length of Stay (days):	3.8	Discharge Status	% Discharges
Total Patient Days:	9,069	Average Charge per Discharge:	\$27,729	Home or Self-Care	61.7%
Total Fationt Bays.	3,003	Average charge per bischarge.	ΨΖΙ,1ΖΟ	Other GMS Hospital	3.9%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	125	Percent of All Childbirths:	67.9%	Skilled Nursing Facility	15.2%
Cesarean Childbirths:	47	Percent of All Childbirths:	25.5%	Intermediate Care Facility	8.6%
Other Childbirths:	12	Percent of All Childbirths:	6.5%	Inpatient Rehabilitation Facility	0.4%
Total Childbirths:	184			Hospice	2.6%
				Other Institution	0.1%
Total Newborns:	178			Home Health Service	3.3%
Psychiatric Utilization				Left Against Medical Advice	0.5%
r sychiatric othization				Expired	1.1%
Discharges:	108	Percent of All Discharges:	4.6%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	1,570	Percent of All Patient Days:	17.3%	Other	2.6%
				<b>Expected Pay Source Distrik</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	53	Percent of All Discharges:	2.2%	Medicare	60.8%
Patient Days:	147	Percent of All Patient Days:	1.6%	Medicaid/BadgerCare	12.3%
				Other Government	2.6%
				Commercial or Private Insurance	23.3%
				Self-Pay	1.0%
				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	Race Distribution		
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days	
Newborn	7.5%	4.4%	Male	42.5%	40.9%	Amer.Ind/Alaskan Native	e 1.7%	1.3%	
Under 15	0.2%	0.1%	Female	57.5%	59.1%	Asian	0.3%	0.2%	
15 - 19	0.8%	0.5%				Black/African Amer.	1.3%	0.8%	
20 - 24	1.9%	1.1%				Native Hawaii/Pac.Isl.	0.1%	0.1%	
25 - 34	7.6%	5.1%				White	95.8%	96.9%	
35 - 44	3.7%	2.4%				Multiracial	0.0%	0.0%	
45 - 54	7.2%	5.2%				Declined	0.7%	0.7%	
55 - 64	13.7%	12.9%				Unavailable	0 %	0 %	
65 - 74	20.1%	25.4%							
75 - 84	22.6%	27.2%							

	This Facil	ity Group Averages							
			Analys	is Area	Inpatient V	olume Group	All GMS Hospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	32	4.0	4.1	0.98	3.6	1.11	4.5	0.89	
139 Pneumonia	81	3.5	3.7	0.95	3.5	1.00	4.0	0.88	
140 Chronic Obstructive Pulmonary Disease	69	2.7	3.6	0.75	3.2	0.84	3.6	0.75	
194 Heart Failure	127	2.9	4.5	0.64	3.6	0.81	4.6	0.63	
201 Heart Abnormal Rhythm and Conduction Disorders	70	2.2	2.8	0.79	2.5	0.88	2.8	0.79	
301 Hip Replacement	131	2.2	2.2	1.00	1.9	1.16	2.3	0.96	
302 Knee Replacement	38	2.6	2.0	1.30	1.7	1.53	2.0	1.30	
383 Cellulitis & other skin infections	49	3.1	4.0	0.78	3.5	0.89	4.0	0.78	
463 Kidney/Urinary Tract Infection	61	3.0	3.4	0.88	3.1	0.97	3.6	0.83	
469 Acute kidney injury	36	2.3	4.3	0.53	3.3	0.70	4.6	0.50	
540 Cesarean Delivery	47	3.3	3.9	0.85	2.9	1.14	3.6	0.92	
560 Vaginal Delivery	125	2.3	2.3	1.00	2.0	1.15	2.2	1.05	
640 Normal Newborn, Birthweight 2500g+	173	2.1	2.1	1.00	1.9	1.11	2.1	1.00	
720 Blood Infection/Septicemia	116	4.1	5.5	0.75	4.2	0.98	5.5	0.75	
775 Alcohol Abuse/Dependence	42	2.9	3.4	0.85	3.7	0.78	3.7	0.78	

· · · · · · · · · · · · · · · · · · ·				•				
	This Fac	-			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$37,063	\$31,349	\$42,179	0.74	\$31,273	1.00	\$36,517	0.86
139 Pneumonia	\$25,280	\$26,606	\$28,774	0.92	\$23,233	1.15	\$26,154	1.02
140 Chronic Obstructive Pulmonary Disease	\$21,563	\$25,533	\$28,251	0.90	\$21,959	1.16	\$23,596	1.08
194 Heart Failure	\$19,394	\$23,764	\$33,598	0.71	\$25,091	0.95	\$29,512	0.81
201 Heart Abnormal Rhythm and Conduction Disorders	\$18,111	\$18,207	\$23,719	0.77	\$19,443	0.94	\$21,125	0.86
301 Hip Replacement	\$62,188	\$62,219	\$49,942	1.25	\$45,617	1.36	\$50,854	1.22
302 Knee Replacement	\$59,726	\$57,578	\$43,613	1.32	\$43,239	1.33	\$48,781	1.18
383 Cellulitis & other skin infections	\$18,955	\$19,103	\$24,297	0.79	\$19,644	0.97	\$21,953	0.87
463 Kidney/Urinary Tract Infection	\$19,752	\$19,126	\$24,396	0.78	\$19,748	0.97	\$22,097	0.87
469 Acute kidney injury	\$15,936	\$17,957	\$32,366	0.55	\$23,728	0.76	\$29,600	0.61
540 Cesarean Delivery	\$30,022	\$32,298	\$28,792	1.12	\$24,480	1.32	\$24,895	1.30
560 Vaginal Delivery	\$16,386	\$16,143	\$13,875	1.16	\$11,116	1.45	\$12,167	1.33
640 Normal Newborn, Birthweight 2500g+	\$4,946	\$5,053	\$5,441	0.93	\$4,155	1.22	\$4,719	1.07
720 Blood Infection/Septicemia	\$33,509	\$37,519	\$52,049	0.72	\$33,720	1.11	\$44,340	0.85
775 Alcohol Abuse/Dependence	\$16,801	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

### 141 ProHealth Waukesha Memorial Hospital

725 American Avenue

Waukesha, WI 53188

Hospital Type: GMS

County: Waukesha

Analysis Area: 2A-Southeastern

262-928-1000				Inpatient Volume Group: 6	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	14,746	Average Length of Stay (days):	3.9	<u>Discharge Status</u>	% Discharges
Total Patient Days:	57,012	Average Charge per Discharge:	\$41,424	Home or Self-Care Other GMS Hospital	70.8% 0.5%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization  Discharges: Patient Days:	1,139 443 76 1,658 1,676 497 2,904	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges: Percent of All Patient Days:	68.7% 26.7% 4.6% 3.4% 5.1%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt Other	9.4% 0.8% 3.7% 2.5% 0.0% 9.0% 0.5% 1.6% 0.1%
i diicht Days.	2,304	r crock of All Patient Bays.	5.170	Expected Pay Source Distril	
AODA Utilization				Primary Payer	% Discharges
Discharges:	238	Percent of All Discharges:	1.6%	Medicare	51.1%
Patient Days:	648	Percent of All Patient Days:	1.1%	Medicaid/BadgerCare	11.0%
				Other Government	0.4%
				Commercial or Private Insurance	34.4%
				Self-Pay	1.6%
				Other or Unknown Insurance	1.4%

Age Distribution			Sex Distribution	<u>1</u>	Rac	Race Distribution		
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	11.4%	10.5%	Male	42.5%	45.3%	Amer.Ind/Alaskan Native	0.2%	0.1%
Under 15	0.2%	0.1%	Female	57.5%	54.7%	Asian	1.3%	1.1%
15 - 19	0.7%	0.6%				Black/African Amer.	1.8%	1.8%
20 - 24	2.2%	1.7%				Native Hawaii/Pac.Isl.	0.1%	0.1%
25 - 34	11.3%	8.6%				White	95.3%	95.8%
35 - 44	6.4%	5.1%				Multiracial	0.2%	0.2%
45 - 54	6.8%	7.0%				Declined	0.3%	0.3%
55 - 64	13.4%	15.0%				Unavailable	0.8%	0.6%
65 - 74	18.4%	19.8%						
75 - 84	17.1%	18.7%						
85 & Over	12.1%	12.8%						

	This Facil	ity	Group Averages						
			Analysis Area		Inpatient Volume Group		All GMS Hospitals		
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
045 Stroke and Precerebral Occlusion with Infarct	188	3.0	3.6	0.83	4.6	0.65	4.2	0.71	
133 Respiratory failure	113	4.8	4.8	1.00	4.9	0.98	4.5	1.07	
139 Pneumonia	299	4.1	4.5	0.91	4.2	0.98	4.0	1.03	
174 Percutaneous coronary intervention w AMI	157	2.8	2.9	0.97	3.0	0.93	3.0	0.93	
175 Percutaneous coronary intervention w/o AMI	189	2.3	2.8	0.82	3.1	0.74	3.1	0.74	
194 Heart Failure	614	4.4	4.6	0.96	5.0	0.88	4.6	0.96	
201 Heart Abnormal Rhythm and Conduction Disorders	458	2.7	2.9	0.93	2.9	0.93	2.8	0.96	
301 Hip Replacement	175	2.6	2.1	1.24	2.5	1.04	2.3	1.13	
302 Knee Replacement	80	1.8	2.0	0.90	2.1	0.86	2.0	0.90	
469 Acute kidney injury	193	4.5	4.5	1.00	5.2	0.87	4.6	0.98	
540 Cesarean Delivery	443	3.8	3.3	1.15	4.0	0.95	3.6	1.06	
560 Vaginal Delivery	1,139	2.3	2.2	1.05	2.3	1.00	2.2	1.05	
640 Normal Newborn, Birthweight 2500g+	1,504	2.3	2.1	1.10	2.2	1.05	2.1	1.10	
720 Blood Infection/Septicemia	1,065	4.9	5.3	0.92	6.1	0.80	5.5	0.89	
751 Psychoses	302	5.9	5.6	1.05	5.1	1.16	5.1	1.16	

	•	_	• •	•	•	-	•				
		This Fac	ility	Risk Adjusted Group Averages							
APR-DRG # and Description		Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	<u>'olume Group</u> Ratio	All GMS Ho Average Charge	ospitals Ratio		
045 Stroke and Precerebral Occlusion	with Infarct	\$38,564	\$41,414	\$39,923	1.04	\$43,048	0.96	\$39,987	1.04		
133 Respiratory failure		\$42,592	\$43,857	\$37,003	1.19	\$39,891	1.10	\$36,517	1.20		
139 Pneumonia		\$31,182	\$33,284	\$30,437	1.09	\$29,201	1.14	\$26,154	1.27		
174 Percutaneous coronary intervention	on w AMI	\$72,269	\$75,305	\$73,777	1.02	\$73,358	1.03	\$73,175	1.03		
175 Percutaneous coronary intervention	on w/o AMI	\$113,312	\$127,104	\$104,641	1.21	\$109,236	1.16	\$106,404	1.19		
194 Heart Failure		\$31,885	\$33,686	\$30,999	1.09	\$32,710	1.03	\$29,512	1.14		
201 Heart Abnormal Rhythm and Con-	duction Disorders	\$21,908	\$24,275	\$23,194	1.05	\$22,164	1.10	\$21,125	1.15		
301 Hip Replacement		\$75,525	\$75,218	\$61,253	1.23	\$53,491	1.41	\$50,854	1.48		
302 Knee Replacement		\$80,294	\$78,296	\$60,209	1.30	\$52,844	1.48	\$48,781	1.61		
469 Acute kidney injury		\$33,965	\$35,040	\$30,548	1.15	\$33,062	1.06	\$29,600	1.18		
540 Cesarean Delivery		\$33,373	\$33,672	\$26,513	1.27	\$25,062	1.34	\$24,895	1.35		
560 Vaginal Delivery		\$17,831	\$18,160	\$14,321	1.27	\$12,661	1.43	\$12,167	1.49		
640 Normal Newborn, Birthweight 250	0g+	\$6,055	\$6,007	\$4,851	1.24	\$5,036	1.19	\$4,719	1.27		
720 Blood Infection/Septicemia		\$43,471	\$48,984	\$44,089	1.11	\$50,089	0.98	\$44,340	1.10		
751 Psychoses		\$21,076	#	#	#	#	#	#	#		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

## 142 ThedaCare Medical Center - Waupaca

800 Riverside Drive

County: Waupaca Analysis Area: 3-Lake Winnebago Waupaca, WI 54981

715-258-1000 Inpatient Volume Group: 3

Overall Hospital Utilization			Patient Discharge Statu	<u>s</u>
Total Discharges: 1,036	Average Length of Stay (days):	2.4	<u>Discharge Status</u>	% Discharges
Total Patient Days: 2,524	Average Charge per Discharge:	\$9,470	Home or Self-Care	62.2%
2,02-	Average charge per bischarge.	ψ5,+10	Other GMS Hospital	8.5%
Obstetrical Utilization			Critical Access Hospital (CAH)	0.0%
Normal Childbirths: 96	Percent of All Childbirths:	73.3%	Skilled Nursing Facility	19.2%
Cesarean Childbirths: 27	Percent of All Childbirths:	20.6%	Intermediate Care Facility	0.8%
Other Childbirths:	Percent of All Childbirths:	6.1%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths: 131	•		Hospice	3.2%
			Other Institution	0.1%
Total Newborns: 130			Home Health Service	3.3%
Psychiatric Utilization			Left Against Medical Advice	0.5%
			Expired	1.0%
Discharges:		0.0%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	Percent of All Patient Days:	0.0%	Other	1.3%
			<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization			Primary Payer	% Discharges
Discharges: 13	Percent of All Discharges:	1.3%	Medicare	57.2%
Patient Days: 23	Percent of All Patient Days:	0.9%	Medicaid/BadgerCare	12.7%
			Other Government	3.2%
			Commercial or Private Insurance	24.0%
			Self-Pay	2.5%
			Other or Unknown Insurance	0.3%

Hospital Type: GMS

Age Distribution				Sex Distribution	<u>1</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	12.5%	10.1%	Male	47.8%	48.1%	Amer.Ind/Alaskan Native	e 0.5%	0.4%	
Under 15	0.0%	0.0%	Female	52.2%	51.9%	Asian	0.2%	0.3%	
15 - 19	1.6%	1.1%				Black/African Amer.	0.6%	0.7%	
20 - 24	3.1%	2.9%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	9.8%	8.2%				White	95.0%	95.6%	
35 - 44	4.0%	3.2%				Multiracial	0.1%	0.1%	
45 - 54	3.8%	3.8%				Declined	0.0%	0.0%	
55 - 64	10.1%	9.9%				Unavailable	3.7%	3.0%	
65 - 74	19.1%	19.4%							
75 - 84	18.7%	21.6%							
85 & Over	17.2%	19.7%							

	This Fac	ility	Group Averages						
				Analysis Area		olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	35	3.5	4.0	0.88	3.2	1.09	4.5	0.78	
139 Pneumonia	50	2.9	3.5	0.83	3.3	0.88	4.0	0.73	
140 Chronic Obstructive Pulmonary Disease	23	2.3	2.9	0.79	2.9	0.79	3.6	0.64	
194 Heart Failure	75	2.7	3.8	0.71	3.4	0.79	4.6	0.59	
201 Heart Abnormal Rhythm and Conduction	Disorders 24	2.3	2.7	0.85	2.3	1.00	2.8	0.82	
247 Intestinal Obstruction without Surgery	24	2.3	3.2	0.72	2.7	0.85	3.5	0.66	
301 Hip Replacement	*	*	2.2	*	2.1	*	2.3	*	
302 Knee Replacement	*	*	1.8	*	1.9	*	2.0	*	
383 Cellulitis & other skin infections	27	2.9	3.6	0.81	3.6	0.81	4.0	0.73	
463 Kidney/Urinary Tract Infection	31	2.2	2.9	0.76	2.9	0.76	3.6	0.61	
469 Acute kidney injury	28	2.4	4.0	0.60	2.8	0.86	4.6	0.52	
540 Cesarean Delivery	27	3.1	3.2	0.97	3.0	1.03	3.6	0.86	
560 Vaginal Delivery	96	1.9	2.0	0.95	1.9	1.00	2.2	0.86	
640 Normal Newborn, Birthweight 2500g+	125	2.0	2.2	0.91	2.0	1.00	2.1	0.95	
720 Blood Infection/Septicemia	108	3.0	4.9	0.61	3.6	0.83	5.5	0.55	

	Pick Adjusted Group Averages								
	This Fac	-	Risk Adjusted Group Averages						
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
133 Respiratory failure	\$15,621	\$21,400	\$24,316	0.88	\$22,058	0.97	\$36,517	0.59	
139 Pneumonia	\$10,464	\$11,305	\$17,991	0.63	\$18,736	0.60	\$26,154	0.43	
140 Chronic Obstructive Pulmonary Disease	\$8,557	\$9,394	\$16,011	0.59	\$16,687	0.56	\$23,596	0.40	
194 Heart Failure	\$11,220	\$11,959	\$17,633	0.68	\$18,675	0.64	\$29,512	0.41	
201 Heart Abnormal Rhythm and Conduction Disorders	\$10,317	\$11,261	\$15,459	0.73	\$13,920	0.81	\$21,125	0.53	
247 Intestinal Obstruction without Surgery	\$8,951	\$10,198	\$13,760	0.74	\$13,214	0.77	\$21,879	0.47	
301 Hip Replacement	*	*	\$38,732	*	\$43,894	*	\$50,854	*	
302 Knee Replacement	*	*	\$35,838	*	\$45,311	*	\$48,781	*	
383 Cellulitis & other skin infections	\$8,971	\$9,744	\$15,311	0.64	\$16,011	0.61	\$21,953	0.44	
463 Kidney/Urinary Tract Infection	\$8,701	\$8,956	\$14,397	0.62	\$13,197	0.68	\$22,097	0.41	
469 Acute kidney injury	\$9,134	\$10,525	\$18,337	0.57	\$14,980	0.70	\$29,600	0.36	
540 Cesarean Delivery	\$14,312	\$14,740	\$14,869	0.99	\$21,375	0.69	\$24,895	0.59	
560 Vaginal Delivery	\$4,700	\$4,904	\$5,768	0.85	\$8,800	0.56	\$12,167	0.40	
640 Normal Newborn, Birthweight 2500g+	\$2,731	\$2,787	\$3,376	0.83	\$3,780	0.74	\$4,719	0.59	
720 Blood Infection/Septicemia	\$12,497	\$14,819	\$27,861	0.53	\$23,568	0.63	\$44,340	0.33	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 143 Waupun Memorial Hospital

620 W Brown Street

**Waupun, WI 53963** 

920-324-5581

85 & Over

10.1%

11.6%

Hospital Type: GMS

Inpatient Volume Group: 3

County: Dodge

Analysis Area: 1-Southern

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>s</u>
Total Discharges:	1,142	Average Length of Stay (days):	2.9	Discharge Status	% Discharges
Total Patient Days:	3,365	Average Charge per Discharge:	\$22,268	Home or Self-Care Other GMS Hospital	66.9% 5.0%
Obstetrical Utilization	407	Descript of All Obildhides.	20.5%	Critical Access Hospital (CAH) Skilled Nursing Facility	0.0% 13.0%
Normal Childbirths:	127	Percent of All Childhirths:	82.5%	Intermediate Care Facility	1.1%
Cesarean Childbirths: Other Childbirths:	26 1	Percent of All Childbirths: Percent of All Childbirths:	16.9% 0.6%	Inpatient Rehabilitation Facility	0.3%
Total Childbirths:	154			Hospice Other Institution	1.1% 0.3%
Total Newborns:	156			Home Health Service	2.5%
Psychiatric Utilization				Left Against Medical Advice Expired	0.3% 0.4%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	8.6%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	0.5%

	Expected Pay Source Dis	tribution_
AODA Utilization	Primary Payer	% Discharges

				<del></del>	
Discharges:	6	Percent of All Discharges:	0.5%	Medicare	38.9%
Patient Days:	16	Percent of All Patient Days:	0.5%	Medicaid/BadgerCare	18.7%
				Other Government	6.2%
				Commercial or Private Insurance	32.7%
				Self-Pay	1.5%
				Other or Unknown Insurance	1.9%

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Race Distribution			
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days	
Newborn	13.7%	10.1%	Male	46.7%	49.3%	Amer.Ind/Alaskan Native	0.2%	0.1%	
Under 15	0.0%	0.0%	Female	53.3%	50.7%	Asian	0.4%	0.2%	
15 - 19	0.5%	0.4%				Black/African Amer.	5.1%	6.9%	
20 - 24	3.9%	3.2%				Native Hawaii/Pac.Isl.	0.0%	0.0%	
25 - 34	12.6%	10.3%				White	94.1%	92.4%	
35 - 44	5.5%	5.2%				Multiracial	0.1%	0.1%	
45 - 54	8.7%	12.7%				Declined	0.1%	0.1%	
55 - 64	15.9%	15.7%				Unavailable	0.1%	0.2%	
65 - 74	15.1%	14.9%							
75 - 84	13.9%	15.9%							

'		This Facili	ity	Group Averages						
				<u>Analysis Area</u>		Inpatient V	olume Group	All GMS H	ospitals	
APR-D	RG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 R	lespiratory failure	*	*	4.1	*	3.2	*	4.5	*	
139 P	neumonia	24	3.8	3.7	1.03	3.3	1.15	4.0	0.95	
140 C	hronic Obstructive Pulmonary Disease	18	2.8	3.6	0.78	2.9	0.97	3.6	0.78	
194 H	leart Failure	34	2.9	4.5	0.64	3.4	0.85	4.6	0.63	
201 H	leart Abnormal Rhythm and Conduction Disorders	13	2.4	2.8	0.86	2.3	1.04	2.8	0.86	
247 In	ntestinal Obstruction without Surgery	7	2.4	3.7	0.65	2.7	0.89	3.5	0.69	
301 H	lip Replacement	65	2.5	2.2	1.14	2.1	1.19	2.3	1.09	
302 K	nee Replacement	119	2.3	2.0	1.15	1.9	1.21	2.0	1.15	
383 C	ellulitis & other skin infections	35	5.7	4.0	1.43	3.6	1.58	4.0	1.43	
463 K	idney/Urinary Tract Infection	12	2.0	3.4	0.59	2.9	0.69	3.6	0.56	
469 A	cute kidney injury	17	2.0	4.3	0.47	2.8	0.71	4.6	0.43	
540 C	esarean Delivery	26	3.6	3.9	0.92	3.0	1.20	3.6	1.00	
560 V	aginal Delivery	127	2.0	2.3	0.87	1.9	1.05	2.2	0.91	
640 N	lormal Newborn, Birthweight 2500g+	149	2.2	2.1	1.05	2.0	1.10	2.1	1.05	
720 B	lood Infection/Septicemia	75	3.9	5.5	0.71	3.6	1.08	5.5	0.71	

_	• •	•	•	-	•		
This Fac	ility			Risk Adjusted	Group Averages	i	
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
*	*	\$42,179	*	\$22,058	*	\$36,517	*
\$19,842	\$21,405	\$28,774	0.74	\$18,736	1.14	\$26,154	0.82
\$18,003	\$20,382	\$28,251	0.72	\$16,687	1.22	\$23,596	0.86
\$17,136	\$18,833	\$33,598	0.56	\$18,675	1.01	\$29,512	0.64
\$19,439	\$19,165	\$23,719	0.81	\$13,920	1.38	\$21,125	0.91
\$13,247	\$16,549	\$24,525	0.67	\$13,214	1.25	\$21,879	0.76
\$43,241	\$46,036	\$49,942	0.92	\$43,894	1.05	\$50,854	0.91
\$48,906	\$48,807	\$43,613	1.12	\$45,311	1.08	\$48,781	1.00
\$17,263	\$18,652	\$24,297	0.77	\$16,011	1.16	\$21,953	0.85
\$10,561	\$12,127	\$24,396	0.50	\$13,197	0.92	\$22,097	0.55
\$14,435	\$19,698	\$32,366	0.61	\$14,980	1.31	\$29,600	0.67
\$19,146	\$20,278	\$28,792	0.70	\$21,375	0.95	\$24,895	0.81
\$8,704	\$9,466	\$13,875	0.68	\$8,800	1.08	\$12,167	0.78
\$3,662	\$3,820	\$5,441	0.70	\$3,780	1.01	\$4,719	0.81
\$20,479	\$26,462	\$52,049	0.51	\$23,568	1.12	\$44,340	0.60
	* \$19,842 \$18,003 \$17,136 \$19,439 \$13,247 \$43,241 \$48,906 \$17,263 \$10,561 \$14,435 \$19,146 \$8,704 \$3,662	Adjusted Average Charge Charge Charge Charge  * \$19,842 \$21,405 \$18,003 \$20,382 \$17,136 \$18,833 \$19,439 \$19,165 \$13,247 \$16,549 \$43,241 \$46,036 \$48,906 \$48,807 \$17,263 \$18,652 \$10,561 \$12,127 \$14,435 \$19,698 \$19,146 \$20,278 \$8,704 \$9,466 \$3,662 \$3,820	Risk Adjusted Average Charge S19,842 \$21,405 \$28,774 \$18,003 \$20,382 \$28,251 \$17,136 \$18,833 \$33,598 \$19,439 \$19,165 \$23,719 \$13,247 \$16,549 \$24,525 \$43,241 \$46,036 \$49,942 \$48,906 \$48,807 \$43,613 \$17,263 \$18,652 \$24,297 \$10,561 \$12,127 \$24,396 \$17,263 \$18,652 \$24,297 \$10,561 \$12,127 \$24,396 \$14,435 \$19,698 \$32,366 \$19,146 \$20,278 \$28,792 \$8,704 \$9,466 \$13,875 \$3,662 \$3,820 \$5,441	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Charge Ratio  * * * \$42,179 * \$19,842 \$21,405 \$28,774 0.74 \$18,003 \$20,382 \$28,251 0.72 \$17,136 \$18,833 \$33,598 0.56 \$19,439 \$19,165 \$23,719 0.81 \$13,247 \$16,549 \$24,525 0.67 \$43,241 \$46,036 \$49,942 0.92 \$48,906 \$48,807 \$43,613 1.12 \$17,263 \$18,652 \$24,297 0.77 \$10,561 \$12,127 \$24,396 0.50 \$14,435 \$19,698 \$32,366 0.61 \$19,146 \$20,278 \$28,792 0.70 \$8,704 \$9,466 \$13,875 0.68 \$3,662 \$3,820 \$5,441 0.70	Risk Adjusted Average Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio	Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio  * * * \$42,179 * \$22,058 * \$19,842 \$21,405 \$28,774 0.74 \$18,736 1.14 \$18,003 \$20,382 \$28,251 0.72 \$16,687 1.22 \$17,136 \$18,833 \$33,598 0.56 \$18,675 1.01 \$19,439 \$19,165 \$23,719 0.81 \$13,920 1.38 \$13,247 \$16,549 \$24,525 0.67 \$13,214 1.25 \$43,241 \$46,036 \$49,942 0.92 \$43,894 1.05 \$48,906 \$48,807 \$43,613 1.12 \$45,311 1.08 \$17,263 \$18,652 \$24,297 0.77 \$16,011 1.16 \$10,561 \$12,127 \$24,396 0.50 \$13,197 0.92 \$14,435 \$19,698 \$32,366 0.61 \$14,980 1.31 \$19,146 \$20,278 \$28,792 0.70 \$21,375 0.95 \$8,704 \$9,466 \$13,875 0.68 \$8,800 1.08 \$3,662 \$3,820 \$5,441 0.70 \$3,780 1.01	Risk Adjusted Average Charge         Average Charge         Average Charge         Average Charge Charge         Ratio         Inpatient Volume Group Average Charge Ratio         All GMS Howard Ratio Charge Ratio         All GMS Howard Ratio Charge Charge Charge Charge Charge Ratio         All GMS Howard Ratio Charge Ratio         All GMS Howard Ratio Charge Charge Charge Charge Charge Charge Charge Charge Ratio         All GMS Howard Ratio Charge Ratio Charge Charge Charge Charge Charge Charge Ratio         All GMS Howard Ratio Charge Ratio Charge Charge Charge Charge Charge Charge Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Ch

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

145 Aspirus Wausau Hospital 333 Pine Ridge Boulevard Wausau, WI 54401

715-847-2121

Hospital Type: GMS

County: Marathon

Analysis Area: 6-North Central

Inpatient Volume Group: 6

<b>Overall Hospital Utilization</b>				Patient Discharge Statu	<u>IS</u>
Total Discharges:	15,787	Average Length of Stay (days):	4.4	<u>Discharge Status</u>	% Discharges
Total Patient Days:	69,081	Average Charge per Discharge:	\$39,944	Home or Self-Care Other GMS Hospital	67.2% 0.9%
<b>Obstetrical Utilization</b>				Critical Access Hospital (CAH)	0.1%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths: Total Newborns:  Psychiatric Utilization	823 441 30 1,294 1,336	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	63.6% 34.1% 2.3%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired	12.8% 1.3% 1.4% 1.7% 0.1% 10.1% 0.5% 3.1%
Discharges:	33	Percent of All Discharges:	0.2%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	141	Percent of All Patient Days:	0.2%	Other	0.8%
AODA Utilization				Expected Pay Source Distril Primary Payer	bution <u>% Discharges</u>
Discharges:	119	Percent of All Discharges:	0.8%	Medicare	48.2%
Patient Days:	671	Percent of All Patient Days:	1.0%	Medicaid/BadgerCare Other Government Commercial or Private Insurance Self-Pay Other or Unknown Insurance	11.8% 3.0% 36.9% 0.0% 0.0%

	Age Distribution	Ĺ		Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	8.5%	7.6%	Male	49.4%	52.2%	Amer.Ind/Alaskan Native	e 1.2%	1.3%
Under 15	1.6%	1.3%	Female	50.6%	47.8%	Asian	3.2%	2.5%
15 - 19	0.8%	0.6%				Black/African Amer.	0.9%	0.9%
20 - 24	2.2%	1.6%				Native Hawaii/Pac.Isl.	0.1%	0.1%
25 - 34	8.4%	6.1%				White	93.5%	94.0%
35 - 44	5.7%	4.9%				Multiracial	0.3%	0.2%
45 - 54	7.3%	7.3%				Declined	0.1%	0.1%
55 - 64	15.8%	16.5%				Unavailable	0.7%	0.8%
65 - 74	20.4%	22.4%						
75 - 84	19.5%	20.6%						
85 & Over	9.8%	11.1%						

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	246	4.8	4.4	1.09	4.6	1.04	4.2	1.14
133 Respiratory failure	180	5.0	4.1	1.22	4.9	1.02	4.5	1.11
139 Pneumonia	253	4.4	3.8	1.16	4.2	1.05	4.0	1.10
174 Percutaneous coronary intervention w AMI	318	3.0	3.1	0.97	3.0	1.00	3.0	1.00
175 Percutaneous coronary intervention w/o AMI	306	2.5	3.0	0.83	3.1	0.81	3.1	0.81
194 Heart Failure	587	4.4	4.2	1.05	5.0	0.88	4.6	0.96
201 Heart Abnormal Rhythm and Conduction Disorders	321	2.8	2.6	1.08	2.9	0.97	2.8	1.00
301 Hip Replacement	353	2.5	2.2	1.14	2.5	1.00	2.3	1.09
302 Knee Replacement	231	1.8	1.7	1.06	2.1	0.86	2.0	0.90
469 Acute kidney injury	216	4.9	4.1	1.20	5.2	0.94	4.6	1.07
540 Cesarean Delivery	441	4.3	3.8	1.13	4.0	1.08	3.6	1.19
560 Vaginal Delivery	823	2.2	2.1	1.05	2.3	0.96	2.2	1.00
640 Normal Newborn, Birthweight 2500g+	1,172	2.4	2.1	1.14	2.2	1.09	2.1	1.14
720 Blood Infection/Septicemia	637	6.7	5.5	1.22	6.1	1.10	5.5	1.22
751 Psychoses	5	9.4	4.3	2.19	J 5.1	1.84	5.1	1.84

		This Fac	ility	Risk Adjusted Group Averages					
APR-DRG #	# and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
045 Stroke	e and Precerebral Occlusion with Infarct	\$38,705	\$39,789	\$33,526	1.19	\$43,048	0.92	\$39,987	1.00
133 Respir	ratory failure	\$34,677	\$31,373	\$28,209	1.11	\$39,891	0.79	\$36,517	0.86
139 Pneun	monia	\$23,829	\$23,253	\$21,418	1.09	\$29,201	0.80	\$26,154	0.89
174 Percut	taneous coronary intervention w AMI	\$62,637	\$61,876	\$64,564	0.96	\$73,358	0.84	\$73,175	0.85
175 Percut	taneous coronary intervention w/o AMI	\$79,047	\$83,079	\$90,269	0.92	\$109,236	0.76	\$106,404	0.78
194 Heart	Failure	\$28,860	\$29,592	\$23,893	1.24	\$32,710	0.90	\$29,512	1.00
201 Heart	Abnormal Rhythm and Conduction Disorders	\$20,770	\$20,683	\$17,528	1.18	\$22,164	0.93	\$21,125	0.98
301 Hip Re	eplacement	\$52,423	\$51,440	\$44,625	1.15	\$53,491	0.96	\$50,854	1.01
302 Knee I	Replacement	\$48,133	\$48,996	\$42,608	1.15	\$52,844	0.93	\$48,781	1.00
469 Acute	kidney injury	\$29,116	\$28,132	\$24,143	1.17	\$33,062	0.85	\$29,600	0.95
540 Cesare	ean Delivery	\$24,847	\$25,050	\$24,073	1.04	\$25,062	1.00	\$24,895	1.01
560 Vagina	al Delivery	\$9,757	\$9,987	\$10,079	0.99	\$12,661	0.79	\$12,167	0.82
640 Norma	al Newborn, Birthweight 2500g+	\$6,479	\$6,558	\$5,603	1.17	\$5,036	1.30	\$4,719	1.39
720 Blood	Infection/Septicemia	\$48,107	\$43,777	\$34,953	1.25	\$50,089	0.87	\$44,340	0.99
751 Psych	oses	\$33,159	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

#### 150 Aurora West Allis Medical Center

8901 W Lincoln Avenue

West Allis, WI 53227

414-328-6000

85 & Over

8.2%

10.4%

Analysis Area: 2B-Milwaukee County

Hospital Type: GMS

County: Milwaukee

Inpatient Volume Group: 6

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	13,274	Average Length of Stay (days):	3.9	Discharge Status	% Discharges
Total Patient Days:	51,799	Average Charge per Discharge:	\$33,025	Home or Self-Care	75.9%
Obstetrical Utilization	,		, ,	Other GMS Hospital Critical Access Hospital (CAH)	2.0% 0.0%
Normal Childbirths:	2,400	Percent of All Childbirths:	70.2%	Skilled Nursing Facility	8.5%
Cesarean Childbirths:	873	Percent of All Childbirths:	25.5%	Intermediate Care Facility	0.9%
Other Childbirths:	146	Percent of All Childbirths:	4.3%	Inpatient Rehabilitation Facility	0.6%
Total Childbirths:	3,419			Hospice Other Institution	1.7% 0.1%
Total Newborns:	3,473			Home Health Service	8.5%
<b>5</b>	•			Left Against Medical Advice	0.8%
Psychiatric Utilization				Expired	0.5%
Discharges:	13	Percent of All Discharges:	0.1%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	237	Percent of All Patient Days:	0.5%	Other	0.5%
				Expected Pay Source Distrib	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	133	Percent of All Discharges:	1.0%	Medicare	28.5%
Patient Days:	502	Percent of All Patient Days:	1.0%	Medicaid/BadgerCare	17.3%
				Other Government	1.4%
				Commercial or Private Insurance	46.8%
				Self-Pay	5.9%
				Other or Unknown Insurance	0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	26.2%	23.6%	Male	32.4%	36.3%	Amer.Ind/Alaskan Native	0.6%	0.6%
Under 15	0.4%	1.7%	Female	67.6%	63.7%	Asian	3.9%	3.2%
15 - 19	0.8%	0.6%				Black/African Amer.	10.3%	10.6%
20 - 24	4.2%	3.0%				Native Hawaii/Pac.Isl.	0.4%	0.2%
25 - 34	20.8%	14.7%				White	83.5%	84.3%
35 - 44	8.8%	6.7%				Multiracial	1.0%	0.7%
45 - 54	5.3%	5.5%				Declined	0.3%	0.2%
55 - 64	8.7%	11.4%				Unavailable	0 %	0.1%
65 - 74	9.0%	11.7%						
75 - 84	7.5%	10.7%						

	This Facil	ity			Group A	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
045 Stroke and Precerebral Occlusion with Infarct	103	3.2	5.6	0.57	4.6	0.70	4.2	0.76
133 Respiratory failure	129	5.1	5.3	0.96	4.9	1.04	4.5	1.13
139 Pneumonia	178	4.1	4.4	0.93	4.2	0.98	4.0	1.03
174 Percutaneous coronary intervention w AMI	0	N/A	3.7	N/A	3.0	N/A	3.0	N/A
175 Percutaneous coronary intervention w/o AMI	0	N/A	3.6	N/A	3.1	N/A	3.1	N/A
194 Heart Failure	343	4.2	5.6	0.75	5.0	0.84	4.6	0.91
201 Heart Abnormal Rhythm and Conduction Disorders	72	2.7	3.3	0.82	2.9	0.93	2.8	0.96
301 Hip Replacement	223	3.2	3.0	1.07	2.5	1.28	2.3	1.39
302 Knee Replacement	221	2.1	2.2	0.95	2.1	1.00	2.0	1.05
469 Acute kidney injury	126	5.4	6.3	0.86	5.2	1.04	4.6	1.17
540 Cesarean Delivery	873	3.6	4.0	0.90	4.0	0.90	3.6	1.00
560 Vaginal Delivery	2,400	2.4	2.3	1.04	2.3	1.04	2.2	1.09
640 Normal Newborn, Birthweight 2500g+	3,147	2.2	2.2	1.00	2.2	1.00	2.1	1.05
720 Blood Infection/Septicemia	788	5.3	6.8	0.78	6.1	0.87	5.5	0.96
751 Psychoses	*	*	4.9	*	5.1	*	J 5.1	*

	• .	•	•	-	•		
This Fac	ility			Risk Adjusted	Group Averages	;	
Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	<u>'olume Group</u> Ratio	All GMS Ho Average Charge	ospitals Ratio
\$44,992	\$47,155	\$54,536	0.86	\$43,048	1.10	\$39,987	1.18
\$46,599	\$42,717	\$45,568	0.94	\$39,891	1.07	\$36,517	1.17
\$34,771	\$31,847	\$34,436	0.92	\$29,201	1.09	\$26,154	1.22
N/A	N/A	\$95,865	*	\$73,358	*	\$73,175	*
N/A	N/A	\$136,926	*	\$109,236	*	\$106,404	*
\$35,044	\$33,735	\$39,457	0.85	\$32,710	1.03	\$29,512	1.14
orders \$28,095	\$25,520	\$26,831	0.95	\$22,164	1.15	\$21,125	1.21
\$84,090	\$81,338	\$67,785	1.20	\$53,491	1.52	\$50,854	1.60
\$78,310	\$75,801	\$60,857	1.25	\$52,844	1.43	\$48,781	1.55
\$42,724	\$43,639	\$43,644	1.00	\$33,062	1.32	\$29,600	1.47
\$26,878	\$26,471	\$28,127	0.94	\$25,062	1.06	\$24,895	1.06
\$17,664	\$17,413	\$14,391	1.21	\$12,661	1.38	\$12,167	1.43
\$5,457	\$5,708	\$5,018	1.14	\$5,036	1.13	\$4,719	1.21
\$47,877	\$50,082	\$60,389	0.83	\$50,089	1.00	\$44,340	1.13
*	#	#	*	#	*	#	*
	Average Charge Standard Charge Standard Charge Standard Charge Standard Standard Charge Standa	Adjusted Average Charge Charge S44,992 \$47,155 \$46,599 \$42,717 \$34,771 \$31,847 N/A N/A N/A N/A N/A S35,044 \$33,735 \$28,095 \$25,520 \$84,090 \$81,338 \$78,310 \$75,801 \$42,724 \$43,639 \$26,878 \$26,471 \$17,664 \$17,413 \$5,457 \$5,708 \$47,877 \$50,082	Risk Adjusted Average Charge S44,992 \$47,155 \$54,536 \$46,599 \$42,717 \$45,568 \$1,436 \$136,926 \$1,436,926 \$1	Risk Adjusted Average Average Charge Charge Charge Charge Charge Charge Charge Charge Charge Ratio  \$44,992 \$47,155 \$54,536 0.86 \$46,599 \$42,717 \$45,568 0.94 \$34,771 \$31,847 \$34,436 0.92 N/A N/A N/A \$95,865 * N/A N/A N/A \$136,926 * \$35,044 \$33,735 \$39,457 0.85 \$35,044 \$33,735 \$39,457 0.85 \$28,095 \$25,520 \$26,831 0.95 \$84,090 \$81,338 \$67,785 1.20 \$78,310 \$75,801 \$60,857 1.25 \$42,724 \$43,639 \$43,644 1.00 \$26,878 \$26,471 \$28,127 0.94 \$17,664 \$17,413 \$14,391 1.21 \$5,457 \$5,708 \$5,018 1.14 \$47,877 \$50,082 \$60,389 0.83	Risk Adjusted Average Average Charge Charge Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Cha	Risk Adjusted Average Charge Charge Charge Ratio  \$44,992 \$47,155 \$54,536 0.86 \$43,048 1.10 \$46,599 \$42,717 \$45,568 0.94 \$39,891 1.07 \$34,771 \$31,847 \$34,436 0.92 \$29,201 1.09 \$N/A N/A \$95,865 * \$73,358 * N/A N/A \$136,926 * \$109,236 * \$35,044 \$33,735 \$39,457 0.85 \$32,710 1.03 \$28,095 \$25,520 \$26,831 0.95 \$22,164 1.15 \$84,090 \$81,338 \$67,785 1.20 \$53,491 1.52 \$78,310 \$75,801 \$60,857 1.25 \$52,844 1.43 \$42,724 \$43,639 \$43,644 1.00 \$33,062 1.32 \$26,878 \$26,878 \$26,471 \$28,127 0.94 \$25,062 1.06 \$17,664 \$17,413 \$14,391 1.21 \$12,661 1.38 \$5,457 \$5,708 \$5,018 1.14 \$5,036 1.13 \$447,877 \$50,082 \$60,389 0.83 \$50,089 1.00	Risk Adjusted Average Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Charge Charge Charge Ratio Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Ratio Charge Ratio Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Charge Charge Ratio Charge Charge Ratio Charge Charge Charge Charge Charge Ratio Charge Ch

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3MTM APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 151 Froedtert West Bend Hospital 3200 Pleasant Valley Road

West Bend, WI 53095

Hospital Type: GMS

County: Washington

Analysis Area: 2A-Southeastern

,				,	
262-334-5533				Inpatient Volume Group: 5	
Overall Hospital Utilization				Patient Discharge Statu	<u>ıs</u>
Total Discharges:	4,860	Average Length of Stay (days):	3.4	Discharge Status	% Discharges
Total Patient Days:	16,565	Average Charge per Discharge:	\$32,353	Home or Self-Care Other GMS Hospital	66.6% 3.1%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths: Total Childbirths:	419 197 20 636	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	65.9% 31.0% 3.1%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution	12.9% 2.1% 1.1% 3.2% 0.3%
Total Newborns:  Psychiatric Utilization	647			Home Health Service Left Against Medical Advice Expired	7.7% 1.0% 0.9%
Discharges:	11	Percent of All Discharges:	0.2%	Discharge/Tran to Court/Law Enforcmnt	0.4%
Patient Days:	64	Percent of All Patient Days:	0.4%	Other	0.7%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	95	Percent of All Discharges:	2.0%	Medicare	51.2%
Patient Days:	362	Percent of All Patient Days:	2.2%	Medicaid/BadgerCare	12.0%
				Other Government	1.0%
				Commercial or Private Insurance	33.5%
				Self-Pay	2.1%
				Other or Unknown Insurance	0.1%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	13.3%	8.6%	Male	42.2%	44.7%	Amer.Ind/Alaskan Native	e 0.2%	0.3%
Under 15	0.1%	0.0%	Female	57.8%	55.3%	Asian	0.5%	0.3%
15 - 19	0.5%	0.4%				Black/African Amer.	1.4%	1.2%
20 - 24	2.5%	1.7%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	11.0%	7.5%				White	95.7%	96.4%
35 - 44	5.6%	4.3%				Multiracial	0.0%	0.0%
45 - 54	7.2%	6.5%				Declined	0.0%	0.0%
55 - 64	13.5%	15.5%				Unavailable	2.2%	1.7%
65 - 74	18.4%	21.6%						
75 - 84	16.4%	20.2%						
85 & Over	11.4%	13.8%						

	This Facil	ity			Group /	Averages		
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	124	4.6	4.8	0.96	4.5	1.02	4.5	1.02
139 Pneumonia	73	4.1	4.5	0.91	4.2	0.98	4.0	1.03
140 Chronic Obstructive Pulmonary Disease	99	3.7	3.8	0.97	3.6	1.03	3.6	1.03
174 Percutaneous coronary intervention w AMI	0	N/A	2.9	N/A	3.0	N/A	3.0	N/A
194 Heart Failure	270	4.7	4.6	1.02	4.6	1.02	4.6	1.02
201 Heart Abnormal Rhythm and Conduction Disorders	113	3.1	2.9	1.07	2.9	1.07	2.8	1.11
301 Hip Replacement	122	2.5	2.1	1.19	2.2	1.14	2.3	1.09
302 Knee Replacement	202	2.2	2.0	1.10	2.0	1.10	2.0	1.10
469 Acute kidney injury	54	3.4	4.5	0.76	4.7	0.72	4.6	0.74
540 Cesarean Delivery	197	2.9	3.3	0.88	3.3	0.88	3.6	0.81
560 Vaginal Delivery	419	2.0	2.2	0.91	2.1	0.95	2.2	0.91
640 Normal Newborn, Birthweight 2500g+	612	2.1	2.1	1.00	2.1	1.00	2.1	1.00
720 Blood Infection/Septicemia	448	4.9	5.3	0.92	5.5	0.89	5.5	0.89
751 Psychoses	*	*	5.6	*	4.7	*	5.1	*
775 Alcohol Abuse/Dependence	67	4.4	3.8	1.16	3.8	1.16	3.7	1.19

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	\$39,170	\$42,089	\$37,003	1.14	\$35,487	1.19	\$36,517	1.15
139 Pneumonia	\$36,894	\$33,947	\$30,437	1.12	\$27,529	1.23	\$26,154	1.30
140 Chronic Obstructive Pulmonary Disease	\$28,247	\$26,339	\$25,288	1.04	\$23,968	1.10	\$23,596	1.12
174 Percutaneous coronary intervention w AMI	N/A	N/A	\$73,777	*	\$72,860	*	\$73,175	*
194 Heart Failure	\$36,818	\$34,968	\$30,999	1.13	\$28,982	1.21	\$29,512	1.18
201 Heart Abnormal Rhythm and Conduction Disorders	\$25,665	\$24,735	\$23,194	1.07	\$21,611	1.14	\$21,125	1.17
301 Hip Replacement	\$60,608	\$60,230	\$61,253	0.98	\$52,206	1.15	\$50,854	1.18
302 Knee Replacement	\$57,041	\$58,935	\$60,209	0.98	\$50,848	1.16	\$48,781	1.21
469 Acute kidney injury	\$26,573	\$27,805	\$30,548	0.91	\$29,340	0.95	\$29,600	0.94
540 Cesarean Delivery	\$21,696	\$22,094	\$26,513	0.83	\$25,613	0.86	\$24,895	0.89
560 Vaginal Delivery	\$16,096	\$16,581	\$14,321	1.16	\$12,456	1.33	\$12,167	1.36
640 Normal Newborn, Birthweight 2500g+	\$4,873	\$5,024	\$4,851	1.04	\$4,463	1.13	\$4,719	1.06
720 Blood Infection/Septicemia	\$46,687	\$45,844	\$44,089	1.04	\$41,728	1.10	\$44,340	1.03
751 Psychoses	*	#	#	*	#	*	#	*
775 Alcohol Abuse/Dependence	\$31,997	#	#	#	#	#	#	#

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

308 Ascension St. Clare's Hospital 3400 Ministry Parkway

Weston, WI 54476

715-393-3000

Hospital Type: GMS

Inpatient Volume Group: 5

Self-Pay

Other or Unknown Insurance

County: Marathon

Analysis Area: 6-North Central

1.9%

0.0%

				paraerra recentre errespr	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	4,771	Average Length of Stay (days):	3.6	<u>Discharge Status</u>	% Discharges
Total Patient Days:	17,060	Average Charge per Discharge:	\$28,987	Home or Self-Care Other GMS Hospital	69.6% 2.3%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths: Cesarean Childbirths: Other Childbirths:	295 126 13	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:	68.0% 29.0% 3.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility	12.4% 0.1% 0.1%
Total Childbirths:	434			Hospice Other Institution	1.7% 0.0%
Total Newborns:	441			Home Health Service	10.4%
Psychiatric Utilization				Left Against Medical Advice Expired	0.7% 2.2%
Discharges:	16	Percent of All Discharges:	0.3%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	47	Percent of All Patient Days:	0.3%	Other	0.5%
				<b>Expected Pay Source Distri</b>	<u>bution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	35	Percent of All Discharges:	0.7%	Medicare	54.7%
Patient Days:	150	Percent of All Patient Days:	0.9%	Medicaid/BadgerCare Other Government	14.6% 0.1%
				Commercial or Private Insurance	28.7%

	<b>Age Distribution</b>			Sex Distribution	<u>n</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	9.2%	5.3%	Male	47.1%	49.9%	Amer.Ind/Alaskan Native	e 1.5%	1.6%
Under 15	0.6%	0.3%	Female	52.9%	50.1%	Asian	3.3%	2.2%
15 - 19	0.5%	0.3%				Black/African Amer.	0.7%	0.7%
20 - 24	2.8%	2.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	8.2%	5.6%				White	91.2%	92.1%
35 - 44	6.4%	5.6%				Multiracial	0.0%	0.0%
45 - 54	8.4%	9.3%				Declined	0.0%	0.0%
55 - 64	13.7%	14.7%				Unavailable	3.3%	3.3%
65 - 74	20.6%	22.2%						
75 - 84	19.3%	23.2%						
85 & Over	10.3%	11.5%						

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	74	3.6	4.1	0.88	4.5	0.80	4.5	0.80	
139 Pneumonia	76	3.3	3.8	0.87	4.2	0.79	4.0	0.83	
140 Chronic Obstructive Pulmonary Disease	34	2.6	3.4	0.76	3.6	0.72	3.6	0.72	
174 Percutaneous coronary intervention w AMI	223	3.1	3.1	1.00	3.0	1.03	3.0	1.03	
194 Heart Failure	177	3.9	4.2	0.93	4.6	0.85	4.6	0.85	
201 Heart Abnormal Rhythm and Conduction Disorders	131	2.4	2.6	0.92	2.9	0.83	2.8	0.86	
301 Hip Replacement	142	1.9	2.2	0.86	2.2	0.86	2.3	0.83	
302 Knee Replacement	79	1.7	1.7	1.00	2.0	0.85	2.0	0.85	
469 Acute kidney injury	82	3.9	4.1	0.95	4.7	0.83	4.6	0.85	
540 Cesarean Delivery	126	2.9	3.8	0.76	3.3	0.88	3.6	0.81	
560 Vaginal Delivery	295	2.0	2.1	0.95	2.1	0.95	2.2	0.91	
640 Normal Newborn, Birthweight 2500g+	413	2.0	2.1	0.95	2.1	0.95	2.1	0.95	
720 Blood Infection/Septicemia	260	5.9	5.5	1.07	5.5	1.07	5.5	1.07	
751 Psychoses	*	*	4.3	*	4.7	*	5.1	*	
775 Alcohol Abuse/Dependence	28	4.6	4.0	1.15	3.8	1.21	3.7	1.24	

· · · · · · · · · · · · · · · · · · ·									
	This Fac	-			Risk Adjusted	Group Averages			
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
133 Respiratory failure	\$19,912	\$20,781	\$28,209	0.74	\$35,487	0.59	\$36,517	0.57	
139 Pneumonia	\$15,918	\$14,981	\$21,418	0.70	\$27,529	0.54	\$26,154	0.57	
140 Chronic Obstructive Pulmonary Disease	\$15,662	\$15,355	\$20,180	0.76	\$23,968	0.64	\$23,596	0.65	
174 Percutaneous coronary intervention w AMI	\$63,531	\$62,740	\$64,564	0.97	\$72,860	0.86	\$73,175	0.86	
194 Heart Failure	\$19,467	\$17,582	\$23,893	0.74	\$28,982	0.61	\$29,512	0.60	
201 Heart Abnormal Rhythm and Conduction Disorders	\$12,748	\$12,531	\$17,528	0.71	\$21,611	0.58	\$21,125	0.59	
301 Hip Replacement	\$33,426	\$31,453	\$44,625	0.70	\$52,206	0.60	\$50,854	0.62	
302 Knee Replacement	\$36,311	\$35,089	\$42,608	0.82	\$50,848	0.69	\$48,781	0.72	
469 Acute kidney injury	\$20,182	\$19,008	\$24,143	0.79	\$29,340	0.65	\$29,600	0.64	
540 Cesarean Delivery	\$16,429	\$17,711	\$24,073	0.74	\$25,613	0.69	\$24,895	0.71	
560 Vaginal Delivery	\$8,808	\$9,276	\$10,079	0.92	\$12,456	0.74	\$12,167	0.76	
640 Normal Newborn, Birthweight 2500g+	\$3,809	\$3,805	\$5,603	0.68	\$4,463	0.85	\$4,719	0.81	
720 Blood Infection/Septicemia	\$36,187	\$32,174	\$34,953	0.92	\$41,728	0.77	\$44,340	0.73	
751 Psychoses	*	#	#	*	#	*	#	*	
775 Alcohol Abuse/Dependence	\$23,205	#	#	#	#	#	#	#	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

# 152 Gundersen Tri-County Hospital and Clinics

18601 Lincoln Street

Whitehall, WI 54773

22.5%

23.1%

715-538-4361

85 & Over

Hospital Type: GMS

Inpatient Volume Group: 1

County: Trempealeau

Analysis Area: 5B-Southwestern

			inputiont volume Group:	
			Patient Discharge Statu	<u>is</u>
222	Average Length of Stay (days):	3.0	Discharge Status	% Discharges
675	Average Charge per Discharge:	\$12,316	Home or Self-Care Other GMS Hospital	57.2% 9.5%
			Critical Access Hospital (CAH)	0.0%
0 0 0 0	Percent of All Childbirths: Percent of All Childbirths: Percent of All Childbirths:  Percent of All Discharges:	0.0% 0.0% 0.0%	Skilled Nursing Facility Intermediate Care Facility Inpatient Rehabilitation Facility Hospice Other Institution Home Health Service Left Against Medical Advice Expired Discharge/Tran to Court/Law Enforcmnt	10.8% 0.0% 0.0% 0.9% 0.0% 0.5% 3.2% 0.0%
0	Percent of All Patient Days:	0.0%		18.0%
			Expected Pay Source Distrib	<u>bution</u>
			Primary Payer	% Discharges
1	Percent of All Discharges:	0.5%	Medicare	82.9%
9	Percent of All Patient Days:	1.3%	Medicaid/BadgerCare	4.5%
			Other Government	1.4%
			Commercial or Private Insurance	10.8%
			Self-Pay	0.5%
			Other or Unknown Insurance	0.0%
	675 0 0 0 0 0	675 Average Charge per Discharge:  0 Percent of All Childbirths: 0 Percent of All Childbirths: 0 Percent of All Childbirths: 0  0  0  Percent of All Discharges: 0 Percent of All Patient Days:	675 Average Charge per Discharge: \$12,316  0 Percent of All Childbirths: 0.0% 0 Percent of All Childbirths: 0.0% 0 Percent of All Childbirths: 0.0% 0  0  0 Percent of All Discharges: 0.0% 0 Percent of All Discharges: 0.0% 1 Percent of All Discharges: 0.5%	Patient Discharge Status   Home or Self-Care   Other GMS Hospital   Critical Access Hospital   Criti

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	51.4%	48.6%	Amer.Ind/Alaskan Native	0.9%	0.9%
Under 15	0.0%	0.0%	Female	48.6%	51.4%	Asian	0.0%	0.0%
15 - 19	0.5%	0.1%				Black/African Amer.	0.9%	0.7%
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	0.9%	0.9%				White	97.3%	97.5%
35 - 44	2.7%	1.9%				Multiracial	0.0%	0.0%
45 - 54	5.0%	5.2%				Declined	0.9%	0.9%
55 - 64	11.7%	11.7%				Unavailable	0 %	0 %
65 - 74	28.4%	24.7%						
75 - 84	28.4%	32.3%						

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	6	1.2	4.0	0.30	2.6	0.46	4.5	0.27	
137 Respiratory Infections and Inflammations	9	3.4	4.9	0.69	3.7	0.92	5.6	0.61	
139 Pneumonia	27	3.4	3.8	0.89	3.3	1.03	4.0	0.85	
140 Chronic Obstructive Pulmonary Disease	11	2.6	3.2	0.81	3.2	0.81	3.6	0.72	
194 Heart Failure	23	3.5	4.1	0.85	3.3	1.06	4.6	0.76	
201 Heart Abnormal Rhythm and Conduction Disorders	10	2.3	2.8	0.82	2.5	0.92	2.8	0.82	
247 Intestinal Obstruction without Surgery	*	*	3.2	*	2.3	*	3.5	*	
282 Disorders of Pancreas Except Malignancy	8	1.5	3.5	0.43	2.7	0.56	4.0	0.38	
302 Knee Replacement	*	*	1.6	*	2.4	*	2.0	*	
383 Cellulitis & other skin infections	6	2.5	3.8	0.66	3.8	0.66	4.0	0.63	
463 Kidney/Urinary Tract Infection	*	*	3.4	*	3.3	*	3.6	*	
469 Acute kidney injury	8	3.0	4.2	0.71	3.2	0.94	4.6	0.65	
720 Blood Infection/Septicemia	6	2.5	5.0	0.50	3.6	0.69	5.5	0.45	
861 Signs & Symptoms	5	3.0	5.3	0.57	6.3	0.48	5.0	0.60	
862 Other Factors Influencing Health Status	0	N/A	8.6	N/A	9.1	N/A	8.7	N/A	

		This Fac	ility			Risk Adjusted	Group Averages		
APR-DR	G # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	-	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Res	spiratory failure	\$8,519	\$10,867	\$25,589	0.42	\$16,434	0.66	\$36,517	0.30
137 Res	spiratory Infections and Inflammations	\$14,641	\$20,387	\$30,031	0.68	\$18,058	1.13	\$39,518	0.52
139 Pn	eumonia	\$13,563	\$15,079	\$20,184	0.75	\$15,907	0.95	\$26,154	0.58
140 Chi	ronic Obstructive Pulmonary Disease	\$10,970	\$11,835	\$18,595	0.64	\$15,423	0.77	\$23,596	0.50
194 Hea	art Failure	\$12,927	\$14,748	\$21,845	0.68	\$15,151	0.97	\$29,512	0.50
201 Hea	art Abnormal Rhythm and Conduction Disorders	\$11,347	\$9,554	\$15,454	0.62	\$12,073	0.79	\$21,125	0.45
247 Inte	estinal Obstruction without Surgery	*	*	\$16,667	*	\$10,681	*	\$21,879	*
282 Dis	orders of Pancreas Except Malignancy	\$9,535	\$12,741	\$19,660	0.65	\$15,867	0.80	\$28,992	0.44
302 Kn	ee Replacement	*	*	\$38,036	*	\$47,739	*	\$48,781	*
383 Cel	Ilulitis & other skin infections	\$8,424	\$9,743	\$16,743	0.58	\$14,904	0.65	\$21,953	0.44
463 Kid	Iney/Urinary Tract Infection	*	*	\$15,072	*	\$12,446	*	\$22,097	*
469 Acı	ute kidney injury	\$10,827	\$15,849	\$20,575	0.77	\$13,028	1.22	\$29,600	0.54
720 Blo	ood Infection/Septicemia	\$9,623	\$11,933	\$30,102	0.40	\$18,335	0.65	\$44,340	0.27
861 Sig	ıns & Symptoms	\$13,975	\$13,091	\$18,229	0.72	\$15,939	0.82	\$28,329	0.46
	ner Factors Influencing Health Status	N/A	N/A	\$25,250	*	\$24,133	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

153 ThedaCare Medical Center - Wild Rose

Box 243, 601 Grove Avenue

Wild Rose, WI 54984

920-622-3257

85 & Over

17.8%

18.3%

Hospital Type: GMS

Inpatient Volume Group: 1

County: Waushara

Analysis Area: 3-Lake Winnebago

Overall Hospital Utilization				Patient Discharge Statu	<u>s</u>
Total Discharges:	118	Average Length of Stay (days):	2.9	<u>Discharge Status</u>	% Discharges
Total Patient Days:	339	Average Charge per Discharge:	\$14,456	Home or Self-Care	62.7%
Obstetrical Utilization				Other GMS Hospital Critical Access Hospital (CAH)	15.3% 2.5%
Normal Childbirths:	0	Percent of All Childbirths:	0.0%	Skilled Nursing Facility	9.3%
Cesarean Childbirths:	0	Percent of All Childbirths:	0.0%	Intermediate Care Facility	0.8%
Other Childbirths:	0	Percent of All Childbirths:	0.0%	Inpatient Rehabilitation Facility	0.0%
Total Childbirths:	0	i diddin diy iii dimadii tild.	0.070	Hospice	1.7%
Total Childbirths.	U			Other Institution	0.0%
Total Newborns:	0			Home Health Service	4.2%
Develoistais Hillimetica				Left Against Medical Advice	0.0%
Psychiatric Utilization				Expired	2.5%
Discharges:	0	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.0%
Patient Days:	0	Percent of All Patient Days:	0.0%	Other	0.8%
				<b>Expected Pay Source Distrib</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	2	Percent of All Discharges:	1.7%	Medicare	77.1%
Patient Days:	3	Percent of All Patient Days:	0.9%	Medicaid/BadgerCare	6.8%
				Other Government	0.0%
				Commercial or Private Insurance	11.9%
				Self-Pay	3.4%
				Other or Unknown Insurance	0.8%

	<b>Age Distribution</b>			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	0.0%	0.0%	Male	50.8%	49.9%	Amer.Ind/Alaskan Native	0.0%	0.0%
Under 15	0.0%	0.0%	Female	49.2%	50.1%	Asian	0.0%	0.0%
15 - 19	0.0%	0.0%				Black/African Amer.	0.0%	0.0%
20 - 24	0.0%	0.0%				Native Hawaii/Pac.Isl.	0.0%	0.0%
25 - 34	2.5%	1.8%				White	99.2%	98.8%
35 - 44	3.4%	5.9%				Multiracial	0.0%	0.0%
45 - 54	10.2%	8.8%				Declined	0.0%	0.0%
55 - 64	19.5%	18.9%				Unavailable	0.8%	1.2%
65 - 74	16.1%	12.7%						
75 - 84	30.5%	33.6%						

	This Facil	ity	Group Averages						
			Analys	sis Area	Inpatient V	olume Group	All GMS H	ospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	*	*	4.0	*	2.6	*	4.5	*	
137 Respiratory Infections and Inflammations	6	3.2	5.0	0.64	3.7	0.86	5.6	0.57	
139 Pneumonia	22	2.8	3.5	0.80	3.3	0.85	4.0	0.70	
140 Chronic Obstructive Pulmonary Disease	20	3.3	2.9	1.14	3.2	1.03	3.6	0.92	
194 Heart Failure	5	3.6	3.8	0.95	3.3	1.09	4.6	0.78	
201 Heart Abnormal Rhythm and Conduction Disorders	7	2.1	2.7	0.78	2.5	0.84	2.8	0.75	
247 Intestinal Obstruction without Surgery	5	1.2	3.2	0.38	2.3	0.52	3.5	0.34	
282 Disorders of Pancreas Except Malignancy	5	3.8	3.4	1.12	2.7	1.41	4.0	0.95	
302 Knee Replacement	0	N/A	1.8	N/A	2.4	N/A	2.0	N/A	
383 Cellulitis & other skin infections	*	*	3.6	*	3.8	*	4.0	*	
463 Kidney/Urinary Tract Infection	6	3.3	2.9	1.14	3.3	1.00	3.6	0.92	
469 Acute kidney injury	5	4.0	4.0	1.00	3.2	1.25	4.6	0.87	
720 Blood Infection/Septicemia	6	2.7	4.9	0.55	3.6	0.75	5.5	0.49	
861 Signs & Symptoms	*	*	4.0	*	6.3	*	5.0	*	
862 Other Factors Influencing Health Status	0	N/A	10.2	N/A	9.1	N/A	8.7	N/A	

	This Fac	ility			Risk Adjusted	Group Averages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient Volume Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio
133 Respiratory failure	*	*	\$24,316	*	\$16,434	*	\$36,517	*
137 Respiratory Infections and Inflammations	\$18,433	\$24,856	\$26,580	0.94	\$18,058	1.38	\$39,518	0.63
139 Pneumonia	\$14,725	\$18,951	\$17,991	1.05	\$15,907	1.19	\$26,154	0.72
140 Chronic Obstructive Pulmonary Disease	\$15,066	\$19,315	\$16,011	1.21	\$15,423	1.25	\$23,596	0.82
194 Heart Failure	\$16,300	\$21,881	\$17,633	1.24	\$15,151	1.44	\$29,512	0.74
201 Heart Abnormal Rhythm and Conduction Disorders	\$12,134	\$15,665	\$15,459	1.01	\$12,073	1.30	\$21,125	0.74
247 Intestinal Obstruction without Surgery	\$11,072	\$12,779	\$13,760	0.93	\$10,681	1.20	\$21,879	0.58
282 Disorders of Pancreas Except Malignancy	\$16,206	\$24,017	\$18,221	1.32	\$15,867	1.51	\$28,992	0.83
302 Knee Replacement	N/A	N/A	\$35,838	*	\$47,739	*	\$48,781	*
383 Cellulitis & other skin infections	*	*	\$15,311	*	\$14,904	*	\$21,953	*
463 Kidney/Urinary Tract Infection	\$15,575	\$17,357	\$14,397	1.21	\$12,446	1.39	\$22,097	0.79
469 Acute kidney injury	\$17,901	\$20,405	\$18,337	1.11	\$13,028	1.57	\$29,600	0.69
720 Blood Infection/Septicemia	\$12,959	\$19,069	\$27,861	0.68	\$18,335	1.04	\$44,340	0.43
861 Signs & Symptoms	*	*	\$19,192	*	\$15,939	*	\$28,329	*
862 Other Factors Influencing Health Status	N/A	N/A	\$23,248	*	\$24,133	*	\$31,132	*

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

<sup>#</sup> Risk-Adjusted Charges not calculated for APR-DRGs related to Mental Diseases/Disorders and/or Alcohol/Drug Use/Abuse/Dependence.

155 Aspirus Riverview Hospital and Clinics, Inc

410 Dewey Street, PO Box 8080

Wisconsin Rapids, WI 54495

715-423-6060

85 & Over

10.4%

15.1%

Hospital Type: GMS County: Wood

Inpatient Volume Group: 5

Analysis Area: 6-North Central

Patient	Discharge	Status

				mpation rotation order	
Overall Hospital Utilization				Patient Discharge Statu	<u>is</u>
Total Discharges:	3,391	Average Length of Stay (days):	3.0	Discharge Status	% Discharges
Total Patient Days:	10,039	Average Charge per Discharge:	\$20,459	Home or Self-Care	70.7%
.ou u.o zujo.	. 0,000	r wordge endige per zieendige.	Ψ=0, .00	Other GMS Hospital	4.1%
Obstetrical Utilization				Critical Access Hospital (CAH)	0.0%
Normal Childbirths:	332	Percent of All Childbirths:	73.0%	Skilled Nursing Facility	10.6%
Cesarean Childbirths:	110	Percent of All Childbirths:	24.2%	Intermediate Care Facility	2.3%
Other Childbirths:	13	Percent of All Childbirths:	2.9%	Inpatient Rehabilitation Facility	0.1%
Total Childbirths:		r creent of All Officialities.	2.970	Hospice	3.1%
rotal Childbirths:	455			Other Institution	0.1%
Total Newborns:	466			Home Health Service	6.1%
				Left Against Medical Advice	0.6%
Psychiatric Utilization				Expired	1.9%
Discharges:	1	Percent of All Discharges:	0.0%	Discharge/Tran to Court/Law Enforcmnt	0.1%
Patient Days:	11	Percent of All Patient Days:	0.1%	Other	0.4%
				<b>Expected Pay Source Distril</b>	<u>oution</u>
AODA Utilization				Primary Payer	% Discharges
Discharges:	41	Percent of All Discharges:	1.2%	Medicare	47.2%
Patient Days:	196	Percent of All Patient Days:	2.0%	Medicaid/BadgerCare	17.9%
				Other Government	2.2%
				Commercial or Private Insurance	30.1%
				Self-Pay	1.4%
				Other or Unknown Insurance	1.2%

	Age Distribution			Sex Distribution	<u>1</u>	Rac	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	<u>Race</u>	% Discharges	% Patient Days
Newborn	13.7%	8.2%	Male	40.8%	43.4%	Amer.Ind/Alaskan Native	0.7%	0.8%
Under 15	1.1%	0.8%	Female	59.2%	56.6%	Asian	1.3%	0.9%
15 - 19	1.4%	1.1%				Black/African Amer.	0.4%	0.4%
20 - 24	4.1%	2.9%				Native Hawaii/Pac.Isl.	0.1%	0.1%
25 - 34	10.2%	7.2%				White	97.0%	97.4%
35 - 44	5.2%	4.7%				Multiracial	0.0%	0.0%
45 - 54	5.2%	5.7%				Declined	0.0%	0.0%
55 - 64	13.2%	14.6%				Unavailable	0.4%	0.4%
65 - 74	18.5%	19.3%						
75 - 84	16.9%	20.6%						

	This Facil	ity			Group /	Averages		
			Analysis Area		Inpatient V	olume Group	All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio
133 Respiratory failure	34	3.3	4.1	0.80	4.5	0.73	4.5	0.73
139 Pneumonia	85	4.1	3.8	1.08	4.2	0.98	4.0	1.03
140 Chronic Obstructive Pulmonary Disease	55	2.9	3.4	0.85	3.6	0.81	3.6	0.81
174 Percutaneous coronary intervention w AMI	0	N/A	3.1	N/A	3.0	N/A	3.0	N/A
194 Heart Failure	172	3.8	4.2	0.90	4.6	0.83	4.6	0.83
201 Heart Abnormal Rhythm and Conduction Disorders	73	3.1	2.6	1.19	2.9	1.07	2.8	1.11
301 Hip Replacement	218	1.6	2.2	0.73	2.2	0.73	2.3	0.70
302 Knee Replacement	197	1.1	1.7	0.65	2.0	0.55	2.0	0.55
469 Acute kidney injury	63	4.1	4.1	1.00	4.7	0.87	4.6	0.89
540 Cesarean Delivery	110	2.4	3.8	0.63	3.3	0.73	3.6	0.67
560 Vaginal Delivery	332	1.9	2.1	0.90	2.1	0.90	2.2	0.86
640 Normal Newborn, Birthweight 2500g+	433	1.8	2.1	0.86	2.1	0.86	2.1	0.86
720 Blood Infection/Septicemia	252	4.4	5.5	0.80	5.5	0.80	5.5	0.80
751 Psychoses	0	N/A	4.3	N/A	4.7	N/A	5.1	N/A
775 Alcohol Abuse/Dependence	35	5.3	4.0	1.33	3.8	1.39	3.7	1.43

· · · · · · · · · · · · · · · · · · ·									
	This Fac	-	Risk Adjusted Group Ave			Group Averages	rages		
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	<u>s Area</u> Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio	
133 Respiratory failure	\$22,689	\$25,557	\$28,209	0.91	\$35,487	0.72	\$36,517	0.70	
139 Pneumonia	\$19,872	\$17,519	\$21,418	0.82	\$27,529	0.64	\$26,154	0.67	
140 Chronic Obstructive Pulmonary Disease	\$17,494	\$15,420	\$20,180	0.76	\$23,968	0.64	\$23,596	0.65	
174 Percutaneous coronary intervention w AMI	N/A	N/A	\$64,564	*	\$72,860	*	\$73,175	*	
194 Heart Failure	\$19,360	\$17,429	\$23,893	0.73	\$28,982	0.60	\$29,512	0.59	
201 Heart Abnormal Rhythm and Conduction Disorders	\$20,375	\$19,263	\$17,528	1.10	\$21,611	0.89	\$21,125	0.91	
301 Hip Replacement	\$34,146	\$34,917	\$44,625	0.78	\$52,206	0.67	\$50,854	0.69	
302 Knee Replacement	\$29,209	\$30,770	\$42,608	0.72	\$50,848	0.61	\$48,781	0.63	
469 Acute kidney injury	\$18,535	\$18,555	\$24,143	0.77	\$29,340	0.63	\$29,600	0.63	
540 Cesarean Delivery	\$13,295	\$14,325	\$24,073	0.60	\$25,613	0.56	\$24,895	0.58	
560 Vaginal Delivery	\$8,081	\$8,508	\$10,079	0.84	\$12,456	0.68	\$12,167	0.70	
640 Normal Newborn, Birthweight 2500g+	\$4,423	\$5,073	\$5,603	0.91	\$4,463	1.14	\$4,719	1.08	
720 Blood Infection/Septicemia	\$25,615	\$24,827	\$34,953	0.71	\$41,728	0.59	\$44,340	0.56	
751 Psychoses	N/A	#	#	*	#	*	#	*	
775 Alcohol Abuse/Dependence	\$27,107	#	#	#	#	#	#	#	

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported

**156 Howard Young Medical Center** 240 Maple Street, PO Box 470

Woodruff, WI 54568

715-356-8000

Hospital Type: GMS County: Oneida

Analysis Area: 6-North Central

Inpatient Volume Group: 4

% Discharges 66.9%
66.9%
4.9%
0.2%
9.8%
0.3%
0.0%
3.1%
0.0%
11.2%
0.8%
1.5%
0.1%
1.2%
<u>on</u>
% Discharges
43.4%
14.6%
3.6%
37.2%
1.3%
0.0%

	Age Distribution			Sex Distribution	<u>1</u>	Race	e Distribution	
Age Group	% Discharges	% Patient Days	<u>Sex</u>	% Discharges	% Patient Days	Race	% Discharges	% Patient Days
Newborn	9.5%	5.8%	Male	46.6%	47.6%	Amer.Ind/Alaskan Native	e 13.7%	14.0%
Under 15	1.4%	0.7%	Female	53.4%	52.4%	Asian	0.4%	0.2%
15 - 19	0.7%	0.5%				Black/African Amer.	0.0%	0.0%
20 - 24	2.7%	1.8%				Native Hawaii/Pac.Isl.	0.1%	0.0%
25 - 34	8.2%	5.9%				White	84.0%	84.0%
35 - 44	4.6%	3.7%				Multiracial	0.0%	0.0%
45 - 54	5.4%	5.5%				Declined	0.1%	0.1%
55 - 64	12.7%	13.3%				Unavailable	1.8%	1.6%
65 - 74	21.0%	23.0%						
75 - 84	22.0%	24.7%						
85 & Over	11.9%	15.1%						

	This Facil	ity			Group A	Averages			
			Analys	Analysis Area		Inpatient Volume Group		All GMS Hospitals	
APR-DRG # and Description	Discharges	ALOS	ALOS	Ratio	ALOS	Ratio	ALOS	Ratio	
133 Respiratory failure	50	3.6	4.1	0.88	3.6	1.00	4.5	0.80	
139 Pneumonia	102	3.7	3.8	0.97	3.5	1.06	4.0	0.93	
140 Chronic Obstructive Pulmonary Disease	62	2.8	3.4	0.82	3.2	0.88	3.6	0.78	
194 Heart Failure	173	3.5	4.2	0.83	3.6	0.97	4.6	0.76	
201 Heart Abnormal Rhythm and Conduction Disorders	67	2.0	2.6	0.77	2.5	0.80	2.8	0.71	
301 Hip Replacement	93	2.4	2.2	1.09	1.9	1.26	2.3	1.04	
302 Knee Replacement	84	2.3	1.7	1.35	1.7	1.35	2.0	1.15	
383 Cellulitis & other skin infections	50	3.9	3.6	1.08	3.5	1.11	4.0	0.98	
463 Kidney/Urinary Tract Infection	38	4.1	3.4	1.21	3.1	1.32	3.6	1.14	
469 Acute kidney injury	57	3.3	4.1	0.80	3.3	1.00	4.6	0.72	
540 Cesarean Delivery	87	2.8	3.8	0.74	2.9	0.97	3.6	0.78	
560 Vaginal Delivery	146	1.9	2.1	0.90	2.0	0.95	2.2	0.86	
640 Normal Newborn, Birthweight 2500g+	239	2.0	2.1	0.95	1.9	1.05	2.1	0.95	
720 Blood Infection/Septicemia	208	4.5	5.5	0.82	4.2	1.07	5.5	0.82	
775 Alcohol Abuse/Dependence	38	4.7	4.0	1.18	3.7	1.27	3.7	1.27	

This Facility				Dick Adjusted Croup Averages						
	This Fac	-	Risk Adjusted Group Aver				jes			
APR-DRG # and Description	Average Charge	Risk Adjusted Average Charge	<u>Analysi</u> Average Charge	s Area Ratio	Inpatient V Average Charge	olume Group Ratio	All GMS Ho Average Charge	ospitals Ratio		
133 Respiratory failure	\$22,238	\$25,440	\$28,209	0.90	\$31,273	0.81	\$36,517	0.70		
139 Pneumonia	\$19,184	\$18,014	\$21,418	0.84	\$23,233	0.78	\$26,154	0.69		
140 Chronic Obstructive Pulmonary Disease	\$14,943	\$15,425	\$20,180	0.76	\$21,959	0.70	\$23,596	0.65		
194 Heart Failure	\$17,279	\$16,988	\$23,893	0.71	\$25,091	0.68	\$29,512	0.58		
201 Heart Abnormal Rhythm and Conduction Disorders	\$13,041	\$13,741	\$17,528	0.78	\$19,443	0.71	\$21,125	0.65		
301 Hip Replacement	\$42,747	\$42,889	\$44,625	0.96	\$45,617	0.94	\$50,854	0.84		
302 Knee Replacement	\$43,897	\$44,536	\$42,608	1.05	\$43,239	1.03	\$48,781	0.91		
383 Cellulitis & other skin infections	\$15,771	\$16,396	\$18,077	0.91	\$19,644	0.83	\$21,953	0.75		
463 Kidney/Urinary Tract Infection	\$19,049	\$20,123	\$18,556	1.08	\$19,748	1.02	\$22,097	0.91		
469 Acute kidney injury	\$18,541	\$20,612	\$24,143	0.85	\$23,728	0.87	\$29,600	0.70		
540 Cesarean Delivery	\$31,804	\$32,775	\$24,073	1.36	\$24,480	1.34	\$24,895	1.32		
560 Vaginal Delivery	\$10,656	\$10,973	\$10,079	1.09	\$11,116	0.99	\$12,167	0.90		
640 Normal Newborn, Birthweight 2500g+	\$3,656	\$3,889	\$5,603	0.69	\$4,155	0.94	\$4,719	0.82		
720 Blood Infection/Septicemia	\$27,602	\$28,265	\$34,953	0.81	\$33,720	0.84	\$44,340	0.64		
775 Alcohol Abuse/Dependence	\$21,063	#	#	#	#	#	#	#		

N/A - Zero Discharges reported

<sup>^</sup> Risk-Adjusted Charges calculated using 3M™ APR DRG Software licensed through 3M Health Infomation Systems.

<sup>\* 1</sup> through 4 Discharges reported